

# THE CITY RECORD.

Vol. XXXVI.

NEW YORK, THURSDAY, NOVEMBER 12, 1908.

NUMBER 10801.

## THE CITY RECORD.

OFFICIAL JOURNAL OF THE CITY OF NEW YORK.

Published Under Authority of Section 1526, Greater New York Charter, by the  
BOARD OF CITY RECORD.

GEORGE B. McCLELLAN, Mayor.

FRANCIS K. PENDLETON, CORPORATION COUNSEL. HERMAN A. METZ, COMPTROLLER.

PATRICK J. TRACY, SUPERVISOR.

Published daily, at 9 a. m., except legal holidays.

Subscription, \$9.30 per year, exclusive of supplements. Three cents a copy.

SUPPLEMENTS: Civil List (containing names, salaries, etc., of the city employees), 25 cents; Official Canvas of Votes, 10 cents; Registry and Enrollment Lists, 5 cents each assembly district; Law Department and Finance Department supplements, 10 cents each; Annual Assessed Valuation of Real Estate, 25 cents each section.

Published at Room 2, City Hall (north side), New York City.

Entered as Second-class Matter, Post Office at New York City.

## TABLE OF CONTENTS.

Aldermen, Board of—	Health, Department of—
Minutes of Special Meeting of November 10, 1908.....	Proposals.....
Minutes of Stated Meeting of November 10, 1908.....	Manhattan, Borough of—
Assessors, Board of—	Auction Sale.....
Public Notices.....	Municipal Civil Service Commission—
Bellevue and Allied Hospitals—	Public Notices.....
Proposals.....	Notice to Contractors.....
Board Meetings.....	Official Borough Papers.....
Bridges, Department of—	Official Directory.....
Proposals.....	Official Papers.....
Bronx, Borough of—	Parks, Department of—
Public Notices.....	Auction Sale.....
Brooklyn, Borough of—	Proposals.....
Proposals.....	Police Department—
Change of Grade Damage Commission—	Auction Sale.....
Public Notices.....	Owners Wanted for Lost Property.
Changes in Departments, etc.....	Public Charities, Department of—
Corrections, Department of—	Proposals.....
Proposals.....	Public Hearing—
Docks and Ferries, Department of—	By Committee on Finance, Board of Aldermen.....
Proposals.....	Public Service Commission for the First District—
Education, Department of—	Calendar of Hearings.....
Proposals.....	Queens, Borough of—
Estimate and Apportionment, Board of—	Proposals.....
Public Notices.....	Public Notices.....
Finance, Department of—	Richmond, Borough of—
Auction Sale of Machinery, etc.....	Proposals.....
Corporation Sales of Real Estate, etc.....	Street Cleaning, Department of—
Corporation Sales of Buildings, etc.....	Ashes, etc., for Filling in Lands, etc.
Notices to Property Owners.....	Proposals.....
Notices to Taxpayers.....	Supreme Court, First Department—
Proposals for \$12,000,000 of Four Per Cent Stock and Bonds of The City of New York.....	Acquiring Title to Lands, etc.
Securities Required on Various Classes of Contracts.....	Supreme Court, Second Department—
Fire Department—	Acquiring Title to Lands, etc.
Proposals.....	Water Supply, Board of—
	Proposals.....
	Water Supply, Gas and Electricity, Department of—
	Auction Sale.....
	Proposals.....

## PUBLIC SERVICE COMMISSION FOR THE FIRST DISTRICT.

No. 154 NASSAU STREET, NEW YORK CITY.

## CALENDAR OF HEARINGS.

The following hearings will be held during the remainder of the week beginning Monday, November 9, 1908:

Thursday, November 12—2 p. m.—Room 305.—Order No. 786.—CENTRAL PARK, NORTH & EAST RIVER RAILROAD CO. AND FREDERICK W. WHITRIDGE, RECEIVER OF THE THIRD AVENUE R. R. CO.—"Why Companies should not make joint rate for through transportation of passengers."—Whole Commission.

2 p. m.—Room 305.—Order No. 706.—CENTRAL PARK, NORTH & EAST RIVER R. R. CO. AND FREDERICK W. WHITRIDGE, RECEIVER OF THE 42ND STREET, MANHATTANVILLE & ST. NICHOLAS AVE. RY. CO. AND OF THE THIRD AVE R. R. CO.—"Why Companies should not make joint rate for through transportation of passengers."—Whole Commission.

2.30 p. m.—Room 305.—Order No. 806.—PELHAM PARK R. R. CO.—"Application under Section 100 of the Railroad Law for permission to change motive power."—Commissioner Eustis.

2.30 p. m.—Room 305.—Order No. 807.—CITY ISLAND R. R. CO.—"Application under Section 100 of the Railroad Law for permission to change motive power."—Commissioner Eustis.

3 p. m.—Room 310.—Order No. 615.—BROOKLYN UNION ELECTRIFIED RAILROAD CO.—"Stations on Bath Beach and West End divisions."—Commissioner Bassett.

Friday, November 13—11 a. m.—Room 310.—CITY OF NEW YORK AND BRADLEY CONTRACTING CO.—Arbitration of determination of Henry B. Seaman, Chief Engineer.

2.30 p. m.—Room 310.—Order No. 790.—NEW YORK, NEW HAVEN AND HARTFORD R. R. CO.—South Bronx Property Owners' Association, complainant.—"Unsanitary methods in loading cars in Harlem River yards."—Commissioner Eustis.

2.30 p. m.—Commissioner Maltbie's Room.—Order No. 822.—ALL ELECTRIC LIGHT COMPANIES.—"To prevent discrimination and unreasonable preference in rates or contracts."—Commissioner Maltbie.

2.30 p. m.—Commissioner Maltbie's Room.—Order No. 823.—ALL ELECTRIC LIGHT COMPANIES.—"Whether companies should be compelled to obey certain regulations regarding publication of rates, etc."—Commissioner Maltbie.

2.30 p. m.—Room 305.—Order No. 820.—STATEN ISLAND MIDLAND RY. CO.—H. W. Pope, Complainant.—"Congested conditions of service on Concord-New Dorp and Concord-Fort Richmond Lines."—Commissioner McCarroll.

3 p. m.—Room 305.—Order No. 531.—STATEN ISLAND RAPID TRANSIT CO. AND STATEN ISLAND RAILWAY CO.—"Passenger rates, etc."—Commissioner McCarroll.

3.30 p. m.—Room 310.—Order No. 780.—KINGSBRIDGE RAILROAD CO. AND FREDERICK W. WHITRIDGE, Receiver of Third Avenue Railroad Co.—"Operation of Third Avenue cars over tracks of Kingsbridge Railroad Company."—Commissioner Eustis.

Regular meetings of the Commission are held every Tuesday and Friday at 11.30 a. m.

## BOROUGH OF THE BRONX.

### BUREAU OF BUILDINGS.

I herewith submit a report of operations of the Bureau of Buildings, Borough of The Bronx, for the week ending October 31, 1908.

Plans filed for new buildings (estimated cost, \$438,770)	41
Plans filed for alterations (estimated cost, \$15,700)	16
Unsafe cases filed.....	6
Violation cases filed.....	39
Unsafe notices issued.....	12
Violation notices issued.....	46
Violation cases forwarded for prosecution.....	10
Complaints lodged with the Bureau.....	6
Number of pieces of iron and steel inspected.....	599

P. J. REVILLE, Superintendent.

John H. Hanan, Chief Clerk.

## THE BOARD OF ALDERMEN OF THE CITY OF NEW YORK.

### SPECIAL MEETING.

Tuesday, November 10, 1908, 1 o'clock p. m.

The Board met in the Aldermanic Chamber, City Hall.

In the absence of the President the Vice-Chairman took the chair.

#### Present:

#### Aldermen

Timothy P. Sullivan, Vice-Chairman:	Reginald S. Doull.
Thomas F. Baldwin.	Frank L. Dowling.
Thomas F. Barton.	Robert F. Downing.
Francis P. Bent.	William Drescher.
Herman W. Beyer.	O. Grant Esterbrook.
B. W. R. Brown.	James H. Finnigan.
James W. Brown.	Patrick F. Flynn.
L. Barton Case.	John Sylvester Gaynor.
Charles P. Cole.	Bernhard Goldschmidt.
Daniel R. Coleman.	John D. Günther.
George A. Colgan.	Edward V. Handy.
John J. Collins.	William J. Heffernan.
William P. Corbett.	John J. Hickey.
Matthew J. Crowley.	James J. Hines.
Percy L. Davis.	Frederick C. Hochdorffer.
Charles Delaney.	Joseph D. Kavanagh.
John Diemer.	William P. Kenneally.
	Francis P. Kenney.

The Clerk proceeded to read the following call for the special meeting made by his Honor the Mayor:

No. 1287.

City of New York—Office of the Mayor, November 4, 1908.

Hon. P. J. SCULLY, City Clerk:

Sir—I enclose herewith a call for a special meeting of the Board of Aldermen to be held in the Chamber of the Board of Aldermen on Tuesday, November 10, 1908, at 1 o'clock in the afternoon, for the purpose of considering the Budget for 1909.

You will please cause this call to be published in the CITY RECORD to-morrow and each succeeding day to and including the date on which the meeting is to be held.

You will, in addition, please give to each member of the Board of Aldermen notice of such meeting, as provided in section 37 of the Charter.

Respectfully,

GEO. B. McCLELLAN, Mayor.

Pursuant to the authority vested in me by law, I, George B. McClellan, Mayor of The City of New York, do hereby call a special meeting of the Board of Aldermen in the City Hall, in the Borough of Manhattan, in The City of New York, on Tuesday, November 10, 1908, at 1 o'clock in the afternoon, for the purpose of considering the Budget for 1909, made by the Board of Estimate and Apportionment of said City, and signed by the members thereof on October 30, 1908, submitted to the Board of Aldermen as by law required.

In witness whereof I have hereunto set my hand and affixed my seal of office this 4th day of November, one thousand nine hundred and eight.

GEO. B. McCLELLAN, Mayor.

[SEAL.]

Which was ordered on file.

The Vice-Chairman then laid before the Board the following communication from the Board of Estimate and Apportionment, transmitting the Budget for the year 1909.

No. 1288.

Board of Estimate and Apportionment—City of New York,  
Office of the Secretary, No. 277 Broadway,

November 4, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—In accordance with the direction contained in the following resolution adopted at a meeting of the Board of Estimate and Apportionment held October 30, 1908, I have the honor to transmit herewith the Budget of The City of New York for the year 1909, and accompanying schedules of Salaries and Salaries and Wages:

"Resolved, That the Secretary be and he hereby is directed to forthwith transmit to the Board of Aldermen the Budget of The City of New York for the year 1909 for consideration and action thereon, in accordance with the provisions of section 226 of the Greater New York Charter."

Very truly yours,

JOSEPH HAAG, Secretary.

## BUDGET FOR 1909.

Resolved, That, pursuant to the provisions of section 226 of the Greater New York Charter, the Board of Estimate and Apportionment makes this the Budget of The City of New York for the year one thousand nine hundred and nine, being: First, the amounts estimated to be required to pay the expenses of conducting the public business of said City for the said year, viz.: One hundred and forty-eight million four hundred and forty-six thousand nine hundred and four dollars and eighty-three cents (\$148,446,904.83); second, the amounts estimated to be required to pay the charges and expenses of the counties of New York, Kings, Queens and Richmond for the said year, viz.: Five million one hundred and seventy-five thousand seven hundred and ninety-six dollars and twenty-three cents (\$5,175,796.23); and, third, the amount estimated to be the deficiency on January 1, 1908, in the product of taxes theretofore levied, deemed to be uncollectible and not otherwise provided for, as required by chapter 209 of the Laws of 1906, viz.: Two million nine hundred and twenty-two thousand four hundred and forty-seven dollars and eight cents (\$2,922,447.08).

Be it further Resolved, That, in pursuance of the provisions of section 226 of the Greater New York Charter, the Board of Estimate and Apportionment makes this the Budget of The City of New York for the year one thousand nine hundred and nine, with the exception that the items contained in the schedules under the titles "Salaries" or "Salaries and Wages," in the different Boards, Offices, Bureaus and Departments of the City and County governments, shall be administered under the following terms and conditions:

First—That no change shall be made by any Board or head of an Office, Bureau or Department in the City or County governments in the schedules of "Salaries" and "Salaries and Wages" herein contained, except when authorized thereto by twelve (12) votes of the Board of Estimate and Apportionment, and when such change will not increase the monthly rate of the total amount herein appropriated for the said schedules of "Salaries" and "Salaries and Wages" for monthly payrolls in the different Boards, Offices, Bureaus and Departments of the City or County governments.

Second—(a) That the heads of the several Boards, Offices, Bureaus and Departments of the City and County governments shall prepare their several payrolls for audit by the Department of Finance in accordance with the items of the aforesaid schedules, entitled "Salaries" and "Salaries and Wages," and (b) set forth as said payrolls the monthly, weekly or daily pro rata expenditures of said appropriations and the total amounts expended up to the time of and including said monthly and weekly payrolls, and (c) the unexpended balance of each appropriation against which said payrolls are chargeable.

THE CITY OF NEW YORK.  
THE MAYORALTY.  
THE EXECUTIVE.

1. Salaries	\$1,100.00
2. Contingencies	2,700.00
3. Police Detail—Salaries	3,000.00
<hr/>	
BUREAU OF LICENSES:	

Salaries—	
4. Chief of Bureau	\$3,500.00
5. Manhattan and The Bronx	10,650.00
6. Brooklyn	4,850.00
7. Queens	1,200.00
8. Richmond	1,200.00
9. Contingencies	5,300.00
10. Police Detail—Salaries	46,400.00
<hr/>	

## THE BOARD OF ALDERMEN AND CITY CLERK.

GENERAL ADMINISTRATION.	
9. Salaries	\$200,150.00
10. Contingencies	2,500.00
<hr/>	
OFFICE, PRESIDENT BOARD OF ALDERMEN.	

11. Salaries	5,500.00
<hr/>	

## OFFICE OF CITY CLERK.

Salaries—	
12. Manhattan	\$10,150.00
13. Marriage License Bureau	14,550.00
14. The Bronx	1,500.00
15. Brooklyn	12,450.00
16. Queens	2,000.00
17. Richmond	1,500.00
18. Police Detail	1,400.00
19. Contingencies	1,000.00
<hr/>	

\$5,600.00

261,806.00

## DEPARTMENT OF FINANCE.

THE COMPTROLLER.	
General Administration.	
<hr/>	
Salaries—	

20. Comptroller	\$15,000.00
Main Division—	
21. Salaries	\$93,250.00
22. General Supplies	24,000.00
23. Telephones, Rental of	6,000.00
24. Contingencies	30,900.00
<hr/>	

153,250.00

Stock and Bond Division—	
25. Salaries	61,400.00
<hr/>	
Bookkeeping and Awards Division—	
26. Salaries	\$182,300.00
27. General Supplies	8,000.00
<hr/>	

190,300.00

Auditing Bureau—	
28. Salaries	\$26,920.00
<hr/>	
Charitable Institutions Division—	
29. Salaries	29,300.00
<hr/>	
Law and Adjustment Division—	
30. Salaries	54,800.00
<hr/>	
Engineering Division—	
31. Salaries	58,150.00
<hr/>	
Bureau of Municipal Investigation and Statistics—	
32. Salaries	\$72,450.00
33. General Supplies	10,000.00
<hr/>	

82,450.00

## BUREAU OF REAL ESTATE—

34. Salaries	\$2,100.00
Bureau for the Collection of City Revenue and Markets—	
35. Salaries	33,650.00
Bureau for the Examination of Claims—	
36. Salaries	36,340.00
Bureau for the Collection of Taxes—	
37. Salaries	\$189,930.00
38. For the Employment of Temporary Clerk, all Boroughs	33,000.00
<hr/>	
	222,930.00
Bureau for the Collection of Assessments and Arrears—	
39. Salaries	\$184,150.00
40. General Supplies	3,000.00
<hr/>	
	182,150.00
Bureau of the City Paymaster—	
41. Salaries	89,630.00
Police Detail—	
42. Police Detail—Salaries	27,300.00
<hr/>	
	\$1,489,090.00
The Chamberlain—	
43. Salaries	\$52,550.00
44. Contingencies	2,000.00
45. Police Detail—Salaries	1,400.00
<hr/>	
	53,950.00
<hr/>	
	\$1,545,040.00

## INTEREST ON THE CITY DEBT.

46. The City of New York	\$17,140,865.08
47. The City of New York, as constituted prior to January 1, 1898	2,784,031.05
48. The City of Brooklyn, Kings County and Towns, as constituted prior to January 1, 1898	2,201,328.30
49. Corporations in Queens County	434,964.56
50. Corporations in Richmond County	99,881.23
51. Interest on Bonds and Stock to be issued after September 30, 1908, and in 1909	2,010,000.00
52. Interest on Revenue Bonds of 1904	3,000.00
53. Interest on Revenue Bonds of 1905	3,000.00
54. Interest on Revenue Bonds of 1906	390,000.00
55. Interest on Revenue Bonds of 1907	880,000.00
56. Interest on Revenue Bonds of 1908	2,000,000.00
57. Interest on Revenue Bonds of 1909	1,800,000.00
<hr/>	
	22,671,070.13

## REDEMPTION OF THE CITY DEBT.

58. The City of New York	\$9,162,000.00
59. The City of New York, as constituted prior to January 1, 1898	31,633.20
60. The City of Brooklyn, Kings County and Towns, as constituted prior to January 1, 1898	1,218,000.00
61. Corporations in Queens County	332,243.24
62. Corporations in Richmond County	75,546.71
<hr/>	

16,919,425.13

## INSTALLMENTS PAYABLE IN 1909.

63. The City of New York (General)	\$4,539,908.54
64. The City of New York (Water Bonds)	1,113,739.43
65. The City of New York, as constituted prior to January 1, 1898 (Water Bonds)	379,224.50
66. The City of Brooklyn, as constituted prior to January 1, 1898	397,893.71
66½ Long Island City	2,116.67
<hr/>	
	6,432,583.05
<hr/>	
	47,221,078.33

## LAW DEPARTMENT.

## ADMINISTRATION.

67. Salaries and Wages	\$610,240.00
68. General Supplies	11,700.00
69. Telephone	7,500.00
70. Contingencies	110,500.00
71. Contingent Counsel Fees, including Deficiencies	25,000.00
72. Fees of Expert Witnesses and Disbursements in Proceedings to Review Assessments for Taxation, including Deficiencies	30,000.00
73. Expenses in Connection with Actions and Proceedings brought by or against Gas and Electric Light Companies and other Public Utility Corporations, including Deficiencies	30,000.00
74. For Compensation and Expenses of Counsel and Expenses in Proceedings for Review of Assessments of Special Franchises made by the State Board of Tax Commissioners, pursuant to Chapter 155, Laws of 1906	25,000.00
75.	

Bridges over the Harlem River and in the Borough of Manhattan—		
83. Repairs and Replacements by Contracts or Open Orders	22,500.00	
84. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	8,230.00	
85. Fuel	8,450.00	
86. Emergency Snow Removal	6,000.00	
87. Contingencies	350.00	
	309,113.34	
Bridges over Newtown Creek—		
88. Salaries and Wages	\$76,323.90	
89. General Supplies	1,000.00	
90. Materials for Repairs and Replacements by Departmental Labor	6,325.00	
91. Repairs and Replacements by Contracts or Open Orders	1,500.00	
92. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	200.00	
93. Hired Teams, Horses and Carts	875.00	
94. Emergency Snow Removal	1,200.00	
95. Contingencies	400.00	
	87,823.90	
Bridges in the Borough of Brooklyn—		
96. Salaries and Wages	\$67,184.60	
97. General Supplies	900.00	
98. Materials for Repairs and Replacements by Departmental Labor	12,520.00	
99. Repairs and Replacements by Contracts or Open Orders	1,925.00	
100. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	1,725.00	
101. Contingencies	775.00	
	85,094.60	
Bridges in the Borough of The Bronx—		
102. Salaries and Wages	\$35,097.50	
103. General Supplies	650.00	
104. Materials for Repairs and Replacements by Departmental Labor	2,925.00	
105. Repairs and Replacements by Contracts or Open Orders	2,150.00	
106. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	1,225.00	
107. Contingencies	850.00	
	42,897.50	
Bridges in the Borough of Queens—		
108. Salaries and Wages	\$26,860.20	
109. General Supplies	450.00	
110. Materials for Repairs and Replacements by Departmental Labor	2,325.00	
111. Repairs and Replacements by Contracts or Open Orders	300.00	
112. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	1,600.00	
113. Emergency Snow Removal	500.00	
114. Contingencies	325.00	
	31,360.20	
Bridges in the Borough of Richmond—		
115. Salaries and Wages	\$1,200.00	
116. Materials for Repairs and Replacements by Departmental Labor	1,100.00	
117. Repairs and Replacements by Contracts or Open Orders	995.00	
118. Contingencies	192.50	
	3,467.50	
Queensboro Bridge—		
119. Salaries and Wages	\$116,851.60	
120. General Supplies	8,500.00	
121. Materials for Repairs and Replacements by Departmental Labor	25,000.00	
122. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	8,500.00	
123. Hired Teams, Horses and Carts	9,000.00	
124. Emergency Snow Removal	6,000.00	
125. Contingencies	1,000.00	
	170,851.60	
TENEMENT HOUSE DEPARTMENT		
GENERAL ADMINISTRATION		
126. Salaries and Wages	\$24,520.00	
127. Salaries and Wages	\$158,500.00	
Division of Inspection Review—		
128. Salaries and Wages	49,800.00	
Division of New Buildings, Complaints and Inspection of Pending Violations—		
129. Salaries and Wages	232,100.00	
Division of Current Inspection (Section 1344a, Chapter 406, Laws of 1901)—		
130. Salaries and Wages	86,300.00	
Division of Structural Work—		
131. Salaries and Wages	56,830.00	
132. General Supplies	3,900.00	
133. Contingencies	19,200.00	
134. Telephones	850.00	
	728,200.00	
	\$12,720.00	

DEPARTMENT OF WATER SUPPLY, GAS AND ELECTRICITY		
GENERAL ADMINISTRATION		
135. Salaries and Wages	\$92,397.50	
136. General Supplies	9,375.00	
137. Repairs and Replacements by Contracts or Open Orders	1,025.00	
138. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	300.00	
139. Hired Teams, Horses and Carts	1,900.00	
140. Telephones, Rental of	8,000.00	
141. Taxes	60,000.00	
142. Contingencies	11,365.00	
	\$176,362.50	
WATER SUPPLY, BOROUGH OF MANHATTAN AND THE BRONX		
Administration—		
143. Salaries:		
Office of Chief Engineer	\$19,450.00	
Office of Deputy Commissioner, The Bronx	3,950.00	
	23,400.00	
Collection and Storage—		
145. Croton Water System—Care of Water Sheds, Aqueducts, Ponds and Reservoirs:		
Salaries and Wages	\$161,227.00	
Hired Teams, Horses and Carts	25,809.00	
Materials for Repairs and Replacements by Departmental Labor	250.00	
Repairs and Replacements by Contracts or Open Orders	5,000.00	
	196,286.00	
Pumping Stations:		
149. Salaries and Wages	\$121,163.50	
150. Hired Teams, Horses and Carts	5,477.50	
151. Materials for Repairs and Replacements by Departmental Labor	4,000.00	
152. Repairs and Replacements by Contracts or Open Orders	14,000.00	
	134,641.00	
Bronx River System—Care of Water Sheds, Aqueducts, Ponds and Reservoirs:		
153. Salaries and Wages	\$26,929.50	
154. Hired Teams, Horses and Carts	6,000.00	
	32,929.50	
Distribution—		
Water Registration, Permits and Revenue Collections:		
155. Salaries and Wages:		
Manhattan	\$263,879.00	
The Bronx	37,865.00	
	281,744.00	
Maintenance, Croton and Bronx Systems:		
157. Salaries and Wages	\$293,161.50	
158. Hired Teams, Horses and Carts	63,907.25	
159. General Supplies	18,750.00	
160. Materials for Repairs and Replacements by Departmental Labor	43,945.10	
161. Repairs and Replacements by Contracts or Open Orders	45,750.00	
162. Fuel	97,285.00	
163. Telephones, Rental of	5,000.00	
164. Contingencies	16,870.00	
	586,668.50	
High Pressure Service, Manhattan:		
165. Salaries and Wages	\$33,951.50	
166. General Supplies	1,738.50	
167. Materials for Repairs and Replacements by Departmental Labor	3,000.00	
168. Repairs and Replacements by Contracts or Open Orders	2,000.00	
169. Fuel	380.00	
170. Telephones, Rental of	9,076.50	
	49,140.00	
WATER SUPPLY, BOROUGH OF BROOKLYN		
Administration—		
171. Salaries:		
Office of the Deputy Commissioner	12,250.00	
Distribution—		
Water Registration, Permits and Revenue Collections:		
172. Salaries and Wages	\$48,475.00	
173. General Supplies	500.00	
174. Fire Hydrant Rentals and Water Purchased	27,100.00	
175. Contingencies	725.00	
	76,800.00	
High Pressure Fire Service:		
176. Salaries and Wages	\$57,910.00	
177. General Supplies	313.50	
178. Repairs and Replacements by Contracts or Open Orders	1,000.00	
179. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	200.00	
180. Materials for Repairs and Replacements by Departmental Labor	825.00	
181. Fuel	260.00	
182. Telephones, Rental of	5,000.00	
	45,626.50	
WATER SUPPLY, BOROUGH OF QUEENS		
Administration—		
183. Salaries:		
Office of the Deputy Commissioner	\$5,550.00	
Office of Chief Engineer	2,700.00	
	8,250.00	

Collection and Storage—	
Pumping Stations and Standpipes:	
185. Salaries and Wages.....	\$60,930.00
186. Materials for Repairs and Replacements by Departmental Labor.....	1,525.00
187. Repairs and Replacements by Contracts or Open Orders.....	3,900.00
	66,355.00

Distribution—	
Water Registration, Permits and Revenue Collections:	
188. Salaries and Wages.....	34,800.00
Maintenance—	
189. Salaries and Wages.....	\$28,407.00
190. General Supplies.....	250.00
191. Materials for Repairs and Replacements by Departmental Labor.....	7,250.00
192. Repairs and Replacements by Contracts or Open Orders.....	750.00
193. Fire Hydrant Rentals and Water Purchased (Special Contract Obligations).....	250,000.00
194. General Supplies.....	3,118.00
195. Fuel.....	27,252.00
196. Hired Teams, Horses and Carts.....	4,500.00
197. Telephones, Rental of.....	2,000.00
198. Contingencies.....	2,163.00
	325,692.00

WATER SUPPLY—BOROUGH OF RICHMOND.	
Administration—	
Salaries:	
199. Office of Deputy Commissioner.....	\$4,600.00
200. Office of Assistant Engineer.....	7,450.00
	12,050.00

Collection and Storage—	
Pumping Stations:	
201. Salaries and Wages.....	\$70,042.80
202. Materials for Repairs and Replacements by Departmental Labor.....	1,000.00
203. Repairs and Replacements by Contracts or Open Orders.....	200.00
	71,242.80

Distribution—	
Water Registration, Permits and Revenue Collections:	
204. Salaries and Wages.....	5,800.00
Maintenance:	
205. Salaries and Wages.....	\$13,950.00
206. Fire Hydrant Rentals and Water Purchased (Special Contract Obligations).....	10,000.00
207. General Supplies.....	2,000.00
208. Materials for Repairs and Replacements by Departmental Labor.....	5,000.00
209. Fuel.....	25,000.00
210. Hired Teams, Horses and Carts.....	900.00
211. Telephones, Rental of.....	1,000.00
212. Contingencies.....	300.00
	58,960.00

BUREAU OF ELECTRICAL INSPECTION.	
Boroughs of Manhattan and The Bronx—	
213. Salaries and Wages.....	\$27,024.50
214. Hired Teams, Horses and Carts.....	1,500.00
215. Contingencies.....	1,300.00
	62,828.50

Borough of Brooklyn—	
216. Salaries and Wages.....	\$21,220.00
217. Contingencies.....	1,500.00
	22,720.00

Borough of Queens—	
218. Salaries and Wages.....	\$12,462.00
219. Contingencies.....	1,050.00
	13,512.00

HEAT, LIGHT AND POWER—BUREAU OF LAMPS AND LIGHTING.	
General Administration—	
220. Salaries—Office of Chief Engineer.....	21,200.00
	21,200.00

Boroughs of Manhattan and The Bronx—	
Administration—	
221. Salaries—Office of Chief Gas Examiner.....	\$16,200.00
222. Laboratory for Testing Electric Meters.....	1,200.00
	17,700.00

Bureau of Lamps and Lighting:	
223. Salaries and Wages.....	\$59,250.00
224. Street and Park Lighting.....	1,135,671.22
	1,194,921.22
Lighting Public Buildings:	
225. Salaries and Wages.....	11,910.00
226. Lighting Public Buildings.....	600,000.00
	611,910.00
Bureau Expenses:	
227. General Supplies.....	\$6,700.00
228. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	275.00
229. Hired Teams, Horses and Carts.....	7,050.00
230. Telephones, Rental of.....	380.00
231. Heat and Power for City Departments, etc.....	48,450.00
232. High Pressure Fire Service, Reservation of Machinery and Current.....	93,000.00
	155,653.00

Borough of Brooklyn—	
231. Salaries and Wages.....	\$29,400.00
232. Street and Park Lighting.....	1,080,946.09
233. Lighting Public Buildings.....	196,400.00
234. General Supplies.....	2,100.00
235. Hired Teams, Horses and Carts.....	1,575.00
236. Telephones, Rental of.....	170.00
237. Heat and Power for City Departments, etc.....	22,000.00
238. High Pressure Fire Service, Reservation of Machinery and Current.....	53,920.00
	1,286,511.09
Borough of Queens—	
241. Salaries and Wages.....	\$13,100.00
242. Street and Park Lighting.....	414,286.00
243. Lighting Public Buildings.....	36,850.00
244. General Supplies.....	1,100.00
245. Hired Teams, Horses and Carts.....	4,075.00
246. Telephones, Rental of.....	250.00
247. Heat and Power for City Departments, etc.....	3,150.00
	472,811.00
Borough of Richmond—	
248. Salaries and Wages.....	\$10,050.00
249. Street and Park Lighting.....	180,604.00
250. Lighting Public Buildings.....	24,000.00
251. General Supplies.....	650.00
252. Hired Teams, Horses and Carts.....	1,400.00
253. Heat and Light for City Departments.....	1,550.00
	218,254.00
254. For Police Detail—Salaries.....	2,800.00
	6,511,143.26
DEPARTMENT OF PUBLIC CHARITIES.	
GENERAL ADMINISTRATION.	
Office of the Commissioner—	
255. Salaries and Wages.....	\$46,180.00
Office of the Auditor—	
256. Salaries and Wages.....	13,930.00
General Drug Department—	
257. Salaries and Wages.....	11,810.00
Bureau of Dependent Adults—	
258. Salaries and Wages.....	47,660.00
Children's Bureau—	
259. Salaries and Wages.....	28,130.00
Departmental Steamboats, Launches and Piers—	
260. Salaries and Wages.....	75,580.00
Stockhouse and Bakery—	
261. Salaries and Wages.....	22,130.00
Institutions—	
262. City Hospital: Salaries and Wages.....	59,843.50
263. New York Training School for Nurses: Salaries and Wages.....	29,352.00
264. New York City Home for Aged and Infirm: Salaries and Wages.....	54,400.00
265. Metropolitan Hospital: Salaries and Wages.....	51,821.00
266. Metropolitan Hospital Training School: Salaries and Wages.....	56,182.00
267. New York City Children's Hospital and Schools: Salaries and Wages.....	106,329.50
Municipal Lodging House:	
268. Salaries and Wages.....	16,862.50
269. General Supplies.....	785,000.00
270. Materials for Repairs and Replacements by Departmental Labor.....	10,000.00
271. Repairs and Replacements by Contracts or Open Orders.....	85,000.00
272. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	6,000.00
273. Fuel.....	120,000.00
274. Fodder.....	10,500.00
275. Telephones.....	6,000.00
276. Contingencies.....	6,000.00
277. Open Air Concerts.....	1,000.00
278. Detailed Patrolmen	5,600.00
Administration, Brooklyn, Office of the Deputy Commissioner—	
279. Salaries and Wages.....	15,290.00
Bureau of Dependent Adults—	
280. Salaries and Wages.....	20,050.00
Children's Bureau—	
281. Salaries and Wages.....	15,840.00
Institutions—	
282. Kings County Hospital: Salaries and Wages.....	102,726.50
283. Home for Aged and Infirm: Salaries and Wages.....	46,874.50
284. Cumberland Street Hospital: Salaries and Wages.....	20,040.50
285. Bradford Street Hospital: Salaries and Wages.....	2,844.00
286. Reception Hospital, Coney Island: Salaries and Wages.....	3,126.00
287. General Supplies.....	270,000.00
288. Materials for Repairs and Replacement by Departmental Labor.....	5,000.00
289. Repairs and Replacements by Contracts or Open Orders.....	40,000.00
290. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	3,000.00

291. Fuel	50,000.00
292. Fodder	3,500.00
293. Telephones	4,000.00
294. Contingencies	2,000.00
295. Open Air Concerts	500.00
296. Burial of Pauper Dead	1,500.00
Administration, Richmond, Bureau of Dependent Adults—	
297. Salaries and Wages	5,450.00
New York Farm Colony—	
298. Salaries and Wages	11,188.00
299. General Supplies	50,000.00
300. Materials for Repairs and Replacement by Departmental Labor	2,000.00
301. Repairs and Replacements by Contracts or Open Orders	13,000.00
302. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of same	500.00
303. Fuel	10,000.00
304. Fodder	800.00
305. Telephones	350.00
306. Contingencies	200.00
Miscellaneous—	
307. Transportation of Paupers	5,000.00
308. Allowance for Poor Adult Blind	55,000.00
309. Clothing for Insane Patients	3,500.00
310. Clothing for Epileptics sent to Craig Colony	7,500.00
311. Donations to Grand Army Veterans	25,000.00
312. State Hospital for Incipient Tuberculosis	17,000.00

2,213,603.66

## DEPARTMENT OF BELLEVUE AND ALLIED HOSPITALS.

## GENERAL ADMINISTRATION.

Office of the General Medical Superintendent—	
313. Salaries and Wages	\$15,850.00
Office of the Supervising Engineer—	
314. Salaries and Wages	2,750.00
Central Office—	
315. Salaries and Wages	15,600.00
Bellevue Hospital—	
Administration:	
316. Salaries and Wages	\$21,270.00
Operation and Maintenance:	
317. Salaries and Wages	219,982.00
New Nurses' Residence:	
318. Salaries and Wages	18,110.00
Gouverneur Hospital—	
Administration:	
319. Salaries and Wages	\$5,210.00
Operation and Maintenance:	
320. Salaries and Wages	15,772.50
Harlem Hospital—	
Administration:	
321. Salaries and Wages	46,470.00
Operation and Maintenance:	
322. Salaries and Wages	48,118.50
Fordham Hospital—	
Administration:	
323. Salaries and Wages	37,320.00
Operation and Maintenance:	
324. Salaries and Wages	48,040.50
	15,360.50
	\$449,599.50
325. General Supplies	\$507,880.77
326. Materials for Repairs and Replacement by Departmental Labor	13,529.75
327. Repairs and Replacements by Contracts or Open Orders	20,000.00
328. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of same	11,735.00
329. Purchase of Automobile Ambulance	4,000.00
330. Contingencies	5,450.00
331. Fuel	85,050.00
332. Telephones	8,500.00
	653,145.52

1,102,745.02

## DEPARTMENT OF CORRECTION.

## GENERAL ADMINISTRATION.

Office of the Commissioner—	
333. Salaries and Wages	\$21,280.00
Office of the General Bookkeeper and Auditor—	
334. Salaries and Wages	12,900.00
335. General Supplies	471,000.00
336. Materials for Repairs and Replacements by Departmental Labor	21,500.00
337. Repairs by Contracts or Open Orders	27,500.00
338. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of same	10,500.00
339. Fuel	100,000.00
340. Telephones	8,000.00
341. Contingencies	4,600.00
Miscellaneous—	
342. Donations to Discharged Prisoners	5,000.00
343. Transportation of Insane Criminals	300.00

Miscellaneous—	
344. Manufacturing Supplies—Penitentiary	100,000.00
345. Manufacturing Supplies—Reformatory, Harts Island	15,000.00
346. Detailed Patrolmen	1,400.00
Central Office and Stables—	
347. Salaries and Wages	12,000.00
Storehouse—	
348. Salaries and Wages	5,600.00
Steamboats and Piers—	
349. Salaries and Wages	38,915.00
Administration of Institutions—	
District Prisons:	
350. Salaries and Wages	52,440.00
City Prison:	
351. Salaries and Wages	67,157.50
Workhouse:	
352. Salaries and Wages	77,422.50
Penitentiary:	
353. Salaries and Wages	103,867.50
Branch Workhouse, Harts Island:	
354. Salaries and Wages	41,967.50
Reformatory, Harts Island:	
355. Salaries and Wages	19,820.00
Branch Workhouse, Rikers Island:	
356. Salaries and Wages	17,805.00
Bertillon System:	
357. Salaries and Wages	1,200.00
City Prison, Brooklyn:	
358. Salaries and Wages	38,892.50

\$1,274,957.50

## DEPARTMENT OF HEALTH.

## GENERAL ADMINISTRATION.

Salaries and Wages—	
359. Office of the Commissioner	\$22,300.00
360. Office of the Secretary	7,810.00
361. Office of the Chief Clerk	31,160.00
362. Office of Registrar of Records	8,050.00
363. Office of General Medical Officer	9,230.00
364. Office of Sanitary Superintendent	15,290.00
365. Office of Superintendent of Hospitals	3,750.00
366. Division of Child Hygiene	11,640.00
367. Office of Chief of Division of Communicable Diseases	8,850.00
368. Office of Law Clerk	5,100.00
369. Office of Inspector of Construction and Repair	3,430.00
370. General Supplies	5,900.00
371. Repairs and Replacements by Contracts or Open Orders	3,255.00
372. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of same	3,050.00
373. Contingencies	3,100.00
374. Postage	17,000.00
375. Telephones, Rental of	21,100.00

\$181,373.00

## ADMINISTRATION—MANHATTAN.

Salaries and Wages—	
377. Office of Assistant Sanitary Superintendent	\$12,130.00
378. Office of Assistant Chief Clerk	28,879.50
379. Office of Assistant Registrar of Records	27,150.00

## DIVISION OF INSPECTION.

Salaries and Wages—	
380. General Office	8,670.00
381. Sanitary Inspection, I. e., District, Mercantile and Lodging House Inspection	29,550.00
382. Food, Fruit, Meat and Fish Inspection	27,430.00
383. Division of Child Hygiene	144,900.00
384. District Medical Inspection	100,290.00
385. Sanitary Police	63,100.00
386. Division of Communicable Diseases—Inspection	33,240.00
387. Division of Communicable Diseases—Clinic	31,610.00
388. General Supplies	25,140.00
389. Materials for Repairs and Replacements by Departmental Labor	300.00
400. Repairs and Replacements by Contracts or Open Orders	7,200.00
401. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of same	4,510.00
402. Fuel	1,600.00
403. Hired Teams	1,500.00
404. Contingencies	4,750.00

\$22,969.50

## ADMINISTRATION—THE BRONX.

Salaries and Wages—	
405. Office of Assistant Sanitary Superintendent	\$13,850.00
406. Office of Assistant Chief Clerk	6,300.00
407. Office of Assistant Registrar of Records	4,500.00
408. Division of Child Hygiene	26,700.00
409. District Medical Inspection	27,097.50
410. Sanitary Police	7,000.00
411. Division of Communicable Diseases—Inspection and Clinical Force	11,400.00
412. General Supplies	6,895.00
413. Repairs and Replacements by Contracts or Open Orders	1,735.00
414. Apparatus—Vehicles, Horses, Equipment, Care of same	2,800.00

413. Fuel	375.00
416. Contingencies	3,210.00
	111,862.50

## ADMINISTRATION—BROOKLYN.

Salaries and Wages—	
417. Office of Assistant Sanitary Superintendent	\$3,530.00
418. Office of Assistant Chief Clerk	12,462.00
419. Office of Assistant Registrar of Records	12,930.00
420. Division of Inspections	12,570.00
421. Sanitary Inspection, i. e., District, Mercantile and Lodging House Inspection	24,000.00
422. Food, Fruit, Meat and Fish Inspection	33,500.00
423. Division of Child Hygiene	127,600.00
424. District Medical Inspection	39,790.00
425. Sanitary Police	23,800.00
426. Division of Communicable Diseases—Inspection	19,330.00
427. Division of Communicable Diseases—Clinic	4,920.00
428. Clinic for Contagious Eye Diseases	6,240.00
429. General Supplies	15,650.00
430. Repairs and Replacements by Contracts or Open Orders	5,473.00
431. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	7,225.00
432. Fuel	640.00
433. Contingencies	9,185.00
	354,987.00

## ADMINISTRATION—QUEENS.

Salaries and Wages—	
434. Office of Assistant Sanitary Superintendent	\$5,420.00
435. Division of Hygiene	21,300.00
436. District Medical Inspection	16,800.00
437. Office of Assistant Chief Clerk	10,000.00
438. Office of Assistant Registrar of Records	3,000.00
439. Division of Sanitary, Food, Fruit, Meat and Fish Inspections	18,000.00
440. Sanitary Police	4,000.00
441. Division of Communicable Diseases—Inspection and Clinical Force	5,400.00
442. General Supplies	4,055.00
443. Repairs and Replacements by Contracts or Open Orders	1,015.00
444. Vehicles, Horses; Equipment, Care of same	1,900.00
445. Contingencies, including Hospital Service	4,000.00
	35,260.00

## ADMINISTRATION—RICHLAND.

Salaries and Wages—	
446. Office of Assistant Sanitary Superintendent	\$3,320.00
447. Division of Child Hygiene	7,200.00
448. District Medical Inspection	11,790.00
449. Office of Assistant Chief Clerk	4,950.00
450. Office of Assistant Registrar of Records	3,000.00
451. Division of Sanitary, Food, Fruit, Meat and Fish Inspections	18,840.00
452. Sanitary Police	5,500.00
453. Division of Communicable Diseases—Inspection and Clinical Force	3,900.00
454. General Supplies	3,400.00
455. Repairs and Replacements by Contracts or Open Orders	7,055.00
456. Apparatus—Vehicles, Horses, Equipment, Hire and Care of same	10,750.00
457. Fuel	275.00
458. Contingencies, including Hospital Service	3,300.00
	63,875.00

## MILK INSPECTION—CITY AND COUNTRY.

Salaries and Wages—	
459. Division of Milk Inspection	\$86,460.00
460. General Supplies	2,300.00
461. Contingencies	35,150.00
	124,810.00

## LABORATORIES.

Research—	
462. Salaries and Wages	\$18,628.00
463. General Supplies	3,000.00
464. Purchases of Horses and Horseshoeing	2,500.00
465. Contingencies	925.00
	16,853.00

## Vaccine—

466. Salaries and Wages	\$6,150.00
467. General Supplies	2,200.00
468. Contingencies	100.00
	8,750.00

## Chemical—

469. Salaries and Wages	\$13,440.00
470. General Supplies	2,500.00
471. Contingencies	150.00
	15,090.00

## Drug—

472. Salaries and Wages	\$9,280.00
473. General Supplies	21,000.00
474. Contingencies	373.00
	29,653.00

## Diagnosis—

475. Salaries and Wages	\$16,290.00
476. General Supplies	5,300.00
477. Contingencies	2,575.00
	24,065.00

	HOSPITALS
478. Willard Parker and Reception	
479. Salaries and Wages	\$126,568.75
480. General Supplies	85,280.00
481. Materials for Repairs and Replacements by Departmental Labor	4,000.00
482. Repairs and Replacements by Contracts or Open Orders	1,200.00
483. Fuel	12,000.00
484. Contingencies	200.00
	220,568.75

	Hospital Clinic for Contagious Eye Diseases, Manhattan—
485. Salaries and Wages	\$21,620.00
486. General Supplies	3,850.00
487. Repairs and Replacements by Contracts or Open Orders	400.00
488. Fuel	350.00
	26,230.00

	Riverside—
489. Salaries and Wages	\$118,981.50
490. General Supplies	68,400.00
491. Materials for Repairs and Replacements by Departmental Labor	8,000.00
492. Repairs and Replacements by Contracts or Open Orders	6,000.00
493. Vehicles, Horseshoeing, etc.	400.00
494. Fuel	25,000.00
495. Contingencies	150.00
	186,931.50

	Kingston Avenue—
496. Salaries and Wages	\$120,621.00
497. General Supplies	35,000.00
498. Materials for Repairs and Replacements by Departmental Labor	7,200.00
499. Repairs and Replacements by Contracts or Open Orders	5,000.00
500. Fuel	20,000.00
501. Contingencies	200.00
	185,021.00

	Tuberculosis Sanatorium, Ossining—
502. Salaries and Wages	\$48,270.00
503. General Supplies	77,200.00
504. Materials for Repairs and Replacements by Departmental Labor	5,500.00
505. Repairs and Replacements by Contracts or Open Orders	3,500.00
506. Vehicles, Purchase of Cows, Farming Machinery, Stable Supplies, etc.	4,000.00
507. Fuel	3,900.00
508. Hired Teams	300.00
509. Contingencies	4,000.00
	134,576.00

	SPECIAL CONTRACT OBLIGATIONS.
510. Removal of Night Soil, Offal and Dead Animals—	
511. Office of Assistant Sanitary Superintendent—Manhattan	\$24,245.00
512. Office of Assistant Sanitary Superintendent—The Bronx	3,115.00
513. Office of Assistant Sanitary Superintendent—Brooklyn	15,000.00
514. Office of Assistant Sanitary Superintendent—Queens	16,290.00
515. Office of Assistant Sanitary Superintendent—Richmond	5,321.00
	69,880.00

	POLICE DEPARTMENT.
	GENERAL ADMINISTRATION.
516. Office of the Commissioner and Deputy Commissioners—	
517. Salaries and Wages	\$51,012.50
518. Office of Chief Clerk and Bookkeeper—	
519. Salaries and Wages	81,890.00
520. Contingencies	2,500.00
	115,312.50
	ADMINISTRATION.
521. Employees, Telegraph Bureau—	
522. Salaries and Wages	\$9,400.00
523. Employees, Steamer "Patrol"—	
524. Salaries and Wages	11,340.00
525. Mechanics and Laborers—	
526. Salaries and Wages	55,236.00
527. Department Stables—	
528. Salaries and Wages	66,255.00
529. General Supplies	182,964.00
530. Materials for Repairs and Replacement by Departmental Labor	12,000.00
531. Repairs and Replacements by Contracts or Open Orders	

Police Fund—Uniformed Force—		
528. Salaries and Wages.....	12,865,258.35	
14,160,201.85		
BOARD OF ELECTIONS.		
529. Salaries.....	\$121,450.00	
530. For Employment of Temporary Clerks.....	25,000.00	
531. Advertising.....	240,000.00	
532. For Expenses Incidental to the Provisions of the Election Law and Primary Election Law.....	548,680.00	
1,035,130.00		

## BOARD OF CITY RECORD.

## CITY OF NEW YORK.

Administration—		
533. Salaries.....	\$27,550.00	
534. Office Supplies.....	500.00	
535. Telephones, Rental of.....	500.00	
536. Contingencies.....	1,500.00	
537. Delivering Supplies to Departments.....	4,000.00	
	\$34,050.00	
538. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks.....	500,500.00	
539. Stationery, Including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.....	51,000.00	
540. Blank Books.....	121,000.00	
541. Publication of the City Record.....	395,000.00	
Arrearages for City Departments, Bureaus and Courts—		
542. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks.....	335,000.00	
543. Stationery, Including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.....	50,000.00	
544. Blank Books.....	45,000.00	
	1,441,550.00	

## DEPARTMENT OF STREET CLEANING.

## GENERAL ADMINISTRATION.

Salaries and Wages—		
545. Office of the Commissioner.....	\$21,100.00	
546. Office of the Chief Clerk and Bookkeeper.....	72,740.00	
547. Office of the Medical Examiners.....	5,400.00	
548. Office of the Veterinarians.....	10,200.00	
549. Office of the Master Mechanic.....	7,800.00	
550. Office of the Superintendent of Final Disposition.....	10,450.00	
551. General Supplies.....	1,730.00	
552. Telephones, Rental of.....	1,300.00	
553. Contingencies.....	1,265.00	
	\$335,005.00	

## ADMINISTRATION—BOROUGH OF MANHATTAN.

Salaries and Wages—		
554. Office of the Deputy Commissioner.....	36,200.00	
555. Division of Mechanical Work.....	165,621.50	
556. Division of Sweeping.....	1,761,720.00	
557. Division of Carting and Stable.....	921,681.20	
558. Division of Final Disposition.....	121,839.00	
559. General Supplies.....	37,495.00	
560. Materials for Repairs and Replacements by Departmental Labor.....	91,000.00	
561. Repairs and Replacements by Contracts or Open Orders.....	46,905.00	
562. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	140,755.00	
563. Special Contract Obligations.....	905,825.00	
564. Fuel.....	8,000.00	
565. Hired Teams, Horses and Carts.....	5,000.00	
566. Telephones, Rental of.....	5,800.00	
567. Contingencies.....	1,100.00	
	4,230,441.70	

## ADMINISTRATION—BOROUGH OF BROOKLYN.

Salaries and Wages—		
578. Office of the Deputy Commissioner.....	\$14,150.00	
579. Division of Mechanical Work.....	70,998.00	
580. Division of Sweeping.....	838,680.00	
581. Division of Carting and Stable.....	625,553.20	
582. Division of Final Disposition.....	42,650.00	
583. General Supplies.....	14,905.00	
584. Materials for Repairs and Replacements by Departmental Labor.....	39,700.00	
585. Repairs and Replacements by Contracts or Open Orders.....	19,378.00	
586. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	74,225.00	
587. Special Contract Obligations.....	689,944.00	
588. Fuel.....	3,500.00	
589. Telephones, Rental of.....	4,500.00	
590. Contingencies.....	800.00	
	3,192,481.20	

## ADMINISTRATION—BOROUGH OF THE BRONX.

Salaries and Wages—		
591. Office of the Deputy Commissioner.....	\$8,600.00	
592. Division of Mechanical Work.....	15,963.00	
593. Division of Sweeping.....	242,750.00	
594. Division of Carting and Stable.....	120,187.20	
595. Division of Final Disposition.....	12,637.50	
596. General Supplies.....	7,729.00	
597. Materials for Repairs and Replacements by Departmental Labor.....	11,800.00	
598. Repairs and Replacements by Contracts or Open Orders.....	2,057.00	
599. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	29,960.00	

600. Special Contract Obligations.....	77,210.00	
601. Hired Teams, Horses and Carts.....	20,000.00	
602. Fuel.....	650.00	
603. Telephones, Rental of.....	500.00	
604. Contingencies.....	300.00	
	560,371.30	
		7,318,299.20

## FIRE DEPARTMENT.

## GENERAL ADMINISTRATION.

Manhattan, The Bronx and Richmond.		
Office of the Commissioner—		
605. Salaries and Wages.....	\$61,815.00	
Bureau of Combustibles—		
606. Salaries and Wages.....	18,000.00	
Bureau of Fire Marshal—		
607. Salaries and Wages.....	23,600.00	
Repair Shops—		
608. Salaries and Wages.....	131,958.50	
Hospital and Training Stables—		
609. Salaries and Wages.....	21,604.00	
Office of Superintendent of Buildings—		
610. Salaries and Wages.....	38,546.50	
		\$307,244.00

## ADMINISTRATION—BOROUGH OF MANHATTAN.

Bureau of Chief of Department—		
611. Salaries and Wages.....	\$155,380.00	
Engine and Hook and Ladder Companies—		
612. Salaries and Wages.....	2,717,474.50	
Fire Alarm Telegraph—		
613. Salaries and Wages.....	76,899.00	
614. General Supplies.....	114,000.00	
615. Materials for Repairs and Replacement by Departmental Labor.....	53,000.00	
616. Repairs and Replacements by Contracts or Open Orders.....	37,000.00	
617. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	92,000.00	
618. Fuel.....	8,000.00	
619. Hired Teams, Horses and Carts.....	500.00	
620. Telephones, Rental of.....	10,000.00	
621. Contingencies.....	5,200.00	
		3,347,731.00

## ADMINISTRATION—BOROUGH OF THE BRONX.

Bureau of Chief of Department—		
622. Salaries and Wages.....	\$27,300.00	
Engine and Hook and Ladder Companies—		
623. Salaries and Wages.....	728,120.00	
Fire Alarm Telegraph—		
624. Salaries and Wages.....	15,300.00	
625. General Supplies.....	42,100.00	
626. Materials for Repairs and Replacement by Departmental Labor.....	21,000.00	
627. Repairs and Replacements by Contracts or Open Orders.....	11,500.00	
628. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	20,000.00	
629. Fuel.....	16,700.00	
630. Hired Teams, Horses and Carts.....	200.00	
631. Telephones, Rental of.....	2,500.00	
		871,020.00

## ADMINISTRATION—BOROUGH OF RICHMOND.

Bureau of Chief of Department—		
632. Salaries and Wages.....	\$14,100.00	
Engine and Hook and Ladder Companies—		
633. Salaries and Wages.....	285,620.00	
Fire Alarm Telegraph—		
634. Salaries and Wages.....	12,600.00	
635. General Supplies.....	12,000.00	
636. Materials for Repairs and Replacement by Departmental Labor.....	8,700.00	
637. Repairs and Replacements by Contracts or Open Orders.....	7,700.00	
638. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	7,200.00	
639. Fuel.....	8,100.00	
640. Hired Teams, Horses and Carts.....	100.00	
641. Telephones, Rental of.....	1,200.00	
Allowance to Volunteer Companies, Borough of Richmond (Section 722, Greater New York Charter).		
Engine Companies—		
642. Cromwell, Douglass Hills.....	1,200.00	
643. Great Kills No. 1, Great Kills.....	1,200.00	
644. Huguenot No. 1, Huguenot.....	1,200.00	
645. Citizens' No. 1, Pleasant Plains.....	1,200.00	
646. Richmond No. 1, Richmond.....	1,200.00	
Hook and Ladder Companies—		
647. Oceanic No. 1, Linoleumville.....	1,000.00	
648. Washington No. 1, Kreischerville.....	1,000.00	
649. New Dor		

## GENERAL ADMINISTRATION—BROOKLYN AND QUEENS.

Office of Deputy Commissioner—	
Salaries and Wages.....	\$23,471.50
Bureau of Combustibles—	
Salaries and Wages.....	17,700.00
Bureau of Fire Marshal—	
Salaries and Wages.....	16,000.00
Repair Shops—	
Salaries and Wages.....	43,221.00
Hospital and Training Stables—	
Wages.....	3,650.00
Fire Alarm Telegraph—	
Salaries and Wages.....	37,842.50
	141,485.00

## ADMINISTRATION—BOROUGH OF BROOKLYN.

Bureau of Chief of Department—	
Salaries.....	\$173,350.00
Engine and Hook and Ladder Companies—	
Salaries and Wages.....	1,896,720.00
General Supplies.....	111,250.00
Materials for Repairs and Replacement by Departmental Labor.....	10,000.00
Repairs and Replacements by Contracts or Open Orders.....	20,000.00
Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	63,000.00
Contingencies.....	1,000.00
Fuel.....	40,000.00
Telephones, Rental of.....	8,200.00
Special Contract Obligations.....	7,900.00
	2,301,670.00

## ADMINISTRATION—BOROUGH OF QUEENS.

Bureau of Chief of Department—	
Salaries and Wages.....	\$38,300.00
Engine and Hook and Ladder Companies—	
Salaries and Wages.....	529,540.00
General Supplies.....	31,360.00
Materials for Repairs and Replacement by Departmental Labor.....	8,040.00
Repairs and Replacements by Contracts or Open Orders.....	5,000.00
Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	21,015.00
Contingencies.....	250.00
Fuel.....	9,000.00
Telephones, Rental of.....	2,000.00
Maintenance and Extension of the Fire Alarm System, including Apparatus for Volunteer Companies—	
General Supplies.....	12,000.00
Materials for Repairs and Replacement by Departmental Labor.....	800.00
Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	4,610.00
Fuel.....	440.00
Hired Teams, Horses and Carts.....	900.00
Contingencies.....	250.00
Maintenance of Volunteer System (Section 722, Greater New York Charter)—	

## Newtown:

Metropolitan Engine Company 12.....	1,200.00
Gooderson Engine Company.....	1,200.00
Magnetic Engine Company.....	1,200.00
Leona Chemical Engine Company.....	1,200.00
Wandsworth Fire Hook and Ladder Company (operates steam fire engine).....	1,200.00
Woolside Hook and Ladder Company.....	1,000.00
Marpeth Hook and Ladder Company.....	1,000.00
Fearless Hook and Ladder Company.....	1,000.00
Glendale Fire Hook and Ladder Company.....	1,000.00
Teanhac Fire Hook and Ladder Company.....	1,000.00
Elmhurst Fire Hook and Ladder Company.....	1,000.00
Pioneer Fire Hook and Ladder Company.....	1,000.00
Glendale Park Hook and Ladder Company 11.....	1,000.00

## Woodhaven:

Deraimes Engine Company 1.....	1,200.00
South Side Engine and Pump Company (operates hook and ladder).....	1,000.00
American Hook and Ladder Company.....	1,000.00
Union Course Hook and Ladder Company.....	1,000.00
Jones Hook and Ladder Company.....	1,000.00
Woodhaven Hose Company.....	800.00
Deraimes Hose Company.....	200.00
American Hose Company.....	300.00
Aqualuct Hose Company 4.....	300.00

## Bayside:

Bayside Fire Engine Company.....	1,200.00
Enterprise Hook and Ladder Company.....	1,000.00
Hollis:	
Hollis Hook and Ladder Company 1.....	1,000.00
Columbia Hose Company 1.....	800.00
Springfield:	
Springfield Chemical Engine Company 1.....	1,200.00
St. Albans Fire Hook and Ladder Company.....	1,000.00
Springfield Hose Company 1.....	800.00

## Maintenance of Volunteer System (Section 722, Greater New York Charter)—

Jamaica South—	
Point Pleasant Hook and Ladder Company.....	1,000.00
Little Neck—	
Active Hook and Ladder and Hose Company.....	1,000.00
Douglaston—	
Douglaston Hose Company.....	200.00
Queens—	
Queens Hook and Ladder Company 1.....	1,000.00
Queens Hose Company 2.....	800.00
Rosedale—	
Rosedale Fire Hook and Ladder Company 1.....	1,000.00
Pleasant Point—	
Pleasant Point Volunteer Pump and Hose Company.....	300.00
Creedmoor—	
Creedmoor Hose Company 1.....	300.00
Black Stump—	
Black Stump Hook and Ladder and Bucket Company 1.....	1,000.00
Whitestone—	
Hook and Ladder Company 1.....	1,000.00
Engine and Hose Company 1.....	800.00
Columbia Hose Company 1.....	800.00
Indian Hose Company 2.....	800.00
	8695,105.00
	8,039,565.50

## DEPARTMENT OF PARKS.

## PARK BOARD, GENERAL ADMINISTRATION.

738. Salaries.....	\$28,980.00
--------------------	-------------

## Boroughs of Manhattan and Richmond.

Administration—	
Salaries and Wages:	
Commissioner's Office.....	\$22,760.00
Office of Superintendent of Parks.....	9,800.00
Engineer's Office.....	7,380.00
Office of Superintendent of Supplies and Repairs.....	6,000.00
General Supplies.....	1,200.00
Contingencies.....	1,000.00
Telephone, Rental of.....	2,000.00
	\$56,540.00

## General Maintenance—

746. Salaries and Wages—Mechanical Force.....	170,174.25
Maintenance, Parks and Boulevards—	
Salaries and Wages.....	\$100,333.45
Hired Teams and Carts, Road Machines and Rollers.....	15,000.00
General Supplies.....	31,468.75
FORAGE.....	22,000.00
Materials for Repairs and Replacements by Departmental Labor.....	101,800.00
Repairs and Replacements by Contracts or Open Orders.....	44,700.00
Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	22,600.00
Fuel.....	18,300.00
Contingencies.....	4,350.00
	710,752.20

## Maintenance—Playgrounds, Kindergartens, Bath Houses and Comfort Stations—

756. Salaries and Wages—	\$23,240.04
Playgrounds.....	
Bath Houses and Comfort Stations.....	23,240.04

## Maintenance of Trees in City Streets—

758. Salaries and Wages.....	22,400.00
------------------------------	-----------

## Maintenance of Zoological Department—

759. Salaries and Wages.....	13,251.25
------------------------------	-----------

## Miscellaneous Appropriations—

760. Music.....	\$20,000.00
-----------------	-------------

## Care of Grant's Tomb—

	17,000.00
--	-----------

## Maintenance of Aquarium—

762. Salaries and Wages.....	\$10,031.42
Telephone, Rental of.....	200.00
General Supplies.....	3,750.00
Material for Repairs and Replacements by Departmental Labor.....	610.00
Repairs and Replacements by Contracts or Open Orders.....	1,180.00
Hired Teams, Horses and Carts.....	350.00
Fuel and Light.....	6,800.00
Contingencies.....	1,038.18
	46,000.00

## Maintenance of Metropolitan Museum of Art—

770. Salaries and Wages.....	\$161,097.75
Telephone, Rental of.....	400.00
General Supplies.....	7,156.80
Material for Repairs and Replacements by Departmental Labor.....	6,085.45
Fuel.....	10,400.00
Contingencies.....	12,760.00
	300,000.00

Maintenance of American Museum of Natural History—	
776. Salaries and Wages.....	\$158,413.00
777. Telephone, Rental of.....	780.00
778. General Supplies .....	10,369.00
779. Materials for Repairs and Replacements by Departmental Labor.....	3,500.00
780. Repairs and Replacements by Contracts or Open Orders.....	500.00
781. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	250.00
782. Fuel .....	8,500.00
783. Contingencies .....	1,458.00
	180,000.00

Maintenance of Children's School Farm (De Witt Clinton Park)—	
784. Salaries and Wages.....	\$4,800.00
785. Apparatus and Supplies.....	200.00
	5,000.00

Maintenance of Jewel Mansion—	
786. Salaries and Wages.....	\$3,622.00
787. General Supplies .....	1,628.00
788. Material for Repairs and Replacements by Departmental Labor.....	200.00
789. Repairs and Replacements by Contracts or Open Orders.....	500.00
790. Fuel .....	300.00
791. Contingencies .....	250.00
	6,300.00

1,539,373.14

#### Borough of The Bronx.

Administration—	
Salaries and Wages:	
792. Commissioner's Office.....	\$15,227.50
793. Superintendent's Office .....	12,900.00
794. Engineer's Office .....	11,300.00
795. General Supplies .....	365.00
796. Contingencies .....	1,000.00
797. Telephone, Rental of.....	150.00
	\$39,492.50

General Maintenance, Mechanical Force—	
798. Salaries and Wages.....	46,741.00
Maintenance of Parks and Boulevards—	
799. Salaries and Wages.....	\$129,366.00
800. Hired Teams and Carts, Road Machines and Rollers.....	34,414.00
801. General Supplies .....	2,500.00
802. Forage .....	3,000.00
803. Material for Repairs and Replacements by Departmental Labor.....	23,000.00
804. Repairs and Replacements by Contracts or Open Orders.....	4,000.00
805. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	10,800.00
806. Fuel .....	4,500.00
	311,980.00

Maintenance of Trees in City Streets—	
807. Salaries and Wages.....	10,177.00
Miscellaneous Appropriation—	

808. Music .....	12,000.00
Maintenance, New York Botanical Garden—	
809. Salaries and Wages.....	\$83,420.00
810. General Supplies .....	3,000.00
811. Materials for Repairs and Replacements by Departmental Labor.....	1,000.00
812. Repairs and Replacements by Contracts or Open Orders.....	500.00
813. Fuel .....	11,000.00
814. Contingencies .....	500.00
815. Telephone, Rental of.....	100.00
	79,510.00

Maintenance, New York Zoological Garden—	
816. Salaries and Wages.....	\$107,000.00
817. General Supplies .....	39,400.00
818. Material for Repairs and Replacements by Departmental Labor.....	6,345.00
819. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	485.00
820. Fuel .....	7,075.00
821. Contingencies .....	1,242.00
822. Telephone, Rental of.....	275.00
	162,325.00

668,239.00

#### Boroughs of Brooklyn and Queens.

Administration—	
Salaries and Wages:	
823. Commissioner's Office.....	\$16,695.00
824. Superintendent's Office .....	13,200.00
825. Engineer's Office .....	6,300.00
826. Office of the Superintendent of Supplies and Repairs.....	4,050.00
827. General Supplies .....	500.00
828. Contingencies .....	1,000.00
829. Telephones, Rental of.....	1,500.00
	\$43,145.00

General Maintenance, Mechanical Force—	
830. Salaries and Wages.....	92,412.50
Maintenance of Parks and Boulevards—	
831. Salaries and Wages.....	\$450,075.00
832. Hired Teams and Carts, Road Machines .....	110,690.00
833. General Supplies .....	47,200.00
834. Material for Repairs and Replacements by Departmental Labor.....	102,000.00
835. Repairs and Replacements by Contracts or Open Orders.....	32,000.00
836. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	14,500.00
837. Fuel .....	16,000.00
838. Contingencies .....	5,000.00
	796,665.00
Maintenance of Trees in City Streets—	
839. Salaries and Wages.....	\$7,150.00
Maintenance, Zoological Department—	
840. Salaries and Wages.....	9,855.00
Miscellaneous Appropriations—	
841. Music .....	16,500.00
Maintenance of Institutions—	
Museum of Arts and Sciences (Including Taxidermical Laboratory):	
842. Salaries and Wages.....	\$66,410.00
843. General Supplies .....	7,000.00
844. Material for Repairs and Replacements by Departmental Labor .....	3,000.00
845. Repairs and Replacements by Contracts or Open Orders.....	3,000.00
846. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	300.00
847. Fuel .....	6,500.00
848. Contingencies .....	3,150.00
849. Telephone .....	200.00
Children's Museum:	
850. Salaries and Wages.....	9,550.00
851. General Supplies .....	1,400.00
852. Repairs and Replacements by Contracts or Open Orders.....	300.00
853. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	150.00
854. Fuel .....	325.00
855. Contingencies .....	550.00
856. Telephone, Rental of.....	70.00
	103,903.00
	1,111,452.50
	3,519,065.14
DEPARTMENT OF EDUCATION.	
SPECIAL SCHOOL FUND.	
General Administration.	
Salaries and Wages—	
857. Office of the Secretary.....	\$43,130.00
858. Office of the Auditor.....	53,170.00
	\$96,290.00
Administration.	
Salaries and Wages—	
859. Office of the City Superintendent of Schools.....	\$77,230.00
860. Offices of District Superintendents.....	17,650.00
861. Office of the Superintendent of School Supplies.....	129,035.00
862. Office of the Superintendent of School Buildings.....	71,220.00
863. Office of the Supervisor of Janitors	12,450.00
	307,785.00
Maintenance.	
Bureau of Buildings—	
Division of Repairs:	
864. Salaries and Wages.....	\$190,286.91
865. Compensation of Janitors.....	1,398,000.00
Compulsory Education—	
Salaries and Wages:	
866. Manhattan Truant School.....	\$5,240.00
867. Brooklyn Truant School.....	8,350.00
868. New York Parental School.....	11,520.00
	35,110.00
869. Nautical School.....	32,690.00
Evening Lecture Courses—	
Salaries and Wages:	
870. Office of the Supervisor of Lectures	\$6,300.00
871. Lecture Centres .....	32,000.00
	38,300.00
General Supplies—	
872. Borough of Manhattan.....	\$445,378.00
873. Borough of The Bronx.....	85,328.00
874. Borough of Brooklyn.....	532,830.00
875. Borough of Queens.....	77,804.00
876. Borough of Richmond.....	30,660.00
877. Board of Education.....	75,310.00
878. Truant Schools.....	48,244.00

879. Nautical School	36,235.10
880. School Libraries and Libraries and Apparatus, Regents' Schools	57,378.00
881. Supplies for Evening Lectures	29,525.00
882. Supplies for School for Deaf Mutes to be taken over by the Board of Education	20,000.00
	1,205,090.10

## Repairs and Replacements by Contract or Open Order.

General Repairs—	
883. Borough of Manhattan	339,700.42
884. Borough of The Bronx	184,002.28
885. Borough of Brooklyn	174,026.14
886. Borough of Queens	238,800.56
887. Borough of Richmond	37,458.01
888. School Ship "Newport"	3,000.00
889. Bulletin Boards, Chalks, etc., Evening Lecture Centres	1,075.00
	1,105,777.40

Furniture and Repairs of—	
890. Borough of Manhattan	384,423.65
891. Borough of The Bronx	25,127.05
892. Borough of Brooklyn	31,860.93
893. Borough of Queens	28,389.12
894. Borough of Richmond	7,629.41
	182,080.00

Pianos and Repairs of—	
895. Borough of Manhattan	52,738.00
896. Borough of The Bronx	3,462.00
897. Borough of Brooklyn	5,422.00
898. Borough of Queens	3,399.00
899. Borough of Richmond	3,000.00
	70,599.00

Fire Alarms—	
900. Borough of Manhattan	61,000.00
901. Borough of The Bronx	500.00
902. Borough of Brooklyn	3,000.00
903. Borough of Queens	1,600.00
904. Borough of Richmond	1,000.00
	7,700.00

Apparatus, Machinery, Vehicles, Horses, Equipment, Care and Storage of Same—	
905. Care of Horses, Board of Education	42,211.00
906. Care of Horses, Training Schools	1,000.00
	43,211.00

1906—	
907. Borough of Manhattan	1197,000.34
908. Borough of The Bronx	14,897.00
909. Borough of Brooklyn	120,079.32
910. Borough of Queens	14,204.10
911. Borough of Richmond	21,817.93
912. School Ship "Newport"	6,000.00
	1,375,098.42
913. Catalog of School Supplies	17,000.00
914. Telephones	10,752.00
	27,752.00

Contingencies—	
915. Board of Education	1,000.00
916. Training Schools	2,750.00
917. Evening Lecture Centres	2,000.00
918. Music for Evening Rec. Playgrounds	3,000.00
	41,750.00

Special Contingent Obligations—	
Transportation of Public—	
919. Borough of Manhattan	111,000.00
920. Borough of The Bronx	17,512.00
921. Borough of Brooklyn	4,000.00
922. Borough of Queens	29,000.00
923. Borough of Richmond	9,624.00
	151,136.00

924. Hear for the Hall of the Board of Education	2,000.00
925. Insurance of Insured, Return of Premiums, Evening Lecture Centres	1,000.00
926. Maintenance of Tramps in New York City and Protection	16,000.00
	18,000.00

Water—	
927. Borough of Brooklyn	8,000.00
928. Borough of Queens	8,000.00
929. Borough of Richmond	300.00
	16,300.00

General School Fund	
930. For the General School Fund for the year 1908 the equivalent of three mills on every dollar of assessed valuation of the Real and Personal Estate in the City of New York liable to taxation as certified to the Board of Education by the Department of Taxes and Assessments, including so much of the State School Money apportioned by the Superintendent of Public Instruction to the City of New York, or any of the Counties contained therein, which State School money when received shall be paid into the General Fund for the Reduction of Taxation	321,874,571.30
931. Additional amount allowed for the year 1909, in excess of the product of the three-mill tax	570,210.33
	321,944,881.63

932. For the General School Fund for the year 1908 the equivalent of three mills on every dollar of assessed valuation of the Real and Personal Estate in the City of New York liable to taxation as certified to the Board of Education by the Department of Taxes and Assessments, including so much of the State School Money apportioned by the Superintendent of Public Instruction to the City of New York, or any of the Counties contained therein, which State School money when received shall be paid into the General Fund for the Reduction of Taxation	321,874,571.30
933. Additional amount allowed for the year 1909, in excess of the product of the three-mill tax	570,210.33
	321,944,881.63

In accordance with the provisions of section 1060 of the Greater New York Charter, the appropriation for the General School Fund for the year 1909 is made in bulk and for the City at large, but in making said allowance the Board of Estimate and Apportionment hereby recommends that it be apportioned among the various purposes of General School Fund Expenditure in the following manner and amounts:

## Recommended Apportionment of General School Funds.

Day Elementary Schools, including Vacation Schools, Recreation Centres, Playgrounds and Baths—

For Salaries of Persons employed in Day Elementary Schools, May 31, 1908, \$15,629,168.00

Day Elementary Schools, including Vacation Schools, Recreation Centres, Playgrounds and Baths—

For Annual Automatic Increases for Persons mentioned above 225,131.48

For Additional Compensation for Female Teachers of Mixed Classes 125,020.00

For Additional Compensation for Female Teachers of Boys' Classes 263,780.00

For Additional Teachers 377,249.51

For Vacation Schools, Recreation Centres, Playgrounds and Baths 173,000.00

Day High Schools 1,293,250.66

Training Schools for Teachers 285,630.00

Traint. Schools 23,930.00

Special Branches in Day Elementary Schools 550,913.00

Evening Elementary Schools 191,512.00

Evening High Schools 279,162.00

General Supervision 290,756.00

Salaries of Attendant Officers 113,700.00

Corporate Schools 266,280.00

For the Evening Lecturers 81,000.00

Substitutes in place of Absentees and other permanent Teachers 587,234.12

Salaries of Teachers in a School for Deaf Mutes to be taken over by the Board of Education 20,000.00

Salaries of Teachers in a proposed Industrial School 22,100.00

321,944,881.63

## THE COLLEGE OF THE CITY OF NEW YORK

932. Salaries of the Teaching Force	164,562.78
Office of the President	
933. Salary and Wages	9,710.00
Office of the Curator	
934. Salaries and Wages	9,648.00
935. General Supplies	55,000.00
936. Materials for Repairs and Replacements by Departmental Labor	5,500.00
937. Repairs and Replacements by Contract or Open Order	5,000.00
938. Post	30,700.00
939. Telephone	1,700.00
940. Contingencies	1,500.00

584,811.29

## NORMAL COLLEGE OF THE CITY OF NEW YORK

941. Salaries of the Teaching Corps	303,540.00
Administration	
942. Salaries and Wages	11,350.00
943. General Supplies	22,150.00
944. Repairs and Replacements by Contract or Open Order	10,000.00
945. Post	3,000.00
946. Telephone	500.00
947. Contingencies	2,250.00

152,000.00

## BROOKLYN DISCIPLINARY TRAINING SCHOOL FOR BOYS

948. Salaries and Wages	38,052.00
949. General Supplies	38,691.00
950. Material for Repairs and Replacements by Departmental Labor	1,800.00

## CORONERS.

964. Salaries and Expenses of Coroners in the Borough of Manhattan.	\$62,300 00
965. Salaries and Expenses of Coroners in the Borough of The Bronx.	28,700 00
966. Salaries and Expenses of Coroners in the Borough of Brooklyn.	32,350 00
967. Salaries and Expenses of Coroners in the Borough of Queens.	22,000 00
968. Salaries and Expenses of Coroners in the Borough of Richmond.	13,250 00

159,700 00

## MUNICIPAL CIVIL SERVICE COMMISSION.

## Administration.

969. Salaries and Wages.	\$144,720 00
970. General Supplies.	382 00
971. Telephone.	1,000 00
972. Contingencies.	6,718 00

153,020 00

## BOARD OF ASSESSORS.

973. Salaries.	\$42,500 00
974. Contingencies.	2,000 00

44,500 00

## EXAMINING BOARD OF PLUMBERS.

975. Salaries.	\$5,868 00
976. General Supplies.	329 00
977. Contingencies.	50 00

6,259 00

## DEPARTMENT OF TAXES AND ASSESSMENTS.

978. Salaries and Wages.	\$855,900 00
979. General Supplies.	3,630 00
980. Telephone.	750 00
981. Contingencies.	10,620 00

470,900 00

## BOARD OF ESTIMATE AND APPORTIONMENT.

## GENERAL ADMINISTRATION.

982. Salaries.	\$87,150 00
Public Improvements and Franchises, Office of Chief Engineer.	
983. Salaries.	16,800 00
Division of Public Improvements.	
984. Salaries.	22,500 00
Division of Franchises.	
985. Salaries.	27,000 00
986. Fees of Consulting Architects and Engineers.	10,000 00
987. Contingencies.	91,250 00

115,000 00

## DETAILED POLICE.

Salaries (Not included in Departmental Appropriations).

987. Bellevue and Allied Hospitals.	2,800 00
987.1. Department of Street Cleaning.	43,900 00

## THE ARMOY BOARD.

## GENERAL ADMINISTRATION.

988. Salaries.	\$11,250 00
989. Contingencies.	100 00

\$11,350 00

## MAINTENANCE OF ARMOY.

## Boroughs of Manhattan and The Bronx.

990. Repairs and Supplies.	\$6,000 00
991. Seventh Regiment.	4,000 00
992. Eighth Coast Artillery District.	1,300 00
993. Ninth Coast Artillery District.	5,000 00
994. Twelfth Regiment.	2,000 00
995. Twenty-second Regiment.	2,000 00
996. Twenty-ninth Regiment.	4,100 00
997. Seventy-first Regiment.	4,500 00
998. Squadron "A."	6,500 00
999. First Battery.	3,000 00
1000. Second Battery.	1,000 00
1001. First Company Signal Corps.	1,000 00
1002. Headquarters First Brigade.	500 00
1003. First Battalion Naval Militia.	5,000 00
1004. Headquarters N. G., N. Y.	400 00
1005. Field Hospital.	5,000 00
1006. Headquarters First Battalion P. A.	120 00
1007. Contingencies.	4,500 00

\$50,750 00

\$89,410 00

## Boroughs of Brooklyn and Queens.

## Repairs and Supplies.

1008. Thirteenth Coast Artillery District.	\$6,500 00
1009. Fourteenth Regiment.	2,500 00
1010. Twenty-third Regiment.	2,700 00
1011. Forty-seventh Regiment.	4,100 00
1012. Squadron "C."	3,000 00
1013. Third Battery.	3,000 00
1014. Second Company Signal Corps.	1,700 00
1015. Second Battalion Naval Militia.	4,500 00
1016. Headquarters Second Brigade.	500 00
1017. Company "I," Tenth Regiment.	1,500 00
1018. Contingencies.	1,800 00

\$37,450 00

1,800 00

38,950 00

98,360 00

109,910 00

## FOR LIBRARY PURPOSES.

New York Public Library, Astor, Lenox and Tilden Foundations.	
1019. Salaries.	\$332,000 00
1020. Books, Binding, etc.	130,510 00
1021. Supplies.	45,000 00
1022. Telephone Service.	2,000 00
1023. Furniture and Repairs of.	5,000 00
1024. Fuel, Light, Rent, Repairs, etc.	75,400 00

\$398,510 00

Brooklyn Public Library.	
1025. Salaries.	\$218,158 00
1026. Books, Binding, etc.	92,875 00
1027. Supplies.	23,700 00
1028. Telephone Service.	1,800 00
1029. Furniture and Repairs of.	5,150 00
1030. Fuel, Light, Rent, Repairs, etc.	54,200 00

296,933 00

The Queens Borough Public Library.	
1031. Salaries.	\$58,280 00
1032. Books, Binding, etc.	22,490 00
1033. Supplies.	7,000 00
1034. Telephone Service.	700 00
1035. Furniture and Repairs of.	1,480 00
1036. Fuel, Light, Rent, Repairs, etc.	15,925 00

105,975 00

## THE CITY COURT OF NEW YORK.

1037. Salaries.	\$230,000 00
1038. Contingencies.	2,000 00
1039. Police Detail, Salaries.	1,000 00

233,000 00

## CITY MAGISTRATES' COURT, FIRST DIVISION.

1040. Salaries.	\$221,400 00
1041. Supplies and Contingencies.	4,500 00
1042. Police Detail, Salaries.	129,900 00

355,800 00

## CITY MAGISTRATES' COURT, SECOND DIVISION.

1043. Salaries.	\$227,100 00
1044. Supplies and Contingencies.	4,000 00
1045. Police Detail, Salaries.	96,000 00

328,600 00

## THE CITY OF NEW YORK.

## FOR CHARITABLE INSTITUTIONS.

Conditions Governing Payments to Charitable Institutions.  
The appropriations in this Budget are made subject to the following conditions:

1. The accounts and records of all charitable institutions receiving public moneys shall be so kept as to show all receipts, disbursements and population in such form as shall be satisfactory to the Comptroller. Records must show the addresses of parents, guardians or nearest relatives of inmates and other information designed to facilitate inquiry into their financial inability to make provision for dependents in the institutions.

2. Money received from the City Treasury shall be used by such institutions for recurring expenses of care, support, education and maintenance.

3. All institutions receiving public moneys and all their books of record and accounts shall at all reasonable times be open to the visitation, inspection and examination of duly authorized representatives of the Department of Finance and at all proper times the Department of Public Charities shall have access to the record of inmates.

4. Upon its appearing to the satisfaction of the Comptroller that it would be to the public interest to withhold payments to any charitable institution for which an apportionment has been made, he shall in his discretion suspend payments and give written notice to such institution of his intention to apply to the Board of Estimate and Apportionment for authority to cease making further payments, and upon the determination of said Board that such payments shall terminate, the right of any such institution to receive payments for services rendered thereafter shall thereon end.

5. Except where appropriations are made in bulk and not upon the per capita basis, no payment shall be made for inmates of private charitable institutions unless the same shall have been accepted by the Commissioner of the Department of Public Charities as proper charges upon the City. Except in emergency cases in hospitals, the Commissioner of Charities shall not accept as proper charges against the City inmates capable of paying for their own support or for whose care adequate provision can be made in public hospitals. The City shall not be liable for any payment to charitable institutions in excess of the apportionment which may have been made to such institutions, notwithstanding any per capita rules of payment that may have been fixed for the inmates thereof.

6. All institutions receiving money from the City are required to state specifically the amounts so received, as from the City Treasury, in their printed annual reports.

7. No money shall be paid to any private charitable institution which pays any salary to or gives any consideration, financial or of any kind, for services to, or that has any business dealing with, or secures goods or merchandise, directly or indirectly, from any officer or trustee or member of its Board of Managers.

8. That charitable institutions for children now carried in the Budget and not sending their inmates to the public

hospitals. The records of the institutions and the bed-card notes showing the treatment given shall be received as the essential evidence in deciding acceptances or rejections.

12. No dependent child under 16 years of age shall be accepted as a proper charge upon the City and no money will be paid for the care, support, maintenance or education of such child unless it shall have been lawfully committed to a suitable private charitable institution having its own plant and equipment for the proper protection and care of children, under the supervision of the State Board of Charities, and has been placed in this Budget by the Board of Estimate and Apportionment.

This order has no relation to the class of children of such mental and physical condition as those cared for in the City Institution at Randalls Island.

13. The rates of payments to private charitable institutions, unless otherwise specially provided for, are fixed for the various classes of inmates as follows:

For infants under two (2) years of age, and in general hospitals under the age of five (5), per day.....  
For dependent children from two (2) to sixteen (16) years of age, per week.....  
For delinquent children, per annum.....  
For children in Cottages, not to exceed 50 inmates, additional per week.....  
For adult inmates of Reformatories, committed by the Courts, per annum.....  
For inmates in homes for unfortunate and friendless women, per annum.....  
\*For homeless mothers nursing infants, per month.....  
\*For cases in maternity hospitals and emergency cases in general hospitals, per case.....  
To hospitals for medical treatment, per day.....  
To hospitals for surgical treatment, per day.....  
To hospitals conducted exclusively for consumptive patients, per day.....  
To hospitals for cancer patients, per day.....  
For the chronic, incurable or infirm, per day.....  
For defective children in institutions maintained exclusively for such, per day.....  
For disbursements in placing or indenturing children in permanent homes, per child.....  
For annual supervision of children placed in homes, per annum.....  
Ambulances paid in monthly installments:

For services of Custodian, first year, \$900; second year, \$1,050; thereafter, \$1,200 per annum.

Payments are made to the following named institutions under Laws of 1901, chapter 466, section 220:

1046. Asylum of the Sisters of St. Dominic.....	\$82,474.66
1047. Asylum of St. Vincent de Paul.....	8,790.12
1048. Association for Befriending Children and Young Girls (House of the Holy Family).....	8,359.32
1049. American Female Guardian Society and Home for the Friendless:	
For the care and education of poor children in the Industrial Schools, and not in the Home School (in addition to the apportionment of Corporate School Fund), at a per capita of 70 cents per school month during 10 months in the year.....	42,664.40
1050. Brooklyn Howard Colored Orphan Asylum.....	23,624.74
1051. Brooklyn Training School and Home for Young Girls.....	3,163.34
1052. Bushwick and East Brooklyn Dispensary Association.....	210.56
1053. Brooklyn Industrial School Association and Home for Destitute Children.....	28,461.20
1054. Beth Israel Hospital.....	36,903.84
1055. Brooklyn Nursery and Infants' Hospital.....	10,716.92
1056. Brooklyn Hospital.....	20,117.60
1057. Bushwick Hospital.....	3,138.58
1058. Brooklyn Central Dispensary.....	250.00
1059. Brooklyn Eastern District Homeopathic Dispensary.....	250.00
1060. Brooklyn Home for Consumptives.....	17,827.00
1061. Brooklyn Children's Aid Society.....	13,106.38
1062. For Seaside Home, payable in twelve monthly installments.	2,300.00
1063. Brooklyn Society for the Prevention of Cruelty to Children.....	20,000.00
Payable in twelve monthly installments.	
1064. Brooklyn Hebrew Orphan Asylum.....	40,351.58
1065. Brooklyn City Dispensary.....	250.00
1066. Brooklyn Eastern District Dispensary and Hospital.....	8,181.82
1067. Brooklyn Catholic Protectory.....	17,300.00
1068. Colored Orphan Asylum and Association for the Benefit of Colored Children in the City of New York.....	23,231.73
1069. Columbus Hospital.....	14,161.48
Church Charity Foundation of Long Island—	
Home for the Blind:	
1070. For inmates accepted by the Department of Public Charities, at the rate of \$100 per annum each.....	492.46
1071. Orphan House.....	5,239.33
1072. St. John's Hospital.....	7,370.94
1073. Children's Aid Society—	
For inmates accepted by the Department of Public Charities, to wit: For the care and education of poor children in the Industrial Schools (in addition to the apportionment of the Corporate School Fund), at a per capita of 70c. per school month during 10 months in the year; for the support and training of homeless boys and girls in the lodging-houses and farm at a per capita of \$30 per annum each.....	70,000.00
1074. Catholic Home Bureau—	
Payable in twelve monthly installments.....	10,000.00
1075. Deutsche Poliklinik (Dispensary).....	250.00
1076. Dominican Convent of Our Lady of the Rosary.....	120,413.76
1077. Finishing Hospital and Dispensary.....	18,386.96
1078. Five Points House of Industry.....	29,336.74
1079. Gates Avenue Homeopathic Dispensary.....	250.00
1080. German Hospital of Brooklyn.....	9,285.84
1081. German Odd Fellows' Home and Orphan Asylum.....	9,181.22
1082. German Hospital and Dispensary.....	33,305.86
1083. Good Counsel Training School for Young Girls.....	7,432.30

1084. Hebrew Infant Asylum of The City of New York.....	18,169.92
1085. Hebrew Sheltering Guardian Society.....	111,252.80
1086. Hebrew Orphan Asylum.....	139,100.18
1087. House of Calvary.....	5,668.80
1088. House of Mercy.....	16,792.98
1089. Hope Farm.....	12,229.98
House of St. Giles the Cripple—	
1090. For the care and maintenance of inmates accepted by the Department of Public Charities, at the rate of \$150 per annum each.....	8,876.92
1091. House of the Good Shepherd.....	40,507.38
1092. Institution of Mercy.....	97,489.66
1093. Industrial School Association of Brooklyn, N. Y. ....	43,947.58
1094. International Sunshine Society.....	3,015.60
1095. Jamaica Hospital.....	8,832.59
1096. Lebanon Hospital Association.....	34,181.54
1097. Low Maternity (Branch of Brooklyn Hospital).....	1,478.98
1098. Long Island College Hospital.....	21,853.30
1099. Lutheran Hospital Association (City of New York and Vicinity).....	3,949.20
1100. Lincoln Hospital and Home.....	82,000.00
(For Ambulance Service)	
1101. Payable in monthly installments.....	2,400.00
1102. Missionary Sisters, Third Order of St. Francis.....	115,920.88
1103. Mission of the Immaculate Virgin for the Protection of Homeless and Destitute Children.....	165,445.86
1104. Methodist Episcopal Hospital in the City of Brooklyn.....	6,561.28
1105. Maternity of the Long Island College Hospital.....	1,198.56
1106. Mary Immaculate Hospital.....	13,620.10
1107. Misericordia Hospital.....	23,094.58
1108. Manhattan Eye, Ear and Throat Hospital.....	7,931.10
1109. New York Catholic Protectory.....	288,026.06
1110. New York Juvenile Asylum.....	55,005.46
1111. New York Infant Asylum.....	114,570.86
1112. New York Foundling Hospital.....	345,379.90
1113. Nursery and Child's Hospital.....	4,063.56
1114. New York Eye and Ear Infirmary.....	11,285.10
1115. New York Post Graduate Medical School and Hospital.....	23,544.00
1116. Northwestern Dispensary.....	250.00
1117. Northern Dispensary of The City of New York.....	250.00
1118. New York Polyclinic Medical School and Hospital.....	8,409.20
1119. New York Homeopathic Medical College and Hospital.....	12,151.60
1120. New York Infirmary for Women and Children.....	3,532.58
1121. New York Ophthalmic Hospital.....	6,001.00
1122. New Amsterdam Eye and Ear Hospital.....	250.00
1123. Norwegian Lutheran Deaconesses' Home and Hospital.....	10,356.92
1124. Northeastern Dispensary in The City of New York.....	250.00
1125. New York Magdalene Benevolent Society.....	4,793.80
1126. New York Society for the Prevention of Cruelty to Children.....	40,000.00
Payable in twelve monthly installments.	
1127. New York Ophthalmic and Aural Institute.....	250.00
1128. Orphan Home (Brooklyn).....	87,582.86
1129. Orphan Asylum Society of the City of Brooklyn.....	16,801.08
1130. Ottile Orphan Asylum.....	1,094.14
1131. Peabody Home for Aged and Indigent Women.....	4,512.00
For the care and maintenance of inmates accepted by the Department of Public Charities, at the rate of 40 cents per diem.	
1132. Prospect Heights Hospital and Brooklyn Maternity.....	600.00
1133. Roman Catholic Orphan Asylum Society, St. Joseph's Female Orphan Asylum; Roman Catholic Orphan Asylum Society, St. John's Home.....	201,131.98
1134. Richmond County Society for the Prevention of Cruelty to Children.....	1,600.00
Payable in twelve monthly installments.	
1135. Roman Catholic House of the Good Shepherd.....	10,144.84
1136. St. Mark's Hospital, New York City.....	3,872.80
1137. St. Mary's Maternity and Infants' Home.....	17,952.70
1138. St. Christopher's Hospital for Babies.....	3,258.90
1139. St. Mary's General Hospital of the City of Brooklyn.....	24,210.92
1140. St. Peter's Hospital.....	33,951.70
1141. St. Catharine's Hospital.....	32,645.22
1142. Society for the Aid of Friendless Women and Children.....	7,039.98
1143. St. John's Long Island City Hospital.....	39,351.00
1144. St. Zita's Home for Friendless Women.....	2,000.00
1145. St. John's Guild.....	22,500.00
Payable in twelve monthly installments.	
1146. Sanitarium for Hebrew Children.....	7,500.00
Payable in twelve monthly installments.	
1147. St. Vincent's Hospital of The City of New York.....	55,754.82
(For Ambulance Service)	
1148. Payable in twelve monthly installments.....	3,000.00
1149. St. Joseph's Hospital (Queens).....	9,991.20
1150. St. Gregory Emergency Hospital.....	7,453.30
1151. Sydenham Hospital.....	10,738.20
1152. St. Joseph's Hospital (New York City).....	88,462.80
1153. St. Francis Hospital.....	66,261.90
1154. Sacred Heart Orphan Asylum.....	11,007.92
1155. St. Agatha Home for Children.....	71,607.61
1156. St. Michael's Home.....	25,992.46
1157. St. Joseph's Asylum.....	99,771.72
1158. St. Ann's Home for Destitute Children.....	39,508.14
1159. St. Malachy's Home.....	187,074.64
1160. Sheltering Arms Nursery of Brooklyn.....	5,859.86
1161. St. Anne Maternity Hospital.....	17,295.46
1162. St. John's Hospital, New York City.....	103,351.52
1163. St. Agnes' Hospital for Crippled and Atypical Children.....	40,500.00
1164. St. Vincent's Hospital, Borough of Richmond.....	30,228.70
(For Ambulance Service)	
1165. Payable in twelve monthly installments.....	1,200.00
1166. Samaritan Hospital of Brooklyn.....	901.28

\* Institutions shall be paid \$18 for the care of the mother and child during fifteen days of her confinement and for every day thereafter shall be paid at the rate of 40 cents per day for the support of the child, and also \$2 per month for the maintenance of the mother, if she remains in the institution nursing infant after the expiration of the fifteen days.

1167. The Convent of the Sisters of Mercy in Brooklyn.....	153,737.74
1168. The New York Society for the Relief of the Ruptured and Crippled.....	23,544.72
For the care and maintenance of inmates accepted by the Department of Public Charities at the rate of \$200 each per annum.	
1169. The Orphan Home for Friendless Women.....	8,521.68
1170. Temporary Home for Children of Queens County, N. Y.....	2,457.00
1171. The Babies' Hospital of The City of New York.....	7,187.70
1172. The Harlem Eye, Ear and Throat Infirmary.....	250.00
1173. The Society of the Lying-in Hospital of The City of New York.....	31,366.12
1174. The Mount Sinai Hospital of The City of New York.....	78,909.48
1175. The J. Hood Wright Memorial Hospital.....	8,925.40
For Ambulance Service.)	
1176. Payable in twelve monthly installments.....	2,400.00
1177. The Jewish Hospital.....	20,485.60
1178. The Harlem Dispensary.....	250.00
1179. The Brooklyn Eye and Ear Hospital.....	4,942.40
1180. The S. R. Smith Infirmary.....	16,112.32
For Ambulance Service.)	
1181. Payable in twelve monthly installments.....	1,200.00
1182. The Jewish Protective and Aid Society.....	30,638.20
1183. The Swedish Hospital in Brooklyn.....	4,617.70
1184. Williamsburgh Hospital.....	7,985.16
1185. Washington Square Home for Friendless Girls.....	1,708.88
1186. West Side German Dispensary.....	250.00
1187. Wilson Industrial School for Girls.....	1,000.00
For inmates accepted by the Department of Public Charities, to wit: For the care and education of poor children in the Industrial School at a per capita of 70 cents per school month, during 10 months in the year.	
1188. Wayside Home.....	2,431.10
1189. Washington Heights Hospital.....	3,546.40
1190. Yorkville Dispensary and Hospital for Women and Children.....	2,861.80
1191. Hospital for Deformities and Joint Diseases.....	3,600.00
1192. New York Medical College and Hospital for Women.....	3,000.00
1193. New York Red Cross Hospital.....	3,000.00
1194. Brooklyn Home for Blind, Crippled and Defective Children.....	18,000.00
1195. Rockaway Beach Hospital and Dispensary.....	3,000.00
1196. Council Home for Friendless Jewish Children.....	4,000.00
1197. Arrearages for Charitable Institutions for the year 1908.....	288,000.00
1198. For Ambulances in the Boroughs of Brooklyn and Queens.....	15,325.90
	4,760,650.98

## RENTS.

1199. Rents.....	982,342.81
MISCELLANEOUS	
1200. Advertising, not otherwise provided for, including Arrearages.....	8175,000.00
1201. Corporation Advertising, Borough of Brooklyn.....	100,000.00
1202. Commissioners of the Sinking Fund, Expenses of.....	17,000.00
1203. Inspectors and Sealers of Weights and Measures.....	30,000.00
1204. Salaries of General Interpreters, Borough of Brooklyn.....	12,000.00
1205. Board of Building Examiners, Expenses of.....	11,000.00
1206. United States Volunteer Life Saving Corps.....	10,000.00
1207. For Expenses of the Art Commission.....	7,000.00
1208. For Collating, Copying and Indexing Old Records of Kings County.....	6,000.00
1209. For Costs of Commitments of Insane Persons, pursuant to chapter 545, Laws of 1896.....	5,000.00
1210. Widows' and Orphans' Fund of Volunteer Fire Departments, Towns of Flushing, Gravesend, New Utrecht and Flatlands.....	1,000.00
1211. Widows' and Orphans' Fund of Volunteer Fire Departments, Borough of Brooklyn (chapter 647, Laws of 1901).....	5,000.00
1212. Municipal Explosives Commission, Expenses of.....	4,000.00
1213. Memorial Day Observances, Borough of Manhattan.....	2,000.00
1214. Memorial Day Observances, Borough of Brooklyn.....	2,000.00
1215. Board of Parole.....	2,000.00
1216. Memorial Committee of the United Spanish War Veterans (chapter 360, Laws of 1906).....	1,800.00
1217. Kings County Volunteer Firemen's Association (chapter 650, Laws of 1895).....	1,500.00
1218. Hudson-Fulton Celebration Commission, Expenses of.....	1,000.00
1219. For the Sixteenth Installment on Assessment of Sea Breeze Avenue, in the Borough of Brooklyn.....	985.44
1220. Allowance to Veteran Associations for Decoration Day Observances, Borough of Brooklyn, pursuant to chapter 13, Laws of 1897.....	900.00
1221. Annual Compensation to John T. Mayers, a former employee of the Fire Department, for damages (chapter 172, Laws of 1903).....	400.00
1222. Memorial Day Observances, Borough of The Bronx.....	300.00
1223. Memorial Committee of the Army and Navy Union (chapter 360, Laws of 1906).....	700.00
1224. Memorial Day Observances, Borough of Queens.....	200.00
1225. Memorial Day Observances, Borough of Richmond.....	200.00
1226. School Census Board (chapter 249, Laws of 1908).....	10,000.00
1227. Staten Island Association of Arts and Sciences.....	4,000.00
1227.4. Board of Revision of Assessments.....	3,000.00
	426,385.44

## MUNICIPAL COURTS, CITY OF NEW YORK

## BOROUGH OF MANHATTAN.

First District Court—	
1228. Salaries.....	\$61,300.00
1228.1. Contingencies.....	600.00
	\$61,900.00
Second District Court—	
1229. Salaries.....	\$100,000.00
1230. Contingencies.....	600.00
	100,600.00

Third District Court—	
1231. Salaries.....	\$42,200.00
1232. Contingencies.....	400.00
	42,600.00
Fourth District Court—	
1233. Salaries.....	\$43,700.00
1234. Contingencies.....	200.00
	43,900.00
Fifth District Court—	
1235. Salaries.....	\$50,700.00
1236. Contingencies.....	200.00
	50,900.00
Sixth District Court—	
1237. Salaries.....	\$40,200.00
1238. Contingencies.....	200.00
	40,400.00
Seventh District Court—	
1239. Salaries.....	\$53,700.00
1240. Contingencies.....	200.00
	53,900.00
Eighth District Court—	
1241. Salaries.....	\$43,700.00
1242. Contingencies.....	200.00
	43,900.00
Ninth District Court—	
1243. Salaries.....	\$60,700.00
1244. Contingencies.....	200.00
	60,900.00
	\$20,000.00
BOROUGH OF THE BRONX.	
First District Court—	
1245. Salaries.....	\$19,600.00
1246. Contingencies.....	200.00
	\$19,800.00
Second District Court—	
1247. Salaries.....	\$21,100.00
1248. Contingencies.....	200.00
	21,300.00
	41,100.00
BOROUGH OF BROOKLYN	
First District Court—	
1249. Salaries.....	\$24,700.00
1250. Contingencies.....	200.00
	\$24,900.00
Second District Court—	
1251. Salaries.....	\$37,100.00
1252. Contingencies.....	200.00
	37,300.00
Third District Court—	
1253. Salaries.....	\$40,700.00
1254. Contingencies.....	200.00
	40,900.00
Fourth District Court—	
1255. Salaries.....	\$31,100.00
1256. Contingencies.....	200.00
	31,300.00
Fifth District Court—	
1257. Salaries.....	\$21,100.00
1258. Contingencies.....	200.00
	21,300.00
Sixth District Court—	
1259. Salaries.....	\$37,100.00
1260. Contingencies.....	200.00
	37,300.00
Seventh District Court—	
1261. Salaries.....	\$40,700.00
1262. Contingencies.....	200.00
	40,900.00
	221,900.00
BOROUGH OF QUEENS	
First District Court—	
1263. Salaries.....	\$15,100.00
1264. Contingencies.....	200.00
	\$15,300.00
Second District Court—	
1265. Salaries.....	\$15,400.00
1266. Contingencies.....	200.00
	15,600.00
Third District Court—	
1267. Salaries.....	\$15,400.00
1268. Contingencies.....	200.00
	15,600.00
	46,800.00
BOROUGH OF RICHMOND	
First District Court—	
1269. Salaries.....	\$15,400.00
1270. Contingencies.....	200.00
	15,600.00
Second District Court—	
1271. Salaries.....	\$15,400.00
1272. Contingencies.....	200.00
	15,600.00
	31,200.00
MISCELLANEOUS	
1273. Compensation for Assignment of Justices from Boroughs of Queens and Richmond to the Boroughs of Manhattan and The Bronx.....	\$1,000.00
1274. Compensation for Assignment of Justices from the Boroughs of Queens and Richmond to the Boroughs of Brooklyn.....	1,000.00

1275. Compensation of Clerk acting as Secretary to Board of Justices.....	1300.00	1322. Salaries and Wages.....	206,100.00		
1276. Compensation of Attendant designated as Attendant to Board of Justices.....	300.00	1323. General Supplies.....	980.00		
1277. Contingencies to Board of Justices.....	200.00	1324. Apparatus, Machinery, Vehicles, Horses, Equipment, Care and Storage of Same.....	3,900.00		
	3,530.00	1325. Contingencies.....	3,120.00		
			292,850.00		
		1326. Police Detail—Salaries.....	28,466.00		
			2,597,508.62		
COURT OF SPECIAL SESSIONS—FIRST DIVISION.					
1278. Salaries.....	386,470.00	1336. Salaries.....	\$59,000.00		
1279. Contingencies.....	5,000.00	1337. Engineering Division, Salaries.....	26,600.00		
1280. Police Detail—Salaries.....	18,200.00	1338. General Supplies.....	500.00		
	108,170.00		\$80,100.00		
CHILDREN'S COURT—FIRST DIVISION.					
1281. Salaries.....	315,100.00	1339. Maps for Street Openings.....	\$63,000.00		
1282. Contingencies.....	720.00	1340. General Supplies.....	1,000.00		
1283. Police Detail—Salaries.....	10,400.00	1341. Contingencies.....	500.00		
	26,250.00		64,500.00		
COURT OF SPECIAL SESSIONS—SECOND DIVISION.					
1284. Salaries.....	364,300.00	1342. Salaries.....	\$35,600.00		
1285. Supplies and Contingencies.....	3,000.00	1343. Maintenance of Highways.....	587,576.00		
1286. Police Detail—Salaries.....	9,900.00	1344. For Removing Incumbrances.....	4,580.00		
	76,400.00	1345. Salaries.....	57,000.00		
CHILDREN'S COURT—SECOND DIVISION.					
1287. Salaries.....	611,800.00		693,670.00		
1288. Supplies and Contingencies.....	1,000.00				
1289. Police Detail—Salaries.....	3,600.00				
	18,400.00				
PRESIDENT, BOROUGH OF MANHATTAN.					
GENERAL ADMINISTRATION.					
1291. Salaries.....	372,400.00	1346. Salaries.....	\$25,150.00		
1294. Contingencies.....	5,000.00	1347. Boring Examinations—Salaries and Wages.....	21,298.00		
	378,400.00	1348. Contingencies.....	1,020.00		
Bureau of Engineers of Street Openings.					
1295. Salaries.....	314,550.00	1349. Preliminary Surveys.....	45,500.00		
1296. Contingencies.....	3,480.00	1350. Maintenance, Including Cleaning and Repairs.....	135,513.38		
	37,730.00		226,281.28		
Bureau of Highways.					
Administration—					
1301. Salaries.....	883,200.00	1351. Salaries.....	\$10,000.00		
1302. General Supplies.....	1,200.00	1352. Salaries and Wages.....	54,859.10		
1303. Contingencies.....	4,540.00	1353. General Supplies.....	9,000.00		
1304. Flagging Sidewalks and Paving Vacant Lots in Front of City Property.....	1,500.00	1354. Materials for Repairs and Replacement by Departmental Labor.....	700.00		
Vinadex, Maintenance and Repairing of—		1355. Apparatus, Machinery, Vehicles, Horses, Equipment, Care and Storage of Same.....	250.00		
1305. Salaries and Wages.....	4,992.00	1356. Fuel.....	4,500.00		
1306. General Supplies.....	3,000.00	1357. Telephone, Rental of.....	1,000.00		
Street Signs, Maintenance of—		1358. Contingencies.....	1,000.00		
1307. General Supplies.....	4,960.00				
1308. Maintenance at Highways.....	792,201.84	Bureau of Public Buildings and Offices.			
	395,602.88	Administration—			
Bureau of Incumbrances.					
1309. Salaries and Wages.....	18,260.00	1359. Salaries.....	8,212.50		
1310. Contingencies.....	7,000.00	1360. Contingencies.....	800.00		
	25,260.00		86,431.50		
Bureau of Sewers.					
Administration—					
1311. Salaries.....	309,554.00	1361. Salaries.....	\$44,500.00		
1312. General Supplies.....	1,000.00	1362. Field and Inspection—Salaries.....	80,250.00		
1313. Contingencies.....	2,320.00	1363. Contingencies.....	1,500.00		
Engineering Division—					
1314. Salaries and Wages, Mechanical Force.....	41,714.00	1364. Apparatus, Machinery, Vehicles, Horses, Equipment, Care and Storage of Same.....	3,000.00		
Maintenance, Public Buildings and Offices—			115,530.00		
1315. Salaries and Wages, Labor Force.....	301,040.75	1365. Police Detail—Salaries.....	1,400.00		
1316. General Supplies.....	36,200.00		1,400.00		
1317. Materials for Repairs and Replacements by Departmental Labor.....	3,000.00	PRESIDENT OF THE BOROUGH OF BROOKLYN.			
1318. Repairs and Replacements by Contract or Open Order.....	88,200.00	GENERAL ADMINISTRATION.			
1319. Fuel.....	11,000.00	1366. Salaries.....	\$81,012.00		
1320. Hired Teams, Horses and Carts.....	28,392.00	1367. Contingencies.....	3,000.00		
1321. Telephones, Rental of.....	11,000.00		84,114.00		
1322. Contingencies.....	9,000.00	Division of Substructures.			
Maintenance, Public Baths and Comfort Stations—		1368. Salaries.....	\$32,645.00		
1323. Salaries and Wages, Superintendence and Labor Force.....	235,813.75	1369. Contingencies.....	800.00		
1324. General Supplies.....	4,000.00		23,149.00		
1325. Materials for Repairs and Replacements by Departmental Labor.....	1,000.00	Bureau of Highways.			
1326. Repairs and Replacements by Contract or Open Orders.....	25,000.00	Administration—			
1327. Apparatus, Machinery, Vehicles, Horses, Equipment, Care and Storage of.....	3,000.00	1370. Salaries.....	\$27,540.00		
1328. Fuel.....	40,000.00	1371. Engineering Division—Salaries and Wages, Technical Staff.....	76,450.00		
1329. Contingencies.....	1,000.00	1372. Maintenance of Highways.....	794,834.00		
	982,811.10	Division of Incumbrances—			
Bureau of Buildings.					
Administration—					
1331. Salaries.....	478,710.00	1373. Salaries.....	9,000.00		
		1374. Maintenance.....	7,308.00		
		1375. Hired Teams, Horses and Carts.....	1,500.00		
		1376. Apparatus, Machinery, Vehicles, Horses.....	1,000.00		
		1377. Equipment, Care and Storage of Same.....	1,000.00		
		1378. Contingencies.....	1,000.00		
			919,012.00		
Bureau of Sewers.					
Administration—					
1379. Salaries.....	530,000.00	1379. Engineering Division—Salaries and Wages, Technical Staff.....	96,800.00		
1380. Maintenance, Including Repairing and Cleaning.....	468,159.29	1381. Maintenance, Including Repairing and Cleaning.....	468,159.29		
			515,139.29		

Bureau of Public Buildings and Offices.	
Administration—	
1380. Salaries	\$52,800.00
Maintenance—	
1381. Salaries and Wages	282,395.78
1382. General Supplies	56,352.00
1383. Materials for Repairs and Replacements by Departmental Labor	3,222.00
1384. Repairs and Replacements by Contracts or Open Orders	68,077.00
Apparatus, Machinery, Vehicles, Horses—	
1385. Equipment, Care and Storage of same	14,490.00
1386. Fuel	50,000.00
1387. Telephones	6,000.00
1388. Contingencies	500.00
	519,736.98

Bureau of Buildings.	
Administration—	
1389. Salaries	\$56,540.00
Inspection and Field Force—	
1390. Salaries	150,095.00
1391. Contingencies	6,000.00
	212,635.00

Topographical Bureau.	
Making Maps for Street Openings—	
1392. Salaries and Wages	\$65,400.00
1393. Contingencies	2,500.00
	67,900.00
1393½. Police Detail—Salaries	1,400.00
	2,332,421.48

PRESIDENT, BOROUGH OF QUEENS.	
GENERAL ADMINISTRATION.	
1394. Salaries	\$35,000.00
1395. Contingencies	3,000.00
	38,000.00

Bureau of Highways.	
Administration—	
1396. Salaries	\$80,350.00
Engineering and Inspection Force—	
1397. Salaries and Wages	12,000.00
1398. Maintenance of Highways	610,481.48
	663,831.48

Bureau of Sewers.	
Administration—	
1399. Salaries	\$11,850.00
Engineering Force—	
1400. Salaries and Wages	15,600.00
1401. Maintenance, including Cleaning and Repairs	189,352.00
	166,802.00

Bureau of Street Cleaning.	
Administration—	
1402. Salaries	\$10,950.00
Sweeping, Carting and Final Disposition—	
1403. Salaries and Wages	105,000.00
1404. Hired Teams, Horses and Carts	116,000.00
1405. Contract for Garbage Removal	10,200.00
1406. General Supplies	4,000.00
1407. Materials for Repairs and Replacements by Departmental Labor	1,300.00
1408. Repairs and Replacements by Contracts or Open Order	1,200.00
1409. Apparatus—Vehicles, Machinery, Horses; Equipment, Care and Storage of same	1,300.00
1410. Fuel	2,000.00
1411. Contingencies	500.00
1412. Removal of Snow and Ice	250.00
	253,100.00

Bureau of Public Buildings and Offices.	
Administration—	
1413. Salaries	\$8,820.00
Maintenance, Public Buildings and Offices—	
1414. Salaries and Wages	57,371.95
1415. General Supplies	8,500.00
1416. Materials for Repairs and Replacements by Departmental Labor	3,000.00
1417. Repairs and Replacements by Contracts or Open Orders	4,500.00
1418. Fuel	7,500.00
1419. Contingencies	1,000.00
1420. Telephones, Rental of	4,500.00
Maintenance, Public Baths and Comfort Stations—	
1421. Salaries and Wages	13,371.75
1422. Steaming, Berthing and Towing	600.00
	107,901.70

Bureau of Public Buildings.	
Administration—	
1423. Salaries	\$17,122.00
Inspection and Field—	
1424. Salaries and Wages	20,050.00
1425. Contingencies	3,300.00
	47,272.00

Topographical Bureau.	
Division for Making Maps for Street Openings—	
1426. Salaries and Wages	\$49,000.00
1427. General Supplies	500.00
1428. Contingencies	500.00
	50,000.00
	1,327,307.18

PRESIDENT, BOROUGH OF RICHMOND.	
GENERAL ADMINISTRATION.	
1429. Salaries	\$47,360.00
1430. Contingencies	3,350.00
	50,910.00

Bureau of Highways.	
Administration—	
1431. Salaries	\$11,710.00
1432. Maintenance of Highways	312,821.00
	324,531.00

Bureau of Sewers.	
Administration—	
1433. Salaries	\$6,400.00
1434. Maintenance, including Cleaning and Repairs	52,944.00
	59,344.00

Bureau of Street Cleaning.	
Administration—	
1435. Salaries	\$12,520.00
1436. Maintenance and Final Disposition	164,312.00
1437. Hired Teams, Horses and Carts	8,500.00
1438. General Supplies	15,700.00
1439. Materials for Repairs and Replacements by Departmental Labor	5,875.00
1440. Repairs and Replacements by Contracts or Open Orders	1,800.00
Apparatus, Machinery, Vehicles, Horses—	
1441. Equipment, Care and Storage of same	1,200.00
1442. Fuel	1,000.00
1443. Contingencies	300.00
	211,407.00

Bureau of Public Buildings and Offices.	
Administration and Maintenance—	
1444. Salaries and Wages	\$40,192.00
1445. Telephones, Rental of	4,000.00
1446. General Supplies	10,000.00
1447. Repairs and Replacements by Contracts or Open Orders	5,150.00
Apparatus, Machinery, Vehicles, Horses—	
1448. Equipment, Care and Storage of same	325.00
1449. Fuel	3,700.00
1450. Contingencies	300.00
	64,067.00

Bureau of Buildings.	
Administration—	
1451. Salaries and Wages	\$32,200.00
1452. Inspection and Field Force	18,350.00
1453. Contingencies	2,950.00
	25,500.00
Bureau of Engineering.	
Division for Making Maps for Street Openings—	
1454. Salaries and Wages	\$36,000.00
1455. General Supplies	1,400.00
1456. Repairs and Replacements by Contracts or Open Orders	230.00
Apparatus, Machinery, Vehicles, Horses—	
1457. Equipment, Care and Storage of same	1,250.00
1458. Contingencies	1,350.00
	8,310.00
	776,062.60

Total, City of New York..... \$148,446,904.83

THE COUNTY OF NEW YORK.	
BOARD OF CITY RECORD, COUNTY OF NEW YORK.	
PRINTING, STATIONERY AND BLANK BOOKS FOR COUNTY OFFICES AND COURTS OTHER THAN SUPERIOR COURT.	
1459. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks	\$11,950.00
1460. Stationery, Including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements	8,950.00
1461. Blank Books	23,000.00
	44,900.00
ARREARAGES.	
1462. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks	\$1,000.00
1463. Stationery, Including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements	2,500.00
1464. Blank Books	1,000.00
	4,500.00
SHERIFF OF THE COUNTY OF NEW	

1478. Support of Indigent Prisoners.....	3,100 00	
1479. General Supplies .....	350 00	
1480. Telephones, Rental of.....	1,100 00	
1480. Contingencies .....	1,400 00	
1480. Police Detail—Salaries .....	9,200 00	
	1,400 00	
	131,912 00	

## SUPREME COURT, FIRST DEPARTMENT.

1481. Salaries .....	\$913,000 00	
1482. Compensation of Justices from Other Districts.....	50,000 00	
1483. General Supplies, Including Printing.....	23,000 00	
1484. Contingencies .....	1,500 00	
1484. Police Detail—Salaries .....	4,200 00	
	\$991,700 00	

## APPELLATE DIVISION—COURT HOUSE, MAINTENANCE OF.

1485. Salaries and Wages .....	\$9,640 00	
APPELLATE DIVISION—COURT HOUSE, MAINTENANCE OF.		
1486. Salaries and Wages .....	9,840 00	
1487. General Supplies .....	4,845 00	
1488. Telephones, Rental of.....	375 00	
1489. Repairs and Replacements by Contracts or Open Orders .....	2,500 00	
1490. Contingencies .....	1,010 00	
	28,250 00	
	1,019,950 00	

## COURT OF GENERAL SESSIONS.

1501. Salaries .....	\$289,000 00	
1502. Contingencies .....	1,250 00	
1503. Telephone Service .....	1,250 00	
	291,500 00	

## SURROGATES' COURT, COUNTY OF NEW YORK.

1504. Salaries .....	\$165,450 00	
GENERAL ADMINISTRATION.		
1505. Salaries .....	13,950 00	
PRESERVATION OF PUBLIC RECORDS.		
1506. Salaries .....	\$11,400 00	
1507. General Supplies .....	1,839 00	
1508. Telephones, Rental of.....	100 00	
1509. Contingencies .....	613 00	
	13,950 00	
	179,400 00	

## MISCELLANEOUS.

1510. County Contingent Fund .....	\$12,000 00	
1511. Fees and Expenses of Juries, New York County...	30,000 00	
1512. Disbursements and Fees under section 618, Code of Criminal Procedure .....	4,000 00	
1513. Fees of Stenographers, for transcribing Minutes of Trials in the Court of General Sessions and Supreme Court, and providing for the expense of preparing and printing Minutes and Judgment Rolls in the Court of General Sessions and Supreme Court, as provided by chapter 61, Laws of 1858, and chapter 379, Laws of 1859 .....	18,000 00	
1514. Fees of Witnesses subpoenaed on behalf of the People, etc. (chapter 98, Laws of 1855).....	20,000 00	
1515. For the Establishment and Maintenance of a Library for the Court of General Sessions and for the Supreme Court, Criminal Part, to be expended under the direction of the Judges of the Court of General Sessions .....	1,000 00	
1516. Rent—for payment of rent of property leased for public offices and other purposes of the County of New York for which no other provision has been made .....	21,320 00	
1517. Supplies for County Offices .....	2,300 00	
1518. Advertising Official Canvass and Election Notices .....	10,000 00	
1519. Compensation for Extra Clerks to Board of County Canvassers .....	2,500 00	
	\$289,520 00	
	468,920 00	

## CHARITABLE INSTITUTIONS.

SACRUE STATE INSTITUTION FOR FRENCH-CHURCH CHILDREN.	
(Chapter 546, Laws of 1856.)	
1521. For furnishing clothing, etc., for 102 inmates, at \$20 each.....	\$2,040 00
INSTITUTION FOR THE IMPROVED INSTRUCTION OF DEAF MUTES.	
(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 180, Laws of 1870.)	
(Chapter 213, Laws of 1875.)	
1522. For education and support for one entire year of 100 County pupils, at \$200 each.....	30,000 00
1523. For clothing 70 State pupils, at \$30 each per annum.....	2,100 00
NEW YORK INSTITUTION FOR THE BLIND.	
(Section 230, Greater New York Charter, as amended by chapter 196, Laws of 1859.)	
1524. For clothing 54 State pupils, at \$30 each per annum.....	2,700 00
St. JOSEPH'S INSTITUTE FOR THE IMPROVED INSTRUCTION OF DEAF MUTES.	
(Chapter 386, Laws of 1864.)	
(Chapter 212, Laws of 1873.)	
(Chapter 378, Laws of 1877.)	
1525. For education and support for one entire year of 121 County pupils, at \$200 each.....	30,300 00

1526. For clothing of 100 State pupils, at \$10 each per annum.....	\$3,000 00
NEW YORK INSTITUTION FOR THE INSTRUCTION OF THE DEAF AND DUMB.	
(Chapter 325, Laws of 1863.)	
(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 253, Laws of 1874.)	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	

1527. For education and support for one entire year of 146 County pupils, at \$200 each.....	\$44,400 00
1528. For clothing of 357 State pupils, at \$30 each per annum.....	10,710 00

WESTERN NEW YORK INSTITUTION FOR DEAF-MUTES.	
(Chapter 325, Laws of 1863.)	
(Chapter 331, Laws of 1876.)	

1529. For education and support for one entire year of 1 County pupil, at \$300 .....	\$300 00
1530. For clothing of 2 State pupils, at \$30 per annum.....	60 00

CENTRAL NEW YORK INSTITUTION FOR DEAF-MUTES.	
(Chapter 214, Laws of 1875.)	

1531. For clothing of 8 State pupils, at \$30 per annum.....	120 00
1532. Arrearages for 1908.....	89 34

115,819 34

## THE NATIONAL GUARD AND NAVAL MILITIA.

## New York Cavalry.

Armories and Drill Rooms—For Wages of Armories, Janitors, Engineers and Laborers for the State National Guard and Naval Militia, as provided by Chapter 231 of the Laws of 1868—

1533. Seventh Regiment:	
1 Armorer, at \$4 per day.....	\$1,440 00
1 Janitor, at \$4 per day.....	1,440 00
1 Engineer, at \$4 per day.....	1,440 00
1 Assistant Engineer, at \$4 per day.....	1,440 00
7 Laborers, at \$3 per day each.....	7,560 00
	\$15,008 00

1534. Eighth Coast Artillery District:	
1 Armorer, at \$4 per day.....	\$1,440 00
1 Janitor, at \$4 per day.....	1,440 00
1 Engineer, at \$4 per day.....	1,440 00
1 Assistant Engineer, at \$4 per day.....	1,440 00
1 Expert Laborer, at \$3 per day.....	1,095 00
6 Laborers, at \$3 per day each.....	6,570 00
	\$12,501 00

1535. Ninth Coast Artillery District:	
1 Armorer, at \$4 per day.....	\$1,440 00
1 Janitor, at \$4 per day.....	1,440 00
1 Engineer, at \$4 per day.....	1,440 00
1 Assistant Engineer, at \$4 per day.....	1,440 00
6 Laborers, at \$3 per day each.....	6,570 00
	\$12,410 00

1536. Twelfth Regiment:	
1 Armorer, at \$4 per day.....	\$1,440 00
1 Janitor, at \$4 per day.....	1,440 00
1 Engineer, at \$4 per day.....	1,440 00
1 Assistant Engineer, at \$4 per day.....	1,440 00
6 Laborers, at \$3 per day each.....	6,570 00
	\$12,410 00

1537. Twenty-second Regiment:	
1 Armorer, at \$4 per day.....	\$1,440 00
1 Janitor, at \$4 per day.....	1,440 00
1 Engineer, at \$4 per day.....	1,440 00
1 Assistant Engineer, at \$4 per day.....	1,440 00
6 Laborers, at \$3 per day each.....	6,570 00

1542. Squadron "A":		
1 Armorer, at \$4 per day.....	\$1,460.00	
1 Janitor, at \$4 per day.....	1,460.00	
1 Engineer, at \$4 per day.....	1,460.00	
1 Assistant Engineer, at \$4 per day.....	1,460.00	
21 Laborers, at \$3 per day each.....	22,995.00	
		23,855.00

1543. First Company Signal Corps:		
1 Armorer, at \$4 per day.....	\$1,460.00	
1 Janitor, at \$4 per day.....	1,460.00	
1 Laborer, at \$3 per day.....	1,095.00	
		4,015.00

1544. Headquarters Field Hospital:		
1 Armorer, at \$4 per day.....	\$1,460.00	
1 Janitor, at \$4 per day.....	1,460.00	
1 Laborer, at \$3 per day.....	1,095.00	
		4,015.00

1545. Headquarters, First Battalion Field Artillery:		
1 Armorer, at \$4 per day.....	1,460.00	

1546. Headquarters, First Brigade:		
1 Armorer, at \$4 per day.....	1,460.00	

1547. First Battalion, Naval Militia:		
1 Armorer, at \$4 per day.....	1,460.00	

1548. Seventh Regiment Armory, Trustees of:		
For payment to the Trustees of the Seventh Regiment Armory Building, for repairing, altering, maintaining and improving said building, pursuant to the provisions of chapter 518, Laws of 1893.....	8,000.00	

		183,565.00
--	--	------------

1549. COMMISSIONER OF RECORDS, NEW YORK COUNTY:		
Salaries.....	\$33,610.00	

1550. General Supplies.....	3,750.00	
1551. Contingencies.....	250.00	

1552. Repairs and Replacements by Contracts and Open Orders.....	2,000.00	
--	----------	--

		39,610.00
--	--	-----------

1553. COUNTY CLERK, NEW YORK COUNTY:		
Salaries—		

1554. Office of County Clerk.....	\$107,200.00	
1555. Preservation of Public Records.....	14,800.00	

		\$122,000.00
--	--	--------------

1556. General Supplies.....	1,760.00	
-----------------------------	----------	--

1557. Telephone.....	240.00	
----------------------	--------	--

		124,000.00
--	--	------------

1558. DISTRICT ATTORNEY, COUNTY OF NEW YORK:		
GENERAL ADMINISTRATION.....		

1559. Salaries.....	\$291,320.00	
---------------------	--------------	--

1560. BUREAU OF SPECIAL SESSIONS INFORMATION:		
Salaries.....		

1561. Salaries.....	17,640.00	
---------------------	-----------	--

1562. General Supplies.....	1,550.00	
-----------------------------	----------	--

1563. Telephones, Rental of.....	4,500.00	
----------------------------------	----------	--

1564. Contingencies.....	43,950.00	
--------------------------	-----------	--

1565. Police Detail—Salaries.....	32,900.00	
-----------------------------------	-----------	--

		371,860.00
--	--	------------

1566. COMMISSIONER OF JURORS, COUNTY OF NEW YORK:		
Salaries.....		

1567. Salaries.....	\$19,300.00	
---------------------	-------------	--

1568. General Supplies.....	2,244.00	
-----------------------------	----------	--

1569. Telephones, Rental of.....	200.00	
----------------------------------	--------	--

1570. Contingencies.....	2,556.00	
--------------------------	----------	--

		54,300.00
--	--	-----------

1571. THE REGISTER:		
GENERAL ADMINISTRATION.....		

1572. Salaries and Wages.....	\$209,420.00	
-------------------------------	--------------	--

1573. General Supplies.....	3,000.00	
-----------------------------	----------	--

1574. Telephones, Rental of.....	250.00	
----------------------------------	--------	--

1575. Contingencies.....	750.00	
--------------------------	--------	--

		\$212,420.00
--	--	--------------

1576. PRESERVATION OF PUBLIC RECORDS:		
Salaries.....		

1577. Salaries.....	\$15,000.00	
---------------------	-------------	--

1578. COPIING OLD MAPS.....	5,000.00	
-----------------------------	----------	--

1579. General Supplies.....	1,500.00	
-----------------------------	----------	--

		21,500.00
--	--	-----------

1580. LAND TITLE REGISTRATION:		

<tbl

Repairs and Replacements by Contracts or Open Orders—	
1624. Recopying and Reprinting Maps.....	1,000 00
1625. Recopying and Rebinding Mutilated and Worn-out Records.....	2,000 00
1626. Telephones, Rental of.....	400 00
1627. Contingencies.....	1,200 00
	93,130 00

## DISTRICT ATTORNEY, KINGS COUNTY.

1628. Salaries .....	\$92,000 00
1629. Contingencies .....	12,000 00
1630. Police Detail—Salaries.....	2,000 00
	106,000 00

## COMMISSIONER OF JURORS, KINGS COUNTY.

1631. Salaries .....	\$35,790 00
1632. General Supplies.....	150 00
1633. Telephones, Rental of.....	200 00
1634. Contingencies .....	1,450 00
1635. Police Detail—Salaries.....	1,400 00
	38,990 00

## THE NATIONAL GUARD AND NAVAL MILITIA.

## KINGS COUNTY.

Armories and Drill Rooms—For Wages of Armories, Janitors, Engineers and Laborers for the State National Guard and Naval Militia, as prescribed by Chapter 231 of the Laws of 1908—

1636. Thirteenth Coast Artillery District:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
1 Expert Laborer, at \$3 per day.....	1,095 00
12 Laborers, at \$3 per day each.....	13,140 00
	18,075 00

1637. Fourteenth Regiment:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
8 Laborers, at \$3 per day each.....	8,700 00
	14,000 00

1638. Twenty-third Regiment:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
2 Assistant Engineers, at \$4 per day each.....	2,800 00
8 Laborers, at \$3 per day each.....	8,700 00
	16,000 00

1639. Forty-seventh Regiment:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
8 Laborers, at \$3 per day each.....	8,700 00
	14,000 00

1640. Third Battery:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
1 Expert Laborer, at \$3 per day.....	1,095 00
4 Laborers, at \$3 per day each.....	3,385 00
6 Haulers, at \$3 per day each.....	6,570 00
	16,790 00

1641. Squadron "C":	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
7 Laborers, at \$3 per day each.....	7,605 00
12 Haulers, at \$3 per day each.....	13,140 00
	36,645 00

1642. Second Company, Signal Corps:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$4 per day.....	1,400 00
1 Laborer, at \$3 per day.....	1,093 00
	6,023 00

1643. Headquarters Second Brigade:	
1 Armorer, at \$4 per day.....	1,400 00

1644. Second Battalion, Naval Militia:	
1 Armorer, at \$4 per day.....	\$1,400 00
1 Janitor, at \$4 per day.....	1,400 00
1 Engineer, at \$4 per day.....	1,400 00
1 Chief Yeoman, at \$4 per day.....	1,400 00
1 Chief Boatswain's Mate, at \$4 per day.....	1,400 00
1 Assistant Engineer, at \$3.50 per day.....	1,277 50
1 Chief Gunner's Mate, at \$3 per day.....	1,095 00
4 Laborers, at \$3 per day each.....	4,388 00
2 Laborers, at \$2.50 per day each.....	2,727 50
	16,790 00

## MISCELLANEOUS.

1645. County Contingent Fund.....	\$5,000 00
1646. Fees and Expenses of Juries in Kings County.....	100,000 00
1647. Disbursements and Fees under Section 658, Code of Criminal Procedure.....	2,500 00
1648. Law Library in Brooklyn, Kings County.....	9,400 00
1649. Supplies for County Offices and Courts.....	1,250 00
	133,955 00

1650. Advertising Official Circulars and Election Notices.....	6,000 00
1651. Compensation for Extra Clerks to Board of County Commissioners.....	1,000 00
1652. Rent .....	1,000 00
1653. Compensation of Stenographer to Grand Jury.....	4,000 00
	130,650 00

## CHARITABLE INSTITUTIONS.

SYRACUSE STATE INSTITUTION FOR FEEBLE-MINDED CHILDREN:	
(Chapter 546, Laws of 1896.)	
1654. For Furnishing Clothing, etc., for 24 inmates, at \$20 each.....	\$480 00
INSTITUTION FOR THE IMPROVED INSTRUCTION OF DEAF MUTES:	
(Chapter 386, Laws of 1864.)	

(Chapter 180, Laws of 1870.)	
(Chapter 213, Laws of 1875.)	
1655. For Education and Support for One Entire Year of 23 County Pupils, at \$300 each.....	6,900 00
1656. For Clothing 8 State Pupils, \$30 each per annum.....	240 00

(Section 250, Greater New York Charter, as amended by Chapter 196, Laws of 1899.)	
1657. For Clothing 30 State Pupils, at \$50 each per annum.....	1,500 00
NEW YORK INSTITUTION FOR THE INSTRUCTION OF THE DEAF AND DUMPS:	
(Chapter 325, Laws of 1863.)	
(Chapter 725, Laws of 1867.)	
(Chapter 232, Laws of 1874.)	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	

1659. For Clothing 52 State Pupils, at \$30 each per annum.....	1,560 00
Sr. Joseph's INSTITUTE FOR THE IMPROVED INSTRUCTION OF DEAF MUTES:	
(Chapter 366, Laws of 1864.)	

(Chapter 378, Laws of 1877.)	
1660. For Education and Support for One Entire Year of 65 County Pupils, at \$300 each.....	19,500 00
1661	

1680. Board of Prisoners.....	23,000 00	1715. For compensation of Confidential Clerks to Justices of the Supreme Court, in the Second Judicial District, pursuant to chapter 892, Laws of 1896, and chapter 504, Laws of 1906.....	1,200 62
1681. Telephones, Rental of.....	400 00	1716. For compensation of the Justices of the Supreme Court, designated to the Appellate Division of the Second Judicial Department from any district other than the Second Judicial District, as authorized by chapter 309, Laws of 1898, and chapter 597, Laws of 1901.....	1,154 80
1682. Contingencies .....	10,000 00	1717. For compensation of Confidential Clerks to Justices of the Supreme Court, designated to the Appellate Division of the Second Department, pursuant to chapter 251, Laws of 1900, and chapter 748, Laws of 1904.....	482 01
SURROGATE'S COURT, QUEENS COUNTY.			10,579 69
1683. Salaries .....	\$16,700 00	1718. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks..	\$1,345 00
1684. General Supplies .....	700 00	1719. Stationery, including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements..	650 00
1685. Telephones, Rental of.....	300 00	1720. Blank Books .....	1,655 00
1686. Contingencies .....	150 00		\$3,650 00
COUNTY CLERK, QUEENS COUNTY.		ARREARAGES.	
1687. For Payment of Legal Fees.....	\$10,000 00	1721. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks..	\$500 00
1688. Repairing and Rebinding Books of Public Record.....	5,000 00	1722. Stationery, including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements ..	150 00
1689. Recopying and Transcribing Books of Public Record.....	12,000 00		650 00
1690. Recopying and Redrawing Maps.....	1,000 00		
1691. Repairs and Replacements by Contracts or Open Orders.....	250 00		
DISTRICT ATTORNEY, QUEENS COUNTY.			
1692. Salaries .....	\$30,600 00	1723. Salaries and Wages .....	\$12,645 00
1693. Police Detail, Salaries.....	4,900 00	1724. Court Officers .....	1,600 00
1694. Contingencies .....	7,000 00	1725. General Supplies .....	7,400 00
COMMISSIONER OF JURORS, QUEENS COUNTY.		1726. Horses and Vehicles; Equipment, Care and Storage of.....	750 00
1695. Salaries .....	\$9,500 00	1727. Telephones, Rental of.....	300 00
1696. Jury Notice Server's Fees.....	2,300 00	1728. Contingencies .....	650 00
1697. General Supplies .....	300 00		23,545 00
1698. Contingencies .....	300 00		
PUBLIC ADMINISTRATOR, QUEENS COUNTY.			
1699. Salary of the Public Administrator.....	1,200 00	1729. Salaries .....	\$15,450 00
MISCELLANEOUS.		1730. Additional Compensation to County Judge for Services in Drawing Jurors .....	2,500 00
1700. County Contingent Fund.....	\$3,000 00	1731. Telephones, Rental of .....	250 00
1701. Supplies for County Offices.....	1,000 00	1732. Contingencies .....	250 00
1702. Advertising Official Canvass and Election Notices.....	2,000 00		18,650 00
1703. Compensation for Extra Clerks to Board of County Canvassers.....	500 00		
THE NATIONAL GUARD			
QUEENS COUNTY.			
Armories and Drill Rooms—For Wages of Armories, Janitors, Engineers and Laborers for the State National Guard, as provided by Chapter 231 of the Laws of 1908—			
1704. Company "L," Tenth Regiment:			
1 Armorer, at \$4 per day.....	\$1,460 00	1733. Salaries .....	\$4,000 00
1 Engineer, at \$4 per day.....	1,460 00	1734. General Supplies .....	400 00
2 Laborers, at \$3 per day each.....	2,190 00	1735. Telephones, Rental of .....	200 00
	\$5,110 00	1736. Copying Indices to Lexicographical System.....	10,000 00
CHARITABLE INSTITUTIONS.		1737. Recopying, Rebinding and Renumbering Old Books.....	500 00
SYRACUSE STATE INSTITUTION FOR FEARLESS-MINDED CHILDREN		1738. Contingencies .....	150 00
(Chapter 546, Law of 1896.)			15,250 00
1705. For furnishing clothing, etc., for 4 inmates, at \$20 each.....	80 00	DISTRICT ATTORNEY, RICHMOND COUNTY.	
INSTITUTION FOR THE IMPROVED INSTRUCTION OF DEAF MUTES		1739. Salaries .....	\$8,650 00
(Chapter 386, Laws of 1864.)		1740. Contingencies .....	2,700 00
(Chapter 725, Laws of 1867.)		1741. Police Detail—Salaries .....	1,400 00
(Chapter 180, Laws of 1870.)			12,950 00
(Chapter 213, Laws of 1875.)			
1706. For education and support for one entire year of 3 County pupils, at \$200 each.....	900 00	COMMISSIONER OF JURORS, RICHMOND COUNTY.	
1707. For clothing 3 State pupils, at \$30 each per annum.....	90 00	1742. Salaries .....	\$3,900 00
NEW YORK INSTITUTION FOR THE BLIND		1743. Jury Notice Server's Fees.....	250 00
(Section 230, Greater New York Charter, as amended by chapter 196, Laws of 1899.)		1744. General Supplies .....	125 00
1708. For clothing 5 State pupils, at \$50 each per annum.....	250 00	1745. Contingencies .....	125 00
NEW YORK INSTITUTION FOR THE INSTRUCTION OF THE DEAF AND DUMB			4,400 00
(Chapter 325, Laws of 1863.)			
(Chapter 386, Laws of 1864.)			
(Chapter 725, Laws of 1867.)			
(Chapter 253, Laws of 1874.)			
(Chapter 213, Laws of 1875.)			
(Chapter 36, Laws of 1892.)			
1709. For education and support for one entire year of 3 County pupils, at \$300 each .....	1,500 00	MISCELLANEOUS.	
1710. For clothing 6 State pupils, at \$30 each per annum.....	180 00	1746. County Contingent Fund.....	\$2,400 00
Sr. JOSEPH'S INSTITUTE FOR THE IMPROVED INSTRUCTION OF DEAF MUTES		1747. Fees and Expenses of Jurors in Richmond County.....	2,000 00
(Chapter 386, Laws of 1864.)		1748. Disbursements and Fees under Section 652, Code of Criminal Procedure .....	300 00
(Chapter 213, Laws of 1875.)		1749. Rent—For payment of rent for property leased for public offices and other purposes of the County of Richmond for which no other provision has been made.....	2,047 00
(Chapter 378, Laws of 1877.)		1750. Supplies for County Offices .....	500 00
1711. For education and support for one entire year of four County pupils, at \$300 each.....	1,200 00	1751. Advertising Official Canvass and Election Notices.....	2,000 00
1712. For clothing two State pupils, at \$30 each per annum.....	60 00	1752. Compensation for Extra Clerks to Board of County Canvassers.....	500 00
			13,048 00
Total .....			
THE COUNTY OF RICHMOND.			
1713. For additional compensation of the Justices of the Supreme Court in the Second Judicial District, in pursuance of chapter 765, Laws of 1868; chapter 126, Laws of 1881; chapter 112, Laws of 1894; chapter 36, Laws of 1895; chapter 131, Laws of 1898, and chapter 465, Laws of 1908, and for the Stenographers under said first named act, as amended by chapter 114, Laws of 1904, to the 30th of September, 1909, as provided by chapter 465, Laws of 1908.....	\$6,983 48	CHARITABLE INSTITUTIONS.	
1714. For compensation of the Deputy Clerk and Attendants of the Appellate Division of the Supreme Court, in the Second Judicial Department, to September 30, 1909, as authorized by chapter 99, Laws of 1896; chapter 223, Laws of 1897; chapter 450, Laws of 1900; chapter 397, Laws of 1902, and chapter 384, Laws of 1905, and for a Case and Consultation Clerk under chapter 88, Laws of 1907, and for two Confidential Clerks, as authorized by chapter 560, Laws of 1907.....	688 58	SYRACUSE STATE INSTITUTION FOR FEARLESS-MINDED CHILDREN	
		(Chapter 546, Laws of 1896.)	
		1753. For furnishing clothing, etc., for one inmate, at \$20.....	\$10 00
		INSTITUTION FOR THE IMPROVED INSTRUCTION OF DEAF MUTES	
		(Chapter 386, Laws of 1864.)	
		(Chapter 725, Laws of 1867.)	
		(Chapter 180, Laws of 1870.)	
		(Chapter 213, Laws of 1875.)	
		1754. For education and support for one entire year of two County pupils, at \$300 each.....	600 00
		1755. For clothing two State pupils, at \$30 each per annum.....	60 00
		NEW YORK INSTITUTION FOR THE BLIND	
		(Section 230, Greater New York Charter, as amended by chapter 196, Laws of 1899.)	
		1756. For clothing one State pupil, at \$50 per annum.....	10 00
		NEW YORK INSTITUTION FOR THE INSTRUCTION OF THE DEAF AND DUMB	
		(Chapter 325, Laws of 1863.)	
		(Chapter 386, Laws of 1864.)	
		(Chapter 725, Laws of 1867.)	
		(Chapter 253, Laws of 1874.)	
		(Chapter 213, Laws of 1875.)	
		(Chapter 36, Laws of 1892.)	

1737. For clothing seven State pupils, at \$30 each per annum.....	216.00
St. Joseph's INSTITUTE AND THE LITTLETON INSTITUTE OF DEAF MUTES— (Chapter 380, Laws of 1864.)	
(Chapter 213, Laws of 1875.)	
(Chapter 378, Laws of 1877.)	
1738. For education and support of one entire year of two County pupils, at \$300 each.....	600.00
1739. For clothing three State pupils, at \$30 each per annum.....	90.00
	1,630.00
	\$104,349.59
1740. Amount of deficiency on January 1, 1908, in the product of taxes therefore levied, deemed to be uncollectible and not otherwise provided for (Chapter 209, Laws of 1906). . . . .	2,922,447.08
Total . . . . .	<b>\$158,545,346.14</b>

New York, October 30, 1908.

GEO. B. McCLELLAN,

Mayor.

HERMAN A. METZ,

Comptroller;

PATRICK F. McGOWAN,

President of the Board of Aldermen;

JOHN F. AHEARN,

President of the Borough of Manhattan;

BIRD S. COLER,

President of the Borough of Brooklyn;

LOUIS F. HAFFEN,

President of the Borough of The Bronx;

LAWRENCE GRESSER,

President of the Borough of Queens;

GEORGE CROMWELL,

President of the Borough of Richmond;

BOARD OF ESTIMATE AND APPOINTMENT.

**SUPPORTING SCHEDULES AND SCHEDULES OF SALARIES, AND SALARIES AND WAGES.****BUDGET FOR 1909.****THE CITY OF NEW YORK.****THE MAYORALTY.****The Executive.**

1. Salaries—	
Mayor . . . . .	\$15,000.00
Secretary to the Mayor . . . . .	6,000.00
Executive Secretary . . . . .	6,000.00
Chief Clerk and Bond and Warrant Clerk . . . . .	3,500.00
Executive Clerks (1) . . . . .	4,500.00
Executive Stenographer . . . . .	1,500.00
Stenographer . . . . .	1,500.00
Messenger . . . . .	1,500.00
	<b>\$43,100.00</b>
2. Contingencies . . . . .	2,700.00
3. Under Details—Salaries . . . . .	2,000.00
	<b>\$45,800.00</b>

**BUREAU OF LICENSES.****Salaries.**

5. Chief of Bureau . . . . .	\$1,500.00
6. Manhattan and The Bronx—	
Deputy Chief . . . . .	\$2,000.00
Financial Clerk . . . . .	1,650.00
Clerks, 5 at \$1,200 . . . . .	6,000.00
Stenographer and Typewriter . . . . .	1,200.00
	<b>10,850.00</b>
	14,330.00
7. Brooklyn—	
Deputy Chief . . . . .	\$2,000.00
Financial Clerk . . . . .	1,650.00
Clerk . . . . .	1,200.00
	<b>4,850.00</b>
8. Queens—	
Financial Clerk . . . . .	1,200.00
9. Richmond—	
Financial Clerk . . . . .	1,200.00
	<b>7,250.00</b>
10. Contingencies . . . . .	1,500.00
11. Police Detail, Salaries . . . . .	46,400.00
	<b>\$119,300.00</b>

**BOARD OF ALDERMEN AND CITY CLERK.****GENERAL ADMINISTRATION.**

12. Salaries—	
President Board of Aldermen . . . . .	\$5,000.00
Aldermen, 75 at \$2,000 . . . . .	150,000.00
City Clerk . . . . .	7,000.00
Chief Clerk . . . . .	5,000.00
Assistant Chief Clerk . . . . .	2,500.00
Stenographer . . . . .	2,500.00
Document Clerk . . . . .	2,650.00
Assistant Document Clerk . . . . .	2,400.00
Clerks, 2 at \$1,200 . . . . .	4,000.00
Clerk . . . . .	1,750.00
Clerks, 2 at \$1,200 . . . . .	3,600.00
Clerks, 3 at \$1,000 . . . . .	4,500.00
Clerk . . . . .	1,350.00
Librarian . . . . .	2,000.00
Sergeant-at-Arms . . . . .	3,500.00

Salaries—	
Assistant Sergeants-at-Arms, 2 at \$1,200 . . . . .	2,400.00
Assistant Sergeants-at-Arms, 2 at \$1,000 . . . . .	6,000.00
	<b>\$200,150.00</b>
16. Contingencies . . . . .	3,500.00
	<b>\$202,650.00</b>

OFFICE PRESIDENT BOARD OF ALDERMEN.	
11. Salaries—	
Private Secretary . . . . .	\$3,000.00
Confidential Stenographer . . . . .	1,500.00
Auctioneer's Process Server . . . . .	1,000.00
	<b>5,500.00</b>

OFFICE OF CITY CLERK.	
Salaries,	
12. Manhattan—	
First Deputy . . . . .	\$5,000.00
Cashier . . . . .	2,450.00
Custodians, 2 at \$2,000 . . . . .	4,000.00
Custodian . . . . .	1,350.00
Clerks, 2 at \$2,250 . . . . .	4,500.00
Telephone Operator . . . . .	1,300.00
Stenographer and Typewriter . . . . .	1,050.00
	<b>\$19,450.00</b>
13. Marriage License Bureau—	
Clerk in Charge . . . . .	\$2,300.00
Clerk . . . . .	2,250.00
Clerks, 6 at \$1,200 . . . . .	7,200.00
Italian Interpreter . . . . .	1,200.00
Hebrew Interpreter . . . . .	1,200.00
	<b>14,350.00</b>

14. The Bronx—	
Deputy City Clerk . . . . .	1,500.00

15. Brooklyn—	
Clerk . . . . .	\$2,650.00
Custodian, at \$4 per day . . . . .	1,256.00
Messenger . . . . .	1,350.00
Clerks, 4 at \$1,200 . . . . .	4,800.00
Italian Interpreter . . . . .	1,200.00
Hebrew Interpreter . . . . .	1,200.00
	<b>12,456.00</b>

16. Queens—	
Deputy City Clerk . . . . .	2,000.00
17. Richmond—	
Deputy City Clerk . . . . .	1,500.00
18. Police Detail—Salaries . . . . .	1,400.00
	<b>\$52,656.00</b>
19. Contingencies . . . . .	1,000.00
	<b>\$53,656.00</b>
	<b>261,806.00</b>

**DEPARTMENT OF FINANCE.****THE COMPTROLLER.****General Administration.**

20. Salaries—	
Comptroller . . . . .	\$15,000.00

**Main Division.**

21. Salaries—	
Deputy Comptrollers, 2 at \$7,500 . . . . .	\$15,000.00
Assistant Deputy Comptroller . . . . .	6,000.00
Secretary to Comptroller . . . . .	3,000.00
Clerk to Comptroller . . . . .	2,100.00
Chief Clerk . . . . .	3,150.00
Clerk . . . . .	3,150.00
Clerks, 2 at \$3,200 . . . . .	6,400.00
Clerk . . . . .	2,250.00
Clerk . . . . .	1,950.00
Clerk . . . . .	1,800.00
Clerk . . . . .	1,650.00
Clerks, 3 at \$1,500 . . . . .	4,500.00
Clerks, 2 at \$1,250 . . . . .	2,500.00
Clerk . . . . .	1,200.00
Clerks, 2 at \$900 . . . . .	1,800.00
Clerks, 2 at \$1,050 . . . . .	2,100.00
Clerks, 2 at \$480 . . . . .	960.00
Accountant . . . . .	1,250.00
Examiner . . . . .	1,800.00
Examiners, 2 at \$750 . . . . .	1,500.00
Stenographers and Typewriters, 2 at \$1,650 . . . . .	3,300.00
Stenographer to Comptroller . . . . .	1,300.00
Bank Messenger . . . . .	1,350.00
Bank Messenger . . . . .	1,200.00
Messenger . . . . .	1,250.00
Messengers, 2 at \$900 . . . . .	1,800.00
Telephone Operators, 2 at \$1,050 . . . . .	2,100.00
Foreman Bookbinder . . . . .	1,500.00
Bookbinder . . . . .	1,200.00
Automobile Engineer, 3 at \$1,200 . . . . .	3,600.00
Janitor . . . . .	1,050.00
Watchman . . . . .	900.00
Cleaner . . . . .	540.00
Stenographer and Typewriter . . . .	

## Stock and Bond Division.

25. Salaries—	
Chief Stock and Bond Clerk.....	\$5,000 00
Stock and Bond Clerks, 3 at \$1,950.....	9,750 00
Stock and Bond Clerk.....	1,650 00
Bookkeepers, 12 at \$1,200.....	14,400 00
Clerk .....	3,000 00
Clerk .....	1,800 00
Clerks, 4 at \$1,500.....	6,000 00
Clerk .....	1,350 00
Clerks, 2 at \$1,200.....	2,400 00
Clerks, 2 at \$1,050.....	2,100 00
Clerk .....	900 00
Clerk .....	500 00
Clerks, 2 at \$480.....	960 00
Financial Clerk .....	1,500 00
Financial Clerks, 5 at \$1,200.....	6,000 00
Examining Inspector .....	1,350 00
Stenographer and Typewriter.....	1,350 00
Bank Messenger .....	1,350 00
	61,400 00

## Bookkeeping and Awards Division.

26. Salaries—	
Chief Accountant and Bookkeeper.....	\$5,000 00
Expert Accountants, 3 at \$4,000.....	12,000 00
Expert Accountants, 7 at \$3,500.....	24,500 00
Expert Accountants, 3 at \$2,500.....	7,500 00
Auditors of Accounts, 2 at \$4,000.....	8,000 00
Auditor of Accounts.....	3,500 00
Accountant .....	3,000 00
Accountants, 2 at \$1,950.....	3,900 00
Accountants, 2 at \$1,800.....	3,600 00
Accountants, 2 at \$1,500.....	3,000 00
Accountant .....	1,350 00
Bookkeeper .....	3,500 00
Bookkeeper .....	3,000 00
Bookkeepers, 3 at \$2,400.....	4,800 00
Bookkeeper .....	2,250 00
Bookkeeper .....	2,100 00
Bookkeeper .....	1,950 00
Bookkeepers, 3 at \$1,800.....	5,400 00
Bookkeepers, 2 at \$1,650.....	3,300 00
Bookkeepers, 2 at \$1,500.....	3,000 00
Bookkeeper .....	1,350 00
Bookkeepers, 7 at \$1,200.....	8,400 00
Clerk .....	2,250 00
Clerks, 2 at \$2,100.....	4,200 00
Clerks, 2 at \$1,950.....	3,900 00
Clerks, 4 at \$1,800.....	7,200 00
Clerks, 3 at \$1,650.....	8,150 00
Clerk .....	1,500 00
Clerks, 4 at \$1,350.....	5,400 00
Clerks, 3 at \$1,200.....	3,600 00
Clerks, 2 at \$1,050.....	2,100 00
Clerks, 2 at \$900.....	1,800 00
Clerk .....	750 00
Statistician .....	1,650 00
Cashier .....	2,100 00
Cashier .....	1,800 00
Cashier .....	1,500 00
Security Deposit Clerk .....	1,800 00
Financial Clerk .....	1,350 00
Financial Clerks, 2 at \$1,200.....	2,400 00
Financial Clerk .....	1,050 00
Financial Clerk .....	900 00
Examiner .....	1,800 00
Examiner .....	1,500 00
Examiner .....	1,200 00
Examiner .....	1,050 00
Stenographer and Typewriter.....	1,350 00
Stenographer and Typewriter.....	1,350 00
Stenographer and Typewriter.....	1,200 00
Warrant and Voucher Listing Clerks, 3 at \$1,200.....	3,600 00
Typewriting Copyist .....	750 00
	\$182,300 00

## 27. General Supplies .....

27. General Supplies .....	8,000 00
	190,800 00

## Auditing Bureau.

28. Salaries—	
Chief Auditor of Accounts.....	\$5,000 00
Auditors of Accounts, 2 at \$4,000.....	12,000 00
Auditors of Accounts, 2 at \$3,500.....	7,000 00
Auditors of Accounts, 12 at \$3,000.....	36,000 00
Deputy Auditors of Accounts, 3 at \$2,500.....	7,500 00
Chief Clerk .....	3,150 00
Clerk .....	2,100 00
Clerk .....	1,950 00
Clerk .....	1,800 00
Clerks, 3 at \$1,650.....	5,250 00
Clerks, 4 at \$1,500.....	6,000 00
Clerks, 5 at \$1,350.....	6,750 00
Clerks, 2 at \$1,200.....	2,400 00
Clerks, 10 at \$1,050.....	10,500 00
Clerks, 8 at \$900.....	7,200 00
Clerk .....	750 00
Clerk .....	600 00
Clerks, 2 at \$540.....	1,080 00
Clerks, 3 at \$480.....	1,440 00
Office Boy .....	300 00
Inspector of Repairs and Supplies .....	1,800 00

## Salaries—

Inspector of Repairs and Supplies.....	1,650 00
Inspectors of Repairs and Supplies, 10 at \$1,500.....	15,000 00
Inspectors of Repairs and Supplies, 3 at \$1,350.....	4,050 00
Inspectors of Repairs and Supplies, 10 at \$1,200.....	12,000 00
Examining Inspectors, 2 at \$1,650.....	3,300 00
Examining Inspectors, 7 at \$1,500.....	10,500 00
Examining Inspector .....	1,350 00
Examiner .....	2,350 00
Examiners, 3 at \$2,100.....	6,300 00
Examiner .....	1,950 00
Examiners, 4 at \$1,800.....	7,200 00
Examiners, 4 at \$1,650.....	6,600 00
Examiners, 3 at \$1,500.....	4,500 00
Examiners, 2 at \$1,350.....	2,700 00
Examiners, 2 at \$1,050.....	2,100 00
Inspector of Regulating, Grading and Paving .....	1,500 00
Inspector of Regulating, Grading and Paving .....	1,350 00
Disbursing Clerks, 2 at \$2,250.....	4,500 00
Disbursing Clerk .....	1,650 00
Messenger .....	1,350 00
Messengers, 2 at \$1,200.....	2,400 00
Bank Messengers, 2 at \$1,200.....	2,400 00
Stenographer and Typewriter .....	750 00
Accountant .....	1,500 00
Veterinarian .....	1,800 00

\$226,920 00

## Charitable Institutions Division.

39. Salaries—	
Chief Examiner .....	\$5,000 00
Examiner .....	3,000 00
Examiners, 2 at \$1,650.....	3,300 00
Examiners, 2 at \$1,500.....	3,000 00
Examiner .....	1,200 00
Examiner .....	1,500 00
Examiner .....	2,100 00
Examining Inspector .....	1,200 00

20,300 00

## Law and Adjustment Division.

40. Salaries—	
Auditor of Accounts .....	\$5,000 00
Auditors of Accounts, 2 at \$3,000.....	6,000 00
Law Clerk .....	2,600 00
Law Clerk .....	1,800 00
Law Clerks, 2 at \$1,350.....	2,700 00
Law Clerk .....	1,200 00
Examiner .....	2,550 00
Examiner .....	2,250 00
Examiners, 4 at \$2,100.....	8,400 00
Examiners, 3 at \$1,800.....	5,400 00
Examiner .....	1,650 00
Examiner .....	1,500 00
Examining Inspector .....	1,350 00
Clerk .....	1,800 00
Clerk .....	1,650 00
Clerk .....	1,050 00
Clerk .....	750 00
Clerk .....	600 00
Financial Clerk .....	1,200 00
Stenographers and Typewriters, 2 at \$1,350.....	2,700 00
Stenographers and Typewriters, 2 at \$1,200.....	2,400 00
Stenographer .....	900 00
Messenger .....	1,350 00

\$16,809 00

## Engineering Division.

41. Salaries—	
Chief Engineer (Principal Assistant Engineer) .....	\$6,000 00
Assistant Engineers, 5 at \$3,000.....	15,000 00
Assistant Engineer .....	2,400 00
Assistant Engineer .....	2,100 00
Assistant Engineers, 4 at \$1,800.....	7,200 00
Assistant Engineer .....	1,950 00
Transitmen and Computers, 3 at \$1,500.....	4,500 00
Inspectors of Sewer Construction, 2 at \$1,500.....	3,000 00
Inspector of Sewer Construction .....	1,350 00
Inspectors of Repairs and Supplies, 2 at \$1,800.....	3,600 00
Inspector of Regulating, Grading and Paving .....	1,350 00
Inspector of Regulating, Grading and Paving .....	1,350 00
Stenographer and Clerk .....	2,100 00
Stenographer .....	1,050 00
Laborer .....	1,200 00
Clerk .....	750 00
Clerk .....	600 00
Chemist .....	2,500 00

58,150 00

## Bureau of Municipal Investigation and Statistics.

42. Salaries—	
Supervising Statistician and Examiner .....	\$6,000 00
Expert Accountants, 5 at \$4,000.....	20,000 00
Expert Accountants, 3 at \$3,500.....	10,500 00
Expert Accountant .....	2,500 00
Examiner .....	4,000 00
Examiner .....	3,500 00
Examiners, 2 at \$2,850.....	5,700 00
Examiner .....	2,250 00
Clerk, with Knowledge of Statistics .....	1,250 00
Clerk .....	2,100 00
Clerk .....	1,800 00
Clerk .....	1,000 00

Salaries—	
Clerks, 3 at \$1,050.....	3,150 00
Clerk .....	1,200 00
Clerk .....	900 00
Stenographers and Typewriters, 4 at \$1,350 .....	5,400 00
Topographical Draughtsman .....	1,200 00
	<u>\$72,450 00</u>
33. General Supplies .....	10,000 00
	<u>82,450 00</u>

## Bureau of Real Estate.

34. Salaries—	
Appraisers of Real Estate, 2 at \$4,000.....	\$8,000 00
Clerk .....	2,100 00
Clerk .....	1,950 00
Law Clerk .....	1,650 00
Clerk .....	1,300 00
Topographical Draughtsman .....	1,200 00
Stenographer and Typewriter .....	1,200 00
Stenographer and Book Typewriter .....	1,050 00
Junior Clerk .....	750 00
Office Boys, 2 at \$300 .....	600 00
Temporary Clerk .....	900 00
Temporary Clerk, at \$8 per day .....	900 00
	<u>22,100 00</u>

## Bureau for the Collection of City Revenue and Markets.

35. Salaries—	
Collector and Superintendent .....	\$4,000 00
Deputy Superintendent of Markets .....	3,000 00
Deputy Collector .....	2,400 00
Bookkeepers, 2 at \$1,650 .....	3,300 00
Collection Clerk .....	1,650 00
Collection Clerks, 3 at \$1,350 .....	4,050 00
Collection Clerks, 2 at \$1,300 .....	3,000 00
Cashier .....	2,100 00
Cashier .....	1,650 00
Examiner .....	2,100 00
Stenographer and Typewriter .....	900 00
Clerk .....	1,200 00
Clerks, 2 at \$1,050 .....	2,100 00
Clerk .....	900 00
Bookkeeper .....	1,200 00
	<u>33,650 00</u>

## Bureau for the Examination of Claims.

36. Salaries—	
Chief Examiner .....	\$3,000 00
Medical Examiner .....	2,800 00
Examining Inspectors, 2 at \$1,650 .....	3,300 00
Examiner .....	2,100 00
Examiner .....	1,650 00
Examiners, 4 at \$1,000 .....	6,000 00
Examiner .....	1,350 00
Examiner .....	1,200 00
Examining Inspectors, 3 at \$1,300 .....	4,500 00
Inspector of Sewer Construction .....	1,350 00
Stenographers and Typewriters, 3 at \$1,200 .....	3,600 00
Stenographer and Typewriter .....	1,050 00
Typewriting Copyist .....	1,050 00
Clerk .....	750 00
Clerk .....	600 00
Clerk .....	540 00
Topographical Draughtsman .....	1,200 00
	<u>16,240 00</u>

## Bureau for the Collection of Taxes.

37. Salaries—	
Borough of Manhattan.	
Receivers of Taxes .....	\$7,000 00
Deputy Receivers of Taxes, 2 at \$3,750 .....	7,500 00
Bookkeeper .....	2,250 00
Cashier .....	2,500 00
Cashier .....	1,500 00
Clerk .....	2,250 00
Clerk .....	1,950 00
Clerks, 6 at \$1,500 .....	9,000 00
Clerks, 4 at \$1,650 .....	6,600 00
Clerk .....	1,800 00
Clerk .....	1,250 00
Clerks, 4 at \$1,300 .....	4,800 00
Clerks, 3 at \$1,050 .....	3,150 00
Clerk .....	540 00
Financial Clerk .....	2,150 00
Financial Clerk .....	1,800 00
Financial Clerk .....	1,650 00
Financial Clerk .....	1,500 00
Clerk .....	900 00
Messenger .....	1,050 00
Bookbinder .....	1,200 00
	<u>62,840 00</u>

## Borough of The Bronx.

Deputy Receivers of Taxes, 2 at \$2,500 .....	\$5,000 00
Cashier .....	1,350 00
Cashier .....	1,200 00
Messenger .....	1,200 00
Messenger .....	1,050 00
Bookkeeper .....	1,650 00
Financial Clerk .....	1,500 00
Clerk .....	1,800 00

Salaries—	
Clerks, 3 at \$1,350 .....	3,150 00
Clerk .....	1,050 00
Clerk .....	900 00
Junior Clerk .....	750 00
Junior Clerk .....	540 00
	<u>21,140 00</u>

## Borough of Brooklyn.

Deputy Receivers of Taxes, 2 at \$4,000 .....	\$8,000 00
Cashier .....	2,500 00
Cashier .....	2,250 00
Cashiers, 3 at \$2,100 .....	6,300 00
Cashiers, 3 at \$1,650 .....	4,950 00
Bookkeeper .....	1,800 00
Clerks, 2 at \$1,950 .....	3,900 00
Clerks, 4 at \$1,650 .....	6,600 00
Clerks, 6 at \$1,500 .....	9,000 00
Clerks, 3 at \$1,350 .....	4,050 00
Clerks, 2 at \$1,200 .....	2,400 00
Clerks, 4 at \$1,050 .....	4,200 00
Clerk, with Special Knowledge of Handwriting .....	1,050 00
Clerks, 3 at \$900 .....	2,700 00
Clerks, 2 at \$750 .....	1,500 00
Stenographer to the Receiver of Taxes .....	1,050 00
Financial Clerk .....	1,200 00
Bookbinder .....	1,200 00
	<u>64,630 00</u>

## Borough of Queens.

Deputy Receiver of Taxes .....	\$2,500 00
Deputy Receiver of Taxes .....	2,100 00
Cashier .....	1,650 00
Cashier .....	1,350 00
Cashier .....	1,200 00
Clerk .....	1,950 00
Clerk .....	1,500 00
Clerks, 4 at \$1,200 .....	4,800 00
Clerks, 5 at \$900 .....	4,500 00
Messenger .....	1,350 00
Bookbinder .....	1,200 00
	<u>24,100 00</u>

## Borough of Richmond.

Deputy Receiver of Taxes .....	\$2,500 00
Deputy Receiver of Taxes .....	2,100 00
Cashier .....	1,800 00
Cashier .....	1,350 00
Cashier .....	1,200 00
Bank Messenger .....	1,200 00
Clerks, 2 at \$1,500 .....	3,000 00
Clerks, 3 at \$1,350 .....	4,050 00
Clerk .....	1,200 00
	<u>17,200 00</u>

## 38. For the Employment of Temporary Clerks, all Boroughs.

33,000 00\$222,930 00

## Bureau for the Collection of Assessments and Arrears.

39. Salaries—	
Borough of Manhattan.	
Collector of Assessments and Arrears .....	\$4,500 00
Deputy Collector of Assessments and Arrears .....	3,500 00
Cashiers, 2 at \$1,500 .....	3,000 00
Accountant .....	1,500 00
Bookkeeper .....	2,400 00
Bookkeepers, 2 at \$1,350 .....	2,700 00
Bookkeeper .....	1,200 00
Examiner .....	1,650 00
Clerk .....	2,100 00
Clerks, 2 at \$1,650 .....	3,300 00
Clerks, 4 at \$1,500 .....	6,000 00
Clerks, 3 at \$1,350 .....	4,050 00
Clerks, 2 at \$1,200 .....	2,400 00
Clerk .....	1,050 00
Financial Clerk .....	900 00
Bank Messenger .....	1,500 00
Bookbinder .....	1,350 00
Clerks (all Boroughs), 35 at \$600 .....	21,000 00
Bookkeepers (all Boroughs), 10 at \$1,200 .....	12,000 00
	<u>\$26,100 00</u>

## Borough of The Bronx.

Deputy Collector of Assessments and Arrears .....	\$2,000 00
Cashier .....	1,800 00
Examiner .....	1,250 00
Financial Clerk .....	1,650 00
Bookkeeper .....	1,500 00
Bookkeeper .....	1,350 00
Accountant .....	1,500 00
Clerks, 2 at \$1,500 .....	3,000 00
Clerks, 3 at \$1,350 .....	4,050 00
Clerks, 2 at \$1,050 .....	2,100 00
Clerks, 2 at \$900 .....	1,800 00
Junior Clerk .....	750 00
Junior Clerks, 2 at \$600 .....	1,200 00

Salaries—	
Messenger	1,200 00
Bookbinder	1,200 00
	27,130 00

Borough of Brooklyn.	
Deputy Collector of Assessments and Arrears	\$4,000 00
Cashier	1,350 00
Bookkeeper	1,800 00
Bookkeeper	1,350 00
Bookkeeper	1,200 00
Examiner	2,700 00
Accountant	1,800 00
Clerk	2,400 00
Clerk	1,950 00
Clerk	1,800 00
Clerks, 3 at \$1,650	4,950 00
Clerks, 3 at \$1,500	4,500 00
Clerks, 4 at \$1,350	5,400 00
Clerks, 3 at \$1,200	3,600 00
Clerks, 5 at \$1,050	5,250 00
Clerks, 3 at \$900	2,700 00
Clerk	750 00
Bookbinder	1,200 00
	48,700 00

Borough of Queens.	
Deputy Collector	\$2,250 00
Cashier	1,200 00
Accountants, 2 at \$1,500	3,000 00
Clerk	1,950 00
Clerk	1,650 00
Clerks, 2 at \$1,350	2,700 00
Clerks, 2 at \$1,050	2,100 00
Clerk	900 00
Clerk	150 00
Bookkeeper	1,050 00
Bank Messenger	1,200 00
Bookbinder	1,200 00
Office Boy	300 00
	19,650 00

Borough of Richmond.	
Deputy Collector of Assessments and Arrears	\$3,000 00
Cashier	1,350 00
Financial Clerk	1,050 00
Clerk	1,800 00
Clerk	1,350 00
Clerks, 4 at \$1,200	4,800 00
	12,350 00
	\$184,150 00

40. General Supplies—	
Manhattan	\$3,500 00
The Bronx	1,000 00
Brooklyn	2,000 00
Queens	1,000 00
Richmond	500 00
	8,000 00
	\$193,150 00

## Bureau of the City Paymaster.

41. Salaries—	
City Paymaster	\$6,000 00
Deputy City Paymasters, 3 at \$2,500	12,500 00
Deputy City Paymaster	2,250 00
Deputy City Paymasters, 2 at \$2,000	4,000 00
Financial Clerks, 3 at \$1,950	3,900 00
Financial Clerks, 3 at \$1,800	9,000 00
Financial Clerks, 4 at \$1,650	6,000 00
Financial Clerk	1,500 00
Financial Clerks, 9 at \$1,350	12,150 00
Financial Clerk	1,200 00
Clerk	2,400 00
Clerks, 2 at \$1,050	2,100 00
Clerks, 2 at \$900	1,800 00
Clerk	750 00
Examiner	1,650 00
Examiners, 2 at \$1,500	3,900 00
Examiner	1,350 00
Disbursing Clerk	2,800 00
Messengers, 2 at \$1,350	2,700 00
Messenger	1,050 00
Bank Messenger	1,200 00
Watchmen, 3 at \$900	2,700 00
Bookkeeper	1,200 00
Cashier	2,100 00
Clerk	1,950 00
Junior Clerk	500 00
Stenographer and Typewriter	1,200 00
	83,650 00
42. Police Detail—Salaries	27,300 00
	116,950 00

## The Chamberlain.

43. Salaries—	
Chamberlain	\$12,000 00
Deputy Chamberlain	5,000 00
Bookkeepers, 2 at \$2,850	5,700 00
Bookkeeper	2,000 00
Bookkeepers	1,950 00
Bookkeeper	1,800 00

Salaries—	
Clerks, 2 at \$1,500	3,000 00
Clerk	1,350 00
Clerks, 3 at \$1,200	3,600 00
Clerk	1,050 00
Clerks, 2 at \$750	1,500 00
Stenographer	1,200 00
Secretary	3,000 00
Warrant Clerk	2,500 00
Warrant Clerk	1,650 00
Warrant Clerk	1,500 00
Warrant Clerk	1,350 00
Bank Messengers, 2 at \$1,200	2,400 00
Examiner of Coupons, etc.	1,000 00
	\$52,550 00
44. Contingencies	2,000 00
45. Police Detail—Salaries	1,400 00
	55,950 00
	1,545,040 00

## INTEREST ON THE CITY DEBT.

46. The City of New York	\$17,140,865 08
47. The City of New York, as constituted prior to January 1, 1898	2,784,031 06
48. The City of Brooklyn, Kings County and Towns, as constituted prior to January 1, 1898	2,201,328 20
49. Corporations in Queens County	434,964 56
50. Corporations in Richmond County	99,881 23
51. Interest on Bonds and Stock to be issued after September 30, 1908, and in 1909	2,010,000 00
52. Interest on Revenue Bonds of 1904	5,000 00
53. Interest on Revenue Bonds of 1905	5,000 00
54. Interest on Revenue Bonds of 1906	390,000 00
55. Interest on Revenue Bonds of 1907	800,000 00
56. Interest on Revenue Bonds of 1908	2,000,000 00
57. Interest on Revenue Bonds of 1909	1,800,000 00
	\$29,671,070 13

## REDEMPTION OF THE CITY DEBT.

58. The City of New York	\$9,362,000 00
59. The City of New York, as constituted prior to January 1, 1898	31,638 20
60. The City of Brooklyn, Kings County and Towns, as constituted prior to January 1, 1898	1,218,000 00
61. Corporations in Queens County	232,245 24
62. Corporations in Richmond County	73,546 71
	10,919,425 13

## INSTALLMENTS PAYABLE IN 1909.

63. The City of New York (General)	\$2,519,008 64
64. The City of New York (Water Bonds)	1,113,739 43
65. The City of New York, as constituted prior to January 1, 1898 (Water Bonds)	579,234 60
66. The City of Brooklyn, as constituted prior to January 1, 1898	397,593 71
66 1/2. Long Island City	2,116 67
	6,632,583 05
	47,223,078 61

## LAW DEPARTMENT.

67. Salaries and Wages—	
Corporation Counsel	\$15,000 00
Assistant (First)	12,000 00
Assistants, 3 at \$10,000	30,000 00
Assistants, 5 at \$7,500	37,500 00
Assistants, 2 at \$7,000	14,000 00
Assistants, 4 at \$6,500	19,500 00
Assistants, 6 at \$6,000	36,000 00
Assistants, 2 at \$5,500	11,000 00
Assistants, 13 at \$5,000	65,000 00
Assistants, 4 at \$4,500	18,000 00
Assistants, 5 at \$4,000	20,000 00
Assistants, 7 at \$3,500	24,500 00
Assistants, 14 at \$3,000	42,000 00
Deputy Assistants, 3 at \$2,850	8,550 00
Deputy Assistants, 7 at \$2,550	17,850 00
Deputy Assistant	2,400 00
Junior Assistants, 7 at \$2,100	14,700 00
Junior Assistants, 4 at \$1,950	7,800 00
Junior Assistants, 4 at \$1,800	7,200 00
Junior Assistants, 7 at \$1,500	10,500 00
Law Clerk	3,000 00
Law Clerk	2,400 00
Law Clerk	1,800 00
Law Clerk	1,500 00
Law Clerk	1,350 00
Law Clerk	1,050 00
Secretary to Corporation Counsel	5,000 00
Stenographer to Corporation Counsel	1,500 00
Attendant to Corporation Counsel	1,600 00
Attendant to Assistant Corporation Counsel (Brooklyn)	1,350 00
Librarian	2,800 00
Chief Clerk	5,000 00
Assistant Chief Clerk	4,500 00
Clerk	3,600 00
Clerk	3,000 00
Clerk	2,400 00
Clerks, 3 at \$2,100	6,300 00
Clerks, 2 at \$1,800	3,000 00
Clerks, 3 at \$1,500	4,200 00
Clerk	1,200 00
Clerks, 5 at \$1,050	5,250 00

Salaries and Wages—			
Clerks, 4 at \$900.....	3,600 00		
Clerks, 8 at \$750.....	6,000 00		
Clerks or Junior Clerks, 6 at \$600.....	3,600 00		
Clerks or Junior Clerks, 78 at \$480.....	33,440 00		
Clerks or Office Boys, 15 at \$300.....	4,500 00		
Stenographers and Typewriters, 2 at \$1,500.....	3,000 00		
Stenographers and Typewriters, 10 at \$1,200.....	12,000 00		
Stenographers and Typewriters, 19 at \$1,050.....	19,950 00		
Stenographers and Typewriters, 6 at \$900.....	5,400 00		
Stenographers and Typewriters, 7 at \$750.....	5,250 00		
Typewriting Copyists, 4 at \$1,200.....	4,800 00		
Typewriting Copyists, 4 at \$1,050.....	4,200 00		
Typewriting Copyists, 8 at \$900.....	7,200 00		
Typewriting Copyists, 2 at \$750.....	1,500 00		
Telephone Switchboard Operator.....	750 00		
Telephone Switchboard Operator.....	600 00		
Examiner.....	2,400 00		
Examiners, 2 at \$1,200.....	2,400 00		
Messengers, 3 at \$1,200.....	3,600 00		
Messenger.....	900 00		
Process Servers, 9 at \$1,200.....	10,800 00		
Process Server.....	1,050 00		
Process Servers, 4 at \$900.....	3,600 00		
Process Servers, 30, paid \$1.15 for each summons served.....	15,000 00		
	<u>\$610,240 00</u>		
88. General Supplies.....	11,200 00		
89. Telephones, Rental of.....	7,500 00		
90. Contingencies.....	110,500 00		
91. Contingent Counsel Fees, including Deficiencies.....	25,000 00		
92. Fees of Expert Witnesses and Disbursements in Proceedings to Review Assessments for Taxation, including Deficiencies.....	30,000 00		
93. Expenses in Connection with Actions and Proceedings brought by or against Gas and Electric Light Companies and other Public Utility Corporations, including Deficiencies.....	30,000 00		
94. For Compensation and Expenses of Counsel and Experts in Proceedings for Review of Assessments of Special Franchises made by the State Board of Tax Commissioners, pursuant to chapter 155, Laws of 1906.....	25,000 00		
95. Police Detail—Salaries.....	29,400 00		
	<u>\$79,340 00</u>		
BRIDGES OVER NEWTOWN CREEK.			
88. Salaries and Wages—			
Foreman Painter and Rigger.....	4,800 00		
Steam Engineer.....	1,500 00		
Foreman Laborer.....	1,200 00		
Bridge Keepers, 3 at \$1,200 each.....	3,600 00		
Bridge Keeper.....	900 00		
Foremen Bridge Tenders, 5 at \$900 each.....	4,500 00		
Bridge Tenders, 40 at \$900 each.....	36,000 00		
Painters, not to exceed \$4 per day.....	6,908 00		
Assistant Foremen Carpenters, not to exceed \$5 per day.....	1,430 00		
Shop Carpenters, not to exceed \$5 per day.....	2,860 00		
Carpenter, not to exceed \$5 per day.....	1,430 00		
Riveters, not to exceed \$4.80 per day.....	4,022 40		
Machinists, not to exceed \$4.50 per day.....	4,927 50		
Machinist's Helpers.....	912 50		
Laborers.....	3,673 50		
	<u>\$76,323 90</u>		
89. General Supplies.....	1,000 00		
90. Materials for Repairs and Replacements by Departmental Labor.....	6,325 00		
91. Repairs and Replacements by Contracts or Open Orders.....	1,500 00		
92. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	200 00		
93. Hired Teams, Horses and Carts.....	375 00		
94. Emergency Snow Removal.....	1,200 00		
95. Contingencies.....	400 00		
	<u>\$7,821 90</u>		
BRIDGES IN THE BOROUGH OF BROOKLYN.			
96. Salaries and Wages—			
Assistant Engineer, at \$6,000 (one-half of salary).....	3,000 00		
Chief Clerk.....	2,550 00		
General Foreman.....	2,000 00		
Foreman Riveter.....	1,800 00		
Foreman Painter.....	1,500 00		
Bridge Keepers, 9 at \$1,200 each.....	10,800 00		
Bridge Keeper.....	1,050 00		
Bridge Keepers, 2 at \$900 each.....	1,800 00		
Bridge Tenders, 26 at \$900 each.....	23,400 00		
Painters, not to exceed \$4 per day.....	2,392 00		
Carpenters, not to exceed \$5 per day.....	2,900 00		
Enginemen, not to exceed \$4.50 per day.....	4,927 50		
Riveters, not to exceed \$4.80 per day.....	5,710 00		
Linemen, not to exceed \$4.50 per day.....	1,642 50		
Bridge Mechanics, not to exceed \$4.80 per day.....	1,752 00		
Stokers, not to exceed \$3 per day.....	1,095 00		
Laborers.....	1,825 00		
	<u>\$67,184 00</u>		
97. General Supplies.....	965 00		
98. Materials for Repairs and Replacements by Departmental Labor.....	12,520 00		
99. Repairs and Replacements by Contracts or Open Orders.....	1,925 00		
100. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	1,725 00		
101. Contingencies.....	273 00		
	<u>\$5,094 40</u>		
BRIDGES IN THE BOROUGH OF THE BRONX.			
102. Salaries and Wages—			
Assistant Engineer.....	33,500 00		
General Foreman.....	1,500 00		
Foreman Laborer.....	1,500 00		
Bridge Tenders, 23 at \$900 each.....	20,700 00		
Wiremen, not to exceed \$4.50 per day.....	1,642 50		
Laborers.....	6,255 00		
	<u>\$35,097 50</u>		
103. General Supplies.....	650 00		
104. Materials for Repairs and Replacements by Departmental Labor.....	2,925 00		
105. Repairs and Replacements by Contracts or Open Orders.....	2,150 00		
106. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	1,225 00		
107. Contingencies.....	850 00		
	<u>\$13,897 50</u>		
BRIDGES IN THE BOROUGH OF QUEENS.			
108. Salaries and Wages—			
Assistant Engineer.....	35,000 00		
Clerk.....	3,250 00		
General Foreman.....	2,000 00		
Foreman Laborer.....	1,500 00		
Bridge Tenders, 10 at \$900 each.....	9,000 00		
Ship Carpenters, not to exceed \$5 per day.....	1,560 00		
Bridge Mechanics, not to exceed \$4.80 per day.....	2,925 00		
	<u>\$240,313 34</u>		

Salaries and Wages—	
Inspectors	1,460 00
Laborers	1,095 00
	<b>\$20,860 20</b>
108. General Supplies	450 00
110. Materials for Repairs and Replacements by Departmental Labor	2,325 00
111. Repairs and Replacements by Contracts or Open Orders	300 00
112. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same	1,000 00
113. Emergency Snow Removal	500 00
114. Contingencies	225 00
	<b>32,260 20</b>

## BRIDGES IN THE BOROUGH OF RICHMOND.

Salaries and Wages—	
Bridge Keeper	600 00
Bridge Tender	600 00
	<b>\$1,200 00</b>

## BRIDGES IN THE BOROUGH OF RICHMOND.

116. Materials for Repairs and Replacements by Departmental Labor	1,100 00
117. Repairs and Replacements by Contracts or Open Orders	975 00
118. Contingencies	192 50
	<b>1,467 50</b>

## QUEENSBORO BRIDGE.

119. Salaries and Wages—	
Engineer in Charge	\$5,000 00
Assistant Engineer	3,500 00
Structural Steel Draughtsman	1,800 00
Foreman Riveter	1,800 00
Foreman Lineman	1,800 00
Foremen Laborers, 3 at \$1,800 each	5,400 00
Steel Inspector	1,650 00
Clerk	1,500 00
Stenographer and Typewriter	1,200 00
Messenger	1,200 00
Bridge Keepers, 2 at \$1,200 each	2,400 00
Bridge Keepers, 2 at \$1,095 each	2,190 00
Rodman	1,650 00
Telephone Operator	750 00
Carpenters, not to exceed 5 per day	5,720 00
Riveters, not to exceed \$4.80 per day	16,473 60
Wiremen, not to exceed \$4.50 per day	6,570 00
Painters, not to exceed \$4 per day	4,576 00
Blacksmiths, not to exceed \$4 per day	1,144 00
Blacksmith's Helpers, not to exceed \$3 per day	358 00
Laborers	36,500 00
	<b>\$116,851 60</b>

120. General Supplies	4,500 00
121. Materials for Repairs and Replacements by Departmental Labor	35,000 00
122. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same	8,500 00
123. Hired Teams, Horses and Carts	9,000 00
124. Emergency Snow Removal	6,000 00
125. Contingencies	1,000 00
	<b>170,851 60</b>

## TENEMENT HOUSE DEPARTMENT.

## GENERAL ADMINISTRATION.

126. Salaries and Wages—	
Commissioner	\$7,500 00
Registrar	3,000 00
Secretary to Department	1,500 00
Examiner	1,950 00
Clerks, 2 at \$1,500	3,000 00
Clerk	1,050 00
Clerk	600 00
Clerk	540 00
Clerk	480 00
Clerks, 2 at \$300	600 00
Photographer	1,200 00
Stenographer to First Deputy Commissioner	1,350 00
Typewriting Copyist	750 00
	<b>\$24,520 00</b>

## ADMINISTRATION.

127. Salaries and Wages—	
First Deputy Commissioner	84,000 00
Second Deputy Commissioner	4,000 00
Superintendents, 2 at \$3,000	6,000 00
Chief Inspectors, 2 at \$3,000	6,000 00
Chief Inspectors, 2 at \$2,500	5,100 00
Chief Inspectors, 2 at \$2,100	4,200 00
Secretary to First Deputy	3,500 00
Secretary to Superintendent	1,500 00
Clerks, 6 at \$1,500	9,000 00
Clerks, 2 at \$1,350	2,700 00
Clerks, 12 at \$1,200	14,400 00
Clerks, 119 at \$1,050	124,950 00
Clerks, 11 at \$600	6,600 00
Clerks, 3 at \$240	2,700 00
Clerks, 1 at \$480	1,440 00
Clerks, 87 at \$200	26,100 00
Plan Examiner	1,800 00
Plan Examiners, 17 at \$1,200	20,400 00
Tabulator	1,200 00
Stenographer to Second Deputy	1,350 00
Stenographers and Typewriters, 2 at \$1,000	5,250 00

Salaries and Wages—	
Stenographers and Typewriters, 2 at \$900	1,800 00
Stenographers and Typewriters, 12 at \$750	9,000 00
Stenographer and Book Typewriter	900 00
Stenographers and Book Typewriter, 9 at \$750	6,750 00
Typewriting Copyist	1,050 00
Typewriting Copyists, 6 at \$900	5,400 00
Typewriting Copyists, 61 at \$750	45,750 00
Messenger	1,500 00
Messengers, 2 at \$900	1,800 00
Process Servers, 10 at \$900	9,000 00
Telephone Operator	900 00
Telephone Switchboard Operator	750 00
Cleaner	450 00
Cleaners, 5 at \$360	1,800 00
Watchmen, 2 at \$2 per day	1,400 00
	<b>335,500 00</b>

## Division of Inspection Review.

128. Salaries and Wages—	
Inspectors, 22 at \$1,200	\$26,400 00
Inspectors, 5 at \$1,800	9,000 00
Inspectors, 6 at \$1,500	9,000 00
Inspectors, 4 at \$1,350	5,400 00
	<b>49,800 00</b>

## Division of New Buildings, Complaints and Inspection of Pending Violations.

129. Salaries and Wages—	
Inspectors, 2 at \$1,800	\$3,600 00
Inspectors, 20 at \$1,500	30,000 00
Inspectors, 10 at \$1,350	13,500 00
Inspectors, 189 at \$1,200	166,800 00
Policemen, 13 at \$1,400	18,200 00
	<b>232,100 00</b>

## Division of Current Inspection (Section 1344a, Chapter 466, Laws of 1901).

130. Salaries and Wages—	
Inspectors, Field Work, 42 at \$1,200	\$52,800 00
Stenographers, 29 at \$750	21,750 00
Clerks, 7 at \$1,050	7,350 00
	<b>80,700 00</b>

## Division of Structural Work.

131. Salaries and Wages—	
Inspectors, 2 at \$1,500	\$3,000 00
Inspectors, Field Work, 32 at \$1,200	38,400 00
Stenographers, 15 at \$750	11,250 00
Clerks, 4 at \$1,050	4,200 00
	<b>56,850 00</b>

132. General Supplies	3,900 00
133. Contingencies	19,700 00
134. Telephones, Rental of	150 00

Total **812,720 00**

## DEPARTMENT OF WATER SUPPLY, GAS AND ELECTRICITY.

## GENERAL ADMINISTRATION.

135. Salaries and Wages—	
Commissioner	\$7,500 00
Deputy Commissioner	6,000 00
Consulting Electrical Engineer	3,000 00
Secretary to the Department	3,000 00
Secretary to the Commissioner	3,500 00
Stenographer to the Commissioner	1,300 00
Secretary to the Deputy Commissioner	3,000 00
Chief Clerk and Auditor	4,000 00
Bookkeeper	3,550 00
Bookkeeper	1,800 00
Clerk	3,000 00
Clerks, 2 at \$2,700	5,400 00
Clerks, 1 at \$1,200	3,000 00
Clerk	1,500 00
Clerk	1,050 00
Clerks, 3 at \$900	2,700 00
Clerks, 2 at \$750	1,500 00
Telephone Operator	900 00
Stenographers and Typewriters, 4 at \$1,200	4,800 00
Automobile Engineer	1,200 00
Chief Chemist	3,500 00
Chemist	2,100 00
Chemists, 5 at \$1,500	7,500 00
Inspector of Filters	1,800 00
Bacteriologist	1,800 00
Bacteriologists, 3 at \$1,500	4,500 00
Laboratory Assistant, 2 at \$900	4,300 00
Laborers	4,197 50
	<b>93,397 50</b>
136. General Supplies	5,375 00
137. Repairs and Replacements by Contracts or Open Orders	1,025 00
138. Apparatus—Machinery, Vehicles	

143. Salaries, Office of Chief Engineer—		Salaries and Wages, Manhattan—	
Clerk .....	2,000 00	Clerk .....	2,250 00
Clerk .....	1,950 00	Clerk .....	2,000 00
Clerk .....	1,200 00	Clerks, 4 at \$1,650 .....	6,600 00
Stenographer and Typewriter .....	1,200 00	Clerks, 2 at \$1,500 .....	3,000 00
Inspector of Meters .....	1,800 00	Clerks, 9 at \$1,350 .....	12,150 00
Inspector of Meters .....	1,000 00	Clerks, 11 at \$1,200 .....	13,200 00
Messengers, 2 at \$900 .....	1,800 00	Clerks, 12 at \$1,050 .....	12,600 00
		Clerks, 2 at \$900 .....	1,800 00
		Clerks, 10 at \$750 .....	7,500 00
		Clerks, 12 at \$600 .....	7,200 00
		Office Boy .....	300 00
		Stenographers and Typewriters, 2 at \$1,200 .....	2,400 00
		Stenographers and Typewriters, 2 at \$900 .....	1,800 00
		Telephone Operator .....	1,200 00
		Measurer .....	1,500 00
		Measurer, 2 at \$1,000 .....	2,000 00
		General Inspector of Meters and Water Consumption .....	1,800 00
		Inspector of Meters and Water Consumption .....	1,500 00
		Inspector of Meters and Water Consumption .....	1,350 00
		Inspectors of Meters and Water Consumption, 9 at \$1,200 .....	10,800 00
		Inspectors of Meters and Water Consumption, 2 at \$1,100 .....	2,200 00
		Inspectors of Meters and Water Consumption, 84 at \$1,000 .....	84,000 00
		Pilot .....	1,500 00
		Oiler .....	1,095 00
		Stoker .....	1,095 00
		Dockhands, 2 at \$912.50 .....	1,825 00
		Assistant Foremen, 8 at \$3 per day .....	2,756 00
		Laborers .....	5,008 00
			\$203,879 00
		Distribution—Water Registration, Permits and Revenue Collections.	
144. Salaries, Office of Deputy Commissioner, The Bronx—		145. Salaries and Wages, The Bronx—	
Deputy Commissioner .....	\$4,000 00	Register .....	\$3,000 00
Stenographer and Typewriter .....	1,200 00	Cashier .....	2,500 00
Clerk .....	750 00	Clerk .....	1,500 00
		Clerk .....	1,350 00
		Clerk .....	1,200 00
		Clerks, 3 at \$1,050 .....	3,150 00
		Clerk .....	900 00
		Clerks, 2 at \$600 .....	1,200 00
		Measurer .....	1,500 00
		Measurer, 2 at \$1,200 .....	2,400 00
		Measurer .....	1,000 00
		General Inspector of Meters .....	1,650 00
		Inspectors of Meters, 13 at \$1,000 .....	11,100 00
		Messenger .....	900 00
		Stenographer and Typewriter .....	1,050 00
		Laborers .....	1,365 00
			\$37,865 00
		Distribution—Maintenance, Bronx and Bronx Systems.	
146. Hired Teams, Horses and Carts .....	29,809 00	147. Salaries and Wages—	
147. Materials for Repairs and Replacement by Departmental Labor .....	250 00	Assistant Engineer (half salary) .....	\$2,400 00
148. Repairs and Replacements by Contracts or Open Orders .....	5,000 00	Engineer (half salary) .....	2,000 00
		Assistant Engineer .....	2,100 00
		Tappers, 2 at \$1,400 .....	2,800 00
		Foremen, 16 at \$5 per day .....	29,200 00
		Assistant Foremen, 29 at \$3 per day .....	31,755 00
		Pavers, not to exceed \$5 per day .....	4,695 00
		Blacksmith, not to exceed \$4 per day .....	1,252 00
		Bricklayer, not to exceed \$5.60 per day .....	1,752 00
		Callers, not to exceed \$4 per day .....	65,000 00
		Assistant Tappers, not to exceed \$3.50 per day .....	27,062 50
		Blacksmith's Helper, not to exceed \$3 per day .....	939 00
		Plumber's Helper .....	1,878 00
		Flaggers, not to exceed \$3.50 per day .....	4,225 50
		Toolmen .....	1,565 00
		Laborers .....	124,536 50
			\$293,161 50
		Distribution—High Pressure Fire Service, Manhattan.	
149. Salaries and Wages—		150. Salaries and Wages—	
Assistant Engineer (half salary) .....	\$1,500 00	Supervising Electrical Engineer .....	\$5,000 00
Inspector of Construction .....	1,800 00	Engineers, 3 at \$3,500 .....	12,000 00
Keeper .....	1,200 00	Telephone Operators, 6 at \$900 .....	5,400 00
Foremen, 2 .....	2,712 00	Carpenter, not to exceed \$5 per day .....	1,565 00
Assistant Foremen .....	3,385 00	Oilers, not to exceed \$4 per day .....	6,750 00
Carpenter, not to exceed \$5 per day .....	1,565 00	Machinist's Helper .....	912 50
Painter, not to exceed \$5 per day .....	1,565 00	Laborers .....	2,504 00
			\$38,951 50
		Distribution—Water Registration, Permits and Revenue Collections.	
151. Salaries and Wages, Manhattan—			
Water Registrar .....	\$4,000 00		
Cashier .....	2,100 00		
Financial Clerk .....	2,000 00		
Financial Clerk .....	1,350 00		

166. General Supplies	\$1,738.00
167. Materials for Repairs and Replacements by Departmental Labor	2,000.00
168. Repairs and Replacements by Contracts or Open Orders	2,000.00
169. Fuel	380.00
170. Telephones, Rental of	9,076.50
	15,195.10
	49,146.60

## WATER SUPPLY, BOROUGH OF BROOKLYN.

## Administration.

171. Salaries and Wages, Office of Deputy Commissioner—	
Deputy Commissioner	\$5,500.00
Stenographers, 3 at \$1,200	3,600.00
Stenographer	1,050.00
Messenger	1,200.00
Telephone Operator	900.00
	12,250.00

Distribution—Water Registration, Permits and Revenue Collections.

172. Salaries and Wages—	
Registrar	\$4,000.00
Cashier	2,250.00
Financial Clerk	1,300.00
Clerk	2,100.00
Clerk	1,650.00
Clerks, 5 at \$1,350	6,750.00
Clerks, 10 at \$1,300	12,000.00
Clerks, 4 at \$1,050	4,200.00
Clerk	1,000.00
Clerk	900.00
Clerks, 2 at \$600	1,200.00
Messenger	900.00
Temporary Clerks, 9 at \$225	2,025.00
Inspector of Meters	1,300.00
Inspector of Meters, 4 at \$1,000	4,000.00
Measurer	1,500.00
Measures	1,000.00
	\$48,475.00

173. General Supplies	500.00
174. Fire Hydrants, Rentals and Water Purchased	27,100.00
175. Contingencies	725.00

76,800.00

Distribution—High Pressure Tire Service.

176. Salaries and Wages—	
Enginemen, not to exceed \$4.50 per day	\$6,570.00
Stationary Engineers, 6 at \$1,500	9,000.00
Oilers, not to exceed \$3 per day	10,950.00
Telephone Operators, 7 at \$900	6,300.00
Stoker, not to exceed \$3 per day	1,400.00
Laborers	3,650.00
	\$37,900.00

311.50

177. General Supplies	311.50
178. Repairs and Replacements by Contracts or Open Orders	1,000.00

179. Apparatus—Machinery, Vehicles, Horses, Equipment, Cars and Storage of Same	200.00
180. Materials for Repairs and Replacements by Departmental Labor	825.00

181. Fuel	360.00
182. Telephones, Rental of	5,000.00

45,620.50

## WATER SUPPLY, BOROUGH OF QUEENS.

## Administration.

183. Salaries, Office of Deputy Commissioner—	
Deputy Commissioner	\$3,000.00
Clerk	1,350.00
Stenographer and Typewriter	1,200.00

\$3,350.00

184. Salaries, Office of Chief Engineer—	
Engineer in Charge	2,700.00

8,230.00

Collection and Storage—Pumping Stations and Standpipes.

185. Salaries and Wages—	
Engineman	\$1,800.00
Enginemen, 18 at \$1,042.50	29,565.00
Oiler, not to exceed \$3 per day	1,095.00

Stokers, not to exceed \$3 per day	28,470.00
	\$60,930.00

186. Materials for Repairs and Replacement by Departmental Labor	1,325.00
187. Repairs and Replacements by Contracts or Open Orders	3,900.00

66,355.00

Distribution—Water Registration, Permits and Revenue Collections.

188. Salaries and Wages—	
Cashier	\$1,300.00
Financial Clerk	1,500.00
Clerk	1,350.00
Clerk	1,050.00
Clerk	900.00
Stenographer and Typewriter	1,000.00
Inspectors of Meters, 6 at \$1,000	6,000.00

\$14,300.00

Distribution—Maintenance.

189. Salaries and Wages—	
Engineman (Superintendent)	\$1,800.00
Tapper	1,252.00

Engineman (Superintendent) \$1,800.00

Tapper 1,252.00

Salaries and Wages—	
Foreman	900.00
Callers, not to exceed \$4 per day	3,932.50
Tapper, not to exceed \$3 per day	1,277.50
Assistant Tapper	1,277.50
Foreman, at \$4 per day	1,360.00
Foreman, at \$1 per day	1,094.00
Assistant Foreman, at \$3 per day	1,095.00
Toolman	912.50
Pipefitter, at \$3.50 per day	1,277.50
Pipefitter's Helper, at \$3.50 per day	912.50
Laborers	11,315.00

\$28,407.00

190. General Supplies	250.00
-----------------------	--------

191. Materials for Repairs and Replacements by Departmental Labor	7,250.00
---	----------

192. Repairs and Replacements by Contracts or Open Orders	750.00
---	--------

193. Fire Hydrant Rentals and Water Purchased—	
--	--

Special Contract Obligations	250,000.00
------------------------------	------------

194. General Supplies	3,118.00
-----------------------	----------

195. Fuel	27,252.00
-----------	-----------

196. Hired Teams, Horses and Carts	4,500.00
------------------------------------	----------

197. Telephones, Rental of	2,000.00
----------------------------	----------

198. Contingencies	2,165.00
--------------------	----------

\$83,691.00

WATER SUPPLY—BOROUGH OF RICHMOND.

Administration.

199. Salaries, Office of Deputy Commissioner—	
---	--

Deputy Commissioner	\$2,500.00
---------------------	------------

Clerk	1,200.00
-------	----------

Stenographer	900.00
--------------	--------

\$

Salaries and Wages—	
Clerk .....	1,800 00
Clerk .....	1,200 00
Clerks, 2 at \$900 .....	1,800 00
Junior Clerks, 6 at \$600 .....	3,600 00
Stenographer and Typewriter .....	1,200 00
Stenographer and Typewriter .....	1,000 00
Stenographer and Typewriter .....	900 00
Stenographer and Typewriter .....	2,191 00
Wiremen .....	1,895 50
Assistant Batterymen .....	
	\$57,024 50
214. Hired Teams, Horses and Carts .....	3,100 00
215. Contingencies .....	1,700 00
	63,824 50

Bureau of Electrical Inspection, Borough of Brooklyn.

216. Salaries and Wages—	
Electrical Engineer .....	\$3,000 00
Inspectors of Electrical Conductors, 10 at \$1,250 .....	12,500 00
Clerk .....	1,050 00
Clerk .....	1,050 00
Clerk .....	750 00
Clerks, 2 at \$600 .....	1,200 00
Stenographer and Typewriter .....	1,050 00
	\$21,250 00
217. Contingencies .....	1,500 00
	22,750 00

Bureau of Electrical Inspection, Borough of Queens.

218. Salaries and Wages—	
Chief Inspector of Electrical Conductors .....	\$1,800 00
Inspector of Electrical Conductors .....	1,500 00
Inspectors of Electrical Conductors, 5 at \$1,250 .....	6,250 00
Lineman .....	1,250 00
Clerk .....	1,050 00
Clerk .....	600 00
	\$12,450 00
219. Contingencies .....	1,050 00
	13,510 00

Heat, Light and Power, Bureau of Lamps and Lighting—Administration.

220. Salaries, Office of Chief Engineer—	
Chief Engineer of Light and Power .....	\$7,500 00
Clerk .....	3,000 00
Clerk .....	1,950 00
Clerks, 3 at \$1,250 .....	3,750 00
Clerk .....	3,050 00
Inspector of Electricity and Gas .....	2,250 00
Stenographers and Typewriters, 2 at \$1,250 .....	2,400 00
Stenographer and Typewriter .....	750 00
	\$11,100 00

221. Salaries, Office of Chief Gas Examiner, Boroughs of Manhattan and The Bronx—

Chief Gas Inspector .....	\$3,000 00
Gas Inspectors, 11 at \$1,250 .....	13,200 00
	16,200 00

222. Laboratory for Testing Electric Meters .....

	1,200 00
Total, Administration .....	18,000 00

Heat, Light and Power, Bureau of Lamps and Lighting, Boroughs of Manhattan and The Bronx.

223. Salaries and Wages—	
Clerk .....	1,800 00
Clerk .....	1,200 00
Clerk .....	1,050 00
Clerks, 2 at \$900 .....	1,800 00
Clerk .....	300 00
Stenographers and Typewriters, 2 at \$1,250 .....	2,400 00
Stenographer and Typewriter .....	750 00
Topographical Draughtsman .....	1,250 00
Architectural Draughtsman .....	1,000 00
Draughtsman's Helper .....	1,050 00
Junior Draughtsman .....	1,050 00
Inspectors of Electricity and Gas, 2 at \$1,250 .....	4,500 00
Inspector of Electricity and Gas .....	1,800 00
Inspectors of Lamps and Lighting (1908 rate) .....	1,650 00
Inspectors of Lamps and Lighting (1908 rate), 4 at \$1,250 .....	6,000 00
Inspectors of Lamps and Lighting (1908 rate), 10 at \$1,250 .....	25,650 00
Inspectors of Lamps and Lighting (1908 rate), 1 at \$1,250 .....	3,600 00
Automobile Engineer .....	1,500 00
	\$50,250 00
224. Street and Park Lighting .....	1,335,671 22
	1,334,921 22

Heat, Light and Power, Bureau of Lamps and Lighting, Boroughs of Manhattan and The Bronx—Lighting Public Buildings.

225. Salaries and Wages—	
Inspectors of Lamps and Lighting, 4 at \$1,250 .....	\$6,000 00
Inspector of Lamps and Lighting .....	1,250 00

Salaries and Wages—

Inspectors of Lamps and Lighting, 3 at \$1,250 .....

Lighters of Public Markets, 2 at \$120 .....

Lighters of Public Markets .....

Cleaner and Watchman, Storeroom, No. 11 Perry street .....

226. Lighting Public Buildings .....

227. Boroughs of Manhattan and The Bronx, Bureau Expenses .....

228. General Supplies .....

Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same .....

229. Hired Teams, Horses and Carts .....

230. Telephones, Rental of .....

231. Heat and Power for City Departments, etc .....

232. High Pressure Fire Service, Reservation of Machinery and Current .....

233. Salaries and Wages—

Clerk .....

Clerk .....

Junior Clerk .....

Stenographer .....

Stenographer .....

Inspectors of Electricity and Gas, 2 at \$2,250 .....

Inspectors of Lamps and Gas, 12 at \$1,250 .....

Inspectors of Lamps and Gas, 2 at \$1,200 .....

234. Street and Park Lighting .....

235. Lighting Public Buildings .....

236. General Supplies .....

237. Hired Teams, Horses and Carts .....

238. Telephones, Rental of .....

239. Heat and Power for City Departments, etc .....

240. High Pressure Fire Service, Reservation of Machinery and Current .....

241. Salaries and Wages—

Assistant Engineer .....

Clerk .....

Clerk .....

Inspector of Lamps and Lighting .....

Inspectors of Lamps and Lighting .....

Inspectors of Lamps and Lighting, 3 at \$1,250 .....

4,050 00

242. Street and Park Lighting .....

243. Lighting Public Buildings .....

244. General Supplies .....

245. Hired Teams, Horses and Carts .....

246. Telephones, Rental of .....

247. Heat and Power for City Departments, etc .....

248. Salaries and Wages—

Clerk .....

Chief Inspector of Electrical Conductors .....

Inspector of Exterior Wiring .....

Inspectors of Lamps and Lighting, 2 at \$1,250 .....

2,700 00

Inspectors of Lamps and Lighting .....

1,200 00

Stenographer and Typewriter .....

1,200 00

249. Street and Park Lighting .....

250. Lighting Public Buildings .....

251. General Supplies .....

252. Hired Teams, Horses and Carts .....

253. Heat and Power for City Departments, etc .....

254. For Police Detail—Salaries .....

255. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

Supervising Engineer .....

Purchasing Agent .....

Physician .....

1,500 00

256. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

Supervising Engineer .....

Purchasing Agent .....

Physician .....

1,500 00

257. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

Supervising Engineer .....

Purchasing Agent .....

Physician .....

1,500 00

258. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

Supervising Engineer .....

Purchasing Agent .....

Physician .....

1,500 00

259. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

Supervising Engineer .....

Purchasing Agent .....

Physician .....

1,500 00

260. Salaries and Wages—

Commissioner .....

First Deputy Commissioner .....

Secretary .....

Private Secretary .....

General Inspector .....

## Salaries and Wages—

Confidential Stenographer	1,500 00
Draughtsman	1,250 00
Inspector of Foods	1,200 00
Distillians, 2 at \$1,200	2,400 00
Egg Candler	1,200 00
Clerks, 2 at \$1,100	2,200 00
Clerk	1,050 00
Clerical Assistants, 3 at \$420	1,260 00
Clerical Assistant	300 00
Stenographer and Typewriter	1,200 00
Stenographers and Typewriters, 2 at \$750	1,500 00
Driver	900 00
Hospital Helper	720 00
Hospital Helper	480 00
Hospital Helper	420 00
Hospital Helper	300 00
Auto Engineer	1,200 00

\$46,330 00

## Office of the Auditor.

## 256. Salaries and Wages—

Auditor	\$3,300 00
Clerk	2,250 00
Clerk	1,500 00
Clerk	1,200 00
Clerks, 3 at \$1,050	3,150 00
Bookkeeper	1,950 00
Junior Clerk	600 00

13,950 00

## ADMINISTRATION—MANHATTAN.

## General Drug Department.

## 257. Salaries and Wages—

Chemist	\$2,550 00
Apothecary	900 00
Apothecaries, 3 at \$1,050	3,150 00
Clerk	750 00
Stenographer	600 00
Hospital Helpers, 4 at \$600	2,400 00
Hospital Helpers, 2 at \$340	1,080 00
Hospital Helper	480 00

11,910 00

## Bureau of Dependent Adults.

## 258. Salaries and Wages—

Superintendent	\$2,700 00
Clerks, 3 at \$1,300	3,900 00
Chief Examiner of Charitable Institutions	1,500 00
Examiners of Charitable Institutions, 12 at \$1,200	18,000 00
Registrar	1,000 00
Visitor	1,200 00
Visitors, 3 at \$1,000	3,000 00
Stenographer and Typewriter	1,000 00
Stenographer	750 00
Clerk	900 00
Clerk	720 00
Clerks, 3 at \$600	1,800 00
Hospital Helper	720 00
Hospital Helpers, 2 at \$600	1,200 00
Hospital Helpers, 2 at \$480	960 00
Hospital Helpers, 2 at \$360	720 00
Hospital Helpers, 2 at \$240	480 00
Hospital Helpers, 16 at \$150	2,400 00
Morgue Keeper	700 00
Cleaner	600 00
Clerical Assistants, 8 at \$420	3,360 00
Pupil Examiner	420 00

47,660 00

## Children's Bureau.

## 259. Salaries and Wages—

Superintendent	\$2,700 00
Clerk	1,500 00
Clerk	1,050 00
Clerk	600 00
Examiners of Charitable Institutions, 12 at \$1,200	18,000 00
Stenographer and Typewriter	800 00
Stenographers and Typewriters, 2 at \$750	1,500 00
Clerical Assistants, 7 at \$420	2,940 00
Hospital Helper	600 00
Pupil Examiners, 2 at \$420	840 00

28,130 00

## Departmental Steamboats, Launches and Piers.

## 260. Salaries and Wages—

Pilots, 5 at \$1,620	\$8,100 00
Pilots, 2 at \$1,400	12,600 00
Pilots, extra for 4 months, at \$1,400	466 00
Engineers	15,300 00
Clerk	1,200 00
Mates, 3 at \$900	2,700 00
Hospital Helpers, 2 at \$600	1,200 00
Hospital Helpers, 2 at \$480	2,400 00
Hospital Helpers, 2 at \$240	1,200 00
Cook	540 00
Watchman	500 00
Deckhands, 27 at \$500	13,500 00
Deckhand, extra for 6 months at \$500	250 00
Nurse	300 00
Stokers, not to exceed \$3 per day	18,330 00

75,585 66

## Stockhouse and Bakery.

261. Salaries and Wages—	
Clerks, 3 at \$1,200	\$3,600 00
Clerk	900 00
Clerk	730 00
Baker, Foreman	1,040 00
Bakers, 10 at \$780	7,800 00
Junior Clerk	600 00
Watchman	500 00
Clerical Assistant	420 00
Hospital Helpers, 5 at \$240	1,200 00
Hospital Helpers, 9 at \$180	1,620 00
Hospital Helpers, 8 at \$150	1,200 00
Hospital Helpers, 21 at \$120	2,520 00

\$21,150 00

## INSTITUTIONS.

## City Hospital.

262. Salaries and Wages—	
Deputy Superintendent	\$1,000 00
Steward	1,200 00
Apothecary	900 00
Apothecary	750 00
Chief Cook	900 00
Cook	540 00
Cooks, 2 at \$360	720 00
Cook Helper	240 00
Waitresses, 3 at \$180	540 00
Hospital Helper, Mechanic	720 00
Hospital Helpers, 2 at \$600	1,200 00
Hospital Helpers, 2 at \$480	960 00
Hospital Helpers, 2 at \$420	840 00
Hospital Helpers, 10 at \$360	3,600 00
Hospital Helpers, 2 at \$300	600 00
Hospital Helpers, 12 at \$240	2,160 00
Hospital Helpers, 2 at \$180	360 00
Hospital Helpers, 32 at \$150	4,800 00
Hospital Helpers, 96 at \$144	13,824 00
Hospital Helpers, 31 at \$120	3,720 00
Hospital Helpers, 2 at \$72	144 00
Hospital Helpers, 12 at \$60	720 00
Hospital Helper	60 00
Chaplains, 2 at \$450	900 00
Clerical Assistants, 3 at \$360	1,080 00
Butcher	360 00
Scamstress	200 00
Scamstress, 2 at \$204	408 00
Elevatorman	340 00
Electricians	1,400 00
Enginemen	4,927 50
Stokers, not to exceed \$3 per day	8,760 00

50,413 50

## New York City Training School for Nurses.

263. Salaries and Wages—	
Superintendent	\$1,800 00
Deputy Superintendent	1,200 00
Assistant Superintendents, 2, at \$1,200	2,400 00
Supervising Nurse	750 00
Trained Nurses, 15 at \$600	7,800 00
Senior Pupil Nurses, 32 at \$180	5,760 00
Intermediate Pupil Nurses, 33 at \$144	4,752 00
Junior Pupil Nurses, 30 at \$120	3,600 00
Stenographer and Typewriter	750 00
Clerical Assistants, 2 at \$420	840 00
Matron	600 00
Cook	480 00
Assistant Cook	360 00
Waitresses, 4 at \$240	960 00
Hospital Helpers, 7 at \$300	2,100 00
Hospital Helpers, 16 at \$240	3,840 00
Hospital Helper	150 00
Hospital Helpers, 10 at \$144	1,440 00

39,382 00

## New York City Home for Aged and Infirm.

264. Salaries and Wages—	
Superintendent	\$1,950 00
Deputy Superintendent	1,000 00
Apothecary	900 00
Steward	900 00
Supervising Nurse	750 00
Trained Nurse	600 00
Nurse	180 00
Inspector	600 00
Tailor	600 00
Matrons, 2 at \$600	1,200 00
Hospital Helpers, 2 at \$600	1,200 00
Hospital Helper	480 00
Hospital Helpers, 3 at \$360	1,080 00
Hospital Helpers, 5 at \$300	1,500 00
Hospital Helpers, 3 at \$240	720 00
Hospital Helper	216 00
Hospital Helpers, 33 at \$180	5,940 00
Hospital Helpers, 2 at \$16	332 00
Hospital Helpers, 14 at \$180	2,520 00
Hospital Helpers, 39 at \$144	5,615 00
Hospital Helpers, 62 at \$120	7,440 00
Hospital Helpers, 2 at \$96	192 00
Hospital Helpers, 2 at \$72	144 00
Hospital Helpers, 3 at \$60	180 00

## Salaries and Wages—

Cook	480.00
Cook	300.00
Laundress	450.00
Chaplain	300.00
Clerical Assistant	300.00
Stenographer	240.00
Engineer	3,285.00
Stokers, not to exceed \$3 per day	12,045.00
	54,400.00

## Metropolitan Hospital.

## 265. Salaries and Wages—

Superintendent	\$3,000.00
Deputy Superintendent	1,000.00
Steam and Gasfitter	1,450.00
Steward	1,200.00
Apothecary	900.00
Assistant Apothecary	720.00
Inspector	750.00
Cook	720.00
Assistant Cook	420.00
Assistant Cook	360.00
Dietitian	720.00
Hospital Helper	720.00
Hospital Helpers, 2 at \$600	1,200.00
Hospital Helpers, 2 at \$420	840.00
Hospital Helpers, 6 at \$360	2,160.00
Hospital Helpers, 3 at \$300	900.00
Hospital Helpers, 3 at \$240	1,200.00
Hospital Helpers, 4 at \$180	720.00
Hospital Helper	480.00
Hospital Helper	420.00
Hospital Helper	360.00
Hospital Helpers, 10 at \$120	15,300.00
Hospital Helpers, 4 at \$90	360.00
Hospital Helpers, 13 at \$60	780.00
Stenographer and Typewriter	600.00
Clerical Assistant, 5 at \$260	1,300.00
Hospital Orderly	360.00
Messenger	240.00
Seamstresses, 6 at \$204	1,224.00
Engineers	3,285.00
Electrician	1,092.00
Stokers, not to exceed \$3 per day	6,570.00
	31,631.00

## Metropolitan Hospital Training School.

## 266. Salaries and Wages—

Superintendent	\$1,800.00
Assistant Superintendent	1,200.00
Supervising Nurse, 2 at \$350	1,700.00
Supervising Nurse	750.00
Trained Nurse, 6 at \$600	3,600.00
Head Pupil Nurse, 1 at \$600	1,800.00
Head Pupil Nurse, 5 at \$360	1,800.00
Trained Nurse	480.00
Pupil Nurse, 19 at \$180	1,420.00
Pupil Nurse, 19 at \$144	2,736.00
Pupil Nurse, 19 at \$120	2,280.00
Stenographer	750.00
Clerical Assistant, 2 at \$420	840.00
Matron	600.00
Cook	480.00
Assistant Cook	360.00
Hospital Helper	600.00
Hospital Helpers, 7 at \$480	3,360.00
Hospital Helpers, 2 at \$360	720.00
Hospital Helpers, 4 at \$300	1,200.00
Hospital Helpers, 2 at \$300	600.00
Hospital Helpers, 3 at \$192	576.00
Hospital Helpers, 4 at \$180	720.00
Hospital Helpers, 8 at \$150	12,480.00
Hospital Helpers, 2 at \$120	240.00
	16,162.00

## New York City Children's Hospital and Schools.

## 267. Salaries and Wages—

Superintendent	\$3,000.00
Steward	1,200.00
Apothecary	900.00
Clerk	900.00
Clerk	600.00
Stenographer and Typewriter	800.00
Stenographer and Typewriter	750.00
Gardener	900.00
Supervising Nurse	850.00
Teachers, 7 at \$750	5,250.00
Trained Nurse, 3 at \$600	1,800.00
Trained Nurse	480.00
Trained Nurse	360.00
Trained Nurse	300.00
Nurse	300.00
Nurses, 4 at \$240	960.00
Nurse	192.00
Dietitian	720.00
Laborer	720.00
Cook, 2 at \$720	1,440.00
Cook	420.00
Cook	360.00
Cook	180.00
Helper	720.00

## Salaries and Wages—

Helpers, 4 at \$600	2,400.00
Helpers, 4 at \$480	1,920.00
Helpers, 2 at \$420	840.00
Helpers, 5 at \$360	2,880.00
Helpers, 18 at \$300	5,400.00
Helpers, 75 at \$240	18,000.00
Helpers, 8 at \$180	1,440.00
Helpers, 47 at \$150	7,050.00
Helpers, 148 at \$120	17,760.00
Helper	60.00
Matron	600.00
Chaplain	450.00
Chaplain	360.00
Dentist	400.00
Orderly	420.00
Orderly	360.00
Orderlies, 2 at \$180	360.00
Seamstresses, 2 at \$250	500.00
Seamstresses, 6 at \$204	1,224.00
Carpenter, not to exceed \$3 per day	1,130.00
Engineers	4,927.50
Electrician (Lineman)	1,460.00
Stokers, not to exceed \$3 per day	12,045.00
	106,388.50

## Municipal Lodging House.

## 268. Salaries and Wages—

Superintendent	\$2,400.00
Physician	1,000.00
Visitor	900.00
Inspector	750.00
Fumigator (U. S.)	600.00
Helper	600.00
Helper	240.00
Helpers, 8 at \$120	960.00
Hospital Orderly	360.00
Elevators, 2 at \$300	600.00
Assistant Matron	240.00
Engineers	4,927.50
Stokers, not to exceed \$3 per day	3,285.00
	10,862.50

## 269. General Supplies

## 270. Materials for Repairs and Replacement by Departmental Labor

## 271. Repairs and Replacements by Contracts or Open Orders

## 272. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same

Post	6,000.00
Fodder	120,000.00
Telephones	10,500.00
Contingencies	5,000.00
Open Air Concerts	1,000.00
Detailed Patrolmen	5,000.00

## ADMINISTRATION, BROOKLYN.

## Office of the Deputy Commissioner

Second Deputy Commissioner	\$5,000.00
Secretary to Second Deputy Commissioner	2,100.00
Stenographer	1,200.00
Clerk	1,050.00
Automobile Engineer	1,200.00
Jacitress	750.00
Hospital Helper	480.00
Hospital Helpers, 2 at \$160	720.00
Hospital Helpers, 2 at \$160	600.00
Stokers, not to exceed \$3 per day	2,190.00
	15,290.00

## Bureau of Dependent Adults

Superintendent	\$1,200.00
Clerk	1,050.00
Clerk	1,050.00
Clerk	1,200.00
Clerk	1,050.00
Examiners in Lunacy, 2 at \$1,300	3,000.00
Examiners of Charitable Institutions, 5 at \$1,200	6,000.00
Visitor	1,000.00
Morgue Keeper	1,020.00
Hospital Helper	300.00
Registrar	1,300.00
	20,630.00

## Children's Bureau

Clerk	\$1,800.00
Clerk	1,200.00
Clerical Assistant, 3 at \$20	1,260.00
Examiners of Charitable Institutions, 9 at \$1,200	10,800.00
Pupil Examiner	420.00
Pupil Examiner	360.00
	15,840.00

## INVESTIGATIONS

## King's County Hospital

General Medical Superintendent	\$5,000.00
Superintendent of Training School	1,800.00
Deputy Superintendent of Training School	1,200.00
Deputy Superintendent of Training School	1,000.00
Resident Physician	2,000.00

## Salaries and Wages—

Chief Clerk.....	2,250 00
Clerks, 3 at \$1,200.....	3,600 00
Junior Clerk.....	750 00
Junior Clerk.....	600 00
Apothecary.....	1,050 00
Apothecary.....	900 00
Dietitian.....	900 00
Baker.....	780 00
Supervising Nurses, 4 at \$750.....	3,000 00
Trained Nurses, 18 at \$600.....	10,800 00
Pupil Nurses, 38 at \$144.....	5,672 00
Pupil Nurses, 14 at \$120.....	1,680 00
Morgue Keeper.....	480 00
Cook.....	600 00
Cook.....	480 00
Cook.....	420 00
Cook.....	300 00
Cook.....	300 00
Cook, 4 at \$240.....	960 00
Hospital Helpers, 7 at \$600.....	4,200 00
Hospital Helpers, 12 at \$480.....	5,760 00
Hospital Helpers, 2 at \$420.....	840 00
Hospital Helpers, 2 at \$360.....	720 00
Hospital Helpers, 20 at \$300.....	6,000 00
Hospital Helpers, 2 at \$264.....	528 00
Hospital Helpers, 20 at \$248.....	4,960 00
Hospital Helpers, 3 at \$216.....	648 00
Hospital Helpers, 3 at \$192.....	576 00
Hospital Helper.....	180 00
Hospital Helpers, 2 at \$192.....	384 00
Hospital Helpers, 3 at \$180.....	540 00
Hospital Helpers, 31 at \$144.....	4,464 00
Hospital Helper.....	120 00
Barber.....	300 00
Watchman.....	480 00
Telephone Operator.....	480 00
Orderly.....	360 00
Orderly.....	240 00
Seamstress.....	300 00
Waitress.....	264 00
Waitresses, 3 at \$240.....	1,200 00
Waitresses, 6 at \$216.....	1,296 00
Waitresses, 2 at \$192.....	384 00
Laundresses, 5 at \$240.....	1,200 00
Laundress.....	216 00
Laundress.....	192 00
Enginemen.....	4,927 50
Electrician.....	1,600 00
Stokers, not to exceed \$3 a day.....	3,285 00
For Improvement of Hospital Helper Service: Present and Additional Force.....	10,000 00

102,726 50

## Home for Aged and Infirm.

## 283. Salaries and Wages—

Foreman.....	\$1,800 00
Supervising Nurse.....	800 00
Trained Nurse.....	600 00
Nurse.....	300 00
Hospital Helpers, 2 at \$720.....	1,440 00
Hospital Helpers, 2 at \$600.....	1,200 00
Hospital Helpers, 6 at \$480.....	2,880 00
Hospital Helper.....	420 00
Hospital Helpers, 3 at \$300.....	900 00
Hospital Helpers, 12 at \$240.....	2,880 00
Hospital Helpers, 3 at \$216.....	432 00
Hospital Helpers, 3 at \$192.....	576 00
Hospital Helpers, 8 at \$144.....	1,152 00
Drivers, 2 at \$800.....	1,600 00
Drivers, 6 at \$720.....	4,320 00
Baker.....	780 00
Cook.....	720 00
Cook.....	300 00
Matron, 2 at \$600.....	1,200 00
Watchman.....	480 00
Chaplains, 2 at \$480.....	960 00
Butcher.....	420 00
Orderly.....	360 00
Clerical Assistant.....	240 00
Waitress.....	192 00
Carpenters, not to exceed \$5 per day.....	1,800 00
Plumbers, not to exceed \$5 per day.....	2,860 00
Enginemen.....	4,927 50
Stokers, not to exceed \$3 per day.....	3,385 00

40,874 50

## Cumberland Street Hospital.

## 284. Salaries and Wages—

Superintendent.....	\$3,000 00
Apothecary.....	900 00
Supervising Nurse.....	850 00
Supervising Nurse.....	750 00
Trained Nurses, 4 at \$600.....	2,400 00
Pupil Nurses, 14 at \$144.....	2,016 00
Pupil Nurses, 5 at \$120.....	600 00
Hospital Helpers, 2 at \$480.....	960 00
Hospital Helper.....	360 00
Hospital Helpers, 3 at \$300.....	900 00
Hospital Helper.....	264 00
Hospital Helpers, 3 at \$240.....	720 00
Hospital Helpers, 3 at \$192.....	384 00

## Salaries and Wages—

Hospital Helpers, 2 at \$216.....	432 00
Hospital Helpers, 10 at \$144.....	1,440 00
Hospital Helpers, 3 at \$120.....	360 00
Matron.....	600 00
Barber.....	480 00
Cooks, 2 at \$300.....	720 00
Laundress.....	300 00
Laundress.....	192 00
Seamstress.....	180 00
Waitress.....	240 00
Waitress.....	216 00
Waitresses, 2 at \$192.....	384 00
Waitress.....	180 00
Enginemen.....	4,927 50
Stokers, not to exceed \$3 per day.....	3,285 00

28,040 50

## Bradford Street Hospital.

## 285. Salaries and Wages—

Trained Nurses, 2 at \$600.....	1,200 00
Pupil Nurse.....	120 00
Hospital Helper.....	480 00
Hospital Helper.....	240 00
Hospital Helpers, 2 at \$144.....	288 00
Cook.....	360 00
Waitress.....	216 00

2,844 00

## Reception Hospital, Coney Island.

## 286. Salaries and Wages—

Supervising Nurse.....	\$750 00
Trained Nurse.....	600 00
Pupil Nurses, 2 at \$120.....	240 00
Hospital Helper.....	480 00
Hospital Helper.....	216 00
Hospital Helpers, 2 at \$144.....	288 00
Cook.....	360 00
Waitress.....	192 00

3,126 00

## 287. General Supplies.....

270,000 00

## 288. Materials for Repairs and Replacements by Departmental Labor.....

5,000 00

## 289. Repairs and Replacements by Contracts or Open Orders.....

40,000 00

## 290. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....

3,000 00

## 291. Fuel.....

50,000 00

## 292. Fodder.....

3,500 00

## 293. Telephones.....

4,000 00

## 294. Contingencies.....

2,000 00

## 295. Open Air Concerts.....

500 00

## 296. Burial of Pauper Dead.....

1,800 00

## ADMINISTRATION—RICHMOND.

## Bureau of Dependent Adults.

297. Salaries and Wages—	
Superintendent.....	\$1,950 00
Clerk.....	900 00
Stenographer and Typewriter.....	600 00

3,410 00

## INSTITUTIONS.

## New York City Farm Colony.

298. Salaries and Wages—	
Superintendent.....	\$1,500 00
Clerical Assistant.....	420 00
Physician.....	300 00
Matron.....	600 00
Hospital Helpers, 3 at \$600.....	1,800 00
Hospital Helper.....	540 00
Hospital Helper.....	480 00
Hospital Helper.....	420 00
Hospital Helpers, 4 at \$360.....	1,440 00
Hospital Helpers, 4 at \$300.....	1,200 00
Hospital Helper.....	240 00
Hospital Helpers, 6 at \$180.....	1,080 00
Hospital Helpers, 7 at \$144.....	1,008 00
Hospital Helpers, 2 at \$120.....	240 00
Cook.....	480 00
Seamstress.....	216 00

12,188 00

## 299. General Supplies.....

50,000 00

## 300. Materials for Repairs and Replacement by Departmental Labor.....

2,000 00

## 301. Repairs and Replacements by Contracts or Open Orders.....

15,000 00

## 302. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....

500 00

## 303. Fuel.....

10,000 00

## 304. Fodder.....

800 00

## 305. Telephones.....

350 00

## 306. Contingencies.....

200 00

## Miscellaneous.

## 307. Transportation of Paupers.....

3,000 00

## 308. Allowance for Poor Adult Blind.....

55,000 00

## 309. Clothing for Insane Patients.....

3,200 00

## 310. Clothing for Epileptics sent to Craig Colony.....

7,200 00

## 311. Donations to Grand Army Veterans.....

25,000 00

## DEPARTMENT OF BELLEVUE AND ALLIED HOSPITALS.

## GENERAL ADMINISTRATION.

## Office of the General Medical Superintendent.

313. Salaries and Wages—	
General Medical Superintendent.....	40,000.00
Director of Laboratories.....	3,000.00
General Superintendent, Training Schools.....	3,000.00
Stenographer.....	1,300.00
Stenographer.....	750.00
Foreman of Drivers.....	900.00

## Office of the Supervising Engineer.

314. Salaries and Wages—	
Supervising Engineer.....	3,000.00
Stenographer.....	750.00

## Central Office.

315. Salaries and Wages—	
Secretary to President.....	1,600.00
Contract Clerk.....	1,950.00
Bookkeeper.....	1,200.00
Stenographer.....	750.00
Stenographer.....	750.00
Clerks, 2 at \$900.....	1,800.00
Junior Clerks, 2 at \$750.....	1,500.00
Junior Clerks, 8 at \$600.....	4,800.00
Junior Clerks, 2 at \$540.....	1,080.00

\$34,200.00

## Bellevue Hospital—Administration.

316. Salaries and Wages—	
Assistant Superintendent.....	\$3,500.00
Assistant Superintendent.....	1,200.00
Expert Cataloguer.....	800.00
Inspector.....	610.00
Inspectors, 2 at \$600.....	1,200.00
Chaplains, 4 at \$450.....	1,800.00
Gatemen, 2 at \$500.....	1,000.00
Telephone Operators, 5 at \$600.....	3,000.00
Junior Clerks, 2 at \$540.....	1,080.00
Junior Clerk, 2 at \$480.....	960.00
Junior Clerk.....	420.00
Junior Clerk, 3 at \$360.....	1,080.00
Hospital Helper.....	720.00
Hospital Helper.....	480.00
Hospital Helper.....	360.00
Hospital Helpers, 8 at \$300.....	2,400.00
Hospital Helpers, 6 at \$240.....	1,440.00

\$21,278.00

## Bellevue Hospital—Operation and Maintenance.

317. Salaries and Wages—	
Superintendent, Bellevue Training School.....	\$1,800.00
Supervising Superintendent, Nurses, Mills Training School.....	800.00
First Assistant Superintendent, Nurses, Mills Training School.....	600.00
Second Assistant Superintendent, Nurses, Mills Training School.....	600.00
Night Superintendent, Nurses, Mills Training School.....	600.00
First Assistant Superintendent, Nurses, Bellevue Training School.....	600.00
Second Assistant Superintendent, Nurses, Bellevue Training School.....	600.00
Night Superintendent, Bellevue Training School.....	600.00
Instructor of Physicians.....	720.00
Residing Physician.....	3,200.00
Examining Physicians, 4 at \$1,800.....	7,200.00
Pathologists, 3.....	4,500.00
Assistant Aliens, 2 at \$2,100.....	4,200.00
X-Ray Photographer.....	1,800.00
Dietitian.....	1,000.00
Apothecary.....	1,200.00
Apothecaries, 2 at \$750.....	1,500.00
Interpreter.....	1,000.00
Stenographers, 2 at \$800.....	1,600.00
Nurses, 3 at \$800.....	2,400.00
Nurses, 7 at \$720.....	5,040.00
Nurses, 61 at \$600.....	36,600.00
Nurses, 3 at \$480.....	1,440.00
Post Graduate Pupil Nurses, 22 at \$300.....	6,600.00
Pupil Nurses, 73 at \$120.....	8,760.00
Pupil Nurses, 111 at \$95.....	10,555.00
Helpers, 2 at \$720.....	1,440.00
Helpers, 2 at \$480.....	960.00
Helpers, 2 at \$120.....	840.00
Helpers, 7 at \$120.....	2,520.00
Helpers, 19 at \$120.....	2,760.00
Helpers, 108 at \$240.....	25,920.00
Helpers.....	216.00
Helpers, 119 at \$180.....	21,880.00
Orderlies and Attendants, 5 at \$480.....	2,400.00
Orderly and Attendant.....	396.00
Orderlies and Attendants, 3 at \$360.....	1,080.00
Stretcher Carrier.....	360.00
Stretcher Carriers, 10 at \$240.....	2,400.00
Caretakers and Sweepers, 6 at \$300.....	1,800.00
Elevators.....	360.00
Elevators, 2 at \$300.....	600.00
Housekeepers.....	720.00
Housekeepers, 2 at \$600.....	1,200.00
Chambermaids, 6 at \$240.....	1,440.00

## Salaries and Wages—

Parlor Maid.....	240.00
Seamstress.....	312.00
Seamstresses, 4 at \$283.....	1,132.00
Valet.....	300.00
Valet.....	240.00
Cook.....	900.00
Cook.....	880.00
Cook.....	420.00
Cooks, 2 at \$160.....	320.00
Cooks, 2 at \$200.....	400.00
Assistant Cooks, 2 at \$100.....	200.00
Assistant Cook.....	246.00
Waiter.....	300.00
Waiters, 2 at \$240.....	480.00
Waitresses, 2 at \$300.....	600.00
Waitresses, 6 at \$240.....	1,440.00
Waitresses, 6 at \$180.....	1,080.00
Pantry Maid.....	240.00
Pantry Maid.....	180.00
Kitchen Maid.....	180.00
Butcher.....	720.00
Laundry Manager.....	1,200.00
Laundress.....	360.00
Laundress.....	300.00
Drivers, 5 at \$600.....	3,000.00
Janitors, 3 at \$240.....	720.00
Janitress.....	216.00
Janitresses, 2 at \$180.....	360.00
Supervisor of Cleaners.....	360.00
Window Cleaners and Floor Polishers, 6 at \$200.....	1,200.00
Window Cleaners and Floor Polishers, 8 at \$180.....	1,440.00
Engineers, not to exceed \$4.50 per day.....	6,570.00
Stokers, not to exceed \$3 per day.....	7,521.00
Boiler House Men, 3 at \$240.....	720.00
Electrical Helper.....	480.00
Plumbers, not to exceed \$5 per day.....	1,565.00
Plumbers' Helper.....	720.00
Plumbers' Helper.....	480.00
Painters' Apprentice.....	720.00
Painters' Apprentice.....	360.00
Painters' Helpers, 9 at \$240.....	2,160.00
Carpenters' Apprentice.....	600.00
Carpenters' Apprentice.....	360.00
Carpenters' Helpers, 4 at \$240.....	960.00
Clockman.....	300.00
Orderly/Watchman.....	360.00
Porter.....	240.00

\$21,982.00

## Bellevue Hospital—New Nurses' Residence.

318. Salaries and Wages—	
Nurse.....	3725.00
Nurses, 3 at \$600.....	1,800.00
Night Watchman.....	480.00
Elevators, 2 at \$240.....	480.00
Waiters.....	500.00
Waitresses, 3 at \$240.....	720.00
Waitresses, 4 at \$180.....	720.00
Pantry Maid, 2 at \$180.....	360.00
Chef.....	720.00
Assistant Chef.....	240.00
Laundress.....	360.00
Seamstress.....	360.00
Chambermaids, 6 at \$240.....	1,440.00
Chambermaids, 6 at \$216.....	1,296.00
Helper.....	360.00
Helpers, 8 at \$300.....	1,200.00
Helpers, 3 at \$240.....	1,200.00
Helpers, 2 at \$180.....	360.00

\$13,116.00

## Governor Hospital—Administration.

319. Salaries and Wages—	
Supervising Nurse.....	\$1,200.00
Stenographer.....	750.00
Clerk, 3 at \$600.....	1,800.00
Clerk.....	360.00
Telephone Operators, 2 at \$600.....	1,200.00

5,310.00

## Governor Hospital—Operation and Maintenance.

320. Salaries and Wages—	
X-Ray Photographer.....	\$1,200.00
Apothecaries, 2 at \$750.....	1,500.00
Head Nurses, 3 at \$600.....	1,800.00
Nurse.....	720.00
Nurse.....	600.00
Pupil Nurses, 33 at \$144.....	4,752.00
Helpers, 5 at \$360.....	1,800.00
Helpers, 10 at \$200.....	2,000.00
Helpers, 30 at \$240.....	7,200.00
Helpers, 36 at \$180.....	6,480.00
Drivers, 4 at \$600.....	2,400.00
Chef.....	720.00
Assistant Cook.....	360.00
Assistant Cook.....	360.00
Waitresses, 2 at \$216.....	648.00
Housekeeper.....	600.00
Seamstresses, 2 at \$240.....	480.00
Launderman.....	600.00
Laundress.....	360.00

## Salaries and Wages—

Laundresses, 3 at \$240.	720.00
Laundresses, 2 at \$180.	360.00
Engineers, not to exceed \$4.50 per day.	4,927.50
Stokers, not to exceed \$3 per day.	3,285.00
Elevatorman	300.00
Elevatorman	240.00
Carpenter's Apprentice	600.00
Painter's Apprentice	480.00
Plumber's Apprentice	600.00
	45,772.50

## Harlem Hospital—Administration.

## 321. Salaries and Wages—

Assistant Superintendent, Training School	\$800.00
Supervising Nurse	1,200.00
Stenographer	750.00
Clerks, 2 at \$600.	1,200.00
Clerk	420.00
Clerks, 2 at \$360.	720.00
Clerk	300.00
Helpers, 2 at \$300.	600.00
Helper	240.00
Gatekeeper	240.00
	5,470.00

## Harlem Hospital—Operation and Maintenance.

## 322. Salaries and Wages—

Apothecaries, 2 at \$750.	\$1,500.00
Head Nurses, 2 at \$720.	1,440.00
Nurse	720.00
Nurses, 13 at \$600.	6,600.00
Head Pupil Nurses, 24 at \$30.	7,200.00
Pupil Nurses, 6 at \$96.	576.00
Helper	480.00
Helpers, 4 at \$360.	1,440.00
Helpers, 7 at \$300.	2,100.00
Helpers, 24 at \$240.	5,760.00
Helpers, 11 at \$180.	1,980.00
Drivers, 4 at \$600.	2,400.00
Cook	720.00
Assistant Cook	360.00
Waitresses, 3 at \$240.	720.00
Waitresses, 2 at \$180.	360.00
Pantry Maid	180.00
Housekeeper	600.00
Seamstress	300.00
Laundryman	600.00
Engineers, not to exceed \$4.50 per day.	4,927.50
Stokers, not to exceed \$3 per day.	3,285.00
Oilers, not to exceed \$3 per day.	2,190.00
Elevatormen, 2 at \$240.	480.00
Plumber's Apprentice	600.00
Carpenter's Apprentice	600.00
	48,118.50

## Fordham Hospital—Administration.

## 323. Salaries and Wages—

Superintendent, Training Schools	\$1,200.00
Assistant Superintendent, Training Schools	720.00
Supervising Nurse	1,200.00
Junior Clerks, 2 at \$600.	1,200.00
Junior Clerk	480.00
Junior Clerk	360.00
Junior Clerk	240.00
Telephone Operators, 2 at \$600.	1,200.00
Helper	300.00
Helper	240.00
Gatekeeper	240.00
	7,320.00

## Fordham Hospital—Operation and Maintenance.

## 324. Salaries and Wages—

Apothecary	\$750.00
Head Nurse	720.00
Nurses, 12 at \$600.	7,200.00
Post-Graduate Nurses, 22 at \$300.	6,600.00
Pupil Nurses, 6 at \$96.	576.00
Helper	420.00
Helpers	360.00
Helpers, 6 at \$300.	1,800.00
Helpers, 18 at \$180.	4,320.00
Helpers, 9 at \$180.	1,620.00
Stretcher Carrier	240.00
Driver, 3 at \$600.	1,800.00
Chef	720.00
Cook	360.00
Assistant Cook	360.00
Assistant Cook	240.00
Waitress	240.00
Waitress and Chambermaid	240.00
Waitress and Chambermaid	180.00
Waitress and Parlor Maid	216.00
Chambermaid	240.00
Chambermaid	180.00
Night Maid	180.00
Nursery Maid	180.00
Housekeeper	720.00
Seamstress	240.00
Laundryman	600.00
Laundresses, 2 at \$300.	600.00
Laundresses, 2 at \$240.	480.00
Laundress	216.00

## Salaries and Wages—

Laundresses, 2 at \$180.	360.00
Chauffeurs, 2 at \$1,200.	2,400.00
Engineers, not to exceed \$4.50 per day.	4,927.50
Stokers, not to exceed \$3 per day.	1,285.00
Oilers, not to exceed \$3 per day.	2,190.00
Elevatormen, 2 at \$240.	480.00
Plumber's Apprentice	600.00
Painter's Apprentice	600.00
Carpenter's Apprentice	600.00
	48,040.50

## 11857

## 325. General Supplies

## 326. Materials for Repairs and Replacement by Departmental Labor

13,529.75

## 327. Repairs and Replacements by Contracts or Open Orders

20,000.00

## 328. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage

11,735.00

## 329. Purchase of Automobile Ambulance

4,000.00

## 330. Contingencies

5,450.00

## 331. Fuel

85,050.00

## 332. Telephones

500.00

653,145.52

1,102,745.00

## DEPARTMENT OF CORRECTION.

## GENERAL ADMINISTRATION.

## Office of the Commissioner.

333. Salaries and Wages—	
Commissioner	\$7,500.00
Deputy Commissioner	4,000.00
Secretary	3,000.00
Private Secretary	2,500.00
Clerk	1,800.00
Clerk	1,200.00
Clerk	800.00
Junior Clerk	480.00
	\$21,280.00

## Office of the General Bookkeeper and Auditor.

334. Salaries and Wages—	
General Bookkeeper and Auditor	\$3,000.00
Inspector	2,500.00
Purchasing Agent	1,800.00
Clerk	1,800.00
Clerk, Stenographer and Typewriter	1,800.00
Clerk	800.00
Laundress	450.00
Cleaner	240.00
	12,990.00
335. General Supplies	\$71,000.00
336. Materials for Repairs and Replacement by Departmental Labor	21,500.00
337. Repairs and Replacements by Contracts or Open Orders	27,500.00
338. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same	10,500.00
339. Fuel	100,000.00
340. Telephones	0.000.00
341. Contingencies	4,600.00

## Miscellaneous.

342. Donations to Discharged Prisoners	5,000.00
343. Transportation of Insane Criminals	500.00
344. Manufacturing Supplies—Penitentiary	100,000.00
345. Manufacturing Supplies—Reformatory, Hart Island	15,000.00
346. Detailed Patrolman	1,400.00

## ADMINISTRATION.

## Central Office and Stables.

347. Salaries and Wages—	
Automobile Engineer	\$1,200.00
Hostlers, 2 at \$1,000.	2,000.00
Hostlers, 2 at \$900.	1,800.00
Drivers, 7 at \$1,000.	7,000.00
	12,000.00

## Storeroom.

348. Salaries and Wages—	
General Storerkeeper	\$2,000.00
Clerks, 5 at \$480.	2,400.00
Orderlies, 5 at \$240.	1,200.00
	5,600.00

## Steamboats and Piers.

349. Salaries and Wages—	
Pilots, 3 at \$1,620.	\$4,860.00
Pilots, 2 at \$1,400.	2,800.00
Engineers, 2 at \$1,200.	3,600.00
Engineers, 2 at \$1,350.	4,050.00
Mates, 2 at \$800.	1,600.00
Mates	600.00
Hospital Helper	600.00
Boatman	480.00
Deckhands, 15 at \$480.	7,200.00
Cooks, 2 at \$480.	960.00
Orderly	240.00
Fireman, not to exceed \$3 a day	1,095.00
Stokers, not to exceed \$3 a day	10,050.00</td

Salaries and Wages—	
Keepers, 20 at \$1,200.	24,000 00
Keepers, 5 at \$1,050.	5,250 00
Keepers, 4 at \$900.	3,600 00
Keepers, 10 at \$800.	8,000 00
Driver	1,000 00
Matron	700 00
Matrons, 2 at \$500.	1,000 00
Assistant Matrons, 2 at \$400.	1,200 00
Attendant	300 00
Orderlies, 5 at \$240.	1,200 00
Stokers, not to exceed \$3 per day.	2,190 00
	52,440 00

## City Prison.

351. Salaries and Wages—	
Warden	\$2,500 00
Deputy Warden	1,800 00
Head Keeper	1,800 00
Keepers, 25 at \$1,200.	30,000 00
Keeper	1,050 00
Keepers, 7 at \$900.	6,300 00
Keepers, 7 at \$800.	5,600 00
Physician	1,500 00
Apothecary	900 00
Clerk	900 00
Matron	700 00
Assistant Matron	400 00
Elevator Man	600 00
Cook	600 00
Orderly, Female	360 00
Orderly, Female	300 00
Orderlies, Females, 2 at \$240.	480 00
Orderlies, Male, 2 at \$240.	480 00
Helper	120 00
Engineers, not to exceed \$4.50 a day.	4,927 50
Electrician, not to exceed \$4 a day.	1,460 00
Stokers, not to exceed \$3 a day.	4,380 00
	47,357 50

## Workhouse.

352. Salaries and Wages—	
Warden	\$3,500 00
Head Keeper	1,800 00
Keepers, 19 at \$1,200.	22,800 00
Keepers, 6 at \$1,050.	6,300 00
Keepers, 2 at \$900.	2,700 00
Keepers, 4 at \$800.	3,200 00
Clerk	1,200 00
Gardener	1,050 00
Carpenter	1,050 00
Butcher	1,050 00
Wheelwright	1,050 00
Shoemaker	900 00
Apothecary	900 00
Mechanic's Helper	600 00
Driver	600 00
Hospital Helpers, 11 at \$600.	6,600 00
Hospital Helpers, 2 at \$480.	2,400 00
Matrons, 3 at \$500.	1,500 00
Cook	480 00
Chaplains, 3 at \$450.	1,350 00
Orderly, Female	400 00
Orderly, Female	360 00
Orderlies, Female, 12 at \$240.	2,880 00
Attendant, Male	300 00
Orderlies, Male, 8 at \$240.	1,920 00
Nurses, 2 at \$300.	720 00
Nurses, 2 at \$300.	600 00
Hall Keeper	360 00
Attendant, Female	300 00
Helpers, 4 at \$150.	600 00
Helper	60 00
Stationary Engineers, not to exceed \$4.50 a day.	4,927 50
Stokers, not to exceed \$3 a day.	3,285 00
Tailor, not to exceed \$2 a day.	720 00
	77,492 50

## Penitentiary.

353. Salaries and Wages—	
Warden	\$3,500 00
Warden	3,000 00
Head Keepers, 2 at \$1,200.	3,600 00
Keepers, 41 at \$1,200.	49,290 00
Keepers, 1 at \$1,050.	5,250 00
Keepers, 5 at \$900.	4,500 00
Keepers, 10 at \$800.	8,000 00
General Foreman	2,100 00
Mason	1,200 00
Butcher	1,050 00
Bakers, Foremen, 3 at \$1,040.	3,120 00
Clerk	900 00
Shoemaker	900 00
Elevator Man	600 00
Mechanic's Helper	600 00
Hospital Helpers, 2 at \$600.	1,200 00
Hospital Helper	480 00
Hospital Helper	360 00
Matrons, 2 at \$500.	1,000 00
Assistant Matron	400 00
Chaplain	450 00
Laundresses, 3 at \$450.	1,350 00
Trained Nurse	300 00

Salaries and Wages—	
Orderlies, 2 at \$240.	480 00
Waitress	240 00
Helper	150 00
Engineers, not to exceed \$4.50 a day.	6,570 00
Stonemason, not to exceed \$4.50 a day.	1,642 50
Stoker, not to exceed \$3 a day.	1,093 00
	103,867 50

## Branch Workhouse, Hart's Island.

354. Salaries and Wages—	
Warden	\$3,000 00
Physician	1,200 00
Keepers, 3 at \$1,200.	3,600 00
Keepers, 3 at \$900.	2,700 00
Keepers, 6 at \$800.	4,800 00
Painter	1,050 00
Carpenter	1,050 00
Tinsmith	1,050 00
Teacher	900 00
Cook	600 00
Hospital Helpers, 5 at \$600.	3,000 00
Matron	500 00
Matron	400 00
Chaplains, 3 at \$450.	1,350 00
Laundress	450 00
Orderly, Female	240 00
Orderlies, Male, 17 at \$240.	4,080 00
Helpers, 10 at \$150.	1,500 00
Engineers, not to exceed \$4.50 a day.	4,927 50
Stokers, not to exceed \$3 a day.	6,570 00
	41,967 50

## Reformatory, Hart's Island.

355. Salaries and Wages—	
Secretary to Board of Parole	\$3,000 00
Overseer	1,800 00
Clerk	1,200 00
Instructor of Industry	1,200 00
Keepers, 3 at \$1,200.	3,600 00
Keepers, 2 at \$1,050.	2,100 00
Keepers, 2 at \$900.	1,890 00
Keepers, 4 at \$800.	3,200 00
Hospital Helpers, 2 at \$600.	1,200 00
Hospital Helper	480 00
Orderly	240 00
	19,820 00

## Branch Workhouse, Rikers Island.

356. Salaries and Wages—	
Head Keeper	\$3,000 00
Physician	1,200 00
Keepers, 6 at \$1,200.	7,200 00
Keepers, 2 at \$1,050.	2,100 00
Keepers, 3 at \$900.	2,400 00
Orderly	480 00
Boatman	480 00
Chaplains, 2 at \$450.	900 00
Helper	150 00
Stoker, not to exceed \$3 a day.	1,095 00
	17,805 00

## Bertillon System.

357. Salaries and Wages—	
Chief of Bertillon System	1,200 00

## City Prison, Brooklyn.

358. Salaries and Wages—	
Warden	\$3,000 00
Head Keeper	1,800 00
Keepers, 9 at \$1,200.	10,800 00
Keepers, 3 at \$900.	2,700 00
Keepers, 5 at \$800.	4,000 00
Bookkeeper	1,500 00
Physician	1,200 00
Driver	1,000 00
Matron, 2 at \$500.	1,000 00
Clerk	800 00
Hospital Helper	480 00
Cook	480 00
Orderlies, Male, 4 at \$240.	960 00
Orderlies, Female, 4 at \$240.	960 00
Engineers, not to exceed \$4.50 a day.	4,927 50
Stokers, not to exceed \$3 a day.	3,285 00
	38,892 50

## DEPARTMENT OF HEALTH.

## GENERAL ADMINISTRATION.

## Salaries and Wages.

359. Office of the Commissioner—	
Commissioner	\$7,500 00
Secretaries to the President, 2 at \$3,000	6,000 00
Medical Inspector	2,550 00
Messenger	1,500 00
Clerk	1,500 00
Clerk	300 00
Automobile Engineman	1,200 00
Stenographer and Typewriter	1,050 00
Stenographer and Typewriter	900 00
	22,500 00

360. Office of the Secretary—	




<tbl\_r cells="2" ix="4" max

361. Office of the Chief Clerk—	Office of Assistant Sanitary Superintendent—
Chief Clerk..... \$3,500.00	Medical Inspectors, 2 at \$1,200..... 2,400.00
Clerks, 2 at \$2,100..... 4,200.00	Automobile Engineman..... 1,200.00
Clerks, 2 at \$1,800..... 3,600.00	Typewriting Copyist..... 750.00
Clerks, 2 at \$1,500..... 3,000.00	
Clerks, 5 at \$1,200..... 6,000.00	
Clerks, 3 at \$900..... 2,700.00	
Clerks, 4 at \$480..... 1,920.00	
Clerk..... 540.00	
Clerk..... 300.00	
Bookkeeper..... 1,200.00	
Stenographers and Typewriters, 3 at \$900..... 2,700.00	
Stenographer and Typewriter..... 600.00	
Typewriting Copyist..... 900.00	
	31,160.00
362. Office of Registrar of Records—	378. Office of Assistant Chief Clerk—
Registrar of Records..... \$4,000.00	Clerk..... \$2,530.00
Bookbinders, 2 at \$1,200..... 2,400.00	Clerk..... 1,200.00
Typewriting Copyist..... 900.00	Clerk..... 900.00
Bookbinder's Seamstress..... 750.00	Clerk..... 480.00
	Stationary Engineer, not to exceed \$4.50 a day..... 1,642.50
	Messenger..... 1,500.00
	Foreman of Laborers (Janitor)..... 1,500.00
	Stokers, not to exceed \$3 a day..... 3,285.00
	Stenographer and Typewriter..... 1,050.00
	Typewriting Copyist..... 900.00
	Typewriting Copyist..... 750.00
	Telephone Switchboard Operators, 2 at \$900..... 1,800.00
	Elevator Attendants, 3 at \$900..... 2,700.00
	Laborers..... 4,650.00
	Cleaners..... 3,972.00
363. Office of the General Medical Officer—	379. Office of Assistant Registrar of Records—
General Medical Officer..... \$5,000.00	Assistant Registrar of Records..... \$3,000.00
Medical Inspector..... 2,550.00	Clerks, 2 at \$1,800..... 3,600.00
Stenographer and Typewriter..... 900.00	Clerk..... 1,800.00
Driver..... 780.00	Clerks, 2 at \$900..... 1,800.00
	Clerk..... 750.00
	Clerk..... 100.00
	Medical Inspector..... 4,500.00
	Medical Inspector..... 1,200.00
	Tabulators, 3 at \$1,500..... 4,500.00
	Medical Clerk..... 1,200.00
	Laborer..... 900.00
	Stenographer and Typewriter..... 750.00
	Typewriting Copyist..... 750.00
	Typewriting Copyists, 9 at \$600..... 5,400.00
364. Office of Sanitary Superintendent—	27,150.00
Sanitary Superintendent..... \$3,000.00	Division of Inspections.
Expert..... 1,800.00	380. General Office—
Sanitary Inspector..... 1,500.00	Sanitary Inspector..... \$3,000.00
Bacteriologist..... 1,500.00	Clerk..... 900.00
Clerk..... 1,200.00	Clerk..... 750.00
Clerk..... 900.00	Clerk..... 480.00
Clerk..... 600.00	Clerks, 4 at \$300..... 1,200.00
Clerk..... 540.00	Stenographer and Typewriter..... 600.00
Automobile Engineman..... 1,200.00	Typewriting Copyist..... 900.00
Stenographer and Typewriter..... 1,050.00	Driver..... 240.00
365. Office of Superintendent of Hospitals—	8,670.00
Superintendent of Hospitals..... \$3,000.00	381. Sanitary Inspection, i. e., District, Mercantile, and Lodging House Inspection—
Stenographer and Typewriter..... 750.00	Sanitary Inspector..... \$3,550.00
	Sanitary Inspector..... 1,500.00
	Sanitary Inspectors, 19 at \$1,200..... 22,800.00
	Medical Inspector..... 1,200.00
	Medical Inspector..... 1,200.00
366. Division of Child Hygiene—	29,550.00
Medical Inspector..... \$3,000.00	382. Food, Fruit, Meat and Fish Inspection—
Nurse..... 1,200.00	Inspector of Foods..... 2,550.00
Clerk..... 1,500.00	Inspector of Foods..... 1,500.00
Clerk..... 1,200.00	Inspectors of Foods, 18 at \$1,200..... 21,600.00
Clerks, 2 at \$900..... 1,800.00	Typewriting Copyist..... 600.00
Clerks, 3 at \$480..... 1,440.00	Veterinarian..... 1,200.00
Stenographer and Typewriter..... 900.00	
Stenographer and Typewriter..... 600.00	27,450.00
	383. Division of Child Hygiene—
367. Office of Chief of Division of Communicable Diseases—	Medical Inspector..... \$2,550.00
Medical Inspector..... \$2,550.00	Medical Inspector..... 1,950.00
Medical Inspector..... 1,200.00	Medical Inspectors, 4 at \$1,500..... 6,000.00
Clerks, 2 at \$1,200..... 2,400.00	Medical Inspectors, 64 at \$1,200..... 76,800.00
Clerk..... 300.00	Nurses, 64 at \$900..... 57,600.00
Automobile Engineman..... 1,200.00	
Stenographer and Typewriter..... 900.00	144,900.00
	384. District Medical Inspection—
368. Office of Law Clerk—	Medical Inspector..... \$3,000.00
Clerk..... \$2,550.00	Medical Inspector..... 2,550.00
Clerk..... 1,500.00	Medical Inspectors, 4 at \$1,500..... 7,200.00
Clerk..... 750.00	Medical Inspectors, 3 at \$1,500..... 4,500.00
Clerk..... 300.00	Medical Inspectors, 20 at \$1,200..... 24,000.00
	Clerk..... 2,550.00
	Clerks, 2 at \$1,200..... 2,400.00
	Clerks, 2 at \$900..... 1,800.00
	Clerks, 2 at \$480..... 960.00
	Clerks, 3 at \$300..... 900.00
	Sanitary Inspector..... 1,500.00
	Veterinarian..... 1,500.00
	Veterinarians, 3 at \$1,200..... 3,600.00
	Disinfectors, 4 at \$1,050..... 4,200.00
	Disinfectors, 21 at \$900..... 18,900.00
	Disinfectors, 5 at \$750..... 3,750.00
	Stenographer and Typewriter..... 600.00
	Telephone Switchboard Operators, 3 at \$900..... 2,700.00
	Telephone Switchboard Operators, 2 at \$750..... 1,500.00
	Laborers..... 1,500.00
	Drivers..... 8,760.00
	Stablemen..... 720.00
	Typewriting Copyists, 2 at \$600..... 1,200.00
369. Office of Inspector of Construction and Repairs—	100,290.00
Sanitary Inspector..... \$1,800.00	ADMINISTRATION, MARSHALS.
Sanitary Inspector..... 1,650.00	Salaries and Wages.
370. General Supplies..... 5,900.00	377. Office of Assistant Sanitary Superintendent—
371. Repairs and Replacements by Contracts or Open Orders..... 3,355.00	Assistant Sanitary Superintendent..... \$3,500.00
372. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of Same..... 5,050.00	Clerk..... 1,500.00
373. Contingencies..... 2,100.00	Clerks, 2 at \$1,200..... 2,400.00
374. Postage..... 17,000.00	Clerks, 2 at \$900..... 1,800.00
375. Telephones, Rental of—	Clerks, 2 at \$480..... 960.00
Manhattan, including Willard Parker Hospital..... \$10,000.00	Clerks, 3 at \$300..... 900.00
The Bronx, including Riverside Hospital..... 3,300.00	Sanitary Inspector..... 1,500.00
Brooklyn, including Kingston Avenue Hospital..... 5,000.00	Veterinarian..... 1,500.00
Queens, including Hospital Service..... 1,500.00	Veterinarians, 3 at \$1,200..... 3,600.00
Richmond, including Hospital Service..... 900.00	Disinfectors, 4 at \$1,050..... 4,200.00
Tuberculosis Sanatorium, Ossining..... 400.00	Disinfectors, 21 at \$900..... 18,900.00
	Disinfectors, 5 at \$750..... 3,750.00
	Stenographer and Typewriter..... 600.00
	Telephone Switchboard Operators, 3 at \$900..... 2,700.00
	Telephone Switchboard Operators, 2 at \$750..... 1,500.00
	Laborers..... 1,500.00
	Drivers..... 8,760.00
	Stablemen..... 720.00
	Typewriting Copyists, 2 at \$600..... 1,200.00
376. ADMINISTRATION, MARSHALS.	
Salaries and Wages.	
377. Office of Assistant Sanitary Superintendent—	
Assistant Sanitary Superintendent..... \$3,500.00	
Clerk..... 1,500.00	
Clerks, 2 at \$1,200..... 2,400.00	
Clerk..... 900.00	
Clerk..... 480.00	

385. Sanitary Police—		
Sergeant .....	\$1,500.00	
Patrolmen, 44 at \$1,400.....	61,600.00	
	63,100.00	
386. Division of Communicable Diseases—Inspection—		
Medical Inspectors, 14 at \$1,300.....	21,000.00	
Clerks, 2 at \$1,200.....	2,400.00	
Clerks, 2 at \$900.....	1,800.00	
Clerks, 2 at \$480.....	1,440.00	
Clerk .....	300.00	
Nurses, 7 at \$900.....	6,300.00	
	33,240.00	
387. Division of Communicable Diseases—Clinic—		
Medical Inspector.....	\$1,800.00	
Medical Inspectors, 2 at \$1,200.....	2,400.00	
Hospital Clerk.....	900.00	
Hospital Clerk.....	750.00	
Nurses, 4 at \$900.....	3,600.00	
Nurses, 2 at \$600.....	1,200.00	
Laborer .....	600.00	
Helper .....	300.00	
	11,610.00	
388. General Supplies.....	25,140.00	
389. Materials for Repairs and Replacement by Departmental Labor.....	300.00	
400. Repairs and Replacements by Contracts or Open Orders .....	7,300.00	
401. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of same.....	4,110.00	
402. Fuel .....	1,600.00	
403. Hired Teams.....	1,500.00	
404. Contingencies .....	4,750.00	
	553,569.50	

## ADMINISTRATION, THE BRONX.

## Salaries and Wages.

405. Office of Assistant Sanitary Superintendent—		
Assistant Sanitary Superintendent.....	\$3,500.00	
Sanitary Inspectors, 2 at \$1,200.....	2,400.00	
Inspectors of Foods, 2 at \$1,200.....	2,400.00	
Medical Inspector.....	1,200.00	
Clerks, 2 at \$1,200.....	2,400.00	
Clerk .....	750.00	
Clerk .....	480.00	
Driver .....	720.00	
	13,850.00	
406. Office of Assistant Chief Clerk—		
Clerks, 2 at \$1,500.....	\$3,000.00	
Clerk .....	1,050.00	
Clerk .....	300.00	
Laborer .....	750.00	
Typewriting Copyists, 2 at \$600.....	1,200.00	
	6,200.00	

407. Office of Assistant Registrar of Records—		
Assistant Registrar of Records.....	\$3,000.00	
Clerk .....	900.00	
Typewriting Copyist .....	600.00	
	4,500.00	
408. Division of Child Hygiene—		
Medical Inspector .....	\$1,500.00	
Medical Inspectors, 12 at \$1,200.....	14,400.00	
Nurses, 12 at \$900.....	10,800.00	
	26,700.00	

409. District Medical Inspection—		
Medical Inspector .....	\$1,500.00	
Medical Inspector .....	1,500.00	
Medical Inspectors, 7 at \$1,200.....	8,400.00	
Veterinarian .....	1,200.00	
Stationary Engineer, not to exceed \$4.50 per day .....	1,642.50	
Fireman, not to exceed \$2 per day .....	1,092.00	
Disinfectors, 4 at \$900.....	3,600.00	
Disinfectors, 2 at \$750.....	1,500.00	
Telephone Switchboard Operator.....	900.00	
Drivers .....	1,500.00	
Laborers .....	2,750.00	
Watchmen .....	1,200.00	
	17,097.50	

410. Sanitary Police—		
Patrolmen, 5 at \$1,400.....	7,000.00	

411. Division of Communicable Diseases, Inspection and Clinical Force—		
Medical Inspectors, 4 at \$1,500.....	26,000.00	
Bacteriologist .....	1,500.00	
Nurse .....	900.00	
Nurse .....	545.00	
Hospital Clerk .....	480.00	
Clerk .....	300.00	
Clerk .....	160.00	
	31,400.00	
412. General Supplies .....	8,895.00	
413. Repairs and Replacements by Contracts or Open Orders .....	1,751.00	
414. Apparatus—Vehicles, Horses; Equipment, Care of same .....	2,800.00	
415. Fuel .....	375.00	
416. Contingencies .....	3,210.00	

417. Office of Assistant Sanitary Superintendent—		
Assistant Sanitary Superintendent.....	\$3,500.00	
Automobile Engineman .....	1,200.00	
Stenographer and Typewriter.....	750.00	
Clerk .....	300.00	
	5,750.00	
418. Office of Assistant Chief Clerk—		
Clerk .....	\$2,550.00	
Clerk .....	1,500.00	
Clerk .....	480.00	
Clerks, 2 at \$500.....	600.00	
Laborers .....	1,650.00	
Telephone Switchboard Operators, 4 at \$750 .....	3,000.00	
Janitor .....	750.00	
Cleaners .....	1,332.00	
Typewriting Copyist .....	600.00	
	12,462.00	
419. Office of Assistant Registrar of Records—		
Assistant Registrar of Records.....	\$3,000.00	
Clerks, 2 at \$4,800.....	3,600.00	
Clerks, 2 at \$1,500.....	3,000.00	
Clerk .....	480.00	
Clerks, 2 at \$300.....	900.00	
Medical Clerk .....	1,200.00	
Medical Clerk .....	1,050.00	
Stenographer and Typewriter.....	900.00	
Typewriting Copyists, 3 at \$600.....	1,800.00	
	15,930.00	
420. Division of Inspections—Office—		
Medical Inspector .....	\$2,550.00	
Clerk .....	1,800.00	
Clerks, 3 at \$1,200.....	3,600.00	
Clerks, 2 at \$300.....	1,200.00	
Typewriting Copyist .....	750.00	
Typewriting Copyists, 2 at \$500 .....	1,200.00	
Stenographer and Typewriter.....	750.00	
Driver .....	720.00	
	12,570.00	
421. Sanitary Inspection, i. e., District, Mercantile and Lodging House Inspection—		
Sanitary Inspector .....	\$1,500.00	
Sanitary Inspectors, 12 at \$1,200.....	14,400.00	
Medical Inspectors, 6 at \$1,200.....	7,200.00	
Medical Clerk .....	1,200.00	
	24,300.00	
422. Food, Fruit, Meat and Fish Inspection—		
Food Inspectors, 11 at \$1,200.....	\$13,200.00	
Clerk .....	300.00	
	13,500.00	
423. Division of Child Hygiene—		
Medical Inspectors, 3 at \$1,500.....	\$7,500.00	
Medical Inspectors, 52 at \$1,200.....	62,400.00	
Nurses, 53 at \$900.....	47,700.00	
	117,600.00	
424. District Medical Inspection—		
Medical Inspector .....	\$2,350.00	
Medical Inspector .....	1,800.00	
Medical Inspectors, 2 at \$1,500.....	3,000.00	
Medical Inspectors, 21 at \$1,200.....	25,200.00	
Clerk .....	1,800.00	
Clerk .....	900.00	
Clerk .....	750.00	
Clerk .....	480.00	
Clerk .....	300.00	
Veterinarian, 2 at \$1,200 .....	2,400.00	
Automobile Engineman .....	1,200.00	
Disinfectors .....	1,050.00	
Disinfectors, 8 at \$900 .....	7,200.00	
Disinfectors, 4 at \$750 .....	3,000.00	
Drivers .....	5,750.00	
Typewriting Copyists, 2 at \$600 .....	1,200.00	
Laborers .....	1,200.00	
	59,750.00	
425. Sanitary Police—		
Patrolmen, 17 at \$1,400 .....	23,800.00	
426. Division of Communicable Diseases—Inspection—		
Medical Inspector .....	\$1,200.00	
Medical Inspectors, 7 at \$1,500 .....	10,500.00	
Nurses, 4 at \$900 .....	3,600.00	
Typewriting Copyist .....	750.00	
Typewriting Copyist .....	720.00	
Clerk .....	600.00	
Clerk .....	480.00	
Clerks, 3 at \$300 .....	900.00	
	19,330.00	
427. Division of Communicable Diseases—Clinic—		
Laboratory Assistant .....	\$600.00	
Nurses, 2 at \$900 .....	1,800.00	
Nurses, 2 at \$600 .....	1,200.00	
Cleaners .....	720.00	
Hospital Clerk .....	600.00	
	4,920.00	
428. Clinic for Contagious Eye Diseases—		
Medical Inspectors, 3 at \$1,200 .....	\$2,400.00	
Nurses, 2 at \$900 .....	1,800.00	

Clinic for Contagious Eye Diseases—	
Clerk .....	600.00
Orderly .....	600.00
Domestics .....	720.00
Laborer .....	120.00
	6,240.00
429. General Supplies .....	15,650.00
430. Repairs and Replacements by Contract or Open Orders .....	5,475.00
431. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same .....	7,225.00
432. Fuel .....	640.00
433. Contingencies .....	9,185.00
	554,587.00

## ADMINISTRATION, QUEENS.

Salaries and Wages.	
434. Office of Assistant Sanitary Superintendent—	
Assistant Sanitary Superintendent .....	\$3,500.00
Driver .....	720.00
Clerks, 2 at \$300 .....	600.00
Typewriting Copyist .....	600.00
	5,420.00

435. Division of Hygiene—	
Medical Inspector .....	\$1,500.00
Medical Inspectors, 9 at \$1,200 .....	10,800.00
Nurses, 10 at \$900 .....	9,000.00

\$1,300.00

436. District Medical Inspection—	
Medical Inspector .....	\$1,500.00
Medical Inspectors, 6 at \$1,200 .....	7,200.00
Disinfector .....	1,050.00
Disinfectors, 2 at \$900 .....	1,800.00
Stoker .....	750.00
Driver .....	720.00
Laborers .....	2,520.00
Stableman .....	720.00

16,260.00

437. Office of Assistant Chief Clerk—	
Clerk .....	\$2,550.00
Clerk .....	1,800.00
Clerks, 2 at \$900 .....	1,800.00
Clerks, 3 at \$480 .....	960.00
Clerks, 3 at \$300 .....	900.00
Stenographer and Typewriter .....	750.00
Laborer .....	720.00
Typewriting Copyist .....	600.00

10,080.00

438. Office of Assistant Registrar of Records—	
Assistant Registrar of Records .....	3,000.00

439. Division of Sanitary, Food, Fruit, Meat and Fish Inspections—	
Inspector of Foods .....	\$1,800.00
Inspectors of Foods, 3 at \$1,200 .....	3,600.00
Sanitary Inspectors, 5 at \$1,200 .....	6,000.00

16,600.00

440. Sanitary Police—	
Patrolmen, 3 at \$1,400 .....	4,200.00

441. Division of Communicable Diseases, Inspection and Clinical Force—	
Medical Inspectors, 2 at \$1,500 .....	\$3,000.00
Nurses, 2 at \$900 .....	1,800.00
Hospital Clerk .....	600.00

5,400.00

442. General Supplies .....	4,055.00
443. Repairs and Replacements by Contracts or Open Orders .....	1,045.00
444. Vehicles, Horses; Equipment, Care of Same .....	1,900.00
445. Contingencies, Including Hospital Service .....	4,000.00

95,260.00

## ADMINISTRATION, RICHMOND.

Salaries and Wages.	
446. Office of Assistant Sanitary Superintendent—	
Assistant Sanitary Superintendent .....	\$3,500.00
Driver .....	720.00

\$4,220.00

447. Division of Child Hygiene—	
Medical Inspectors, 3 at \$1,200 .....	\$3,600.00
Nurses, 4 at \$900 .....	3,600.00

7,200.00

448. District Medical Inspection—	
Medical Inspectors, 4 at \$1,200 .....	\$4,800.00
Veterinarian .....	1,200.00
Disinfectors, 2 at \$900 .....	1,800.00
Fireman .....	750.00
Drivers .....	1,440.00
Stableman .....	600.00
Laborers .....	1,200.00

11,790.00

449. Office of Assistant Chief Clerk—	
Clerk .....	\$2,550.00
Clerk .....	750.00
Stenographer and Typewriter .....	900.00

4,950.00

450. Office of Assistant Registrar of Records—	
Assistant Registrar of Records .....	3,000.00

3,000.00

## 491. Division of Sanitary Food, Fruit, Meat and Fish Inspections—

Sanitary Inspectors, 5 at \$1,200 .....	\$6,000.00
Inspector of Foods .....	1,200.00
Medical Inspectors, 2 at \$1,200 .....	2,400.00
Clerk .....	1,200.00
Stenographer and Typewriter .....	750.00

13,530.00

## 492. Sanitary Police—

Patrolmen, 4 at \$1,400 .....	5,600.00
-------------------------------	----------

493. Division of Communicable Diseases, Inspection and Clinical Force—	
Medical Inspector .....	\$1,500.00
Nurses, 2 at \$900 .....	1,800.00
Hospital Clerk .....	600.00

3,900.00

494. General Supplies .....	3,400.00
-----------------------------	----------

495. Repairs and Replacements by Contracts or Open Orders .....	1,055.00
---	----------

496. Apparatus—Vehicles, Horses; Equipment, Hire and Care of Same .....	2,075.00
---	----------

497. Fuel .....	275.00
-----------------	--------

498. Contingencies, Including Hospital Service .....	2,500.00
--	----------

63,475.00

## MILK INSPECTION, CITY AND COUNTRY.

## Salaries and Wages.

499. Division of Milk Inspection—	
Inspectors of Foods, 2 at \$1,800 .....	\$3,600.00
Inspectors of Foods, 55 at \$1,200 .....	66,000.00
Medical Inspector .....	1,200.00
Bacteriologist .....	1,200.00
Clerk .....	900.00
Clerk .....	750.00
Clerk .....	600.00
Clerks, 2 at \$480 .....	960.00
Clerks, 3 at \$300 .....	900.00
Typewriting Copyist .....	750.00
Typewriting Copyist, 12 at \$600 .....	7,2

Salaries and Wages—	
Laboratory Assistants, 2 at \$600.....	1,200 00
Laborers .....	2,400 00
	\$2,600 00
472. General Supplies.....	21,000 00
473. Contingencies .....	375 00
	29,655 00

## Diagnosis.

474. Salaries and Wages—	
Bacteriological Diagnostician, 2 at \$1,200	\$2,400 00
Bacteriological Diagnostician.....	1,050 00
Laboratory Assistants, 2 at \$900.....	1,800 00
Laboratory Assistants, 4 at \$750.....	3,000 00
Laboratory Assistants, 6 at \$600.....	3,600 00
Driver .....	720 00
Laborers .....	3,120 00
Clerks, 2 at \$300.....	600 00
	\$16,290 00
475. General Supplies.....	5,300 00
476. Contingencies .....	2,575 00
	24,065 00

## HOSPITALS.

## Willard Parker and Reception.

477. Salaries and Wages—	
Hospital Physician.....	\$1,800 00
Hospital Physicians, 3 at \$1,200.....	3,600 00
Stationary Engineers, not to exceed \$4.50 a day.....	4,927 50
Laborers .....	17,331 25
Medical Inspector.....	1,200 00
Hospital Clerks.....	3,480 00
Nurses .....	39,960 00
Firemen, not to exceed \$3 a day.....	8,760 00
Disinfectors .....	1,050 00
Matron .....	900 00
Drivers .....	7,320 00
Stablemen .....	2,940 00
Orderlies .....	7,440 00
Carpenters .....	1,440 00
Helpers .....	1,488 00
Domestics .....	21,672 00
Internes, 8 at \$120.....	960 00
	\$125,268 75

## 478. General Supplies—

Foods .....	\$32,000 00
Dry Goods, Bedding and Notions.....	12,000 00
Clothing, Boots and Shoes.....	11,000 00
Furniture, etc.....	6,000 00
Crockery and Housefurnishings.....	5,000 00
Instruments and Apparatus.....	1,400 00
Miscellaneous Supplies, Druggists' Sundries, etc.....	2,300 00
	85,700 00
479. Materials for Repairs and Replacements by Departmental Labor.....	4,000 00
480. Repairs and Replacements by Contracts or Open Orders .....	1,200 00
481. Fuel .....	12,000 00
482. Contingencies .....	200 00
	219,368 75

## Hospital Clinic for Contagious Eye Diseases, Manhattan.

483. Salaries and Wages—	
Medical Inspector.....	\$2,550 00
Medical Inspectors, 6 at \$1,200.....	7,200 00
Nurses, 4 at \$900.....	3,600 00
Hospital Clerks.....	2,820 00
Clerk .....	300 00
Watchmen .....	1,320 00
Helpers .....	1,680 00
Orderly .....	600 00
Domestics .....	1,440 00
Laborer .....	120 00
	\$11,070 00
484. General Supplies.....	1,850 00
485. Repairs and Replacements by Contracts or Open Orders .....	400 00
486. Fuel .....	100 00
	26,240 00

## Riverside.

487. Salaries and Wages—	
Hospital Physician.....	1,800 00
Hospital Physicians, 2 at \$1,200.....	2,400 00
Stationary Engineers, not to exceed \$4.50 a day.....	4,927 50
Engineers (Marine), not to exceed \$4,50 a day.....	6,570 00
Captains .....	4,140 00
Medical Inspector.....	1,200 00
Firemen, not to exceed \$3 a day.....	5,475 00
Firemen (Marine), not to exceed \$3 a day .....	3,285 00
Matron .....	900 00
Nurses .....	24,500 00
Hospital Clerks.....	5,940 00
Laborers .....	16,740 00
Boatmen .....	2,760 00
Drivers .....	5,760 00
Deckhands .....	1,824 00
Captain .....	600 00
Carpenter .....	600 00
Gardener .....	600 00

Salaries and Wages—	
Orderlies .....	4,080 00
Domestics .....	23,520 00
Internes, 8 at \$120.....	960 00

488. General Supplies—

Foods .....	\$52,000 00
Dry Goods, Bedding and Notions.....	5,000 00
Clothing, Boots and Shoes.....	4,000 00
Crockery and Housefurnishings.....	1,500 00
Furniture, etc.....	1,000 00
Instruments and Apparatus.....	450 00
Forage .....	450 00
Miscellaneous Supplies, Including for Steamboats .....	4,000 00

66,400 00

226,931 50

## Kingston Avenue.

## 494. Salaries and Wages—

Hospital Physician.....	\$1,800 00
Hospital Physicians, 2 at \$1,200.....	2,400 00
Stationary Engineers, not to exceed \$4.50 a day.....	4,570 00
Carpenters .....	3,519 00
Hospital Clerks .....	3,720 00
Medical Inspector.....	1,200 00
Firemen, not to exceed \$3 a day.....	6,570 00
Matron .....	900 00
Nurses .....	41,450 00
Laborers .....	20,820 00
Drivers .....	7,980 00
Telephone Switchboard Operator .....	750 00
Orderlies .....	2,520 00
Gardener .....	720 00
Laboratory Assistant .....	600 00
Watchman .....	600 00
Domestics .....	17,892 00
Internes, 5 at \$120.....	600 00

120,621 00

## 495. General Supplies—

Foods .....	\$13,800 00
Dry Goods, Bedding and Notions.....	5,000 00
Crockery and Housefurnishings.....	4,500 00
Clothing, Boots and Shoes.....	4,000 00
Furniture, etc.....	1,500 00
Instruments and Apparatus .....	700 00
Miscellaneous Supplies, Drugs, etc.....	1,300 00

30,000 00

496. Materials for Repairs and Replacements by Departmental Labor .....	9,200 00
497. Repairs and Replacements by Contracts or Open Orders .....	5,000 00
498. Fuel .....	20,000 00
499. Contingencies .....	200 00

185,071 00

## Tuberculosis Sanatorium, Otisville.

500. Salaries and Wages—	
Hospital Physician .....	\$1,600 00
Hospital Physicians, 2 at \$1,200.....	2,400 00
Engineer .....	1,200 00
Carpenters .....	4,248 00
Laborers .....	25,200 00
Hospital Clerks .....	1,500 00
Nurses .....	2,880 00
Domestics .....	3,228 00
Orderlies .....	1,320 00
Driver .....	600 00
Firemen .....	1,200 00
Helpers .....	2,400 00

148,376 00

501. General Supplies—	
Foods .....	\$15,000 00
Dry Goods, Bedding and Notions.....	12,000 00
Clothing, Boots and Shoes.....	10,000 00
Furniture, etc.....	6,000 00
Forage .....	5,000 00
Crockery and House Furnishings .....	4,000 00
Seeds and Fertilizers .....	2,000 00
Instruments and Apparatus .....	500 00
Miscellaneous Supplies, Dairy Supplies, Druggists' Sundries, etc.....	2,700 00

77,200 00

502. Materials for Repairs and Replacements by Departmental Labor .....	5,500 00
503. Repairs and Replacements by Contracts or Open Orders .....	3,500 00
504. Vehicles, Purchase of Cows, Farming Machinery, Stationary Supplies, etc.....	4,000 00
505. Fuel .....	3,000 00
506. Hired Teams .....	100 00
507. Contingencies .....	4,000 00

145,376 00

510. Office of Assistant Sanitary Superintendent, Brooklyn.	13,000.00
511. Office of Assistant Sanitary Superintendent, Queens.	16,200.00
512. Office of Assistant Sanitary Superintendent, Richmond.	5,320.00
	69,880.00
	2,484,859.25

## POLICE DEPARTMENT.

## GENERAL ADMINISTRATION.

## Office of the Commissioner and Deputy Commissioners.

513. Salaries and Wages—	
Commissioner	\$7,500.00
First Deputy Commissioner	6,000.00
Second Deputy Commissioner	4,000.00
Third Deputy Commissioner	4,000.00
Fourth Deputy Commissioner	4,000.00
Secretary to the Commissioner	3,000.00
Executive Clerk to the Commissioner	2,100.00
Stenographer to the Commissioner	1,650.00
Secretary to First Deputy Commissioner	2,100.00
Secretary to Second Deputy Commissioner	2,100.00
Secretary to Third Deputy Commissioner	2,100.00
Secretary to Borough Inspector, Brooklyn	1,500.00
Stenographer to First Deputy Commissioner	1,500.00
Stenographer to Second Deputy Commissioner	1,350.00
Stenographer to Third Deputy Commissioner	1,350.00
Stenographer to Fourth Deputy Commissioner	1,350.00
Photographer	912.50
Trial Stenographer	2,500.00
Advisory Expert (purchase of supplies)	2,000.00
	851,012.50

## Office of Chief Clerk and Bookkeeper.

514. Salaries and Wages—	
Chief Clerk	\$5,000.00
Bookkeeper	4,000.00
First Deputy Clerk	3,000.00
Deputy Clerks, 2 at \$3,000.	6,000.00
Assistant Bookkeeper	2,700.00
Second Deputy Clerk	2,400.00
Deputy Clerk	2,400.00
Complaint Clerk	2,000.00
Deputy Clerks, 2 at \$2,000.	4,000.00
Deputy Clerks, 2 at \$2,000.	4,000.00
Deputy Clerks, 2 at \$1,800.	3,600.00
Deputy Clerk	1,600.00
Deputy Clerk	1,500.00
Deputy Clerks, 2 at \$1,300.	2,600.00
Deputy Clerk	1,200.00
Deputy Clerks, 18 at \$1,000.	18,000.00
Deputy Clerks, 2 at \$1,000.	2,000.00
Property Clerk	2,000.00
Assistant Property Clerk	1,500.00
Stenographer and Typewriter	2,000.00
Stenographers and Typewriters, 2 at \$1,350	2,700.00
Stenographers and Typewriters	1,500.00
Stenographers and Typewriters, 4 at \$1,200	4,800.00
Messenger	900.00
	81,800.00

515. Contingencies	2,500.00
	819,312.50

## ADMINISTRATION.

## Employees, Telegraph Bureau.

516. Salaries and Wages—	
Expert	\$3,000.00
Wireman	1,200.00
Batteryman	1,200.00
Lineman, 4 at \$1,000.	4,000.00
	10,400.00

## Employees, Steamer "Patrol."

517. Salaries and Wages—	
Chief Engineer	\$1,500.00
Assistant Engineer	1,320.00
Firemen	3,600.00
Oilers	1,560.00
Deck Hands	2,120.00
Cook	600.00
Steward	360.00
Cabin Boy	240.00
	11,240.00

## Mechanics and Laborers.

518. Salaries and Wages—	
Foreman of Mechanics	\$1,500.00
Carpenters, not to exceed \$5 per day	9,859.50
Plumbers, not to exceed \$5 per day	3,990.75
Painters, at \$4 per day	1,252.00
Roofers, not to exceed \$3.75 per day	3,321.25
Foreman Painter	1,820.00
Elevators, 2 at \$75 per month	1,800.00
Laborers, 9 at \$2.50 per day, 365 days	8,212.50
Cleaners, Headquarters, 13 at \$30 per month	4,680.00

Salaries and Wages—	
Male Cleaners, Station House, 25 at \$600	15,000.00
Building Inspector	3,000.00
Matron, Central Park Station	600.00
	55,236.00

## Department Stables.

519. Salaries and Wages—	
Foreman of Stables	\$2,000.00
Hostlers, 66 at \$4.50 per day, 365 days	60,225.00
Drivers, 4 at \$2.50 per day, 313 days	3,130.00
Harnessmaker	900.00
	66,255.00

520. General Supplies	182,964.00
-----------------------	------------

521. Materials for Repairs and Replacement by Departmental Labor	12,000.00
--	-----------

522. Repairs and Replacements by Contracts or Open Orders	60,000.00
---	-----------

523. Apparatus, Machinery, Vehicles, Horses and Equipments	
Horses	\$27,900.00
Boarding Horses	94,860.00
Shoeing Horses	39,000.00
Veterinary Services	8,406.00
Horse Equipments and Harness	15,000.00
Repairs to Harness and Equipments	1,100.00
Patrol Wagons	1,945.00
Carriages	1,175.00
Repairs to Wagons and Carriages	8,000.00
Bicycles	3,250.00
Motor Cycles	2,700.00
Repairs to Bicycles and Motor Cycles	5,400.00
Storage, Repairs and Maintenance of Automobiles	7,000.00
	215,736.00

524. Fuel	55,000.00
-----------	-----------

525. Telephone Service	39,700.00
------------------------	-----------

526. Contingencies	52,000.00
--------------------	-----------

527. Police Pension Fund	400,000.00
--------------------------	------------

1,129,621.00

## POLICE FUND.

## Uniformed Force, Surgeons, etc.

528. Salaries and Wages—	
Captain detailed Chief Inspector	
Captains formerly Inspectors	
Captains detailed Inspectors	\$310,250.00
Captains	
Lieutenants	1,228,000.00
Sergeants	853,500.00
Detectives, First Grade	96,050.00
Patrolmen, including 130 additional, to average eight months' service during 1909	10,007,558.35
Chief Surgeon	3,500.00
Surgeons	84,000.00
Doormen	194,000.00
Matrons	70,000.00
Superintendent of Telegraph and Electrical Service	4,000.00
Assistant Superintendent of Telegraph and Electrical Service	3,000.00
Chief Lineman	1,500.00
Linemen	7,200.00
Boiler Inspectors	2,600.00
	12,865,258.35

14,160,261.35

## BOARD OF ELECTIONS.

## GENERAL ADMINISTRATION.

529. Salaries—	
Commissioners of Elections, 4 at \$5,000	\$20,000.00
Chief Clerk of Department	2,000.00
Deputy Chief Clerk of Department	2,700.00
Chief Clerk, Borough of Manhattan	3,000.00
Chief Clerk, Borough of Brooklyn	2,500.00
Chief Clerk, Borough of The Bronx	2,200.00
Chief Clerk, Borough of Queens	1,850.00
Chief Clerk, Borough of Richmond	1,400.00
Deputy Chief Clerk, Borough of Manhattan	2,250.00
Deputy Chief Clerk, Borough of Brooklyn	2,250.00
Deputy Chief Clerk, Borough of The Bronx	1,750.00
Deputy Chief Clerk, Borough of Queens	1,300.00
Deputy Chief Clerk, Borough of Richmond	1,200.00
Secretary to Commissioner	2,500.00
Secretary to Commissioner	1,200.00
Stenographer	1,600.00
Stenographer	1,300.00
Clerks, 4 at \$2,000	8,000.00
Clerk	1,800.00
Clerks, 4 at \$1,700	6,800.00
Clerk	1,600.00
C	

Salaries—	
Clerk .....	750 00
Police Detail—Salaries.....	18,300 00
	\$121,450 00
530. For Employment of Temporary Clerks.....	25,000 00
	\$146,450 00
531. Advertising .....	240,000 00
532. For Expenses Incidental to the Provisions of the Election Law and Primary Election Law.....	548,680 00
	1,035,110 00

## BOARD OF CITY RECORD.

CITY OF NEW YORK.

Administration.

533. Salaries—	
Supervisor .....	\$5,000 00
Deputy Supervisor.....	2,500 00
Secretary and Chief Clerk.....	2,500 00
Bookkeeper .....	2,550 00
Bookkeeper .....	1,500 00
Advertising .....	2,100 00
Examiner .....	1,650 00
Examiner .....	1,500 00
Stenographer and Book Typewriter.....	1,500 00
Book Typewriter.....	750 00
Clerks, 2 at \$1,200.....	2,400 00
Junior Clerk.....	600 00
Storekeeper .....	1,800 00
Office Boy.....	480 00
Laborer .....	720 00
	\$27,550 00
534. Office Supplies.....	500 00
535. Telephone, Rental of.....	500 00
536. Contingencies .....	1,500 00
537. Delivering Supplies to Departments.....	4,000 00
	\$34,050 00
538. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks.....	300,500 00
539. Stationery, Including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements.....	51,000 00
540. Blank Books.....	121,000 00
541. Publication of the City Record— Arrearages for City Department, Bureaus and Courts.	363,000 00
542. Printing, Lithographing, Engraving or Stamped Forms, Including Pamphlets and Printed Blanks.....	335,000 00
543. Stationery, Including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements.....	50,000 00
544. Blank Books.....	45,000 00
	1,441,550 00

## DEPARTMENT OF STREET CLEANING.

## GENERAL ADMINISTRATION.

## Salaries and Wages.

545. Office of the Commissioner—	
Commissioner .....	\$7,500 00
General Superintendent.....	3,000 00
Assistant General Superintendent .....	2,500 00
Secretary to the Commissioner .....	3,000 00
Stenographer .....	1,500 00
Messenger .....	1,200 00
Automobile Enginemen, 2 at	
11,200 .....	2,400 00
	\$21,100 00
546. Office of the Chief Clerk and Bookkeeper—	
Chief Clerk.....	\$1,600 00
Chief Bookkeeper.....	3,000 00
Law Clerk.....	3,000 00
Clerk .....	3,000 00
Clerk .....	2,700 00
Clerk .....	2,400 00
Clerk .....	2,250 00
Clerks, 3 at \$2,100.....	6,300 00
Clerk .....	1,800 00
Clerks, 4 at \$1,650.....	6,600 00
Clerks, 3 at \$1,500.....	12,000 00
Clerks, 4 at \$1,200.....	4,800 00
Clerks, 3 at \$1,050.....	3,150 00
Clerks, 5 at \$900.....	7,200 00
Clerks, 6 at \$750.....	4,500 00
Clerk .....	540 00
Office Boy.....	300 00
Telephone Switchboard Operator .....	900 00
Messenger .....	900 00
Stenographers, 4 at \$1,200.....	4,800 00
	73,740 00
547. Office of Medical Examiners—	
Medical Examiners, 3 at \$1,800.....	5,400 00
548. Office of Veterinarians—	
Veterinarians, 5 at \$1,500.....	9,000 00
Apothecary .....	1,200 00
	10,200 00
549. Office of the Master Mechanic—	
Master Mechanic.....	\$1,800 00
Mechanics Detailed to Office .....	4,800 00
Automobile Engineman.....	1,200 00
	7,800 00

550. Office of the Superintendent of Final Disposition—	
Superintendent of Final Disposition .....	\$1,500 00
Assistant Superintendent of Final Disposition.....	1,500 00
Clerk .....	1,050 00
Dump Inspectors, 4 at	
1,200 .....	4,800 00
	10,450 00
	\$128,690 00
551. General Supplies.....	\$1,750 00
552. Telephones, Rental of.....	3,000 00
553. Contingencies .....	1,285 00
	6,315 00
	\$135,005 00

ADMINISTRATION, BOROUGH OF MANHATTAN.  
Salaries and Wages.

554. Office of the Deputy Commissioner—	
Deputy Commissioner.....	\$5,000 00
Automobile Engineman.....	1,200 00
	\$6,200 00
555. Division of Mechanical Work—	
Automobile Enginemen, 2 at	
\$1,200 .....	\$2,400 00
Marine Engineman, at \$30 per week.....	1,360 00
Blacksmith, not to exceed \$4 per day.....	13,772 00
Harnessmakers, not to exceed \$4 per day.....	15,024 00
Machinists, not to exceed \$4 per day.....	2,817 00
Carpenters, not to exceed \$5 per day.....	18,780 00
Wheelwrights, not to exceed \$3.50 per day.....	8,764 00
Painters, not to exceed \$4 per day.....	6,280 00
Painters and Letterers, not to exceed \$4 per day...	3,904 00
Painters and Stripers, not to exceed \$4 per day.....	1,252 00
Painters, House, not to exceed \$4 per day.....	1,252 00
Cabinetmakers, not to exceed \$4 per day.....	2,504 00
Ship Calkers, not to exceed \$3.75 per day.....	9,390 00
Riggers, not to exceed \$3.75 per day.....	3,521 25
Plumbers, not to exceed \$5 per day.....	3,130 00
Tinsmiths, not to exceed \$4.50 per day.....	7,042 50
Masons, not to exceed \$5 per day.....	1,565 00
Bricklayers, not to exceed \$5.60 per day.....	3,505 60
Carrige Upholsterer, not to exceed \$4 per day.....	1,252 00
Sawyer, not to exceed \$4 per day.....	1,252 00
Ship Carpenters, not to exceed \$3.75 per day.....	7,039 50
Housesmith, not to exceed \$4.80 per day.....	1,502 40
Carpenters' Helpers.....	1,955 25
Machinists' Helpers.....	939 00
Blacksmiths' Helpers, not to exceed \$3 per day.....	17,641 00
Plumbers' Helpers.....	1,643 25
Riggers' Helpers.....	860 75
Wheelwrights' Helpers.....	3,308 25
Masons' Helpers.....	939 00
Painters' Helpers.....	782 50
Mechanics' Helpers.....	21,362 25
	165,621 50

556. Division of Sweeping—	
District Superintendent, 12 at \$2,100.....	\$25,200 00
Section Foremen, 71 at \$1,200 .....	85,200 00
Assistant Section Foremen, 121 at \$900.....	10,700 00
Sweepers, at \$780.....	1,008,000 00
Section Station Keepers and Custodians of Yards, at \$780 .....	42,120 00
Extra pay for Sundays, at 25c. per hour.....	36,000 00
Machine and Sprinkling Cart Drivers, at \$800....	60,000 00
	1,763,220 00

557. Division of Carting and Stable—	
Stable Foremen, 11 at \$1,500	\$16,500 00
Assistant Stable Foremen, 11 at \$1,000.....	11,000 00
Assistant Stable Foremen, 28 at \$900.....	25,200 00

558. Division of Carting and Stable—	579. Division of Mechanical Work—
Drivers, at \$200..... 610,000 00	Blacksmiths, not to exceed \$4 per day..... \$7,512 00
Drivers, extra pay for Sundays, at 25c. per hour, 15,400 00	Harnessmakers, not to exceed \$4 per day..... 10,016 00
Hustlers, at \$760..... 96,520 00	Machinists, not to exceed \$4.50 per day..... 1,408 50
Hustlers, extra pay for Sundays, at \$2.50 each, 15,189 20	Carpenters, not to exceed \$5 per day..... 10,955 00
Stablemen, at \$760..... 112,460 00	Wheelwrights, not to exceed \$3.50 per day..... 5,477 50
Stablemen, extra pay for Sundays, at 25c. per hour..... 15,392 00	Painters, not to exceed \$4 per day..... 2,504 00
	Painters and Letterers, not to exceed \$1 per day..... 1,252 00
	Plumbers, not to exceed \$5 per day..... 2,130 00
558. Division of Final Disposition—	Tinsmiths, not to exceed \$4.50 per day..... 2,817 00
Dump Inspectors, 20 at \$1,200..... \$24,000 00	Stationary Enginemen, not to exceed \$4.50 per day..... 1,408 50
Assistant Dump Inspectors, 20 at \$900..... 18,000 00	Stoker, not to exceed \$3 per day..... 939 00
Scowmen, at \$2.50 per day, 15,625 00	Foreman of Mechanics..... 1,408 50
Boardmen, 25 at \$800..... 20,000 00	Blacksmiths' Helpers, not to exceed \$3 per day..... 1,878 50
Incinerators:	Mechanics' Helpers..... 26,292 00
Stationary Enginemen, not to exceed \$4.50 per day..... 3,000 00	
Firemen, not to exceed \$8 per day..... 3,000 00	26,992 00
Steam Dumper:	
Compensation of Crews of..... 8,214 00	
	121,839 00
	2,980,361 70
559. General Supplies—	580. Division of Sweeping—
Automobile Shoes and Tubes,..... \$3,500 00	District Superintendents, 2 at \$2,100..... \$14,700 00
Push Brooms..... 32,000 00	Section Foremen, 44 at \$1,200..... 52,800 00
Sundries..... 11,995 00	Assistant Section Foremen, 100 at \$900..... 81,000 00
	Sweepers, at \$780..... 624,000 00
560. Materials for Repairs and Replacement by Departmental Labor—	Section Station Keepers and Custodians of Yards, at \$780..... 24,180 00
Lumber..... \$35,000 00	Extra pay for Sundays, at 25 cents per hour..... 10,000 00
Hardware, Iron and Steel..... 12,000 00	Machine and Sprinkling Cart Drivers, at \$800..... 72,000 00
Castings..... 8,000 00	
Cart Supplies, including Harness and Harnessmakers' Supplies,..... 11,000 00	484,680 00
Automobile Supplies..... 200 00	
Sundries..... 26,100 00	
	581. Division of Carting and Stable—
	Stable Foremen, 8 at \$1,500..... \$12,000 00
571. Repairs and Replacements by Contracts or Open Orders—	Assistant Stable Foremen, 9 at \$1,000..... 9,000 00
Automobile Repairs..... \$1,000 00	Assistant Stable Foremen, 15 at \$900..... 13,500 00
Broom Blocks, refilling..... 15,000 00	Drivers, at \$800..... 410,000 00
Cart Bodies, Repairs and Parts..... 5,000 00	Drivers, extra pay for Sundays, at 25 cents per hour, 10,400 00
Scow and Dumper Repairs..... 15,000 00	Hustlers, at \$760..... 66,120 00
Sundries..... 10,905 00	Hustlers, extra pay for Sundays, at \$2.50 each, 10,805 20
	Stablemen, at \$760..... 77,520 00
572. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage—	Stablemen, extra pay for Sundays, at 25 cents per hour, 10,600 00
Automobile Storage and Supplies..... \$900 00	
Horses..... 50,000 00	625,553 20
Cans—Ash, Paper and Rubbish—Can and Bag Carriers..... 14,950 00	
Carts, Carriages and Bicycles..... 35,730 00	582. Division of Final Disposition—
Collars, Pivo, Harness, Whips and Blankets..... 14,930 00	Dump Inspectors, 15 at \$1,200..... \$18,000 00
Hose..... 18,750 00	Assistant Dump Inspectors, 20 at \$900..... 18,000 00
Sweeping Machines..... 5,000 00	Scowmen, at \$2.50 per day, 3,050 00
Sundries..... 6,475 00	Boardmen, 5 at \$800..... 4,000 00
573. Special Contract Obligations—	43,650 00
Forage..... \$273,750 00	
Horseshoeing and Pads..... 50,000 00	1,645,331 20
Medicine..... 2,200 00	
Disposal of Garbage, including Towing and Unloading..... 148,000 00	583. General Supplies—
Disposal of Ashes, Street Sweepings and Rubbish, including Towing and Unloading and Hired Scows..... 420,000 00	Automobile Shoes and Tubes,..... \$300 00
Royalty on Steam Dumper..... 1,800 00	Push Brooms..... 9,600 00
Broadway Contract..... 20,075 00	Sundries..... 4,805 00
574. Fuel..... 8,000 00	584. Materials for Repairs and Replacement by Departmental Labor—
575. Hired Teams, Horses and Carts..... 3,000 00	Lumber..... \$5,000 00
576. Telephones, Rental of..... 3,800 00	Hardware, Iron and Steel,..... 7,000 00
577. Contingencies..... 1,100 00	Castings..... 6,000 00
	Cart Supplies, including Harness and Harnessmakers' Supplies..... 5,000 00
	Automobile Supplies..... 200 00
	Sundries..... 12,500 00
	39,700 00
ADMINISTRATION, BOROUGH OF BROOKLYN.	585. Repairs and Replacements by Contracts or Open Orders—
Salaries and Wages:	Broom Blocks, refilling..... \$15,000 00
578. Office of the Deputy Commissioner—	Cart Bodies, Repairs and Parts..... 2,000 00
Deputy Commissioner..... \$5,000 00	Sundries..... 2,576 00
Clerk..... 3,100 00	
Clerk..... 1,650 00	19,576 00
Stenographers and Typewriters, 2 at \$1,200..... 2,800 00	
Messenger..... 1,200 00	586. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage—
Telephone Switchboard Operator..... 900 00	Automobile Storage and Supplies..... \$350 00
Automobile Enginemen..... 1,200 00	Horses..... 32,500 00
	\$14,450 00

Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage—	597.	Materials for Repairs and Re- placements by Departmental Labor—
Cans—Ash, Paper and Rub- bish—Can and Bag Car- riers ..... 4,300 00		Lumber ..... \$1,600 00
Carts, Carriages and Bicycles 15,375 00		Hardware, Iron and Steel... 2,600 00
Collars, Pipe, Harness, Whips and Blankets ..... 9,150 00		Cart Supplies, including Har- ness and Harnessmakers' Supplies ..... 4,500 00
Hose ..... 4,000 00		Automobile Supplies ..... 300 00
Sweeping Machines ..... 6,000 00		Sundries ..... 2,900 00
Sundries ..... 1,650 00		11,800 00
	74,225 00	
587. Special Contract Obligations—	598.	Repairs and Replacements by Contracts or Open Orders—
Forage ..... \$197,100 00		Automobile Repairs ..... \$200 00
Horseshoeing and Pads.... 21,600 00		Broom Blocks, Refiling.... 1,500 00
Medicine ..... 1,800 00		Sundries ..... 357 00
Disposal of Garbage, Includ- ing Towing and Unload- ing ..... 19,488 00		2,037 00
Disposal of Ashes, Street Sweeping and Rubbish, including Towing and Unloading and Hired Scenes ..... 450,000 00		
	829,914 00	
588. Fuel ..... 3,500 00		
589. Telephones, Rental of.... 4,500 00		
590. Contingencies ..... 300 00		
	5947,150 00	
	2,492,481 20	
ADMINISTRATION, BUREAU OF THE BOROES.		
Salaries and Wages.		
591. Office of the Deputy Commis- sioner—	599.	Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage—
Deputy Commissioner ..... \$3,000 00		Horses ..... \$16,250 00
Clerk ..... 1,200 00		Cans—Ash, Paper and Rub- bish—Can and Bag Carriers 3,900 00
Stenographer and Typewriter 1,200 00		Carts, Carriages and Bicycles 4,305 00
Automobile Engineer ..... 1,200 00		Collars, Pipe, Harness, Whips and Blankets ..... 2,800 00
	58,400 00	Hose ..... 1,600 00
592. Division of Mechanical Work—		Sundries ..... 1,165 00
Blacksmiths, not to exceed \$4 per day ..... 22,304 00		29,960 00
Harnessmakers, not to exceed \$4 per day ..... 2,504 00		
Carpenter, not to exceed \$2 per day ..... 1,565 00		
Wheelwright, not to exceed \$4 per day ..... 1,095 00		
Plumber, not to exceed \$2 per day ..... 2,130 00		
Tinsmith, not to exceed \$4.50 per day ..... 1,468 50		
Blacksmith's Helpers, not to exceed \$2 per day ..... 2,817 00		
Mechanic's Helper ..... 930 00		
	15,563 00	
593. Division of Sweeping—	600.	Special Contract Obligations—
District Superintendents, 2 at \$2,100 ..... 24,200 00		Forage ..... \$37,250 00
Section Foremen, 10 at \$1,200 12,000 00		Horseshoeing and Pads.... 4,000 00
Assistant Section Foremen, 11 at \$900 ..... 9,900 00		Medicine ..... 900 00
Sweepers, 2 at \$780 ..... 1,560 00		Disposal of Garbage, Includ- ing Towing and Unloading 23,000 00
Section Station Keepers, 2 at \$780 ..... 1,560 00		Disposal of Ashes, Street Sweeping and Rubbish, In- cluding Towing and Un- loading ..... 10,000 00
Extra pay for Sunday, at 25 cents per hour ..... 5,000 00		27,210 00
Machine and Sprinkling Cart Drivers, at \$200 ..... 12,000 00		
	243,700 00	
594. Division of Carting and Stable—	601.	Hired Teams, Horses and Carts..... 20,000 00
Stable Foremen, 2 at \$1,200. \$2,400 00		
Assistant Stable Foremen, 2 at \$1,000 ..... 2,000 00		
Assistant Stable Foremen, 4 at \$900 ..... 3,600 00		
Drivers, at \$200 ..... 28,000 00		
Drivers, extra pay for Sun- days, at 25 cents per hour ..... 2,200 00		
Haulers, at \$700 ..... 12,880 00		
Haulers, extra pay for Sun- days, at \$2.50 each ..... 2,352 00		
Stablemen, at \$700 ..... 12,600 00		
Stablemen, extra pay for Sun- days, at 25 cents per hour ..... 1,872 00		
	140,184 00	
595. Division of Final Disposition—	602.	Contingencies ..... 300 00
Dump Inspectors, 4 at \$1,200 \$4,800 00		
Assistant Dump Inspectors, 2 at \$900 ..... 2,700 00		
Sanitarians, at \$1.50 per day... 2,737 10		
Boardmen, 5 at \$800 ..... 4,000 00		
	12,537 20	
	419,361 20	
596. General Supplies—	603.	560,371 20
Automobile Shoes and Tires 2,000 00		
Past Brooms ..... 4,000 00		
Sundries ..... 2,102 00		
	37,729 00	

597. Materials for Repairs and Re- placements by Departmental Labor—	604.	GENERAL ADMINISTRATION, MANHATTAN, THE BOROES AND RICHMOND.
Lumber ..... \$1,600 00		Office of the Commissioner.
Hardware, Iron and Steel... 2,600 00		
Cart Supplies, including Har- ness and Harnessmakers' Supplies ..... 4,500 00		
Automobile Supplies ..... 300 00		
Sundries ..... 2,900 00		
	11,800 00	
598. Repairs and Replacements by Contracts or Open Orders—	605.	
Automobile Repairs ..... \$200 00		
Broom Blocks, Refiling.... 1,500 00		
Sundries ..... 357 00		
	2,037 00	
599. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage—	606.	
Horses ..... \$16,250 00		
Cans—Ash, Paper and Rub- bish—Can and Bag Carriers 3,900 00		
Carts, Carriages and Bicycles 4,305 00		
Collars, Pipe, Harness, Whips and Blankets ..... 2,800 00		
Hose ..... 1,600 00		
Sundries ..... 1,165 00		
	29,960 00	
600. Special Contract Obligations—	607.	
Forage ..... \$37,250 00		
Horseshoeing and Pads.... 4,000 00		
Medicine ..... 900 00		
Disposal of Garbage, Includ- ing Towing and Unloading 23,000 00		
Disposal of Ashes, Street Sweeping and Rubbish, In- cluding Towing and Un- loading ..... 10,000 00		
	77,210 00	
601. Hired Teams, Horses and Carts..... 20,000 00		
602. Fuel ..... 650 00		
603. Telephones, Rental of.... 300 00		
604. Contingencies ..... 300 00		
	150,206 00	
	560,371 20	
	7,418,299 20	
		FIRE DEPARTMENT.
		GENERAL ADMINISTRATION, MANHATTAN, THE BOROES AND RICHMOND.
		Office of the Commissioner.
605. Salaries and Wages—	608.	
Commissioner ..... \$7,500 00		
Deputy Commissioner ..... 5,000 00		
Secretary to Department ..... 4,800 00		
Assistant Secretary to Department... 3,500 00		
Secretary to Relief Fund..... 3,000 00		
Secretary to Commissioner..... 3,000 00		
Clerk ..... 2,400 00		
Clerks, 2 at \$1,800 ..... 3,600 00		
Clerks, 2 at \$1,500 ..... 3,000 00		
Clerk ..... 1,200 00		
Stenographer and Typewriter..... 1,800 00		
Stenographer and Typewriter..... 1,800 00		
Stenographers and Typewriters, 2 at \$1,200 ..... 2,400 00		
Bookkeeper ..... 1,800 00		
Storekeeper ..... 1,500 00		
Engineer ..... 1,642 30		
Inspector of Fuel ..... 1,500 00		
Messenger ..... 1,200 00		
Watchmen ..... 2,812 50		
Stokers, 2 at \$1,000 ..... 2,000 00		
Laborer ..... 1,095 00		
Laborers, 2 at \$912.50 ..... 4,842 50		
Elevator Attendant ..... 912 50		
Cleaners, 2 at \$360 ..... 720 00		
	561,335 00	
ADMINISTRATION, MANHATTAN, THE BOROES AND RICHMOND.	609.	
Bureau of Combustibles.	610.	
Salaries and Wages—	611.	
Inspector of Combustibles..... \$3,000 00		
Cashier ..... 2,000 00		
Oil Surveyors, 17 at \$1,500..... 25,500 00		
Stenographer and Typewriter..... 1,500 00		
Clerk ..... 1,500 00		
Clerk ..... 900 00		
	34,400 00	
Bureau of Fire Marshal.	612.	
Salaries and Wages—	613.	
Fire Marshal ..... \$3,000 00		
Assistant Fire Marshal..... 2,000 00		
Assistant Fire Marshals, 3 at \$1,500... 5,400 00		
Assistant Fire Marshals, 6 at \$1,500... 9,000 00		
Clerk ..... 1,500 00		
Stenographer and Typewriter..... 1,500 00		
Interpreter ..... 1,200 00		
	23,600 00	

## Repair Shops.

608. Salaries and Wages—	
Bookkeeper .....	\$1,200.00
Clerks, 2 at \$1,050.....	2,100.00
Drivers, 4 at \$1,000.....	4,000.00
Drivers, 4 at \$912.....	2,736.00
Elevator Man .....	900.00
Foreman Hustler .....	1,200.00
Hustlers, 3 at \$912.....	2,736.00
Foremen Repair Shops.....	3,390.00
Foremen Laborers .....	3,425.00
Laborers .....	4,864.00
Watchmen, 3 at \$912.50.....	2,737.50
Brass Finishers, \$4 per day.....	6,080.00
Boiler Maker, \$3.50 per day.....	1,064.00
Foremen Blacksmiths .....	2,584.00
Blacksmiths, \$4 per day.....	6,080.00
Blacksmiths' Helpers, not to exceed \$3 per day.....	4,560.00
Carriage Body Maker, \$4 per day.....	1,216.00
Carpenters, not to exceed \$5 per day.....	6,920.00
Core Maker, \$3.50 per day.....	1,064.00
Foreman Harnessmaker, \$4 per day.....	1,216.00
Harnessmakers, not to exceed \$4 per day .....	2,482.00
Hose Repairers, \$3.50 per day.....	3,192.00
Lamé Maker, \$4 per day.....	1,216.00
Mechanic, \$3.50 per day.....	1,064.00
Foreman Machinist, \$4.50 per day.....	1,368.00
Machinists, not to exceed \$4.50 per day.....	15,436.00
Machinists' Helpers, \$3.15 per day.....	2,052.00
Machinists' Apprentices, \$1.75 per day.....	532.00
Moulders, \$4 per day.....	3,648.00
Nickel Platers, \$4 per day.....	2,432.00
Pattern Maker, \$4 per day.....	1,216.00
Foreman Painter, \$4.50 per day.....	1,368.00
Painters, \$4 per day.....	2,432.00
Wagon Painter, \$4 per day.....	1,216.00
Carriage Painters, \$4 per day.....	2,432.00
Painters and Strippers, \$4.50 per day.....	2,736.00
Strippers, \$4 per day.....	3,048.00
Rubber Tire Repairers.....	4,256.00
Stokers, \$3 per day.....	2,736.00
Foreman Steam Filter, \$3 per day.....	1,510.00
Steam Filters, not to exceed \$3 per day.....	3,010.00
Foreman Saw Filter, \$4 per day.....	1,216.00
Toolman, \$4 per day.....	1,216.00
Upholsterer, not to exceed \$4 per day.....	1,216.00
Varnishers, \$4 per day.....	2,432.00
Foreman Wheelwright, \$4.50 per day.....	1,368.00
Wheelwrights, not to exceed \$3.50 per day .....	4,256.00
	131,908.20

## Hospital and Training Stables.

609. Salaries and Wages—	
Foreman Hustler .....	\$1,200.00
Hustlers, 9 at \$912.....	8,208.00
Drivers, 5 at \$1,000.....	5,000.00
Drivers, 2 at \$912.....	2,736.00
Drivers, 2 at \$900.....	1,800.00
Stablemen, 2 at \$730.....	1,460.00
Foreman of Laborers .....	1,200.00
	11,668.00

## Office of the Superintendent of Buildings.

610. Salaries and Wages—	
Superintendent .....	\$3,000.00
Assistant Superintendent of Buildings.....	2,100.00
Engineman .....	1,368.00
Clerk .....	900.00
Stenographer and Typewriter .....	1,030.00
Driver .....	1,000.00
Driver .....	912.00
Driver .....	912.50
Carpenters, not to exceed \$3 per day .....	9,120.00
Plumbers, not to exceed \$3 per day .....	4,560.00
Tinsmiths, not to exceed \$4.50 per day .....	4,104.00
Painters, \$4 per day .....	2,432.00
Caulker .....	1,064.00
Ship Caulker .....	1,064.00
Pipefitter's Helper .....	760.00
	34,346.50
	307,244.00

## ADMINISTRATION, BOROUGH OF MANHATTAN.

## Bureau of Chief of Department.

611. Salaries and Wages—	
Chief of Department.....	\$7,000.00
Deputy Chiefs of Department, 6 at \$4,200 .....	25,200.00
Battalion Chiefs, 24 at \$3,300.....	79,200.00
Medical Officers, 4 at \$1,300.....	13,200.00
Chaplains, 2 at \$1,000.....	2,000.00
Clerk .....	1,639.00
Clerk .....	1,250.00
Draughtsman .....	1,350.00
Stenographers and Typewriters, 2 at \$1,200 .....	2,400.00
	133,550.00

## Engine and Hook and Ladder Companies.

612. Salaries and Wages—	
Foremen, 98 at \$2,100.....	211,700.00
Assistant Foremen, 158 at \$1,800.....	286,400.00
Engineers of Steamers, 182 at \$1,000.....	182,000.00
Firemen of all grades, including Mandatory Increases.....	1,865,900.00
Pilots, 10 at \$1,300.....	13,000.00
Marine Engineers, 8 at \$1,400.....	11,200.00
Stokers, 43 at \$1,095.....	47,085.00
Foreman Ship Carpenter .....	1,000.00
	2,737,473.50

## Fire Alarm Telegraph.

613. Salaries and Wages—	
Chief Inspector .....	\$1,800.00
Inspectors of Fire Alarm Boxes, 2 at \$1,200 .....	2,400.00
Telegraph Operators, 6 at \$1,500.....	9,000.00
Telegraph Operators, 9 at \$1,200.....	10,800.00
Batterymen, 2 at \$1,200.....	2,400.00
Batterymen, 2 at \$1,000.....	2,000.00
Batteryman .....	1,100.00
Batteryman's Assistant, 2 at \$1,000.....	2,000.00
Foreman of Cable Splicers .....	1,400.00
Cable Splicers, 6 at \$1,400.....	8,400.00
Foreman .....	1,272.50
Instrument Maker .....	1,200.00
Instrument Maker .....	1,000.00
Wiremen, 5 at \$1,400.....	7,000.00
Foreman of Linemen .....	1,000.00
Linemen, 10 at \$1,000.....	10,000.00
Painters, 3 at \$1 per day .....	3,048.00
Painter .....	1,002.50
Drivers, 4 at \$912.....	3,648.00
Mason .....	939.00
Groundman .....	730.00
Stablemen, 2 at \$730.....	1,460.00
Telephone Operators, 5 at \$720.....	3,600.00
	76,298.00

614. General Supplies.....	
615. Materials for Repairs and Replacement by Departmental Labor .....	
616. Repairs and Replacements by Contracts or Open Orders .....	
617. Apparatus—Machinery, Vehicles, Horses; Equipment; Care and Storage of Same .....	
618. Fuel .....	
619. Hired Teams, Horses and Carts .....	
620. Telephones .....	
621. Contingencies .....	
	4,000.00

4,000.00

## Administration, Bureau of Tax Deeds.

## Bureau of Chief of Department.

612. Salaries and Wages—	
Deputy Chief .....	\$4,200.00
Battalion Chiefs, 6 at \$3,300.....	19,800.00
Medical Officer .....	3,300.00

82,300.00

## Engine and Hook and Ladder Companies.

618. Salaries and Wages—	
Foremen, 52 at \$2,100.....	109,120.00
Assistant Foremen, 57 at \$1,800.....	102,600.00
Engineers of Steamers, 45 at \$1,000.....	45,000.00

159,720.00

## Fire Alarm Telegraph.

614. Salaries and Wages—	
Telegraph Operators, 3 at \$1,500.....	\$4,500.00
Telegraph Operators, 5 at \$1,200.....	6,000.00
Batterymen, 3 at \$1,000.....	3,000.00

15,500.00

615. General Supplies.....	
616. Materials for Repairs and Replacement by Departmental Labor .....	
617. Repairs and Replacements by Contracts or Open Orders .....	
618. Apparatus—Machinery, Vehicles, Horses; Equipment; Care and Storage of Same .....	
619. Fuel .....	

31,000.00

11,200.00

618. Salaries and Wages—	
Foremen, 14 at \$2,100.....	\$30,240.00
Assistant Foremen, 17 at \$1,800.....	30,600.00
Engineers of Steamers, 16 at \$1,000.....	23,600.00

182,400.00

613. Salaries and Wages—	
Foremen, 14 at \$2,100.....	\$30,240.00
Assistant Foremen, 17 at \$1,800.....	30,600.00
Engineers of Steamers, 16 at \$1,000.....	23,600.00
Firemen of all grades, including Mandatory Increases .....	182,400.00

182,400.00

Salaries and Wages—	
Plants, 2 at \$1,500.....	3,000 00
Marine Engineers, 3 at \$1,400.....	4,200 00
Stokers, 4 at \$1,095.....	4,360 00
	285,620 00

## Fire Alarm Telegraph.

651. Salaries and Wages—	
Telegraph Operators, 2 at \$1,500.....	\$3,000 00
Telegraph Operators, 2 at \$1,200.....	2,400 00
Wireman.....	1,200 00
Linemen, 3 at \$1,000.....	3,000 00
Batteryman, 2 at \$1,000.....	2,000 00
	12,600 00
653. General Supplies.....	15,000 00
656. Materials for Repairs and Replacement by Departmental Labor.....	8,700 00
657. Repairs and Replacements by Contracts or Open Orders.....	7,200 00
658. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	7,200 00
659. Fuel.....	8,100 00
660. Hired Teams, Horses and Carts.....	100 00
661. Telephones.....	1,500 00

## ALLOWANCE TO VOLUNTEER COMPANIES, BOROUGH OF RICHMOND (SECTION 722, GREATER NEW YORK CHARTER).

## Engine Companies.

662. Cromwell, Dongan Hills.....	1,200 00
663. Great Kills No. 1, Great Kills.....	1,200 00
664. Huguenot No. 1, Huguenot.....	1,200 00
665. Calhoun No. 1, Pleasant Plains.....	1,200 00
666. Richmond No. 1, Richmond.....	1,200 00
667. Hook and Ladder Companies.	
667. Oceanic No. 1, Linoleumville.....	1,000 00
668. Washington No. 1, Kreischerville.....	1,000 00
669. New Dorp No. 1, New Dorp.....	1,000 00
670. Amicitia No. 1, Pleasant Plains.....	1,000 00
671. Defender No. 7, Castleton Corners.....	1,000 00
672. Great Kills No. 1, Great Kills.....	1,000 00
673. Rossville No. 1, Rossville.....	1,000 00
674. Hose Company.	
674. Cromwell Hose Company.....	800 00

\$374,420 00

## GENERAL ADMINISTRATION, BROOKLYN AND QUEENS.

## Office of the Deputy Commissioner.

655. Salaries and Wages—	
Deputy Commissioner.....	\$5,000 00
Secretary to Deputy Commissioner.....	1,000 00
Clerk.....	2,400 00
Clerk.....	1,050 00
Examiner of Accounts.....	2,000 00
Stenographer.....	1,500 00
Inspector of Buildings.....	1,800 00
Architectural Draughtsmen, 2 at \$1,500.....	3,000 00
Messenger.....	1,000 00
Laborers.....	2,816 50
Elevator Attendant.....	912 50
Cleaner.....	912 50
Cleaners, 3 at \$150.....	1,080 00

\$25,571 30

## ADMINISTRATION, BROOKLYN AND QUEENS.

## Bureau of Combustibles.

660. Salaries and Wages—	
Assistant Inspector of Combustibles.....	22,500 00
Clerk.....	2,000 00
Oil Surveyors, 8 at \$1,500.....	12,000 00
Clerk.....	1,200 00

17,700 00

## Bureau of Fire Marshal.

662. Salaries and Wages—	
Fire Marshal.....	\$3,000 00
Assistant Fire Marshal.....	1,800 00
Assistant Fire Marshal.....	1,500 00
Inspector.....	2,000 00
Assistant Inspector.....	2,000 00
Clerk.....	1,200 00
Clerk.....	900 00
Stenographer.....	1,000 00

12,400 00

## Repair Shops.

665. Salaries and Wages—	
Sailmaker.....	\$1,100 00
Driver.....	912 00
Helpers, 2 at \$900.....	1,800 00
Blacksmiths, \$4 per day.....	7,648 00
Wheelwrights, \$1.50 per day.....	2,128 00
Carpenters, not to exceed \$5 per day.....	6,080 00
Machinists, not to exceed \$4.50 per day.....	4,104 00
Plumber, not to exceed \$3 per day.....	3,040 00
Tinsmith, not to exceed \$4.50 per day.....	1,368 00
Roofers, not to exceed \$1.75 per day.....	1,140 00
Painters, not to exceed \$4 per day.....	3,040 00
Harnessmaker, not to exceed \$4 per day.....	1,216 00
Hose Repairer, \$3.50 per day.....	1,064 00
Hose Repairer's Helper, \$2.50 per day.....	760 00
Toolmen, \$2.50 per day.....	4,105 00
Machinist's Helper.....	692 00

## Salaries and Wages—

Blacksmiths' Helpers, not to exceed \$3 per day.....	1,824 00
Laborers.....	4,391 00

43,221 00

## Hospital and Training Stables.

669. Wages—	
Stablemen, 4 at \$912.50.....	3,650 00

## Fire Alarm Telegraph.

670. Salaries and Wages—	
Telegraph Operator.....	\$1,500 00
Telegraph Operator.....	1,200 00
Cable Splicers, 2 at \$1,400.....	2,800 00
Inspector Fire Alarm Boxes.....	1,200 00
Foreman Lineman.....	1,000 00
Linemen, 17 at \$1,000.....	17,000 00
Batteryman, 2 at \$1,100.....	2,200 00
Batteryman, 2 at \$1,000.....	2,000 00
Batteryman, 5 at \$912.50.....	4,562.50
Laborers, 2 at \$1,095.....	2,190 00
Groundmen, 3 at \$730.....	2,190 00

37,842.50

147,486.00

## ADMINISTRATION, BOROUGH OF BROOKLYN.

## Bureau of Chief of Department.

671. Salaries—	
Deputy Chief.....	\$5,000 00
Deputy Chiefs, 4 at \$4,200.....	16,800 00
Battalion Chiefs, 23 at \$3,300.....	75,900 00
Medical Officers, 5 at \$3,300.....	9,900 00
Clerk.....	2,400 00
Stenographer and Typewriter.....	1,500 00
Stenographer and Typewriter.....	1,050 00
Chaplain.....	1,000 00

\$113,530.00

## Engine and Hook and Ladder Companies.

672. Salaries and Wages—	
Foremen, 85 at \$2,160.....	\$183,600 00
Assistant Foremen, 114 at \$1,800.....	205,200 00
Engineers of Steamers, 160 at \$1,600.....	256,000 00
Firemen of All Grades, Including Mandatorily Increases.....	1,239,500 00
Pilots, 3 at \$1,500.....	4,500 00
Marine Engineers.....	1,400 00
Stokers, 6 at \$1,095.....	6,570 00

1,295,770.00

111,230.00

30,000.00

30,000.00

63,000.00

1,000.00

40,000.00

5,200.00

7,900.00

\$2,301,670.00

## ADMINISTRATION, BOROUGH OF QUEENS.

## Bureau of Chief of Department.

681. Salaries and Wages—	
Deputy Chief.....	\$4,200 00
Battalion Chiefs, 3 at \$3,300.....	16,500 00
Medical Officers, 2 at \$3,300.....	6,600 00
Chaplain.....	1,000 00

28,300.00

## Engine and Hook and Ladder Companies.

682. Salaries and Wages—	
Foremen, 29 at \$2,160.....	\$62,440 00
Assistant Foremen, 35 at \$1,800.....	63,000 00
Engineers of Steamers, 34 at \$1,600.....	54,400 00
Firemen of All Grades, Including Mandatorily Increases.....	249,500 00

8,230.00

81,300.00

8,040.00

## MAINTENANCE OF VOLUNTEER SYSTEM (SECTION 722, GENERAL NEW YORK CHARTER).

## Newtown.

696. Metropolitan Engine Company 11,.....	\$1,200 00
697. Goedzen Engine Company.....	1,200 00
698. Maspeth Engine Company.....	1,200 00
699. Leona Chemical Engine Company.....	1,200 00
700. Wandsworth Hook and Ladder Company (operates steam fire engine).....	1,200 00
701. Woodside Hook and Ladder Company.....	1,000 00
702. Maspeth Hook and Ladder Company.....	1,000 00
703. Fearless Hook and Ladder Company.....	1,000 00
704. Glendale Fire Hook and Ladder Company.....	1,000 00
705. Ivanhoe Fire Hook and Ladder Company.....	1,000 00
706. Elmhurst Fire Hook and Ladder Company.....	1,000 00
707. Pioneer Fire Hook and Ladder Company.....	1,000 00
708. Glendale Park Hook and Ladder Company 13,.....	1,000 00
	<b>\$14,000 00</b>

## Woodhaven.

709. Deraismes Engine Company 1,.....	\$1,200 00
710. South Side Engine and Pump Company (operates hook and ladder).....	1,000 00
711. Americus Hook and Ladder Company.....	1,000 00
712. Union Course Hook and Ladder Company.....	1,000 00
713. Jones Hook and Ladder Company.....	1,000 00
714. Woodhaven Hose Company.....	800 00
715. Deraismes Hose Company.....	800 00
716. Americus Hose Company.....	800 00
717. Aqueduct Hose Company 4,.....	800 00
	<b>8,400 00</b>

## Bayside.

718. Bayside Fire Engine Company,.....	\$1,200 00
719. Enterprise Hook and Ladder Company,.....	1,000 00
	<b>2,200 00</b>

## Hollis.

720. Hollis Hook and Ladder Company 1,.....	\$1,000 00
721. Columbia Hose Company 1,.....	800 00
	<b>1,800 00</b>

## Springfield.

722. Springfield Chemical Engine Company 1,.....	\$1,200 00
723. St. Albans Fire Hook and Ladder Company,.....	1,000 00
724. Springfield Hose Company 1,.....	800 00
	<b>3,000 00</b>

## Jamaica South.

725. Point Pleasant Hook and Ladder Company,.....	1,000 00
---	----------

## Little Neck.

726. Active Hook and Ladder and Hose Company,.....	1,000 00
--	----------

## Douglaston.

727. Douglaston Hose Company,.....	800 00
------------------------------------	--------

## Queens.

728. Queens Hook and Ladder Company 1,.....	\$1,000 00
729. Queens Hose Company 2,.....	800 00
	<b>1,800 00</b>

## Rosedale.

730. Rosedale Fire Hook and Ladder Company,.....	1,000 00
--	----------

## Pleasant Point.

731. Pleasant Point Volunteer Pump and Hose Company,.....	800 00
---	--------

## Creedmoor.

732. Creedmoor Hose Company 1,.....	800 00
-------------------------------------	--------

## Black Stump.

733. Black Stump Hook and Ladder and Bucket Company 1,.....	1,000 00
---	----------

## Whitestone.

734. Hook and Ladder Company 1,.....	\$1,000 00
--------------------------------------	------------

735. Engine and Hose Company 1,.....	800 00
--------------------------------------	--------

736. Columbia Hose Company 1,.....	800 00
------------------------------------	--------

737. Indian Hose Company 2,.....	800 00
	<b>3,400 00</b>

**695,105 00****8,039,565 50**

## DEPARTMENT OF PARKS.

## PARK BOARD—GENERAL ADMINISTRATION.

738. Salaries—	
President .....	\$5,000 00
Commissioners, 2 at \$5,000 each.....	10,000 00
Secretary .....	4,800 00
Assistant Secretary.....	2,000 00
Landscape Architect.....	4,000 00
Topographical Draughtsman.....	2,100 00
Stenographer .....	1,080 00
	<b>\$38,980 00</b>

## BOROUGHS OF MANHATTAN AND RICHMOND.

## Administration.

## Salaries and Wages.

739. Commissioner's Office—	
Chief Bookkeeper,.....	\$2,800 00
Assistant Secretary,.....	2,000 00
Meteorologist .....	2,500 00
Architect .....	2,500 00
Clerk .....	2,250 00
Purchasing Agent.....	2,000 00
Secretary to Commissioner.....	1,800 00
Clerk .....	1,800 00
Clerks, 2 at \$1,500 each.....	3,000 00
Clerk .....	1,200 00

## Commissioner's Office—

Meteorological Mechanist.....	1,500 00
Stenographer and Typewriter.....	1,200 00
Stenographers and Typewriters, 2 at \$1,020 each.....	2,040 00
Clerk .....	900 00
Telephone Operator.....	750 00
Junior Clerk.....	600 00
	<b>228,960 00</b>

## 740. Office of Superintendent of Parks—

Superintendent .....	\$3,000 00
Assistant Superintendents of Parks, 2 at \$2,300.....	4,600 00
Clerk .....	1,800 00
	<b>9,800 00</b>

## 741. Engineer's Office—

Chief Engineer .....	\$4,000 00
Principal Assistant .....	2,500 00
Stenographer and Typewriter .....	1,080 00
	<b>7,580 00</b>

## 742. Office of Superintendent of Supplies and Repairs—

Superintendent .....	\$3,000 00
Clerk-Bookkeeper .....	1,200 00
Junior Clerk .....	600 00
Storekeeper .....	1,200 00
	<b>6,000 00</b>

## 743. General Supplies .....

743. General Supplies .....	1,000 00
744. Contingencies .....	1,000 00
	<b>2,000 00</b>

**256,540 00**

## General Maintenance.

746. Salaries and Wages, Mechanical Force—	
Foreman Carpenter, at \$150 monthly.....	1,800 00
Foreman Painter, at \$150 monthly.....	1,800 00
Foreman of Mechanics, at \$130 monthly.....	1,800 00
Foreman Mason, at \$150 monthly.....	1,800 00
Steam Engineers, not to exceed \$4.50 per day.....	6,570 00
Steam Fitter, not to exceed \$3 per day.....	1,540 00

753. Apparatus—Machinery, Vehicles, Horses; Equipment, Cars and Storage of Same.	\$1,600.00	*
754. Fuel	10,800.00	
755. Contingencies	4,750.00	
	<u>160,310.75</u>	

Maintenance of Playgrounds, Kindergartens, Bath Houses and Comfort Stations.

Salaries and Wages.

756. Playgrounds—		
Gymnasium Attendants	\$8,100.00	
Playground Attendants	10,500.00	
Laborers	4,100.25	
Driver	684.35	
	<u>\$23,284.63</u>	

757. Bath Houses and Comfort Stations—

Foreman	\$1,200.00	
Cottage Attendants	58,471.50	
Bath Attendants	2,285.68	
Laborers	10,357.32	
	<u>75,392.81</u>	
	<u>98,683.84</u>	

Maintenance of Trees in City Streets.

758. Salaries and Wages—		
Arboreticulturist, 2 at \$100 monthly	\$2,400.00	
Climbers and Pruners	23,100.00	
	<u>25,500.00</u>	

Maintenance of Zoological Department.

759. Salaries and Wages—		
Director of Menagerie, at \$250 monthly	\$2,000.00	
Keepers of Menagerie, at \$100 monthly	1,200.00	
Keepers of Menagerie, 10 at \$75 monthly	9,360.00	
Driver	912.50	
Laborer	821.25	
	<u>15,293.75</u>	

Miscellaneous Appropriations.

760. Music	\$30,000.00	
761. Care of Grant's Tomb	7,000.00	
	<u>37,000.00</u>	

Maintenance of Aquarium.

762. Salaries and Wages	\$10,021.42	
763. Telephone, Rental of	200.00	
764. General Supplies	5,720.00	
765. Material for Repairs and Replacements by Departmental Labor	620.00	
766. Repairs and Replacements by Contracts or Open Orders	1,180.00	
767. Hired Teams, Horses and Carts	350.00	
768. Fuel and Light	6,860.00	
769. Contingencies	1,038.58	
	<u>44,000.00</u>	

Maintenance of Metropolitan Museum of Art.

770. Salaries and Wages	\$10,097.75	
771. Telephone, Rental of	600.00	
772. General Supplies	7,450.00	
773. Material for Repairs and Replacements by Departmental Labor	6,683.45	
774. Fuel	10,400.00	
775. Contingencies	12,760.00	
	<u>200,000.00</u>	

Maintenance of American Museum of Natural History.

776. Salaries and Wages	\$154,443.00	
777. Telephone, Rental of	780.00	
778. General Supplies	10,569.00	
779. Material for Repairs and Replacements by Departmental Labor	3,200.00	
780. Repairs and Replacements by Contracts or Open Orders	500.00	
781. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same	250.00	
782. Fuel	8,200.00	
783. Contingencies	1,458.00	
	<u>189,000.00</u>	

Maintenance of Children's School Farm (De Witt Clinton Park).

784. Salaries and Wages	\$4,800.00	
785. Apparatus and Supplies	200.00	
	<u>5,000.00</u>	
	<u>5,600.00</u>	
	<u>\$1,539,373.64</u>	

Bureau of the Bronx.

Administration.

Salaries and Wages.

794. Commissioner's Office—		
Private Secretary	\$2,400.00	
Chief Clerk	2,400.00	

Commissioner's Office—		
Bankkeeper	3,100.00	
Clerks, 2 at \$1,200 each	2,400.00	
Automobile Engineer	1,277.50	
Stenographers and Typewriters, 2 at \$1,050 each	3,100.00	
Telephone Operator	600.00	
	<u>\$14,277.50</u>	

793. Superintendent's Office—		
Superintendent	\$3,000.00	
Assistant Superintendents, 2 at \$1,500 each	3,000.00	
General Foremen, 4 at \$1,500 each	6,000.00	
Clerk	900.00	
	<u>12,700.00</u>	

794. Engineer's Office—		
Chief Engineer	\$4,000.00	
Assistant Engineers, 2 at \$2,100	4,200.00	
Horticultural Draughtsman	1,950.00	
Stenographer and Typewriter	1,050.00	
	<u>11,200.00</u>	

795. General Supplies	365.00	
796. Contingencies	1,000.00	
797. Telephone, Rental of	750.00	

\$39,492.50

General Maintenance—Mechanical Force.

798. Salaries and Wages—		
Carpenters, not to exceed \$5 per day	\$11,700.00	
Plumbers, not to exceed \$5 per day	4,050.00	
Bricklayers, not to exceed \$5.60 per day	1,344.00	
Painters, not to exceed \$4 per day	11,205.00	
Wheelwright, not to exceed \$4 per day	1,120.00	
Blacksmith, not to exceed \$4 per day	1,120.00	
Harnessmaker, not to exceed \$4 per day	1,120.00	
Tinsmith, not to exceed \$4.50 per day	1,260.00	
Pipe Fitter, not to exceed \$3.50 per day	945.00	
Blacksmiths' Helpers, not to exceed \$3 per day	2,320.00	
Stoker, not to exceed \$3 per day	840.00	
Saw Fiers	1,820.00	
Steam Engineers, not to exceed \$4.50 per day	2,120.00	
Auto. Lawn Mower Engineers	1,940.00	
Foreman of Repairs	980.00	
Foreman Wheelwright	1,260.00	
	<u>\$16,744.00</u>	

Maintenance of Parks and Boulevards.

799. Salaries and Wages—		
Foremen, 15 at \$1,200 each	\$18,000.00	
Helpers	1,200.00	
Arboriculturist	900.00	
Janitors	600.00	
Cottage Attendant	720.00	
Cleaners	4,200.00	
Assistant Foremen	10,200.00	
Gardeners	18,172.00	
Hostlers	6,018.00	
Drivers	10,038.00	
Stablemen	3,000.00	
Laborers	154,217.00	
Laborer Rockmen	1,340.00	
Climber and Pruner	700.00	
800. Hired Teams and Carts, Road Machines and Rollers	14,414.00	
801. General Supplies	2,500.00	

Maintenance of New York Zoological Garden.	
816. Salaries and Wages.....	\$107,000 00
817. General Supplies.....	39,400 00
818. Material for Repairs and Replacements by Departmental Labor .....	6,348 00
819. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.	485 00
820. Fuel .....	7,075 00
821. Contingencies .....	1,242 00
822. Telephone, Rental of.....	775 00
	162,325 00
	162,325 00
—	\$668,239 00

## BOROUGHS OF BROOKLYN AND QUEENS.

## Administration.

## Salaries and Wages.

823. Commissioner's Office—	
Secretary to Commissioner.....	\$2,500 00
Stenographer .....	1,050 00
Stenographer to Commissioner .....	1,050 00
Telephone Operator .....	900 00
Chief Clerk .....	2,000 00
Assistant Paymaster .....	1,650 00
Bookkeeper .....	2,550 00
Clerk .....	1,200 00
Clerks, 2 at \$900.....	1,800 00
Clerk .....	300 00
Janitor .....	1,095 00
	16,695 00

824. Superintendent's Office—	
Superintendent .....	\$4,000 00
Arboriculturists, 3 at \$1,500..	4,500 00
Master Machinist .....	2,000 00
General Foreman .....	1,800 00
Clerk .....	900 00
	13,200 00

825. Engineer's Office—	
Assistant Engineer .....	\$3,500 00
Leveler .....	1,200 00
Clerk .....	1,200 00
	6,900 00

826. Office of the Superintendent of Supplies and Repairs—	
Superintendent .....	\$1,950 00
Property Clerk .....	2,100 00
	4,050 00
827. General Supplies.....	500 00
828. Contingencies .....	1,000 00
829. Telephones, Rental of.....	1,500 00
	4,000 00
—	44,142 00

## General Maintenance—Mechanical Force.

830. Salaries and Wages—	
Master Machinist .....	\$2,000 00
Foreman of Mechanics.....	3,650 00
Foreman of Painters.....	1,500 00
Bricklayers, not to exceed \$5 per day...	6,720 00
Stonemasons, not to exceed \$4.50 per day...	4,500 00
Stonecutter, not to exceed \$5 per day...	1,500 00
Masons, not to exceed \$5 per day...	3,000 00
Carpenters, not to exceed \$5 per day...	18,000 00
Plasterers, not to exceed \$5 per day...	7,500 00
Tinsmith, not to exceed \$4.50 per day...	1,330 00
Wheewrights, not to exceed \$3.50 per day...	2,100 00
Painters, not to exceed \$4 per day...	12,000 00
Letterers, not to exceed \$4 per day...	2,400 00
Horseshoer, not to exceed \$4 per day...	1,200 00
Harnessmaker, not to exceed \$4 per day...	1,200 00
Blacksmiths, not to exceed \$4 per day...	2,400 00
Blacksmiths' Helpers, not to exceed \$4 per day...	1,800 00
Machinists' Helpers .....	1,050 00
Fireman and Stokers, not to exceed \$3 per day...	3,285 00
Mechanical Engineer, not to exceed \$4.50 per day...	1,642 50
Stationary Engineers, not to exceed \$4.50 per day...	3,385 00
Engineers of Steam Rollers and Grass Cutters, not to exceed \$4.50 per day...	0,450 00
Rigger, not to exceed \$3 per day.....	900 00
	92,432 50

## Maintenance of Parks and Boulevards.

831. Salaries and Wages—	
Foreman of Greenhouses.....	\$1,825 00
Foreman of Laborers.....	27,395 00
Foreman of Hostlers.....	1,460 00
Special Laborer.....	1,095 00
Laborers and Toolmen.....	2,700 00
Laborers .....	311,463 73
Gardeners .....	41,928 73
Pruners and Climbers.....	24,500 00
Laborers and Hostlers.....	7,300 00
Drivers .....	13,862 50
Attendants (Female).....	14,522 50
Cottage Attendants.....	1,400 00
Gymnasium Attendants (Male).....	2,737 50
Gymnasium Attendants (Female).....	1,825 00
	450,073 00

832. Hired Teams and Carts, Road Machines.....	110,690 00
833. General Supplies.....	47,200 00
834. Materials for Repairs and Replacements by Departmental Labor.....	103,000 00
835. Repairs and Replacements by Contracts or Open Orders.....	43,000 00
836. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	14,500 00
837. Fuel .....	16,000 00
838. Contingencies .....	5,000 00

## Maintenance of Trees in City Streets.

839. Salaries and Wages—	
Foremen .....	\$3,150 00
Pruners and Climbers.....	54,000 00
	57,150 00

## Maintenance of Zoological Department.

840. Salaries and Wages—	
Keepers of Menagerie.....	\$3,102 50
Laborers .....	6,752 50
	9,855 00

## Miscellaneous Appropriations.

841. Music .....	16,500 00
------------------	-----------

## MAINTENANCE OF INSTITUTIONS.

## Museum of Arts and Sciences (Including Taxidermical Laboratory).

842. Salaries and Wages.....	\$60,410 00
843. General Supplies.....	7,000 00
844. Material for Repairs and Replacements by Departmental Labor.....	3,000 00
845. Repairs and Replacements by Contracts or Open Orders.....	3,000 00
846. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	300 00
847. Fuel .....	6,100 00
848. Contingencies .....	5,250 00
849. Telephone .....	200 00

## Children's Museum.

850. Salaries and Wages.....	9,350 00
851. General Supplies.....	1,300 00
852. Repairs and Replacements by Contracts or Open Orders.....	300 00
853. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.....	150 00
854. Fuel .....	325 00
855. Contingencies .....	550 00
856. Telephone .....	70 00

163,905 00

\$1,111,452 50

Grand total..... \$3,319,005 14

## DEPARTMENT OF EDUCATION.

## SPECIAL SCHOOL FUND.

## General Administration.

857. Office of the Secretary—	
Secretary .....	\$5,500 00
Assistant Secretary.....	3,500 00
Chief Clerk .....	3,000 00
Clerk .....	3,230 00
Clerks, 3 at \$1,950.....	5,850 00
Clerk .....	1,800 00
Clerk .....	1,500 00
Clerk .....	1,320 00
Clerk .....	1,200 00
Clerk .....	1,050 00
Clerk .....	900 00
Clerks, 2 at \$750.....	1,500 00
Clerk .....	600 00
Clerk .....	410 00
Stenographer and Typewriter .....	2,200 00
Stenographer and Typewriter .....	1,930 00
Stenographers and Typewriters, 2 at \$1,500.....	3,000 00
Typewriting Copyist .....	1,050 00
Typewriting Copyist .....	900 00
Telephone Switchboard Operator .....	900 00
Telephone Switchboard Operator .....	720 00
Telephone Switchboard Operator .....	600 00
Librarian .....	1,030 00

\$43,120 00

## 858. Office of the Auditor—

Auditor .....	\$5,500 00
Clerk .....	3,000 00
Clerk .....	2,100 00
Clerk .....	1,800 00
Bookkeeper .....	2,230 00
Examiners of Claims, 9 at \$1,500 .....	13,500 00
Examiners of Claims, 2 at \$1,350 .....	2,700 00
Examiner of Claims .....	1,200 00
Clerks, 3 at \$1,550 .....	4,650 00
Clerks, 4 at \$1,200 .....	4,800 00
Clerks, 2 at \$1,050 .....	2,100 00
C	

## Office of the Auditor—

Clerk	660.00
Clerk	400.00
Clerks, 3 at \$540.	1,620.00
Clerk	480.00
Clerks, 3 at \$400.	1,200.00
Clerks, 6 at \$300.	1,800.00
Clerks (Cataloguers), 2 at \$600.	1,200.00
Stenographer and Typewriter	1,350.00
	53,170.00
	53,170.00

\$96,290.00

## ADMINISTRATION

## 839. Office of the City Superintendent of Schools—

Head Clerk	\$4,000.00
Statistician	1,950.00
Clerk, with Knowledge of Statistics	1,200.00
Clerk	1,300.00
Clerk	1,200.00
Clerks, 3 at \$1,050.	3,150.00
Clerks, 3 at \$1,200.	3,600.00
Clerks, 4 at \$1,250.	5,000.00
Clerks, 5 at \$1,200.	6,000.00
Clerks, 5 at \$1,050.	7,350.00
Clerks, 3 at \$900.	2,700.00
Clerk	750.00
Clerks, 2 at \$200.	1,200.00
Clerk	480.00
Clerk	300.00
Stenographer and Typewriter	1,650.00
Stenographers and Typewriters, 7 at \$1,200.	10,500.00
Stenographers and Typewriters, 8 at \$1,350.	10,800.00
Stenographers and Typewriters, 5 at \$1,200.	8,400.00
Stenographers and Typewriter	1,050.00
Stenographers and Typewriter	900.00
Stenographer and Typewriter	750.00
Stenographer and Typewriter	600.00
Typewriting Copyist	1,110.00
Typewriting Copyist	1,050.00
Typewriting Copyist	900.00
Typewriting Copyist	750.00
	77,230.00

## 840. Office of District Superintendents—

Clerks, 2 at \$900.	\$6,300.00
Typewriting Copyists, 4 at \$900.	3,600.00
Stenographer and Typewriter	750.00
Stenographers and Typewriters, 12 at \$600.	7,200.00
	17,350.00

## 841. Office of the Superintendent of Schools Supplies—

Superintendent	47,700.00
Deputy Superintendent	3,000.00
Deputy Superintendent	1,000.00
Bookkeeper	1,800.00
Supply Clerk	1,650.00
Supply Clerk	900.00
Clerk	2,500.00
Clerk	4,000.00
Clerks, 2 at \$1,800.	3,600.00
Clerks, 3 at \$1,200.	4,500.00
Clerks, 2 at \$1,200.	2,700.00
Clerks, 3 at \$1,200.	3,600.00
Clerks, 2 at \$1,150.	2,300.00
Clerks, 2 at \$1,050.	2,450.00
Clerks, 6 at \$900.	5,400.00
Clerks, 2 at \$750.	1,500.00
Clerk	600.00
Clerk	400.00
Clerks, 9 at \$420.	3,780.00
Clerks, 13 at \$300.	3,900.00
Stenographer and Typewriter	1,620.00
Stenographer and Typewriter	1,600.00
Stenographer and Typewriter	1,172.00
Stenographers and Typewriters, 2 at \$1,050.	2,100.00
Stenographer and Typewriter	900.00
Stenographers and Typewriters, 3 at \$750.	2,250.00
Fuel Inspector	2,000.00
Fuel Inspector	1,650.00
Fuel Inspectors, 3 at \$1,500.	4,500.00
Fuel Inspectors, 3 at \$1,200.	4,050.00
Fuel Inspector	1,300.00
Fuel Inspectors, 4 at \$1,150.	4,600.00
Technician, 2 at \$1,050.	2,100.00
Laborers, 2 at \$1,050.	2,100.00
Laborers, 7 at \$900.	6,300.00
Laborer	750.00
Laborer	600.00
Orderly	1,200.00
Orderly	1,050.00
Cleaners, 9 at \$900.	8,100.00

## Office of the Superintendent of Schools Supplies—

Cleaners, 9 at \$750.	6,750.00
Cleaners, 16 at \$600.	9,600.00
Seamstress	900.00
Gymnasium Attendant	1,200.00
	\$129,035.00

## 862. Office of the Superintendent of Schools Buildings—

Superintendent	\$16,000.00
Deputy Superintendents, 3 at \$4,500.	13,500.00
Deputy Superintendent	3,300.00
Deputy Superintendent	3,000.00
Deputy Superintendent	2,550.00
Assistant to Superintendent	2,400.00
Sanitary Inspector	3,250.00
Chief Clerk	3,500.00
Accountant	2,400.00
Clerk	1,800.00
Clerk	1,200.00
Clerks, 2 at \$1,050.	2,100.00
Clerks, 2 at \$750.	1,500.00
Clerk	540.00
Clerks, 2 at \$480.	960.00
Stenographer	1,650.00
Stenographer and Typewriter	1,500.00
Stenographers and Typewriters, 6 at \$1,250.	8,100.00
Stenographer and Typewriter	900.00
Stenographer and Typewriter	600.00
Typewriter	1,350.00
Typewriting Copyist	900.00
Typewriting Copyist	750.00
Typewriting Copyists, 2 at \$600.	1,200.00
Telephone Switchboard Operator	600.00
Cleaner	900.00
Clerk	420.00
	71,220.00

## 863. Office of the Supervisor of Janitors—

Supervisor of Janitors	\$3,000.00
Emergency Janitor-Engineers, 3 at \$2,500.	7,500.00
Clerk	1,050.00
Clerk	900.00
	12,450.00
	\$107,785.00

## MAINTENANCE.

## Bureau of Buildings.

Inspector of Mason's Material	\$2,860.00
Sanitary Inspector	2,800.00
Cleaner	1,000.00
Clerk	600.00
Inspectors of Masonry	5,532.78
General Inspectors	2,347.50
Electrical Inspectors	2,093.50
Electrical Inspectors	1,799.78
Electrical Inspectors	4,695.00
General Inspectors of Repairs	2,347.50
Inspectors of Repairs	16,902.00
Inspectors of Repairs	2,347.50
Inspectors of Carpentry	1,878.00
Heating and Ventilating Inspectors	4,182.00
Heating and Ventilating Inspectors	7,512.00
Heating and Ventilating Inspectors	1,721.50
Heating and Ventilating Inspectors	10,635.00
Inspectors of Light and Ventilation	1,565.00
Sanitary Inspectors	2,086.67
Sanitary Inspectors	13,146.00
Inspectors of Masonry and Carpentry	1,878.00
Inspectors of Masonry and Carpentry	13,772.00
Architectural Draughtsmen	2,347.50
Architectural Draughtsmen	7,302.52
Architectural Draughtsmen	3,999.78
Architectural Draughtsmen	1,693.47
Assistant Architectural Draughtsmen	1,434.58
Assistant Architectural Draughtsmen	1,695.47
Junior Assistant Architectural Draughtsmen	1,204.27
Junior Assistant Architectural Draughtsmen	912.92
Mechanical Draughtsmen	2,347.50
Mechanical Draughtsmen	2,086.67
Foremen Carpenters	1,825.00
Plumbers, not to exceed \$5 a day	2,442.00

## Division of Repairs—

Electricians, not to exceed \$4.50 a day.....	1,495.17
Machinists' Helpers.....	1,408.50
Battery men.....	1,408.50
Linemen, Electricians, not to exceed \$4.50 a day.....	1,408.50
Thermostat Repairers.....	1,434.58
Steamfitters, not to exceed \$5 a day.....	3,130.00
Roofers, not to exceed \$3.75 a day.....	1,408.50
Drivers.....	639.00
Battery men.....	1,252.00
Thermostat Repairers.....	1,408.00
Wiremen, not to exceed \$4.50 per day.....	6,729.50
Steamfitters' Helpers.....	1,878.00
Tinners, not to exceed \$4.50 a day.....	1,408.50
Gasfitters, not to exceed \$5 a day.....	1,565.00
Pipefitters' Helpers.....	939.00
Painters, not to exceed \$4 a day.....	2,101.00
Carpenters, not to exceed \$5 a day.....	5,614.00
Plumbers' Apprentices.....	626.00
Electrician, not to exceed \$4.50 a day.....	1,252.00
Special Laborer.....	1,095.50
Furniture Inspectors.....	3,730.00
Inspectors of Carpentry.....	1,878.00
Inspectors of Carpentry and Masonry.....	1,721.50
Inspectors of Masonry.....	1,878.00
Inspectors of Masonry.....	1,721.50
Draughtsmen's Helpers.....	912.98
Upholsterers, not to exceed \$4 a day.....	1,095.50
Carpenters, not to exceed \$5 a day.....	1,408.50
	<b>\$190,286.91</b>
865 Compensation of Janitors.....	1,399,000.00
	<b>1,588,286.91</b>

## Compulsory Education;

## 866 Manhattan Truant School—

Matron.....	\$1,500.00
Seamstress.....	400.00
Cook.....	400.00
Caretaker.....	720.00
Cleaner.....	720.00
Cleaner.....	600.00
Hospital Helper.....	400.00
Physician.....	600.00
	<b>3,240.00</b>

## 867 Brooklyn Truant School—

Caretaker.....	8720.00
Caretakers, 2 at \$600.....	1,200.00
Caretakers, 2 at \$300.....	600.00
Laborer.....	720.00
Seamstress.....	720.00
Cleaners, 2 at \$300.....	600.00
Gardener.....	1,200.00
Laundress.....	420.00
Laundresses, 2 at \$300.....	600.00
Cook.....	720.00
Assistant Cook.....	300.00
Waitress.....	300.00
Physician.....	600.00
	<b>9,350.00</b>

## 868 New York Parental School—

Truckman.....	8750.00
Gardener-Drivers, 2 at \$600.....	1,200.00
Gardener-Drivers.....	720.00
Orderly.....	240.00
Seamstress.....	480.00
Seamstress.....	300.00
Cleaners, 2 at \$300.....	600.00
Caretakers, 3 at \$600.....	1,800.00
Caretakers, 3 at \$300.....	1,080.00
Cook, 2 at \$360.....	720.00
Laundresses, 2 at \$300.....	600.00
Gardener.....	1,200.00
Physician.....	600.00
Physician.....	600.00
	<b>11,520.00</b>

## 869 Nautical School—

Superintendent.....	\$2,750.00
Executive Officer.....	2,400.00
Senior Instructor.....	2,000.00
Junior Instructor.....	1,400.00
Surgeon and Instructor.....	1,900.00
Chief Engineer and Instructor.....	2,200.00
Boatswain.....	1,200.00
Steward.....	900.00
Master-at-Arms.....	600.00
Ship's Cook.....	600.00
Carpenter.....	540.00
Sailmaker.....	540.00

## Nautical School—

Firemen.....	5,130.00
Chief Quartermaster.....	140.00
Quartermasters, 2 at \$480.....	960.00
Cabin Steward.....	140.00
Boy Steward.....	100.00
Ward-room Steward.....	140.00
Ward-room Boys, 2 at \$360.....	720.00
Scamens, 10 at \$360.....	3,600.00
Electrician, Second Class.....	140.00
Machinists.....	1,200.00
Boilermaker.....	780.00
Coppersmith.....	720.00
Blacksmith.....	600.00
Coal Heaver.....	720.00
	<b>12,690.00</b>

## Office of the Supervisor of Lectures:

870. Evening Lecture Courses—	
Clerk.....	\$1,950.00
Clerk.....	1,050.00
Clerk.....	300.00
Stenographer and typewriter.....	1,200.00
Stenographer and typewriter.....	1,050.00
Stenographer and typewriter.....	750.00
	<b>\$6,300.00</b>

## 871. Lecture Centres—

Local Superintendents, at \$5 per night.....	\$20,000.00
Operators, at \$5 per night.....	12,000.00
	<b>32,000.00</b>

## General Supplies:

872. Borough of Manhattan.....	\$615,578.00
873. Borough of The Bronx.....	85,128.00
874. Borough of Brooklyn.....	221,890.00
875. Borough of Queens.....	77,804.00
876. Borough of Richmond.....	10,060.00
877. Board of Education.....	75,310.00
878. Truant Schools.....	45,214.00
879. Nautical School.....	16,615.40
880. School Libraries and Libraries and Apparatus, Regatta Schools.....	27,378.00
881. Supplies for Evening Lectures.....	29,515.00
882. Supplies for a School for Deaf Mutes to be taken over by the Board of Education.....	20,000.00
	<b>1,203,692.50</b>

## Repairs and Replacements by Contract or Open Order:

## General Repairs:

883. Borough of Manhattan.....	\$296,798.57
884. Borough of The Bronx.....	14,362.28
885. Borough of Brooklyn.....	174,070.44
886. Borough of Queens.....	238,800.30
887. Borough of Richmond.....	57,418.01
888. School Ship "Newport".....	5,000.00
889. Bulletin Boards, Closets, etc., Evening Lecture Centres.....	1,972.00
	<b>1,193,747.46</b>

## Furniture and Repairs of:

890. Borough of Manhattan.....	\$94,415.65
891. Borough of The Bronx.....	29,125.00
892. Borough of Brooklyn.....	34,860.93
893. Borough of Queens.....	29,529.12
894. Borough of Richmond.....	7,629.51
	<b>195,628.98</b>

## Pianos and Repairs of:

895. Borough of Manhattan.....	\$7,228.00
896. Borough of The Bronx.....	2,602.00
897. Borough of Brooklyn.....	5,418.00
898. Borough of Queens.....	2,390.00
899. Borough of Richmond.....	2,262.00
	<b>20,000.00</b>

## Fire Alarms:

900. Borough of Manhattan.....	\$1,000.00
901. Borough of The Bronx.....	300.00
902. Borough of Brooklyn.....	2,000.00
903. Borough of Queens.....	1,600.00
904. Borough of Richmond.....	1,000.00
	<b>7,100.00</b>

## Apparatus, Machinery, Vehicles, Horses: Equipment:

905. Care of Horses, Board of Education.....	\$4,231.00
906. Care of Horses, Truant Schools.....	1,000.00

**4,231.00**

## Fuch:

907. Borough of Manhattan.....	\$127,000.44
908. Borough of The Bronx.....	44,997.60
909. Borough of Brooklyn.....	189,998.35
910. Borough of Queens.....	

Contingencies.	
915. Board of Education.....	\$20,666.00
916. Truant Schools.....	3,736.00
917. Evening Lecture Courses.....	2,600.00
918. Music for Evening Roof Playgrounds.....	9,304.00
	41,526.00
Special Contract Obligations—Transportation of Pupils.	
919. Borough of Manhattan.....	\$11,000.00
920. Borough of The Bronx.....	17,312.00
921. Borough of Brooklyn.....	4,000.00
922. Borough of Queens.....	29,000.00
923. Borough of Richmond.....	9,804.00
924. Heat for the Hall of the Board of Education.....	2,599.00
925. Illustration of Lectures, Rental of Halls, etc., Evening Lecture Courses.....	22,500.00
	100,435.00
926. Maintenance of Truants in New York Catholic Protective Society.....	16,000.00
Water.	
927. Borough of Brooklyn.....	\$200.00
928. Borough of Queens.....	3,000.00
929. Borough of Richmond.....	300.00
	5,500.00
	<b>\$5,625,913.37</b>

## GENERAL SCHOOL FUND.

930. For the General School Fund for the year 1908 the equivalent of three mills on every dollar of assessed valuation of the Real and Personal Estate in The City of New York, liable to taxation, as certified to the Board of Education by the Department of Taxes and Assessments, including as much of the State School Money apportioned by the Superintendent of Public Instruction to The City of New York, or any of the Counties contained therein, which State School money when received shall be paid into the General Fund for the Reduction of Taxation.....	\$21,474,371.20
931. Additional amount allowed for the year 1908, in excess of the product of the three-mill tax.....	570,250.23
	<b>27,470,736.80</b>

In accordance with the provisions of section 1000 of the Greater New York Charter, the appropriation for the General School Fund for the year 1908 is made in bulk and for the City at large, but in making said allowance the Board of Estimate and Apportionment hereby recommends that it be apportioned among the various purposes of General School Fund Expenditure in the following manner and amounts:

Recommended Apportionment of General School Fund.	
Day Elementary Schools, including Vacation Schools, Recreation Centres, Playgrounds and Baths—	
For Salaries of Persons Employed in Day Elementary Schools, May 1, 1908.....	\$15,029,168.00
For Annual Automatic Increments for Persons mentioned above.....	225,121.48
For Additional Compensation for Female Teachers of Mixed Classes.....	175,000.00
For Additional Compensation for Female Teachers of Boys Classes.....	263,700.00
For Additional Teachers.....	377,249.31
For Vacation Schools, Recreation Centres, Playgrounds and Baths.....	175,000.00
	<b>16,845,328.99</b>

Day High Schools.....	2,293,236.56
Training School for Teachers.....	289,630.00
Truant Schools.....	21,930.00
Special Branches in Day Elementary Schools.....	550,915.00
Evening Elementary Schools.....	391,815.00
Evening High Schools.....	279,105.00
General Supervision.....	290,700.00
Salaries of Attendance Officers.....	713,700.00
Corporate Schools.....	266,280.00
Fees for Evening Lecturers.....	91,030.00
Substitutes in place of Absentees and other per diem Teachers.....	597,324.12
Salaries of Teachers in a School for Deaf Mutes to be taken over by the Board of Education.....	30,000.00
Salaries of Teachers in a proposed Industrial School.....	22,100.00
	<b>821,044,821.43</b>

## THE COLLEGE OF THE CITY OF NEW YORK.

932. Salaries of the Teaching Corps.....	404,362.70
Office of the President.	
933. Salaries and Wages—	
Secretary and Registrar.....	\$2,350.00
Secretary to the President.....	2,100.00
Stenographers, 2 at \$1000.....	1,800.00
Assistant in Office of Repository.....	900.00
Clerks, 3 at \$600.....	1,800.00
Clerks, 2 at \$300.....	900.00
	<b>9,710.00</b>

## Office of the Curator.

934. Salaries and Wages—	
Curator and Auditor.....	\$4,750.00
Assistant Curator.....	2,500.00
Assistant Librarian.....	1,750.00
Stenographer and Typewriter.....	900.00
Engineer.....	2,250.00
Engineer.....	1,200.00
Electrician, not to exceed \$4.50 a day.....	1,800.00

Salaries and Wages—	
First Assistant Engineer.....	1,800.00
Mechanicians, 2 at \$1,200.....	2,400.00
Watchmen.....	900.00
Helper.....	720.00
Monitor Helper.....	720.00
Clerk.....	300.00
Elevator Attendant.....	480.00
Cleaners, 5 at \$720.....	4,320.00
Cleaner.....	340.00
Cleaner.....	375.00
Laborer.....	720.00
Clerks, 2 at \$500.....	1,200.00
Compensation of Janitor.....	18,423.00
Stationary Engineers, not to exceed \$4.50 a day.....	8,212.50
Plumbers, not to exceed \$5 a day.....	1,825.00
Pipefitters, not to exceed \$3 a day.....	1,825.00
Oilers, not to exceed \$3 a day.....	15,330.00
Stokers, not to exceed \$3 a day.....	13,140.00
Laborers.....	1,460.00
Carpenter, not to exceed \$5 a day.....	1,825.00
Cleaners.....	1,460.00
	<b>\$93,638.50</b>
935. General Supplies.....	35,600.00
936. Materials for Repairs and Replacement by Departmental Labor.....	3,500.00
937. Repairs and Replacements by Contract or open Order.....	5,000.00
938. Fuel.....	30,000.00
939. Telephone.....	1,500.00
940. Contingencies.....	1,500.00
	<b>584,811.29</b>

## THE NORMAL COLLEGE OF THE CITY OF NEW YORK.

941. Salaries of the Teaching Corps.....	\$303,540.00
Administration.	

942. Salaries and Wages—	
Secretary of the College.....	\$2,000.00
Secretary of the Board of Trustees.....	500.00
Superintendent of Buildings.....	500.00
Auditor.....	300.00
Clerk to Faculty.....	750.00
Stenographer.....	1,000.00
Stenographer and Typewriter.....	300.00
Bell Ringer.....	100.00
Engineer and Janitor (College).....	3,000.00
Engineer and Janitor (Training Department).....	1,900.00
	<b>\$11,350.00</b>
945. General Supplies.....	22,150.00
946. Repairs and Replacements by Contract or Open Order.....	10,000.00
947. Fuel.....	4,000.00
948. Telephone.....	500.00
947. Contingencies.....	2,250.00
	<b>352,990.00</b>

## BROOKLYN DISCIPLINARY TRAINING SCHOOL FOR BOYS.

948. Salaries and Wages—	
Superintendent.....	\$3,000.00
House Mother.....	720.00
Chaplains, 2 at \$120.....	240.00
Physician.....	100.00
Dentist.....	480.00
Drill Master.....	600.00
Bandmaster.....	720.00
Steroptician.....	120.00
Stenographer.....	900.00
Clerk.....	1,000.00
Engineman, not to exceed \$4.50 a day.....	3,283.00
Shoemaker.....	900.00
Carpenter.....	720.00
Printer.....	720.00
Tailor.....	720.00
Hospital Helper.....	480.00
Caretaker.....	700.00
Caretakers, 6 at \$720.....	4,320.00
Teachers, 3 at \$720.....	2,160.00
Seamstresses, 2 at \$300.....	600.00
Cleaners, 4 at \$240.....	960.00
Cleaner.....	180.00
Cook.....	360.00
Cook.....	240.00
Laundress.....	200.00
Laundress.....	240.00
Seafarer.....	360.00
Investigator.....	720.00
Painter.....	720.00
Gardener.....	720.00
Orderly.....	180.00
	<b>\$28,085.00</b>
949. General Supplies.....	25,691.00
950. Material for Repairs and Replacements by Departmental Labor.....	1,400.00
951. Telephones.....	450.00
952. Contingencies.....	547.00
	<b>60,000.00</b>

## COMMISSIONERS OF ACCOUNTS.

953. Commissioners of Accounts, 2.....	\$10,000.00
954. Chief Accountant, Chief Clerk, Stenographers and Office Boys—	
Chief Accountant.....	\$4,000.00
Chief Clerk.....	2,000.00
Stenographer and Typewriter.....	1,500.00
Stenographers and Typewriters, 2.....	2,400.00
	<b>\$9,900.00</b>

955. Accounting Staff—	
Chief Examiners of Accounts, 2.....	\$8,000.00
Chief Examiner of Accounts.....	3,300.00
Chief Examiners of Accounts, 3.....	24,000.00
Chief Examiners of Accounts, 4.....	10,000.00
Examiners of Accounts, 1.....	6,750.00
Examiner of Accounts.....	2,100.00
Examiners of Accounts, 4.....	8,000.00
Examiners of Accounts, 7.....	12,600.00
Examiner of Accounts.....	1,500.00
Accountants, 3.....	19,200.00
Accountants, 2.....	4,500.00
Accountants, 7.....	14,700.00
Accountants, 4.....	7,800.00
Accountants, 2.....	3,500.00
Accountants, 3.....	4,950.00
Accountants, 2.....	3,000.00
Clerks, 5.....	8,250.00
Clerk.....	1,500.00
Clerks, 2.....	2,700.00
Clerk.....	1,200.00
Clerk.....	1,050.00
Clerks, 2.....	1,500.00
Clerks, 4.....	2,400.00
Clerks, 2.....	900.00
Clerk.....	300.00
	153,960.00

## Inspection Staff.

956. Engineering and Special—	
Chief Engineer.....	\$4,500.00
Examining Engineer.....	3,300.00
Examining Engineer.....	2,200.00
Law Examiner.....	2,500.00
Examining Inspector.....	2,750.00
Examining Inspector, 4.....	7,200.00
Examining Inspector, 5.....	7,500.00
Examiner.....	1,200.00
	10,850.00

## Supplies.

957. General Supplies.....	\$2,000.00
958. Telephones.....	1,200.00
959. Contingencies, including Special Examinations.....	20,800.00
959½. Police Detail—Salaries.....	1,400.00

25,400.00

230,110.00

## COMMISSIONER OF LICENSES.

960. Salaries—	
Commissioner of Licenses.....	\$5,000.00
Deputy Commissioner.....	3,300.00
Secretary.....	2,000.00
Chief Inspector.....	3,000.00
Deputy Chief Inspector.....	2,000.00
Supervising Inspectors, 2.....	4,200.00
Inspectors of Licenses, 15.....	32,400.00
Stenographer.....	1,600.00
Law and Complaint Clerk.....	2,000.00
Financial and Recording Clerk.....	2,000.00
Telephone Operator.....	900.00
Clerk.....	300.00
Interpreter, at \$5 per day.....	500.00
	49,400.00

## Supplies.

961. General Supplies.....	\$600.00
962. Telephones.....	400.00
963. Contingencies.....	3,000.00
963½. Police Detail—Salaries.....	1,400.00

5,400.00

54,800.00

## CORONERS.

964. Salaries and Expenses of Coroners in the Borough of Manhattan.....	802,500.00
965. Salaries and Expenses of Coroners in the Borough of The Bronx.....	28,700.00
966. Salaries and Expenses of Coroners in the Borough of Brooklyn.....	32,350.00
967. Salaries and Expenses of Coroners in the Borough of Queens.....	30,000.00
968. Salaries and Expenses of Coroners in the Borough of Richmond.....	13,250.00

159,700.00

## MUNICIPAL CIVIL SERVICE COMMISSION.

## ADMINISTRATION.

969. Salaries and Wages—	
President.....	\$6,000.00
Commissioners, 3 at \$5,000.....	10,000.00
Secretary.....	5,000.00
Assistant Secretary.....	4,000.00
Labor Clerk.....	3,500.00
Clerks, 2 at \$2,400.....	4,800.00
Clerks, 3 at \$2,100.....	6,300.00
Clerks, 3 at \$1,800.....	5,400.00
Clerks, 5 at \$1,300.....	7,500.00
Clerks, 2 at \$1,300.....	2,700.00
Clerks, 2 at \$1,200.....	2,400.00
Clerks, 4 at \$900.....	3,600.00
Clerks, 5 at \$750.....	2,250.00
Clerk.....	540.00
Clerk.....	480.00
Clerks, 10 at \$300.....	3,000.00
Stenographers and Typewriters, 2 at \$1,500.....	3,000.00
Stenographers and Typewriters, 3 at \$1,200.....	3,600.00
Stenographers and Typewriters, 2 at \$1,050.....	2,100.00
Stenographer and Typewriter.....	900.00

## Salaries and Wages—

Telephone Operator.....	1,050.00
Chief Examiner.....	4,200.00
Assistant Chief Examiner.....	3,500.00
Medical Examiner.....	2,400.00
Examiners, 3 at \$2,700.....	8,100.00
Examiners, 2 at \$2,400.....	4,800.00
Examiners, 2 at \$2,100.....	4,200.00
Examiners, 3 at \$1,800.....	5,400.00
Examiners, 3 at \$1,500.....	4,500.00
Examiners, per day, \$18 per session.....	18,500.00
Experts.....	2,300.00
Monitors.....	7,000.00

\$144,720.00

582.00

1,000.00

6,718.00

153,020.00

## BOARD OF ASSESSORS.

972. Salaries—	
Assessors, 3 at \$5,000.....	\$15,000.00
Secretary.....	5,000.00
Stenographer.....	2,250.00
Clerk.....	2,100.00
Clerks, 4 at \$1,800.....	7,200.00
Clerks, 3 at \$1,350.....	4,050.00
Clerks, 2 at \$1,200.....	2,400.00
Stenographer and Typewriter.....	1,650.00
Topographical Draughtsman.....	1,650.00
Messenger.....	1,200.00

\$42,500.00

2,000.00

44,500.00

## EXAMINING BOARD OF PLUMBERS.

975. Salaries—	
Examiners, 3 at \$5 per session.....	\$4,680.00
Clerk, Stenographer and Typewriter.....	1,200.00

\$5,880.00

50.00

6,259.00

## DEPARTMENT OF TAXES AND ASSESSMENTS.

978. Salaries and Wages—	
President.....	\$8,000.00
Commissioners, 6 at \$7,000.....	42,000.00
Secretary.....	4,000.00
Assistant Secretary.....	3,200.00
Assistant to Commissioner.....	3,500.00
Assistants to Commissioners, 6 at \$2,500.....	15,000.00
Deputy Tax Commissioners, 2 at \$3,500.....	7,000.00
Deputy Tax Commissioners, 4 at \$3,250.....	13,000.00
Deputy Tax Commissioners, 5 at \$3,000.....	15,000.00
Deputy Tax Commissioner.....	2,850.00
Deputy Tax Commissioners, 15 at \$2,700.....	40,500.00
Deputy Tax Commissioners, 12 at \$2,550.....	30,000.00
Deputy Tax Commissioners, 4 at \$2,150.....	9,000.00
Deputy Tax Commissioners, 15 at \$2,100.....	31,500.00
Deputy Tax Commissioners, 3 at \$1,950.....	6,750.00
Deputy Tax Commissioners, 15 at \$1,800.....	28,800.00
Surveyor.....	7,000.00
Chief Deputy of Real Estate.....	7,000.00
Chief Deputy of Personal Estate.....	4,000.00
Expert Real Estate Appraiser.....	4,000.00
Chief Clerk.....	3,000.00
Chief Clerks, 3 at \$2,550.....	7,650.00
Clerks, 4 at \$1,800.....	7,200.00
Clerks, 21 at \$1,500.....	31,500.00
Clerks, 10 at \$1,350.....	13,500.00
Clerks, 11 at \$1,200.....	13,200.00
Clerks, 26 at \$1,050.....	27,300.00
Clerks, 11 at \$900.....	9,900.00
Clerks, 19 at \$750.....	14,250.00
Clerks, 13 at \$600.....	7,800.00
Clerk.....	300.00
Searchers, 7 at \$1,200.....	8,400.00
Confidential Stenographers, 3 at \$1,500.....	4,500.00
Confidential Stenographer.....	1,750.00
Confidential Stenographers, 3 at \$1,200.....	3,600.00
Messenger.....	1,650.00
Messenger, 2 at \$1,200.....	2,700.00
Office Attendants, 2 at \$1,200.....	2,400.00

\$155,900.00

3,630.00

750.00

Salaries—	
Stenographers and Typewriters, 3 at \$1,500.....	4,500 00
Stenographers and Typewriters, 2 at \$1,350.....	2,700 00
Stenographer and Typewriter.....	1,200 00
Messenger.....	1,200 00
Telephone Operator.....	900 00
Officer Boy.....	300 00
	107,150 00

## PUBLIC IMPROVEMENTS AND FRANCHISES

## Office of the Chief Engineer.

983. Salaries—	
Chief Engineer.....	\$12,000 00
Assistant Engineer.....	2,700 00
Stenographer and Secretary.....	2,100 00
	10,800 00

## Division of Public Improvements.

984. Salaries—	
Engineer in Charge.....	\$8,000 00
Assistant Engineers.....	2,700 00
Assistant Engineers.....	2,100 00
Assistant Engineers.....	2,100 00
Topographical Draughtsman.....	1,800 00
Topographical Draughtsman.....	1,650 00
Topographical Draughtsman.....	1,500 00
Stenographer and Typewriter.....	1,350 00
Stenographer and Typewriter.....	1,050 00
Clerk.....	1,050 00
Clerks, 2 at \$600.....	1,200 00
	23,500 00

## Division of Franchises.

985. Salaries—	
Engineer in Charge.....	\$6,000 00
Assistant Engineers.....	3,000 00
Assistant Engineers, 2 at \$2,100.....	4,200 00
Topographical Draughtsman.....	1,650 00
Clerk.....	2,350 00
Clerk.....	1,800 00
Clerk.....	1,350 00
Clerk.....	900 00
Law Clerk.....	1,500 00
Stenographer and Typewriter.....	1,050 00
Stenographers and Typewriters, 2 at \$900.....	1,800 00
Clerks, 2 at \$600.....	1,200 00
	27,000 00

60,300 00

986. Pay of Consulting Architects and Engineers.....	10,000 00
987. Contingencies.....	21,350 00

123,000 00

988. Pay of Consulting Architects and Engineers.....	10,000 00
989. Contingencies.....	21,350 00

123,000 00

990. Pay of Consulting Architects and Engineers.....	10,000 00
991. Contingencies.....	21,350 00

123,000 00

992. Pay of Consulting Architects and Engineers.....	10,000 00
993. Contingencies.....	21,350 00

123,000 00

## THE ARMORY BOARD.

## GENERAL ADMINISTRATION.

994. Salaries—	
Secretary.....	\$2,500 00
Assistant Clerk of Work.....	2,000 00
Stenographer and Typewriter.....	1,800 00
Inspector of Repairs and Supplies.....	1,200 00
Stenographer.....	1,200 00
Inspector of Masonry.....	1,200 00
Inspector and Weigher.....	750 00
	811,200 00

995. Contingencies.....	400 00
	811,200 00

811,200 00

811,200 00

## MAINTENANCE OF ARSENALS.

## Boroughs of Brooklyn and The Bronx.

996. Pay of Officers and Supplies	
Seventh Regiment.....	\$1,000 00
Eighth Coast Artillery District.....	5,000 00
Ninth Coast Artillery District.....	5,000 00
Twelfth Regiment.....	5,000 00
Twenty-second Regiment.....	5,000 00
Sixty-sixth Regiment.....	4,000 00
Seventy-first Regiment.....	4,500 00
Squadron "A".....	6,500 00
First Battery.....	3,000 00
Second Battery.....	1,500 00
First Company Signal Corps.....	1,000 00
Headquarters First Brigade.....	500 00
First Battalion Naval Militia.....	5,000 00
Headquarters Naval Militia.....	500 00
Headquarters N. G. N. Y. ....	400 00
Field Hospital.....	2,000 00
Headquarters First Battalion F. A. ....	250 00
	856,750 00

997. Contingencies.....	2,500 00
	856,750 00

856,750 00

856,750 00

## Boroughs of Brooklyn and Queens.

998. Pay of Officers and Supplies	
Thirteenth Coast Artillery District.....	\$0,500 00
Fourteenth Regiment.....	4,500 00
Twenty-third Regiment.....	5,750 00

1011. Pay of Officers and Supplies	
Forty-seventh Regiment.....	4,300 00
Squadron "C".....	5,000 00
Third Battery.....	3,000 00
Second Company Signal Corps.....	1,700 00
Second Battalion Naval Militia.....	4,300 00
Headquarters Second Brigade.....	500 00
Company "L" Tenth Regiment.....	1,500 00
	557,450 00

1012. Contingencies.....	1,500 00
	558,950 00

558,950 00

109,950 00

109,950 00

## FOR LIBRARY PURPOSES.

## New York Public Library, Astor, Lenox and Tilden Foundations.

1013. Salaries—	
Librarians and Assistants.....	\$112,340 00
Janitors' Wages.....	19,660 00
	132,000 00

1014. Books, Binding, etc.—	
Books.....	\$103,830 00
Periodicals.....	12,980 00
Binding.....	21,500 00
	138,310 00

1015. Supplies—	
Catalogue Materials.....	\$1,500 00
Printing.....	1,700 00
Postage, Stationery and Sundries.....	28,000 00
Janitors' Supplies and Cost of Cleaning.....	14,400 00
	45,600 00

1016. Telephone Service.....	2,000 00
	458,110 00

458,110 00

## Brooklyn Public Library.

1017. Salaries—	
Librarians and Assistants.....	\$193,712 00
Janitors' Wages.....	24,840 00
	218,552 00

1018. Books, Binding, etc.—	
Books.....	\$62,500 00
Periodicals.....	9,375 00
Binding.....	22,100 00
	93,975 00

93,975 00

Salaries—	
Deputy Clerks, 5 at \$2,000.	10,000 00
Interpreters, 2 at \$2,000.	4,000 00
Assistant Clerks, 15 at \$1,000.	15,000 00
Attendants, 22 at \$1,500.	33,000 00
	82,000 00
1038. Contingencies	2,000 00
1039. Police Detail—Salaries	1,400 00
	233,400 00

## CITY MAGISTRATES' COURTS, FIRST DIVISION.

1040. Salaries—	
City Magistrates, 16 at \$7,000.	112,000 00
Secretary to Board of Magistrates.	500 00
Police Clerks, 9 at \$2,500.	22,500 00
Assistant Police Clerks, 22 at \$2,000.	44,000 00
Stenographers, 11 at \$2,000.	22,000 00
Interpreters, 8 at \$1,500.	12,000 00
Attendant.	1,200 00
Female Probation Officers, 8 at \$900.	7,200 00
	221,400 00
1041. Supplies and Contingencies	4,000 00
1042. Police Detail—Salaries	129,000 00
	355,800 00

## CITY MAGISTRATES' COURTS, SECOND DIVISION.

1043. Salaries—	
City Magistrates, 10 at \$6,000.	60,000 00
City Magistrates, 6 at \$5,000.	30,000 00
Secretary to Board of Magistrates.	500 00
Police Clerks, 10 at \$2,500.	25,000 00
Police Clerks, 5 at \$2,000.	10,000 00
Assistant Clerks, 25 at \$1,800.	45,000 00
Stenographers, 10 at \$2,000.	20,000 00
Stenographers, 5 at \$1,800.	9,000 00
Interpreters, 8 at \$1,200.	9,600 00
Male Probation Officers, 5 at \$1,200.	6,000 00
Female Probation Officers, 10 at \$900.	9,000 00
Female Probation Officers, 5 at \$600.	3,000 00
	227,100 00
1044. Supplies and Contingencies	4,000 00
1045. Police Detail—Salaries	95,900 00
	328,000 00

## THE CITY OF NEW YORK.

## FOR CHARITABLE INSTITUTIONS.

## Conditions Governing Payments to Charitable Institutions.

The appropriations in this Budget are made subject to the following conditions:

1. The accounts and records of all charitable institutions receiving public moneys shall be so kept as to show all receipts, disbursements and population in such form as shall be satisfactory to the Comptroller. Records must show the address of parents, guardians or nearest relatives of inmates and other information designed to facilitate inquiry into their financial inability to make provision for dependents in the institutions.

2. Money received from the City Treasury shall be used by such institutions for recurring expenses of care, support, education and maintenance.

3. All institutions receiving public moneys and all their books of record and accounts shall at all reasonable times be open to the visitation, inspection and examination of duly authorized representatives of the Department of Finance and at all proper times the Department of Public Charities shall have access to the record of inmates.

4. Upon its appearing to the satisfaction of the Comptroller that it would be to the public interest to withhold payments to any charitable institution for which an apportionment has been made, he shall in his discretion suspend payments and give written notice to such institution of his intention to apply to the Board of Estimate and Apportionment for authority to cease making further payments, and upon the determination of said Board that such payments shall terminate, the right of any such institution to receive payment for services rendered thereafter shall thereupon end.

5. Except where appropriations are made in bulk and not upon the per capita basis, no payment shall be made for inmates of private charitable institutions unless the same shall have been accepted by the Commissioner of the Department of Public Charities as proper charges upon the City. Except in emergency cases in hospitals, the Commissioner of Charities shall not accept as proper charges against the City inmates capable of paying for their own support or for whose care adequate provision can be made in public hospitals. The City shall not be liable for any payment to charitable institutions in excess of the apportionment which may have been made to such institutions, notwithstanding any per capita rates of payment that may have been fixed for the inmates thereof.

6. All institutions receiving money from the City are required to state specifically the amount so received, as from the City Treasury, in their printed annual reports.

7. No money shall be paid to any private charitable institution which pays any salary to or gives any consideration, financial or of any kind, for services to, or that has any business dealing with, or secures goods or merchandise, directly or indirectly, from any officer or trustee or member of its Board of Managers.

8. That charitable institutions for children now carried in the Budget and not sending their inmates to the public schools, and not sharing in the Corporate School Fund, and not receiving teachers and school supplies from the Board of Education, but giving in their own buildings secular education to the children resident in the institutions, shall be paid a per capita of 7 cents per day, five school days in the week, for each child receiving such instruction of four years of age and over during ten months in the year. This money to be paid under the authorization of section 230 of the Charter, but under the general conditions relating to institutions receiving Corporate School money, as provided in section 1154.

9. Magistrates are requested to transfer dependent, and when judicious, no proper guardianship children, and all cases coming to their attention in the courts where no crime is proven against the child, to the Commissioner of Charities, who can commit to institutions. Magistrates are earnestly requested not to commit a dependent child to an institution on a court commitment.

10. The Commissioner of Charities is instructed to take such steps, either by appeal to the national authorities or by proper bills to the Legislature, as to provide that the children of emigrants abandoned within one year after arrival in this City be returned to the country whence they came.

11. In determining the acceptance of patients in private hospitals as proper charges (see Rule 5) the Commissioner of Charities shall first consider the nature of the service actually rendered to the patients by the hospitals. The records of the institutions and the bed-card notes showing the

treatment given shall be received as the essential evidence in deciding acceptances or rejections.

12. No dependent child under 16 years of age shall be accepted as a proper charge upon the City and no money will be paid for the care, support, maintenance or education of such child unless it shall have been lawfully committed to a suitable private charitable institution having its own plant and equipment for the proper protection and care of children, under the supervision of the State Board of Charities and has been placed in this Budget by the Board of Estimate and Apportionment.

This order has no relation to the class of children of such mental and physical condition as those cared for in the City Institution at Randall's Island.

13. The rates of payments to private charitable institutions, unless otherwise specially provided for, are fixed for the various classes of inmates as follows:

For infants under two (2) years of age, and in general hospitals under the age of five (5), per day.....	20 45
For dependent children from two (2) to sixteen (16) years of age, per week.....	2 25
For delinquent children, per annum.....	135 00
For children in cottages, additional per week.....	25
For adult inmates of reformatory, committed by the Courts, per annum.....	135 00
For inmates in homes for unfortunate and friendless women, per annum.....	110 00
*For homeless mothers nursing infants, per month.....	12 00
*For cases in maternity hospitals and emergency cases in general hospitals, per case.....	18 00
To hospitals for medical treatment, per day.....	1 00
To hospitals for surgical treatment, per day.....	1 10
To hospitals conducted exclusively for consumptive patients, per day.....	80
To hospitals for cancer patients, per day.....	80
For the chronic incurable or infirm, per day.....	40
For defective children in institutions maintained exclusively for such, per day.....	60
For disbursements in placing or indenturing children in permanent homes, per child.....	20 00
For unusual supervision of children placed in homes, per annum.....	5 00
For services of Custodian, first year, \$700; second year, \$1,050; thereafter, \$1,200 per annum.	

Payments are made to the following named institutions under Laws of 1901, chapter 466, section 230:

1046. Asylum of the Sisters of St. Dominic.....	\$82,474 66
1047. Asylum of St. Vincent de Paul.....	9,790 12
1048. Association for Befriending Children and Young Girls (House of the Holy Family).....	8,359 12
1049. American Female Guardian Society and Home for the Friendless— For the care and education of poor children in the Industrial Schools and in the Home School (in addition to the apportionment of Corporate School Fund), at a per capita of 70 cents per school month during 10 months in the year.....	42,664 40
1050. Brooklyn Howard Colored Orphan Asylum.....	23,624 74
1051. Brooklyn Training School and Home for Young Girls.....	2,181 84
1052. Bushwick and East Brooklyn Dispensary Association.....	250 00
1053. Brooklyn Industrial School Association and Home for Destitute Children.....	28,451 20
1054. Beth Israel Hospital.....	56,903 84
1055. Brooklyn Nursery and Infants' Hospital.....	10,716 92
1056. Brooklyn Hospital.....	20,117 60
1057. Bushwick Hospital.....	3,129 58
1058. Brooklyn Central Dispensary.....	250 00
1059. Brooklyn Eastern District Homopathic Dispensary.....	150 00
1060. Brooklyn Home for Consumptives.....	17,857 68
1061. Brooklyn Children's Aid Society.....	14,106 38
1062. For Sonnleit Home, payable in twelve monthly installments.....	3,500 00
1063. Brooklyn Society for the Prevention of Cruelty to Children.....	20,000 00
	Payable in twelve monthly installments.
1064. Brooklyn Hebrew Orphan Asylum.....	40,231 68
1065. Brooklyn City Dispensary.....	250 00
1066. Brooklyn Eastern District Dispensary and Hospital.....	8,141 42
1067. Brooklyn Catholic Protectory.....	17,500 00
1068. Colored Orphan Asylum and Association for the Benefit of Colored Children in The City of New York.....	23,331 72
1069. Columbus Hospital.....	13,161 88
	Church Charity Foundation of Long Island— Home for the Blind:
1070. For inmates accepted by the Department of Public Charities, at the rate of \$110 per annum each.....	492 38
1071. Orphan Home.....	5,229 32
1072. St. John's Hospital.....	7,570 84
1073. Children's Aid Society— For inmates accepted by the Department of Public Charities, to wit: For the care and education of poor children in the Industrial Schools (in addition to the apportionment of the Corporate School Fund), at a per capita of 70 cents per school month during ten months in the year. For the support and training of homeless boys and girls in the lodging houses and farm at a per capita of \$30 per annum each.....	70,000 00
1074. Catholic Home Bureau— Payable in twelve monthly installments.....	10,000 00
1075. Deutsche Poliklinik (Dispensary).....	250 00
1076. Dominican Convent of Our Lady of the Rosary.....	130,414 76
1077. Flushing Hospital and Dispensary.....	10,546 96
1078. Five Points House of Industry.....	29,556 74
1079. Gates Avenue Homeopathic Dispensary.....	250 00
1080. German Hospital of Brooklyn.....	9,285 84
1081. German Odd Fellows' Home and Orphan Asylum.....	9,183 32
1082. German Hospital and Dispensary.....	33,563 80
1083. Good Counsel Training School for Young Girls.....	7,495 10
1084. Hebrew Infant Asylum of The City of New York.....	13,169 92
1085. Hebrew Sheltering Guardian Society.....	11,252 80
1086. Hebrew Orphan Asylum.....	139,100 18
1087. House of Calvary.....	5,662 50

\* Institutions shall be paid \$18 for the care of the mother and child during fifteen days of her confinement, and for every day thereafter shall be paid at the rate of 45 cents per day for the support of the child, and also \$12 per month for the maintenance of the mother, if she remain in the institution nursing infant after the expiration of the fifteen days.

1088. House of Mercy.....	10,792.98	1169. The Osanam Home for Friendless Women.....	8,521.68
1089. Hope Farm .....	12,229.08	1170. Temporary Home for Children of Queens County, N. Y.....	2,457.90
House of St. Giles the Cripples—		1171. The Babies' Hospital of The City of New York.....	7,187.70
1090. For the care and maintenance of inmates accepted by the Department of Public Charities, at the rate of \$150 per annum each.....	8,876.92	1172. The Harlem Eye, Ear and Throat Infirmary.....	250.00
1091. House of the Good Shepherd.....	40,302.38	1173. The Society of the Lying-in Hospital of The City of New York.....	31,366.12
1092. Institution of Mercy .....	97,489.60	1174. The Mount Sinai Hospital of The City of New York.....	78,209.48
1093. Industrial School Association of Brooklyn, E. D.....	15,947.58	1175. The J. Hood Wright Memorial Hospital.....	9,925.48
1094. International Sunshine Society.....	3,015.60	(For Ambulance Service.)	
1095. Jamaica Hospital .....	8,832.50	1176. Payable in twelve monthly installments.....	2,400.00
1096. Lehman Hospital Association.....	34,381.64	1177. The Jewish Hospital.....	20,485.60
1097. Low Maternity (Branch of Brooklyn Hospital).....	1,478.98	1178. The Harlem Dispensary.....	250.00
1098. Long Island College Hospital.....	21,855.30	1179. The Brooklyn Eye and Ear Hospital.....	4,942.40
1099. Lutheran Hospital Association (City of New York and vicinity).....	2,949.20	1180. The S. R. Smith Infirmary.....	16,112.32
1100. Lincoln Hospital and Home.....	82,000.00	(For Ambulance Service.)	
(For Ambulance Service).		1181. Payable in twelve monthly installments.....	1,200.00
1101. Payable in monthly installments.....	2,400.00	1182. The Jewish Protectory and Aid Society.....	30,638.20
1102. Missionary Sisters Third Order of St. Francis.....	115,930.88	1183. The Swedish Hospital in Brooklyn.....	4,637.70
1103. Mission of the Immaculate Virgin for the Protection of Homeless and Destitute Children.....	165,445.86	1184. Williamsburgh Hospital .....	7,385.16
1104. Methodist Episcopal Hospital in the City of Brooklyn.....	6,361.28	1185. Washington Square Home for Friendless Girls.....	1,708.88
1105. Maternity of the Long Island College Hospital.....	1,008.96	1186. West Side German Dispensary.....	250.00
1106. Mary Immaculate Hospital.....	13,620.10	1187. Wilson Industrial School for Girls.....	1,000.00
1107. Miserendino Hospital .....	22,094.38	For inmates accepted by the Department of Public Charities, to wit: For the care and education of poor children in the Industrial School at a per capita of 70 cents per school month during 10 months in year.	
1108. Manhattan Eye, Ear and Throat Hospital.....	7,951.10	1188. Wayside Home .....	3,431.30
1109. New York Catholic Protectory.....	388,026.06	1189. Washington Heights Hospital.....	3,546.40
1110. New York Juvenile Asylum.....	55,905.46	1190. Yorkville Dispensary and Hospital for Women and Children.....	2,861.80
1111. New York Infant Asylum.....	114,570.86	1191. Hospital for Deformities and Joint Diseases.....	3,600.00
1112. New York Foundling Hospital.....	345,379.90	1192. New York Medical College and Hospital for Women.....	3,000.00
1113. Nursery and Child's Hospital.....	4,063.36	1193. New York Red Cross Hospital.....	5,000.00
1114. New York Eye and Ear Infirmary.....	31,385.10	1194. Brooklyn Home for Blind, Crippled and defective Children.....	15,000.00
1115. New York Post-Graduate Medical School and Hospital.....	23,244.06	1195. Rockaway Beach Hospital and Dispensary.....	3,000.00
1116. Northwestern Dispensary .....	250.00	1196. Cunard Home for Friendless Jewish Children.....	4,000.00
1117. Northern Dispensary of The City of New York.....	280.00	1197. Arrearages for Charitable Institutions for the year 1908.....	288,000.00
1118. New York Polyclinic Medical School and Hospital.....	5,489.20	1198. For Ambulances in the Boroughs of Brooklyn and Queens.....	23,325.00
1119. New York Homeopathic Medical College and Hospital.....	13,351.60		4,760,650.92
1120. New York Infirmary for Women and Children.....	3,552.98	RENTS.	
1121. New York Ophthalmic Hospital.....	6,601.00	1199. Rents .....	982,348.31
1122. New Amsterdam Eye and Ear Hospital.....	350.00	MISCELLANEOUS—CITY.	
1123. Norwegian Lutheran Deaconesses' Home and Hospital.....	10,236.92	1200. Advertising, not otherwise provided for, including Arrangements.....	\$175,000.00
1124. Northeastern Dispensary in The City of New York.....	250.00	1201. Corporation Advertising, Borough of Brooklyn.....	100,000.00
1125. New York Magdalen Benevolent Society.....	4,792.86	1202. Commissioners of the Sinking Fund, Expenses of.....	17,000.00
1126. New York Society for the Prevention of Cruelty to Children.....	50,000.00	1203. Inspectors and Sealers of Weights and Measures.....	30,000.00
Payable in twelve monthly installments.		1204. Salaries of General Interpreters, Borough of Brooklyn.....	12,000.00
1127. New York Ophthalmic and Aural Institute.....	250.00	1205. Board of Building Examiners, Expenses of.....	11,000.00
1128. Orphan Home (Brooklyn).....	87,284.86	1206. United States Volunteer Life Saving Corps.....	10,000.00
1129. Orphan Asylum Society of the City of Brooklyn.....	16,801.08	1207. For Expenses of the Art Commission.....	7,000.00
1130. Orphan Asylum.....	1,984.14	1208. For Collating, Copying and Indexing Old Records of Kings County.....	6,000.00
1131. Peabody Home for Aged and Indigent Women.....	4,512.00	1209. For Costs of Commitments of Insane Persons, pursuant to Chapter 545, Laws of 1896.....	5,000.00
For the care and maintenance of inmates accepted by the Department of Public Charities at the rate of 40 cents per diem.		1210. Widows and Orphans' Fund of Volunteer Fire Departments, Towns of Flatbush, Gerritsen, New Utrecht and Flushing.....	6,000.00
1132. Prospect Heights Hospital and Brooklyn Maternity.....	800.00	1211. Widows and Orphans' Fund of Volunteer Fire Departments, Borough of Brooklyn (Chapter 647, Laws of 1901).....	5,000.00
1133. Roman Catholic Orphan Asylum Society, St. Joseph's Female Orphan Asylum; Roman Catholic Orphan Asylum Society, St. John's Home.....	201,131.98	1212. Municipal Explosives Commission, Expenses of.....	4,000.00
1134. Richmond County Society for the Prevention of Cruelty to Children.....	1,000.00	1213. Memorial Day Observances, Borough of Manhattan.....	3,000.00
Payable in twelve monthly installments.		1214. Memorial Day Observances, Borough of Brooklyn.....	3,000.00
1135. Roman Catholic House of the Good Shepherd.....	10,144.84	1215. Board of Parole .....	3,000.00
1136. St. Mark's Hospital of New York City.....	1,372.68	1216. Memorial Committee of the United Spanish War Veterans (Chapter 360, Laws of 1906).....	1,000.00
1137. St. Mary's Maternity and Infants' Home.....	17,932.70	1217. Kings County Volunteer Firemen's Association (Chapter 638, Laws of 1895).....	1,000.00
1138. St. Christopher's Hospital for Babies.....	1,258.98	1218. Hudson-Fulton Celebration Commission, Expenses of.....	1,000.00
1139. St. Mary's General Hospital of the City of Brooklyn.....	26,210.92	1219. For the Sixteenth Installment on Account of Sea Breeze Avenue, in the Borough of Brooklyn .....	988.44
1140. St. Peter's Hospital.....	13,951.79	1220. Allowance to Veteran Associations for Decoration Day Observances, Borough of Brooklyn, pursuant to Chapter 18, Laws of 1897.....	919.00
1141. St. Catharine's Hospital .....	13,645.22	1221. Annual Compensation to John T. Mayers, a former employee of the Fire Department, for damages (Chapter 372, Laws of 1903).....	800.00
1142. Society for the Aid of Friendless Women and Children.....	7,639.98	1222. Memorial Day Observances, Borough of The Bronx.....	800.00
1143. St. John's Long Island City Hospital.....	10,511.06	1223. Memorial Committee of the Army and Navy Union (Chapter 366, Laws of 1906).....	700.00
1144. St. Rita's Home for Friendless Women.....	6,000.00	1224. Memorial Day Observances, Borough of Queens.....	300.00
1145. St. John's Guild.....	12,500.00	1225. Memorial Day Observances, Borough of Richmond.....	300.00
Payable in twelve monthly installments.		1226. School Census Board (Chapter 349, Laws of 1908).....	10,000.00
1146. Sanitarium for Hebrew Children.....	7,100.00	1227. Staten Island Association of Arts and Sciences.....	4,000.00
Payable in twelve monthly installments.		1228. Board of Revision of Assessments.....	6,000.00
1147. St. Vincent's Hospital of The City of New York.....	15,754.42		626,385.48
(For ambulance service.)		MUNICIPAL COURTS, CITY OF NEW YORK	
1148. Payable in twelve monthly installments.....	3,000.00	BOROUGH OF MANHATTAN	
1149. St. Joseph's Hospital (Queens).....	9,991.20	First District Court.	
1150. St. Gregory's Emergency Hospital.....	7,453.20	1228. Salaries—	
1151. Sydenham Hospital .....	10,728.30	Justices, 3 at \$8,000.....	\$24,000.00
1152. St. Joseph's Hospital (New York City).....	25,462.80	Clerk .....	3,000.00
1153. St. Francis Hospital.....	96,261.90	Deputy Clerk .....	3,000.00
1154. Sacred Heart Orphan Asylum.....	11,097.92	Assistant Clerks, 5 at \$3,000.....	15,000.00
1155. St. Agatha Home for Children.....	71,697.64	Stenographers, 3 at \$2,000.....	6,000.00
1156. St. Michael's Home .....	25,992.46	Interpreters, 2 at \$1,500.....	3,000.00
1157. St. Joseph's Asylum .....	99,771.72	Attendants, 9 at \$1,200.....	10,800.00
1158. St. Ann's Home for Destitute Children.....	39,508.14	Contingencies .....	600.00
1159. St. Malachy's Home.....	107,074.64		\$63,400.00
1160. Sheltering Arms Nursery of Brooklyn.....	3,839.30	Second District Court.	
1161. St. Anne's Maternity Hospital.....	17,285.46	1229. Salaries—	
1162. Seton Hospital, New York City.....	103,321.52	Justices, 4 at \$8,000.....	\$32,000.00
1163. St. Agnes' Hospital for Crippled and Atrial Children.....	40,100.00	Clerk .....	3,000.00
1164. St. Vincent's Hospital, Borough of Richmond.....	20,226.70	Deputy Clerk.....	3,000.00
(For Ambulance Service.)		Assistant Clerks, 10 at \$1,000.....	20,000.00
1165. Payable in twelve monthly installments.....	1,200.00		
1166. Samaritan Hospital of Brooklyn.....	901.20		
1167. The Convent of the Sisters of Mercy in Brooklyn.....	133,737.74		
1168. The New York Society for the Relief of the Ruptured and Crippled .....	23,544.72		
For the Care and maintenance of inmates accepted by the Department of Public Charities at the rate of \$200 each per annum.			

Salaries—		Salaries—	
Stenographers, 4 at \$2,000.....	8,000 00	Assistant Clerk.....	3,000 00
Interpreters, 4 at \$1,500.....	6,000 00	Stenographer .....	2,000 00
Attendants, 15 at \$1,200.....	18,000 00	Interpreter .....	1,500 00
1230. Contingencies .....	400 00	Attendants, 3 at \$1,200.....	3,600 00
	<u>100,000 00</u>	1248. Contingencies .....	200 00
Third District Court.			
1231. Salaries—		Borough of Brooklyn.	
Justices, 2 at \$8,000.....	\$16,000 00	First District Court.	
Clerk .....	3,000 00	1249. Salaries—	
Deputy Clerk.....	3,000 00	Justice .....	\$8,000 00
Assistant Clerks, 2 at \$3,000.....	6,000 00	Clerk .....	3,000 00
Stenographers, 2 at \$2,000.....	4,000 00	Deputy Clerk .....	3,000 00
Interpreters, 2 at \$1,500.....	3,000 00	Stenographer .....	2,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1232. Contingencies .....	400 00	Attendants, 6 at \$1,200.....	7,200 00
	<u>42,000 00</u>	1250. Contingencies .....	200 00
Fourth District Court.			
1233. Salaries—		Second District Court.	
Justices, 2 at \$8,000.....	\$16,000 00	1251. Salaries—	
Clerk .....	3,000 00	Justices, 2 at \$8,000.....	\$16,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 3 at \$3,000.....	9,000 00	Deputy Clerk .....	3,000 00
Stenographers, 2 at \$2,000.....	4,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1234. Contingencies .....	200 00	Attendants, 2 at \$1,200.....	3,600 00
	<u>43,900 00</u>	1252. Contingencies .....	200 00
Fifth District Court.			
1235. Salaries—		Third District Court.	
Justices, 3 at \$8,000.....	\$24,000 00	1253. Salaries—	
Clerk .....	3,000 00	Justices, 2 at \$8,000.....	\$16,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 2 at \$3,000.....	6,000 00	Deputy Clerk .....	3,000 00
Stenographers, 3 at \$2,000.....	6,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1236. Contingencies .....	200 00	Attendants, 2 at \$1,200.....	3,600 00
	<u>50,900 00</u>	1254. Contingencies .....	200 00
Sixth District Court.			
1237. Salaries—		Fourth District Court.	
Justices, 2 at \$8,000.....	\$16,000 00	1255. Salaries—	
Clerk .....	3,000 00	Justice .....	\$8,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 2 at \$3,000.....	6,000 00	Deputy Clerk .....	3,000 00
Stenographers, 2 at \$2,000.....	4,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1238. Contingencies .....	200 00	Attendants, 2 at \$1,200.....	3,600 00
	<u>40,900 00</u>	1256. Contingencies .....	200 00
Seventh District Court.			
1239. Salaries—		Fifth District Court.	
Justices, 3 at \$8,000.....	\$24,000 00	1257. Salaries—	
Clerk .....	3,000 00	Justice .....	\$8,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 3 at \$3,000.....	9,000 00	Deputy Clerk .....	3,000 00
Stenographers, 3 at \$2,000.....	6,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1240. Contingencies .....	200 00	Attendants, 3 at \$1,200.....	3,600 00
	<u>53,900 00</u>	1258. Contingencies .....	200 00
Eighth District Court.			
1241. Salaries—		Sixth District Court.	
Justices, 2 at \$8,000.....	\$16,000 00	1259. Salaries—	
Clerk .....	3,000 00	Justices, 2 at \$8,000.....	\$16,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 2 at \$3,000.....	6,000 00	Deputy Clerk .....	3,000 00
Stenographers, 2 at \$2,000.....	4,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1242. Contingencies .....	200 00	Attendants, 3 at \$1,200.....	3,600 00
	<u>45,900 00</u>	1260. Contingencies .....	200 00
Ninth District Court.			
1243. Salaries—		Seventh District Court.	
Justices, 4 at \$8,000.....	\$32,000 00	1261. Salaries—	
Clerk .....	3,000 00	Justices, 2 at \$8,000.....	\$16,000 00
Deputy Clerk.....	3,000 00	Clerk .....	3,000 00
Assistant Clerks, 2 at \$3,000.....	6,000 00	Deputy Clerk .....	3,000 00
Stenographers, 4 at \$2,000.....	8,000 00	Assistant Clerks, 2 at \$3,000.....	6,000 00
Interpreter .....	1,500 00	Stenographers, 2 at \$2,000.....	4,000 00
Attendants, 6 at \$1,200.....	7,200 00	Interpreter .....	1,500 00
1244. Contingencies .....	200 00	Attendants, 3 at \$1,200.....	3,600 00
	<u>60,000 00</u>	1262. Contingencies .....	200 00
	<u>\$503,000 00</u>		<u>\$0,900 00</u>
Borough of the Bronx.			
First District Court.			
1245. Salaries—		Borough of Queens.	
Justice .....	\$8,000 00	First District Court.	
Clerk .....	3,000 00	1263. Salaries—	
Assistant Clerk.....	3,000 00	Justice .....	\$7,000 00
Stenographer .....	2,000 00	Clerk .....	3,000 00
Attendants, 5 at \$1,200.....	3,000 00	Assistant Clerk .....	2,000 00
1246. Contingencies .....	200 00	Stenographer .....	2,000 00
	<u>\$19,000 00</u>	Attendants, 2 at \$1,200.....	2,400 00
Second District Court.			
1247. Salaries—		1264. Contingencies .....	
Justice .....	\$8,000 00		<u>\$15,600 00</u>
Clerk .....	3,000 00		

	Second District Court.	
1265. Salaries—		
Justice	\$7,000.00	
Clerk	3,000.00	
Assistant Clerk	2,000.00	
Stenographer	2,000.00	
Attendants, 4 at \$1,200	4,800.00	
1266. Contingencies	200.00	
		15,800.00

	Third District Court.	
1267. Salaries—		
Justice	\$7,000.00	
Clerk	2,000.00	
Assistant Clerk	2,000.00	
Stenographer	2,000.00	
Attendants, 2 at \$1,200	2,400.00	
1268. Contingencies	200.00	
		15,800.00
		30,800.00

	Borough of Richmond.	
	First District Court.	
1269. Salaries—		
Justice	\$7,000.00	
Clerk	2,000.00	
Assistant Clerk	2,000.00	
Stenographer	2,000.00	
Attendants, 2 at \$1,200	2,400.00	
1270. Contingencies	200.00	
		41,600.00

	Second District Court.	
1271. Salaries—		
Justice	\$7,000.00	
Clerk	2,000.00	
Assistant Clerk	2,000.00	
Stenographer	2,000.00	
Attendants, 2 at \$1,200	2,400.00	
1272. Contingencies	200.00	
		15,600.00
		31,200.00

	Miscellaneous.	
1273. Compensation for Assignment of Justices from Boroughs of Queens and Richmond to the Boroughs of Manhattan and The Bronx	\$1,000.00	
1274. Compensation for Assignment of Justices from the Boroughs of Queens and Richmond to the Borough of Brooklyn	1,000.00	
1275. Compensation of Clerk Acting as Secretary to Board of Justices	1,000.00	
1276. Compensation of Attendant Designated as Attendant to Board of Justices	100.00	
1277. Contingencies to Board of Justices	400.00	
		4,800.00
		84,100.00

	COURT OF SPECIAL SESSIONS, FIRST DIVISION.	
1278. Salaries—		
Justices, 6 at \$8,000	\$48,000.00	
Clerk	3,000.00	
Deputy Clerk	3,000.00	
Deputy Clerk	2,000.00	
Court Stenographer	3,000.00	
Interpreter	3,000.00	
Stenographer and Typewriter	3,300.00	
Clerks, 2 at \$1,500	3,000.00	
Clerk	1,200.00	
Process Servers, 3 at \$1,200	6,000.00	
Clerk	1,000.00	
Clerk	720.00	
Male Probation Officer	1,500.00	
Female Probation Officer	1,200.00	
		88,470.00
1279. Contingencies	3,000.00	
1280. Police Detail—Salaries	18,200.00	
		108,170.00

	CHILDREN'S COURT, FIRST DIVISION.	
1281. Salaries—		
Clerk	\$3,000.00	
Deputy Clerk	2,720.00	
Stenographer	2,500.00	
Assistant Clerk	2,200.00	
Interpreter	1,900.00	
Clerk	1,600.00	
Attendant	1,000.00	
		\$18,100.00
1282. Contingencies	750.00	
1283. Police Detail—Salaries	10,400.00	
		26,250.00

	COURT OF SPECIAL SESSIONS, SECOND DIVISION.	
1284. Salaries—		
Justices, 6 at \$8,000	\$48,000.00	
Clerk	3,000.00	
Deputy Clerk	2,500.00	
Assistant Clerk	1,500.00	
Clerk, Borough of Queens	2,000.00	
Clerk, Borough of Richmond	2,000.00	
Stenographer	2,000.00	
Interpreter	2,000.00	
Interpreter	1,200.00	

	Salaries—	
	Court Attendant	1,500.00
	Court Attendant, 6 at \$1,200	7,200.00
	Probation Officer (Female)	1,200.00
	Probation Officer (Male)	1,200.00
	Clerk	1,200.00
		\$64,500.00
1285. Supplies and Contingencies		2,000.00
1286. Police Detail—Salaries		9,000.00
		76,400.00

	CHILDREN'S COURT, SECOND DIVISION.	
1287. Salaries—		
Clerk	\$3,000.00	
Deputy Clerk	2,000.00	
Court Stenographer	2,000.00	
Assistant Clerk	1,800.00	
Interpreter	1,800.00	
Court Attendant	1,200.00	
		\$11,800.00
1288. Supplies and Contingencies		1,000.00
1289. Police Detail—Salaries		5,000.00
		18,400.00

	PRESIDENT, BOROUGH OF MANHATTAN.	
	GENERAL ADMINISTRATION.	
1293. Salaries—		
Borough President	\$7,500.00	
Commissioner of Public Works	6,000.00	
Assistant Commissioner of Public Works	5,000.00	
Borough Secretary	4,000.00	
Auditor	4,000.00	
Secretary to Commissioner of Public Works	2,500.00	
Executive Clerk	2,400.00	
Cashier	2,400.00	
Clerks, 4 at \$1,400	9,600.00	
Clerks, 3 at \$2,100	6,300.00	
Clerk	1,800.00	
Clerks, 3 at \$1,300	7,500.00	
Clerk	1,200.00	
Clerk	1,000.00	
Clerk	900.00	
Stenographer and Typewriter	2,100.00	
Stenographer and Typewriter to Borough President	1,500.00	
Stenographers and Typewriters	1,500.00	
Stenographers and Typewriters, 2 at \$1,200	2,400.00	
Messenger	1,500.00	
Messenger	1,200.00	
Telephone Operator	1,050.00	
1294. Contingencies		5,000.00
		57,400.00

	BUREAU OF EXCISES OR STREET OPENINGS.	
1295. Salaries—		
Engineer of Street Openings	\$5,000.00	
Clerk	2,100.00	
Topographical Draughtsman, 3 at \$1,650	4,950.00	
Mechanical Draughtsman	1,650.00	
Architectural Draughtsman	1,650.00	
Topographical Draughtsmen, 2 at \$1,500	3,000.00	
Transitmen and Computers, 2 at \$1,800	5,400.00	
Sounder	900.00	
Axemen, 11 at \$900	9,900.00	
		\$34,550.00
1296. Contingencies		3,180.00
		37,730.00

	BUREAU OF HIGHWAYS.	
	Administration.	
1297. Salaries, Superintendent, Clerks and Office Force		
Superintendent	\$5,000.00	
Clerk	2,350.00	
Clerk	2,400.00	
Clerks, 2 at \$1,800	3,600.00	
Clerks, 6 at \$1,500	9,000.00	
Clerks, 4 at \$1,200	4,800.00	
Clerks, 2 at \$1,050	2,100.00	
Clerks, 3 at \$900	1,800.00	
Inspector	1,800.00	
Inspectors, 2 at \$1,500	3,000.00	
General Inspector	3,000.00	
General Inspector	2,550.00	
Confidential Inspector	1,80	

Salaries and Wages—	
Assistant Engineer	2,100 00
Redman	1,200 00
Topographical Draughtsmen, 2 at \$1,300	3,000 00
Axeman	900 00
	13,750 00
1298. General Supplies	1,200 00
1299. Contingencies	4,540 00
1300. Flagging Sidewalks and Fencing Vacant Lots in Front of City Property	1,600 00
• Viaducts, Maintenance and Repairs of	
1301. Salaries and Wages	4,998 00
1302. General Supplies	3,000 00
• Street Signs, Maintenance of	
1303. General Supplies	4,960 00
1304. Maintenance of Highways	792,205 58
	205,603 58

## BUREAU OF INCUMBRANCES.

Salaries and Wages—	
Superintendent	\$3,000 00
Clerk	2,100 00
Clerk	1,200 00
Inspectors, 6 at \$1,200	7,200 00
Foreman	1,200 00
Keeper	900 00
Foreman	1,095 50
Laborers	1,365 00
	18,260 50
1305. Contingencies	7,000 00
	25,260 50

## BUREAU OF SEWERS.

## Administration.

1307. Salaries—Superintendent, Clerks and Office Force—	
Superintendent	\$5,000 00
Secretary	2,850 00
Bookkeeper	2,550 00
Clerk	1,800 00
Clerk	1,300 00
Cashier	1,800 00
Stenographers and Typewriters, 3 at \$1,200	3,600 00
Messenger	1,200 00
Telephone Operator	900 00
Superintendent of Maintenance	3,000 00
General Inspector	3,000 00
Superintendent of Construction	2,550 00
Inspectors of Construction, 2 at \$1,500	3,000 00
Inspectors of Construction, 4 at \$1,200	4,800 00
Inspector of Masonry	2,184 00
Cleaner	720 00
	49,554 00

## Division of Engineers.

1310. Salaries and Wages	27,200 00
1308. General Supplies	1,000 00
1309. Contingencies	2,320 00
1311. Maintenance, Including Cleaning and Repairs	282,123 04
	352,197 04

## BUREAU OF PUBLIC BUILDINGS AND OFFICES.

## Administration.

1312. Salaries—Superintendent, Clerks and Office Force—	
Superintendent	\$5,000 00
Clerk	2,400 00
Clerk	1,800 00
Clerks, 2 at \$1,300	3,000 00
Stenographer and Typewriter	1,030 00
Mechanical Engineer	1,800 00
Architectural Draughtsman	1,500 00
	16,550 00
1313. General Supplies	200 00
1314. Contingencies	1,000 00

## General Maintenance.

1315. Salaries and Wages—Mechanical Force—	
Foreman Plumber, at \$3 per day	\$1,565 00
Carpenters, not to exceed \$5 per day	7,825 00
Cabinet Makers, not to exceed \$6 per day	8,628 00
Saw Fitter, \$4.50 per day	1,408 00
Varnishers, at \$4 per day	3,600 00
Ship Caulker, at \$3.50 per day	1,277 50
Plumber, not to exceed \$5 per day	1,505 00
Steam Fitter, not to exceed \$5 per day	1,825 00
Plumber's Apprentice, at \$2.50 per day	912 50
Steam Fitter's Helper, at \$2.50 per day	912 50
Foreman Bricklayer, at \$6 per day	2,190 00
Lineman, at \$3.50 per day	1,095 50
Wiremen, not to exceed \$4.50 per day	2,736 00
Tinsmiths, at \$4.50 per day	2,700 00
Tin Roofer, at \$4.50 per day	1,350 00
Tar Roofer, at \$3.75 per day	1,125 00
	41,715 00

## Maintenance of Public Buildings and Offices.

1316. Salaries and Wages—Labor Force—	
Departmental Inspector	\$2,100 00
Inspector	750 00
Janitors, 5 at \$1,200	6,000 00
Janitors, 2 at \$1,050	2,100 00

## Salaries and Wages—Labor Force—

Janitors, 5 at \$900	4,500 00
Watchmen, 2 at \$900	1,800 00
Attendant	750 00
Attendants, 2 at \$720	1,440 00
Cleaner, female	600 00
Cleaners, female, 217 at \$260	78,128 00
Telephone Operators, 3 at \$900	2,700 00
Engineers, not to exceed \$5 per day	39,802 50
Firemen, at \$3 per day	33,040 00
Oilers, at \$3 per day	4,380 00
General Foreman	3,443 00
Foremen	24,580 00
Foremen, Elevators	4,069 00
Assistant Foreman	1,878 00
Assistant Foremen, Elevators	3,286 50
Elevator Attendants	26,663 25
Attendants	12,311 50
Cleaners, female	3,356 00
Cleaners, male	25,840 00
Sweeper	782 50
Plagger, at \$4.50 per day	1,350 00
Laborers	70,973 50
Watchman	1,825 00
	361,040 75
1317. General Supplies	30,200 00
1318. Materials for Repairs and Replacements by Departmental Labor	5,000 00
1319. Repairs and Replacements by Contract or Open Orders	96,200 00
1320. Fuel	53,000 00
1321. Hired Teams, Horses and Carts	28,392 00
1322. Telephones, Rental of	11,800 00
1323. Contingencies	9,000 00
Maintenance of Public Baths and Comfort Stations	
1324. Salaries and Wages—	
Superintendent and Labor Force	
Superintendent	\$2,350 00
Foreman	1,733 75
Assistant Foreman	1,095 00
Bath Attendants	11,862 50
Bath Attendants, male	15,625 00
Bath Attendants, female	10,000 00
Interior Baths	
Engineers, at \$4.50 per day	22,850 00
Stokers, at \$3 per day	24,000 00
Bath Attendants	106,945 00
Laborer	1,095 00
Cleaner	365 00
Public Comfort Stations	
Foreman	2,920 00
Assistant Foreman	1,095 00
Laborers	2,737 50
Cleaners	2,372 50
Attendants	36,500 00
Bath Attendants	2,007 50
	255,843 75
1325. General Supplies	4,000 00
1326. Materials for Repairs and Replacements by Departmental Labor	1,000 00
1327. Repairs and Replacements by Contract or Open Orders	25,000 00
1328. Apparatus, Machinery, Vehicles, Horses; Equipment, Care and Storage of	4,500 00
1329. Fuel	40,000 00
1330. Contingencies	1,900 00
	987,361 50

## BUREAU OF BUILDINGS.

## Administration.

1331. Salaries, Superintendents, Clerks and Office Force—	
Superintendent	\$5,000 00
Assistant Superintendent	4,000 00
Secretary to Superintendent	2,500 00
Chief Clerk	3,000 00
Assistant Chief Clerk	2,000 00
Clerk	3,000 00
Clerk	2,400 00
Clerk	2,350 00
Clerks, 4 at \$1,800	7,200 00
Clerks, 7 at \$1,500	10,500 00
Clerks, 2 at \$1,350	2,700 00
Clerks, 10 at \$1,200	12,000 00
Clerks, 2 at \$1,050	2,100 00
Clerks, 7 at \$900	6,300 00
Stenographers and Typewriters, 3 at \$1,500	4,500 00
Stenographers and Typewriters	1,200 00
Stenographers and Typewriters, 2 at \$1,050	2,100 00
Cleaners, 3 at \$400	2,000 00
Telephone Operator	900 00
Watchmen, 3 at \$600	1,800 00
Automobile Engineers	1,200 00
	57,750 00

## Field and Inspection Force.

1332. Salaries and Wages, Chief Inspector, Inspectors, Engineers, etc.	
Chief Inspector of Buildings	\$4,000 00
Confidential Examiner	1,200 00

Salaries and Wages, Chief Inspector, Inspectors, Engineers, etc.—	
Messenger	1,500 00
Messengers, 3 at \$1,200	3,600 00
Messengers, 3 at \$1,050	3,150 00
Driver	1,000 00
Assistant Engineer	4,000 00
Assistant Engineers, 2 at \$2,550	5,100 00
Assistant Engineer	2,400 00
Inspectors of Masonry and Carpentry, 2 at \$2,400	4,800 00
Inspectors of Masonry and Carpentry, 3 at \$1,500	32,500 00
Inspector of Masonry and Carpentry	1,350 00
Inspectors of Masonry and Carpentry, 4 at \$1,200	4,800 00
Inspectors of Iron and Steel Construction, 3 at \$1,500	12,000 00
Inspectors of Elevators, 11 at \$1,500	16,500 00
Inspector of Elevators	1,250 00
Inspectors of Elevators, 3 at \$1,200	9,600 00
Inspector of Plumbing	2,550 00
Inspectors of Plumbing, 18 at \$1,500	27,000 00
Inspectors of Plumbing, 3 at \$1,350	4,050 00
Inspectors of Plumbing, 2 at \$1,200	2,400 00
	206,100 00
1333. General Supplies	900 00
1334. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same	3,900 00
1335. Contingencies	3,120 00
	292,850 00
1336. Police Detail—Salaries	28,465 00
	2,697,868 62

## PRESIDENT, BOROUGH OF THE BRONX.

## GENERAL ADMINISTRATION.

1336. Salaries—	
President	37,500 00
Commissioner of Public Works	3,000 00
Assistant Commissioner of Public Works	4,000 00
Secretary	4,000 00
Chief Clerk	3,500 00
General Bookkeeper	3,300 00
Secretary to Commissioner of Public Works	3,000 00
Clerk in the President	2,400 00
Clerks, 2	4,800 00
Clerk (Property)	1,950 00
Clerks, 2	3,900 00
Clerks, 2	3,600 00
Clerks, 2	3,300 00
Clerk	2,300 00
Stenographer and Typewriter	1,800 00
Stenographer and Typewriter	1,200 00
Stenographer to the President	1,500 00
Messenger	1,250 00
Junior Clerk	600 00
	139,000 00

1337. Salaries, Chief Engineer, Deputy Chief Engineer and Office Staff—	
Chief Engineer	47,500 00
Deputy Chief Engineer	5,000 00
Clerk	2,250 00
Clerk	1,650 00
Typewriter	1,200 00
Stenographer and Typewriter	1,200 00
Clerk	1,050 00
Clerk	750 00
	30,600 00

1338. General Supplies	500 00
	139,100 00

## TOPOGRAPHICAL BUREAU.

## Maps for Street Openings.

1339. Salaries and Wages	663,000 00
1340. General Supplies	1,000 00
1341. Contingencies	500 00

## BUREAU OF HIGHWAYS.

## Administration.

1342. Salaries—	
Superintendent of Highways	4,000 00
Clerk	2,400 00
Clerk	1,800 00
Clerks, 2	3,300 00
Clerks, 3	4,500 00
Clerk	1,350 00
Clerks, 2	2,400 00
Clerk	900 00
General Inspector	2,400 00
General Inspectors and Foremen, 2	4,200 00
Messenger	1,200 00
Attendant	1,500 00
Attendant	1,200 00
Attendants, 2	1,800 00
Permit Clerk	1,950 00
Clerk	2,100 00
Clerk	1,800 00
Clerk	1,500 00
Cashier	1,800 00

Salaries—	
Leveler	1,400 00
Inspectors Regulating, Grading and Paving, 2	3,000 00
	44,000 00
1343. Maintenance of Highways	587,576 00
Removing Incumbrances	
1344. Salaries and Wages—	
Inspectors, 1	\$1,000 00
Watchmen	1,500 00
	4,500 00
Division of Engineering	
1345. Salaries and Wages	57,000 00
	695,576 00
BUREAU OF SEWERS.	
Administration	
1346. Salaries—	
Engineer in Charge of Sewers (in part)	\$1,000 00
Superintendent of Sewers	4,000 00
Principal Assistant Engineer of Sewers (in part)	500 00
Stenographer and Typewriter	1,500 00
Stenographer and Typewriter	1,200 00
Clerk	2,250 00
Clerks, 2	3,000 00
Inspectors of Sewer Connections, 4	6,000 00
Inspectors of Sewers, 2	3,000 00
Inspector of Masonry	1,500 00
Messenger	1,200 00
	\$25,150 00
Boring Examinations	
1347. Salaries and Wages—	
Principal Assistant Engineer of Sewers (in part)	\$800 00
Foreman of Sounders	1,650 00
Foremen, at \$4 per day	3,648 00
Labourers, at \$1.50 per day	15,200 00
	21,298 00
1348. Contingencies	1,620 00
Preliminary Surveys, Estimates, etc.	
1349. Salaries and Wages	45,500 00
1350. Maintenance, Including Cleaning and Repairs	135,314 28
	228,281 28
BUREAU OF PUBLIC BUILDINGS AND OFFICES.	
Administration	
1351. Salaries—	
Superintendent	\$4,000 00
Foreman of Mechanics	1,500 00
Lineman	1,200 00
Telephone Switchboard Operator	900 00
Clerks, 2	2,700 00
	\$10,300 00
Maintenance, Salaries and Wages	
1352. Mechanical Force—	
Painters, not to exceed \$4.50 per day	\$2,817 00
Plasterers, not to exceed \$5.50 per day	1,721 50
Carpenters, not to exceed \$5 per day	3,000 00
Tinsmith, not to exceed \$4.50 per day	1,408 50
Machinist, not to exceed \$4.50 per day	1,408 50
Mechanic's Helper, not to exceed \$3.50 per day	1,095 50
Hausmith, not to exceed \$4.50 per day	1,502 00
Bricklayer, not to exceed \$5.50 per day	4,505 00
Engineers, not to exceed \$4.50 per day	3,250 00
Firemen, not to exceed \$3 per day	1,272 00
Stoker, not to exceed \$3 per day	636 00
	\$20,616 60
1353. Laboring Force—	
Foreman of Laborers	\$1,400 00
Assistant Foremen of Laborers	2,555 00
Male Cleaners	9,855 00
Female Cleaners	7,300 00
Labourers	10,335 00
Watchmen	2,737 50
	44,242 50
1354. General Supplies	4,000 00
1355. Material for Repairs and Replacements by Departmental Labor	700 00
1356. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same	250 00
1357. Fuel	4,500 00
1358. Contingencies	1,800 00
	1,200 00

Public Baths.	
1359. Salaries and Wages—	
Stationary Engineer, at \$4.50 per day.....	\$1,642.50
Stokers, at \$3 per day.....	2,100.00
Male Bath Attendant, at \$5 per day.....	1,095.00
Male Bath Attendants, at \$2.50 per day.....	1,825.00
Female Bath Attendant, 2 at \$2 per day.....	1,460.00
	8,212.50
1360. Contingencies .....	500.00
	8,712.50
BUREAU OF BUILDINGS.	
Administration.	
1361. Salaries of Superintendent, Clerks and Office Force—	
Superintendent .....	\$5,000.00
Assistant Superintendent .....	4,000.00
Secretary to Superintendent .....	2,500.00
Chief Clerk .....	2,700.00
Plan Clerk .....	1,800.00
Clerk .....	2,100.00
Clerk .....	1,950.00
Clerks, 5 .....	8,250.00
Clerks, 2 .....	2,700.00
Clerk .....	1,200.00
Clerk .....	1,050.00
Typewriter .....	1,200.00
Stenographer and Typewriter .....	1,500.00
Messengers, 3 .....	4,050.00
Messengers, 2 .....	2,400.00
Drivers, 2 .....	2,100.00
	44,500.00
Field and Inspection.	
1362. Salaries, Chief Inspector, Inspectors, etc.—	
Chief Inspector .....	\$3,000.00
Assistant Engineer .....	2,400.00
Inspector .....	2,100.00
Inspector .....	1,650.00
Inspector .....	1,350.00
Inspector .....	1,200.00
Inspectors, 31 .....	46,500.00
Inspectors, 19 .....	25,650.00
Inspectors of Elevators, 2 .....	2,700.00
	86,850.00
1363. Contingencies .....	1,500.00
1364. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of Same.....	1,000.00
	135,550.00
1364. Police Detail—Salaries .....	1,400.00
	1,289,928.88
PRESIDENT, BOROUGH OF BROOKLYN.	
GENERAL ADMINISTRATION.	
1365. Salaries and Wages—	
President of the Borough .....	\$7,500.00
Commissioner of Public Works .....	6,000.00
Assistant Commissioner of Public Works .....	5,000.00
Consulting Engineer .....	5,000.00
Secretary of the Borough .....	4,000.00
Secretary .....	4,000.00
Secretary to Commissioner .....	3,000.00
Assistant Engineer .....	3,000.00
Bookkeeper .....	3,000.00
Executive Clerk .....	1,500.00
Confidential Inspector .....	2,100.00
Stenographers, 2 at \$2,100 .....	4,200.00
Stenographers, 5 at \$1,500 .....	7,500.00
Stenographers, 4 at \$1,200 .....	4,800.00
Clerks, 3 at \$2,100 .....	4,200.00
Clerks, 3 at \$1,750 .....	5,250.00
Clerk .....	1,050.00
Clerk .....	750.00
Inspector .....	1,543.00
Searcher .....	1,200.00
Automobile Enginemen, 2 at \$1,000 .....	2,100.00
Typewriter .....	1,050.00
Office Boys, 2 at \$540 .....	1,080.00
	881,913.00
1366. Contingencies .....	2,500.00
	884,413.00
DIVISION OF SUBSTRUCTURE.	
1367. Salaries and Wages—	
Assistant Engineer .....	\$4,000.00
Draughtsmen, 2 at \$1,800 .....	3,600.00
Draughtsman .....	1,650.00
Draughtsman .....	1,500.00
Draughtsmen, 2 at \$1,350 .....	2,700.00
Draughtsman, 2 at \$1,050 .....	2,100.00
Leveler .....	1,350.00
Rodmen, 2 at \$1,125 .....	2,250.00
Axeman .....	900.00
Stenographer .....	1,500.00
Automobile Engineman .....	1,095.00
	12,645.00
1368. Contingencies .....	500.00
	13,145.00

BUREAU OF HIGHWAYS.	
Administration.	
1369. Salaries and Wages—	
Superintendent .....	\$3,000.00
Chief Clerk .....	3,000.00
Supervisor of Complaints .....	2,550.00
Clerk .....	1,800.00
Clerks, 3 at \$1,050 .....	3,150.00
Clerks, 3 at \$900 .....	2,700.00
Junior Clerks, 2 at \$600 .....	1,200.00
Cashier .....	1,200.00
Stenographers and Typewriters .....	2,400.00
Auto Engineman .....	1,200.00
Drivers, 3 at \$900 .....	2,700.00
Office Boy .....	540.00
	27,440.00
Engineering Division.	
1370. Salaries and Wages .....	76,450.00
1371. Maintenance of Highways .....	794,834.08
Division of Incumbrances.	
1372. Salaries and Wages—	
Superintendent of Incumbrances .....	\$2,550.00
Inspectors of Incumbrances, 3 at \$1,500 .....	4,500.00
Messenger .....	1,050.00
Driver .....	900.00
	9,000.00
Maintenance.	
1373. Salaries and Wages—	
Foreman, at \$4 per day .....	\$1,248.00
Laborers, at \$2.50 per day .....	6,000.00
	7,248.00
1374. Hired Teams, Horses and Carts .....	1,500.00
1375. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of .....	1,300.00
1376. Contingencies .....	1,000.00
	919,032.08
BUREAU OF SEWERS.	
Administration.	
1377. Salaries and Wages—	
Superintendent .....	\$5,000.00
Assistant Superintendent, Maintenance and Repairs .....	2,250.00
Clerks .....	2,550.00
Clerks, 2 at \$2,100 .....	4,200.00
Clerks, 2 at \$1,800 .....	3,600.00
Clerk .....	1,500.00
Clerk, with special knowledge of handwriting .....	1,500.00
Clerk, with knowledge of typewriting .....	1,500.00
Clerk, with knowledge of statistics .....	1,200.00
Stenographer and Typewriter .....	1,500.00
Stenographer .....	1,200.00
Typewriter Copyist .....	1,200.00
Telephone Operator .....	750.00
Foreman, Sewer Repair Yard .....	1,500.00
Inspectors of Sewers and Basins, 7 at \$1,200 .....	8,400.00
Inspectors of Sewer Connections, 9 at \$1,200 .....	10,800.00
Messenger .....	1,050.00
	50,000.00
Engineering Division.	
1378. Technical Staff .....	96,800.00
1379. Maintenance, including Cleaning and Repairs .....	368,359.29
	515,159.29
BUREAU OF PUBLIC BUILDINGS AND OFFICES.	
Administration.	
1380. Salaries and Wages—	
Superintendent .....	\$5,000.00
Assistant Engineer .....	4,000.00
Assistant Engineer .....	3,000.00
Chief Clerk .....	3,000.00
Clerk .....	1,650.00
Clerks, 3 at \$1,500 .....	4,500.00
Clerk .....	1,200.00
Draughtsman .....	1,800.00
Inspector of Construction and Repairs .....	1,800.00
Inspector of Masonry .....	1,500.00
Inspector of Fuel .....	1,500.00
Inspector of Public Buildings .....	1,500.00
Inspector of Plumbing .....	1,500.00
Inspector of Plumbing .....	1,200.00
Inspector of Supplies .....	1,500.00
Stenographer .....	1,500.00
Stenographer .....	1,200.00
Typewriter Copyist .....	1,200.00
Messenger .....	1,050.00
Telephone Operators, 2 at \$900 .....	2,700.00
Superintendent of Public Baths and Comfort Stations .....	2,550.00
Assistant Superintendent of Public Baths and Comfort Stations .....	1,500.00
Architectural Draughtsmen, 2 at \$1,800 .....	3,600.00
Draughtsman's Helper .....	1,050.00
	552,800.00

Maintenance.	
1381. Salaries and Wages—	
Attendant	\$1,200.00
Attendants, 20 at \$1,050	20,100.00
Attendants, 45 at \$750	33,750.00
Attendants, 22 at \$600	13,200.00
Janitors, 2 at \$1,800	3,600.00
Janitor	1,500.00
Janitors, 9 at \$900	8,100.00
Janitors, 3 at \$750	2,250.00
Inspectors of Carpentry and Masonry, 2 at \$1,200	2,400.00
Foreman Painter	1,200.00
Carpenters, 3 at \$1,050	3,150.00
Elevator Conductors, 10 at \$1,050	10,500.00
Matron	1,050.00
Varnisher	1,000.00
Plasterers, 2 at \$1,000	2,000.00
Watchmen, 12 at \$900	10,800.00
Driver	900.00
Drivers, 3 at \$750	2,250.00
Laborers, 3 at \$900	2,700.00
Laborers, 40 at \$750	30,000.00
Cleaners, 10 at \$750	7,500.00
Cleaners, 97 at \$550	34,920.00
Foreman Bricklayer, not to exceed \$5.00 per day	1,752.00
Enginemen, not to exceed \$4.50 per day	20,120.00
Hansomsmith, not to exceed \$4.50 per day	1,020.50
Plumber, not to exceed \$4.50 per day	1,400.50
Plumber's Helper, not to exceed \$2.20 per day	1,565.00
Decorator, not to exceed \$4.50 per day	1,252.00
Foremen Laborers	5,028.00
Assistant Foreman Laborer	940.00
Stokers, not to exceed \$3 per day	25,377.18
Oilers, not to exceed \$2 per day	1,093.00
	282,295.98
1382. General Supplies	36,352.00
1383. Materials for Repairs and Replacements by Departmental Labor	3,222.00
1384. Repairs and Replacements by Contracts or Open Orders	60,077.00
1385. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of	14,490.00
1386. Fuel	50,000.00
1387. Telephones, Rental of	0.000.00
1388. Contingencies	500.00
	510,735.98

## BUREAU OF BUILDINGS.

## Administration.

1389. Salaries and Wages—	
Superintendent	\$5,000.00
Assistant Superintendent	4,000.00
Chief Clerk	3,500.00
Secretary to Superintendent	1,000.00
Plan Examiner	2,400.00
Plan Clerks, 2 at \$1,800	3,600.00
Assistant Engineers, 2 at \$2,100	4,200.00
Clerks, 2 at \$1,800	3,600.00
Clerk	1,500.00
Clerks, 6 at \$1,550	8,100.00
Clerks, 4 at \$1,050	4,200.00
Clerk	540.00
Stenographer and Book Typewriter	1,200.00
Typewriting Copyists, 4 at \$1,200	4,800.00
Messengers, 2 at \$1,200	2,400.00
Process Servers, 2 at \$1,200	2,400.00
Process Servers, 2 at \$1,050	2,100.00
	26,240.00

## Inspection and Field Force.

1390. Salaries and Wages—	
Chief Inspectors, 2 at \$1,500	30,000.00
Chief Inspector of Plumbing	2,100.00
Inspector of Plumbing	2,400.00
Inspectors of Plumbing	1,800.00
Inspectors of Plumbing, 2 at \$1,650	3,300.00
Inspectors of Plumbing, 7 at \$1,500	10,500.00
Inspectors of Plumbing, 8 at \$1,350	5,750.00
Inspectors of Plumbing, 13 at \$1,000	13,200.00
Inspectors of Carpentry and Masonry, 5 at \$2,400	12,000.00
Inspectors of Carpentry and Masonry, 6 at \$1,800	10,800.00
Inspectors of Carpentry and Masonry, 12 at \$1,500	14,400.00
Inspectors of Carpentry and Masonry, 11 at \$1,350	14,850.00
Inspectors of Carpentry and Masonry, 17 at \$1,200	20,400.00
Inspector of Elevators	2,400.00
Inspectors of Elevators, 2 at \$1,200	3,000.00
Inspectors of Elevators, 2 at \$1,050	2,800.00
Inspector of Iron and Steel	1,200.00
Inspector of Iron and Steel	1,500.00
Automobile Engineman	1,092.00
	150,092.00
1391. Contingencies	6,000.00
	212,635.00

TOPOGRAPHICAL BUREAU.	
Making Maps for Street Openings	
1392. Salaries and Wages	\$65,400.00
1393. Contingencies	2,500.00
	67,900.00
1394. Police Detail—Salaries	1,400.00
	2,737,421.84

## PRESIDENT, BOROUGH OF QUEENS

## GENERAL ADMINISTRATION.

1394. Salaries—	
President of Borough	\$5,000.00
Secretary of Borough	4,000.00
Commissioner of Public Works	4,000.00
Assistant Commissioner of Public Works	3,000.00
Secretary to Commissioner of Public Works	1,200.00
Clerk to President	3,000.00
Stenographer to President	1,500.00
Confidential Inspector	1,800.00
Clerk	1,800.00
Clerk	1,500.00
Clerks, 4 at \$1,050 each	4,200.00
Junior Clerk	600.00
Clerk	2,100.00
Stenographer	1,500.00
	\$35,800.00
1395. Contingencies	3,000.00
	\$38,800.00

## BUREAU OF HIGHWAYS.

## Administration.

1396. Salaries—	
Superintendent	\$3,000.00
Cashier	2,100.00
Chief Clerk	2,100.00
Bookkeeper	1,800.00
Bookkeepers, 2 at \$1,050 each	2,100.00
Clerk and Bookkeeper	1,950.00
Clerks, 2 at \$1,800 each	3,600.00
Clerk	1,500.00
Clerks, 2 at \$1,050 each	2,100.00
Junior Clerk	600.00
Stenographer and Typewriter	1,200.00
Stenographer and Typewriter	900.00
Typewriter Copyists, 3 at \$900 each	2,700.00
Inspectors of Street Openings, 6 at \$1,200 each	7,200.00
Inspectors of Complaints, 5 at \$1,200 each	6,000.00
Messenger	900.00
Automobile Engineman	1,200.00
	\$40,930.00

## Engineering and Inspection Force.

1397. Salaries and Wages	12,000.00
1398. Maintenance of Highways	616,481.48

633,491.48

## BUREAU OF SEWERS.

## Administration.

1399. Salaries—	
Superintendent	\$3,000.00
Cashier	1,500.00
Bookkeeper	1,950.00
Clerks, 3 at \$1,500 each	4,500.00
Stenographer and Typewriter	900.00
	\$11,850.00

## Engineering Force.

1400. Salaries and Wages	15,600.00
1401. Maintenance, including Cleaning and Repairs	129,382.00

145,802.00

## BUREAU OF STREET CLEANING.

## Administration.

1402. Salaries—	
Superintendent	\$3,000.00
Bookkeeper	1,200.00
Clerk	1,200.00
Clerks, 2 at \$1,200 each	2,400.00
Storekeeper	1,050.00
Stenographer	900.00
Automobile Engineman	1,200.00
	\$10,950.00

## Sweeping, Carting and Final Disposition.

1403. Salaries and Wages—	
Deputy Superintendent	\$1,800.00
Section Foremen, 2 at \$1,500 each	3,000.00
Section Foremen, 5 at \$1,200 each	7,200.00
Assistant Foremen, 2 at \$1,050 each	5,250.00
Foremen	7,825.00
Mechanics' Helpers	1,875.00
Driver	929.00
Laborers	77,108.00
	105,000.00
1404. Hired Teams, Horses and Carts	\$116,000.00
1405. Contract for Garbage Removal	10,500.00
1406. General Supplies	9,000.00
1407. Materials for Repairs and Replacement by Departmental Labor	1,500.00
1408. Repairs and Replacements by Contracts or Open Orders	1,200.00

1409. Apparatus, Vehicles, Machinery, Horses:	
Equipment, Care and Storage.....	1,200 00
1410. Fuel .....	2,000 00
1411. Contingencies .....	500 00
1412. Removal of Snow and Ice.....	250 00
	137,130 00
	253,100 00

## BUREAU OF PUBLIC BUILDINGS AND OFFICES.

## Administration.

1413. Salaries—	
Superintendent .....	\$3,000 00
Chief Clerk .....	1,950 00
Clerk .....	1,800 00
Inspector, Supplies and Repairs.....	1,200 00
Telephone Operator.....	900 00
	\$8,850 00

## Maintenance.

1414. Salaries and Wages—	
Foreman .....	\$1,500 00
Foreman, at \$4 per day.....	1,460 00
Assistant Foreman, at \$3.50 per day.....	4,368 00
Assistant Foreman, at \$3 per day.....	936 00
Cleaner, at \$70 per month.....	840 00
Cleaner, at \$65 per month.....	780 00
Cleaners, at \$3 per day.....	2,190 00
Cleaner, at \$2.50 per day.....	780 00
Cleaners, at \$40 per month.....	6,720 00
Engineman, at \$4.50 per day.....	1,642 50
Stokers, at \$3 per day.....	5,475 00
Carpenters, not to exceed \$5 per day..	2,995 20
Painter (Striper), not to exceed \$4.50 per day .....	1,408 00
Painters, not to exceed \$4 per day.....	4,992 00
Grainger, not to exceed \$4 per day.....	1,248 00
Tinsmith, not to exceed \$4.50 per day.....	1,248 00
Plumber's Helper, at \$3 per day.....	1,095 00
Pipe Fitter's Helper, at \$3 per day.....	1,095 00
Janitors, at \$100 per month.....	3,600 00
Janitor, at \$87.50 per month.....	1,050 00
Janitor, at \$75 per month.....	900 00
Janitor, at \$60 per month.....	720 00
Laborers, at \$3 per day.....	1,095 00
Laborers, at \$2.50 per day.....	4,165 00
Laborers, at \$2.25 per day.....	3,629 25
Laborers, at \$2 per day.....	1,248 00
	57,175 98

1415. General Supplies.....	8,500 00
1416. Materials for Repairs and Replacements by Departmental Labor.....	2,000 00
1417. Repairs and Replacements by Contracts or Open Orders.....	4,200 00
1418. Fuel .....	7,200 00
1419. Contingencies .....	1,000 00
1420. Telephones, Rental of.....	4,500 00
Maintenance of Public Baths and Comfort Stations.....	

1421. Salaries and Wages—	
Floating Baths.	
Foreman .....	\$1,460 00
Watchmen, at \$75 per month.....	2,400 00
Attendants (female), at \$65 per month.....	325 00
Attendants (male), at \$75 per month.....	750 00
Cleaners (male), at \$60 per month.....	300 00
Cleaners (female), at \$40 per month.....	200 00
Interior Baths.	
Engineer, not to exceed \$4.50 per day.....	1,232 25
Firemen, not to exceed \$3 per day.....	1,542 50
Cleaners, at \$30 per month.....	720 00
Attendants (male).....	780 00
Attendants (female).....	240 00
Comfort Station.	
Attendants (male).....	1,860 00
Attendants (female).....	1,860 00
	13,275 75

1422. Storing, Berthing and Towing.....	600 00
	107,901 70

## BUREAU OF BUILDINGS.

## Administration.

1423. Salaries—	
Superintendents .....	\$3,000 00
Assistant Superintendent.....	2,400 00
Secretary .....	1,800 00
Chief Clerk .....	1,500 00
Typewriter .....	1,500 00
Stenographer and Typewriter.....	1,050 00
Clerks, 3 at \$1,050 each.....	3,150 00
Messenger .....	1,050 00
Drivers .....	1,872 00
	\$17,372 00

## Inspection and Field.

1424. Salaries and Wages—	
Chief Inspector.....	\$2,000 00
Confidential Inspector.....	1,500 00
Steel and Iron Inspector.....	1,500 00
Building Inspector.....	1,800 00
Building Inspector.....	1,650 00
Building Inspectors, 3 at \$1,500 each.....	4,500 00
Building Inspectors, 3 at \$1,250 each.....	3,000 00
Plumbing Inspector.....	1,800 00

## Salaries and Wages—

Plumbing Inspectors, 3 at \$1,500.....	4,500 00
Plumbing Inspectors, 3 at \$1,200.....	3,600 00
	26,450 00
1425. Contingencies .....	4,500 00
	\$47,272 00

## TOPOGRAPHICAL BUREAU.

1426. Salaries and Wages.....	\$49,000 00
1427. General Supplies.....	500 00
1428. Contingencies .....	500 00
	50,000 00
	1,327,307 18

## PRESIDENT, BOROUGH OF RICHMOND.

## GENERAL ADMINISTRATION.

1429. Salaries and Wages—	
President of the Borough.....	\$5,000 00
Secretary of the Borough.....	2,500 00
Stenographer and Assistant Secretary.....	2,000 00
Stenographer to the President.....	1,200 00
Clerk .....	1,010 00
Clerk .....	1,200 00
Stenographer .....	1,260 00
Typewriting Copyist.....	900 00
Messengers, at \$1,050.....	2,100 00
Telephone Operators, at \$720.....	1,440 00
Auto Engineman.....	1,200 00
Consulting Engineer (Acting Commissioner) .....	8,000 00
Assistant Commissioner.....	3,000 00
Secretary to Commissioner.....	1,800 00
Chief Clerk .....	1,800 00
Clerk .....	1,650 00
Clerks, 2 at \$1,300.....	3,000 00
Clerk .....	1,050 00
Stenographers and Typewriters, 2 at \$1,500 .....	3,000 00
Stenographer and Typewriter.....	1,260 00
Messenger .....	1,050 00
Driver .....	900 00
	\$47,300 00
1430. Contingencies .....	3,550 00
	\$50,010 00

## BUREAU OF HIGHWAYS.

1431. Salaries—	
Superintendent and Administration Force.	
Superintendent .....	\$2,500 00
Cashier .....	1,300 00
Stenographer and Typewriter.....	1,200 00
Clerk .....	1,050 00
Usher .....	1,200 00
Typewriting Copyist.....	7,050 00
Inspector .....	3,300 00
Auto Engineman .....	1,050 00
	31,710 00

1432. Maintenance of Highways.....	312,821 60
	324,531 60

## BUREAU OF SEWERS.

## Administration.

1433. Salaries—	
Superintendent .....	\$2,700 00
Chief Clerk .....	1,320 00
Clerk .....	1,050 00
Inspector .....	1,500 00
	\$6,100 00

1434. Maintenance, including Cleaning and Repairs.....	22,944 00
	59,344 00

## BUREAU OF STREET CLEANING.

## Administration.

1435. Salaries and Wages—	

1437. Hired Teams, Horses and Carriages, etc.	8,500.00
1438. General Supplies, etc.	15,700.00
1439. Materials for Repairs and Replacements by Departmental Labor.	5,875.00
1440. Repairs and Replacements by Contracts or Open Orders.	1,800.00
1441. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.	1,200.00
1442. Fuel.	1,000.00
1443. Contingencies.	500.00
	211,467.00

## BUREAU OF PUBLIC BUILDINGS AND OFFICES

## Administration and Maintenance.

1444. Salaries and Wages—	\$2,500.00
Superintendent.	1,350.00
Stenographer and Typewriter.	1,350.00
Foremen, 2 at \$1,200.	2,400.00
Foreman.	1,050.00
Foreman.	900.00
Assistant Foreman.	1,014.00
Janitors, 2 at \$1,050.	2,100.00
Janitor.	1,200.00
Janitress.	340.00
Female Cleaners, 3 at \$400.	2,000.00
Elevator Man.	900.00
Stationary Engineer.	1,638.00
Stationary Engineers, 2 at \$1,456.	2,912.00
Stokers, 4 at \$1,092.	4,368.00
Varnishers, 2 at \$780.	1,560.00
Driver.	720.00
Laborers.	12,340.00
Carpenter.	1,200.00
	840,592.00
1445. Telephones, Rental of.	4,000.00
1446. General Supplies.	10,000.00
1447. Repairs and Replacements by Contracts or Open Orders.	5,150.00
1448. Apparatus—Machinery, Vehicles, Horses, Equipment, Care and Storage of Same.	325.00
1449. Fuel.	3,700.00
1450. Contingencies.	300.00
	84,067.00

## BUREAU OF BUILDINGS.

## Administration.

1451. Salaries and Wages—	\$2,500.00
Superintendent.	2,000.00
Assistant Superintendent.	2,000.00
Chief Inspector.	2,000.00
Chief Clerk.	1,800.00
Clerk.	1,500.00
Secretary.	1,200.00
Stenographer and Typewriter.	1,200.00
	12,200.00

## Inspection and Field Force.

1452. Salaries and Wages—	\$3,600.00
Inspectors, 2 at \$1,800.	3,600.00
Inspectors, 3 at \$1,320.	4,080.00
Engineer.	1,500.00
Office Boy.	300.00
Driver.	900.00
	10,350.00
1453. Contingencies.	2,950.00
	25,500.00

## BUREAU OF ENGINEERING.

## Division for Making Maps for Street Openings.

1454. Salaries and Wages.	\$36,000.00
1455. General Supplies.	1,460.00
1456. Repairs and Replacements by Contracts or Open Orders.	250.00
1457. Apparatus—Machinery, Vehicles, Horses; Equipment, Care and Storage of Same.	1,250.00
1458. Contingencies.	1,350.00
	40,310.00
	776,069.00

Total, City of New York. \$148,446,904.83

## THE COUNTY OF NEW YORK.

## BOARD OF CITY RECORD, COUNTY OF NEW YORK.

Printing, Stationery and Blank Books for County Offices and Courts other than Supreme Court.

1459. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.	\$11,950.00
1460. Stationery, including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.	8,950.00
1461. Blank Books.	21,600.00
	44,500.00
Arrearages.	
1462. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.	\$1,000.00
1463. Stationery, including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.	2,500.00
1464. Blank Books.	1,000.00
	4,500.00

	49,000.00
--	-----------

## SHERIFF OF THE COUNTY OF NEW YORK.

1465. Salaries, Sheriff's Office—	
Sheriff.	\$12,000.00
Counsel.	6,000.00
Under Sheriff.	5,000.00
Auditor.	2,800.00
Deputy Sheriffs, 12 at \$2,500 each.	30,000.00
Entry Clerk.	2,300.00
Jury Clerk.	2,000.00
Law Clerk.	1,600.00
Cashier.	2,400.00
Bond Clerk.	1,800.00
Arrest Clerk.	1,500.00
Secretary.	1,500.00
Assistant Entry Clerk.	1,500.00
Clerk.	1,200.00
Under Sheriff's Clerk.	1,200.00
Assistant Bond Clerk.	1,200.00
Prison Guards, 6 at \$1,200 each.	7,200.00
Confidential Stenographer.	1,080.00
Messenger.	1,080.00
Assistant Deputy Sheriffs, 12 at \$1,000 each.	12,000.00
Van Drivers, 2 at \$900 each.	1,800.00
Accountant.	600.00
Cleaner.	360.00
Cleaners, 2 at \$300 each.	600.00
	\$98,980.00

## 1466. Salaries, County Jail—

Warden.	\$3,000.00
Keepers, 11 at \$1,000 each.	11,000.00
Clerk.	1,200.00
Engineer.	1,200.00
Physician.	1,000.00
Assistant Engineer.	900.00
Cleaners, 3 at \$900 each.	2,700.00
Cooks, 2 at \$300 each.	600.00
Laundress.	264.00
Assistant Cook.	240.00
Assistant Cook.	228.00
	22,332.00

## 1477. Horses and Vehicles; Equipment, Care and Storage of.

1478. Support of Indigent Prisoners.	3,100.00
1479. General Supplies.	350.00
1480. Telephones, Rental of.	2,100.00
1481. Contingencies.	2,650.00
1482. Police Detail—Salaries.	1,400.00
	121,912.00

## SUPREME COURT, FIRST DEPARTMENT.

1483. Salaries—	
Justices, 30 at \$11,500.	\$345,000.00
Librarian.	4,000.00
Deputy Clerks, 4 at \$4,000.	16,000.00
Special Deputy Clerk and Supreme Court Jury Clerk.	4,000.00
Special Deputy Clerk assigned to Appellate Term.	4,000.00
Confidential Clerk assigned to Appellate Term.	4,000.00
Law Clerk.	3,500.00
Equity Clerk.	3,500.00
Deputy Clerk.	4,500.00
Justices' Clerks, 34 at \$2,500 each.	85,000.00
Assistant Librarian.	3,000.00
Crier.	1,800.00
Assistant Special Deputy Clerks, 2 at \$4,000.	6,000.00
Interpreters, 4 at \$3,000.	12,000.00
Stenographers, 24 at \$1,000.	102,000.00
Assistant Crier.	2,300.00
Deputy Clerks, 20 at \$2,500.	50,000.00
Assistant Special Deputy Clerks, 25 at \$2,500.	62,500.00
Attendants, 132 at \$1,500.	198,000.00
Typewriter.	1,500.00
	\$913,000.00

## 1482. Compensation of Justices from Other Districts.

1482. Compensation of Justices from Other Districts.	30,000.00
1483. General Supplies, including Printing.	23,000.00

## 1484. Contingencies.

1484. Contingencies.	1,500.00
1485. Police Detail—Salaries.	4,200.00

## Appellate Division, Court House—Maintenance of.

1486. Salaries and Wages—	
Custodian.	\$1,500.00
Chief Engineer.	1,500.00
Engineers, 2 at \$1,400.	2,800.00
Firemen, 2 at \$1,020.	2,040.00
Watchmen.	900.00
Elevatorman.	900.00
	\$9,640.00

## Appellate Division, Court House—Maintenance of.

1487. Salaries and Wages—	
Porters, 7 at \$720.	\$5,040.00

## Salaries and Wages—

Cleaners, 10 at	
1,560	5,680.00
Telephone Operator	1,000.00
	5,680.00
	\$19,380.00

1487. General Supplies	4,845.00
1488. Telephones, Rental of	575.00
1499. Repairs and Replacements by Contracts or Open Orders	2,500.00
1500. Contingencies	1,050.00
	28,250.00
	\$109,930.00

## COURT OF GENERAL SESSIONS.

## 1501. Salaries—

Judges, 7 at \$15,000	\$105,000.00
Clerk	5,000.00
Deputy Clerks, 10 at \$4,000	40,000.00
Deputy Clerk	3,000.00
Assistant Clerk	4,000.00
Record Clerks, 6 at \$2,000	12,000.00
Stenographers, 6 at \$2,500	15,000.00
Interpreters, 3 at \$2,000	10,000.00
Warden, Grand Jury	2,000.00
Attendants, 62 at \$1,000	93,000.00
	\$289,000.00

1502. Contingencies	1,250.00
1503. Telephone Service	1,250.00
	391,300.00

## SURROGATES' COURT, COUNTY OF NEW YORK.

## 1504. Salaries, General Administration—

Surrogate, 2 at \$15,000	\$30,000.00
Chief Clerk	10,000.00
Deputy Chief Clerk	5,000.00
First Law Assistant	4,500.00
Second Law Assistant	3,500.00
Third Law Assistant	3,500.00
Clerk of Court	4,000.00
Deputy Clerk of Court	2,250.00
Clerk—Additional Part of Court	2,500.00
Clerks to Surrogate, 2 at \$2,500	5,000.00
Stenographer	5,000.00
Stenographer	2,500.00
Stenographer	1,200.00
Assistant Stenographer	1,200.00
Stenographer to Surrogate	1,500.00
Interpreter	1,500.00
Calendar Clerk and Superintendent of Supplies	2,250.00
Probate Clerk	4,000.00
First Assistant Probate Clerk	2,000.00
Second Assistant Probate Clerk	1,500.00
Third Assistant Probate Clerk	1,000.00
Administration Clerk	3,500.00
First Assistant Administration Clerk	1,000.00
Second Assistant Administration Clerk	1,500.00
Third Assistant Administration Clerk	1,200.00
Guardian Clerk	1,700.00
Assistant Guardian Clerk	1,200.00
Guardian Accounting Clerk	1,700.00
Accounting Clerk	3,250.00
Assistant Accounting Clerk	1,600.00
Entry Clerk	1,200.00
Certificate Clerk	1,500.00
Bookkeeper	1,500.00
Special Searcher	1,500.00
Correspondence Searcher	1,500.00
Clerk of Records	3,500.00
Record Clerks, 3 at \$1,200	3,600.00
Record Clerks, 2 at \$1,000	2,000.00
Superintendent, Recording Clerks	1,800.00
Chief Examiner	1,500.00
Assistant Examiner	1,200.00
Recording Clerks, 18 at \$1,000	18,000.00
Recording Bond Clerks, 2 at \$1,000	2,000.00
Copyist in Charge, Copying Department	1,200.00
Copyists, 3 at \$1,000	3,000.00
Librarian and Chief Messenger	1,500.00
Court Attendants, 6 at \$1,200	7,200.00
Messengers, 3 at \$1,500	4,500.00
	\$165,450.00

## 1505. Salaries, Preservation of Public Records—

Superintendent of Preservation of Public Records	\$1,800.00
Recording Clerks, 3 at \$1,200	9,600.00
	11,400.00

1506. General Supplies	1,839.00
1507. Telephones, Rental of	100.00
1508. Contingencies	611.00
	179,400.00

## MISCELLANEOUS

1509. County Contingent Fund	\$12,000.00
1510. Fees and Expenses of Juries, New York County	200,000.00
1511. Disbursements and Fees under section 628, Code of Criminal Procedure	4,000.00

1512. Fees of Stenographers, for transcribing minutes of Trials in the Court of General Sessions and Supreme Court, and providing for the expense of preparing and printing Minutes and Judgment Rolls in the Court of General Sessions and Supreme Court, as provided by chapter 81, Laws of 1888, and chapter 379, Laws of 1889	15,000.00
1513. Fees of Witnesses subpoenaed on behalf of the People, etc. (chapter 98, Laws of 1895)	20,000.00
1516. For the Establishment and Maintenance of a Library for the Court of General Sessions and for the Supreme Court, Criminal Part, to be expended under the direction of the Judges of the Court of General Sessions	1,000.00

1517. Rent—For payment of rent for property leased for public offices and other purposes of the County of New York for which no other provision has been made	22,520.00
1518. Supplies for County Offices	2,500.00
1519. Advertising Official Canvass and Election Notices	10,000.00
1520. Compensation for Extra Clerks to Board of County Canvassers	2,500.00
	289,130.00

## CHARITABLE INSTITUTIONS.

## Syracuse State Institution for Feeble-Minded Children—

(Chapter 346, Laws of 1896.)	
1521. For furnishing clothing, etc., for 102 inmates, at \$20 each	\$2,040.00

## Institution for the Improved Instruction of Deaf Mutes—

(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 180, Laws of 1870.)	
(Chapter 213, Laws of 1875.)	

1522. For education and support for one entire year of 100 County pupils, at \$300 each	30,000.00
1523. For clothing 70 State pupils, at \$30 each per annum	2,100.00

New York Institution for the Blind—	
(Section 230, Greater New York Charter, as amended by chapter 195, Laws of 1899.)	

1524. For clothing 54 State pupils, at \$30 each per annum	1,620.00
St. Joseph's Institute for the Improved Instruction of Deaf Mutes—	
(Chapter 386, Laws of 1864.)	
(Chapter 213, Laws of 1875.)	
(Chapter 378, Laws of 1877.)	

1525. For education and support for one entire year of 100 County pupils, at \$300 each	30,000.00
1526. For clothing of 100 State pupils, at \$30 each per annum	3,000.00

New York Institution for the Instruction of the Deaf and Dumb—	
(Chapter 325, Laws of 1863.)	

(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 235, Laws of 1874.)	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	

1527. For education and support for one entire year of 100 County pupils, at \$300 each	30,000.00
1528. For clothing of 157 State pupils, at \$30 each per annum	4,710.00

Western New York Institution for Deaf Mutes—	
(Chapter 325, Laws of 1863.)	
(Chapter 331, Laws of 1876.)	
(Chapter 36, Laws of 1892.)	

1529. For education and support for one entire year of 1 County pupil, at \$300	300.00
1530. For clothing of 2 State pupils, at \$30 per annum	60.00

Central New York Institution for Deaf Mutes—	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	

1531. For clothing 4 State pupils, \$30 per annum	120.00
1532. Arrearages for 1908	89.34
	135,819.44

THE NATIONAL GUARD AND NAVAL MILITIA.  
New York City.

Armories and Drill Rooms—For Wages of Armories, Janitors, Engineers and Laborers for the State National Guard and Naval Militia, as Provided by Chapter 131 of the Laws of 1908—	
--	--

1533. Seventh Regiment:	
1 Armorer, at \$4 per day	\$1,440.00
1 Janitor, at \$4 per day	1,440.00
1 Engineer, at \$4 per day	1,440.00
1 Assistant Engineer, at \$4 per day	1,440.00
7 Laborers, at \$3 per day each	7,056.00
	\$13,503.00

1534. Eighth Coast Artillery District:	
1 Armorer, at \$4 per day	\$1,440.00
1 Janitor, at \$4 per day	1,440.00
1 Engineer, at \$4 per day	1,440.00
1 Assistant Engineer, at \$4 per day	1,440.00
1 Expert Laborer, at \$1 per day	1,095.00
6 Laborers, at \$3 per day each	6,570.00
	13,505.00

1525. Ninth Coast Artillery District:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
6 Laborers, at \$3 per day each.....	6,370.00
	12,810.00
1526. Twelfth Regiment:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
6 Laborers, at \$3 per day each.....	6,370.00
	12,410.00
1527. Twenty-second Regiment:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
6 Laborers, at \$3 per day each.....	6,370.00
	12,410.00
1528. Sixty-ninth Regiment:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
9 Laborers, at \$3 per day each.....	9,855.00
	15,695.00
1529. Seventy-first Regiment:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
9 Laborers, at \$3 per day each.....	9,855.00
	15,695.00
1530. First Battery:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
1 Chief Hostler, at \$3 per day.....	1,095.00
5 Hostlers, at \$3 per day each.....	5,475.00
1 Expert Laborer, at \$3 per day.....	1,095.00
3 Laborers, at \$3 per day each.....	3,285.00
	16,790.00
1531. Second Battery:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Expert Laborer, at \$3 per day.....	1,095.00
3 Laborers, at \$3 per day each.....	3,285.00
	7,300.00
1532. Squadron "A":	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
21 Laborers, at \$3 per day each.....	22,995.00
	28,635.00
1533. First Company Signal Corps:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Laborer, at \$3 per day.....	1,095.00
	4,015.00
1534. Headquarters Field Hospital:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Laborer, at \$3 per day.....	1,095.00
	4,015.00
1535. Headquarters First Battalion Field Artillery:	
1 Armorer, at \$4 per day.....	1,460.00
1536. Headquarters First Brigade:	
1 Armorer, at \$4 per day.....	1,460.00
1537. First Battalion Naval Militia:	
1 Armorer, at \$4 per day.....	\$1,460.00
1 Janitor, at \$4 per day.....	1,460.00
1 Engineer, at \$4 per day.....	1,460.00
1 Assistant Engineer, at \$4 per day.....	1,460.00
1 Yeoman, at \$4 per day.....	1,460.00
1 Gunner's Mate, at \$3 per day.....	1,095.00
5 Laborers, at \$3 per day each.....	5,475.00
1 Laborer, at \$2 per day.....	720.00
	14,600.00
1538. Headquarters Naval Militia:	
1 Armorer, at \$4 per day.....	1,460.00
1539. Seventh Regiment Armory, Trustees of:	
For payment to the Trustees of the Seventh Regiment Armory Building, for repairing, altering, maintaining and improving said building, pursuant to the provisions of chapter 518, Laws of 1893.....	8,000.00
	183,562.00

## COMMISSIONER OF RECORDS, NEW YORK COUNTY.

1540. Salaries—	
Commissioner of Records.....	\$6,000.00
Superintendent, Clerks and Employees.....	
Superintendent.....	\$1,200.00
Secretary.....	1,600.00
Stenographer and Typewriter.....	1,100.00

Salaries—	
Stenographers and Typewriters, 2.....	2,000.00
Stenographers and Typewriters, 3, for 8 months.....	2,000.00
Chief Clerk, for 8 months.....	1,000.00
Clerks, 3.....	3,600.00
Clerks, 3, for 8 months.....	3,150.00
Clerks, 5, for 8 months.....	3,500.00
Draughtsman, for 8 months.....	800.00
Bookbinder.....	1,200.00
Bookbinders, 2.....	2,200.00
Laborers, 3.....	2,150.00
	27,610.00

Supplies.	
1550. General Supplies.....	\$3,750.00
1551. Contingencies.....	250.00
1552. Repairs and Replacements by Contracts and Open Orders.....	2,000.00
	6,000.00
	30,610.00

## COUNTY CLERK, NEW YORK COUNTY

Salaries.	
1553. Office of County Clerk.....	\$15,000.00
Deputies, Clerks and Employees—	
Deputy County Clerk.....	\$6,000.00
Second Deputy County Clerk.....	4,000.00
Third Deputy County Clerk.....	1,300.00
Cashier.....	2,000.00
Secretary and Confidential Clerk.....	3,000.00
Assistant Law and Judgment Roll Clerk.....	1,800.00
Assistant Law Clerk.....	2,500.00
Assistant Law Clerk, 2.....	3,000.00
Assistant Equity Clerk.....	1,800.00
Assistant Cashier.....	1,600.00
Certificate Clerk.....	2,000.00
Chief Docket Clerk.....	1,500.00
Mechanics' Lien Clerk.....	1,200.00
Recording and Index Clerk.....	1,200.00
Clerk of Old Records.....	1,200.00
Recording Clerk.....	1,200.00
Messenger.....	1,200.00
Attendant.....	1,200.00
Clerks of Common Pleas and Superior Court Records, 2.....	5,000.00
Comparing Clerk.....	1,300.00
General Clerk.....	1,200.00
General Clerks, 5.....	7,200.00
General Clerk.....	1,200.00
Recording Clerks, 5.....	6,000.00
Custodian, 4.....	4,800.00
General Clerk.....	2,100.00
General Clerk.....	2,400.00
Clerks, 3, under chapter 742, Laws of 1907.....	3,600.00
	72,700.00

Searchers.	
Chief Searcher.....	\$2,500.00
Searcher.....	2,400.00
Searcher.....	2,400.00
General Clerk.....	2,400.00
General Clerk, 2.....	3,000.00
Docket Clerk.....	1,500.00
Recording Clerk.....	1,200.00
Custodian and Copying Clerk.....	1,200.00
Custodian.....	1,200.00
	19,500.00
	107,300.00

1554. Preservation of Public Records—	
Chief Recording Clerk.....	\$2,000.00
Assistant Chief Recording Clerk.....	1,400.00
Recording Clerks, 2.....	3,000.00
Recording Clerks, 2.....	2,800.00
General Clerks, 3.....	3,600.00
Bookbinder.....	2,400.00
	14,800.00
	122,000.00

Supplies.	
1555. General Supplies.....	\$1,760.00
1556. Telephone.....	240.00

124,000.00

## DISTRICT ATTORNEY, COUNTY OF NEW YORK.

1557. Salaries, General Administration—	
District Attorney.....	\$12,000.00
Assistant District Attorneys, 10 at \$7,500	75,000.00
Deputy Assistant District Attorneys, 3 at \$5,000	15,000.00

Salaries, General Administration—	
Deputy Assistant District Attorney....	4,000.00
Deputy Assistant District Attorneys, 5 at \$3,500....	10,500.00
Deputy Assistant District Attorneys, 5 at \$1,000....	15,000.00
Deputy Assistant District Attorneys, 6 at \$2,500....	15,000.00
Deputy Assistant District Attorneys, 7 at \$2,000....	14,000.00
Secretary.....	3,300.00
Chief Clerk.....	6,000.00
Deputy Chief Clerk.....	3,500.00
Auditor.....	3,300.00
Clerks, 4 at \$1,200....	8,400.00
Clerks, 7 at \$1,500....	10,500.00
Clerks, 7 at \$1,200....	8,400.00
Clerks, 2 at \$1,100....	2,200.00
Clerks, 2 at \$900....	1,800.00
Librarian.....	1,000.00
Stenographer to Grand Jury.....	3,000.00
Stenographer to Grand Jury.....	2,500.00
Chief Stenographer.....	2,500.00
Stenographers, 2 at \$1,500....	3,000.00
Stenographers, 15 at \$1,200....	18,000.00
Stenographer.....	900.00
Process Servers, 3 at \$1,500....	4,500.00
Process Servers, 11 at \$1,200....	13,200.00
Process Servers, 35 at \$1,000....	35,000.00
Messenger.....	900.00
Messenger.....	720.00
Office Boys, 5 at \$420....	2,100.00
Office Boys, 3 at \$300....	900.00
	<u>\$291,320.00</u>

## 1558. Salaries, Bureau of Special Sessions Information—

Deputy Assistant District Attorney....	\$5,000.00
Deputy Assistant District Attorney....	3,500.00
Clerks, 2 at \$1,800....	3,600.00
Clerk.....	900.00
Stenographer.....	1,200.00
Process Servers, 2 at \$1,000....	2,000.00
Messenger.....	720.00
Office Boy.....	420.00
Office Boy.....	300.00
	<u>17,540.00</u>
1559. General Supplies.....	1,530.00
1560. Telephones, Rental of.....	4,100.00
1561. Contingencies.....	43,930.00
1562. Police Detail—Salaries.....	12,900.00
	<u>571,860.00</u>

## COMMISSIONER OF JURORS, COUNTY OF NEW YORK.

1563. Salaries—	
Commissioner.....	\$6,000.00
Assistant Commissioners, 2 at \$3,000....	6,000.00
Secretary.....	2,500.00
Clerks, 4 at \$1,500....	6,000.00
Clerks, 14 at \$1,200....	16,800.00
Messengers as Notice Servers, 8 at \$1,200....	9,600.00
Messengers, 2 at \$1,200....	2,400.00
	<u>\$49,400.00</u>
1564. General Supplies.....	2,244.00
1565. Telephones, Rental of.....	200.00
1566. Contingencies.....	2,256.00
	<u>54,300.00</u>

## THE REGISTER.

General Administration.	
1567. Salaries—	
Register.....	\$12,000.00
Deputy Register.....	5,000.00
Assistant Deputy Register....	4,000.00
Chief Clerk.....	3,400.00
Satisfaction Clerk.....	3,400.00
Chief Block Index Clerk....	3,000.00
Chattel Mortgage Clerk....	3,000.00
Secretary.....	2,500.00
Cashier.....	2,500.00
Tickler Clerk.....	2,500.00
Chief Searcher and Examiner.....	2,500.00
Superintendent of Indexing....	2,000.00
Assistant Satisfaction Clerk....	2,100.00
Chief Record Clerk.....	2,100.00
Searchers and Examiners, 2 at \$2,000....	4,000.00
Supervisor of Indexing....	1,800.00
Verification Clerk.....	1,720.00
Examiner.....	1,680.00
Special Messenger.....	1,500.00
Messenger.....	1,500.00
Clerks, 20 at \$1,500....	30,000.00
Clerks, 2 at \$1,300....	2,720.00
Custodians, 2 at \$1,200....	2,720.00
Custodians, 10 at \$1,200....	12,000.00
Clerks, 31 at \$1,200....	37,200.00
Clerks, 17 at \$1,100....	18,700.00
Messenger.....	1,100.00

Salaries—	
Clerk.....	1,000.00
Custodian.....	1,000.00
Recording Clerks, at 5 cents per folio.....	40,780.00
	<u>\$209,420.00</u>
1568. General Supplies.....	2,000.00
1569. Telephones, Rental of.....	250.00
1570. Contingencies.....	750.00
	<u>\$212,420.00</u>

Preservation of Public Records.	
1571. Salaries—	
Chief Clerk.....	\$1,800.00
Clerks, 8 at \$1,200....	9,600.00
Bookbinders, 3 at \$1,200....	3,600.00
	<u>\$15,000.00</u>
1572. Copying Old Maps.....	5,000.00
1573. General Supplies.....	1,500.00
	<u>21,500.00</u>

Land Title Registration.	
1574. For Salaries of Positions Established Pursuant to the Provisions of Chapter 444, Laws of 1908.....	10,000.00
1575. Police Detail—Salaries.....	1,400.00

245,320.00

PUBLIC ADMINISTRATOR, COUNTY OF NEW YORK.	
1576. Salaries—	
Public Administrator.....	\$10,000.00
Assistant Public Administrator.....	5,000.00
Chief Clerk.....	2,700.00
Second Clerk.....	1,900.00
Agent.....	1,400.00
Messenger.....	1,000.00
Stenographer.....	1,200.00
Stenographer.....	1,150.00
Warehouse Custodian.....	720.00
Page.....	260.00
	<u>\$25,320.00</u>
1577. Contingencies.....	800.00
	<u>26,120.00</u>

3,131,886.34

THE COUNTY OF KINGS.	
1578. For Compensation of the Deputy Clerk and Attendants of the Appellate Division of the Supreme Court, in the Second Judicial Department, to September 30, 1909, as authorized by chapter 97, Laws of 1896; chapter 223, Laws of 1897; chapter 456, Laws of 1900; chapter 397, Laws of 1902, and chapter 384, Laws of 1905, and for a Case and Consultation Clerk under chapter 88, Laws of 1907, and for two Confidential Clerks as authorized by chapter 560, Laws of 1907. \$15,399.60	
1579. For Compensation of the Justices of the Supreme Court, designated to the Appellate Division of the Second Department from any district other than the Second Judicial District, as authorized by chapter 309, Laws of 1898, and chapter 397, Laws of 1901. 25,378.46	
1580. For Compensation of Confidential Clerks to the Justices at the Supreme Court, designated to the Appellate Division of the Second Department, pursuant to chapter 251, Laws of 1900, and chapter 748, Laws of 1904. 10,779.68	
	<u>\$51,557.74</u>

BOARD OF CITY RECORD, KINGS COUNTY.	
Printing, Stationery and Blank Books for County Offices and Courts Other than Supreme Court.	
1581. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.....	\$1,500.00
1582. Stationery, including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.....	3,225.00
1583. Blank Books.....	19,375.00
1584. Supreme Court, Second Department.....	6,500.00
	<u>\$56,500.00</u>
1585. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.....	\$1,500.00
1586. Stationery, including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.....	3,000.00
1587. Blank Books.....	3,000.00
	<u>5,500.00</u>

42,000.00

General Administration.	
1588. Salaries—	
Register.....	\$8,000.00
Deputy Register.....	3,000.00
Assistant Deputy Register....	2,500.00
Counsel.....	3,500.00
Expert Clerk.....	3,500.00
Tickler Clerk.....	2,500.00
Chief Block Index Clerk....	2,500.00
Chief Clerk of Records....	1,800.00
Chief Clerk of Copies....	1,800.00
Chief Current Index Clerk....	1,800.00
Secretary.....	3,000.00
Clerks, 16 at \$1,500....	24,000.00
Comparers, 4 at \$1,500....	6,000.00

Salaries—	
Clerks and Assistant Commissioners, 16 at \$1,200.....	21,600 00
Custodians, 5 at \$1,000.....	5,000 00
Messengers, 3 at \$200.....	2,400 00
Keeper of Coat Room.....	720 00
Salaried Copyists, 35 at \$1,200.....	42,000 00
Telephone Operator.....	720 00
	\$135,840 00
1589. General Supplies.....	3,000 00
1590. Contingencies.....	3,000 00
	\$142,840 00

Recopying and Indexing Conveyances and Mutilated Records.	
1591. Copyists, 12 at \$1,200.....	14,400 00
Compensation of Copyists and Recording Clerks.	
1592. Copyists, at 5 cents per folio.....	53,000 00
Land Title Registration.	
1593. For Salaries of Positions Established Pursuant to the Provisions of Chapter 444, Laws of 1908.....	10,000 00
1594. Handling Books and Papers.....	10,000 00
	\$29,840 00

## SHERIFF OF KINGS COUNTY.

1595. Salaries, Sheriff's Office—	
Sheriff.....	\$15,000 00
Under Sheriff.....	6,000 00
Counsel.....	5,000 00
Chief Clerk.....	2,500 00
Deputy Sheriffs, 8 at \$2,200 each.....	17,600 00
Assistant Clerk.....	2,000 00
Equity Clerk.....	2,000 00
Assistant Equity Clerk.....	1,800 00
Secretary.....	1,500 00
Assistant Deputy Sheriffs, 8 at \$1,000 each.....	8,000 00
	\$61,400 00

1596. Salaries, County Jail—	
Warden of Jail.....	\$3,000 00
Deputy Warden of Jail.....	2,000 00
Bookkeeper.....	1,500 00
Keepers, 6 at \$1,200 each.....	7,200 00
Van Drivers, 5 at \$1,000 each.....	5,000 00
Matrons, 5 at \$1,000 each.....	5,000 00
Cleaners, 3 at \$750 each.....	2,250 00
Cooks, 2 at \$300 each.....	600 00
Lamendress.....	250 00
	\$24,800 00
1597. General Supplies.....	6,700 00
1598. Horses and Vehicles, Equipment, Care and Storage of.....	3,000 00
1599. Telephones, Rental of.....	1,000 00
1600. Contingencies.....	2,500 00
	\$9,200 00

## SUPREME COURT, SECOND DEPARTMENT.

1601. Salaries—	
Justices, 12 at \$10,300.....	\$133,900 00
General Clerk.....	5,000 00
Clerk.....	4,500 00
Clerk.....	4,000 00
Clerks, 2 at \$3,500.....	7,000 00
Clerks, 7 at \$3,000.....	21,000 00
Clerks, 8 at \$2,500.....	20,000 00
Assistant Clerks, 6 at \$2,000.....	12,000 00
Stenographers, 12 at \$3,000.....	36,000 00
Chief Attendant.....	3,000 00
Attendants, 17 at \$1,800.....	30,600 00
Attendants, 18 at \$1,500.....	27,000 00
Interpreters, 3 at \$2,500.....	5,000 00
Interpreter (German).....	2,000 00
Interpreter (Slavonic).....	1,800 00
Interpreter (Scandinavian).....	1,500 00
Clerks to Justices, 11 at \$2,500.....	27,500 00
	\$411,800 00
1602. Compensation of Justices from other Counties assigned to Kings County.....	1,000 00
1603. Supplies and Contingencies.....	4,000 00
1604. Appellate Division.....	1,000 00
1605. Increase of Law Library.....	1,000 00
1606. Police Detail—Salaries.....	1,400 00
	\$10,200 00

## COUNTY COURT, KINGS COUNTY.

1607. Salaries—	
County Judges, 2 at \$10,000.....	20,000 00
Chief Clerk.....	7,500 00
Deputy Clerk.....	3,000 00
Confidential Clerks, 2 at \$2,000.....	4,000 00
Stenographers, 2 at \$3,000.....	6,000 00
Clerks, 2 at \$3,000.....	6,000 00
Clerks, 2 at \$2,700.....	5,400 00
Clerk.....	2,500 00
Clerks, 6 at \$2,000.....	12,000 00
Chief Court Attendant.....	2,700 00
Warden, Grand Jury.....	2,400 00
Interpreters, 3 at \$1,800.....	5,400 00
County Detectives, 2 at \$2,000.....	4,000 00
Court Attendants, 23 at \$1,500.....	34,500 00
	\$115,400 00

1608. Additional Compensation to Justices for Services in Drawing Juries.....	5,000 00
1609. General Supplies.....	675 00
1610. Telephones, Rental of.....	423 00
1611. Contingencies.....	560 00
1612. Police Detail—Salaries.....	1,400 00
	\$13,458 00

## SURROGATE'S COURT, KINGS COUNTY.

1613. Salaries—	
Surrogate.....	\$10,000 00
Chief Clerk and Clerk of the Court.....	7,000 00
Probate Clerk.....	5,000 00
Administration Clerk.....	3,500 00
Accounting Clerk.....	3,500 00
Chief of Records and Interpreter.....	2,500 00
Stenographer.....	3,000 00
Guardian Accounting Clerk.....	2,700 00
Clerk or Stenographer to Surrogate.....	2,100 00
Index Clerk.....	1,800 00
Assistant Administration Clerk.....	1,800 00
Assistant Probate Clerk.....	1,800 00
Calendar Clerk.....	1,600 00
Certificate Clerk.....	1,500 00
Chief Court Attendant.....	1,350 00
Assistant Accounting Clerk.....	1,300 00
Assistant Chief of Records.....	1,250 00
Court Officers, 5 at \$1,200.....	6,000 00
Recording Clerks, 3 at \$1,100.....	8,800 00
Clerks, 3 at \$1,200.....	3,600 00
Chief Recording Clerk.....	1,200 00
Chief Custodian.....	1,200 00
Custodians, 2 at \$1,000.....	2,000 00
Typewriter and Copyist.....	1,000 00
Stenographer's Amanuensis.....	900 00
Clerk and Stenographer to Chief Clerk.....	900 00
Messenger.....	1,000 00
Telephone Operator.....	750 00
Laborers, 4 at \$720.....	2,880 00
	\$80,330 00
1614. Recopying Old and Mutilated Records.....	2,000 00
1615. Contingencies.....	2,000 00
	\$8,330 00

## COMMISSIONER OF RECORDS, KINGS COUNTY.

1616. Salaries—	
Commissioner of Records.....	\$3,000 00
Deputy Commissioner of Records.....	4,000 00
Superintendent.....	3,300 00
Assistant Superintendent.....	3,300 00
Chief Clerk.....	2,100 00
Secretary.....	1,600 00
Stenographer.....	1,100 00
Stenographer.....	1,000 00
Messenger.....	900 00
Chief of Division.....	2,100 00
Chief of Division, 5 at \$1,800.....	9,800 00
Assistant Chief of Division.....	1,700 00
Assistant Chief of Division.....	1,600 00
Assistant Clerks of Division, 4 at \$1,500.....	6,000 00
Clerks, 2 at \$1,500.....	3,000 00
Clerks, 4 at \$1,400.....	5,600 00
Clerks, 15 at \$1,200.....	18,000 00
Clerks, 2 at \$1,100.....	2,200 00
Clerks, 2 at \$1,000.....	2,100 00
Clerks, 2 at \$1,000.....	2,000 00
Clerks, 12 at \$900.....	10,800 00
Translator and Searcher.....	1,700 00
Custodian, 2 at \$1,000.....	2,000 00
Supervisor of Copying Mutilated Records.....	1,500 00
Supervisor of Copying Mutilated Records.....	1,500 00
Foreman of Bindery.....	1,200 00
Bookbinders, 2 at \$1,000.....	2,000 00
Laborers, 3 at \$720.....	2,160 00
	\$98,560 00
1617. General Supplies.....	310 00
1618. Telephones, Rental of.....	299 00
1619. Contingencies.....	832 00
	100,000 00

## COUNTY CLERK, KINGS COUNTY.

1620. Salaries—	
County Clerk.....	\$8,000 00
Deputy County Clerk.....	5,000 00
Counsel.....	3,500 00
Expert of Records.....	3,000 00
Assistant Deputy County Clerk.....	2,500 00
Bookkeeper.....	3,000 00
Notary Clerk.....	3,000 00
Secretary.....	1,500 00
Equity Clerks, 4 at \$1,500.....	6,000 00
Docket Clerks, 3 at \$1,500.....	4,500 00
Index Clerks, 3 at \$1,500.....	4,500 00
Document Searchers, 2 at \$1,200.....	3,400 00
Chief of Old Records.....	1,100 00
Assistants to Chief of Old Records, 2 at \$1,000.....	2,000 00

General Administration—			
Comptrollers, 2 at \$1,000....	2,000 00		
Custodians, 3 at \$1,000....	3,000 00		
Messengers, 2 at \$200....	1,600 00		
Cashier .....	2,000 00		
Law Clerk.....	1,500 00		
Satisfaction Clerk.....	1,500 00		
Assistant Cashier.....	1,800 00		
Stenographer .....	1,700 00		
Copyists, 4 at 5 cents per folio .....	6,000 00		
	<u>\$68,000 00</u>		
1621. Marriage Bureau—			
Chief Clerk.....	\$1,200 00		
Clerks, 3 at \$1,200....	3,600 00		
	<u>4,800 00</u>		
1622. Recopying and Rebinding Mutilated and Wornout Records—			
Copyists of Mutilated Records, 6 at \$1,200 .....	7,200 00		
1623. Moving and Sorting Various Records and Books—			
Laborers, 11 at \$720.....	7,920 00		
	<u>\$88,520 00</u>		
Repairs and Replacements by Contracts or Open Orders.			
1624. Recopying and Renovating Maps.....	\$1,000 00		
1625. Recopying and Rebinding Mutilated and Wornout Records.....	2,000 00		
	<u>3,000 00</u>		
1626. Telephones, Rental of.....	400 00		
1627. Contingencies .....	1,200 00		
	<u>93,120 00</u>		
DISTRICT ATTORNEY, KINGS COUNTY.			
1628. Salaries—			
District Attorney.....	\$10,000 00		
Assistant District Attorney.....	7,000 00		
Assistant District Attorneys, 2 at \$6,000	12,000 00		
Assistant District Attorneys, 5 at \$5,000	25,000 00		
Chief Clerk.....	5,000 00		
Clerk .....	2,000 00		
Clerk .....	1,800 00		
Clerks, 2 at \$1,500.....	3,000 00		
Clerk .....	1,400 00		
Stenographer and Private Secretary.....	2,000 00		
Messenger .....	1,200 00		
Stenographers and Private Secretaries, 4 at \$1,500.....	6,000 00		
Doorkeeper .....	1,200 00		
County Detectives, 12 at \$1,200.....	14,400 00		
	<u>\$92,000 00</u>		
1629. Contingencies .....	12,000 00		
1630. Police Detail, Salaries.....	2,000 00		
	<u>106,000 00</u>		
Note—Stenographer to Grand Jury appears in Miscellaneous Items in 1908 Budget.			
COMMISSIONER OF JURORS, KINGS COUNTY.			
1631. Salaries—			
Commissioner .....	\$6,000 00		
Deputy Commissioner.....	2,500 00		
Secretary .....	2,500 00		
Clerk .....	1,800 00		
Clerks, 4 at \$1,500.....	6,000 00		
Clerk .....	1,350 00		
Clerk .....	1,200 00		
Fine and Exempt Clerk.....	1,800 00		
Jury Notice Servers, 9 at \$1,200.....	10,800 00		
Stenographer and Typewriter.....	840 00		
	<u>\$25,790 00</u>		
1632. General Supplies.....	150 00		
1633. Telephones, Rental of.....	200 00		
1634. Contingencies .....	1,450 00		
1635. Police Detail—Salaries.....	1,400 00		
	<u>38,300 00</u>		
THE NATIONAL GUARD AND NAVAL MILITIA, KINGS COUNTY.			
Armories and Drill Rooms—For Wages of Armories, Janitors, Engineers and Laborers for the State National Guard and Naval Militia, as provided by Chapter 231 of the Laws of 1908—			
1636. Thirteenth Coast Artillery District:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
1 Expert Laborer, at \$3 per day.....	1,092 00		
12 Laborers, at \$3 per day each.....	13,140 00		
	<u>\$20,075 00</u>		
1637. Fourteenth Regiment:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
8 Laborers, at \$3 per day each.....	8,760 00		
	<u>14,600 00</u>		
1638. Twenty-third Regiment:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
2 Assistant Engineers, at \$4 per day each	2,920 00		
8 Laborers, at \$3 per day each.....	8,760 00		
	<u>16,060 00</u>		
1639. Forty-seventh Regiment:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
8 Laborers, at \$3 per day each.....	8,760 00		
	<u>14,600 00</u>		
1640. Third Battery:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
1 Expert Laborer, at \$3 per day.....	1,095 00		
3 Laborers, at \$3 per day each.....	3,285 00		
6 Hostlers, at \$3 per day each.....	6,570 00		
	<u>16,790 00</u>		
1641. Squadron "C":			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
7 Laborers, at \$3 per day each.....	7,065 00		
12 Hostlers, at \$3 per day each.....	13,140 00		
	<u>26,645 00</u>		
1642. Second Company Signal Corps:			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Assistant Engineer, at \$4 per day...	1,460 00		
1 Laborer, at \$3 per day.....	1,095 00		
	<u>6,935 00</u>		
1643. Headquarters—Second Brigade—			
1 Armorer, at \$4 per day.....	1,460 00		
1644. Second Battalion Naval Militia—			
1 Armorer, at \$4 per day.....	\$1,460 00		
1 Janitor, at \$4 per day.....	1,460 00		
1 Engineer, at \$4 per day.....	1,460 00		
1 Chief Yeoman, at \$4 per day.....	1,460 00		
1 Chief Boatswain's Mate, at \$4 per day	1,460 00		
1 Assistant Engineer, at \$3.50 per day...	1,277 50		
1 Chief Gunner's Mate, at \$3 per day...	1,095 00		
4 Laborers, at \$3 per day each.....	4,380 00		
3 Laborers, at \$3.50 per day each.....	2,737 50		
	<u>16,790 00</u>		
MISCELLANEOUS.			
1645. County Contingent Fund.....		\$5,000 00	
1646. Fees and Expenses of Juries in Kings County.....		100,000 00	
1647. Disbursements and Fees under Section 658, Code of Criminal Procedure.....		2,500 00	
1648. Law Library in Brooklyn, Kings County.....		9,000 00	
1649. Supplies for County Offices and Courts.....		1,250 00	
1650. Advertising Official Canvass and Election Notices.....		6,000 00	
1651. Compensation for Extra Clerks to Board of County Canvassers .....		1,500 00	
1652. Rent .....		1,000 00	
1653. Compensation of Stenographer to Grand Jury.....		4,000 00	
	<u>130,650 00</u>		
CHARITABLE INSTITUTIONS.			
Syracuse State Institution for Feeble-minded Children; (Chapter 546, Laws of 1896.)			
1654. For furnishing clothing, etc., for 24 inmates, at \$20 each .....		\$480 00	
Institution for the Improved Instruction of Deaf Mutes; (Chapter 386, Laws of 1864.)			
(Chapter 725, Laws of 1867.)			
(Chapter 180, Laws of 1870.)			
(Chapter 213, Laws of 1875.)			
1655. For education and support for one entire year of 23 County pupils, at \$300 each .....		6,900 00	
1656. For clothing 8 State pupils, \$30 each per annum ..		240 00	
New York Institution for the Blind; (Section 250, Greater New York Charter, as amended by Chapter 196, Laws of 1899.)			
1657. For clothing 30 State pupils, at \$50 each per annum..		1,500 00	
New York Institution for the Instruction of the Deaf and Dumb; (Chapter 325, Laws of 1863.)			
(Chapter 386, Laws of 1864.)			
(Chapter 725, Laws of 1867.)			
(Chapter 253, Laws of 1874.)			
(Chapter 213, Laws of 1875.)			
(Chapter 36, Laws of 1892.)			
1658. For education and support for one entire year of 51 County pupils, at \$300 each .....		15,300 00	
1659. For clothing 52 State pupils, at \$50 each per annum..		1,560 00	
St. Joseph's Institute for the Improved Instruction of Deaf Mutes; (Chapter 368, Laws of 1864.)			
(Chapter 212, Laws of 1875.)			
(Chapter 378, Laws of 1877.)			

1660. For education and support for one entire year of 65 County pupils, at \$300 each.	19,500 00	
1661. For clothing 70 State pupils, at \$30 each per annum.	2,100 00	
	30,300 00	
	1,634,460 74	

## THE COUNTY OF QUEENS.

1662. For additional compensation of the Justices of the Supreme Court in the Second Judicial District, in pursuance of chapter 765, Laws of 1868; chapter 126, Laws of 1882; chapter 114, Laws of 1894; chapter 34, Laws of 1895; chapter 131, Laws of 1898, and chapter 465, Laws of 1908, and for the Stenographers under said first named act, as amended by chapter 114, Laws of 1894, to the 30th of September, 1909, as provided by chapter 465, Laws of 1908.	28,073 84	
1663. For compensation of the Deputy Clerk and Attendants of the Appellate Division of the Supreme Court, in the Second Judicial Department, to September 30, 1909, as authorized by chapter 99, Laws of 1896; chapter 223, Laws of 1897; chapter 430, Laws of 1900; chapter 597, Laws of 1902, and chapter 384, Laws of 1903, and for a Case and Consultation Clerk, under chapter 88, Laws of 1907, and for two Confidential Clerks, as authorized by chapter 560, Laws of 1907.	2,768 05	
1664. For compensation of Confidential Clerks to Justices of the Supreme Court in the Second Judicial District, pursuant to chapter 892, Laws of 1896, and chapter 504, Laws of 1906.	3,183 18	
1665. For compensation of the Justices of the Supreme Court, designated to the Appellate Division of the Second Judicial Department from any districts other than the Second Judicial District, as authorized by chapter 369, Laws of 1898, and chapter 597, Laws of 1901.	4,561 75	
1666. For compensation of Confidential Clerks to Justices of the Supreme Court, designated to the Appellate Division of the Second Department, pursuant to chapter 251, Laws of 1900, and chapter 748, Laws of 1904.	1,937 64	
	842,529 46	

## BOARD OF CITY RECORD, QUEENS COUNTY.

Printing, Stationery and Blank Books for County Offices and Courts—		
1667. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.	\$1,275 00	
1668. Stationery, including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements.	1,225 00	
1669. Blank Books.	900 00	
	3,400 00	
Arrearages.		
1670. Stationery, including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements.	\$300 00	
1671. Blank Books.	100 00	
	400 00	
	3,300 00	

## SUPREME COURT AND COUNTY COURT, QUEENS COUNTY.

1672. Salaries—		
County Judge.	\$4,000 00	
Supreme Court.		
Chief Clerk.	3,000 00	
Special Deputy Clerk, 2 at \$2,500.	5,000 00	
Chief Court Attendant.	1,500 00	
Court Attendants, 7 at \$1,500.	10,500 00	
County Court.		
Chief Clerk.	3,000 00	
Confidential Clerk.	2,000 00	
Stenographer.	3,000 00	
Stenographer to Grand Jury.	1,000 00	
Court Crier.	1,800 00	
Court Interpreters, 2 at \$1,800.	3,600 00	
Chief Court Attendant.	1,300 00	
Court Attendants, 4 at \$1,500.	6,000 00	
	\$15,900 00	
1673. Additional Compensation to County Judge for Services in Drawing Juries.	2,500 00	
1674. Court Fund.	40,000 00	
1675. Contingencies.	100 00	
	400,500 00	

## SHERIFF OF QUEENS COUNTY.

1676. Salaries, County Jail—		
Warden.	\$1,200 00	
Deputy Warden.	1,200 00	
1677. Salary of Physician in County Jail.	1,200 00	
Orderly.	1,300 00	
Keepers, 9 at \$1,000 each.	9,000 00	
Matron.	800 00	
Assistant Matron.	600 00	
	\$15,300 00	
1678. Sheriff's Services in Criminal and Court Matters.	8,000 00	
1679. General Supplies.	3,500 00	

1680. Board of Prisoners.	23,000 00	
1681. Telephones, Rental of.	400 00	
1682. Contingencies.	10,000 00	
	60,200 00	

## SURROGATE'S COURT, QUEENS COUNTY.

1683. Salaries—		
Surrogate.	\$3,000 00	
Clerk of the Court.	3,000 00	
Clerk and Stenographer.	2,100 00	
Assistant Clerk.	1,500 00	
Index Clerk.	1,500 00	
Copyist.	1,200 00	
Copyist.	900 00	
Court Attendant.	1,300 00	
	\$15,700 00	
1684. General Supplies.	700 00	
1685. Telephones, Rental of.	300 00	
1686. Contingencies.	150 00	
	17,850 00	

## COUNTY CLERK, QUEENS COUNTY.

1687. For Payment of Legal Fees.	\$10,000 00	
1688. Repairing and Rebinding Books of Public Record.	5,000 00	
1689. Recopying and Transcribing Books of Public Record.	12,000 00	
1690. Recopying and Redrawing Maps.	1,000 00	
1691. Repairs and Replacements by Contracts or Open Orders.	250 00	
	28,250 00	

## DISTRICT ATTORNEY'S OFFICE, QUEENS COUNTY.

1692. Salaries—		
District Attorney.	\$5,000 00	
Assistants, Clerks, Stenographers and County Detectives.		
Assistant District Attorney.	\$3,000 00	
Deputy Assistant District Attorney.	7,200 00	
Chief Clerk.	2,400 00	
Stenographer.	1,500 00	
County Detective.	1,500 00	
	15,600 00	
	\$20,600 00	
1693. Police Detail—Salaries.	4,900 00	
1694. Contingencies.	7,000 00	
	32,500 00	

## COMMISSIONER OF JURORS, QUEENS COUNTY.

1695. Salaries—		
Commissioner of Jurors.	\$3,000 00	
Assistant Commissioner of Jurors.	2,000 00	
Clerk.	1,500 00	
Clerk.	1,200 00	
Clerk.	1,050 00	
Stenographer.	750 00	
	\$9,500 00	
1696. Jury Notice Server's Fees.	2,300 00	
1697. General Supplies.	300 00	
1698. Contingencies.	300 00	
	12,400 00	

## PUBLIC ADMINISTRATOR, QUEENS COUNTY.

1699. Salary of the Public Administrator.	1,200 00	
MISCELLANEOUS.		
1700. County Contingent Fund.	\$5,000 00	
1701. Supplies for County Offices.	1,000 00	
1702. Advertising Official Canvass and Election Notices.	2,000 00	
1703. Compensation for Extra Clerks to Board of County Canvassers.	500 00	
	8,500 00	

## THE NATIONAL GUARD.

## QUEENS COUNTY.

Armories and Drill Rooms—For Wages of Armurers, Janitors, Engineers and Laborers for the State National Guard, as provided by Chapter 231 of the Laws of 1908.		
1704. Company "I," Tenth Regiment.		
1 Armorer, at \$4 per day.	\$1,460 00	
1 Engineer, at \$4 per day.	1,460 00	
2 Laborers, at \$3 per day each.	2,190 00	
	5,110 00	

## CHARITABLE INSTITUTIONS.

Syracuse State Institution for Feeble-minded Children—(Chapter 546, Laws of 1896.)		
1705. For furnishing clothing, etc., for 4 inmates, at \$20 each.	\$80 00	
Institution for the Improved Instruction of Deaf Mutes—(Chapter 386, Laws of 1864.)		
(Chapter 725, Laws of 1867.)		
(Chapter 180, Laws of 1870.)		
(Chapter 211, Laws of 1875.)		
1706. For education and support for one entire year of 3 County pupils, at \$300 each.	900 00	
1707. For clothing 3 State pupils, at \$30 each per annum.	90 00	
New York Institution for the Blind—(Section 239, Greater New York Charter, as amended by chapter 196, Laws of 1898.)		

1708. For clothing 3 State pupils, at \$30 each per annum...	250 00
New York Institution for the Instruction of the Deaf and Dumb—	
(Chapter 325, Laws of 1863.)	
(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 253, Laws of 1874.)	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	
1709. For education and support for one entire year of 3 County pupils, at \$300 each.....	1,500 00
1710. For clothing 8 State pupils, at \$30 each per annum...	180 00
St. Joseph's Institute for the Improved Instruction of Deaf Mutes—	
(Chapter 386, Laws of 1864.)	
(Chapter 213, Laws of 1875.)	
(Chapter 378, Laws of 1877.)	
1711. For education and support for one entire year of 4 County pupils, at \$300 each.....	1,200 00
1712. For clothing 2 State pupils, at \$30 each per annum...	60 00
	4,260 00
	305,099 46

## THE COUNTY OF RICHMOND.

1713. For additional compensation of the Justices of the Supreme Court in the Second Judicial District, in pursuance of chapter 765, Laws of 1868; chapter 126, Laws of 1883; chapter 114, Laws of 1894; chapter 34, Laws of 1895; chapter 131, Laws of 1898, and chapter 465, Laws of 1908, and for the Stenographers under said first named act, as amended by chapter 114, Laws of 1894, to the 30th of September, 1909, as provided by chapter 465, Laws of 1908.....	\$6,981 68
1714. For compensation of the Deputy Clerk and Attendants of the Appellate Division of the Supreme Court in the Second Judicial Department, to September 30, 1909, as authorized by chapter 99, Laws of 1896; chapter 223, Laws of 1897; chapter 450, Laws of 1900; chapter 597, Laws of 1902, and chapter 384, Laws of 1905, and for a Case and Consultation Clerk, under chapter 88, Laws of 1907, and for two Confidential Clerks, as authorized by chapter 360, Laws of 1907.....	688 58
1715. For compensation of Confidential Clerks to Justices of the Supreme Court, in the Second Judicial District, pursuant to chapter 392, Laws of 1895, and chapter 504, Laws of 1905.....	1,290 62
1716. For compensation of the Justices of the Supreme Court, designated to the Appellate Division of the Second Judicial Department from any District other than the Second Judicial District, as authorized by chapter 309, Laws of 1898, and chapter 397, Laws of 1901.....	1,124 80
1717. For compensation of Confidential Clerks to Justices of the Supreme Court, designated to the Appellate Division of the Second Department, pursuant to chapter 251, Laws of 1900, and chapter 748, Laws of 1904.....	482 01
	\$10,579 69

## BOARD OF CITY RECORD, RICHMOND COUNTY.

Printing, Stationery and Blank Books for County Offices and Courts.	
1718. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.....	\$1,342 00
1719. Stationery, including Letter or Writing Paper or Envelopes, with Printed Headings or Endorsements.....	650 00
1720. Blank Books .....	1,655 00
	\$3,650 00

## Arrearages.

1721. Printing, Lithographing, Engraving or Stamped Forms, including Pamphlets and Printed Blanks.....	\$500 00
1722. Stationery, including Letter or Writing Paper or Envelopes with Printed Headings or Endorsements.....	150 00
	650 00
	8,300 00

## SHERIFF OF RICHMOND COUNTY.

1723. Salaries and Wages—	
Sheriff .....	\$6,000 00
Jailer .....	900 00
Prison Guards, 3 at \$3 per day each...	3,285 00
Matrons, 2 at \$800 each.....	1,600 00
Cook .....	500 00
Farmhand .....	368 00
	\$12,645 00
1724. Court Officers.....	1,600 00
1725. General Supplies.....	7,400 00
1726. Horses and Vehicles; Equipment, Care and Storage of.	750 00
1727. Telephones, Rental of.....	300 00
1728. Contingencies .....	850 00
	23,545 00

## COUNTY COURT AND SURROGATE'S COURT, RICHMOND COUNTY.

1729. Salaries—	
County Judge and Surrogate.....	\$5,000 00
Clerk of the Surrogate's Court.....	1,000 00
Court Stenographer.....	1,000 00
Confidential Clerk.....	1,650 00
Clerk in the Surrogate's Office.....	1,800 00
Court Attendant.....	1,200 00
	\$15,650 00

1730. Additional Compensation to County Judge for Services in Drawing Jurors.....	2,500 00
1731. Telephones, Rental of.....	250 00
1732. Contingencies .....	250 00

18,650 00

## COUNTY CLERK, RICHMOND COUNTY.

1733. Salaries—	
County Clerk .....	\$4,000 00
1734. General Supplies .....	400 00
1735. Telephones, Rental of.....	200 00
1736. Copying Indices to Lexicographical System.....	10,000 00
1737. Recopying, Rebinding and Renumbering Old Library.....	500 00
1738. Contingencies .....	150 00

15,230 00

## DISTRICT ATTORNEY, RICHMOND COUNTY.

1739. Salaries—	
District Attorney .....	\$4,000 00
Assistant District Attorney.....	2,500 00
Stenographer .....	1,350 00
Special Messenger and Subpoena Server .....	1,000 00
	\$8,850 00
1740. Contingencies .....	2,700 00
1741. Police Detail—Salaries .....	1,400 00

13,050 00

## COMMISSIONER OF JURORS, RICHMOND COUNTY.

1742. Salaries—	
Commissioner of Jurors.....	\$1,300 00
Assistant Commissioner of Jurors.....	1,200 00
Clerk .....	1,200 00
	\$3,900 00
1743. Jury Notice Server's Fees.....	250 00
1744. General Supplies .....	125 00
1745. Contingencies .....	125 00

4,400 00

## MISCELLANEOUS.

1746. County Contingent Fund.....	\$2,500 00
1747. Fees and Expenses of Jurors in Richmond County.....	5,000 00
1748. Disbursements and Fines under section 618, Code of Criminal Procedure .....	500 00
1749. Rent—for payment of rent for property leased for public office and other purposes of the County of Richmond for which no other provision has been made.....	3,045 00
1750. Supplies for County Offices.....	500 00
1751. Advertising Official Canvass and Election Notices.....	2,000 00
1752. Compensation for Extra Clerks to Board of County Canvassers .....	500 00

13,045 00

## CHARITABLE INSTITUTIONS.

1753. For furnishing clothing, etc., for one inmate, at \$20, to Institution for the Improved Instruction of Deaf Mutes—	\$20 00
(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 180, Laws of 1870.)	
(Chapter 213, Laws of 1875.)	
1754. For education and support for one entire year of two County pupils, at \$300 each.....	600 00

60 00

1755. For clothing two State pupils, at \$30 each per annum, to New York Institution for the Blind—	
(Section 230, Greater New York Charter, as amended by chapter 196, Laws of 1899.)	
1756. For clothing one State pupil, at \$50 per annum.....	50 00
New York Institution for the Instruction of the Deaf and Dumb—	
(Chapter 325, Laws of 1863.)	
(Chapter 386, Laws of 1864.)	
(Chapter 725, Laws of 1867.)	
(Chapter 253, Laws of 1874.)	
(Chapter 213, Laws of 1875.)	
(Chapter 36, Laws of 1892.)	
1757. For clothing seven State pupils, at \$30 each per annum.....	210 00

210 00

St. Joseph's Institute for the Improved Instruction of Deaf Mutes—	
(Chapter 386, Laws of 1864.)	
(Chapter 213, Laws of 1875.)	
(Chapter 378, Laws of 1877.)	
1758. For education and support for one entire year of two County pupils, at \$300 each.....	600 00

60 00

1759. For clothing three State pupils, at \$30 each
---

The Vice-Chairman, as Chairman of the Committee on Finance, announced that the Committee would hold a public hearing on the Budget on Monday, November 16, 1908, at 1 o'clock p.m.

Alderman R. W. B. Brown moved that the Board do now adjourn.

The Vice-Chairman put the question whether the Board would agree with said motion.

Which was decided in the affirmative.

And the Vice-Chairman declared that the Board stood adjourned sine die.

P. J. SCULLY,

City Clerk, and Clerk of the Board of Aldermen.

THE BOARD OF ALDERMEN OF THE CITY OF NEW YORK.

STATED MEETING.

Tuesday, November 10, 1908, 1:30 o'clock p.m.

The Board met in the Aldermanic Chamber, City Hall.

In the absence of the President the Vice-Chairman took the Chair.

Present:

Aldermen

Timothy P. Sullivan, Vice-Chairman;  
Thomas F. Baldwin, Thomas F. Barton, Francis P. Bent, Herman W. Beyer, B. W. B. Brown, James W. Brown, Michael J. Carter, L. Barton Case, Charles P. Cole, Daniel R. Coleman, George A. Colgan, John J. Collins, William P. Corbett, Matthew J. Crowley, Percy L. Davis, Charles Delaney, John Diemer, Reginald S. Doull, Frank L. Dowling, Robert F. Downing, William Drescher, George Eimener, Lawrence Gresser, President, Borough of Queens, Louis F. Haffen, President, Borough of The Bronx, Bird S. Coler, President, Borough of Brooklyn.

The Clerk proceeded to read the minutes of the stated meeting of November 3, 1908.

On motion of Alderman Doull further reading was dispensed with, and the minutes were approved as printed.

MESSAGES FROM HIS HONOR THE MAYOR.

The Vice-Chairman laid before the Board the following message from his Honor the Mayor:

No. 1286.

City of New York—Office of the Mayor,

November 9, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—I return herewith with my disapproval proposed resolution No. 1286, passed by your Honorable Board on October 27, 1908, entitled:

"Resolution permitting Herman Markowitz to keep iron stairway at No. 112 West One Hundred and First street, Borough of Manhattan."

I am of the opinion that this proposed resolution would create a material encumbrance on the street near Columbus Avenue, and I therefore disapprove the same.

Respectfully,

GEO. B. McCLELLAN, Mayor.

Resolved, That permission be and the same is hereby given to Herman Markowitz to erect, place and keep an iron stairway, as shown upon the accompanying diagram, in front of his premises, No. 112 West One Hundred and First street, in the Borough of Manhattan, provided the said iron stairway shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Borough. Such permission to continue only during the pleasure of the Board of Aldermen.

Which was laid over, ordered to be printed in the minutes and published in full in the City Record.

The Vice-Chairman laid before the Board the following message from his Honor the Mayor:

No. 1122.

City of New York—Office of the Mayor,

November 9, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—I return herewith, with my disapproval, proposed ordinance No. 1122, passed by your Honorable Board on October 27, 1908, entitled:

"Ordinance to amend the Code of Ordinances in relation to the discharge of firearms."

I am of the opinion that it would be very dangerous to extend the privileges set forth in said ordinance to all those who may receive a license from the County Clerks in The City of New York. It would seem that the proposed ordinance is too broad, in that it would permit indiscriminate shooting in all of the five boroughs.

Respectfully,

GEO. B. McCLELLAN, Mayor.

The Committee on Laws and Legislation, to which was referred on September 22, 1908 (Minutes, page 308), the annexed ordinance to amend section 430 of the Revised Code of Ordinances relative to the discharge of firearms, respectfully

REPORTS:

That having examined the subject, it believes the proposed concession to the wishes of a large number of persons under the proper restrictions indicated to be desirable and therefore recommends that the said ordinance be adopted.

AN ORDINANCE to amend the Code of Ordinances of The City of New York in relation to the discharge of firearms.

Be it Ordained by the Board of Aldermen of The City of New York, as follows: Section 1. Section 430 of chapter 11 of Part I. of the Code of Ordinances of The City of New York, in relation to the discharge of firearms, as amended, is hereby further amended by adding at the end thereof the words "and all other grounds, public or private, are hereby exempted from the provisions hereof in favor of persons who have been duly licensed in accordance with the provisions of chapter 130 of the Laws of 1908."

Sec. 2. This ordinance shall take effect immediately.

Note—New matter in *italic*.

JAMES W. REDMOND, JOHN F. WALSH, JOHN S. GAYNOR, JOS. D. KAVANAGH, JOSEPH SCHLOSS, JOHN J. REARDON, Committee on Laws and Legislation.

Which was laid over, ordered to be printed in the minutes and published in full in the City Record.

The Vice-Chairman laid before the Board the following message from his Honor the Mayor:

No. 518.

City of New York—Office of the Mayor,

November 2, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—I return herewith, approved, a resolution adopted by your Honorable Board October 20, 1908, entitled:

"Resolution authorizing the Police Commissioner to purchase coal without public letting for use in Queens."

It appears from a communication received from the Police Commissioner that he can purchase coal in the Borough of Queens in the open market for 40 cents less per ton than he is able to secure by public letting. The results of public lettings in three instances were rejected by the Police Commissioner, as the minimum price was far above open market value.

For this reason I have approved the resolution doing away with the usual formalities of public letting.

Respectfully,

GEO. B. McCLELLAN, Mayor.

The Committee on Public Letting, to which was referred on April 1, 1908 (Minutes, page 4), the annexed communication permitting the Police Commissioner to purchase coal in open market for use in the Borough of Queens at an expense not to exceed \$5,000, respectfully

REPORTS:

That Chief Clerk Kipp appeared before the Committee and reiterated the statements set forth in the accompanying letter from the Police Commissioner. Similar permission under the same conditions has been granted by the Board to other departments.

The Committee recommends that the annexed resolution be adopted.

Resolved, That, in pursuance of the provisions of section 419 of the Greater New York Charter, the Police Commissioner be and hereby is authorized and empowered to purchase coal for the use of the Police Department, in the Borough of Queens, for the year 1908, in open market without public letting, at the lowest price obtainable, the whole quantity of coal not to exceed eight hundred tons and the expense thereof not to exceed the sum of five thousand dollars (\$5,000).

FRANK L. DOWLING, G. A. COLGAN, JAMES J. SMITH, FREDERICK C. HOCHDORFFER, JACOB J. VELTON, JOSEPH FLANAGAN, JOHN DIEMER, WM. WENTZ, Committee on Public Letting.

Police Department—No. 300 Mulberry Street,

March 25, 1908.

To the Honorable Board of Aldermen:

Gentlemen—The Police Commissioner this day

Ordered, That application be and is hereby respectfully made to the Board of Aldermen for permission to be given to the Police Commissioner to purchase coal for use of the Police Department, in the Borough of Queens, in the open market without competing bids and that the Board of Aldermen be respectfully informed that endeavor has been made to purchase coal in the Borough of Queens by competing bids with the following results:

January 23, 1908, lowest bid, \$6.75 per ton.

February 7, 1908, lowest bid, \$6.69 per ton.

February 27, 1908, lowest bid, \$7 per ton.

March 25, 1908, lowest bid, \$6.75 per ton.

In the opinion of the Police Commissioner these prices are in excess of what can be obtained in the open market and without competing bids. For use of station houses it has been necessary to purchase coal for the Borough of Queens since January 1, 1908, in the open market and it is respectfully requested that permission of the Board of Aldermen be so given that it shall cover bills paid for that purpose, the whole quantity of coal not to exceed 800 tons and the expense not to exceed \$5,000, for which appropriation has been made by the Board of Estimate and Apportionment under account entitled Supplies for Police.

Respectfully,

THEO. A. BINGHAM, Police Commissioner.

Which communication was ordered on file.

The Vice-Chairman laid before the Board the following message from his Honor the Mayor:

No. 1180.

City of New York—Office of the Mayor,

November 2, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—I return herewith approved resolution No. 1180, entitled:

"Resolution authorizing President of Borough of Brooklyn to erect bookcases, etc., in rooms of Appellate Division of Supreme Court."

The Justices of the Appellate Division of the Second Department request that the alterations and changes be made as speedily as possible, and for this reason I have approved the resolution, dispensing with the formalities of public letting.

Respectfully,

GEO. B. McCLELLAN, Mayor.

The Committee on Public Letting, to which was referred on October 6, 1908 (Minutes, page 36), the annexed resolution in favor of authorizing the President of Borough of Brooklyn to furnish bookcases and new partitions for the Judges of the Appellate Division of the Supreme Court in Brooklyn, respectfully

REPORTS:

That, having examined the subject, it believes the proposed improvement to be necessary. The Judges have no privacy at present, and are also in need of up-to-date conveniences for their law library.

They therefore recommend that the said resolution be adopted.

Resolved, That, in pursuance of the provisions of section 419 of the Greater New York Charter, the President of the Borough is hereby authorized and empowered to erect new bookcases and new partitions and make other necessary alterations in the rooms occupied by the Appellate Division of the Supreme Court, Kings County, in the Borough of Brooklyn, at a cost not to exceed twenty-four hundred dollars (\$2,400), without public letting.

FRANK L. DOWLING, JOSEPH FLANAGAN, FREDERICK C. HOCHDORFFER, THOS. J. MULLIGAN, ROBERT F. DOWNING, JOHN DIEMER, Committee on Public Letting.

Which communication was ordered on file.

The Vice-Chairman laid before the Board the following message from his Honor the Mayor:

Nos. 1063 and 1120.

City of New York—Office of the Mayor,

November 2, 1908.

To the Honorable the Board of Aldermen of The City of New York:

Gentlemen—I return herewith, without action thereon, proposed resolutions Nos. 1063 and 1120, adopted by your Honorable Board October 20, 1908, entitled, respectively:

"Resolution authorizing the issue of \$50,000 Special Revenue Bonds to replenish appropriations for Bureau of Highways, Manhattan."

"Resolution authorizing the issue of Special Revenue Bonds for \$100,000 for maintenance and repair of streets, Borough of Brooklyn."

Section 1542 of the Charter provides that the heads of all offices and Departments of the City are "so to regulate such expenditures for any purpose or object that the same shall not in any one year exceed the amount appropriated by the Board of Estimate and Apportionment for such purpose or object."

In order that the matter may be taken up by the Board of Estimate and Apportionment and thoroughly examined, I have adopted this procedure.

Respectfully,

GEO. B. McCLELLAN, Mayor.

The Committee on Finance, to which was referred on September 22, 1908 (Minutes, page 314), the annexed resolution in favor of an issue of \$50,000 Special Revenue

Bonds to replenish sundry depleted appropriations account President Borough of Manhattan, respectfully

## REPORTS:

That President Alearn appeared before the Committee and stated that he was allowed for 1908 \$100,000 less than was expended in 1907. That owing to the continuance of fair, dry weather the men and teams employed on this work were kept busy almost every day. That unless this allowance is granted he will be compelled to cease this work and lay off these men and teams. The Committee recommends that the said resolution be adopted.

Resolved, That, pursuant to subdivision 8 of section 188 of the Greater New York Charter, the Board of Estimate and Apportionment is hereby requested to authorize the Comptroller to issue Special Revenue Bonds to the amount of fifty thousand dollars (\$50,000), for the purpose of replenishing the appropriation for

## Bureau of Highways.

## Maintenance of Stone Block Pavements—

Salaries and Wages.....	\$15,000 00
Hired Teams, Horses, Carts, etc.....	25,000 00
Maintenance of Boulevards, Roads and Avenues—	
Hired Teams, Horses, Carts, etc.....	10,000 00

\$50,000 00

—for the year 1908.

T. P. SULLIVAN, R. S. DOULL, JOHN J. COLLINS, WM. P. KENNEALLY, FRANK L. DOWLING, JAMES W. REDMOND, Committee on Finance.

The Committee on Finance, to which was referred on September 22, 1908 (Minutes, page 256), the annexed resolution in favor of \$100,000 Special Revenue Bonds for maintenance and repair of public streets, Brooklyn, respectfully

## REPORTS:

That Chief Engineer Sheridan of the Bureau of Highways appeared before the Committee and stated that his Bureau had received for this purpose \$64,000 less than was used in 1907, and that there were fifty miles of additional streets to be cared for.

The Committee recommends that the said resolution be adopted.

Resolved, That, in pursuance of the provisions of subdivision 8 of section 188 of the Greater New York Charter, the Board of Estimate and Apportionment be and hereby is requested to authorize the Comptroller to issue Special Revenue Bonds to the amount of one hundred thousand dollars (\$100,000), the proceeds whereof to be used for the maintenance and repair of streets in the Borough of Brooklyn.

R. S. DOULL, WM. P. KENNEALLY, JOHN J. COLLINS, JOHN J. HOGAN, JOHN MULVANEY, JOHN D. GUNTHER, JAMES W. REDMOND, Committee on Finance.

The City of New York,  
Office of the President of the Borough of Brooklyn,  
Brooklyn, September 10, 1908.

To the Honorable Board of Aldermen, City Hall, Manhattan:

Gentlemen—I hereby make application for the authorization by your Honorable Board of Special Revenue Bonds to the amount of one hundred thousand dollars (\$100,000), the proceeds to be used by the President of the Borough of Brooklyn for the purpose of producing labor and material for the maintenance and repair of the public streets of that Borough.

Yours very truly,  
BIRD S. COLER,  
President, Borough of Brooklyn.

Which communication was ordered on file.

## PETITIONS AND COMMUNICATIONS.

No. 1289.

Queensboro Bridge Celebration Committee,  
No. 52 Jackson Avenue, Long Island City,  
October 31, 1908.

Hon. Board of Aldermen, City Hall, New York:

Dear Sirs—At a meeting of the above committee I was directed as President of this organization to express our deep feeling of appreciation at the action of your Board in changing the name of the Blackwells Island Bridge to its new name, the Queensboro Bridge.

As citizens of the Borough of Queens, the Fifty-ninth street section of New York and Long Island, which sections are directly affected by this great structure, we are desirous of letting you know of our approval of your action and take this method of transmitting the same to your Honorable Board.

Yours respectfully,  
WM. H. WILLIAMS, Jr., President.

Which was ordered on file.

No. 1290.

From the Broadway Board of Trade, No. 1028 Gates Avenue, Brooklyn.  
To the Honorable Board of Aldermen:

Whereas, The laws relating to unnecessary noise in The City of New York are in an unsatisfactory and chaotic state and there are no ordinances forbidding the crying of wares, the ringing of junk bells and the perpetration of other such attacks upon the peace and comfort of the community;

Therefore, we, the undersigned, residents of New York City, respectfully petition your Honorable Body to adopt the Marx anti-noise ordinances and whatever other measures may seem expedient in order that relief may be afforded from the intolerable din of the public streets.

M. L. MINER,  
JOHN L. KRUGER,  
HENRY J. KEMPF,  
JOSEPH BAUER,  
JULIET LEECH,  
HELEN D. DENBIGH,  
HELEN HEYDO,  
JOSEPHINE FLETCHER,  
and many others.

Which was referred to the Committee on Laws and Legislation.

## COMMUNICATIONS FROM CITY, COUNTY AND BOROUGH OFFICERS.

The Vice-Chairman laid before the Board the following communication from the Board of Estimate and Apportionment:

No. 1291.

Board of Estimate and Apportionment, City of New York,  
Office of the Secretary, No. 27 Broadway,  
October 31, 1908.

Hon. PATRICK F. McGOWAN, President, Board of Aldermen:

Dear Sir—I transmit herewith certified copy of a resolution adopted by the Board of Estimate and Apportionment October 30, 1908, authorizing the issue of \$924 Corporate Stock to provide means for the expenses connected with the acquisition of property located on Dumont avenue, between Bradford street and Miller avenue, Borough of Brooklyn, as a site for a hospital under the jurisdiction of the Department of Public Charities (in addition to the \$37,000 authorized July 7, 1905, for this purpose), together with form of ordinance for adoption by the Board of Aldermen to indicate its concurrence therein.

I also inclose copy of communication from the Comptroller relative thereto.  
Very truly yours,

JOSEPH HAAG, Secretary.

Department of Finance,  
October 26, 1908.

Hon. HERMAN A. METZ, Comptroller:

Sir—This office is in receipt of a communication from the Corporation Counsel, dated October 22, in the matter of the action of The City of New York against Claus

Doscher. The communication transmits a stipulation that the City, in addition to paying the original sum, viz., \$36,100, was to pay \$924, which represents the carrying charges for the taxes for the years 1905, 1906 and 1907, pursuant to the amount of such bills for taxes to be established, either by the original receipted bills or by a certificate of the Deputy Collector of Taxes for the Borough of Brooklyn, and recommends that the stipulation be agreed to and that the Board of Estimate and Apportionment approve of the same and authorize the Comptroller to issue Corporate Stock in the sum of \$924, in addition to the sum of \$36,100 already authorized.

For the knowledge of the Board of Estimate and Apportionment I give a little history of the circumstances which necessitate the payment of this additional fund:

At a meeting of the Board of Estimate and Apportionment held July 14, 1905, said Board approved of the acquisition by the City of a parcel of land fronting on Dumont avenue, between Bradford and Miller avenues, in the East New York section of the Borough of Brooklyn, being 200 feet on Dumont avenue, 280 feet on Miller avenue and 280 feet on Bradford avenue, together with all the right, title and interest of the owners of the premises of, in and to the streets in front thereof to the centre thereof.

Under date of July 7, 1905, the Board of Estimate and Apportionment, at a meeting, authorized, in pursuance of the provisions of section 47 of the Greater New York Charter as amended, the issue of Corporate Stock in the amount of \$37,000, to provide means for the expense connected with the acquisition of the property. Contracts dated December 22, 1905, were entered into between Claus Doscher and The City for the acquisition of the property. The title was examined, and the title company certified that the title was good and marketable, and was vested in Claus Doscher. The Corporation Counsel approved of the certificate and issued his own certificate thereon, and a warrant was prepared in the Finance Department, dated March 14, 1906, for the sum of \$36,100 for the acquisition of this property. The difference between the purchase price, \$36,100, and the \$37,000 issue of Corporate Stock was for the purpose of a survey and the payment of the examination of title. Subsequently thereto, and for reasons probably known to the attorney for the owner of the property, he refused to give title to the City. The claim then set up was that the property had increased in value and that they could not be compelled to deliver title to the same after so long a lapse of time between the resolution of the Board of Estimate and Apportionment and the date of the warrant.

The matter was brought to your attention and you wrote to the Corporation Counsel, asking him to commence an action for specific performance of contract. This action was begun by the Corporation Counsel, and pending the action the question arose as to the validity of the title. The Corporation Counsel states in his communication that Mr. Doscher had a favorable determination in the matter and that he now proposes to carry out his contract with the City, provided the City refunds to him the amount which he paid in taxes during the time. This matter is only fair and equitable. Mr. Doscher delivered his title to the City in 1905. He would not have been obligated to pay the taxes accrued and due thereon, because being City property it would have been exempt from taxation, and therefore he should not be charged with the carrying charge of the taxes, and inasmuch as the City has had the use of the money for a period of three years and four months, which amounts to over \$3,000 on a 3 per cent. basis, I do not see any reason why the Board of Estimate and Apportionment should not approve of the request of the Corporation Counsel for this additional sum of money and the additional issue of Corporate Stock, and also the approval of the Mayor to the stipulation, in accordance with the provisions of section 255 of the Charter. I therefore recommend that the Board of Estimate and Apportionment, in pursuance of the provisions of section 47 of the Greater New York Charter as amended, approve of the issue of Corporate Stock of The City of New York in an amount not exceeding \$924, to provide means for the expense connected with the acquisition of the property located on Dumont avenue between Bradford and Miller avenues, in the Borough of Brooklyn, as a site for a hospital under the jurisdiction of the Department of Public Charities, and that when authority shall have been obtained from the Board of Aldermen the Comptroller be authorized to issue the Corporate Stock of The City of New York. That the Board further adopt a resolution authorizing the payment to Claus Doscher, or his heirs or assigns, in accordance with the stipulation hereto annexed, the said sum of \$924, or so much thereof as may be necessary, on his production of either the original bills or on furnishing a certificate of the Deputy Collector of Taxes in the Borough of Brooklyn showing the payment by the said Claus Doscher, his heirs or assigns, of the taxes on said property, which is mentioned and described in the contract dated December 22, 1905, between said Doscher and the Comptroller of The City of New York for the years 1905, 1906 and 1907.

And further, that, in accordance with the provisions of section 255 of the amended Greater New York Charter, his Honor the Mayor be requested to append his signature to the stipulation entered into between the Corporation Counsel, acting for and on behalf of The City of New York, and Claus Doscher.

Respectfully submitted for approval.

(Signed) MORTIMER J. BROWN,  
Appraiser of Real Estate, Department of Finance.

Approved:

(Signed) H. A. METZ, Comptroller.

AN ORDINANCE providing for an issue of Corporate Stock in the sum of nine hundred and twenty-four dollars (\$924), to provide means for the expenses connected with the acquisition of property located on Dumont avenue, between Bradford street and Miller avenue, Borough of Brooklyn, as a site for a hospital under the jurisdiction of the Department of Public Charities (in addition to the \$37,000 authorized on July 7, 1905, for this purpose).

Be it Ordained by the Board of Aldermen of The City of New York, as follows:

Section 1. The Board of Aldermen hereby approves of and concurs in the following resolution adopted by the Board of Estimate and Apportionment October 30, 1908, and authorizes the Comptroller to issue Corporate Stock of The City of New York to the amount and for the purposes therein specified:

Resolved, That, pursuant to the provisions of section 47 of the Greater New York Charter, as amended, the Board of Estimate and Apportionment hereby approves of the issue of Corporate Stock of The City of New York, to an amount not exceeding nine hundred and twenty-four dollars (\$924), to provide means for the expenses connected with the acquisition of property located on Dumont avenue, between Bradford street and Miller avenue, Borough of Brooklyn, as a site for a hospital, under the jurisdiction of the Department of Public Charities (in addition to the \$37,000 Corporate Stock authorized on July 7, 1905, for this purpose); and that when authority therefor shall have been obtained from the Board of Aldermen, the Comptroller be and is hereby authorized to issue Corporate Stock of The City of New York, in the manner provided by section 169 of the Greater New York Charter, to an amount not exceeding nine hundred and twenty-four dollars (\$924), the proceeds whereof to be applied to the purposes aforesaid.

Which was referred to the Committee on Finance.

The Vice-Chairman laid before the Board the following communication from the President, Borough of Brooklyn:

No. 1292.

The City of New York,  
Office of the President of the Borough of Brooklyn,  
Brooklyn, October 28, 1908.

Hon. P. J. SCULLY, Clerk, Board of Aldermen:

Dear Sir—Inclosed please find resolution adopted by the Bay Ridge District Local Board on the 12th inst., recommending to the Board of Aldermen a change in the width of the roadway of Bay Ridge avenue, between Fifth avenue and Thirteenth avenue, from 30 to 35 feet.

Very truly yours,

CHARLES FREDERICK ADAMS, Secretary.

Resolved, That the Local Board of the Bay Ridge District, Borough of Brooklyn, after hearing had this 12th day of October, 1908, deeming it for the public interest so to do, hereby recommends to the Board of Aldermen, a change in the width of the roadway of Bay Ridge avenue, between Fifth avenue and Thirteenth avenue, from thirty (30) feet to thirty-five (35) feet.

Resolved, That this resolution be forwarded to the Board of Aldermen for approval.

Adopted by the Local Board of the Bay Ridge District on the 12th day of October, 1908, Commissioner Farrell and Aldermen Kenney and Linde voting in favor thereof.

Attest:

Charles Frederick Adams, Secretary.

Approved this 24th day of October, 1908.

BIRD S. COLER, President, Borough of Brooklyn.

Which was referred to the Committee on Streets, Highways and Sewers.

The Vice-Chairman laid before the Board the following communication from the Fire Commissioner:

No. 1293.

Headquarters Fire Department, City of New York, Nos. 157 and 159 East Sixty-seventh Street, Borough of Manhattan, October 27, 1908.

Hon. PATRICK F. McGOWAN, President, Board of Aldermen:

Sir—Referring to the resolution adopted by the Honorable the Board of Aldermen, at meeting held October 6, requesting that the Fire Commissioner assign a member of the uniformed force to duty at each public school building in The City of New York during the period of school hours, so that there may be afforded to Teachers and pupils protection in the event of fire, I beg to say that I have caused an investigation to be made and have found that there are in the Greater City 548 schools. To comply with the resolution would require that two men be taken from each company in the whole Department for a number of hours each school day and night. If this became the rule, it would be followed by demands for similar protection for the very large number of private education institutions.

Under the present conditions it will be impracticable, if it were deemed necessary, to comply with the resolution. Moreover, the companies of the Department would be on the scene, ready for any purpose for which their services would be required, in from one to one and a half minutes from the time the alarm is received.

Respectfully,

NICHOLAS J. HAYES, Fire Commissioner.

Which was ordered on file.

The Vice-Chairman laid before the Board the following communication from the Fire Commissioner:

No. 1294.

Headquarters Fire Department, City of New York, Nos. 157 and 159 East Sixty-seventh Street, Borough of Manhattan, October 5, 1908.

Hon. PATRICK F. McGOWAN, President, Board of Aldermen, City Hall, New York:

Sir—I have the honor to request that your Honorable Board grant me authority to purchase by contract, without public letting, one sixty-horse power automobile high pressure hose wagon for this Department, the cost thereof not to exceed \$7,000. This wagon is intended for service within the district covered by the high pressure system in the Borough of Manhattan, and its use would result in the saving of time in responding to alarms for fire.

Respectfully,

NICHOLAS J. HAYES, Fire Commissioner.

Which was referred to the Committee on Public Letting.

The Vice-Chairman laid before the Board the following communications from the Department of Water Supply, Gas and Electricity:

No. 1295.

Department of Water Supply, Gas and Electricity, Commissioner's Office, Nos. 13 to 21 Park Row, City of New York, October 30, 1908.

Hon. PATRICK F. McGOWAN, President, Board of Aldermen:

Dear Sir—For the proper protection of the high pressure fire hydrants and other hydrants connected with the distribution systems, the Department has found it necessary to draft special ordinances governing same. The Corporation Counsel has drafted the proposed changes in the ordinances, copies of which are hereto attached.

Will you kindly present them to the Honorable Board of Aldermen, at the next meeting, for their consideration and approval?

Respectfully,

JOHN H. O'BRIEN, Commissioner.

AN ORDINANCE amending the Code of Ordinances as to hydrants and use of water therefrom.

Be it Ordained, by the Board of Aldermen of The City of New York, as follows:

Section 1. Section 288 of the Code of Ordinances of The City of New York, part 1, chapter 6, article 3, is hereby amended so as to read as follows:

"Section 288. No person other than an employee of the Department of Water Supply, Gas and Electricity, or the Fire Department, shall, without previous permission in writing from the Commissioner of Water Supply, Gas and Electricity, unscrew or open any hydrant, nor shall leave said hydrant open for a longer period than shall be limited in said permission, nor shall use water for other purposes than may be mentioned in said permission. Any one violating any of the provisions of this section shall be subject to a fine of not less than five dollars nor more than twenty-five dollars, to be imposed by any city magistrate, and in default of payment of any fine so imposed, such city magistrate shall commit such offender to the city prison for a period not to exceed ten days."

Section 2. Section 291 of the Code of Ordinances of The City of New York, part 1, chapter 6, article 4, is hereby amended so as to read as follows:

"Section 291. No person or persons not connected with either the Department of Water Supply, Gas and Electricity or the Fire Department, shall open or use or tamper with any hydrant connected with the high pressure fire system. Any one violating any of the provisions of this section shall be subject to a fine of not less than five dollars, nor more than twenty-five dollars, to be imposed by any city magistrate, and in default of payment of any fine so imposed, such city magistrate shall commit such offender to the city prison for a period not to exceed ten days."

Which was referred to the Committee on Water Supply, Gas and Electricity.

No. 1296.

Department of Water Supply, Gas and Electricity, Commissioners' Office, Nos. 13 to 21 Park Row, City of New York, November 2, 1908.

Hon. PATRICK F. McGOWAN, President, Board of Aldermen:

Dear Sir—I find it necessary to request an issue of Special Revenue Bonds in the sum of five thousand dollars (\$5,000), to replenish the Department appropriation "Water Supply Collection and Storage—Pumping Stations Repair and Renewals." There was appropriated to this account the sum of \$18,000. Bills have already been paid for material and work furnished chargeable to this appropriation, and there are outstanding liabilities against the fund approximating \$17,000.

The Engineer reports that the roofs of the One Hundred and Seventy-ninth Street and the High Bridge Pumping Stations are in need of immediate repair, and it is quite important that this work be done before the winter weather sets in. The estimated cost of these repairs is \$625. The money appropriated to this account has been used principally for the repair of engines. The pumping machinery is in constant use, thereby requiring repairs frequently. Requisitions have just been issued for further repairs and replacement to damaged parts of engines, the cost of which is approximately \$1,050, so that with the orders now outstanding for repairs to engines and for the repair of the One Hundred and Seventy-ninth Street and the High Bridge Pumping Stations the appropriation will have become exhausted. For the coming two months it is estimated that the repairs to the engines in the four pumping stations will cost about \$3,000.

The roofs of the boiler and engine rooms, the coal bunker and the main building of the Ninety-eighth Street Pumping Station are in need of repairs, and unless this work is done immediately it necessarily follows that the expense will be greater as the defects will increase with each storm. The buildings can be put in thorough repair at an expense of \$1,500.

I respectfully ask that you present this communication to the Honorable Board of Aldermen for their consideration.

I attach a form of resolution providing for the issue of Special Revenue Bonds, in accordance with the provisions of section 188 of the Revised Charter.

Respectfully,

JOHN H. O'BRIEN, Commissioner.

Resolved. That in pursuance of the provisions of subdivision 8, section 188 of the Greater New York Charter, the Board of Estimate and Apportionment be and hereby is requested to authorize the Comptroller to issue Special Revenue Bonds in the sum of five thousand dollars (\$5,000), to replenish the appropriation of the Department of Water Supply, Gas and Electricity, Borough of Manhattan, account "Water Supply—Collection and Storage—Repairs and Renewals."

Which was referred to the Committee on Finance.

The Vice-Chairman laid before the Board the following communication from the Board of City Magistrates, First Division:

No. 1297.

Board of City Magistrates, First Division, City of New York, New York, November 7, 1908.

The Honorable the Board of Aldermen of The City of New York:

Gentlemen—The Board of City Magistrates of the First Division, City of New York, herewith respectfully requests your Honorable Body to pass a resolution authorizing the issuance of Revenue Bonds for the sum of eleven hundred and twenty-five dollars (\$1,125) for the payment of salaries of the following named female Protection Officers, at the rate of \$75 per month, to cover the period from the 1st of August, 1908, at which time said officers were appointed, until the end of the present year, December 31, 1908:

Mrs. Mary A. Skelly, No. 216 East Forty-ninth street, City.

Mrs. Henriette L. Smith, No. 62 West One Hundred and Thirty-first street, City.

Miss Minnie A. DeChard, No. 429 East Fifty-sixth street, City.

Respectfully yours,

PHILIP BLOCH, Secretary.

Which was referred to the Committee on Finance.

The Vice-Chairman laid before the Board the following communication from the Board of Health:

No. 1298.

Department of Health, Corner Fifty-fifth Street and Sixth Avenue, New York, November 9, 1908.

Hon. P. J. SCULLY, City Clerk, City of New York:

Sir—At a meeting of the Board of Health of the Department of Health, held November 9, 1908, the following preamble and resolution were adopted:

Whereas, The Board of Aldermen, at a meeting held October 20, 1908, did adopt a resolution requesting the Board of Estimate and Apportionment, in compliance with subdivision 8 of section 188 of the Greater New York Charter, to authorize the Comptroller to issue Special Revenue Bonds to an amount not to exceed the sum of \$13,000, to be expended under the direction of the Board of Health for the purpose of instructing the citizens of The City of New York in the prevention of the further spread of tuberculosis; be it

Resolved. That the Board of Aldermen be and is hereby respectfully requested to authorize the Board of Health, pursuant to the provisions of section 419 of chapter 466 of the Laws of 1901, to expend the sum provided by such Special Revenue Bonds when issued, in the open market without public letting, and upon the most reasonable terms obtainable.

A true copy.

EUGENE W. SCHEFFER, Secretary.

In connection therewith the Vice-Chairman offered the following:

Resolved. That, in pursuance of the provisions of section 419 of the Greater New York Charter, the Board of Health be and it is hereby authorized and empowered to enter into contract without public letting for all necessary work, material, labor and services in connection with the exhibit to be held for the purpose of instructing the citizens of The City of New York in the prevention of a further spread of tuberculosis, all expenses in connection therewith to be met out of the issue of Special Revenue Bonds to the amount of thirteen thousand dollars (\$13,000), authorized by the Board of Estimate and Apportionment, in accordance with the provisions of a resolution adopted by the Board of Aldermen October 20, 1908, and received from his Honor the Mayor November 4, 1908.

The Vice-Chairman put the question whether the Board would agree with said resolution.

Which was unanimously decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barton, Bent, Beyer, B. W. B. Brown, J. W. Brown, Carter, Case, Cole, Coleman, Colgan, Corbett, Crowley, Davis, Delaney, Diemer, Doull, Dowling, Downing, Drescher, Emener, Esterbrook, Finnigan, Flanagan, Flynn, Gaynor, Grimm, Gunther, Handy, Heffernan, Hickey, Hines, Hochdorffer, Hogan, Kenney, Levine, Linde, Loos, Marx, McAleer, Morrison, Moskowitz, Muhlbauer, Mulcahy, Mulligan, Mulvaney, Murphy, Nagle, Nugent, O'Reilly, Redmond, Redmond, Renut, Schneider, Smith, Stapleton, Sturmont, Walsh, Wentz; President Gresser and the Vice-Chairman—62.

#### REPORTS OF STANDING COMMITTEES.

Reports of Committee on Rules—

No. 1297.

The Committee on Rules, to which was referred on October 13, 1908 (Minutes, page 86), the annexed resolution in favor of appointing a Committee of Five to investigate office of Commissioners of Accounts, respectfully

#### REPORTS:

That, in accordance with the instructions of the Board embodied in resolution adopted October 13, 1908, it appoints as such Committee Aldermen Doull, Dowling, Redmond, Hochdorffer and Esterbrook.

Resolved, That a Committee of Five be appointed to make the investigation authorized by resolution adopted October 13, 1908.

R. S. DOULL, T. P. SULLIVAN, FRANK L. DOWLING, JOHN D. GUNTHNER, WM. P. KENNEALLY, Committee on Rules.

Which report was accepted.

No. 1298.

The Committee on Rules, to which was referred on October 27, 1908 (Minutes, page 183), the annexed resolution in favor of appointing a Special Committee to act in the matter of the dedication of the monument to the Prison Ship Martyrs, respectfully

#### REPORTS:

That, in order that full respect may be paid to the memory of these sufferers, it believes a larger Committee than that contemplated by the resolution should be appointed, and therefore designates the following members as such Committee: Albermarle Walsh (Chairman), O'Reilly, Kavanagh, Velten, Hickey, Kenney, Colgan, Linde, Gaynor, Schloss and Diemer.

Resolved, That a Special Committee of five members of the Board of Aldermen be appointed to act in conjunction with his Honor the Mayor in the matter of the dedication of the monument to the Prison Ship Martyrs, in Fort Greene Park, in the Borough of Brooklyn, on Saturday, November 14, 1908.

R. S. DOULL, T. P. SULLIVAN, FRANK L. DOWLING, JOHN D. GUNTHNER, WM. P. KENNEALLY, Committee on Rules.

Which report was accepted.

Report of Committee on Finance—

No. 1295—(G. O. No. 101).

The Committee on Finance, to which was referred on October 13, 1908 (Minutes, page 48), the annexed resolution in favor of an issue of \$5,000 Special Revenue Bonds to replenish contingent account of District Attorney of Kings County, respectfully

## REPORTS:

That the details of the amount required by the District Attorney of Kings County will be found in statement furnished by that official which is hereto annexed. The Committee recommends that the said resolution be adopted.

Resolved, That, in pursuance of the provisions of subdivision 8 of section 188 of the Greater New York Charter the Board of Estimate and Apportionment be and it is hereby requested to authorize the Comptroller to issue Special Revenue Bonds to the amount of five thousand dollars (\$5,000) for the purpose of replenishing the Contingent Account of the District Attorney of the County of Kings.

T. P. SULLIVAN, R. S. DOULL, WM. P. KENNEALLY, FRANK L. DOWLING, JOHN DIEMER, JOHN D. GUNTHER, JOHN J. COLLINS, JAMES W. REDMOND, Committee on Finance.

District Attorney's Office,  
Brooklyn, October 28, 1908.

Hon. JOHN F. CLARKE, District Attorney:

My Dear Sir—I have the honor to submit to you the following statement, in general form, of bills now owing by this office and which should have been paid heretofore, to wit:

To John Lanyon, for services rendered in collecting evidence in People against William Engeman and in some twenty other cases involving violations of chapter 507 of the Laws of 1908, as rendered during July, 1908.....  
To ditto as rendered during August, 1908.....  
To Robert H. Elder, the undersigned, for various sums of money disbursed in payment of official bills while he was Acting District Attorney in June, July and August, 1908.....  
To ditto.....  
To Andrew L. Drummond, for services rendered in collecting evidence in the case of the People against John Cavanagh, and in some twenty other cases involving violations of chapter 507 of the Laws of 1908.....  
To Henry C. Nicholson and others for services rendered in collecting evidence in the case of the People against Lichtenstein, Jones and various others, all of whom were charged with violations of chapter 507 of the Laws of 1908.....  
To John Lanyon, for services rendered during the month of September, 1908, in collecting evidence in the case of the People against the Coney Island Jockey Club and various other persons all charged with violations of chapter 507 of the Laws of 1908.....  
Total.....

\$1,300.75  
444.60  
  
474.30  
179.10  
  
614.60  
  
84.50  
  
1,815.90  
  
\$4,913.75

There may be two or three other small bills, but they cannot amount to more than \$50 altogether, and, on the other hand, the above bill of \$1,815.90 may be reduced by \$15 or \$20 when analyzed by the Comptroller's auditors.

Yours truly,  
ROBERT H. ELDER.

## Bills Unpaid in the District Attorney's Office, Kings County.

Brooklyn Citizen.....  
Edward Orr, professional services (People vs. Henry S. Snow).....  
Austin Ludlam, surveys (People vs. Marrin).....  
Title Insurance Company, searches (People vs. Marrin).....  
Title Guarantee and Trust Company (People vs. Marrin).....  
William Hemstreet, stenographic minutes (People vs. Dawkins).....  
J. J. A. O'Reilly, M. D., professional services (People vs. Fricke).....  
J. J. A. O'Reilly, M. D., professional services (People vs. Stenke).....  
John E. Norcross, stenographic minutes (People vs. Goldfarb).....  
John E. Norcross, stenographic minutes (People vs. Frendi).....  
J. J. A. O'Reilly, M. D., professional services (People vs. Carlin).....  
J. J. A. O'Reilly, M. D., professional services (People vs. Stewart).....  
J. J. A. O'Reilly, M. D., professional services (People vs. Schmidt).....  
Michael Bevac, services rendered (People vs. Rihis, murder 1st).....  
Brooklyn Citizen, printing.....  
Charles J. Joyce, stenographic minutes.....  
Benjamin Amsterdam, witness from Philadelphia (People vs. Smelovitz).....  
Extradition expenses (People vs. Renaldo).....  
William J. Kingsley, handwriting expert (People vs. Bonneventre).....  
New York and New Jersey Telephone Company, August, 1908.....  
Fallon Law Bank Company.....  
William E. Dennis, handwriting expert (People vs. Marrin).....  
Joseph J. Reiter, professional services rendered in connection with searching titles (People vs. Marrin).....  
Appeal Printing Company.....  
Mount Tabor Spring Water Company.....  
Hunter Collins, printing.....  
Hunter Collins, printing.....  
American Writing Machine Company.....  
Stevenson & Marsters, stationery.....  
Bag for office.....  
Brooklyn Citizen, printing.....  
Dudley Fagan, stenographic minutes (People vs. Papp).....  
Services of Italian interpreter.....  
Charles J. Joyce, stenographic minutes (People vs. Miele).....  
Typewriting machine repairs.....  
William Hemstreet, stenographic minutes (People vs. Morelli).....  
W. B. Close, stenographic minutes.....  
William Hemstreet, stenographic minutes.....  
William Hemstreet, stenographic minutes.....  
New York and New Jersey Telephone Company, July, 1908.....  
Brooklyn Citizen, printing.....  
William Hemstreet, stenographic minutes (People vs. Rago).....  
William Hemstreet, stenographic minutes (People vs. Berkowitz).....  
Joseph S. Hall, photographer.....  
New York and New Jersey Telephone Company, September, 1908.....  
Jacob S. Worckman, witness fee (People vs. Scatolano).....  
Stenographic minutes in People vs. Marrin, approximately.....  
Telephone service for three months, approximately.....  
Incidental office expenses for three months.....  
Expenses in trials of the People vs. Jenkins and People vs. Gow, known as the bank cases, wherein defendants are charged with violation of the banking laws.....  
  
2,500.00  
  
\$8,726.05

Under Rule 21, consideration of this report was deferred. Subsequently Alderman Dowling moved the adoption of this report.

The Vice-Chairman put the question whether the Board would agree to accept such report and adopt said resolution.

Which was decided in the negative by the following vote, three-fourths of all the members elected failing to vote in favor thereof:

Affirmative—Aldermen Baldwin, Barton, Bent, Beyer, B. W. B. Brown, J. W. Brown, Carter, Case, Cole, Coleman, Colgan, Corbett, Crowley, Davis, Delaney, Diemer, Doull, Dowling, Downing, Drescher, Emener, Esterbrook, Finnigan, Flanagan, Flynn, Gaynor, Grimm, Gunther, Handy, Heffernan, Hickey, Hines, Hochdorffer, Hogan, Kavanagh, Kenneally, Kenney, Levine, Linde, Martyn, Marx, McAleer, McDonald, Morrison, Moskowitz, Muhlbauer, Mulligan, Mulvaney, Murphy, Nagle, O'Reilly, Quinn, Reardon, Rendt, Sandford, Walsh, Wentz; President Gresser and the Vice-Chairman—58.

On motion of Alderman Diemer, the above vote was reconsidered and the paper was placed on the list of General Orders.

Subsequently Alderman Heffernan called up the above General Order No. 101.

The Vice-Chairman put the question whether the Board would agree to accept such report and adopt said resolution.

Which was decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barton, Bent, Beyer, B. W. B. Brown, J. W. Brown, Carter, Case, Cole, Coleman, Colgan, Corbett, Crowley, Davis, Delaney, Diemer, Doull, Dowling, Downing, Drescher, Emener, Esterbrook, Finnigan, Flanagan, Flynn, Gaynor, Grimm, Gunther, Handy, Heffernan, Hickey, Hines, Hochdorffer, Hogan, Kavanagh, Kenneally, Kenney, Levine, Linde, Martyn, McAleer, McDonald, Moskowitz, Muhlbauer, Mulligan, Mulvaney, Murphy, Nagle, O'Reilly, Quinn, Reardon, Rendt, Sandford, Schloss, Schneider, Veltin, Wentz; President Gresser, President Haffen, President Ceder and the Vice-Chairman—63.

No. 1244.

The Committee on Finance, to which was referred on October 25, 1908 (Minutes, page 97), the annexed ordinance in favor of an issue of \$1,800,000 Corporate Stock for extension of high pressure water service, respectfully

## REPORTS:

That having examined the subject, it believes the proposed improvement to be necessary.

It therefore recommends that the said ordinance be adopted.

AN ORDINANCE providing for an issue of Corporate Stock in the sum of one million eight hundred thousand dollars (\$1,800,000) for the extension of the high pressure water service for fire and other purposes in the Borough of Manhattan.

Be it Ordained by the Board of Aldermen of The City of New York as follows:

Section 1. The Board of Aldermen hereby approves of and concurs in the following resolution adopted by the Board of Estimate and Apportionment October 16, 1908, and authorizes the Comptroller to issue Corporate Stock of The City of New York, to the amount and for the purposes therein specified:

Resolved, That, pursuant to the provisions of section 178 of the Greater New York Charter, the Board of Estimate and Apportionment hereby approves of the issue of Corporate Stock of The City of New York, to the amount of one million eight hundred thousand dollars (\$1,800,000), to provide means for the extension of the high pressure water service for fire and other purposes in the Borough of Manhattan, as set forth in section 178 of the Charter; and when authority therefor shall have been obtained from the Board of Aldermen, the Comptroller is authorized to issue Corporate Stock of The City of New York, in the manner provided by section 169 of the Greater New York Charter, to an amount not exceeding one million eight hundred thousand dollars (\$1,800,000), the proceeds whereof to be applied to the purposes aforesaid.

T. P. SULLIVAN, R. S. DOULL, WM. P. KENNEALLY, FRANK L. DOWLING, JOHN DIEMER, JOHN D. GUNTHER, JOHN J. COLLINS, JAMES W. REDMOND, Committee on Finance.

Under Rule 21, consideration of this report was deferred. Subsequently Alderman Dowling moved the adoption of this report.

The Vice-Chairman put the question whether the Board would agree to accept such report and adopt said ordinance.

Which was decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barton, Bent, B. W. B. Brown, J. W. Brown, Carter, Cole, Coleman, Corbett, Crowley, Davis, Delaney, Diemer, Doull, Dowling, Downing, Drescher, Emener, Esterbrook, Finnigan, Flanagan, Flynn, Gaynor, Grimm, Gunther, Handy, Heffernan, Kavanagh, Kenneally, Kenney, Levine, Linde, Martyn, McAleer, McDonald, Muhlbauer, Mulligan, Mulvaney, Murphy, Nagle, Nugent, O'Reilly, Reardon, Rendt, Schneider, Veltin, Wentz; President Gresser, President Haffen, and the Vice-Chairman—42.

No. 1264.

The Committee on Finance, to which was referred on October 26, 1908 (Minutes, page 141), the annexed resolution in favor of an issue of Special Revenue Bonds to the amount of \$5,876.80 to pay Louis Lucia for services as Italian Interpreter, respectfully

## REPORTS:

That this matter should emanate from the Board of Justices of the Municipal Courts, Borough of Brooklyn. The attorney in the case having stated that he would have the resolution come from such Board, the Committee recommends that the said resolution be placed on file.

Resolved, That, in pursuance of the provisions of subdivision 8 of section 188 of the Greater New York Charter, the Board of Estimate and Apportionment be and it is hereby requested to authorize the Comptroller to issue Special Revenue Bonds to the amount of \$5,876.80, or as much thereof as may be necessary, to meet the payment of the claim of Louis Lucia for services rendered as an Italian Interpreter in the Municipal Court of The City of New York, Borough of Brooklyn, as certified to by the Hon. Alex. S. Rosenthal, Hon. Thomas H. Williams, Hon. Gerard B. Vanwart and Hon. Cornelius Furguson.

T. P. SULLIVAN, R. S. DOULL, WM. P. KENNEALLY, FRANK L. DOWLING, JOHN DIEMER, JOHN D. GUNTHER, JOHN J. COLLINS, JAMES W. REDMOND, Committee on Finance.

Which report was accepted.

No. 1270—(G. O. No. 102).

The Committee on Finance, to which was referred on October 27, 1908 (Minutes, page 155), the annexed resolution in favor of an issue of \$130,100 Special Revenue Bonds to meet deficiencies, Department of Street Cleaning, respectfully

## REPORTS:

That having examined the subject, it believes the proposed equipment to be necessary in order to perform the work of the Department in an efficient manner. The annexed statement of the Commissioner of Street Cleaning gives the detail of equipment needed, and the date when it was last replenished. The Committee recommends that the said resolution be adopted.

Resolved, That, in pursuance of the provisions of subdivision 8 of section 188 of the Greater New York Charter, the Board of Estimate and Apportionment be and it is hereby requested to authorize the Comptroller to issue Special Revenue Bonds to the amount of one hundred and thirty thousand one hundred and nine dollars (\$130,109), the proceeds whereof to be used by the Commissioner of Street Cleaning for the purpose of replenishing such supplies and articles as have become worn out, etc., in the service of his Department.

T. P. SULLIVAN, R. S. DOULL, WM. P. KENNEALLY, FRANK L. DOWLING, JOHN DIEMER, JOHN D. GUNTHER, JOHN J. COLLINS, JAMES W. REDMOND, Committee on Finance.

Department of Street Cleaning.  
Nos. 13 to 21 Park Row.  
New York, October 27, 1908.

Hon. PATRICK F. McGOWAN, President of the Board of Aldermen, City of New York:

Dear Sir—I respectfully submit herewith an itemized account of the number and kinds of various supplies which I am advised it will be necessary to purchase at once by means of an issue of Special Revenue Bonds, for the purpose of replenishing such supplies and articles as have become worn out, etc., in the service.

## Borough of Manhattan.

1,200 quarter wooden-lined blankets, at \$3.50 each.....	\$3,900.00
800 horse pipe collars, at \$4 each.....	3,200.00
250 draught horses, at \$325 each.....	81,250.00
250 sets of cart harness, at \$22 each.....	5,500.00

\$93,450.00

## Borough of Brooklyn.

250 quarter blankets, at \$3.50 each.....	\$875.00
125 horse pipe collars, at \$4 each.....	500.00
50 draught horses, at \$325 each.....	16,250.00
26 sets cart harness, at \$22 per set.....	572.00

18,197.00



price obtainable, such furniture, fixtures and apparatus as are necessary or required to completely equip the Measles Pavilion, located on the grounds of the Kingston Avenue Hospital, at Kingston avenue and Fenimore street, in the Borough of Brooklyn, to an amount not exceeding fifteen thousand dollars (\$15,000).

FRANK L. DOWLING, MAX S. LEVINE, JACOB J. VELTEN, FREDERICK C. HOCHDORFFER, G. A. COLGAN, ROBERT F. DOWLING, Committee on Public Letting.

Department of Health,  
Corner Fifty-fifth Street and Sixth Avenue,  
New York, June 27, 1908.

Hon. FRANK L. DOWLING, Chairman, Committee on Public Letting:

Sir—In connection with a resolution adopted by the Board of Health on June 3 requesting your Honorable Board to authorize the equipment of the Measles Pavilion at the Kingston Avenue Hospital, pursuant to the provisions of section 419 of Chapter 466 of the Laws of 1901, to an amount not to exceed \$15,000, I beg to submit the following facts:

This Department has just completed the erection of a Measles Pavilion at the Kingston Avenue Hospital, which will accommodate two hundred and fifty patients. As this building is urgently needed to relieve the overcrowded condition of the above hospital, the Department is desirous of equipping this building at the earliest possible moment, which can probably be done in a week or ten days if your Board will grant the authorization requested; otherwise if obliged to equip same under advertised contracts, it will no doubt delay the opening of this building for three or probably four months.

Your earnest and favorable co-operation in the above matter is urgently requested. I inclose herewith a statement showing the items required for the equipment of the aforesaid Measles Pavilion.

Respectfully,

WALTER BENSEL, M. D., Sanitary Superintendent.

Equipment of Measles Pavilion.

150 white enameled iron beds, at \$7.50 each.....	\$1,125.00
150 white enameled iron cribs, at \$9 each.....	1,350.00
150 white enameled steel chairs and rockers, at \$5 each.....	750.00
250 white enameled steel bedside tables, at \$5 each.....	1,250.00
20 white enameled steel dining tables, at \$15 each.....	300.00
20 white enameled steel ward tables, at \$25 each.....	500.00
10 white enameled steel medicine cabinets, at \$30 each.....	900.00
1 operating table.....	200.00
1 sterilizing outfit.....	650.00
24 white enameled bed screens, at \$10 each.....	240.00
6 ward carriages, at \$50 each.....	300.00
5 instrument and dressing cabinets, at \$50 each.....	250.00
1 wheel stretcher.....	50.00
Outfit for operating room.....	1,000.00
Glassware instruments and small wares for wards.....	3,000.00
Bedding and clothing.....	3,000.00
 Total.....	 \$14,865.00

The Vice-Chairman put the question whether the Board would agree to accept such report and adopt said resolution.

Which was decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barton, Bent, Beyer, B. W. B. Brown, J. W. Brown, Carter, Case, Cole, Coleman, Colgan, Collins, Corbett, Crowley, Davis, Delaney, Diemer, Doall, Dowling, Downing, Drescher, Esterbrook, Finnigan, Flanagan, Flynn, Gaynor, Grimm, Gauthier, Handy, Heffernan, Hickey, Hochdorffer, Hogan, Kenneally, Kenney, Levine, Lingle, Loos, McAleer, McCann, McDonald, Moskowitz, Mulcahy, Mulligan, Murphy, Nagle, Nugent, O'Reilly, Reardon, Rendt, Sandford, Schloss, Schneider, Smith, Veltten, Walsh, Wentz, President Gresser, President Haffen and the Vice-Chairman—61.

#### MOTIONS, ORDINANCES AND RESOLUTIONS.

No. 1301.

By the President—

Resolved, That the following named persons be and they are hereby appointed Commissioners of Deeds:

By the President—

J. H. Taylor, No. 104 West Forty-second street, Manhattan.  
Janet Halperin, No. 2586 Atlantic avenue, Brooklyn.  
Charles Feldstein, No. 21 Avenue B, Manhattan.  
M. Henry Wurtzel, No. 26 West One Hundred and Thirteenth street, Manhattan.  
Josua Weinstock, No. 58 East Ninety-fourth street, Manhattan.  
Errol E. Hart, No. 2034 Bath avenue, Bensonhurst, Brooklyn.  
M. Armstrong, No. 141 Broadway, Manhattan.  
Joseph B. Braman, No. 1274 Broadway, Manhattan.  
John C. Hoenninger, No. 66 East Eighty-sixth street, Manhattan.  
C. E. Finken, No. 7414 Fourteenth avenue, Brooklyn.  
Denis O'Sullivan, No. 302 Broadway, Manhattan.  
Joseph L. Young, No. 148 Clinton avenue, Brooklyn.

By the Vice-Chairman—

D. L. Bonomolo, No. 246 Elizabeth street, Manhattan.  
Samuel Stark, No. 346 Broadway, Manhattan.

By Alderman Baldwin—

Johns Holzwasser, No. 828 Lexington avenue, Manhattan.  
Jessie Tracy, No. 240 East Seventy-sixth street, Manhattan.  
Solomon Dannerberg, No. 84 Nassau street, Manhattan.  
Moses Friedman, No. 415 East Fiftieth street, Manhattan.

By Alderman Barton—

John J. Kenney, No. 80 Meeker avenue, Brooklyn.  
Joseph P. Skivington, No. 854 Manhattan avenue, Brooklyn.

By Alderman Beyer—

Robert J. McAnland, No. 204 Ninth avenue, Manhattan.  
By Alderman Carter—

Fred W. Meltzer, No. 390 Lincoln avenue, Richmond Hill, Queens.  
Stephen H. Voris, No. 336 Fulton street, Jamaica, Queens.

By Alderman Cole—

Benjamin Kohn, No. 510 Boulevard, Rockaway Beach, Queens.

Emma J. Heymann, No. 106 Fingerhut road, Staten Island.

By Alderman Coleman—

James C. Danzilo, No. 26 Court street, Brooklyn.  
By Alderman Colgan—

James B. Bowen, No. 81 West One Hundred and Fourth street, Manhattan.  
John Sweeny, No. 451 East One Hundred and Fortieth street, Manhattan.  
John Detieck, No. 57 Euclid avenue, Brooklyn.

S. A. Livingston, No. 162 Wyma street, Brooklyn.  
L. Matteo, No. 128 Hudson street, Brooklyn.  
Martin Byrne, No. 116 Johnson street, Brooklyn.

John B. Melillo, No. 76 Navy street, Brooklyn.

By Alderman Crowley—

Edward H. Rowley, No. 56 Maiden lane, Manhattan.

By Alderman Delaney—

Isidore Tsokin, No. 54 East One Hundred and Twelfth street, Manhattan.  
John N. Itzel, No. 123 East One Hundred and Fifth street, Manhattan.

Richard Dornheimer, No. 1423 Third avenue, Manhattan.

By Alderman Diemer—

Henry R. Willis, No. 310 Lewis avenue, Brooklyn.  
M. James McLaughlin, No. 825 Lafayette avenue, Brooklyn.

James C. White, No. 104 Ocean View avenue, Queens.

Paula Brown, No. 147 Hart street, Brooklyn.

By Alderman Doull—

Max Meisel, No. 140 Nassau street, Manhattan.  
Charles G. Loeb, No. 350 Broadway, Manhattan.  
Joseph P. McCarthy, No. 501 West Thirty-fourth street, Manhattan.

By Alderman Downing—

Michael Cafiero, No. 567 Henry street, Brooklyn.  
N. A. Nelson, No. 67 Court street, Brooklyn.  
George S. Newcomb, No. 215 Montague street, Brooklyn.

J. Edward Orr, No. 91 Pineapple street, Brooklyn.

By Alderman Echner—

Fred W. Burr, Perry avenue, near Clermont avenue, Maspeth, Queens.  
Peter J. Kerner, No. 339 Woodward avenue, Ridgewood Heights, Queens.  
James DeLeo, No. 581 Jackson avenue, Long Island City, Queens.

W. H. Guardenier, No. 493 Washington avenue, Brooklyn.

By Alderman Esterbrook—

Chas. F. Harms, No. 460 Madison street, Brooklyn.

By Alderman Finnigan—

Harry S. Sullivan, No. 893 Greene avenue, Brooklyn.

By Alderman Flynn—

John W. Saukaits, No. 50 Broadway, Manhattan.

By Alderman Gaynor—

Chris C. Mollenhauer, No. 147 Broadway, Brooklyn.

By Alderman Grimm—

A. H. Hein, No. 409 Miller avenue, Brooklyn.

By Alderman Gauthier—

Henry Ritter, No. 578 Eleventh street, Brooklyn.

Geo. W. Fleming, No. 245 Sixteenth street, Brooklyn.

Charles Schreiber, No. 1561 Myrtle avenue, Brooklyn.

Joseph W. Conklin, No. 457 Seventh street, Brooklyn.

By Alderman Handy—

Frederick H. Schwiegler, No. 2083 Marion avenue, Bronx.

By Alderman Heffernan—

Joseph C. Muir, No. 36 Windsor place, Brooklyn.

M. J. Ryan, No. 49 Court street, Brooklyn.

Joseph Goggin, Jr., No. 68 Sixteenth street, Brooklyn.

C. W. Denning, No. 415 Seventy-fifth street, Brooklyn.

By Alderman Hickey—

William M. Greer, No. 646 East One Hundred and Fifty-eighth street, Bronx.

Sol J. Yaspan, No. 1761 Bayridge avenue, Bronx.

By Alderman Hines—

Charles Fischer, No. 412 West One Hundred and Forty-eighth street, Manhattan.

Jacob Harris, No. 412 West One Hundred and Forty-eighth street, Manhattan.

Jessie Van Winkle, No. 54 Morningside Avenue East, Manhattan.

Richard E. Webber, No. 311 West One Hundred and Eleventh street, Manhattan.

Lee Thompson Smith, No. 261 West One Hundred and Twelfth street, Manhattan.

Edgar Pitske, No. 540 Riverside drive, Manhattan.

Robert P. Beyer, No. 511 East One Hundred and Seventeenth street, Manhattan.

By Alderman Hochdorffer—

James A. Martin, No. 1010 Woodycrest avenue, Bronx.

By Alderman Kayanagh—

Frank Disch, No. 21 Park row, Manhattan.

By Alderman Kenney—

Ernest Segnian, No. 134 Sackett street, Brooklyn.

George Morgan, No. 229½ Wyckoff street, Brooklyn.

By Alderman Levine—

Meyer H. Wolf, No. 53 Essex street, Manhattan.

Charles Simon, No. 129 East Third street, Manhattan.

Joseph Rizzolo, No. 233 East One Hundred and Fifteenth street, Manhattan.

Abraham J. Vilkomirson, No. 18 East One Hundred and Sixteenth street, Manhattan.

Charles Goldstein, No. 21 Avenue B, Manhattan.

David R. Cohen, No. 2365 Lorillard place, Bronx.

Edward A. Jacobs, No. 125 Fourth avenue, Manhattan.

Benjamin B. Friedman, No. 132 Nassau street, Manhattan.

Sigmund Feuchtwanger, No. 150 Nassau street, Manhattan.

Jacob Frank, No. 221 East Broadway, Manhattan.

By Alderman Loo—

John G. Weigold, No. 202 East Thirty-eighth street, Manhattan.

James F. L. Stack, No. 180 East Sixty-fifth street, Manhattan.

By Alderman Marx—

Peter J. Little, No. 21 Chambers street, Manhattan.

James A. Whyte, No. 231 West One Hundred and Twenty-third street, Manhattan.

J. A. Hirshman, No. 1 Madison avenue, Manhattan.

Samuel Bitterman, No. 122 West One Hundred and Fourteenth street, Manhattan.

Bernard Gold, No. 1046 Amsterdam avenue, Manhattan.

Ernest E. California, No. 104 Lenox avenue, Manhattan.

Albert G. Therne, No. 515 West One Hundred and Twenty-second street, Manhattan.

Joseph L. Frieder, No. 21 East Ninety-eighth street, Manhattan.

Fred L. Cramer, No. 1056 Boston road, Bronx.

By Alderman Mastyn—

Samuel Rosenblum, No. 354 Stone avenue, Brooklyn.

Sherman Marmion, No. 103 Adams street, Brooklyn.

Richard M. Clark, No. 44 Court street, Brooklyn.

Harry Kremski, Sutliff and Sutliff avenues, Brooklyn.

By Alderman Morrison—

Frank M. McCurdy, No. 51 East Thirty-second street, Brooklyn.

Mahel E. Griffith, No. 2605 Glenwood road, Brooklyn.

Geo. H. Ohmwald, No. 895 Flatbush avenue, Brooklyn.

By Alderman Moskowitz—

Simon Freiman, No. 263 East Fourth street, Manhattan.

Mayme Delbel, No. 305 East Houston street, Manhattan.

By Alderman Mulligan—

Lawrence Rizzo, No. 742 Bartholdi street, Bronx.

John Brucoli, Station place, Williamsbridge.

By Alderman Murphy—

Sydney Kasznitz, No. 725 Spring street, Manhattan.

Anna M. Weyers, No. 1381 Franklin avenue, Bronx.

By Alderman Mulcahy—

Lyman da Fonseca Brandon, No. 520 West One Hundred and Forty-fourth street, Manhattan.

By Alderman McFadden—

Charles R. Furrier, East Fifteenth street and Neck road, Brooklyn.

By Alderman Potter—

## By Alderman Sandford—

H. Otto Claussen, No. 1348 Potomac avenue, Brooklyn.  
William Rappel, No. 478 Rockaway avenue, Brooklyn.  
Philip Fuchs, No. 1838 Broadway, Brooklyn.  
Harry Hubschman, No. 1311 Gates avenue, Brooklyn.  
Alice Byrnes, No. 146a State street, Brooklyn.  
Andrew W. Zeis, No. 233 Thirty-sixth street, Brooklyn.

## By Alderman Schloss—

Frederick W. Andersen, No. 546 Riverside drive, Manhattan.

## By Alderman Schneider—

Jesse Newman, No. 320 East Ninth street, Manhattan.

## By Alderman Smith—

A. Vincent Rochester, No. 845 Lexington avenue, Manhattan.  
Bertha Sander, No. 258 Delancey street, Manhattan.

Annie Frank, No. 416 Grand street, Manhattan.

## By Alderman Velten—

Rose J. Raphael, No. 98 Graham avenue, Brooklyn.

## By Alderman Walsh—

Thomas A. Scutello, No. 2031 First avenue, Manhattan.

## By Alderman Wentz—

Thomas K. Trenchar, No. 822 Halsey street, Brooklyn.  
John H. Steenwerth, No. 1012 Gates avenue, Brooklyn.  
John L. Cummings, No. 141 Stuyvesant avenue, Brooklyn.  
Elijah R. Groves, No. 166 Decatur street, Brooklyn.

The Vice-Chairman put the question whether the Board would agree with said resolution.

Which was decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barron, Bent, Beyer, B. W. B. Brown, Carter, Coleman, Colgan, Collins, Davis, Delaney, Diemer, Doell, Dowling, Downing, Drescher, Emerer, Esterbrook, Finnigan, Flynn, Goldschmidt, Guntler, Hines, Hochdorffer, Hogan, Kennedy, Levine, Linda, Loos, McDonald, Morrison, Moskowitz, Muhlbauer, Mulcahy, Mulligan, Murphy, Nagle, Nugent, O'Reilly, Quinn, Reardon, Rendt, Schloss, Schneider, Stapleton, Velten, Walsh, Wentz and President Gresser—49.

No. 1302.

## By Alderman Cole—

Resolved, That Thomas J. Leahy, of Totenville, in the Borough of Richmond, be and he is hereby elected an Assistant Sergeant-at-Arms of the Board of Aldermen for the years 1908 and 1909, in the place and stead of John J. Vaughan, deceased.

The Vice-Chairman put the question whether the Board would agree with said resolution.

Which was decided in the affirmative by the following vote:

Affirmative—Aldermen Baldwin, Barron, Beyer, J. W. Brown, Carter, Cole, Colgan, Collins, Corbett, Crowley, Delaney, Doell, Dowling, Downing, Drescher, Emerer, Finnigan, Gaynor, Haudy, Heffernan, Hochdorffer, Hogan, Kavanagh, Kennedy, Kenney, Linda, Loos, Marx, McDonald, Moskowitz, Mulcahy, Mulligan, Mulvany, Murphy, Nagle, Nugent, O'Reilly, Reardon, Rendt, Sandford, Smith, Wentz, President Gresser, President Haffen and the Vice-Chairman—46.

No. 1303.

## By the Vice-Chairman—

Whereas, It has been brought to the attention of this deliberative body that certain publishing houses have contracts with The City of New York and its departments, including the Board of Education, for the publication, binding and manufacturing of books used in our public school system; and

Whereas, The employment of workmen thereon is against and inconsistent with the law that provides for the prevailing rate of wages and hours of work; therefore be it

Resolved, That The City of New York and its various departments shall hereafter insert in all contracts for and purchases of books made by or with the said City of New York or any of its departments, a clause requiring the contractor, and all publications, binding and manufacturing of books so contracted for or purchased, to comply with, and to be manufactured under, the laws and ordinances compelling the prevailing rate of wages and hours of labor; and be it further

Resolved, That the Clerk of this body be and he hereby is instructed to send a duly authenticated copy of these resolutions to the heads of each and every of the departments of The City of New York under whose jurisdiction the publications hereinbefore mentioned are being contracted for.

Which was referred to the Committee on Laws and Legislation.

No. 1304.

## By Alderman Velten—

Resolved, That permission be and the same is hereby given to storekeepers, bucksters and peddlers to stand on the sidewalk near the curb and with pushcarts in the carriageway near the curb on all streets and avenues of The City of New York for the sale of holiday goods, Christmas trees, toys, etc., with the consent of the property owners and the written permission of the Alderman of the district, provided a free passageway be kept on the sidewalk for all pedestrians and in the carriageway for all vehicles; said permission to continue only from December 7, 1908, up to and including January 2, 1909, and the ordinance or ordinances conflicting with the foregoing provisions are hereby suspended for the period of time above mentioned.

Which was adopted.

No. 1305.

## By the same—

Resolved, That permission be and the same is hereby given to Christian Streffer of the Lyric Theatre to drive an advertising wagon through the streets and thoroughfares of the Borough of Brooklyn under the supervision of the Police Department. Such permission to continue only for the period of thirty days from the receipt hereof from his Honor the Mayor.

Which was adopted.

No. 1306.

## By Alderman Rendt—

Resolved, That permission be and the same is hereby given to John Boccire to erect, place and keep a storm door in front of his premises on the northeast corner of Pennsylvania and New York avenues, in the Fourth Ward, in the Borough of Richmond; provided the said storm door shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Board of Aldermen. Such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1307.

## By Alderman Reardon—

Resolved, That permission be and the same is hereby given to Charles Daners to erect, place and keep a booth within the stoop line in front of the premises on the southeast corner of Third avenue and Eighty-third street, in the Borough of Manhattan, provided the said booth shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Board of Aldermen. Such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1308.

## By the same—

Resolved, That permission be and the same is hereby given to Augustus Briggs to erect, place and keep a booth within the stoop line in front of the premises No. 1329 Third avenue, in the Borough of Manhattan, provided the said booth shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Board of Aldermen. Such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

## By the same—

Resolved, That permission be and the same is hereby given to Benjamin Hammill to erect, plan and keep a booth within the stoop line in front of the premises on the southwest corner of First avenue and Eighty-second street, in the Borough of Manhattan, provided the said booth shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Board of Aldermen; such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1309.

## By Alderman O'Reilly—

Resolved, That permission be and the same is hereby given to M. J. Roth to place and keep a showcase within the stoop line in front of his premises, No. 1495 Third avenue, in the Borough of Manhattan, provided the said showcase shall be erected so as to conform in all respects with the ordinance in such case made and provided, not be used for advertising purposes; the work to be done at his own expense, under the direction of the President of the Board of Aldermen; such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1310.

## By Alderman Mulligan—

Whereas, The Union Railway Company, contrary to a court order, have not resumed the running of their cars to the City line in Wakefield, in the Borough of The Bronx, City of New York; and

Whereas, The public are greatly inconvenienced by being compelled to walk several blocks to change cars; therefore be it

Resolved, That we, the Board of Aldermen request the Public Service Commission to investigate this matter and see to it that the order of the court be carried into effect.

Which was adopted.

No. 1311.

## By Alderman Mulligan—

Whereas, The Union Railway Company, contrary to a court order, have not resumed the running of their cars to the City line in Wakefield, in the Borough of The Bronx, City of New York; and

Whereas, The public are greatly inconvenienced by being compelled to walk several blocks to change cars; therefore be it

Resolved, That we, the Board of Aldermen request the Public Service Commission to investigate this matter and see to it that the order of the court be carried into effect.

Which was adopted.

No. 1312.

## By the same—

Resolved, That Herbert W. Ferris, of No. 3764 Barnes avenue, The Bronx, New York City, be and he is hereby appointed a City Surveyor.

Which was referred to the Committee on Salaries and Offices.

No. 1313.

## By Alderman Loos—

Resolved, That permission be and the same is hereby given to M. J. McCauley Association to drive an advertising wagon through the streets and thoroughfares of the Borough of Manhattan under the supervision of the Police Department. Such permission to continue only for the period of thirty days from the receipt hereof from his Honor the Mayor.

Which was adopted.

No. 1314.

## By Alderman Levine—

Resolved, That permission be and the same is hereby given to the Herbert Club to display a banner at Webster Hall, Eleventh street, near Third avenue, in the Borough of Manhattan, from the date of approval hereof by his Honor the Mayor until and including the evening of December 13, 1908.

Which was adopted.

No. 1315.

## By Alderman Linde—

Resolved, That the Civil Service Commission be and hereby is respectfully requested to place upon the list of positions in this City the position of Ship Joiner, that being a separate and distinct occupation from Shipwright.

Which was adopted.

No. 1316.

## By Alderman Heffernan—

Resolved, That the Supervisor of the City Record be requested to print five hundred copies of the Code of City Ordinances for distribution among the members of the Board and officials of the various Municipal Departments.

Which was referred to the Committee on Public Printing.

No. 1317.

## By Alderman Hochdorffer—

Resolved, That permission be and the same is hereby given to Mrs. A. Hodges to erect and maintain a retaining wall with steps, not to exceed four feet in height, within the stoop line in front of her premises on the west side of Ryer avenue, about three hundred and seventy feet north of Burnside avenue, in the Borough of the Bronx; the work to be done at her own expense, under the direction of the President of the Board of Aldermen; such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1318.

## By Alderman Hines—

Resolved, That permission be and the same is hereby given to H. M. Coulter to parade with an advertising wagon through the streets and thoroughfares of the Boroughs of Manhattan and The Bronx, under the supervision of the Police Department, such permission to continue only for the period of thirty days from the receipt hereof from his Honor the Mayor.

Which was adopted.

No. 1319.

## By the same—

Resolved, That permission be and the same is hereby given to the Turkey Social Club to parade on Thursday, November 12, 1908, through the streets and thoroughfares of the Borough of Manhattan, under the supervision of the Police Department, such permission to continue only for the day specified hereinbefore.

Which was adopted.

No. 1320.

## By Alderman Hickey—

Resolved, That it is recommended to the Commissioner of Water Supply, Gas and Electricity that a watering trough be located and maintained on the southeast corner of Westchester avenue and St. Ann's avenue, in the Borough of The Bronx.

Which was adopted.

No. 1321.

## By Alderman Drescher—

Resolved, That permission be and the same is hereby given to the American News Company to place and keep two platforms, not exceeding eight feet in length each, within the stoop line in front of their premises, Nos. 8, 10 and 12 Murray street, in the Borough of Manhattan, the said platforms to be used in facilitating the receipt and delivery of merchandise, and to be constructed so as to leave a free passageway for pedestrians at all times; the work to be done at said American News Company's expense under the direction of the President of the Board of Aldermen; such permission to continue only during the pleasure of the Board of Aldermen.

Which was adopted.

No. 1322.

## By Alderman Davis—

Whereas, Owing to the numerous fatalities resulting from the premature and accidental discharge as well as the bursting of firearms of inferior make possessed by the Policemen of The City of New York resulting in seriously injuring, as well as causing loss of life to the members of the Police Department, members of their families, and others, be it

Resolved, That this Board hereby recommends to the Police Commissioner of The City of New York the immediate necessity of examining into the make, calibre, practicality and efficiency of the arms used by the Police officers under him, and that he immediately issue orders to the effect that every Police officer must possess a safe firearm, uniform in style and make, of not less a calibre than thirty-eight, incapable

of accidental discharge, containing all the modern safety appliances of improved style and make, and that an opportunity be given to the Policemen to perfect themselves in the use of the same by engaging in target practice at frequent intervals.

Which was adopted.

No. 1323.

By Alderman Colgan—

Resolved, That permission be and the same is hereby given to the Marco Barry Club of No. 46 Beard street, Brooklyn, to parade through the streets and thoroughfares of the Borough of Brooklyn, under the supervision of the Police Department. Such permission to continue only for the period of thirty days from the receipt hereof from his Honor the Mayor.

Which was adopted.

No. 1324.

By the same—

Resolved, That the Board of Estimate and Apportionment be requested to issue \$4,500 Special Revenue Bonds to be applied to furnishing Part 2 of First District Municipal Court of Borough of Brooklyn with furniture.

Which was referred to the Committee on Finance.

No. 1325.

By the same—

Resolved, That the Board of Education be requested to provide a suitable high school for boys and girls in the vicinity of Atlantic avenue, Vanderbilt avenue and the East River, as this section of the Borough of Brooklyn is sadly in need of a high school. Such schools, Public School 1, located at Adams and Concord streets, which at the present time is but partly occupied as an elementary school since new No. 5 school has been completed. No. 1 school could, with very little expense be altered to make same suitable for high school purposes, also Public School 8, located at Middagh and Hicks streets, and which is used at the present time for nothing more than storage by the Board of Education. To the pupils in the vicinity above named, graduating from the elementary to high schools, it is a hardship in the winter season to reach the high schools located as they are in the Borough of Brooklyn, also an expense of carfare which in many instances is a hardship on families of small income to provide; be it further.

Resolved, That the Board of Education be requested to give this matter their immediate attention and to make proper provision for the graduates of the elementary schools in above named territory.

Which was adopted.

No. 1326.

By Alderman Velten—

Resolved, That the City Clerk be and he is hereby requested to forward by express to the homes of the several members the copies of the Budget, the same to be paid for out of the Contingent Fund.

Which was placed on file.

No. 1327.

By Alderman Cole—

Whereas, It has pleased Divine Providence to call to rest our former colleague, John J. Vaughan, Jr., who for many years faithfully served this City as a diligent representative of the Borough of Richmond, and had previously gallantly served the nation in the famous Corcoran Legion which did its full share in the War for the Preservation of the Union; be it

Resolved, That this Board of Aldermen of The City of New York desire to record their appreciation of the exemplary character and conduct of this excellent citizen and soldier.

Resolved, further, That this Board offer their hearty condolences to the family of the lamented deceased, that a copy of this preamble and resolutions, properly engrossed and duly authenticated by the City Clerk, be transmitted to them, and that, as a further mark of respect, this Board do now adjourn.

Which was unanimously adopted by a rising vote.

And the Vice-Chairman declared that the Board stood adjourned until Tuesday, November 17, 1908, at 1:30 o'clock p. m.

P. J. SCULLY, City Clerk, and  
Clerk of the Board of Aldermen.

#### PUBLIC HEARING.

Public notice is hereby given that the Committee on Finance of the Board of Aldermen will hold a public hearing in the Aldermanic Chamber, City Hall, Borough of Manhattan, on Monday, November 16, 1908, at 1 o'clock p. m., on the following matter:

The Budget for the year 1909.

All persons interested are invited to be present.

P. J. SCULLY, City Clerk and  
Clerk of the Board of Aldermen.

#### CHANGES IN DEPARTMENTS, ETC.

##### DEPARTMENT OF DOCKS AND FERRIES.

November 9—Richard B. Ross, formerly employed as a Clerk, and residing at No. 103 Clinton street, Corona, Borough of Queens, died November 8, 1908. His name has been dropped from the list of employees.

##### TENEMENT HOUSE DEPARTMENT.

November 9—Appointments in the service of the Tenement House Department: Inspectors of Tenements, Salary \$1,200 Per Annum.

Walter H. Murphy, No. 9 East Ninety-eighth street, New York City; John D. Sullivan, No. 186 East One Hundred and Second street, New York City; Matthew M. Devine, No. 2187 Seventh avenue, New York City; Alexander McDougal, No. 17 Davis street, Long Island City; Thomas F. Lewis, No. 131 Baltic street, Brooklyn; Joseph A. Madden, No. 694 Eagle avenue, The Bronx; Patrick F. Kelly, No. 301 West Fifty-second street, New York City; Thomas H. Bennett, No. 212 St. Johns place, Brooklyn.

These appointments to take effect November 9, 1908.

##### BOARD OF WATER SUPPLY.

November 9—The Board of Water Supply has made the following appointments: William T. Clark, Cold Spring, N. Y., Miner, \$3 per day, October 30; Michael McGrath, Cold Spring, N. Y., Miner, \$3

per day, November 4; George Gobulos, Cold Spring, N. Y., Miner, \$3 per day, November 4; Mike Vitaro, Cold Spring, N. Y., Miner, \$3 per day, October 30; Albert Wilson, Cold Spring, N. Y., Miner, \$3 per day, October 30; Michael Garbage, Cold Spring, N. Y., Miner, \$3 per day, October 30; Stephen Duper, Cold Spring, N. Y., Miner, \$3 per day, October 30; Tony J. Gregorio, Cold Spring, N. Y., Miner, \$3 per day, October 30; William Howard, Cold Spring, N. Y., Miner, \$3 per day, October 30; Lemuel Johnson, Cold Spring, N. Y., Miner, \$3 per day, October 30; Joseph H. Washington, Cold Spring, N. Y., Miner, \$3 per day, October 30; John J. Lee, Storm King, N. Y., Miner, \$3 per day, November 4; Glen Austin, Storm King, N. Y., Miner, \$3 per day, November 2; Joseph Orra, Storm King, N. Y., Miner, \$3 per day, November 3; Frank McCann, Storm King, N. Y., Miner, \$3 per day, November 2; Jeff Dixson, Storm King, N. Y., Miner, \$3 per day, November 2; Gen. Coogan, Peekskill, N. Y., Miner, \$3 per day, November 4; Fred Cooper, Marlboro, N. Y., Miner, \$3 per day, November 4; Thomas Stith, Cornwall-on-Hudson, N. Y., Miner, \$3 per day, October 30; Horace H. Mitchell, Cornwall-on-Hudson, N. Y., Mining Shaft Boss, \$5 per day, November 4.

##### DEPARTMENT OF PARKS.

Boroughs of Brooklyn and Queens. November 10—Laid off for lack of work: Patrick King, No. 218 Hudson avenue, Climber and Pruner.

Dropped for failure to report for work: Thomas Lally, No. 1712 Dean street, Laborer, O; John Geoghan, No. 350 Hamilton avenue, Park Laborer; Rudolph Schoenberger, No. 342 East Sixty-seventh street, New York, Gardener.

Resigned: Joseph Chobot, No. 660 Second avenue, Astoria, L. L. Park Laborer; Frederick Baeth, No. 613 East One Hundred and Thirty-sixth street, The Bronx, Carpenter.

Borough of The Bronx.

November 10—Re-assignment of George W. Cottam, No. 1035 Third avenue, Gardener, to take effect as of October 17, 1908.

The names of the following employees have been dropped from the rolls:

Drivers, with wagons and teams: Ernest Roeder, City Island; Michael Flynn, No. 614 East One Hundred and Thirty-seventh street; August Kampfner, No. 33 Inwood avenue.

Driver, with horse and cart: William Lande, City Island.

##### CITY CLERK.

November 11—The Board of Aldermen, at meeting held on Tuesday, the 10th inst., elected Thomas J. Leahy, of Tottenville, Borough of Richmond, as Assistant Sergeant-at-Arms, at \$1,000 per annum, in place of John J. Vaughan, Jr., deceased.



##### OFFICIAL DIRECTORY.

STATEMENT OF THE HOURS DURING WHICH THE PUBLIC OFFICES IN THE CITY ARE OPEN FOR BUSINESS AND AT WHICH THE COURTS REGULARLY OPEN AND ADJOURN AS WELL AS THE PLACES WHERE SUCH OFFICES ARE KEPT AND SUCH COURTS ARE HELD, TOGETHER WITH THE HEADS OF DEPARTMENTS AND COURTS.

##### CITY OFFICES.

###### MAYOR'S OFFICE.

No. 5 City Hall, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

Telephone, 2820 Cortlandt.

GEORGE B. McCLELLAN, Mayor.

Frank M. O'Brien, Secretary.

William A. Willis, Executive Secretary.

James A. Riordan, Chief Clerk and Bond and Warrant Clerk.

###### BUREAU OF WEIGHTS AND MEASURES.

Room 7, City Hall, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

Telephone, 2820 Cortlandt.

Patrick Derry, Chief of Bureau.

###### BUREAU OF LICENSES.

9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

Telephone, 2820 Cortlandt.

Francis V. S. Oliver, Jr., Chief of Bureau.

Principal Office, Room 1, City Hall.

Branch Office, Room 12, Borough Hall, Brooklyn.

Branch Office, Richmond Borough Hall, Room 23.

New Brighton, S. I., William R. Woelfle, Financial Clerk, Borough of Richmond.

Branch Office, Hackett Building, Long Island City, Borough of Queens.

###### AQUEDUCT COMMISSIONERS.

Room 207, No. 280 Broadway, 5th floor, 9 a. m. to 4 p. m.

Telephone, 1942 Worth.

The Mayor, the Comptroller, ex-officio, Commissioners John F. Cowan (President), William H. Ten Eyck, John J. Ryan and John P. Winslow; Harry W. Walker, Secretary; Walter H. Sears, Chief Engineer.

###### ARMORY BOARD.

Mayor George B. McClellan, the President of the Board of Aldermen, Patrick F. McGowan, Brigadier-General George Moore Smith, Brigadier-General John G. Eddy, the President of the Department of Taxes and Assessments, Lawson Purdy, Harris Davis, Secretary, Room 6, Basement, Hall of Records, Chambers and Centre streets.

Office hours, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

Telephone, 3900 Worth.

###### ART COMMISSION.

City Hall, Room 21.

Telephone, 2177 Cortlandt.

Robert W. de Forest, Trustee, Metropolitan Museum of Art, President; Frank D. Millet, Painter, Vice President; Howard Mansfield, Secretary; A. Augustus Healy, President of the Brooklyn Institute of Arts and Sciences; George B. McClellan, Mayor of the City of New York; John Bigelow, President of New York Public Library; John J. Boyle, Sculptor; Arnold W. Brunner, Architect; John B. Fine, Charles Howland Russell.

John Quincy Adams, Assistant Secretary.

###### BELLEVUE AND ALLIED HOSPITALS.

Office, Bellevue Hospital, Twenty-sixth street and First avenue.

Telephone, 4400 Madison Square.

Board of Trustees—Dr. John W. Brannan, President; James K. Paulding, Secretary; Adrien M. Robbins, Samuel Sachs, Leopold Stein, John J. Harry, John G. Keeffe, Robert W. Hebbard, ex-officio.

General Medical Superintendent, S. T. Armstrong, M. D.

###### BOARD OF ALDERMEN.

No. 11 City Hall, 10 a. m. to 4 p. m.; Saturdays, 10 a. m. to 12 m.

Telephone, 2820 Cortlandt.

Patrick F. McGowan, President.

P. J. Scully, City Clerk.

###### BOARD OF ASSESSORS.

Office, No. 300 Broadway, 9 a. m. to 4 p. m.; Saturdays, 10 a. m. to 12 m.

Antonio Zucca.

Paul Weimann.

James H. Kennedy.  
William H. Jasper, Secretary.  
Telephone, 29, 30 and 31 Worth.

###### BOARD OF ELECTIONS.

Headquarters, General Office, No. 207 West Forty-first Street.

Commissioners—John T. Dooling (President), Charles B. Page (Secretary), Rudolph C. Fuller, James Kane.

A. C. Allen, Chief Clerk.

###### BOROUGH OFFICES.

Manhattan.

No. 112 West Forty-second street.

William C. Baxter, Chief Clerk.

###### The Bronx.

One Hundred and Thirty-eighth street and Mott avenue (Solingen Building).

Cornelius A. Burner, Chief Clerk.

###### Brooklyn.

No. 42 Court street (Temple Bar Building).

George Russell, Chief Clerk.

###### Queens.

No. 46 Jackson avenue, Long Island City.

Carl Voegel, Chief Clerk.

###### Richmond.

Borough Hall, New Brighton, S. I.

Charles M. Schwalbe, Chief Clerk.

All offices open from 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

###### BOARD OF ESTIMATE AND APPORTIONMENT.

The Mayor, Chairman; the Comptroller, President of the Board of Aldermen; President of the Borough of Manhattan; President of the Borough of Brooklyn; President of the Borough of The Bronx; President of the Borough of Queens; President of the Borough of Richmond.

###### OFFICE OF THE SECRETARY.

No. 277 Broadway, Room 146. Telephone, 2280 Worth.

Joseph Haag, Secretary; William M. Lawrence, Assistant Secretary; Charles V. Ade, Clerk to Board.

###### OFFICE OF THE CHIEF ENGINEER.

Nelson F. Lewis, Chief Engineer, No. 277 Broadway, Room 1408. Telephone, 2280 Worth.

Arthur S. Tuttle, Engineer in charge Division of Public Improvements, No. 277 Broadway, Room 1408. Telephone, 2280 Worth.

Harry P. Nichols, Engineer in charge Division of Franchises, No. 277 Broadway, Room 82. Telephone, 2282 Worth.

###### BOARD OF EXAMINERS.

Rooms 602 and 603 Metropolitan Building, No. 1 Madison avenue, Borough of Manhattan, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.

Telephone, 5840 Gramercy.

Warren A. Conover, Charles Bock, Lewis Hardin, Charles G. Smith, Edward F. Croker, Henry R. Marshall and George A. Just, Chairman.

Edward V. Barton, Clerk.

Board meeting every Tuesday at 2 p. m.

###### BOARD OF PAROLE OF THE NEW YORK CITY REFORMATORY OF MISDEMEANANTS.

Office, No. 145 East Twentieth street.

John V. C

Telephone, 1505 and 1506 Cortlandt. Supply Room, No. 2, City Hall.  
Patrick J. Tracy, Supervisor; Henry McMillen, Deputy Supervisor; C. McKinnie, Secretary.

#### COMMISSIONER OF LICENSES.

Office, No. 277 Broadway.  
John N. Bogart, Commissioner.  
James P. Archibald, Deputy Commissioner.  
John J. Caldwell, Secretary.  
Office hours, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 288 Worth.

#### COMMISSIONERS OF SINKING FUNDS.

George H. McClellan, Mayor, Chairman; Herman A. Metz, Comptroller; James J. Martin, Chamberlain; Patrick F. McGowan, President of the Board of Aldermen, and Timothy P. Sullivan, Chairman Finance Committee, Board of Aldermen; Members, N. Taylor Phillips, Deputy Comptroller, Secretary; Office of Secretary, Room 12, Stewart Building. Telephone, 1200 Worth.

#### DEPARTMENT OF BRIDGES.

Nos. 13-14 Park Row.  
James W. Stevenson, Commissioner.  
John H. Little, Deputy Commissioner.  
Edgar E. Schiff, Secretary.  
Office hours, 9 a. m. to 4 p. m.  
Saturdays, 9 a. m. to 12 m.  
Telephone, 668 Cortlandt.

#### DEPARTMENT OF CORRECTION.

CENTRAL OFFICE.  
No. 148 East Twenty-sixth street. Office hours from 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 1647 Gramercy.  
John V. Cooley, Commissioner.  
George W. Meyer, Deputy Commissioner.  
John B. Fitzgerald, Secretary.

#### DEPARTMENT OF DOCKS AND FERRIES.

Pier "A," N. R. Battery place.  
Telephone, 300 Rector.  
Allen N. Spangler, Commissioner.  
Dennis A. Judge, Deputy Commissioner.  
Joseph W. Savage, Secretary.  
Office hours, 9 a. m. to 4 p. m.; Saturdays, 12 m.

#### DEPARTMENT OF EDUCATION.

BOARD OF EDUCATION.  
Park avenue and Fifty-ninth Street, Borough of Manhattan, 9 a. m. to 5 p. m. on the month of August, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 3580 Plaza.

Richard B. Aldcroft, Jr.; Nicholas J. Barrett, Charles E. Bruce, M. D.; Joseph H. Cosgrove, Frederic R. Coulter, Francis W. Crowningshield, Francis P. Cunningham, Thomas M. DeLaney, Samuel B. Donnelly, Horace E. Dwyer, A. Las Everett, Alexander Ferris, Joseph Nichols, Francis J. George, Fredrick, George J. Gillespie, John Greene, Lewis Haase, Robert L. Harrison, Louis Haupt, M. D.; Thomas J. Higgins, Arthur Hollis, Charles H. Ingalls, Nathan S. Jones, Hugo Konzler, Max Kastenberg, John C. Keller, Alrick H. Man, Clement March, Mitchell May, Dennis J. McDonald, M. D.; Thomas J. O'Donoghue, Frank H. Partidge, George W. Schaefer, Henry H. Sherman, Arthur S. Somers, Abraham Stern, M. Samuel Stern, Cornelius J. Sullivan, Michael J. Sullivan, Bernard Suydam, Rupert B. Thomas, John R. Thompson, George A. Vaidenhoff, Frank D. Wiley, George W. Wingate, Egerton L. Wintrop, Jr., members of the Board.

Egerton L. Wintrop, Jr., President.  
John Green, Vice-President.  
A. F. Evanson, Palmer, Secretary.  
C. H. J. Snyder, Superintendent of School Buildings.  
Patrick Jones, Superintendent of School Supplies.  
Henry R. M. Cook, Auditor.  
Thomas A. Dillon, Chief Clerk.  
Henry M. Leipziger, Supervisor of Lectures.  
Cannie G. Leland, Superintendent of Libraries.

#### BOARD OF SUPERINTENDENTS.

William H. Maxwell, City Superintendent of Schools, and Andrew W. Wilson, John H. Haaren, Clarence E. Melaney, Thomas S. O'Brien, Edward B. Shallow, Edward L. Stevens, Gustave Straubenthal, John H. Walsh, Associate City Superintendents.

#### DISTRICT SUPERINTENDENTS.

Darwin L. Bardwell, William A. Campbell, John J. Chickerling, John W. Davis, John Dwyer, James M. Edsall, Matthew J. Elgert, Edward D. Farrell, Cornelius D. Franklin, John Griffin, M. D., John L. N. Hunt, Henry W. Jameson, James Lee, Charles W. Lyon, James J. McCabe, William J. O'Shea, Julia Richman, Alfred T. Schaeffer, Albert Shieh, Edgar D. Shimer, Seth T. Stewart, Edward W. Stitt, Grace C. Strachan, Joseph S. Taylor, Joseph H. Wade, Evangeline E. Whitney.

#### BOARD OF EXAMINERS.

William H. Maxwell, City Superintendent of Schools, and James C. Byrne, Walter L. Harvey, Jerome A. O'Connell, George J. Smith, Examiners.

#### DEPARTMENT OF FINANCE.

Stewart Building, Chambers street and Broadway, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 1200 Worth.

Herman A. Metz, Comptroller.  
John H. McClossey and N. Taylor Phillips, Deputy Comptrollers.  
Hubert L. Smith, Assistant Deputy Comptroller.  
Paul Loser, Secretary to Comptroller.

#### MAIN DIVISION.

B. J. Stern, Chief Clerk, Room 12.

#### BOOKKEEPING AND AUDITORS DIVISION.

Frank W. Smith, Chief Accountant and Bookkeeper, Room 8.

#### STOCK AND BOND DIVISION.

James J. Sullivan, Chief Stock and Bond Clerk, Room 8.

#### BUREAU OF AUDIT—MAIN DIVISION.

P. H. Quinn, Chief Auditor of Accounts, Room 27.

#### LAW AND ADJUSTMENT DIVISION.

Jeremiah T. Mahoney, Auditor of Accounts, Room 18.

#### BUREAU OF MUNICIPAL INVESTIGATION AND STATISTICS.

Charles S. Hervey, Supervising Statistician and Examiner, Room 180.

#### CHARITABLE INSTITUTIONS DIVISION.

Daniel C. Potter, Chief Examiner of Accounts of Institutions, Room 35.

#### OFFICE OF THE CITY PAYMASTER.

No. 83 Chambers street and No. 63 Reade street.

John B. Timmerman, City Paymaster.

#### ENGINEERING DIVISION.

Stewart Building, Chambers street and Broadway, Chandler Washington, Chief Engineer, Room 55.

#### DIVISION OF REAL ESTATE.

Mortimer J. Brown, Appraiser of Real Estate, Room 157.

#### BUREAU FOR THE COLLECTION OF TAXES.

Borough of Manhattan—Stewart Building, Room 0.

David E. Austin, Receiver of Taxes.

John J. McDoughan and William H. Loughran, Deputy Receivers of Taxes.

Borough of the Bronx—Municipal Building, Third and Tremont avenues.

John B. Underhill and Stephen A. Nugent, Deputy Receivers of Taxes.

Borough of Brooklyn—Municipal Building, Rooms 2-8.

James B. Bouck and William Gallagher, Deputy Receivers of Taxes.

Borough of Queens—Hackett Building, Jackson avenue and Fifth street, Long Island City.

George H. Creed and Mason O. Scoville, Deputy Receivers of Taxes.

Borough of Richmond—Borough Hall, St. George, New Brighton.

John De Morgan and F. Wilsey Owen, Deputy Receivers of Taxes.

#### BUREAU FOR THE COLLECTION OF ASSESSMENTS AND ARREARS.

Borough of Manhattan—Stewart Building, Room 1.

Daniel Moymahan, Collector of Assessments and Arrears.

Richard E. Weldam, Deputy Collector of Assessments and Arrears.

Borough of The Bronx—Municipal Building, Rooms 1-3.

James J. Donovan, Jr., Deputy Collector of Assessments and Arrears.

Borough of Brooklyn—Mechanics' Bank Building, corner Court and Montague streets.

Thomas J. Deenihan, Deputy Collector of Assessments and Arrears.

Borough of Queens—Hackett Building, Jackson avenue and Fifth street, Long Island City.

Patrick E. Leahy, Deputy Collector of Assessments and Arrears.

Borough of Richmond—St. George, New Brighton.

George Brand, Deputy Collector of Assessments and Arrears.

#### BUREAU FOR THE COLLECTION OF CITY REVENUE AND OF MARKETS.

Stewart Building, Chambers street and Broadway, Room 141.

John M. Gray, Collector of City Revenue and Superintendent of Markets.

John F. Hobbs, Deputy Superintendent of Markets.

David O'Brien, Deputy Collector of City Revenue.

#### BUREAU FOR THE EXAMINATION OF CLAIMS.

Frank J. Prial, Chief Examiner, Room 181.

#### BUREAU OF THE CITY CHAMBERLAIN.

Stewart Building, Chambers street and Broadway.

Rooms 63 to 67.

James J. Martin, City Chamberlain.

Henry J. Walsh, Deputy Chamberlain.

Telephone, 4270 Worth.

#### DEPARTMENT OF HEALTH.

Southwest corner of Fifty-fifth street and Sixth avenue, Borough of Manhattan, 9 a. m. to 4 p. m.

Burial Permit and Cemeteries Office always open.

Telephone, 3580 Columbus.

Thomas Darlington, M. D., Commissioner of Health and President.

Alvah H. Dury, M. D.; Theodore A. Bingham, Commissioners.

Eugene W. Scheffer, Secretary.

Herman M. Biggs, M. D., General Medical Officer.

James McT. Miller, Chief Clerk.

Walter Bensel, M. D., Sanitary Superintendent.

William H. Guiley, M. D., Registrar of Records.

Borough of Manhattan.

Alonzo Blauvelt, M. D., Assistant Sanitary Superintendent; George A. Roberts, Assistant Chief Clerk.

Charles J. Burke, M. D., Assistant Registrar of Records.

Borough of The Bronx, No. 2732 Third avenue.

Alonzo Blauvelt, M. D., Acting Assistant Sanitary Superintendent; Ambrose Lee, Jr., Assistant Chief Clerk; Arthur J. O'Leary, M. D., Assistant Registrar of Records.

Borough of Queens, Nos. 372 and 374 Fulton street, Jamaica.

Alonzo Blauvelt, M. D., Acting Assistant Sanitary Superintendent; George R. Crowley, Assistant Chief Clerk; Robert Campbell, M. D., Assistant Registrar of Records.

Borough of Brooklyn, Nos. 38 and 40 Clinton street.

Traverse R. Maxfield, M. D., Assistant Sanitary Superintendent; Alfred T. Metcalf, Assistant Chief Clerk; S. J. Byrne, M. D., Assistant Registrar of Records.

Borough of Richmond, Nos. 34 and 36 Water street, Stapleton, Staten Island.

John T. Sprague, M. D., Assistant Sanitary Superintendent; Charles E. Hoyer, Assistant Chief Clerk; J. Walter Woods, M. D., Assistant Registrar of Records.

#### DEPARTMENT OF PARKS.

Henry Smith, Commissioner of Parks for the Boroughs of Manhattan and Richmond, and President Park Board.

William J. Fransilli, Secretary.

Michael J. Kennedy, Commissioner of Parks for the Boroughs of Brooklyn and Queens.

Offices, Litchfield Mansion, Prospect Park, Brooklyn.

Telephone, 2300 South.

Joseph L. Berry, Commissioner of Parks for the Borough of The Bronx.

Offices, Ziowski Mansion, Claremont Park.

Office hours, 9 a. m. to 4 p. m.; Saturdays, 12 m.

Telephone, 2650 Tremont.

#### DEPARTMENT OF PUBLIC CHARITIES.

Foot of East Twenty-sixth street, 9 a. m. to 4 p. m.

Saturdays, 12 m.

Telephone, 3560 Madison Square.

Robert W. Hebbard, Commissioner.

Richard C. Baker, First Deputy Commissioner.

Thomas W. Rynes, Second Deputy Commissioner.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

John J. DeLaney, Commissioner for Bronx.

John J. DeLaney, Commissioner for Brooklyn.

John J. DeLaney, Commissioner for Queens.

John J. DeLaney, Commissioner for Richmond.

James E. Glassin, Superintendent of Street Cleaning.  
Edward P. Kelly, Superintendent of Public Buildings and Offices.  
Telephone, 1000 Greenpoint.

**BOROUGH OF RICHMOND.**  
President's Office, New Brighton, Staten Island.  
George Cromwell, President.  
Maybury Fleming, Secretary.  
Louis Lincoln Tribus, Consulting Engineer and Acting Commissioner of Public Works.  
John Seaton, Superintendent of Buildings.  
H. E. Buel, Superintendent of Highways.  
John T. Fetherston, Superintendent of Street Cleaning.  
Ernest H. Seehausen, Superintendent of Sewers.  
John Timlin, Jr., Superintendent of Public Buildings and Offices.  
George W. Tuttle, Principal Assistant Engineer, Bureau of Engineering—Topographical.  
Theodor S. Oxholm, Principal Assistant Engineer, Bureau of Engineering—Construction.  
Offices—Borough Hall, New Brighton, N. Y., 9 a. m. to 4 p. m. Saturdays, 9 a. m. to 12 m.  
Telephone, 1000 Tompkinsville.

**CORONERS.**

Borough of The Bronx—Corner of Third avenue and Tremont avenue. Telephone, 1250 Tremont and 1200 Tremont.  
Robert F. McDonald, A. F. Schwannecke.  
William T. Austin, Chief Clerk.  
Borough of Brooklyn—Office, Rooms 1 and 3 Municipal Building. Telephone, 4004 Main and 4005 Main.  
Henry J. Brewer, M. D., John F. Kennedy.  
Joseph McGuinness, Chief Clerk.  
Open all hours of the day and night.  
Borough of Manhattan—Office, Criminal Courts Building, Centre and White streets. Open at all times of the day and night.  
Coroners: Julius Harburger, Peter P. Aritelli, George F. Shady, Jr., Peter Dooley.  
Julius Harburger, President Board of Coroners.  
Jacob E. Bausch, Chief Clerk.  
Telephones, 1044, 5057, 5058 Franklin.  
Borough of Queens—Office, Borough Hall, Fulton street, Jamaica, L. I.  
Samuel D. Nutt, Alfred S. Ambler.  
Martin Mager, Jr., Chief Clerk.  
Office hours, from 9 a. m. to 10 p. m.  
Borough of Richmond—No. 44 Second street, New Brighton. Open for the transaction of business all hours of the day and night.  
Matthew J. Callahan.  
Telephone, 7 Tompkinsville.

**COUNTY OFFICES.****NEW YORK COUNTY.**

**COMMISSIONER OF JURORS.**  
Room 127, Stewart Building, Chambers street and Broadway, 9 a. m. to 4 p. m.  
Thomas Allison, Commissioner.  
Matthew F. Neville, Assistant Commissioner.  
Frederick P. Simpson, Assistant Commissioner.  
Frederick O'Byrne, Secretary.  
Telephone, 241 Worth.

**COMMISSIONER OF RECORDS.**

Office, Hall of Records.  
William S. Andrews, Commissioner.  
James O. Farrell, Superintendent.  
James J. Fleming, Jr., Secretary.  
Telephone, 300 Worth.

**COUNTY CLERK.**

No. 5, 6, 9, 10 and 11 New County Courthouse. Office hours from 9 a. m. to 4 p. m.  
Peter J. Dooling, County Clerk.  
John P. Curry, Deputy.  
Joseph J. Giannini, Secretary.  
Telephone, 840 Cortlandt.

**DISTRICT ATTORNEY.**

Building for Criminal Courts, Franklin and Centre streets.  
Office hours from 9 a. m. to 5 p. m.; Saturdays, 9 a. m. to 12 m.  
Wm. Travers Jerome, District Attorney.  
John A. Hennessy, Chief Clerk.  
Telephone, 2104 Franklin.

**PUBLIC ADMINISTRATOR.**

No. 116 Nassau street, 9 a. m. to 4 p. m.  
William M. Hoe, Public Administrator.  
Telephone, 6375 Cortlandt.

**REGISTER.**

Hall of Records. Office hours from 9 a. m. to 4 p. m.; Saturdays 9 a. m. to 12 m. During the months of July and August the hours are from 9 a. m. to 2 p. m.  
Frank Gass, Register.  
William H. Stinnett, Deputy Register.  
Telephone, 3900 Worth.

**SHERIFF.**

No. 299 Broadway, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Thomas F. Foley, Sheriff.  
John F. Gilchrist, Under Sheriff.  
Telephone, 4984 Worth.

**SURROGATES.**

Hall of Records. Court open from 9 a. m. to 4 p. m., except Saturday, when it closes at 12 m. During the months of July and August the hours are from 9 a. m. to 2 p. m.  
Abner C. Thomas and Charles H. Beckett, Surrogates; William V. Leahy, Chief Clerk.

**KINGS COUNTY.**

**COMMISSIONER OF JURORS.**  
1 County Court-house.  
Jacob Brenner, Commissioner.  
Jacob A. Livingston, Deputy Commissioner.  
Albert B. Waliron, Secretary.  
Office hours from 9 a. m. to 4 p. m.; Saturdays, from 9 a. m. to 12 m.  
Office hours during July and August, 9 a. m. to 2 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 1454 Main.

**COMMISSIONER OF RECORDS.**  
Hall of Records.  
Office hours, 9 a. m. to 4 p. m., excepting months of July and August; then 9 a. m. to 2 p. m.; Saturdays, 9 a. m. to 12 m.  
Lewis M. Sweeney, Commissioner.  
D. H. Ralston, Deputy Commissioner.  
Telephone, 1114 Main.  
Thomas D. Moscovitz, Superintendent.  
William J. Beattie, Assistant Superintendent.  
Telephone, 1022 Main.

**COUNTY CLERK.**  
Hall of Records, Brooklyn. Office hours, 9 a. m. to 4 p. m., during months of July and August, 9 a. m. to 2 p. m.; Saturdays, 9 a. m. to 12 m.  
Frank Eliot, County Clerk.  
Robert A. Sharkey, Deputy County Clerk.  
John Cooper, Assistant Deputy County Clerk.  
Telephone call, 4720 Main.

**COUNTY COURT.**  
County Court-house, Brooklyn, Rooms 10, 17, 18, 22 and 23. Court opens at 10 a. m. daily and sits until business is completed. Part I, Room No. 23; Part II, Room No. 10, Court-house. Clerk's Office, Rooms 17, 18 and 22, open daily from 9 a. m. to 4 p. m.; Saturdays, 12 m.  
Norman S. Duke and Lewis L. Fawcett, County Judges.  
Charles S. Devoy, Chief Clerk.  
Telephone, 4151 and 4155 Main.

**DISTRICT ATTORNEY.**  
Office, County Court-house, Borough of Brooklyn. Hours, 9 a. m. to 5 p. m.  
John F. Clarke, District Attorney.  
Telephone number, 2055 6-7 Main.

**PUBLIC ADMINISTRATOR.**  
No. 42 Court street (Temple Bar), Brooklyn, 9 a. m. to 5 p. m.  
Charles E. Teale, Public Administrator.  
Telephone, 2840 Main.

**REGISTER.**  
Hall of Records. Office hours, 9 a. m. to 4 p. m., excepting months of July and August; then from 9 a. m. to 2 p. m., provided for by statute.  
William A. Prendergast, Register.  
Frederick H. E. Elstein, Deputy Register.  
Telephone, 2830 Main.

**SHERIFF.**  
County Court-house, Brooklyn, N. Y., 9 a. m. to 4 p. m.; Saturdays, 12 m.  
Alfred T. Hobley, Sheriff.  
Lewis M. Sweeney, Under Sheriff.  
Telephone, 6845, 6846, 6847, Main.

**SURROGATE.**  
Hall of Records, Brooklyn, N. Y.  
Herbert T. Ketcham, Surrogate.  
Edward J. Bergen, Chief Clerk and Clerk of the Surrogate's Court.  
Court opens at 10 a. m. Office hours, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Telephone, 3054 Main.

**QUEENS COUNTY.**  
**COMMISSIONER OF JURORS.**  
Office hours, 9 a. m. to 1 p. m., July and August, 9 a. m. to 2 p. m.; Saturdays, 9 a. m. to 12 m. Queens County Court-house, Long Island City.  
John P. Balbert, Commissioner of Jurors.  
Rodman Richardson, Assistant Commissioner.  
Telephone, 455 Greenpoint.

**COUNTY CLERK.**  
Jamaica, Fourth Ward, Borough of Queens, City of New York.  
Office open, April 1 to October 1, 8 a. m. to 5 p. m.; October 1 to April 1, 9 a. m. to 5 p. m.; Saturdays throughout the year until 12 noon.  
John Niederschles, County Clerk.  
Henry J. Walter, Jr., Deputy County Clerk.  
Frank C. Ellingsworth, Secretary.  
Telephone, 131 Jamaica.

**COUNTY COURT.**  
Temporary County Court-house, Long Island City. County Court open at 10 a. m. Trial Terms begin first Monday of each month, except July, August and September. Special Terms each Saturday, except during August and first Saturday of September. County Judge's office always open at No. 356 Fulton street, Jamaica, N. Y.  
Burt J. Humphreys, County Judge.  
Telephone, 286 Jamaica.

**DISTRICT ATTORNEY.**  
Office, Queens County Court-house, Long Island City, 9 a. m. to 5 p. m.  
Ira G. Darrin, District Attorney.  
Telephone, 291 Greenpoint.

**PUBLIC ADMINISTRATOR.**  
No. 17 Cook Avenue, Elmhurst.  
John T. Robinson, Public Administrator, County of Queens.  
Telephone, 335 Newtown.

**SHERIFF.**  
County Court-house, Long Island City, 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m.  
Herbert S. Harvey, Sheriff.  
John M. Phillips, Under Sheriff.  
Telephone, 43 Greenpoint (office).  
Henry O. Schleth, Warden, Queens County Jail.  
Telephone, 372 Greenpoint.

**SURROGATE.**  
Daniel Nobile, Surrogate.  
Office at Jamaica.  
Except on Sundays, holidays and half holidays, the office is open between March 1 and July 1, from 8 a. m. to 5 p. m.; on Saturdays, from 8 a. m. to 12 m.; between July 1 and September 1, from 9 a. m. to 4 p. m.; on Saturdays, from 8 a. m. to 12 m.  
The calendar is called on Tuesday of each week at 10 a. m., except during the month of August, when no court is held, and the court sits every day thereafter until all contested cases have been disposed of.  
Telephone, 397 Jamaica.

**RICHMOND COUNTY.**  
**COMMISSIONER OF JURORS.**  
Village Hall, Stapleton.  
Charles J. Kullman, Commissioner.  
John J. McCauley, Assistant Commissioner.  
Office open from 9 a. m. until 4 p. m.; Saturdays, from 9 a. m. to 12 m.  
Telephone, 81 Tompkinsville.

**COUNTY CLERK.**  
County Office Building, Richmond, S. I., 9 a. m. to 4 p. m.  
C. L. Boatwick, County Clerk.  
County Court-house, Richmond, S. I., 9 a. m. to 4 p. m.  
Telephone, 88 New Dorp.

**COUNTY JUDGE AND SURROGATE.**

Terms of Court, Richmond County, 1908.  
County Courts—Stephen D. Stephens, County Judge.  
First Monday of June, Grand and Trial Jury.  
Second Monday of November, Grand and Trial Jury.

Fourth Wednesday of January, without a Jury.  
Fourth Wednesday of February, without a Jury.  
Fourth Wednesday of March, without a Jury.  
Fourth Wednesday of April, without a Jury.  
Fourth Wednesday of July, without a Jury.  
Fourth Wednesday of September, without a Jury.  
Fourth Wednesday of October, without a Jury.

Surrogate's Court—Stephen D. Stephens, Surrogate.  
Mondays, at the Borough Hall, St. George, at 10:30 o'clock a. m.  
Tuesdays, at the Borough Hall, St. George, at 10:30 o'clock a. m.  
Wednesdays, at the Surrogate's Office, Richmond at 10:30 o'clock a. m.

**DISTRICT ATTORNEY.**  
Borough Hall, St. George, S. I.  
Samuel H. Evans.  
Telephone, 50 Tompkinsville.

**SHERIFF.**  
County Court-house, Richmond, S. I.  
Office hours, 9 a. m. to 4 p. m.  
Joseph J. Barth.

**THE COURTS.****APPELLATE DIVISION OF THE SUPREME COURT.****FIRST JUDICIAL DEPARTMENT.**

Court-house, Madison Avenue, corner Twenty-fifth street. Court opens at 1 p. m.  
Edward Patterson, Presiding Justice; George L. Ingraham, Chester B. McLaughlin, Frank C. Laughlin, John Proctor Clarke, James W. Houghton, Francis M. Scott, Justices; Alfred Wagstaff, Clerk; William Lamb, Deputy Clerk.  
Clerk's Office opens at 9 a. m.  
Telephone, 3840 Madison Square.

**SUPREME COURT—FIRST DEPARTMENT.**

County Court-house, Chambers street. Court open from 10:15 a. m. to 4 p. m.  
Special Term, Part I (motions), Room No. 16.  
Special Term, Part II (ex parte business), Room No. 13.  
Special Term, Part III, Room No. 19.  
Special Term, Part IV, Room No. 20.  
Special Term, Part V, Room No. 6.  
Special Term, Part VI (Elevated Railroad cases), Room No. 31.

Trial Term, Part II, Room No. 34.  
Trial Term, Part III, Room No. 22.  
Trial Term, Part IV, Room No. 21.  
Trial Term, Part V, Room No. 24.  
Trial Term, Part VI, Room No. 18.  
Trial Term, Part VII, Room No. 25.  
Trial Term, Part VIII, Room No. 23.  
Trial Term, Part IX, Room No. 35.  
Trial Term, Part X, Room No. 26.  
Trial Term, Part XI, Room No. 27.  
Trial Term, Part XII, Room No. 28.  
Trial Term, Part XIII, and Special Term, Part VII, Room No. 36.  
Trial Term, Part XIV, Room No. 28.  
Trial Term, Part XV, Room No. 37.  
Trial Term, Part XVI, Room No. 29.  
Trial Term, Part XVII, Room No. 30.  
Trial Term, Part XVIII, Room No. 39.  
Appellate Term, Room No. 38.  
Naturalization Bureau, Room No. 38, third floor.  
Assignment Bureau, room on mezzanine floor, northeast.  
Clerks in attendance from 10 a. m. to 4 p. m.

Clerk's Office, Special Term, Part I (motions), Room No. 15.  
Clerk's Office, Special Term, Part II (ex parte business), ground floor, southeast corner.  
Clerk's Office, Special Term, Calendar, ground floor, south.  
Clerk's Office, Trial Term, Calendar, room northeast corner, second floor, east.  
Clerk's Office, Appellate Term, room southwest corner, third floor.

Trial Term, Part I (criminal business).  
Criminal Court-house, Centre street.  
Justices—Charles H. Tread, Charles F. MacLean, Henry Bischoff, Jr., Leonard A. Giegerich, F. Henry Dugro, Henry A. Gilderleeve, James Fitzgerald, James A. O'Gorman, James A. Blanchard, Edward S. Clinch, Samuel Greenbaum, Edward L. McCall, Edward B. Amend, Vernon M. Davis, Victor J. Dowling, Joseph Newlunger, John W. Goff, Samuel Seabury, M. Warley Platzen, Peter A. Hendrick, John Ford, Charles W. Dayton, John J. Brady, Mitchell L. Essinger, Charles L. Guy, James W. Gerard.  
Peter J. Dooling, Clerk, Supreme Court.

Telephone, 4580 Cortlandt.

**SUPREME COURT—SECOND DEPARTMENT.**

Kings County Court-house, Borough of Brooklyn, N. Y.  
Court open daily from 10 o'clock a. m. to 5 o'clock p. m. Seven jury trial parts. Special Term for Trials. Special Term for Motions.  
James P. McGee, General Clerk.  
Telephone, 540 Main.

**CRIMINAL DIVISION—SUPREME COURT.**

Building for Criminal Courts, Centre, Elm, White and Franklin streets.  
Court opens at 10:30 a. m.  
Peter J. Dooling, Clerk; Edward R. Carroll, Special Deputy to the Clerk.

Clerk's Office open from 9 a. m. to 1 p. m.  
Telephone, 664 Franklin.

**COURT OF GENERAL SESSIONS.**

Held in the Building for Criminal Courts, Centre, Elm, White and Franklin streets.  
Court opens at 10:30 a. m.

Thomas C. T. Crain, Otto A. Rosalsky, Warren W. Foster, Thomas C. O'Sullivan, Edward Swann, Joseph F. Mulqueen, James T. Malone, Judges of the Court of General Sessions. Edward R. Carroll, Clerk. Telephone, 1201 Franklin.

Clerk's Office open from 9 a. m. to 4 p. m.  
During July and August Clerk's Office will close at 2 p. m., and on Saturdays at 12 m.

**CITY COURT OF THE CITY OF NEW YORK.**

No. 32 Chambers street, Brownstone Building, City Hall Park, from 10 a. m. to 4 p. m.

Part I.

Part II.

Part III.

**Part IV.****Part V.****Part VI.****Part VII.****Part VIII.**

Special Term Chambers will be held from 10 a. m. to 4 p. m.  
Clerk's Office open from 9 a. m. to 4 p. m.

Edward F. O'Dwyer, Chief Justice; Lewis J. Conlan, Francis B. Delehardt, Joseph J. Green, Alexander Finelite, Thomas F. Donnelly, John V. McAvoy, Peter Schmuck, Justices. Thomas V. Smith, Clerk.

Telephone, 6142 Cortlandt.

**COURT OF SPECIAL SESSIONS.**

Building for Criminal Courts, Centre street between Franklin and White streets, Borough of Manhattan.

Court opens at 10 a. m.

Justices—First Division—William E. Wyatt, William H. Olmsted, Joseph M. Deuel, Lorenz Zeller, John B. Mayo, Franklin Chase Boyd, Charles W. Cullkin, Clerk; William M. Fuller, Deputy Clerk.

Clerk's Office open from 9 a. m. to 4 p. m.

Telephone, 202 Franklin, Clerk's office.

Telephone, 601 Franklin, Justices' chambers.

Second Division—Trial Days—No. 171 Atlantic Avenue, Brooklyn, Mondays, Wednesdays and Fridays at 10 o'clock; Town Hall, Jamaica, Borough of Queens, Tuesday at 10 o'clock; Town Hall, New Brighton, Borough of Richmond, Thursday at 10 o'clock.

Justices—Howard J. Forker, John Fleming, Morgan M. L. Ryan, Robert J. Wilkin, George J. O'Keefe, James J. McInerney, Joseph L. Kerrigan, Clerk; John J. Dorman, Deputy Clerk.

Clerk's Office, No. 171 Atlantic Avenue, Borough of Brooklyn, open from 9 a. m. to 4 p. m.

**CHILDREN'S COURT.**

First Division—No. 66 Third Avenue, Manhattan. Edmund C. Lee, Clerk.

Telephone, 5353 Stuyvesant.

Second Division—No. 102 Court street, Brooklyn. William F. Delaney, Clerk.

Telephone, 627 Main.

**CITY MAGISTRATES' COURT.****First Division.**

Court opens from 9 a. m. to 4 p. m.

City Magistrates—Robert C. Cornell, Leroy B. Crane, Peter T. Barlow, Matthew P. Breen, Joseph F. Mow, James L. Walsh, Henry Steinert, Daniel E. Finn, Frederick H. House, Charles N. Harris, Freder

Third District—The Third District embraces the territory bounded on the south by the centre line of Fourteenth street, on the east by the centre line of Seventh avenue from Fourteenth street to Fifty-ninth street and by the centre line of Central Park West from Fifty-ninth street to Sixty-fifth street, on the north by the centre line of Sixty-fifth street and the centre line of Fifty-ninth street from Seventh to Eighth avenue, on the west by the westerly boundary of the said borough.

Thomas E. Murray, James W. McLaughlin, Justices.

Michael Skelly, Clerk; Henry Merzbach, Deputy Clerk.

Location of Court—No. 314 West Fifty-fourth street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone number, 3450 Columbus.

Fourth District—The Fourth District embraces the territory bounded on the south by the centre line of East Fourteenth street, on the west by the centre line of Irving place, including its projection through Gramercy Park, on the north by the centre line of Fifty-ninth street, on the east by the easterly line of said borough; excluding, however, any portion of Blackwell's Island.

Michael F. Blake, William J. Boyhan, Justices.

Abram Bernard, Clerk; James Foley, Deputy Clerk.

Location of Court—Part I., No. 407 Second avenue, northwest corner of Second avenue and Twenty-third street. Part II., No. 151 East Fifty-seventh street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 4370 Gramercy.

Fifth District—The Fifth District embraces the territory bounded on the south by the centre line of Sixty-fifth street, on the east by the centre line of Central Park West, on the north by the centre line of One Hundred and Tenth street, on the west by the westerly boundary of said borough.

Alfred P. W. Seaman, William Young, Frederick Spiegelberg, Justices.

James V. Gilloon, Clerk; John H. Servis, Deputy Clerk.

Location of Court—Broadway and Ninety-sixth street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 4000 Riverside.

Sixth District—The Sixth District embraces the territory bounded on the south by the centre line of Fifty-ninth street and by the centre line of Ninety-sixth street from Lexington avenue to Fifth avenue, on the west by the centre line of Lexington avenue from Fifty-ninth street to Ninety-sixth street and the centre line of Fifth avenue from Ninety-sixth street to One Hundred and Tenth street, on the north by the centre line of One Hundred and Tenth street, on the east by the easterly boundary of said borough, including, however, all of Blackwell's Island and excluding any portion of Ward's Island.

Herman Joseph, Jacob Marks, Justices.

Edward A. McQuade, Clerk; Thomas M. Campbell, Deputy Clerk; John J. Dietz, Frederick J. Stroh, Assistant Clerks.

Location of Court—Northwest corner of Third avenue and Eighty-third street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 4243705T.

Seventh District—The Seventh District embraces the territory bounded on the south by the centre line of One Hundred and Tenth street, on the east by the centre line of Fifth avenue to the northerly terminus thereof, and north of the northerly terminus of Fifth avenue, following in a northerly direction the course of the Harlem river, on a line conterminous with the easterly boundary of said borough, on the north and west by the northerly and westerly boundaries of said borough.

Philip J. Sinnott, David L. Weil, John R. Davies, Justices.

Horace E. Wilson, Clerk; Robert Andrews, Deputy Clerk.

Location of Court—No. 70 Manhattan street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 3450 Harlem.

Eighth District—The Eighth District embraces the territory bounded on the south by the centre line of One Hundred and Tenth street, on the west by the centre line of Fifth avenue, on the north and east by the northerly and easterly boundaries of said borough, including Randall's Island and the whole of Ward's Island.

Joseph P. Fallon, Leopold Prince, Justices.

William J. Kennedy, Clerk; Patrick J. Ryan, Deputy Clerk.

Location of Court—Sylvan place and One Hundred and Twenty-first street, near Third avenue. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 3450 Harlem.

Ninth District—The Ninth District embraces the territory bounded on the south by the centre line of Fourteenth street and by the centre line of Fifty-ninth street from the centre line of Seventh avenue to the centre line of Lexington avenue and by the centre line of Irving place, including its projection through Gramercy Park and by the centre line of Fifth avenue from the centre line of Ninety-sixth street to the centre line of One Hundred and Tenth street, on the north by the centre line of Ninety-sixth street from the centre line of Lexington avenue to the centre line of Fifth avenue and by One Hundred and Tenth street from Fifth avenue to Central Park West, on the west by the centre line of Seventh avenue and Central Park West.

Edgar J. Lander, Frederick De Witt Wells, Frank D. Sturges, William C. Wilson, Justices.

William J. Chamberlain, Clerk; Charles Healy, Deputy Clerk.

Location of Court—Southwest corner of Madison avenue and Fifty-ninth street. Clerk's Office open daily (Sundays and legal holidays excepted) from 9 a. m. to 4 p. m.

Telephone, 2873 Plaza.

#### Borough of The Bronx.

First District—All that part of the Twenty-fourth Ward which was lately annexed to the City and County of New York by chapter 934 of the Laws of 1895, comprising all of the late Town of Westchester and part of the Towns of Eastchester and Pelham, including the Villages of Wakefield and Williamsbridge. Court-room, Town Hall, Main street, Westchester Village. Court open daily (Sundays and legal holidays excepted), from 9 a. m. to 4 p. m. Trial of causes, Tuesday and Friday of each week.

Peter A. Shell, Justice.

Stephen Collins, Clerk.

Office hours from 9 a. m. to 4 p. m.; Saturdays closing at 12 m.

Telephone, 457 Westchester.

Second District—Twenty-third and Twenty-fourth Wards, except the territory described in chapter 934 of the Laws of 1895. Court-room, southeast corner of Washington avenue and One Hundred and Sixty-second street. Office hours, from 9 a. m. to 4 p. m. Court open at 9 a. m.

John M. Turner, Justice; Thomas A. Maher, Clerk.

Telephone, 3445 Melrose.

#### Borough of Brooklyn.

First District—Comprising First, Second, Third, Fourth, Fifth, Sixth, Tenth and Twelfth Wards and that portion of the Eleventh Ward beginning at the

intersection of the centre lines of Hudson and Myrtle avenues, thence along the centre line of Myrtle avenue to North Portland avenue, thence along the centre line of North Portland avenue to Flushing avenue, thence along the centre line of Flushing avenue to Navy street, thence along the centre line of Navy street to Johnson street, thence along the centre line of Johnson street to Hudson avenue, and thence along the centre line of Hudson avenue to the point of beginning, of the Borough of Brooklyn. Court-house, northwest corner State and Court streets.

John J. Walsh, Justice. Edward Moran, Clerk. Clerk's Office open from 9 a. m. to 4 p. m.

Second District—Seventh Ward and that portion of the Twenty-first and Twenty-third Wards west of the centre line of Stuyvesant avenue and the centre line of Schenectady avenue, also that portion of the Twentieth Ward beginning at the intersection of the centre lines of North Portland and Myrtle avenues, thence along the centre line of Myrtle avenue to Waverly avenue, thence along the centre line of Waverly avenue to Park avenue, thence along the centre line of Park avenue to Washington avenue, thence along the centre line of Washington avenue to Flushing avenue, thence along the centre line of Flushing avenue to North Portland avenue, and thence along the centre line of North Portland avenue to the point of beginning.

Court-room, No. 405 Gates avenue.

Genard B. Van Wart and Edward C. Dowling, Justices. Franklin B. Van Wart, Clerk. Clerk's Office open from 9 a. m. to 4 p. m.

Third District—Embraces the Thirteenth, Fourteenth, Fifteenth, Sixteenth, Seventeenth, Eighteenth and Nineteenth Wards, and that portion of the Twenty-seventh Ward lying northwest of the centre line of Starr street between the boundary line of Queens County and the centre line of Central avenue, and northwest of the centre line of Suydam street between the centre lines of Central and Bushwick avenues, and northwest of the centre line of Willoughby avenue between the centre lines of Bushwick avenue and Broadway. Court-house, Nos. 6 and 8 Lee avenue, Brooklyn.

Philip D. Meagher and William J. Bogenshutz, Justices. John W. Carpenter, Clerk. Clerk's Office open from 9 a. m. to 4 p. m.

Court opens at 9 a. m.

Fourth District—Embraces the Twenty-fourth and Twenty-fifth Wards, that portion of the Twenty-first and Twenty-third Wards lying east of the centre line of Stuyvesant avenue and east of the centre line of Schenectady avenue, and that portion of the Twenty-seventh Ward lying southeast of the centre line of Starr street between the boundary line of Queens and the centre line of Central avenue, and southeast of the centre line of Suydam street between the centre lines of Central and Bushwick avenues, and southeast of the centre line of Willoughby avenue between the centre lines of Bushwick avenue and Broadway.

Court-room, No. 14 Howard avenue.

Thomas H. Williams, Justice. G. J. Wiederhold, Clerk. Milton L. Williams, Assistant Clerk. Clerk's Office open from 9 a. m. to 4 p. m.

Fifth District—Contains the Eighth, Thirtieth and Thirty-first Wards, and so much of the Twenty-second Ward as lies south of Prospect avenue. Court-house, northwest corner of Fifty-third street and Third avenue.

Cornelius Furguson, Justice. Jeremiah J. O'Leary, Clerk. Clerk's Office open from 9 a. m. to 4 p. m.

Telephone, 407 Bay Ridge.

Sixth District—The Sixth District embraces the Ninth and Twenty-ninth Wards and that portion of the Twenty-second Ward north of the centre line of Prospect avenue; also that portion of the Eleventh and the Twentieth Wards beginning at the intersection of the centre lines of Bridge and Fulton streets; thence along the centre line of Fulton street to Flatbush avenue; thence along the centre line of Flatbush avenue to Atlantic avenue; thence along the centre line of Atlantic avenue to Washington avenue; thence along the centre line of Washington avenue to Park avenue; thence along the centre line of Park avenue to Waverly avenue; thence along the centre line of Waverly avenue to Myrtle avenue; thence along the centre line of Myrtle avenue to Hudson avenue; thence along the centre line of Hudson avenue to Johnson street; thence along the centre line of Johnson street to Bridge street, and thence along the centre line of Bridge street to the point of beginning.

Lutien S. Bayliss and George Fielder, Justices. Charles P. Blile, Clerk.

Court-house, No. 611 Fulton street.

Seventh District—The Seventh District embraces the Twenty-sixth, Twenty-eighth and Thirty-second Wards.

Alexander S. Rosenthal and Edward A. Richards, Justices. Samuel F. Brothers, Clerk.

Court-house, corner Pennsylvania avenue and Fulton street (No. 34 Pennsylvania avenue).

Clerk's Office open from 9 a. m. to 4 p. m.; Saturdays, 9 a. m. to 12 m. Trial days, Tuesdays, Wednesdays, Thursdays and Fridays.

Jury days, Wednesdays and Thursdays.

Telephone, 344 East New York.

#### Borough of Queens.

First District—First Ward (all of Long Island City formerly composing five wards). Court-room, St. Mary's Lyceum, Nos. 115 and 117 Fifth street, Long Island City.

Clerk's Office open from 9 a. m. to 4 p. m. each day, excepting Saturdays, closing at 12 m. Trial days, Mondays, Wednesdays and Fridays. All other business transacted on Tuesdays and Thursdays.

Thomas C. Kadien, Justice. Thomas F. Kennedy, Clerk.

Telephone, 270 Greenpoint.

Second District—Second and Third Wards, which include the territory of the late Towns of Newtown and Flushing. Court-room in Court-house of the late Town of Newtown, corner of Broadway and Court street, Elmhurst, New York. P. O. Address, Elmhurst, Queens County, New York.

William Rasmussen, Jr., Justice. Luke L. Connor, Clerk. William Repper, Assistant Clerk. James B. Sheddiker, Stenographer.

Trial days, Tuesdays and Thursdays; Fridays for Jury Trials only.

Clerk's Office open from 9 a. m. to 4 p. m.

Telephone, 87 Newtown.

Third District—Fourth and Fifth Wards, comprising the territory of the former Towns and Villages of Jamaica, Far Rockaway and Rockaway Beach.

James F. McLaughlin, Justice. George W. Damon, Clerk.

Court-house, Town Hall, Jamaica.

Telephone, 189 Jamaica.

Clerk's Office open from 9 a. m. to 4 p. m.

Court held on Mondays, Wednesdays and Fridays at 9 a. m.

#### Borough of Richmond.

First District—First and Third Wards (Towns of Castleton and Northfield). Court-room, former Village Hall, Lafayette avenue and Second street, New Brighton.

Thomas C. Brown, Justice. Asaing S. Prall, Clerk.

Clerk's Office open from 8 a. m. to 4 p. m.

Telephone, 303 Tompkinsville.

Second District—Second, Fourth and Fifth Wards (Towns of Middletown, Southfield and Westfield). Court-room, former Edgewater Village Hall, Staten Island.

George W. Stake, Justice. Peter Tiernan, Clerk. Clerk's Office open from 9 a. m. to 4 p. m. Court opens at 9 a. m. Calendar called at 10 a. m. Court continued until close of business. Trial days, Mondays, Wednesdays and Fridays. Telephone, 343 Tompkinsville.

#### BOROUGH OF BROOKLYN.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF BROOKLYN, ROOM 2, BOROUGH HALL, BOROUGH OF BROOKLYN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE RECEIVED BY THE PRESIDENT OF THE BOROUGH OF BROOKLYN AT THE ABOVE OFFICE UNTIL 10 o'clock a. m. on

WEDNESDAY, NOVEMBER 26, 1908.

Borough of Brooklyn.

No. 1. FOR FURNISHING ALL THE LABOR AND MATERIAL REQUIRED FOR CONSTRUCTING SEWERS IN SEVENTY-FIFTH STREET, BOTH SIDES, FROM TENTH AVENUE TO ELEVENTH AVENUE.

The Engineer's preliminary estimate of the quantities is as follows:

85 linear feet of 12-inch pipe sewer, laid complete, including all incidentals and appurtenances, per linear foot, \$2.05	\$174.25
1,419 linear feet of 12-inch pipe sewer, laid complete, including all incidentals and appurtenances, per linear foot, \$1.80	2,508.20
650 linear feet of 6-inch house connection drain, laid complete, including all incidentals and appurtenances, per linear foot, 85 cents	562.50
16 manholes, complete, with iron heads and covers, including all incidentals and appurtenances, per manhole, \$25	400.00
1 sewer basin, complete, of either standard design, with iron pans or gratings, iron basin hood and connecting culvert, including all incidentals and appurtenances, per basin, \$130	130.00
Total	\$1,668.95

The time allowed for the completion of the work and full performance of the contract will be 30 working days. The amount of security required will be Eight Hundred Dollars (\$800).

No. 2. FOR FURNISHING ALL THE LABOR AND MATERIAL REQUIRED FOR CONSTRUCTING SEWER BASINS AT THE NORTHEAST, SOUTHEAST AND NORTHWEST CORNERS OF TWENTIETH AND BENSON AVENUES.

The Engineer's preliminary estimate of the quantities is as follows:

2 sewer basins, complete, of either standard design, with iron pans or gratings, iron basin hood and connecting culvert, including all incidentals and appurtenances, per basin, \$155	\$310.00
2 linear feet of 12-inch pipe sewer, laid complete, including all incidentals and appurtenances, per linear foot, \$2.05	410.00
100 linear feet of 6-inch house connection drain, laid complete, including all incidentals and appurtenances, per linear foot, 85 cents	85.00
8 manholes, complete, with iron heads and covers, including all incidentals and appurtenances, per manhole, \$25	200.00
2 basins, reconnected, complete, with iron basin hoods and connecting culverts, including all incidentals and appurtenances, per basin reconnected, \$45	90.00
1,200 feet (B. M.) of sheeting and bracing, driven in place complete, including all incidentals and appurtenances, per thousand feet (B. M.)	120.00
Total	\$2,617.00

The time allowed for the completion of the work and full performance of the contract will be 45 working days. The amount of security required will be Two Thousand Dollars (\$2,000).

No. 3. FOR FURNISHING ALL THE LABOR AND MATERIAL REQUIRED FOR CONSTRUCTING SEWER IN STERLING PLACE, FROM MOFFATT STREET TO CHAUNCEY STREET.

The Engineer's preliminary estimate of the quantities is as follows:

The Engineer's preliminary estimate of the quantities is as follows:

1 sewer main, complete, of either standard design, with iron pans or gratings, iron basin heads and connecting culvert, including all incidentals and appurtenances, per basin, 3000..... 1,600

The time allowed for the completion of the work and full performance of the contract will be 30 working days.

The amount of security required will be Eighty Dollars (\$80).

The foregoing Engineer's preliminary estimates of total cost for the completed work are in each case to be taken as the one per cent. basis and test for bidding. Proposals shall each state a single percentage of such one per cent. cost (such as 95 per cent., 100 per cent. or 105 per cent.), for which all material and work called for in the proposed contracts and the notices to bidders are to be furnished to the City. Such percentage, as bid for each contract, shall apply to all unit items specified in the Engineer's preliminary estimates to an amount necessary to complete the work described in the contract.

Blank forms and further information may be obtained and the plans and drawings may be seen at the office of the Bureau of Sewers, No. 215 Montague street, Borough of Brooklyn.

BIRD S. COLER, President.

Dated November 10, 1908.

11905

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE PRESIDENT OF THE BOROUGH OF BROOKLYN, ROOM 2, BOROUGH HALL, BOROUGH OF BROOKLYN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the President of the Borough of Brooklyn at the above office until 11 o'clock a. m. on

WEDNESDAY, NOVEMBER 25, 1908.

No. 1. FOR REGULATING AND REPAVING WITH ASPHALT ON CONCRETE FOUNDATION THE ROADWAY OF BARTLETT STREET, FROM FLUSHING AVENUE TO BROADWAY, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

4,750 square yards asphalt pavement, including binder course.

30 square yards old stone pavement, to be relaid in approaches, etc.

300 cubic yards concrete, 2,200 linear feet new curbstone, set in concrete.

20 linear feet old curbstone, redressed, rejoined and reset in concrete.

12 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Four Thousand Dollars (\$4,000).

No. 2. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON UTMAS AVENUE, FROM OCEAN PARKWAY TO WEST STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

3,600 linear feet new curbstone, set in concrete.

100 linear feet old curbstone, redressed, rejoined and reset in concrete.

40 cubic yards earth excavation.

20 cubic yards earth filling (not to be bid for).

175 cubic yards concrete (not to be bid for).

1,100 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is forty-five (45) working days.

The amount of security required is Three Thousand Dollars (\$3,000).

No. 3. FOR REGULATING, PAVING AND REPAVING WITH ASPHALT ON CONCRETE FOUNDATION THE ROADWAY OF ELMORE PLACE (EAST TWENTY-SECOND STREET), FROM FARRAGUT ROAD TO AVENUE C, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

5,770 square yards asphalt pavement, including binder course.

385 cubic yards concrete.

8 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Two Thousand Dollars (\$2,000).

No. 4. FOR REGULATING AND REPAVING WITH ASPHALT ON CONCRETE FOUNDATION THE ROADWAY OF HENDRICK STREET, FROM JAMAICA AVENUE TO ATLANTIC AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,880 square yards asphalt pavement, including binder course.

10 square yards old stone pavement, to be relaid in approaches, etc.

300 cubic yards concrete.

2,000 linear feet new curbstone, set in concrete.

100 linear feet old curbstone, redressed, rejoined and reset in concrete.

15 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Forty-one Hundred Dollars (\$4,100).

No. 5. FOR REGULATING AND REPAVING WITH GRANITE ON A CONCRETE FOUNDATION THE ROADWAY OF HOOPER STREET, FROM KENT AVENUE TO WYTHE AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

3,720 square yards granite pavement, with tar and gravel joints.

600 square yards granite pavement, with tar and gravel joints, to be relaid.

100 square yards old stone pavement, to be relaid in approaches, etc.

1,800 cubic yards concrete.

3,970 linear feet new curbstone, set in concrete.

340 linear feet old curbstone, redressed, rejoined and reset in concrete.

2,180 square feet new granite bridgestones.

175 square feet old bridgestones, rejoined and relaid.

The time allowed for the completion of the work and the full performance of the contract is sixty (60) working days.

The amount of security required is Fifteen Thousand Dollars (\$15,000).

No. 6. FOR REGULATING AND REPAVING WITH ASPHALT ON A CONCRETE FOUNDATION THE ROADWAY OF KINGSTON AVENUE, FROM FULTON STREET TO ST. JOHNS PLACE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

9,030 square yards asphalt pavement, including binder course, outside railroad area (five years' maintenance).

20 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

20 square yards old stone pavement, to be relaid in approaches, etc.

1,260 cubic yards concrete, outside railroad area.

4,870 square yards asphalt pavement, including binder course, outside of railroad area (5 years' maintenance).

1,250 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

30 square yards old stone pavement, to be relaid in approaches, etc.

680 cubic yards concrete, outside railroad area.

190 cubic yards concrete, within railroad area.

2,460 linear feet new curbstone, set in concrete.

2,740 linear feet old curbstone, redressed, rejoined and reset in concrete.

4 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is forty (40) working days.

The amount of security required is Fifty-six Hundred Dollars (\$5,600).

No. 7. FOR REGULATING AND REPAVING WITH ASPHALT ON A CONCRETE FOUNDATION THE ROADWAY OF LAFAYETTE AVENUE, FROM FLATBUSH AVENUE TO SOUTH PORTLAND AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

3,680 square yards asphalt pavement, including binder course, outside railroad area (5 years' maintenance).

400 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

100 square yards old stone pavement to be relaid in approaches, etc.

320 cubic yards concrete outside of railroad area.

60 cubic yards concrete within railroad area.

1,930 linear feet new curbstone, set in concrete.

250 linear feet old curbstone, redressed, rejoined and reset in concrete.

8 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is fifty (50) working days.

The amount of security required is Twelve Thousand Five Hundred Dollars (\$12,500).

No. 8. FOR REGULATING AND REPAVING WITH ASPHALT ON A CONCRETE FOUNDATION THE ROADWAY OF SUTTER AVENUE, FROM WYONA STREET TO VERMONT STREET; VERMONT STREET, FROM SEVENTY-FIVE FEET SOUTH OF BELMONT AVENUE TO BLAKE AVENUE; AND WYONA STREET, FROM SUTTER AVENUE TO BLAKE AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

5,940 square yards asphalt pavement, including binder course.

50 square yards old stone pavement, to be relaid in approaches, etc.

80 cubic yards concrete.

3,080 linear feet new curbstone, set in concrete.

220 linear feet old curbstone, redressed, rejoined and reset in concrete.

12 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is forty (40) working days.

The amount of security required is Four Thousand Dollars (\$4,000).

No. 9. FOR REGULATING, CURING AND LAVING SIDEWALKS ON UTMAS AVENUE, FROM OCEAN PARKWAY TO WEST STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

200 square yards asphalt pavement, including binder course, outside railroad area (5 years' maintenance).

100 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

40 cubic yards concrete outside railroad area.

15 cubic yards concrete within railroad area.

400 linear feet new curbstone, set in concrete.

20 linear feet old curbstone, redressed, rejoined and reset in concrete.

The time allowed for the completion of the work and the full performance of the contract is twenty (20) working days.

The amount of security required is Five Hundred Dollars (\$500).

No. 10. FOR REGULATING, CURING AND LAVING SIDEWALKS ON VANTH STREET, FROM BRIDGEWATER STREET TO MECKER AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

2,070 linear feet new curbstone, set in concrete.

20 linear feet old curbstone, redressed, rejoined and reset in concrete.

12 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is forty (40) working days.

The amount of security required is Fifty-four Hundred Dollars (\$5,400).

No. 11. FOR REGULATING, CURING AND LAVING SIDEWALKS ON NEVINS STREET, FROM WYCKOFF STREET TO BALTIMORE STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,600 square yards asphalt pavement, including binder course.

30 square yards old stone pavement, to be relaid in approaches, etc.

222 cubic yards concrete.

820 linear feet new curbstone, set in concrete.

20 linear feet old curbstone, redressed, rejoined and reset in concrete.

8 noiseless manhole heads and covers.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Sixteen Hundred Dollars (\$1,600).

No. 12. FOR REGULATING AND REPAVING WITH GRANITE ON A CONCRETE FOUNDATION THE ROADWAY OF SECOND AVENUE, FROM HAMILTON AVENUE TO SIXTH STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

10,520 square yards granite pavement, with tar and gravel joints.

600 square yards granite pavement, with tar and gravel joints, to be relaid.

100 square yards old stone pavement, to be relaid in approaches, etc.

1,800 cubic yards concrete.

3,970 linear feet new curbstone, set in concrete.

340 linear feet old curbstone, redressed, rejoined and reset in concrete.

2,180 square feet new granite bridgestones.

175 square feet old bridgestones, rejoined and relaid.

The time allowed for the completion of the work and the full performance of the contract is sixty (60) working days.

The amount of security required is Fifteen Thousand Dollars (\$15,000).

No. 13. FOR LAYING CROSSWALKS ON THE EASTERLY CROSSING OF SEVENTY-EIGHTH STREET AND FORT HAMILTON AVENUE, AND AT THE EASTERLY AND SOUTHERLY CROSSINGS AT THE INTERSECTION OF SEVENTY-NINTH STREET AND SEVENTH AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantity is as follows:

540 square feet new limestone bridging.

The time allowed for the completion of the work and the full performance of the contract is fifteen (15) working days.

The amount of security required is Fifteen Thousand Dollars (\$15,000).

No. 14. FOR REGULATING AND REPAVING WITH ASPHALT ON A CONCRETE FOUNDATION THE ROADWAY OF SOUTH SECOND STREET, FROM KEEF STREET TO MARCY AVENUE, AND FROM HAMMER STREET TO WYTHE AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantity is as follows:

9,030 square yards asphalt pavement, including binder course, outside railroad area (five years' maintenance).

20 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

200 cubic yards concrete.

2,460 linear feet new curbstone, set in concrete.

20 square yards old stone pavement, to be relaid in approaches, etc.

1,260 cubic yards concrete, outside railroad area.

The time allowed for the completion of the work and the full performance of the contract is twenty-five (25) working days.

The amount of security required is Twenty-four Hundred Dollars (\$2,400).

No. 15. FOR REGULATING AND REPAVING WITH ASPHALT ON A CONCRETE FOUNDATION THE ROADWAY OF KINGSTON AVENUE, FROM FULTON STREET TO ST. JOHNS PLACE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

9,030 square yards asphalt pavement, including binder course, outside railroad area (five years' maintenance).

20 square yards asphalt pavement, including binder course, within railroad area (no maintenance).

hoods and connecting culverts, including all incidentals and appurtenances, per basin, \$150..... \$300 on

The time allowed for the completion of the work and full performance of the contract will be 15 working days.

The amount of security required will be One Hundred and Fifty Dollars (\$150).

No. 6. FURNISHING ALL THE LABOR AND MATERIAL REQUIRED FOR CONSTRUCTING SEWER BASIN AT THE SOUTHEAST CORNER OF EIGHTH AVENUE AND SECOND STREET.

The Engineer's preliminary estimate is as follows:

1 sewer basin, complete, of either standard design, with iron pipe or gratings, iron basin head, and connecting culvert, including all incidentals and appurtenances; per basin, \$200..... \$200 on

The time allowed for the completion of the work and full performance of the contract will be ten working days.

The amount of security required will be One Hundred Dollars (\$100).

No. 7. FURNISHING ALL THE LABOR AND MATERIAL REQUIRED FOR CONSTRUCTING SEWER BASIN AT THE NORTHWEST CORNER OF NICHOLS AVENUE AND WOOD STREET.

The Engineer's preliminary estimate is as follows:

1 sewer basin, complete, of either standard design, with iron pipe or gratings, iron basin head, and connecting culvert, including all incidentals and appurtenances; per basin, \$200..... \$200 on

The time allowed for the completion of the work and full performance of the contract will be ten working days.

The amount of security required will be One Hundred Dollars (\$100).

The foregoing Engineer's preliminary estimates of total cost for the completed work are in each case to be taken as the two per cent basis and not for bidding. Principals shall each state a single percentage of such two per cent cost (such as 10 per cent, 10 1/2 per cent, etc.), for which all material and work called for in the proposed contracts and the notices to bidders are to be furnished to the City. Such percentage as bid for each contract shall apply to all unit items specified in the Engineer's preliminary estimates to an amount necessary to complete the work described in the contract.

Blank forms and further information may be obtained and the plans and drawings may be seen at the office of the Bureau of Sewers, the Borough of Brooklyn, No. 215 Montague street.

BIRD S. COLER,  
President.

Dated November 4, 1908.

No. 18

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE PRESIDENT OF THE BOROUGH OF BROOKLYN, ROOM 2, BOROUGH HALL, BOROUGH OF BROOKLYN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the President of the Borough of Brooklyn at the above office until 11 o'clock a. m., on

WEDNESDAY, NOVEMBER 18, 1908.

No. 1. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON EAST FOURTH STREET, BETWEEN AVENUE C AND NORTH YOU ROAD, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,720 linear feet of new curbstone, furnished and set in concrete.  
200 cubic yards of earth excavation.  
100 cubic yards of fill (not to be bid for).  
90 cubic yards of concrete (not to be bid for).

6,000 square feet of cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Eleven Hundred Dollars (\$1,100).

No. 2. FOR REGULATING AND PAVING WITH ASPHALT PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF HARRISON PLACE, BETWEEN BOGART STREET AND KNICKERBOCKER AVENUE, EIGHTIETH STREET, BETWEEN FIRST AVENUE AND SECOND AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

2,280 square yards of asphalt pavement, including binder course.

320 cubic yards of concrete for pavement foundation.

The time allowed for the completion of the work and the full performance of the contract is twenty (20) working days.

The amount of security required is Eleven Hundred Dollars (\$1,100).

No. 3. FOR REGULATING AND PAVING WITH ASPHALT PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF ETNA STREET, BETWEEN DRESDEN STREET AND QUEENS COUNTY LINE (ELDERTON LANE), TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,370 square yards of asphalt pavement, including binder course.

1,870 cubic yards of concrete for pavement foundation.

The time allowed for the completion of the work and the full performance of the contract is thirty-five (35) working days.

The amount of security required is Six Thousand Dollars (\$6,000).

No. 4. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON PARTRAGUT ROAD, BETWEEN PLATINUM AVENUE AND EAST TWENTY-SIXTH STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

260 linear feet of new curbstone, furnished and set in concrete.

200 linear feet of old curbstone, redressed, rejoined and reset in concrete.

90 cubic yards of earth excavation.

30 cubic yards of concrete (not to be bid for).

1,000 square feet of cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Five Hundred Dollars (\$500).

No. 5. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON FENIMORE STREET, BETWEEN ROGERS AVENUE AND NOSTRAND AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,400 linear feet new curbstone, furnished and set in concrete.

50 linear feet old curbstone, redressed, rejoined and reset in concrete.

60 cubic yards earth filling (not to be bid for).

60 cubic yards concrete (not to be bid for).

1,000 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Twelve Hundred Dollars (\$1200).

No. 6. FOR REGULATING AND GRADING BETWEEN COURTYARD LINES FIFTY-FIFTH STREET, BETWEEN SEVENTH AND ELEVENTH AVENUES, AND SETTING CEMENT CURB AND LAVING CEMENT SIDEWALKS BETWEEN SEVENTH AND EIGHTH AVENUES AND BETWEEN FORT HAMILTON AND ELEVENTH AVENUES, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

16,250 cubic yards earth excavation.

5,000 cubic yards earth filling (not to be bid for).

2,800 linear feet cement curb.

1,800 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is eighty (80) working days.

The amount of security required is Five Thousand Dollars (\$5,000).

No. 7. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON FORTY-FIFTH STREET, BETWEEN SIXTH AVENUE AND SEVENTH AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,420 linear feet new curbstone, furnished and set in concrete.

30 linear feet old curbstone, redressed, rejoined and reset in concrete.

2,700 cubic yards earth excavation.

95 cubic yards earth filling (not to be bid for).

84 cubic yards concrete (not to be bid for).

7,700 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is twenty (20) working days.

The amount of security required is Eighteen Hundred and Fifty Dollars (\$1,850).

No. 8. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON PROSPECT PLACE, BETWEEN BUFFALO AVENUE AND RALPH AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,320 linear feet new curbstone, furnished and set in concrete.

30 linear feet old curbstone, redressed, rejoined and reset in concrete.

2,700 cubic yards earth excavation.

95 cubic yards earth filling (not to be bid for).

84 cubic yards concrete (not to be bid for).

7,700 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Seventeen Hundred Dollars (\$1,700).

No. 9. FOR REGULATING AND REPAVING WITH ASPHALT PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF FORTY-NINTH STREET, BETWEEN SECOND AVENUE AND THIRD AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

2,410 square yards asphalt pavement, including binder course.

18 square yards old stone pavement, to be retained in approaches, etc.

330 cubic yards concrete for pavement foundation.

40 linear feet new curbstone, to be furnished and set in concrete.

80 linear feet old curbstone, redressed, rejoined and reset in concrete.

4 noiseless covers and heads complete for sewer manholes, furnished and set.

The time allowed for the completion of the work and the full performance of the contract is thirty-five (35) working days.

The amount of security required is Fifty-six Hundred Dollars (\$5,600).

No. 10. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON WINTHROP STREET, BETWEEN ROGERS AND NOSTRAND AVENUES, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,500 linear feet new curbstone, furnished and set in concrete.

50 linear feet old curbstone, redressed, rejoined and reset in concrete.

880 cubic yards earth excavation.

5 cubic yards earth filling (not to be bid for).

83 cubic yards concrete (not to be bid for).

6,150 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Twelve Hundred Dollars (\$1,200).

No. 11. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON HENRY STREET, BETWEEN OCEAN PARKWAY AND EAST TWENTY-EIGHTH STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,100 linear feet of new curbstone, furnished and set in concrete.

18 linear feet of old curbstone, redressed, rejoined and reset in concrete.

2,700 cubic yards earth excavation.

60 cubic yards earth filling (not to be bid for).

84 cubic yards concrete (not to be bid for).

7,700 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Eight Hundred and Fifty Dollars (\$850).

No. 12. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON HINCELEY PLACE, BETWEEN CONEY ISLAND AVENUE AND EAST TWENTY-FIRST STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,100 linear feet of new curbstone, furnished and set in concrete.

18 linear feet of old curbstone, redressed, rejoined and reset in concrete.

2,700 cubic yards earth excavation.

60 cubic yards earth filling (not to be bid for).

84 cubic yards concrete (not to be bid for).

7,700 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Five Hundred Dollars (\$500).

No. 13. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON FENIMORE STREET, BETWEEN ROGERS AVENUE AND NOSTRAND AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,000 linear feet of earth excavation.

1,000 square feet of cement curb.

1,000 square feet of cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is twenty-five (25) working days.

The amount of security required is Four Hundred Dollars (\$400).

No. 14. FOR REGULATING AND REPAVING WITH ASPHALT PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF INGRAM STREET, BETWEEN BOGART STREET AND KNICKERBOCKER AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,030 square yards asphalt pavement, including binder course.

20 square yards old stone pavement, to be retained in approaches, etc.

235 cubic yards concrete for pavement foundation.

1,040 linear feet new curbstone, furnished and set in concrete.

50 linear feet old curbstone, redressed, rejoined and reset in concrete.

4 noiseless covers and heads, complete, for sewer manholes, furnished and set.

The time allowed for the completion of the work and the full performance of the contract is twenty (20) working days.

The amount of security required is Eighteen Hundred and Fifty Dollars (\$1,850).

No. 15. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON PROSPECT PLACE, BETWEEN BUFFALO AVENUE AND RALPH AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,320 linear feet new curbstone, furnished and set in concrete.

30 linear feet old curbstone, redressed, rejoined and reset in concrete.

2,700 cubic yards earth excavation.

95 cubic yards earth filling (not to be bid for).

84 cubic yards concrete (not to be bid for).

7,700 square feet cement sidewalk.

The time allowed for the completion of the work and the full performance of the contract is thirty (30) working days.

The amount of security required is Seventeen Hundred Dollars (\$1,700).

No. 16. FOR REGULATING, GRADING, CURBING AND LAVING SIDEWALKS ON A CONCRETE FOUNDATION THE ROADWAY OF SNEIDER AVENUE, BETWEEN PITKIN AVENUE AND DUMONT AVENUE, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

Engineer's estimate of the quantities is as follows:

1,5

List 123, No. 5. Sewer in Eighth avenue (Pomery street), from Grand avenue to Vandeventer avenue, First Ward.  
 List 126, No. 6. Sewer in Fourteenth avenue (Stevens street), from Vandeventer avenue to Grand avenue, First Ward.  
 List 128, No. 7. Sewer in Maple avenue, from Summit street to Lawrence street, Third Ward.  
 List 129, No. 8. Sewer in Fourth avenue (Roosevelt street), from Broadway to Graham avenue, First Ward.  
 List 133, No. 9. Sewer in Halsey street, from Fulton avenue to Franklin street, First Ward.

The limits within which it is proposed to lay the said assessments include all the several houses and lots of ground, vacant lots, pieces and parcels of land situated on—

No. 1. Both sides of Vermilyea avenue, between Dyckman and Two Hundred and Eleventh streets; both sides of Hawthorne street, between Broadway and Sherman street; both sides of Emerson street, between Copper and Sherman streets; east side of Broadway, between Hawthorne and Emerson streets; west side of Broadway, between Hawthorne and Emerson streets.

No. 2. Both sides of First avenue, from Webster to Faynter avenue; north side of Faynter avenue; both sides of Beebe avenue; Freeman avenue, between First avenue and Academy street.

No. 3. Both sides of Nineteenth street, between Sixth and Seventh avenues.

No. 4. Both sides of Fourteenth street, from Eighth avenue to Tenth avenue; both sides of Tenth avenue, between Fourteenth and Seventeenth streets.

No. 5. Both sides of Eighth avenue, between Vandeventer avenue and Grand avenue.

No. 6. Both sides of Fourteenth avenue, from Vandeventer avenue to Grand avenue.

No. 7. Both sides of Maple avenue, from Summit street to Lawrence street.

No. 8. Both sides of Fourth avenue, from Broadway to Graham avenue.

No. 9. Both sides of Halsey street, from Franklin street to Fulton avenue.

All persons whose interests are affected by the above-named proposed assessments and who are opposed to the same, or either of them, are requested to present their objections, in writing, to the Secretary of the Board of Assessors, No. 120 Broadway, New York, on or before December 8, 1908, at 11 a. m., at which time and place the said objections will be heard and testimony received in reference thereto.

ANTONIO ZUCCA,  
 PAUL WEIMANN,  
 JAMES H. KENNEDY,  
 Board of Assessors.

WILLIAM H. JASPER,  
 Secretary,  
 No. 120 Broadway,  
 City of New York, Borough of Manhattan,  
 November 5, 1908.

55.16

## BOROUGH OF QUEENS.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF QUEENS, NEW YORK, November 10, 1908.

NOTICE IS HEREBY GIVEN, IN ACCORDANCE WITH SECTION 432 OF THE CHARTER OF THE CITY OF NEW YORK, THAT PETITION SIGNED BY PROPERTY OWNERS AND RESIDENTS OF THE NEWTON DISTRICT FOR LOCAL IMPROVEMENTS TO LEGALLY OPEN WINTHROP AVENUE, FROM OLD BOWERY BAY ROAD TO THE EAST RIVER, FIRST WARD OF THE BOROUGH OF QUEENS, HAS BEEN FILED IN THIS OFFICE, AND IS NOW READY FOR PUBLIC INSPECTION, AND THAT A MEETING OF THE BOARD OF LOCAL IMPROVEMENTS OF THE NEWTON DISTRICT FOR LOCAL IMPROVEMENTS WILL BE HELD IN THE BOROUGH OFFICE, HACKETT BUILDING, LONG ISLAND CITY, ON THE SIXTH DAY OF NOVEMBER, 1908, AT 10 A. M., AT WHICH MEETING SAID PETITION WILL BE SUBMITTED TO THE BOARD.

LAWRENCE GRESSER, President.  
 JOHN M. CRAGEN, Secretary.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF QUEENS, THIRD FLOOR OF THE BOROUGH HALL, FIFTH STREET AND JACKSON AVENUE, LONG ISLAND CITY, BOROUGH OF QUEENS, CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE RECEIVED BY THE PRESIDENT OF THE BOROUGH OF QUEENS AT THE ABOVE OFFICE UNTIL 12 O'CLOCK A. M. ON

TUESDAY, NOVEMBER 24, 1908.

NO. 1. FOR REGULATING AND REPAVING WITH GRANITE BLOCK PAVEMENT ON A SAND FOUNDATION THE ROADWAY OF WOODWARD AVENUE, FROM STANHOPE STREET TO ELM STREET, SECOND WARD.

The time allowed for doing and completing the above work will be forty (40) working days.

The amount of security required will be One Thousand Dollars (\$1,000).

The Engineer's estimate of the quantities is as follows:

3,600 square yards of granite block pavement, including sand bed laid with same joints, and all regulating and grading.

NO. 2. FOR PAVING WITH WOOD BLOCK PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF ACADEMY STREET, FROM BROADWAY TO JAMAICA AVENUE, FIRST WARD.

The time allowed for doing and completing the above work will be thirty (30) working days.

The amount of security required will be Four Thousand Dollars (\$4,000).

The Engineer's estimate of the quantities is as follows:

400 cubic yards of concrete, including mortar bed.

5,000 square yards of wood block pavement.

NO. 3. FOR PAVING WITH ASPHALT BLOCK PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF TEMPLE STREET, FROM BOULEVARD TO ELY AVENUE, FIRST WARD.

The time allowed for doing and completing the above work will be sixty (60) working days.

The amount of security required will be Seven Thousand Five Hundred Dollars (\$7,500).

The Engineer's estimate of the quantities is as follows:

7,614 square yards of asphalt block pavement.

950 cubic yards of concrete, including mortar bed.

200 linear feet of old curb, to be replaced, rejoined and reset.

NO. 4. TO CONSTRUCT SEWER AND APPURTENANCES IN VANDEVENTER AVENUE, FROM FOURTEENTH AVENUE TO ELEVENTH AVENUE, IN THE FIRST WARD.

The Engineer's estimate of the quantities is as follows:

300 linear feet 12-inch vitrified salt-glazed pipe sewer.

250 linear feet 18-inch vitrified salt-glazed pipe sewer.

30 linear feet 12-inch vitrified salt-glazed culvert pipe.

1,026 linear feet 6-inch vitrified salt-glazed pipe for house connection.

6 manholes, complete.

1 receiving basin, complete.

100 cubic yards rock, excavated and removed.

See General Instructions to Bidders on the last page, last column, of the "City Record."

55.17

55.18

55.19

55.20

55.21

55.22

55.23

55.24

55.25

55.26

55.27

55.28

55.29

55.30

55.31

55.32

55.33

55.34

55.35

55.36

55.37

55.38

55.39

55.40

55.41

55.42

55.43

55.44

55.45

55.46

55.47

55.48

55.49

55.50

55.51

55.52

55.53

55.54

55.55

55.56

55.57

55.58

55.59

55.60

55.61

55.62

55.63

55.64

55.65

55.66

55.67

55.68

55.69

55.70

55.71

55.72

55.73

55.74

55.75

55.76

55.77

55.78

55.79

55.80

55.81

55.82

55.83

55.84

55.85

55.86

55.87

55.88

55.89

55.90

55.91

55.92

55.93

55.94

55.95

55.96

55.97

55.98

55.99

55.100

55.101

55.102

55.103

55.104

55.105

55.106

55.107

55.108

55.109

55.110

55.111

55.112

55.113

55.114

55.115

55.116

55.117

55.118

55.119

55.120

55.121

55.122

55.123

55.124

55.125

55.126

55.127

55.128

55.129

55.130

55.131

55.132

55.133

55.134

55.135

55.136

55.137

55.138

55.139

55.140

55.141

55.142

55.143

55.144

55.145

55.146

55.147

</

City of New York, where plans and specifications may be seen.

ROBERT W. HEBERD,  
Commissioner.

Dated October 20, 1908.

09.11.3

See General Instructions to Bidders on the last page, last column, of the "City Record."

DEPARTMENT OF PUBLIC CHARITIES, FOOT OF EAST TWENTY-SIXTH STREET, NEW YORK.

TO CONTRACTORS.

PROPOSALS FOR BIDS OR ESTIMATES.

SEALED BIDS OR ESTIMATES WILL BE received by the Department of Public Charities at the above office until 10:30 o'clock a. m. on

THURSDAY, NOVEMBER 12, 1908,

FOR PROVIDING ALL LABOR AND MATERIALS, INCLUDING CHAMBERS, CARS, FORMALDEHYDE RETORTS, TRANSFER TABLE, TRACKS, SLEEPERS, TEES, VALVES, PIPING AND ALL OTHER WORK NECESSARY TO THE INSTALLATION OF A COMBINED STEAM AND FORMALDEHYDE DISINFECTING SYSTEM (EXCEPT THE SUPPLYING AND INSTALLATION OF A VACUUM PUMP) FOR THE NEW MUNICIPAL LODGING HOUSE, SITUATED APPROXIMATELY FOUR HUNDRED FEET EAST OF FIRST AVENUE AND ON THE SOUTHERN SIDE OF TWENTY-FIFTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

The time allowed for doing and completing the entire work and the full performance of the contract is forty (40) consecutive working days.

The surety required will be Ten Thousand Dollars (\$10,000).

The bidder will state one aggregate price for the whole work described and specified, as the contractor is entire and for a complete job.

Blank forms and further information may be obtained at the office of Raymond P. Almirall, Architect, No. 41 Chambers street, Borough of Manhattan, The City of New York, where plans and specifications may be seen.

ROBERT W. HEBERD,  
Commissioner.

Dated October 20, 1908.

09.11.3

See General Instructions to Bidders on the last page, last column, of the "City Record."

DEPARTMENT OF PUBLIC CHARITIES, FOOT OF EAST TWENTY-SIXTH STREET, NEW YORK.

TO CONTRACTORS.

PROPOSALS FOR BIDS OR ESTIMATES.

SEALED BIDS OR ESTIMATES WILL BE received by the Department of Public Charities at the above office until 10:30 o'clock a. m. on

FRIDAY, NOVEMBER 13, 1908,

FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR REMOVING THE FOUR HOSPITAL PAVILIONS, LOCATED ON THE GROUNDS OF BELLEVUE HOSPITAL AND ERECTING SAME AT THE METROPOLITAN HOSPITAL, ALSO FOR ALTERING THE POSITION OF SIX HOSPITAL PAVILIONS NOW AT THE METROPOLITAN HOSPITAL.

The time allowed for the completion of the work and full performance of the contract is forty (40) consecutive working days.

The surety required will be Two Thousand Dollars (\$2,000).

The bidder will state one aggregate price for the whole work described and specified, as the contractor is entire and for a complete job.

Blank forms and further information may be obtained at the office of the Architect of the Department, 41 Chambers street, The City of New York, where plans and specifications may be seen.

ROBERT W. HEBERD,  
Commissioner.

Dated October 20, 1908.

09.11.3

See General Instructions to Bidders on the last page, last column, of the "City Record."

## BOROUGH OF MANHATTAN.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF MANHATTAN, NEW YORK, November 6, 1908.

NOTICE OF SALE AT PUBLIC AUCTION.

ON MONDAY, NOVEMBER 20, 1908,

the President of the Borough of Manhattan will sell at public auction, at 10 a. m., the following unclaimed articles, namely:

Stands, huts, signs, abandoned household furniture, office furniture, timber, barrels of cement and lime, iron beams, fireproof brick, front stone, pavements, sledges, wagons, old iron, etc.

The sale to commence at the corporation yard, No. 400 West One Hundred and Twenty-third street; themes in West Fifty-sixth street, between Eleventh and Twelfth avenues; themes in foot of Rivington street, East River.

09.11.3

## BOROUGH OF RICHMOND.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF RICHMOND, BOROUGH HALL, ST. GEORGE, NEW BRIGHTON, NEW YORK CITY.

SEALED BIDS OR ESTIMATES WILL BE received by the President of the Borough of Richmond at the above office until 10:30 o'clock on

TUESDAY, NOVEMBER 21, 1908.

Borough of Richmond.

No. 1. FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR REGULATING AND REPAVING WITH WOOD BLOCK PAVEMENT ON A CONCRETE FOUNDATION THE ROADWAY OF HEBERTON AVENUE, FROM POST AVENUE TO ELIZABETH STREET, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

The Engineer's estimate of the quantity and quality of the material, and the nature and extent, as near as possible, of the work required is as follows:

6,200 square yards of wood block pavement.  
600 cubic yards of concrete, including mortar.

2,700 linear feet of one sixteen (16) inch thickness concrete, furnished and set.

600 square feet of old sidewalk, relaid.

The time for the completion of the work and the full performance of the contract is seventy-five (75) days.

The amount of security required is Eleven Thousand Dollars (\$11,000).

The contracts must be bid for separately, and the bids will be compared and the contract awarded at a lump or aggregate sum for each contract.

Bidders are requested to make their bids or estimates upon the blank forms prepared by the President, a copy of which, with the proper envelope in which to inclose the bid, together with a copy of the contract, including the specifications, in the form approved by the Corporation Counsel, can be obtained upon application thereto at the office of the said President. The plans and drawings may be seen and other information obtained at the office of the Commissioner of Public Works of the Borough of Richmond, Borough Hall, New Brighton, Borough of Richmond.

The City of New York, October 21, 1908.

GEORGE CROMWELL, President.

09.11.7

See General Instructions to Bidders on the last page, last column, of the "City Record."

## BOARD OF WATER SUPPLY.

TO CONTRACTORS.

SEALED BIDS OR PROPOSALS WILL BE received by the Board of Water Supply in the office of the Board, No. 299 Broadway, New York, Room 910, ninth floor, until 10 a. m. on

TUESDAY, DECEMBER 1, 1908.

For CONTRACT 36 for the construction of the NORTH HALF OF THE WALLKILL PRESSURE TUNNEL, a tunnel in rock crossing under the valley of the Wallkill River, with three shafts 330 to 480 feet in depth, and a short stretch of plain concrete conduit known as cut-and-cover aqueduct; and for CONTRACT 37 for the construction of the SOUTH HALF OF THE WALLKILL PRESSURE TUNNEL, with three shafts 330 to 400 feet in depth, and a short stretch of plain concrete conduit, known as cut-and-cover aqueduct. The pressure tunnel will be circular, 14½ feet inside diameter, and the aqueduct 17 feet high by 12½ feet wide inside. The work is located in the Towns of New Paltz and Gardiner, Ulster County, N. Y.

Bids or proposals are invited for each contract separately and for both contracts combined. Any bidder may make a bid for either contract or for the two contracts combined. A separate form of proposal will be furnished for the purpose of the combined bid.

The Board may reject any or all bids.

An approximate statement of the quantities of the various classes of work and further information are given in the Information for Bidders, forming part of the contract.

At the above place and time the bids will be publicly opened and read. The award of the contract, if awarded, will be made by the Board of Water Supply as soon thereafter as practicable.

Two or more bonds, the aggregate amount of which shall be Fifty Thousand Dollars (\$50,000), will be required for the faithful performance of the contract. Each bond must be signed by the contractor and the sureties. The name and address of each surety offered must be stated in the bid or proposal, together with the amount in which each surety will qualify. The sureties and the amount in which each will qualify must be satisfactory to the Board.

No bid will be received and deposited unless accompanied by a certified check upon a National or State bank, drawn to the order of the Comptroller of The City of New York, to the amount of Fifty Thousand Dollars (\$50,000) for each contract.

Only one check for each contract will be required whether bids are submitted for the contracts separately or combined.

The time allowed for the completion of the work under each contract is 12 months from the service of notice by the Board to begin work.

Pamphlets containing information for bidders, forms of proposal, contract and bond, approved by the Corporation Counsel, and specifications, and pamphlets containing contract drawings, can be obtained at the office of the Board of Water Supply, Room 910, at the above address, upon application in person or by mail, or by depositing the sum of Ten Dollars (\$10) in currency, or check drawn to the order of the Board of Water Supply, for each pamphlet. This deposit will be refunded upon the return of the pamphlets in acceptable condition within thirty days from the date on which bids are to be opened.

JOHN A. BENSEL, President;  
CHARLES N. CHADWICK,  
CHARLES A. SHAW,  
Commissioners of the Board of Water Supply.

J. WALDO SMITH, Chief Engineer.

THOMAS HAMPTON, Secretary.

09.11.7

See General Instructions to Bidders on the last page, last column, of the "City Record."

TO CONTRACTORS.

SEALED BIDS OR PROPOSALS WILL BE received by the Board of Water Supply, in the office of the Board, No. 299 Broadway, New York, Room 910, ninth floor, until 10 a. m. on

TUESDAY, NOVEMBER 17, 1908.

FOR MAKING BORINGS ALONG ONE OR MORE LINES SOUTH OF HILL VIEW RESERVOIR, LYING MAINLY IN THE BOROUGHS OF THE BRONX, MANHATTAN AND BROOKLYN, INCLUDING LINES CROSSING THE HARLEM RIVER, PROBABLY BETWEEN SEVENTH AVENUE AND WASHINGTON BRIDGE, AND THE EAST RIVER, APPROXIMATELY BETWEEN THE WILLIAMSBURG AND BROOKLYN BRIDGES.

An approximate statement of the quantities of the various classes of work and further information are given in the Information for Bidders, forming part of the contract.

At the above place and time the bids will be publicly opened and read. The award of the contract, if awarded, will be made by the Board of Water Supply as soon thereafter as practicable.

Two or more bonds, the aggregate amount of which shall be Fifty Thousand Dollars (\$50,000), will be required for the faithful performance of the contract. Each bond must be signed by the contractor and the sureties. The name and address of each surety offered must be stated in the bid or proposal, together with the amount in which each surety will qualify. The sureties and the amount in which each will qualify must be satisfactory to the Board.

No bid will be received and deposited unless accompanied by a certified check upon a National or State bank, drawn to the order of the Comptroller of The City of New York, to the amount of Three Thousand Dollars (\$3,000).

The time allowed for the completion of the work is until December 31, 1910.

Pamphlets containing information for bidders, forms of proposal, contract and bond, approved

by the Corporation Counsel, and specifications and contract drawings, can be obtained at the office of the Board of Water Supply, Room 910, at the above address, upon application in person or by mail, or by depositing the sum of Ten Dollars (\$10) in currency, or check drawn to the order of the Board of Water Supply, for each pamphlet. This deposit will be refunded upon the return of the pamphlets in acceptable condition within thirty days from the date on which bids are to be opened.

JOHN A. BENSEL, President;  
CHARLES N. CHADWICK,  
CHARLES A. SHAW,

Commissioners of the Board of Water Supply.

J. WALDO SMITH, Chief Engineer.

THOMAS HAMPTON, Secretary.

09.11.7

See General Instructions to Bidders on the last page, last column, of the "City Record."

## DEPARTMENT OF STREET CLEANING.

MAIN OFFICE OF THE DEPARTMENT OF STREET CLEANING, ROOM 1403, Nos. 15 to 21 PARK ROW, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Commissioner of Street Cleaning at the above office until 10:30 a. m. on

FRIDAY, NOVEMBER 20, 1908.

Boroughs of Manhattan and The Bronx.

CONTRACT FOR THE COLLECTION AND REMOVAL OF ALL ASHES, GARBAGE AND OTHER LIGHT REFUSE AND RUBBISH IN SPECIFIED DISTRICTS OF THE BOROUGH OF THE BRONX, AND INWOOD AND MARBLE HILL IN THE BOROUGH OF MANHATTAN.

N. B.—The purpose of this contract is to provide for the collection and removal of all ashes, garbage and other light refuse and rubbish in those built-up portions of the Boroughs of Manhattan and The Bronx to which the regular service of the Department of Street Cleaning has not yet been extended.

The time for the completion of the work is one year.

The amount of security required is Ten Thousand Dollars.

The bidder must state a price per calendar month, and this price must be written out in full in the bid or estimate, and must also be given in figures.

The contract, if awarded, will be awarded to the lowest bidder, in accordance with sections 341 and 344 of the Greater New York Charter, and the Commissioner of Street Cleaning may reject all of the bids, if in his opinion the public interest shall so require.

Blank forms and further information may be obtained at the office of the Department of Street Cleaning, The Bronx, to which the regular service of the Department of Street Cleaning has not yet been extended.

FOSTER CROWELL,  
Commissioner of Street Cleaning.  
Dated November 7, 1908.

09.11.20

See General Instructions to Bidders on the last page, last column, of the "City Record."

HEADQUARTERS OF THE FIRE DEPARTMENT OF THE CITY OF NEW YORK, Nos. 157 AND 159 EAST SIXTY-SEVENTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK, November 12, 1908.

SAMUEL VORZIMER, AUCTIONEER, ON behalf of the Fire Department of The City of New York, Borough of Manhattan, will offer for sale at public auction to the highest bidder for cash, at the Hospital and Training Station, Nos. 157 and 159 West Ninety-ninth street, Borough of Manhattan, all

THURSDAY, NOVEMBER 19, 1908,

at noon, the following seven horses, no longer fit for service in the Department, and numbered 998, 1002, 1174, 1210, 1239, 1792 and 1908.

NICHOLAS J. HAYES, Fire Commissioner.

09.11.10

HEADQUARTERS OF THE FIRE DEPARTMENT OF THE CITY OF NEW YORK, Nos. 157 AND 159 EAST SIXTY-SEVENTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Fire Commissioner at the above office until 10:30 o'clock a. m. on

TUESDAY, NOVEMBER 24, 1908.

Borough of Manhattan,  
FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR ADDITIONS AND ALTERATIONS TO FUEL DEPOT NO. 5, AND STABLES LOCATED AT NO. 199 CHRYSTIE STREET.

The time for the completion of the work and the full performance of the contract is one hundred and twenty (120) days.

The amount of security required is Five Thousand Dollars (\$5,000).

Bids will be compared and the contract awarded at a lump or aggregate sum.

Blank forms and further information may be obtained at the office of the Fire Department, Nos. 157 and 159 East Sixty-seventh street, Manhattan, NICHOLAS J. HAYES, Fire Commissioner. Dated November 12, 1908.

09.11.20

HEADQUARTERS OF THE FIRE DEPARTMENT OF THE CITY OF NEW YORK, Nos. 157 AND 159 EAST SIXTY-SEVENTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Fire Commissioner at the above office until 10:30 o'clock a. m. on

WEDNESDAY, NOVEMBER 18, 1908.

Borough of Queens,  
FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR ADDITIONS AND ALTERATIONS TO THE QUARTERS OF HOSE COMPANY 7, EAST SIDE OF ORCHARD STREET, SOUTH OF SHELTON AVENUE, JAMAICA.

The time for the completion of the work and the full performance of the contract is sixty days.

The amount of security required is Two Thousand Two Hundred and Fifty Dollars (\$2,500).

Bids will be compared and contract awarded at a lump or aggregate sum.

No. 2. FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR ADDITIONS AND

## SITE OF HERRIMAN AVENUE, NORTH OF FULTON STREET, JAMAICA.

The time for the completion of the work and the full performance of the contract is as follows:

The amount of security required is Twelve Hundred and Fifty Dollars (\$1,250).

Bids will be compared and the contract awarded at a lump or aggregate sum.

Blank forms and further information may be obtained and the plans and drawings may be seen at the office of the Fire Department, Nos. 157 and 159 East Sixty-seventh street, Manhattan.

NICHOLAS J. HAYES,  
Fire Commissioner.

Dated November 6, 1908.

1108

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

HEADQUARTERS OF THE FIRE DEPARTMENT OF THE CITY OF NEW YORK, Nos. 157 AND 159 EAST SIXTY-SEVENTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE RECEIVED by the Fire Commissioner at the above office until 10:30 o'clock a. m. on

**MONDAY, NOVEMBER 16, 1908.**

**Boroughs of Brooklyn and Queens.**

No. 1. FOR FURNISHING AND DELIVERING FIVE THOUSAND FEET OF ONE-INCH RUBBER FIRE HOSE FOR USE ON CHEMICAL ENGINES.

The time for the delivery of the articles, materials and supplies and the performance of the contract is thirty (30) days.

The amount of security required is fifty per cent. (50%) of the amount of the bid or estimate.

No. 2. FOR FURNISHING AND DELIVERING SEVENTY-FIVE (75) FIRE ALARM BOXES FOR USE IN THE BOROUGHS OF BROOKLYN AND QUEENS.

The time for the delivery of the articles, materials and supplies and the performance of the contract is one hundred and twenty (120) days.

The amount of security required is fifty per cent. (50%) of the amount of the bid or estimate.

The bidder will state the price of each item or article contained in the specifications or schedules herein contained or hereto annexed, per pound, ton, dozen, gallon, yard or other unit of measure by which the bids will be tested. The extensions must be made and footed up, as the bids will be read from the total for each item. The bids will be compared and the contract awarded at a lump or aggregate sum for each contract.

Delivery will be required to be made at the time and in the manner and in such quantities as may be directed.

Blank forms and further information may be obtained at the office of the Fire Department, Nos. 157 and 159 East Sixty-seventh street, Manhattan.

NICHOLAS J. HAYES,  
Fire Commissioner.

Dated October 31, 1908.

1105

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

## BOROUGH OF THE BRONX.

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for No. 142. Acquiring title to the lands necessary for Leland avenue, from Ludlow avenue to Clasons Point road.

No. 143. Acquiring title to Seward avenue, from Clasons Point road to White Plains road.

No. 144. Acquiring title to Thirteenth avenue, from Garrison avenue to Clasons Point road.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 145. Acquiring title to the lands necessary for Cottage place, between Crotona Park South and One Hundred and Seventieth street.

No. 146. Regulating and grading, setting curbs and paving sidewalks a space four feet wide, laying crosswalks, building approaches and erecting fences where necessary in Cottage place between Crotona Park South and One Hundred and Seventieth street.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 147. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 148. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 149. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 150. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 151. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 152. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 153. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 154. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 155. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 156. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 157. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 158. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 159. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 160. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 161. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 162. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 163. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 164. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 165. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 166. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 167. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 168. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 169. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 170. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 171. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 172. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

OFFICE OF THE PRESIDENT OF THE BOROUGH OF THE BRONX, MUNICIPAL BUILDING, CROTONA PARK, ONE HUNDRED AND SEVENTY-SEVENTH STREET AND THIRD AVENUE.

I HEREBY GIVE NOTICE THAT PETITIONS have been presented to me, and are on file in my office for inspection, for

No. 173. Constructing a guard rail where necessary on the west side of Park avenue, fifty (50) feet north of East One Hundred and Eighty-second street.

No. 174. Constructing a guard rail on the northwest corner of East One Hundred and Eighty-third street and Park avenue.

No. 175. Acquiring title to the lands necessary for Fieldston road, between Spuyten Duyvil parkway and Mosholu avenue.

The petitions for the above will be submitted by me to the Local Board having jurisdiction thereof on November 12, 1908, at 10 a. m., at the office of the President of the Borough of The Bronx, Municipal Building, Crotona Park, One Hundred and Seventy-seventh street and Third avenue.

Dated October 30, 1908.

LOUIS F. HAFFEN,  
President of the Borough of The Bronx.

1106,1107,1108

according to which price any award of the contract will be made.

Delivery will be required to be made at the time and in the manner and in such quantities as may be directed.

Blank forms and further information may be obtained at the office of the said Department.

ALLEN N. SPOONER,  
Commissioner of Docks.

Dated November 7, 1908.

112.25

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF DOCKS AND PIERS, Pier "A," Foot of BATTERY PLACE, NORTH RIVER, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE RECEIVED by the Commissioner of Docks at the above office until 12 o'clock m.

THURSDAY, NOVEMBER 10, 1908.

Borough of Manhattan,

CONTRACT NO. 1130.  
FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR REPAIRING ASPHALT PAVEMENT ON NORTH AND EAST RIVERS, TOGETHER WITH ALL WORK INCIDENTAL THERETO.

The time for the completion of the work and the full performance of the contract is on or before the expiration of December 31, 1909.

The amount of security required is Ten Thousand Dollars on Class I and Ten Thousand Dollars on Class II.

Bidders will state a price for both subdivisions of either class of the contract on which a bid is submitted. Each class of the contract will be awarded separately to the lowest bidder in the class, including subdivisions A and B of the class.

Work must be done at the time and in the manner and in such quantities as may be directed.

Blank forms and further information may be obtained at the office of the said Department.

ALLEN N. SPOONER,  
Commissioner of Docks.

Dated November 6, 1908.

112.25

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF DOCKS AND PIERS, Pier "A," Foot of BATTERY PLACE, NORTH RIVER, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE RECEIVED by the Commissioner of Docks at the above office until 12 o'clock m.

THURSDAY, NOVEMBER 10, 1908.

CONTRACT NO. 1132.  
FOR FURNISHING ALL THE LABOR AND MATERIALS REQUIRED FOR FURNISHING AND DELIVERING CEMENT.

The time for the completion of the work and the full performance of the contract is on or before the expiration of the calendar day.

The amount of security required is as follows: On Class I-A, for 500 barrels of cement, Two Thousand Five Hundred Dollars; on Class I-B, for 2,000 bags of cement, Two Thousand Five Hundred Dollars.

Bidders will state a unit price in each class of this contract on which a bid is submitted—namely, a price per barrel in Class I-A, and a price per bag in Class I-B; by which unit prints the bids will be tested.

Awards will be made separately in each class to the lowest bidder in the class—that is, to the bidder whose bid is the lowest for furnishing the cement in barrels under Class I-A and to the bidder who is the lowest for furnishing cement in bags under Class I-B.

Delivery will be required to be made at the time and in the manner and in such quantities as may be directed.

Blank forms and further information may be obtained at the office of the said Department.

ALLEN N. SPOONER,  
Commissioner of Docks.

Dated November 6, 1908.

112.25

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

## DEPARTMENT OF FINANCE.

### NOTICE TO PROPERTY OWNERS.

IN PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF QUEENS.

#### FIRST WARD.

BARTOW STREET—SEWER, between Jackson avenue and Webster avenue. Area of assessment: Both sides of Bartow street, from Jackson avenue to Webster avenue.

THIRTEENTH AVENUE—SEWER, from Vandewater avenue to Grand avenue. Area of assessment: Both sides of Thirteenth avenue, from Vandewater avenue to Grand avenue.

FIFTEENTH AVENUE—REGULATING, GRAVING, CURBING, FLAGGING AND LAVING CROSSWALKS, from Broadway to Newtown road. Area of assessment: Both sides of Fifteenth Avenue (Loyster street), from Broadway to Newtown road, and to the extent of half the block at the intersecting streets.

That the same were confirmed by the Board of Assessors, November 10, 1908, and entered on November 10, 1908, in the Record of Titles of Assessments, kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessments, interest will be collected thereon, as provided in section 1018 of said Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated on the date of payment from the date when such assessment became a lien, as provided by section 1018 of this act."

Section 1018 of this act provides: "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record."

The above assessments are payable to the Collector of Assessments and Arrears at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, at the Hackett Building, No. 51 Jackson Avenue, Long Island City, Borough of Queens, between the hours of 9 a.m. and 2 p.m., and on Saturdays from 9 a.m. until 12 m., and all payments

made thereon on or before January 9, 1909, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum from the date when above assessments became a lien to the date of payment.

HERMAN A. METZ, Comptroller,  
City of New York, Department of Finance,  
Comptroller's Office, November 10, 1908.

112.25

### CORPORATION SALE OF BUILDINGS, MACHINERY AND APPURTENANCES THERETO, ERECTED UPON PROPERTY OWNED BY THE CITY OF NEW YORK.

**PUBLIC NOTICE IS HEREBY GIVEN** that the Commissioners of the Sinking Fund, by virtue of the powers vested in them by law, will offer for sale at public auction the buildings, parts of buildings, machinery and appurtenances thereto, now standing upon property owned by The City of New York, acquired for the use of the terminal for the Manhattan side of the Brooklyn Bridge, the said buildings being situated in the

#### Borough of Manhattan,

and being more particularly within the area of the following known property:

All of the buildings situated and now standing upon land within the area of the block bounded by the north side of Chambers street, the south-easterly side of City Hall piers and the southerly and southwesterly side of Duane street, in the Borough of Manhattan, all of which property is situated within Block 199 on the land map of the County of New York.

Pursuant to a resolution of the Commissioners of the Sinking Fund adopted at a meeting held February 20, 1907, the sale of the above described buildings and appurtenances thereto will be held by direction of the Comptroller on

FRIDAY, NOVEMBER 27, 1908,

at 11 a.m. on the premises, upon the following terms and conditions:

The buildings and appurtenances thereto will be sold to the highest bidder, who may pay immediate cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, not unfinished at the expiration of the contract period.

The purchaser shall not lease, occupy, cause or permit the building or buildings, etc., purchased by him to be used or occupied for any purpose other than that of their speedy removal, nor shall he collect any rental or other revenue for the use of either the land or the buildings, etc., situated thereon. The breach of either or any of these conditions shall forthwith void the sale and cause immediate forfeiture of the purchase money and the security deposited for the faithful performance of the conditions of the sale. The placing therein or permitting the occupancy of any such building by any tenant, free, for rent or otherwise, excepting the necessary watchmen or the workmen engaged in the actual demolition thereof, shall of itself be a breach of the above conditions of sale.

All the material of the buildings, seeds, walks, structures and cellars of whatsoever nature, with their exterior and interior fixtures, appurtenances and foundations of all kinds, except the sidewall and curb in front of said buildings, or ending within the described area and down to the level of the cellar bottom, shall be torn down and removed from the premises. None of the dirt, debris or waste resulting from demolition shall be allowed to remain on the premises except old mortar or plaster only, which may be left, but not higher at any point than two feet below the curb opposite that point; also the foundation walls of all classes shall be taken down only so as a plane whose elevation shall be the level of the curb in front of the building.

The purchaser at the sale shall also withdraw and remove all abandoned water pipes and old service mains, and in place thereof cause to be inserted a hose plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Bureau of Sewers that the work has been properly performed.

The permit for all opening in the street to be obtained by him at the expense of the purchaser of the building.

Failure to remove said buildings, appurtenances, or any part thereof, within thirty days from the day of the possession will work forfeiture of ownership of such buildings, appurtenances or portions as shall then be left standing, together with all moneys paid by said purchaser on account thereof at the time of the sale, except as regards the East River Savings Bank Building, in which case sixty days will be allowed for removal, and the bidder's assent to the above conditions being understood to be implied by the act of bidding, and The City of New York will, without notice to the purchaser, cause the same to be removed, and the costs and expense thereof charged against the security above mentioned.

The work of removal must be carried on in such respects as a thorough and workmanlike manner, and must be completed within thirty days from the day of possession, as hereinafter provided, and the successful bidder will provide and furnish all materials of labor and machinery necessary thereto, and will place proper and sufficient guards and fences and warning signs by day and night for the prevention of accidents, and will indemnify and save harmless The City of New York, its officers, agents, and servants, and each of them, against any and all suits and actions, claims and demands of every name and description brought against it, them or any of them, and against and from all damage and costs to which it, they or any of them be put by reason of injury to the person or property of another, resulting from negligence or carelessness in the performance of the work, or in guarding the same, or from any improper or defective materials or machinery, implements or appliances used in the removal of said buildings.

Party walls and fences, when existing against adjacent property not sold, shall not be taken down. All turings, plaster, chimneys, projecting brick, etc., on the faces of such party walls, are to be taken down and removed. The walls shall be made permanently self-supporting, beam holes, etc., bricked up, and the wall painted and made to exclude wind and rain and present a

clean exterior. The roofs of adjacent buildings shall be properly flushed and painted and made watertight where they have been disturbed by the operations of the contractor.

The Comptroller of The City of New York receives the right on the day of sale to withdraw from sale any of the buildings, parts of buildings and machinery included therein, or to reject any and all bids; and it is further

Resolved, That, while the said sale is held under the supervision of the Commissioners of the Sinking Fund, the Comptroller is authorized to cause the sale to be advertised and to direct the sale thereof as financial officer of the City.

HERMAN A. METZ, Comptroller,  
City of New York, Department of Finance,  
Comptroller's Office, November 10, 1908.

112.25

### NOTICE TO PROPERTY OWNERS.

IN PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF MANHATTAN.

#### TWELFTH WARD, SECTION 8.

WEST ONE HUNDRED AND EIGHTIETH STREET—PAVING, CURBING AND RECURBING, between Amsterdam avenue and Broadway. Area of assessment: Both sides of West One Hundred and Eightieth street, from Amsterdam avenue to Broadway, and to the extent of half the block at the intersecting streets.

That the same was confirmed by the Board of Assessors on November 10, 1908, and entered November 10, 1908, in the Record of Titles of

ASSESSMENTS AND ARREARS.

112.25

SEAL.

PROPOSALS FOR \$12,500,000 OF FOUR PER CENT. STOCK AND BONDS OF THE CITY OF NEW YORK.

### PRINCIPAL AND INTEREST PAYABLE IN GOLD.

### EXEMPT FROM TAXATION.

EXECUTORS, ADMINISTRATORS, GUARDIANS AND OTHERS HOLDING TRUST FUNDS ARE AUTHORIZED BY SECTION 9 OF ARTICLE 1 OF CHAPTER 417 OF THE LAWS OF 1897, AS AMENDED, TO INVEST IN SAID STOCK AND BONDS.

SEALED PROPOSALS WILL BE RECEIVED BY THE COMPTROLLER OF THE CITY OF NEW YORK, at his office, No. 280 Broadway, Borough of Manhattan, in The City of New York, until

MONDAY, NOVEMBER 23, 1908,

at 2 o'clock p.m., when they will be publicly opened in the presence of the Commissioners of the Sinking Fund, or such of them as shall attend, as provided by law, for the whole or a part of the following described interchattable Registered or Coupon Stock and Bonds of The City of New York, bearing interest at the rate of four per cent per annum, from and including November 23d, 1908, to wit:

\$7,000,000 of Corporate Stock of The City of New York (for Various Municipal Purposes). Principal payable November 1st, 1938. Interest payable semi-annually on May 1st and November 1st.

This stock was duly authorized by the Greater New York Charter, as amended, and other acts of the Legislature of the State of New York, and by the Municipal authorities of The City of New York, and is free and exempt from all taxation.

\$4,000,000 of Corporate Stock of The City of New York, To Provide for the Supply of Water. Principal payable November 1st, 1938. Interest payable semi-annually on May 1st and November 1st.

This stock was duly authorized by the Greater New York Charter, as amended, and other acts of the Legislature of the State of New York, and by the Municipal authorities of The City of New York, and is free and exempt from all taxation.

\$3,500,000 of Corporate Stock of The City of New York for the Construction of the Rapid Transit Railroad. Principal payable November 1st, 1938. Interest payable semi-annually on May 1st and November 1st.

This stock was duly authorized by the Greater New York Charter, as amended, and other acts of the Legislature of the State of New York, and by the Municipal authorities of The City of New York, and is free and exempt from all taxation.

\$2,500,000 of Corporate Stock of The City of New York, for the Construction of a Building in Bryant Park for the New York Public Library, Astor, Lenox and Tilden Foundations. Principal payable November 1st, 1938. Interest payable semi-annually on May 1st and November 1st.

This stock was duly authorized by the Greater New York Charter, as amended, and other acts of the Legislature of the State of New York, and by the Municipal authorities of The City of New York, and is free and exempt from all taxation.

\$2,500,000 of Assessment Bonds of The City of New York (for Street Improvements). Principal payable November 1st, 1938. Interest payable semi-annually on May 1st and November 1st.

These Bonds were duly authorized by the Greater New York Charter, as amended, and by the Municipal authorities of The City of New York, and are free and exempt from all taxation.

The interest on all of said Stock and Bonds which may be issued in Coupon form will be paid at the option of the holder thereof, at the office of the Comptroller of The City of New York or at the office of the City's Agent in London, England.

The said stock and bonds are issued in accordance with the provisions of section 10 of article 8 of the Constitution of the State of New York.

The principal of and interest on said stock and bonds are payable in gold coin of the United States of America, of the present standard of weight and fineness, pursuant to resolutions of the Commissioners of the Sinking Fund, adopted June 9th, 1898, and April 18th, 1902.

### CONDITIONS OF SALE.

As provided for by the Greater New York Charter.

1. Proposals containing conditions other than those herein set forth will not be received or considered.

2. No proposal for bonds or stock shall be accepted for less than the par value of the same.

3. Every bidder, as a condition precedent to the reception or consideration of his proposal, shall deposit with the Comptroller in money, or by a certified check drawn to the order of said Comptroller upon a trust company or a state bank incorporated and doing business under the laws of the State of New York, or upon a National Bank, Two per cent, of the par value of the bonds or stock bid for in said proposal.

4. All such deposits shall be retained by the Comptroller in the persons making the same within three days after the decision has been rendered as to who is or are the highest bidder or bidders, except the deposit made by the highest bidder or bidders.

5. If said highest bidder or bidders shall refuse or neglect, within five days after service of written notice of the award to him or them, to pay to the City Chamberlain the amount of the bonds or stock awarded to him or them at its or their par value, together with the premium thereon, less the amount deposited by him or them, the amount of amounts of deposit thus made shall be forfeited to and retained by said City as liquidated damages for such neglect or refusal, and shall thereafter be paid into the Sinking Fund of The City of New York for the Redemption of the City Debt.

6. Upon the payment into the City Treasury by the persons whose bids are accepted, of the amounts due for the bonds or stock awarded to them respectively, including accrued interest from the date of sale, certificates thereof shall be issued to them in such denominations provided for by the Charter as they may desire.

7. It is required by the Charter of the City that "every bidder may be required to accept a portion of the whole amount of bonds or stock bid for by him at the same rate or proportional price as may be specified in his bid, and any bid which conflicts with this condition shall be rejected provided, however, that any bidder offering to purchase all or any part of the bonds offered for sale at a rate of one or higher may also offer to purchase all or none of said bonds at a different price, and if the Comptroller deems it to be in the interest of the City so to do, he may award the bonds to the bidder offering the highest price for all or none of said bonds; provided, however, that if the Comptroller deems it to be in the interest of the City so to do, he may reject all bids."

Under this provision, the condition that the bidder will accept only the whole amount of bonds or stock bid for by him, and not any part thereof, cannot be inserted in any bid, except those for "all or none" offered by bidders who have also bid for "all or any part" of the bonds or stock offered for sale.

8. Bonds or stock issued in Coupon form can be converted at any time into Registered Bonds or Stock in denominations of \$1,000.

corner. Area of assessment: Northwest corner of One Hundred and Twenty-first street and Third avenue, known as Lot No. 40 in Block 177.

The above assessment was certified to the Collector of Assessments and Arrears, under the provisions of section 391 of the Greater New York Charter.

—that the same was entered on November 7, 1908, in the Record of Titles of Assessments kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of said Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, Room H, No. 280 Broadway, Borough of Manhattan, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before January 4, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

HERMAN A. METZ, Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 7, 1908.

n6.19

Interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

HERMAN A. METZ,  
Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 5, 1908.

n6.19

## NOTICE TO PROPERTY OWNERS.

**I**N PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS, OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF QUEENS:

## FIRST WARD.

**B**RICK STREET—SEWER. FROM JACKSON AVENUE TO WEBSTER AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF BRICK STREET, FROM JACKSON AVENUE TO WEBSTER AVENUE.

**T**HIRD AVENUE—REGULATING, GRADING, CURBING, RECURBING AND PAVING. FROM JAMAICA AVENUE TO GRAND AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF THIRD AVENUE, FROM JAMAICA AVENUE TO GRAND AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**F**IFTH AVENUE—REGULATING, GRADING, CURBING AND LAVING CROSSWALKS, FROM PIERCE AVENUE TO JACKSON AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF FIFTH AVENUE, FROM PIERCE AVENUE TO JACKSON AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**E**IGHTH AVENUE—PAVING, FROM FLUSHING AVENUE TO POTTER AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF EIGHTH AVENUE, FROM FLUSHING AVENUE TO POTTER AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**N**INTH AVENUE—REGULATING, GRADING, CURBING, FLAGGING AND LAVING CROSSWALKS, FROM PIERCE AVENUE TO GRAHAM AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM PIERCE AVENUE TO GRAHAM AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**N**INTH AVENUE—SEWER, FROM FLUSHING AVENUE TO THE CROWN 200 FEET SOUTH OF VANDENVERTE AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM FLUSHING AVENUE TO A POINT ABOUT 200 FEET SOUTH OF VANDENVERTE AVENUE.

**N**INTH AVENUE—SEWER, FROM A POINT 200 FEET NORTH OF GRAND AVENUE TO GRAND AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM GRAND AVENUE TO A POINT 200 FEET NORTH OF GRAND AVENUE.

**S**IXTEENTH AVENUE—REGULATING, GRADING, CURBING, FLAGGING AND LAVING CROSSWALKS, FROM BROADWAY TO JAMAICA AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF SIXTEENTH AVENUE, FROM BROADWAY TO JAMAICA AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING STREETS AND AVENUES.

—that the same were confirmed by the Board of Assessors, November 4, 1908, and entered on November 4, 1908, in the Record of Titles of Assessments, kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of the Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears, at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, in the Mechanics' Building, Court and Montague streets, Borough of Brooklyn, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before January 4, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum, from the date when such assessment became a lien to the date of payment.

HERMAN A. METZ, Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 5, 1908.

n6.23

## NOTICE TO PROPERTY OWNERS.

**I**N PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS, OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF BROOKLYN:

## THIRTIETH WARD, SECTION 3.

**E**IGHTY-FIFTH STREET—SEWER, BETWEEN FIRST AND THIRD AVENUES. AREA OF ASSESSMENT: BOTH SIDES OF EIGHTY-FIFTH STREET, FROM FIRST TO THIRD AVENUE.

—that the same was confirmed by the Board of Revision of Assessments on November 5, 1908, and entered November 5, 1908, in the Record of Titles of Assessments, kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of the Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears, at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, in the Mechanics' Building, Court and Montague streets, Borough of Brooklyn, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before January 4, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum, from the date when such assessment became a lien to the date of payment.

HERMAN A. METZ, Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 5, 1908.

n6.23

## NOTICE TO PROPERTY OWNERS.

**I**N PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS, OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF QUEENS:

## FIRST WARD.

**H**AMILTON STREET—SEWER, FROM WEBSTER TO VERNON AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF HAMILTON STREET, FROM WEBSTER TO VERNON AVENUE.

—that the same was confirmed by the Board of Revision of Assessments November 5, 1908, and entered November 5, 1908, in the Record of Titles of Assessments, kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of said Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears, at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, at the Hackett Building, No. 51 Jackson Avenue, Long Island City, Borough of Queens, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. until 12 m., and all payments made thereon on or before January 4, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of

interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

HERMAN A. METZ,  
Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 5, 1908.

n6.19

## NOTICE TO PROPERTY OWNERS.

**I**N PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS, OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF QUEENS:

## FIRST WARD.

**B**RICK STREET—SEWER. FROM JACKSON AVENUE TO WEBSTER AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF BRICK STREET, FROM JACKSON AVENUE TO WEBSTER AVENUE.

**T**HIRD AVENUE—REGULATING, GRADING, CURBING, RECURBING AND PAVING. FROM JAMAICA AVENUE TO GRAND AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF THIRD AVENUE, FROM JAMAICA AVENUE TO GRAND AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**F**IFTH AVENUE—REGULATING, GRADING, CURBING AND LAVING CROSSWALKS, FROM PIERCE AVENUE TO JACKSON AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF FIFTH AVENUE, FROM PIERCE AVENUE TO JACKSON AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**E**IGHTH AVENUE—PAVING, FROM FLUSHING AVENUE TO POTTER AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF EIGHTH AVENUE, FROM FLUSHING AVENUE TO POTTER AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**N**INTH AVENUE—REGULATING, GRADING, CURBING, FLAGGING AND LAVING CROSSWALKS, FROM PIERCE AVENUE TO GRAHAM AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM PIERCE AVENUE TO GRAHAM AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING AVENUES.

**N**INTH AVENUE—SEWER, FROM FLUSHING AVENUE TO THE CROWN 200 FEET SOUTH OF VANDENVERTE AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM FLUSHING AVENUE TO A POINT ABOUT 200 FEET SOUTH OF VANDENVERTE AVENUE.

**N**INTH AVENUE—SEWER, FROM A POINT 200 FEET NORTH OF GRAND AVENUE TO GRAND AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF NINTH AVENUE, FROM GRAND AVENUE TO A POINT 200 FEET NORTH OF GRAND AVENUE.

**S**IXTEENTH AVENUE—REGULATING, GRADING, CURBING, FLAGGING AND LAVING CROSSWALKS, FROM BROADWAY TO JAMAICA AVENUE. AREA OF ASSESSMENT: BOTH SIDES OF SIXTEENTH AVENUE, FROM BROADWAY TO JAMAICA AVENUE, AND TO THE EXTENT OF HALF THE BLOCK AT THE INTERSECTING AND TERMINATING STREETS AND AVENUES.

—that the same were confirmed by the Board of Assessors, November 4, 1908, and entered on November 4, 1908, in the Record of Titles of Assessments, kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of the Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears, at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, in the Mechanics' Building, Court and Montague streets, Borough of Brooklyn, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before January 4, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of

interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

HERMAN A. METZ,  
Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, November 5, 1908.

n6.19

The above assessment is payable to the Collector of Assessments and Arrears at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, Room H, No. 280 Broadway, Borough of Manhattan, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before December 28, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

HERMAN A. METZ,  
Comptroller.  
City of New York, Department of Finance,  
Comptroller's Office, October 29, 1908.

n6.19

## NOTICE TO PROPERTY OWNERS.

**I**N PURSUANCE OF SECTION 1018 OF THE GREATER NEW YORK CHARTER, THE COMPTROLLER OF THE CITY OF NEW YORK HEREBY GIVES PUBLIC NOTICE TO ALL PERSONS, OWNERS OF PROPERTY, AFFECTED BY THE FOLLOWING ASSESSMENT FOR LOCAL IMPROVEMENTS IN THE BOROUGH OF MANHATTAN:

## TWENTY-FIRST WARD, SECTION 3.

**L**EXINGTON AVENUE AND THIRTIETH STREET—RESTORING ASPHALT PAVEMENT. AT THE NORTHEAST CORNER. AREA OF ASSESSMENT: NORTHEAST CORNER OF LEXINGTON AVENUE AND THIRTIETH STREET, AND KNOWN AS LOT NO. 10, IN BLOCK 286.

The above assessment was certified to the Collector of Assessments and Arrears, under the provisions of section 391 of the Greater New York Charter.

—that the same was entered on October 28, 1908, in the Record of Titles of Assessments kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessment, interest will be collected thereon, as provided in section 1019 of said Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 391 of this act."

Section 391 of this act provides \* \* \* "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record." \* \* \*

The above assessment is payable to the Collector of Assessments and Arrears at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, Room H, No. 280 Broadway, Borough of Manhattan, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before December 28, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum from the date when above assessment became a lien to the date of payment.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum in street, and the opening of the main sewer in street, with the removal of the dirt, ditches, or waste resulting from demolition shall be allowed to remain on the premises, except old manholes or plaster only, which may be left, but not higher at any point than two feet below the curb opposite that point; also the foundation walls of all classes shall be taken down only to a plane whose elevation shall be the level of the curb in front of the building.

The purchaser at the sale shall also withdraw and remove all abandoned water tanks and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The purchaser at the sale shall also remove all house sewer connections to the main sewer in street, and the opening of the main sewer in street shall be properly closed in compliance with the directions of the Bureau of Sewers, Borough of Manhattan, and furnish the Department of Finance with a certificate from the Bureau of Sewers that the work has been properly performed.

The permit for all opening in the street to be obtained by and at the expense of the purchaser of the building.

Failure to remove said buildings, appurtenances, or any part thereof, within thirty days from the day of possession will work forfeiture of ownership of such buildings, appurtenances, or portion, as shall then be left standing, together with all moneys paid by said purchaser on account thereof at the time of the sale, and the bidder's assent to the above conditions being understood to be implied by the act of bidding, and The City of New York will, without notice to the purchaser, cause the same to be removed, and the costs and expense thereof charged against the security above mentioned.

The work of removal must be carried on in every respect in a thorough and workmanlike manner, and must be completed within thirty days from the day of possession, and the successful bidder will provide and furnish all materials of labor and machinery necessary thereto, and will place proper and sufficient guards and fences and warning signs by day and night for the prevention of accidents, and will indemnify and save harmless The City of New York, its officers, agents and servants, and each of them, against any and all suits and actions, claims and demands of every name and description brought against it, them or any of them, and against and from all damage and costs to which it, they or any of them be put by reason of injury to the person or property of another, resulting from negligence or carelessness in the performance of the work, or



1648, on north side of East Ninety-eighth street, 225 feet west of Second avenue.

**EAST ONE HUNDRED AND NINTH STREET—REPAIRING SIDEWALK.** at Nos. 10 and 12. Area of assessment: Lots Nos. 11 and 12, Block 1615, on north side of East One Hundred and Ninth street, 225 feet west of Madison avenue.

**ONE HUNDRED AND FORTY-THIRD STREET,** north side—REPAIRING SIDEWALK. commencing 173 feet east of Lenox avenue. Area of assessment: Lots Nos. 6 and 7, Block 1741, on the north side of One Hundred and Forty-third street, about 96 feet east of Lenox avenue.

**TWELFTH WARD, SECTION 7.**

**ONE HUNDRED AND THIRTY-FIRST STREET AND OLD BROADWAY,** at the northeast corner—REPAIRING SIDEWALK. Area of assessment: Lots Nos. 16 and 17, Block 1086, being northeast corner of One Hundred and Thirty-first street and Old Broadway, and lot adjoining on Old Broadway.

**TWELFTH WARD, SECTION 8.**

**DYCKMAN STREET AND PRESCOTT AVENUE—REPAIRING SIDEWALK,** at the northwest corner. Area of assessment: Lot No. 50, Block 2247, being northwest corner of Dyckman street and Prescott avenue.

—that the same were confirmed by the Board of Assessors on October 27, 1908, and entered October 27, 1908, in the Record of Titles of Assessments kept in the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, and unless the amount assessed for benefit on any person or property shall be paid within sixty days after the date of said entry of the assessments, interest will be collected thereon, as provided in section 150 of said Greater New York Charter.

Said section provides, in part, that "If any such assessment shall remain unpaid for the period of sixty days after the date of entry thereof in the said Record of Titles of Assessments, it shall be the duty of the officer authorized to collect and receive the amount of such assessment to charge, collect and receive interest thereon at the rate of seven per centum per annum, to be calculated to the date of payment from the date when such assessment became a lien, as provided by section 150 of this act."

Section 150 of this act provides "An assessment shall become a lien upon the real estate affected thereby ten days after its entry in the said record."

The above assessments are payable to the Collector of Assessments and Arrears, at the Bureau for the Collection of Assessments and Arrears of Taxes and Assessments and of Water Rents, Room H, No. 280 Broadway, Borough of Manhattan, between the hours of 9 a. m. and 2 p. m., and on Saturdays from 9 a. m. to 12 m., and all payments made thereon on or before December 26, 1908, will be exempt from interest, as above provided, and after that date will be subject to a charge of interest at the rate of seven per centum per annum from the date when above assessments became liens to the date of payment.

HERMAN A. METZ,  
Comptroller.

City of New York, Department of Finance,  
Comptroller's Office, October 27, 1908.

020.012

**CORPORATION SALE OF REAL ESTATE AND APPURTENANCES THERETO UPON CITY REAL ESTATE.**

**A T THE REQUEST OF THE PRESIDENT** of Parks for the Borough of The Bronx, public notice is hereby given that the Comptroller of The City of New York will offer for sale at public auction the buildings now standing on property owned by The City of New York, acquired by it for park purposes in the

**BOROUGH OF THE BRONX.**

Being all those old buildings, parts of buildings, etc., situated in Pelham Bay Park and known as the "Ditmars Residence," partly demolished, and a portion of the old stable formerly used in connection therewith, and which are more particularly described in a letter of request now on file in the office of the Collector of City Revenue, Department of Finance, Room 141, No. 280 Broadway, Borough of Manhattan.

Pursuant to the above request, by direction of the Comptroller, the sale of the above-described buildings and appurtenances thereto will be made, at public auction, under the supervision of the Collector of City Revenue, etc.

**THURSDAY, NOVEMBER 12, 1908,**

at 3 p. m., upon the premises, upon the usual terms and conditions as set forth in the advertisement of the sale of other old material of The City of New York in the City Room.

H. A. METZ,  
Comptroller.

City of New York, Department of Finance,  
Comptroller's Office, October 26, 1908.

028.012

**CORPORATION SALE OF BUILDINGS AND APPURTENANCES THERETO UPON CITY REAL ESTATE.**

**A T THE REQUEST OF THE PRESIDENT** of the Board of Education, public notice is hereby given that the Commissioners of the Sinking Fund, by virtue of the powers vested in them by law, will offer for sale at public auction the buildings, parts of buildings, etc., now standing on property owned by The City of New York, acquired by it for school purposes, in the

Borough of Manhattan.

Being all of the buildings, parts of buildings, etc., now standing upon all that certain plot of ground located on the westerly side of Hamilton Place, between West One Hundred and Forty-first street and West One Hundred and Forty-first street, and extending westerly along the northwesterly side of West One Hundred and Forty-first street 154 feet 3 inches, and along the southerly side of West One Hundred and Forty-first street 219 feet 3 1/4 inches, the westerly line of the plot being 156 feet 10 inches, running from West One Hundred and Forty-first to West One Hundred and Forty-first street, and which are more particularly described on a map on file in the office of the Collector of City Revenue, Department of Finance, Room 141, No. 280 Broadway, Borough of Manhattan.

Pursuant to a resolution of the Commissioners of the Sinking Fund, the sale of the above-described buildings and appurtenances thereto will be held under the direction of the Comptroller on

**THURSDAY, NOVEMBER 12, 1908,**

at 10:30 a. m., on the premises, upon the following

**TERMS AND CONDITIONS.**

The buildings and appurtenances thereto will be sold to the highest bidder, who must pay immediately cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, but unfinished at the expiration of the contract period.

**THURSDAY, NOVEMBER 12, 1908,**

at 3:45 p. m., on the premises, upon the following

**TERMS AND CONDITIONS.**

The buildings and appurtenances thereto will be sold to the highest bidder, who must pay immediately cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, but unfinished at the expiration of the contract period.

All the material of the buildings, sheds, walks, structures and cellars, of whatsoever nature, with their exterior and interior fixtures, appurtenances and foundations of all kinds, except the sidewalk and curb in front of said buildings, extending within the described area and down to the level of the cellar bottom, shall be torn down and removed from the premises. None of the dirt, debris or waste resulting from demolition shall be allowed to remain on the premises, except old mortar or plaster only, which may be left, but not higher at any point than two feet below the curb opposite that point; also the foundation walls of all classes shall be taken down only to a place whose elevation shall be the level of the curb in front of the building.

their exterior and interior fixtures, appurtenances and foundations of all kinds, except the sidewalk and curb in front of said buildings, extending within the described area and down to the level of the cellar bottom, shall be torn down and removed from the premises. None of the dirt, debris or waste resulting from demolition shall be allowed to remain on the premises, except old mortar or plaster only, which may be left, but not higher at any point than two feet below the curb opposite that point; also the foundation walls of all classes shall be taken down only to a place whose elevation shall be the level of the curb in front of the building.

The purchaser at the sale shall also withdraw and remove all abandoned water taps and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The purchaser at the sale shall also withdraw and remove all abandoned water taps and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The purchaser at the sale shall also remove all house sewer connections to the main sewer in the street, and the opening of the main sewer in street shall be properly closed in compliance with the directions of the Bureau of Sewers, Borough of Manhattan, and furnish the Department of Finance with a certificate from the Bureau of Sewers that the work has been properly performed.

The permit for all opening in the street to be obtained by and at the expense of the purchaser of the building.

Failure to remove said buildings, appurtenances, or any part thereof, within sixty days from the day of the sale will work forfeiture of ownership of such buildings, appurtenances or portions as shall then be left standing, together with all moneys paid by said purchaser on account thereof at the time of the sale, and the bidder's assent to the above conditions being understood to be implied by the act of bidding, and The City of New York will, without notice to the purchaser, cause the same to be removed, and the costs and expense thereof charged against the security above mentioned.

The work of removal must be carried on in every respect in a thorough and workmanlike manner, and must be completed within sixty days from the day of sale, and the successful bidder will provide and furnish all materials of labor and machinery necessary thereto, and will place proper and sufficient guards and fences and warning signs by day and night for the prevention of accidents, and will indemnify and save harmless The City of New York, its officers, agents and servants, and each of them, against any and all suits and actions, claims and demands of every name and description brought against it, them or any of them, and against and from all damage and costs to which it, they or any of them be put by reason of injury to the person or property of another, resulting from negligence or carelessness in the performance of the work, or in guarding the same, or from any improper or defective materials or machinery, implements or appliances used in the removal of said buildings.

Party walls and fences, when existing against adjacent property not sold, shall not be taken down. All furring, plaster, chimneys, projecting brick, etc., on the faces of such party walls are to be taken down and removed. The walls shall be made permanently self-supporting, beam-holes, etc., bricked up, and the wall painted and made to exclude wind and rain and present a clean exterior. The roofs of adjacent buildings shall be properly flushed and painted and made watertight where they have been disturbed by the operations of the contractor.

The Comptroller of The City of New York reserves the right on the day of sale to withdraw from sale any of the buildings, parts of buildings and machinery included therein, or to reject any and all bids, and it is further

Resolved, That, while the said sale is held under the supervision of the Commissioners of the Sinking Fund, the Comptroller is authorized to cause the sale to be advertised and to direct the sale thereof as financial officer of the City.

H. A. METZ,  
Comptroller.

City of New York, Department of Finance,  
Comptroller's Office, October 26, 1908.

028.012

**CORPORATION SALE OF BUILDINGS AND APPURTENANCES THERETO ON CITY REAL ESTATE.**

**A T THE REQUEST OF THE PRESIDENT** of the Borough of The Bronx, public notice is hereby given that the Commissioners of the Sinking Fund, by virtue of the powers vested in them by law, will offer for sale at public auction the buildings, parts of buildings, etc., standing within the lines of property owned by The City of New York, acquired by it for street widening purposes in the

The purchaser at the sale shall also withdraw and remove all abandoned water taps and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The purchaser at the sale shall also withdraw and remove all abandoned water taps and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The permit for all opening in the street to be obtained by and at the expense of the purchaser of the building.

Failure to remove said buildings, appurtenances, or any part thereof, within sixty days from the day of the sale will work forfeiture of ownership of such buildings, appurtenances or portions as shall then be left standing, together with all moneys paid by said purchaser on account thereof at the time of the sale, and the bidder's assent to the above conditions being understood to be implied by the act of bidding, and The City of New York will, without notice to the purchaser, cause the same to be removed, and the costs and expense thereof charged against the security above mentioned.

The work of removal must be carried on in every respect in a thorough and workmanlike manner, and must be completed within sixty days from the day of sale, and the successful bidder will provide and furnish all materials of labor and machinery necessary thereto, and will place proper and sufficient guards and fences and warning signs by day and night for the prevention of accidents, and will indemnify and save harmless The City of New York, its officers, agents and servants, and each of them, against any and all suits and actions, claims and demands of every name and description brought against it, them or any of them, and against and from all damage and costs to which it, they or any of them be put by reason of injury to the person or property of another, resulting from negligence or carelessness in the performance of the work, or in guarding the same, or from any improper or defective materials or machinery, implements or appliances used in the removal of said buildings.

Party walls and fences, when existing against adjacent property not sold, shall not be taken down. All furring, plaster, chimneys, projecting brick, etc., on the faces of such party walls are to be taken down and removed. The walls shall be made permanently self-supporting, beam-holes, etc., bricked up, and the wall painted and made to exclude wind and rain and present a clean exterior. The roofs of adjacent buildings shall be properly flushed and painted and made watertight where they have been disturbed by the operations of the contractor.

Party walls and fences, when existing against adjacent property not sold, shall not be taken down. All furring, plaster, chimneys, projecting brick, etc., on the faces of such party walls are to be taken down and removed. The walls shall be made permanently self-supporting, beam-holes, etc., bricked up, and the wall painted and made to exclude wind and rain and present a clean exterior. The roofs of adjacent buildings shall be properly flushed and painted and made watertight where they have been disturbed by the operations of the contractor.

Resolved, That, while the said sale is held under the supervision of the Commissioners of the Sinking Fund, the Comptroller is authorized to cause the sale to be advertised and to direct the sale thereof as financial officer of the City.

H. A. METZ,  
Comptroller.

City of New York, Department of Finance,  
Comptroller's Office, October 26, 1908.

028.012

**CORPORATION SALE OF BUILDINGS AND APPURTENANCES THERETO ON CITY REAL ESTATE.**

**A T THE REQUEST OF THE PRESIDENT** of the Borough of The Bronx, public notice is hereby given that the Commissioners of the Sinking Fund, by virtue of the powers vested in them by law, will offer for sale at public auction the buildings, parts of buildings, etc., standing within the lines of property owned by The City of New York, acquired by it for street widening purposes in the

**BOROUGH OF THE BRONX.**

Being all the buildings, parts of buildings, etc., standing within the lines of Zerega avenue, from the south house line of (Eastern boulevard) Ludlow avenue to the north house line of (Tenth street) Highland avenue, in the Borough of The Bronx, and which are more particularly described on a map on file in the office of the Collector of City Revenue, Department of Finance, Room 141, No. 280 Broadway, Borough of Manhattan.

Pursuant to a resolution adopted by the Commissioners of the Sinking Fund at a meeting held September 18, 1908, the sale of the above-described buildings and appurtenances thereto will be held under the direction of the Comptroller.

**THURSDAY, NOVEMBER 12, 1908.**

at 10:30 a. m., on the premises, upon the following

**TERMS AND CONDITIONS.**

The buildings and appurtenances thereto will be sold to the highest bidder, who must pay immediately cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, but unfinished at the expiration of the contract period.

The buildings and appurtenances thereto will be sold to the highest bidder, who must pay immediately cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, but unfinished at the expiration of the contract period.

The buildings and appurtenances thereto will be sold to the highest bidder, who must pay immediately cash or a certified check drawn to the order of the Comptroller of The City of New York, and must also at the time of sale give a certified check or cash in half the amount of the purchase price as security for the faithful performance of the terms and conditions of the sale. Where the amount of the purchase price does not equal or exceed the sum of fifty dollars, the sum of fifty dollars shall be the amount of the security to be deposited. This security may at any time after the expiration of the contract period be applied by the City to the cost of completing any of the work required under the contract, but unfinished at the expiration of the contract period.

except old mortar or plaster only, which may be left, but not higher at any point than two feet below the curb opposite that point; also the foundation walls of all stables shall be taken down only to a plane whose elevation shall be the level of the curb in front of the building.

The purchaser at the sale shall also withdraw and remove all abandoned water tanks and old service mains, and in place thereof cause to be inserted a brass plug in the main water pipe in the street, in compliance with the rules and regulations of the Department of Water Supply, Gas and Electricity, and furnish the Department of Finance with a certificate from the Department of Water Supply, Gas and Electricity that this has been performed.

The purchaser at the sale shall also remove all house sewer connections to the main sewer in the street, and the opening of the main sewer in street shall be properly closed in compliance with the directions of the Bureau of Sewers, Borough of The Bronx, and furnish the Department of Finance with a certificate from the Bureau of Sewers that the work has been properly performed.

The permit for all opening in the street to be obtained by and at the expense of the purchaser of the building.

Failure to remove said buildings, appurtenances, or any part thereof, within sixty days from the day of the sale will work forfeiture of ownership of such buildings, appurtenances, or portion, as shall then be left standing, together with all moneys paid by said purchaser on account thereof at the time of the sale, and the bidder's assent to the above conditions being understood to be implied by the act of bidding, and the City of New York will, without notice to the purchaser, cause the same to be removed, and the costs and expense thereof charged against the security above mentioned.

The work of removal must be carried on in every respect in a thorough and workmanlike manner, and must be completed within sixty days from the day of sale, and the successful bidder will provide and furnish all materials of labor and machinery necessary thereto, and will place proper and sufficient guards and fences and warning signs by day and night for the prevention of accidents, and will indemnify and save harmless The City of New York, its officers, agents and servants, and each of them, against any and all suits and actions, claims and demands of every name and description brought against them or any of them, and against and from all damage and costs to which it, they or any of them be put by reason of injury to the person or property of another, resulting from negligence or carelessness in the performance of the work or in guarding the same, or from any improper or defective materials or machinery, implements or appliances used in the removal of said buildings.

Party walls and fences, when existing against adjacent property not sold, shall not be taken down. All fixtures, plaster, chimneys, projecting brick, etc., on the faces of such party walls are to be taken down and removed. The walls shall be made permanently self-supporting, beams, holes, etc., bricked up, and the wall painted and made to exclude wind and rain and present a clean exterior. The roofs of adjacent buildings shall be properlyashed and painted and made watertight where they have been disturbed by operations of the contractor.

The Comptroller of The City of New York reserves the right on the day of sale to withdraw from sale any of the buildings, parts of buildings and machinery included therein, or to reject any and all bids; and it is further

Resolved, That, while the said sale is held under the supervision of the Commissioners of the Sinking Fund, the Comptroller is authorized to cause the sale to be advertised and to direct the sale thereof as financial officer of the City.

H. A. METZ,  
Comptroller.

City of New York, Department of Finance,  
Comptroller's Office, October 16, 1908.

02.20

DEPARTMENT OF FINANCE, BUREAU FOR THE COLLECTION OF TAXES, No. 57 CHAMBERS STREET (STEWART BUILDING), NEW YORK, October 23, 1908.

#### IMPORTANT TO TAXPAYERS.

NOTICE IS HEREBY GIVEN TO ALL persons whose taxes for the year 1908 have not been paid before the 1st day of November, of the said year, that unless the same shall be paid to the Receiver of Taxes at his office in the Borough in which the property is located, as follows:

Borough of Manhattan, No. 57 Chambers street, Manhattan, N. Y.;

Borough of The Bronx, corner Third and Tremont avenues, The Bronx, N. Y.;

Borough of Brooklyn, Rooms 1, 4, 6 and 8, Municipal Building, Brooklyn, N. Y.;

Borough of Queens, corner Jackson avenue and Fifth street, Long Island City, N. Y.;

Borough of Richmond, Borough Hall, St. George, Staten Island, N. Y.;

—He will charge, receive and collect upon such taxes so remaining unpaid on that day, in addition to an amount of such taxes, interest at the rate of seven per centum per annum, to be calculated from the day on which the said taxes become due and payable (October 1), as provided in section 614, as amended by chapter 447, Laws of 1908.

DAVID E. AUSTEN,  
Receiver of Taxes.

02.21

DEPARTMENT OF FINANCE, CITY OF NEW YORK, December 14, 1908.

UNTIL FURTHER NOTICE AND UNLESS otherwise directed in any special case surety companies will be accepted as sufficient upon the following contracts to the amounts named:

Supplies of Any Description, including Gas and Electricity—

One company on a bond up to \$30,000.

Two companies on a bond up to \$125,000.

Three companies on a bond up to \$300,000.

Asphalt, Asphalt Block and Wood Block Pavements—

Two companies on a bond up to \$10,000.

Three companies on a bond up to \$125,000.

Regulating, Grading, Paving, Sewers, Water Mains, Dredging, Construction of Parks, Parkways, Etc.—

One company on a bond up to \$25,000.

Two companies on a bond up to \$75,000.

Three companies on a bond up to \$150,000.

Four companies on a bond up to \$250,000.

New Docks, Buildings, Bridges, Aqueducts, Tunnels, Etc.—

One company on a bond up to \$25,000.

Two companies on a bond up to \$75,000.

Three companies on a bond up to \$150,000.

Four companies on a bond up to \$250,000.

Repairs, Ventilating, Heating, Plumbing, Etc.—

One company on a bond up to \$50,000.

Two companies on a bond up to \$150,000.

Three companies on a bond up to \$250,000.

Four companies on a bond up to \$500,000.

Five companies on a bond up to \$750,000.

Two companies on a bond up to \$1,000,000.

Three companies on a bond up to \$1,500,000.

Four companies on a bond up to \$2,000,000.

Five companies on a bond up to \$2,500,000.

Two companies on a bond up to \$3,000,000.

Three companies on a bond up to \$3,500,000.

Four companies on a bond up to \$4,000,000.

Five companies on a bond up to \$4,500,000.

Two companies on a bond up to \$5,000,000.

Three companies on a bond up to \$5,500,000.

Four companies on a bond up to \$6,000,000.

Five companies on a bond up to \$6,500,000.

Two companies on a bond up to \$7,000,000.

Three companies on a bond up to \$7,500,000.

Four companies on a bond up to \$8,000,000.

Five companies on a bond up to \$8,500,000.

Two companies on a bond up to \$9,000,000.

Three companies on a bond up to \$9,500,000.

Four companies on a bond up to \$10,000,000.

Five companies on a bond up to \$10,500,000.

Two companies on a bond up to \$11,000,000.

Three companies on a bond up to \$11,500,000.

Four companies on a bond up to \$12,000,000.

Five companies on a bond up to \$12,500,000.

Two companies on a bond up to \$13,000,000.

Three companies on a bond up to \$13,500,000.

Four companies on a bond up to \$14,000,000.

Five companies on a bond up to \$14,500,000.

Two companies on a bond up to \$15,000,000.

Three companies on a bond up to \$15,500,000.

Four companies on a bond up to \$16,000,000.

Five companies on a bond up to \$16,500,000.

Two companies on a bond up to \$17,000,000.

Three companies on a bond up to \$17,500,000.

Four companies on a bond up to \$18,000,000.

Five companies on a bond up to \$18,500,000.

Two companies on a bond up to \$19,000,000.

Three companies on a bond up to \$19,500,000.

Four companies on a bond up to \$20,000,000.

Five companies on a bond up to \$20,500,000.

Two companies on a bond up to \$21,000,000.

Three companies on a bond up to \$21,500,000.

Four companies on a bond up to \$22,000,000.

Five companies on a bond up to \$22,500,000.

Two companies on a bond up to \$23,000,000.

Three companies on a bond up to \$23,500,000.

Four companies on a bond up to \$24,000,000.

Five companies on a bond up to \$24,500,000.

Two companies on a bond up to \$25,000,000.

Three companies on a bond up to \$25,500,000.

Four companies on a bond up to \$26,000,000.

Five companies on a bond up to \$26,500,000.

Two companies on a bond up to \$27,000,000.

Three companies on a bond up to \$27,500,000.

Four companies on a bond up to \$28,000,000.

Five companies on a bond up to \$28,500,000.

Two companies on a bond up to \$29,000,000.

Three companies on a bond up to \$29,500,000.

Four companies on a bond up to \$30,000,000.

Five companies on a bond up to \$30,500,000.

Two companies on a bond up to \$31,000,000.

Three companies on a bond up to \$31,500,000.

Four companies on a bond up to \$32,000,000.

Five companies on a bond up to \$32,500,000.

Two companies on a bond up to \$33,000,000.

Three companies on a bond up to \$33,500,000.

Four companies on a bond up to \$34,000,000.

Five companies on a bond up to \$34,500,000.

Two companies on a bond up to \$35,000,000.

Three companies on a bond up to \$35,500,000.

Four companies on a bond up to \$36,000,000.

Five companies on a bond up to \$36,500,000.

Two companies on a bond up to \$37,000,000.

Three companies on a bond up to \$37,500,000.

Four companies on a bond up to \$38,000,000.

Five companies on a bond up to \$38,500,000.

Two companies on a bond up to \$39,000,000.

Three companies on a bond up to \$39,500,000.

Four companies on a bond up to \$40,000,000.

Five companies on a bond up to \$40,500,000.

Two companies on a bond up to \$41,000,000.

Three companies on a bond up to \$41,500,000.

Four companies on a bond up to \$42,000,000.

Five companies on a bond up to \$42,500,000.

Two companies on a bond up to \$43,000,000.

Three companies on a bond up to \$43,500,000.

Four companies on a bond up to \$44,000,000.

Five companies on a bond up to \$44,500,000.

Two companies on a bond up to \$45,000,000.

Three companies on a bond up to \$45,500,000.

Four companies on a bond up to \$46,000,000.

Five companies on a bond up to \$46,500,000.

Two companies on a bond up to \$47,000,000.

Three companies on a bond up to \$47,500,000.

Four companies on a bond up to \$48,000,000.

Five companies on a bond up to \$48,500,000.

Two companies on a bond up to \$49,000,000.

Three companies on a bond up to \$49,500,000.

Four companies on a bond up to \$50,000,000.

Five companies on a bond up to \$50,500,000.

Two companies on a bond up to \$51,000,000.

Three companies on a

the advisability of instituting proceedings to acquire title to the lands and premises required for the opening and extending of East Two Hundred and Seventh street, from Woodlawn road to Perry avenue, where not heretofore acquired in the Borough of The Bronx, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required, at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement, to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

Bounded on the north by a line distant 100 feet northerly from and parallel with the northerly line of East Two Hundred and Seventh street, the said distance being measured at right angles to the line of East Two Hundred and Seventh street, and by the prolongations of the said line; on the east by a line distant 100 feet easterly from and parallel with the easterly line of Perry avenue, the said distance being measured at right angles to the line of Perry avenue; on the south by a line midway between East Two Hundred and Sixth street and East Two Hundred and Seventh street and by the prolongations of the said line; and on the west by a line distant 100 feet westerly from and parallel with the westerly line of Woodlawn road, the said distance being measured at right angles to the line of Woodlawn road.

(Excepting, however, from the above described area so much of it as is exempt from assessment under the provisions of section 992 of the Charter.)

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

1. Bounded on the north by a line midway between Eighty-first street and Eighty-second street, and by the prolongation of the said line; on the east by the centre line of Narrows avenue; on the south by a line midway between Eighty-second street and Eighty-third street, and by the prolongation of the said line; and on the west by a line always distant 150 feet westerly from and parallel with the easterly line of Shore road, the said distance being measured at right angles to the line of Shore road.

2. Bounded on the north by a line always midway between Eighty-first street and Eighty-second street; on the east by a line distant 100 feet easterly from and parallel with the easterly line of Fourth avenue, the said distance being measured at right angles to the line of Fourth avenue; on the south by a line always midway between Eighty-second street and Eighty-third street; and on the west by the centre line of Third avenue.

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

for the opening and extending of Lott street, from Albemarle road to Tilden avenue, in the Borough of Brooklyn, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

Bounded on the north by a line distant 100 feet northerly from and parallel with the northerly line of Albemarle road, the said distance being measured at right angles to the line of Albemarle road; on the east by a line midway between Lott street and Prospect street, and by the prolongation of the said line; on the south by a line distant 100 feet southerly from and parallel with the southerly line of Tilden avenue, the said distance being measured at right angles to the line of Tilden avenue, and on the west by a line midway between Oakland place and Lott street and by the prolongation of the said line.

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

for the right 87 degrees 39 minutes 13 seconds a distance of 138.63 feet; thence easterly deflecting to the right 91 degrees 18 minutes 47 seconds a distance of 126.73 feet to the westerly line of Bryant avenue; thence southwardly along the westerly line of Bryant avenue a distance of 166.87 feet to the point or place of beginning.

Marginal streets 20 feet wide are to be laid out on the westerly and northerly sides of the hereinbefore described area.

Resolved, That this Board consider the proposed change at a meeting of the Board, to be held in The City Hall, Borough of Manhattan, City of New York, on the 20th day of November, 1908, at 10:30 o'clock a. m.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby that the proposed change will be considered at a meeting of the Board, to be held in The City Record for ten days continuously, Sundays and legal holidays excepted, prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

NOTICE IS HEREBY GIVEN THAT AT THE meeting of the Board of Estimate and Apportionment held on October 23, 1908, the following resolutions were adopted:

Whereas, The Board of Estimate and Apportionment of The City of New York is considering the advisability of instituting proceedings to acquire title to the lands and premises required for the opening and extending of Forty-second street, from a point 40 feet east of Twelfth avenue to Sixteenth avenue, in the Borough of Brooklyn, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

Bounded on the northeast by a line midway between Forty-first street and Forty-second street; on the southeast by a line distant 100 feet south-easterly from and parallel with the southeasterly line of Sixteenth avenue, the said distance being measured at right angles to the line of Sixteenth avenue; on the southwest by a line midway between Forty-second street and Forty-third street; and on the northwest by a line distant 100 feet northwesterly from and parallel with the northwesterly line of Twelfth avenue, the said distance being measured at right angles to the line of Twelfth avenue.

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

NOTICE IS HEREBY GIVEN THAT AT THE meeting of the Board of Estimate and Apportionment held on October 23, 1908, the following resolutions were adopted:

Whereas, The Board of Estimate and Apportionment of The City of New York is considering the advisability of instituting proceedings to acquire title to the lands and premises required for the opening and extending of Maple street, from Nostrand avenue to Troy avenue, in the Borough of Brooklyn, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

Bounded on the north by a line midway between Maple street and East New York avenue and by the prolongation of the said line; on the east by a line midway between Troy avenue and East Forty-fifth street; on the south by a line midway between Maple street and Midwood street and by the prolongation of the said line; and on the west by a line distant 100 feet westerly from and parallel with the westerly line of Nostrand avenue, the said distance being measured at right angles to the line of Nostrand avenue.

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

NOTICE IS HEREBY GIVEN THAT AT THE meeting of the Board of Estimate and Apportionment held on October 23, 1908, the following resolutions were adopted:

Whereas, The Board of Estimate and Apportionment of The City of New York is considering the advisability of instituting proceedings to acquire title to the lands and premises required for the opening and extending of Eighty-second street, from Shore road to Narrows avenue, and from Third avenue to Fourth avenue, in the Borough of Brooklyn, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of

the opening and extending of Lott street, from Albemarle road to Tilden avenue, in the Borough of Brooklyn, City of New York; and

Whereas, The Board of Estimate and Apportionment is authorized and required at the time of the adoption of the resolution directing the institution of proceedings to acquire title to the lands required for the foregoing improvement to fix and determine upon an area or areas of assessment for benefit for said proceeding.

Resolved, That the Board of Estimate and Apportionment, in pursuance of the provisions of section 980 of the Greater New York Charter, hereby gives notice that the following is the proposed area of assessment for benefit in this proceeding:

Bounded on the north by a line distant 100 feet northerly from and parallel with the northerly line of Albemarle road, the said distance being measured at right angles to the line of Albemarle road; on the east by a line midway between Lott street and Prospect street, and by the prolongation of the said line; on the south by a line distant 100 feet southerly from and parallel with the southerly line of Tilden avenue, the said distance being measured at right angles to the line of Tilden avenue, and on the west by a line midway between Oakland place and Lott street and by the prolongation of the said line.

Resolved, That this Board consider the proposed area of assessment at a meeting of the Board, to be held in The City of New York, Borough of Manhattan, in the City Hall, on the 20th day of November, 1908, at 10:30 a. m., and that at the same time and place a public hearing thereon will then and there be had.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

NOTICE IS HEREBY GIVEN THAT THE Board of Estimate and Apportionment of The City of New York, deeming it for the public interest so to do, proposes to change the map or plan of The City of New York so as to change the lines of Force Tube avenue, from Dinsmore place to Jamaica avenue, in such a way as to locate it 25 feet west of the position which it has heretofore occupied, Borough of Brooklyn, and that a meeting of said Board will be held in the Old Council Chamber, City Hall, Borough of Manhattan, City of New York, on November 20, 1908, at 10:30 o'clock a. m., at which such proposed change will be considered.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby to be published in the City Record and the corporation newspapers for ten days continuously, Sundays and legal holidays excepted, prior to the 20th day of November, 1908.

Resolved, That this Board consider the proposed change at a meeting of the Board, to be held in The City Hall, Borough of Manhattan, City of New York, on the 20th day of November, 1908, at 10:30 o'clock a. m.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby that the proposed change will be considered at a meeting of the Board, to be held at the aforesaid time and place, to be published in the City Record and the corporation newspapers for ten days continuously, Sundays and legal holidays excepted, prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

NOTICE IS HEREBY GIVEN THAT THE Board of Estimate and Apportionment of The City of New York, deeming it for the public interest so to do, proposes to change the map or plan of The City of New York so as to lay out and establish grades for Hampton place, from Sterling place to St. Johns place, Borough of Brooklyn, and that a meeting of said Board will be held in the Old Council Chamber, City Hall, Borough of Manhattan, City of New York, on November 20, 1908, at 10:30 o'clock a. m., at which such proposed change will be considered by said Board; all of which is more particularly set forth and described in the following resolution adopted by the Board on October 23, 1908, notice of which is hereby given, viz.:

Resolved, That the Board of Estimate and Apportionment of The City of New York, in pursuance of the provisions of section 442 of the Greater New York Charter as amended, deeming it for the public interest so to do, proposes to change the map or plan of The City of New York by laying out and establishing grades for Hampton place, from Sterling place to St. Johns place, Borough of Brooklyn, and that a meeting of said Board will be held in the Old Council Chamber, City Hall, Borough of Manhattan, City of New York, on November 20, 1908, at 10:30 o'clock a. m., at which such proposed change will be considered by said Board; all of which is more particularly set forth and described in the following resolution adopted by the Board on October 23, 1908, notice of which is hereby given, viz.:

Resolved, That the Board of Estimate and Apportionment of The City of New York, in pursuance of the provisions of section 442 of the Greater New York Charter as amended, deeming it for the public interest so to do, proposes to change the map or plan of The City of New York by laying out and establishing grades for Hampton place, from Sterling place to St. Johns place, in the Borough of Brooklyn, City of New York, more particularly described as follows:

A street system is to be laid out within the territory bounded by Story avenue, White Plains road, Ludlow avenue, Theriot avenue, Gleason avenue, Haymeyer avenue, Hayland avenue, Castle Hill avenue, Ludlow avenue and Olmstead avenue, in the Borough of The Bronx, City of New York, more particularly described as follows:

A street system is to be laid out within the territory bounded by Story avenue, White Plains road, Ludlow avenue, Theriot avenue, Gleason avenue, White Plains road, Westchester avenue, Starvo street, McGraw avenue, Proctor avenue, Parker street, St. Raymond avenue, Zeraga avenue, Ellis avenue, Haymeyer avenue, Hayland avenue, Castle Hill avenue, Ludlow avenue and Olmstead avenue, in the Twenty-fourth Ward of the Borough of The Bronx, and grades are to be established therefor.

The lines and grades to be fixed are shown upon a map submitted by the President of the Board of Estimate and Apportionment of The City of New York, bearing date of July 9, 1908.

Resolved, That this Board consider the proposed change at a meeting of the Board, to be held in The City Hall, Borough of Manhattan, City of New York, on the 20th day of November, 1908, at 10:30 o'clock a. m.

Resolved, That the Secretary of this Board cause these resolutions and a notice to all persons affected thereby that the proposed change will be considered at a meeting of the Board, to be held at the aforesaid time and place, to be published in the City Record and the corporation newspapers for ten days continuously, Sundays and legal holidays excepted, prior to the 20th day of November, 1908.

Dated November 7, 1908.  
JOSEPH HAAG,  
Secretary,  
No. 277 Broadway, Room 1406.  
Telephone, 2280 Worth.

n7.18

PUBLIC NOTICE IS HEREBY GIVEN that at a meeting of the Board of Estimate and Apportionment, held this day, the following proceedings were had:

Whereas, The New York and Queens County Railway, under date of June 10, 1907, made application to this Board for the grant of the right, privilege and franchise to construct, maintain and operate two extensions to its existing street surface railway system in the Borough of Queens, as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

A public park is to be laid out bounded as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the northerly line of East One Hundred and Eighth street and Bryant avenue, and by laying out a bounding street on its northerly and westerly sides, in the Borough of The Bronx, City of New York, more particularly described as follows:

Beginning at the intersection of the westerly line of Bryant avenue with the northerly line of East One Hundred and Eighth street, and running thence westwardly along the

Second—From Twenty-second street, Inglewood, upon and along Franconia avenue, Thirty-first street and Broadway to Bell avenue, Bayside; and

Whereas, Section 92 of the Railroad Law and sections 73 and 74 of the Greater New York Charter, as amended by chapters 620 and 630 of the Laws of 1908, provide for the manner and procedure of making such grants; and

Whereas, In pursuance of such laws, this Board adopted a resolution on June 14, 1907, fixing the date for public hearing thereon as July 8, 1907, at which citizens were entitled to appear and be heard, and publication was had upon the first of the above applications for at least fourteen (14) days in "The New York Herald" and "New York Daily News," and upon the second of said applications for at least fourteen (14) days in "The Globe" and "New York Mail," newspapers designated by the Mayor, and upon both of said applications in the City Record for ten days immediately prior to the date of hearing, and the public hearing was duly held on such day; and

Whereas, This Board has made inquiry as to the money value of the franchise or right applied for, and proposed to be granted to the New York and Queens County Railway Company, and the adequacy of the compensation proposed to be paid therefor; and

Whereas, A Select Committee of the Board has submitted a report containing proposed conditions and a form of contract which was presented at a meeting held September 25, 1908, and was tentatively approved subject to the approval of the Corporation Counsel, which has this day been received; now, therefore, it is

Resolved, That the following form of the resolution for the grant of the franchise or right applied for by the New York and Queens County Railway Company, containing the form of proposed contract for the grant of such franchise or right, be hereby introduced, and entered in the minutes of this Board, as follows, to wit:

Resolved, That the Board of Estimate and Apportionment hereby grants to the New York and Queens County Railway Company the franchise or right fully set out and described in the following form of proposed contract for the grant thereof, embodying all of the terms and conditions, including the provisions as to rates, fares and charges upon and subject to the terms and conditions in said proposed form of contract contained, and that the Mayor of The City of New York be and is hereby authorized to execute and deliver such contract in the name and on behalf of The City of New York, as follows, to wit:

This contract made this day of 1908, by and between The City of New York (hereinafter called the City), party of the first part, by the Mayor of said City, acting for and in the name of said City, under and in pursuance of the authority of the Board of Estimate and Apportionment of said City (hereinafter called the Board), and the New York and Queens County Railway Company, a street surface railway corporation formed under and pursuant to the laws of the State of New York (hereinafter called the Company), party of the second part, witnesseth:

In consideration of the mutual covenants and agreements herein contained, the parties hereto do hereby covenant and agree as follows:

Section 1. The City hereby grants to the Company, subject to the conditions and provisions herein set forth, the right and privilege to construct, maintain and operate a double-track extension in its present street surface railroad by the overhead electric system similar to that now used by the Company in the Borough of Queens, with the necessary switches, crossovers, wires and equipment, for the purpose of conveying persons and property in the Borough of Queens, in The City of New York, upon the following routes:

Beginning at and connecting with the existing track of the Company at the intersection of Broadway and Main street, in the former Village of Flushing, Borough of Queens; running thence easterly upon and along Broadway to Whitestone avenue; thence northerly upon and along Whitestone avenue to Chestnut street or avenue; thence easterly upon and along Chestnut street or avenue to and across Flushing avenue; thence still easterly through private property along the line of the continuation of Chestnut street or avenue to Murray lane; thence northerly upon and along Murray lane to Higgins lane; thence easterly upon and along Higgins lane to a point where Ninth avenue, if extended, would intersect said Higgins lane; thence northerly through private property along the line of the continuation of Ninth avenue to Fourth street; thence westerly upon and along Fourth street to Eighth avenue; thence northerly upon and along Eighth avenue to Twenty-first street; thence easterly upon and along Twenty-first street to Eleventh avenue; thence northerly upon and along Eleventh avenue to a point where the Boulevard, in the former Village of White Plains, Borough of Queens, also

Beginning at and connecting with the existing track of the Company at the intersection of Franconia avenue and Twenty-second street, in the former Village of Flushing, Borough of Queens; thence easterly upon and along Franconia avenue to and across Twenty-fourth street; thence still easterly through private property along the line of the continuation of Franconia avenue to Thirty-first street; thence northerly upon and along Thirty-first street to Broadway, said continuation of Franconia avenue and Thirty-first street being shown on a map of the City entitled:

"Map of plan of Inglewood and vicinity, Third Ward (formerly Town of Flushing), Borough of Queens, City of New York, showing the street system and grades, dated New York, March 2, 1903; approved by the Board of Estimate and Apportionment May 1, 1903, and approved by the Mayor October 6, 1903;"

—thence northerly through said private property upon the line of the property known and described upon the map of said private property at Thirty-first street to Broadway; thence easterly upon and along Broadway to Bell avenue.

The said routes, the tracks of said routes, turnouts and crossovers hereby authorized are more particularly shown upon two maps, each entitled:

"Map showing the proposed street surface railway to accompany the application for a franchise of the New York and Queens County Railway Company to the Board of Estimate and Apportionment, dated June 14, 1907;"

—and signed by F. L. Fuller, President, and A. F. Kalback, Consulting Engineer, which maps are attached herewith and made a part of this contract.

Sec. 2. The grant of this privilege is subject to the following conditions, which shall be complied with by the Company:

First—The consent in writing of the owners of half in value of the property bounded on said streets and avenues to the construction and operation of said railroad shall be obtained by the Company within six months of the signing of this contract by the Mayor, and a copy of such consent shall be filed with the Board within such time; or, in the event that such consent cannot be obtained, the Company shall, within two months thereafter, make application to the Appellate Division of the Supreme Court for the appointment of Commissioners in the manner

provided by the Railroad Law to determine if said railroad ought to be constructed; otherwise this grant shall cease and determine.

Second—The said right to construct, maintain and operate a double-track street surface railroad, as herein described, shall be held and enjoyed by the Company, its successors or assigns, for the term of twenty-five (25) years from the date when this contract is signed by the Mayor, with the privilege of renewal of said contract for the further period of twenty-five (25) years, upon a fair revaluation of such right and privilege.

If the Company shall determine to exercise its privilege of renewal it shall make application to the Board, or any authority which shall be authorized by law to act for the City in place of the Board. Such application shall be made at any time not earlier than two years and not later than one year before the expiration of the original term of this contract. The determination of the revaluation shall be sufficient if agreed to in writing by the Company and the Board, but in no case shall the annual rate of compensation to the City be fixed at a less amount than the sum required to be paid during the last year prior to the termination of the original term of this contract.

If the Company and the Board shall not reach such agreement on or before the day one year before expiration of the original term of this contract, then the annual rate of compensation for such succeeding twenty-five (25) years shall be reasonable, and either the City (by the Board) or the Company shall be bound upon request of the other, to enter into a written agreement with each other fixing the rate of such compensation as such amount as shall be reasonable, and if the parties shall not forthwith agree upon what is reasonable, then the parties shall enter into a written agreement fixing such annual rate and at such amount as shall be determined by three disinterested freeholders selected in the following manner:

One disinterested freeholder shall be chosen by the Board; one disinterested freeholder shall be chosen by the Company; these two shall choose a third disinterested freeholder, and the three so chosen shall act as appraisers and shall make the revaluation aforesaid. Such appraisers shall be chosen at least six months prior to the expiration of this original contract, and their report shall be filed with the Board within three months after they are chosen. They shall act as appraisers and not as arbitrators. They may base their judgment upon their own experience and upon such information as they may obtain by inquiries and investigations, without the presence of either party. They shall have the right to examine any of the books of the Company and its officers under oath. The valuations so ascertained, fixed and determined shall be conclusive and upon both parties, but no annual sum shall, in any event, be less than the sum required to be paid for the last year of this original contract. If, in any case, the annual rate shall not be fixed prior to the termination of the original term of this contract, then the Company shall pay the annual rate theretofore prevailing until the new rate shall be determined, and shall then make up to the City the amount of any excess of the annual rate then determined over the previous annual rate. The compensation and expenses of the said appraisers shall be borne jointly by the City and the Company, each paying one-half thereof.

Third—The Company, its successors or assigns, shall pay to the City for the privilege the following sums of money:

For the extension last described herein:

The sum of five hundred dollars (\$500) in cash, within thirty (30) days after the date on which this contract is signed by the Mayor.

During the first five years after the commencement of operation of the extension herein provided for, annually, on November 1, three (3) per cent, of its gross receipts for and during the year ending September 30 next preceding, and after the expiration of such five years make a like annual payment into the treasury of the City of five (5) per cent, of its gross receipts. The Company shall pay such percentages only upon such portion of its gross receipts as shall bear the same proportion to its whole gross receipts as the length of such extension shall bear to the entire length of its line.

For the extension last described herein:

The sum of one hundred dollars (\$100) in cash within thirty (30) days after the date on which this contract is signed by the Mayor.

During the first five years after the commencement of operation of the extension herein provided for, annually, on November 1, three (3) per cent, of its gross receipts for and during the year ending September 30 next preceding, and after the expiration of such five years make a like annual payment into the treasury of the City of five (5) per cent, of its gross receipts. The Company shall pay such percentages only upon such portion of its gross receipts as shall bear the same proportion to its whole gross receipts as the length of such extension shall bear to the entire length of its line.

Fourth—Upon the termination of this original contract, or if the same be renewed, then at the termination of the said renewal term, or upon the dissolution of the Company before such termination, the tracks and equipment of the Company constructed pursuant to this contract within the streets and highways of the City shall become the property of the City without cost, and the same may be used or disposed of by the City for any purpose whatsoever, or the same may be leased to any Company or individual.

If, however, at the termination of this grant as above the City (by the Board) shall so order by resolution, the Company shall, upon thirty (30) days' notice in writing from the Board, remove any and all of its tracks and other equipment constructed pursuant to this contract, and the same streets and highways shall be restored to their original condition at the sole cost and expense of the Company.

Fifth—The annual charges or payment shall continue throughout the whole term of the contract hereby granted, whether original or renewal, notwithstanding any clause in any statute or in the charter of any other railroad company providing for payments for railroad rights or franchises at a different rate, and no assignment, lease or sublease of the rights or privileges hereby granted, whether original or renewed, or of any part thereof, or of any of the rights mentioned herein, or of any part thereof, shall be valid or effectual for any purpose unless the said assignment, lease or sublease shall contain a covenant on the part of the assignee or lessee that the same is subject to all the conditions of this contract, and that the assignee or lessee assumes and will be bound by all of said conditions, and especially said conditions as to payments, anything in any statute or in the charter of such assignee or lessee to the contrary notwithstanding, and that the said assignee or lessee waives any more favorable conditions created by such statute or its charter, and that it will not claim by reason thereof or otherwise exemption from liability to perform such and all the conditions of this contract.

Sixth—The rights and privileges hereby granted shall not be assigned, either in whole or in part, or leased or sold in any manner, nor shall title thereto, or right, interest or property therein, pass to or vest in any other person or corporation whatsoever, either by the act of the Company, its successors or assigns, or by operation

of law, whether under the provisions of the statutes relating to the consolidation or merger of corporations, or otherwise, without the consent of the City, acting by the Board, or its successors in authority, evidenced by an instrument under seal, anything herein contained to the contrary thereof in anywise notwithstanding, and the granting, giving or waiving of any one or more of such consents shall not render unnecessary any subsequent consent or consents.

Seventh—The railway to be constructed under this contract may be operated by overhead electric power substantially similar to the overhead electric traction now in use by street surface railways in the Borough of Queens, or by any other motive power, except locomotive steam power or horse power, which may be approved by the Board, and consented to by owners of property, in accordance with the provisions of law, and by the Public Service Commission of the First District of the State of New York.

Eighth—The Company shall begin construction of the extensions herein authorized within the time prescribed by the Railroad Law of the State of New York, and such extensions shall be completed and shall be in operation on or before December 31, 1909; otherwise this grant shall cease and determine.

Ninth—The said railway shall be constructed, maintained and operated subject to the supervision and control of all the authorities of the City who have jurisdiction in such matters, as provided in the Charter of the City; and the Company agrees to make application to the Commissioner of Water Supply, Gas and Electricity for permission to string and maintain its electrical conductors in the streets covered by this grant.

Tenth—The said railway shall be constructed and operated in the latest improved manner of street railway construction and operation, and the railway and property of the Company shall be maintained in good condition throughout the term of this contract.

Eleventh—Cars on the said railway shall run at intervals of not more than thirty minutes both day and night, and as much oftener as reasonable convenience of the public may require, or as may be directed by the Board.

Provided, however, that the Company during the first five years of its franchise shall not be required to operate its cars between the hours of 12 o'clock midnight and 5 o'clock a. m. each day, unless the Board shall determine, after a hearing had thereon that public convenience requires the operation of cars during said hours.

Twelfth—The Company shall attach to each car run over the said railway proper fenders and wheel guards in conformity with such laws and ordinances as are now in force, or may hereafter, during the term of this contract, be enacted or adopted by the State or City authorities.

Thirteenth—All cars which are operated on said railway shall be heated during the cold weather in conformity with such laws and ordinances as are now in force, or may hereafter, during the term of this contract, be enacted or adopted by the State or City authorities.

Fourteenth—The Company, so long as it shall continue to use any of the tracks upon the streets and avenues in which the railway shall be constructed under this contract, shall cause to be cleaned the entire roadway of such streets and avenues at least three times in every twenty-four hours, when the temperature is above thirty-five (35) degrees Fahrenheit, and shall provide for such purpose at least one tankcar, to be propelled by electric power, the capacity of which shall be sufficient to water such streets and avenues in a satisfactory manner.

Fifteenth—All cars operated on said railway shall be well lighted by electricity, or by some lighting system equally efficient, or as may be required by the Board.

Sixteenth—The Company, so long as it shall continue to use any of its tracks in any street or highway covered by this grant, shall have and keep in permanent repair that portion of such street or highway between its tracks and the rails of its tracks and two feet in width outside of its tracks, under the supervision of the proper local authorities, and whenever required by them to do so, and in such manner as they may prescribe. In case of neglect by the Company to make payments or repairs after the expiration of thirty (30) days' notice to do so, the local authorities may make the same at the expense of such corporation, and such authorities may make such reasonable regulations and ordinances as to the rate of speed, mode of use of tracks and removal of ice and snow as the interest or convenience of the public may require.

Seventeenth—Any alteration which may be required in the sewerage or drainage system, or to any subsurface structures, pipes, conduits, etc., laid in the streets, on account of the construction or operation of the railway, shall be made at the sole cost of the Company, and in such manner as the proper City officials may prescribe.

Eighteenth—Should the grades or lines of the streets in which franchises herein granted be changed at any time during the term of this contract, the Company shall, at its own expense, change its tracks to conform with such new grades and lines, and during the construction of any public improvement upon said street, the Company shall take care of and protect the track at its own expense, all to be done subject to the direction of the President of the Borough of Queens.

Nineteenth—The Company shall at all times keep accurate books of account of the gross earnings from the privileges granted under this contract. The Company shall, on or before November 1 of each year, make a verified report to the Comptroller of The City of New York of the business done by the Company for the year ending September 30 next preceding, as he may prescribe. Such report shall contain a statement of the gross receipts from operation of the railway, together with such other information and in such detail as the Comptroller may require. The Comptroller shall have access to all books of the Company for the purpose of ascertaining the correctness of its report, and may examine its officers under oath.

Twentieth—The Company shall assume all liability to persons or property by reason of the construction or operation of the railroad authorized by this contract, and it is a condition of this contract that the City shall assume no liability whatsoever to either persons or property on account of the same, and the Company hereby agrees to pay to the City any damage which the City shall be compelled to pay by reason of any acts or default of the Company, giving the Company notice and the right to intervene in any action or proceeding wherein such damage may be sought.

Twenty-first—This grant is upon the express condition that the Company, within thirty (30) days after the signing of this contract by the Mayor, and before anything is done in exercise of the rights conferred hereby, shall file with the Comptroller of The City of New York the sum of ten thousand dollars (\$10,000), either in money or in securities to be approved by him, which fund shall be used for the performance by the Company of all of the terms and conditions of this contract, the payment of the annual percentages for the privilege hereby granted, the rendering of efficient public service at reasonable rates, the maintenance of the property in good condition throughout the full term of the grant,

the repairs of the street pavement, the removal of snow and ice and the quality of construction of the railroad; and in case of default in the performance by the Company of such terms and conditions, and such duties and obligations as may hereafter be imposed by the local authorities under this grant, or under the powers delegated by the Railroad Law, the City shall have the right to cause the work to be done and the materials to be furnished for the performance thereof after due notice, and shall collect the reasonable cost thereof from the said fund without legal proceedings; or after default in the payment of the annual charges, shall collect the same, with interest, from the said fund after ten days' notice in writing to the Company; or in case of failure to keep the said terms and conditions of this contract relating to the headway, heating and lighting of cars, fenders, or wheel-guards and watering of street pavements, or in case of failure to render efficient public service at reasonable rates, or to maintain the property in good condition, the Company shall pay a penalty of fifty dollars (\$50) per day for each day of violation, and the further sum of ten dollars (\$10) per day for each car that shall not be properly heated, lighted or supplied with fenders or wheel-guards, in case of the violation of the provisions relating to those matters. In case of any drafts made upon the security fund, the Company shall, within thirty (30) days after written notice from the Comptroller, so to do, pay to the Comptroller of the City a sum sufficient to restore said security fund to the original amount of ten thousand dollars (\$10,000).

Twenty-second—No action or proceeding of any nature shall affect any other legal rights, remedies or causes of action belonging to the City. The grant of this privilege is subject to whatever right, title or interest the owners of abutting property or others may have in and to the streets, avenues and highways in which the Company is authorized to operate.

Twenty-third—The words "notice" or "direction" wherever used in this contract, shall be deemed to mean a written notice or direction. Every such notice or direction to be served upon the Company shall be delivered at such office in the City as shall have been designated by the Company, or if no such office shall have been designated, or if such designation shall have for any reason become inoperative, shall be mailed in the City, postage prepaid, addressed to the Company at the City. Delivery or mailing of such notice or direction as and when above provided, shall be equivalent to direct personal notice or direction, and shall be deemed to have been given at the time of delivery or mailing.

The Company agrees that notice printed in the City Record shall constitute sufficient notice within the meaning of this contract.

Twenty-fourth—If at any time the powers of the Board or any other of the authorities herein mentioned or intended to be mentioned, shall be transferred by law to any other Board, authority, officer or officers, then and in such case such other Board, authority, officer or officers shall have all the powers, right and duties herein reserved to or prescribed for the Board or other authorities, officer or officers.

Twenty-fifth—This contract is also upon the further and express conditions that the provisions of Article IV. of the Railroad Law applicable thereto, and all laws or ordinances now in force, or which may be adopted affecting the streets and highways and the surface railroads operating in the City, not inconsistent with the terms and conditions hereinbefore fixed, shall be strictly complied with by the Company.

In witness whereof, the party of the first part, by its Mayor, theretofore duly authorized by the Board of Estimate and Apportionment of said City, has caused the corporate name of said City to be hereunto signed and the corporate seal of said City to be hereunto affixed, and the party of the second part, by its officers, theretofore duly authorized, have caused their corporate names to be hereunto signed and their corporate seals to be hereunto affixed the day and year above written.

THE CITY OF NEW YORK,  
By ..... Mayor.

[CORPORATE SEAL]  
Attest: ..... City Clerk.  
NEW YORK AND QUEENS COUNTY  
RAILWAY COMPANY,  
By ..... President.

[SEAL]  
Attest: ..... Secretary.

Resolved, That the results of the inquiry made by this Board as to the money value of the franchise or right proposed to be granted and the adequacy of the compensation proposed to be paid therefor, and of the terms and conditions, including the provision as to rates, fares and charges, are as hereinbefore specified and fully set forth in and by the foregoing form of proposed contract for the grant of such franchise or right.

Resolved, That these preambles and resolutions, including the said resolution for the grant of a franchise or right applied for by the New York and Queens County Railway Company and the said form of proposed contract for the grant of such franchise or right containing said results of such inquiry, after the same shall be entered in the minutes of this Board, shall be published for at least twenty (20) days immediately prior to Friday, November 27, 1908, in the City Record, and at least twice during the ten days immediately prior to November 27, 1908, in two daily newspapers to be designated by the Mayor thereof and published in the City of New York, at the expense of the New York and Queens County Railway Company, together with the following notice, to wit:

Notice is hereby given that the Board of Estimate and Apportionment, before authorizing any contract for the grant of the franchise or right applied for by the New York and Queens County Railway Company, and fully set forth and described in the foregoing form of proposed contract for the grant of such franchise or right, and before adopting any resolution authorizing any such contract, will, at a meeting of said Board, to be held in the Old Council Chamber, City Hall, Borough of Manhattan, City of New York, on Friday, November 27, 1908, at 10:30 o'clock a. m., hold a public hearing thereon, at which citizens shall be entitled to appear and be heard.

JOSEPH HAAG,  
Secretary.

Dated New York, October 16, 1908.

PUBLIC NOTICE IS HEREBY GIVEN  
that at a meeting of the Board of Estimate and Apportionment, held October 22, 1908, the following petition was received:

To the Honorable the Board of Estimate and Apportionment of The City of New York:

The petition of the Metropolitan Street Railway Company respectfully shows:

First—Your petitioner is a street surface railroad company organized under the laws of

the State of New York by the filing of Articles of Consolidation with other street surface railroad corporations in the office of the Secretary of State on or about the 12th day of November, 1895.

Second—Since the date of its consolidation it has been the owner and lessee of a large number of street surface railroads in the Borough of Manhattan, City of New York, including, among others, the electric railroad on Broadway, from South Ferry to Forty-fifth street, and also the electric railroad on Canal street, running from the corner of Broadway and Canal street to Centre street, and along Centre street and Park row to the Post Office.

Third—Your petitioner is also the lessee of the Bleeker Street and Fulton Ferry Railroad Company, which company owns a franchise on Canal street, from Broadway to the Bowery, upon which, as your petitioner is informed and believes, the said Bleeker Street and Fulton Ferry Railroad Company operated a street surface railroad for more than twenty years.

Fourth—Your petitioner proposes to construct a double electric track on Canal street, from Centre street to the Bowery, and to operate such track in connection with the tracks on the Manhattan Bridge, so as to form a continuous line or route from the Brooklyn plaza over the Manhattan Bridge and its approaches and across Canal street, connecting with your petitioner's lines on Centre street, Broadway, West Broadway and Hudson street.

Fifth—Your petitioner proposes to operate said route by the underground system of electricity, similar in all respects to that in use on the other lines of your petitioner's road.

Sixth—for the purpose of constructing and operating the branch or extension to its road over the Manhattan Bridge, your petitioner desires to obtain from your Honorable Board, and hereby applies for, its consent to and the grant of a franchise or right for the construction, maintenance and operation of a double track electric extension or branch of its existing railroad for public use in the conveyance of persons and property for compensation over the Manhattan Bridge and its approaches, from the intersection of Canal street and the Bowery to the Brooklyn plaza.

Wherefore, your petitioner prays that notice of this application and of the time and place when and where the same will be first considered be given, as required by law, and that the grant of a franchise or right be made, in accordance with the provisions of the Greater New York Charter and of the Railroad Law applicable thereto.

Dated New York, October 26, 1908.

METROPOLITAN STREET RAILWAY COMPANY,

By CHARLES E. WARREN, Vice-President.

State of New York, City and County of New York, ss:

Charles E. Warren, being duly sworn, says that he is Vice-President of the Metropolitan Street Railway Company, the petitioner herein; that he has read the foregoing petition and knows the contents thereof, and that the statements contained therein are true to the knowledge of deponent, except as to those matters which are therein stated on information and belief, and as to such matters he believes it to be true.

Sworn to before me this 26th day of October, 1908.

CHARLES E. WARREN.

ERNEST W. BRADY,

Notary Public No. 137.

New York County.

NOTARIAL SEAL.]

And the following resolutions were therupon adopted:

Whereas, The foregoing petition from the Metropolitan Street Railway Company, dated October 26, 1908, was presented to the Board of Estimate and Apportionment at a meeting held October 26, 1908;

Resolved, That in pursuance of law this Board sets Friday, the 13th day of November, 1908, at 10:30 o'clock in the forenoon, and Room 16 in the City Hall, Borough of Manhattan, as the time and place when and where such petition shall be first considered, and a public hearing be had therein, at which citizens shall be entitled to appear and be heard; and be it further

Resolved, That the Secretary is directed to cause such petition and these resolutions to be published for at least fourteen (14) days in two daily newspapers in The City of New York, to be designated by the Mayor, and for at least ten (10) days in the City Record immediately prior to such date of public hearing, the expense of such publication to be borne by the petitioner.

JOSEPH HAAG,

Secretary.

New York, October 26, 1908.

031,513

PUBLIC NOTICE IS HEREBY GIVEN that at a meeting of the Board of Estimate and Apportionment, held September 26, 1907, the following petition was received:

BROOKLYN, September 9, 1907.

Board of Estimate and Apportionment of The City of New York:

GENTLEMEN—The Brooklyn City Railroad Company, a street surface railroad corporation, duly organized and existing under the laws of the State of New York, owning and operating a double-track street surface electric railroad in Flatbush avenue, Willoughby street, Myrtle avenue and Fulton street and other streets in the Borough of Brooklyn, hereby makes application to your Honorable Board for the grant of a franchise to construct, maintain and operate a double-track street surface railroad, with the necessary poles, wires, conduits, furnaces, cross-overs, switches, sidings and equipment, for the purpose of conveying persons and property upon the following route in the Borough of Brooklyn, State and City of New York:

Commencing at the intersection of Fulton street and Flatbush avenue; thence northerly along and through the centre of Flatbush avenue (known as the recent extension of Flatbush avenue from Fulton street) to a point at or about Nassau street, where said extension terminates, and the plaza to be used in connection with the new Manhattan Bridge begins, together with the right to connect the aforesaid tracks with the existing tracks of the Brooklyn City Railroad Company on Flatbush avenue, Fulton street, Willoughby street and Myrtle avenue. And it submits herewith a plan showing the location of said tracks and the connection of the same with its present street surface railroad in the Borough of Brooklyn, so as to permit the operation of street surface railroad cars for the conveyance of persons and property over the Manhattan Bridge.

Respectfully submitted,

THE BROOKLYN CITY RAILROAD COMPANY.

By EDWARD MERRITT, President.

State of New York, County of Kings, Borough of Brooklyn, City of New York, ss:

Edward Merritt being duly affirmed, deposes and says that he is President of the Brooklyn City Railroad Company, which is a domestic corporation of the State of New York; that the facts stated in the above application are true of his own knowledge, except as to matters therein stated on information and belief, and as to those

matters he believes it to be true, and he is authorized by the Board of Directors to make this application on behalf of said Company.

EDWARD MERRITT.

Affirmed to before me this 17th day of September, 1907.

CHARLES K. GAY,

Notary Public, Kings County, N. Y.

Form approved:

G. O. YOUNGANS,

General Counsel.

And at a meeting held October 16, 1908, the following resolutions were adopted:

Whereas, The foregoing petition from the Brooklyn City Railroad Company, dated September 9, 1907, was presented to the Board of Estimate and Apportionment at a meeting held September 26, 1907;

Resolved, That in pursuance of law this Board sets Friday, the 13th day of November, 1908, at 10:30 o'clock in the forenoon, and Room 16 in the City Hall, Borough of Manhattan, as the time and place when and where such petition shall be first considered, and a public hearing be had therein, at which citizens shall be entitled to appear and be heard; and be it further

Resolved, That your petitioner, for the convenience of public travel, proposes to extend its railroad to and upon each of said bridges and the approaches thereto by the construction and operation of separate branches or extensions, by an underground current of electricity, upon the following-described routes:

(a) Beginning at the double-track road on the Bowery, at or near Canal street, in the Borough of Manhattan, owned by the petitioner and connecting therewith; running thence easterly with double tracks in, upon or along the westerly approach to said bridge in the Borough of Manhattan; thence upon, over, across and along said Manhattan Bridge, and thence in, upon and along the easterly approach to said bridge in the Borough of Brooklyn to the terminal plaza, at or near Nassau street, in said Borough. The total length thereof is sixty-five hundred feet.

(b) Beginning at the double-track road on Third avenue at the intersection of Fifty-eighth street, Borough of Manhattan, owned by the petitioner, and connecting therewith; running thence easterly with a single track in, upon and along Fifty-eighth street to Second avenue; thence northerly in, upon and along Second avenue to a point of connection with the tracks on Blackwells Island Bridge and its approach, at or near Fifty-ninth street and northerly thereof; thence with double tracks easterly in, upon and along the westerly bridge approach; thence upon, over, across and along said bridge; thence in, upon and along the easterly bridge approach in the Borough of Queens to the terminal plaza or near Jackson avenue, in Long Island City, in said Borough. And also beginning at the petitioner's double-track road on Third avenue, at the intersection of Sixtieth street, and connecting therewith; running thence easterly with a single track in, upon and across Second avenue to a point of connection with the tracks on Blackwells Island Bridge and its approach, at or near Fifty-ninth street and northerly thereof; thence with double tracks easterly in, upon and along the westerly bridge approach; thence upon, over, across and along said bridge; thence in, upon and along the easterly bridge approach in the Borough of Queens to the terminal plaza or near Jackson avenue, in Long Island City, in said Borough.

And also beginning at the petitioner's double-track road on Third avenue, at the intersection of Sixtieth street, and connecting therewith; running thence easterly with a single track in, upon and across Second avenue to a point of connection with the tracks on Blackwells Island Bridge and its approach, at or near Fifty-ninth street and northerly thereof; thence with double tracks easterly in, upon and along the westerly bridge approach; thence upon, over, across and along said bridge; thence in, upon and along the easterly bridge approach in the Borough of Queens to the terminal plaza or near Jackson avenue, in Long Island City, in said Borough. And also beginning at the petitioner's double-track road on Third avenue, at the intersection of Sixtieth street, and connecting therewith; running thence easterly with a single track in, upon and across Second avenue to a point of connection with the tracks on Blackwells Island Bridge and its approach, at or near Fifty-ninth street and northerly thereof; thence with double tracks easterly in, upon and along the westerly bridge approach; thence upon, over, across and along said bridge; thence in, upon and along the easterly bridge approach in the Borough of Queens to the terminal plaza or near Jackson avenue, in Long Island City, in said Borough.

Fourth—Your petitioner is advised that separate consents of your Honorable Body must be first obtained to permit of the operation in said streets and avenues and over each of said bridges and their approaches, and hereby applies for the consent of the Board of Estimate and Apportionment to, and a grant of, franchises or rights for the maintenance and operation of branches or extensions of its railroad, for public use in the conveyance of persons and property for compensation, upon each of the routes in The City of New York above described.

Wherefore, your petitioner prays that public notice of such application for said consents, franchises or rights, and of the time and place when and where the same will be first considered, be given, as required by law, and that consents, franchises or rights be granted by the Board for the construction, maintenance and operation of each of said branches or extensions, in accordance with the provisions of the Greater New York Charter and of the Railroad Law of the State of New York.

Resolved, That the following form of resolution for the consent or right applied for by the New York, Westchester and Boston Railway Company, containing the form of proposed contract for the grant of such right, be hereby introduced and entered in the minutes of this Board, as follows, to wit:

Resolved, That the Board of Estimate and Apportionment hereby consents to certain changes, alterations and amendments in the route of the New York, Westchester and Boston Railway Company, as granted by an ordinance of the Board of Aldermen, approved by the Mayor August 2, 1904, and the right to cross certain streets, avenues, highways and public places, and to construct, maintain and operate a railroad in, upon and across the streets, avenues, highways and public places on such amended route of said railroad, and that the said Board also consents to certain modifications in the terms and conditions of the said ordinance; such changes, altered or amended route, and such modified terms and conditions being fully set forth and described in the following form of proposed contract for the granting thereof, embodying such terms and conditions as modify or alter said ordinance of the Board of Aldermen, which said ordinance otherwise remains unchanged as to all the other terms and conditions expressed therein, and that the Mayor of The City of New York be and he hereby is authorized to execute and deliver such contract in the name and on behalf of The City of New York, as follows, to wit:

Proposed Form of Contract for Alteration of Route and Modification of Ordinance.

This contract, made the day of 1908, by and between The City of New York (hereinafter called the City), party of the first part, by the Mayor of said City, acting for and in the name of said City, under and in pursuance of the authority of the Board of Estimate and Apportionment of said City (hereinafter called the Board), and the New York, Westchester and Boston Railway Company, a domestic railroad corporation (hereinafter called the Westchester Company), party of the second part, witnesseth:

Whereas, The City of New York, by ordinance approved by the Mayor on August 2, 1904, granted to the New York, Westchester and Boston Railway Company the right to cross certain streets and highways, and the privilege to construct and operate a four-track railroad upon certain routes particularly set forth in section 1 of said ordinance, and as shown on certain maps and profiles therein referred to and filed in the office of the County Clerk of the City and County of New York on the 23d day of June, 1904, or any lawful amendment thereof consented to by the Board of Estimate and Apportionment; and

Whereas, The Board did, on July 14, 1905, adopt a resolution, which was approved by the Mayor on July 21, 1905, consenting to a change in the route of the Westchester Company; and

Whereas, In and by said ordinance and resolution as amended, the consent of the City was granted to the Westchester Company for the construction, maintenance and operation of the said railroad across certain enumerated streets, avenues or highways, either above or below the grade thereof, within said City, upon certain conditions therein fully set forth; and

Whereas, Said petition was on that date referred to the Chief Engineer of this Board for investigation and report; and

Whereas, A report has this day been received from the Chief Engineer, stating he is informed that a large majority of the property owners are opposed to the plan proposed by the railroad company, and suggesting that a date be set for public hearing on the petition, in order that the abutting property owners may be given an opportunity to appear and be heard; now therefore be it

Resolved, That Friday, November 13, 1908, at 10:30 a. m., and Room 16 in the City Hall, Borough of Manhattan, be set as the time and place for the public hearing on the aforesaid petition, when citizens shall be entitled to appear and be heard; and be it further

Resolved, That the Secretary of this Board be and he hereby is directed to cause these resolutions to be published in the City Record for at least ten (10) days prior to the date of the public hearing.

Dated New York, September 18, 1908.

JOSEPH HAAG,

Secretary.

030,513

Resolved, That Friday, November 13, 1908, at 10:30 a. m., and Room 16 in the City Hall, Borough of Manhattan, be set as the time and place for the public hearing on the aforesaid petition, when citizens shall be entitled to appear and be heard; and be it further

Resolved, That the Secretary of this Board be and he hereby is directed to cause these resolutions to be published in the City Record for at least ten (10) days prior to the date of the public hearing.

Dated New York, September 18, 1908.

JOSEPH HAAG,

Secretary.

030,513

## PUBLIC NOTICE.

PUBLIC NOTICE IS HEREBY GIVEN that at the meeting of the Board of Estimate and Apportionment held this day the following proceedings were had:

Whereas, The City of New York, by an ordinance adopted by the Board of Aldermen July 26, 1904, and approved by the Mayor August 2, 1904, granted to the New York, Westchester and Boston Railway Company the right to construct, maintain and operate a four-track railroad upon certain routes, particularly set forth in section 1 of said ordinance, and which ordinance, including all the terms and conditions thereof, was copied by said company by an instrument in writing, duly filed with the Comptroller of The City of New York on August 13, 1904; and

Whereas, The Board of Estimate and Apportionment, by resolution adopted July 14, 1905, and approved by the Mayor July 21, 1905, consented to certain modifications or alterations in the aforesaid routes; and

Whereas, The said company has petitioned the Board of Estimate and Apportionment, under date of June 18, 1908, for the consent of The City of New York to certain modifications and alterations in said routes, and to certain modifications and alterations in the terms and conditions of the aforesaid ordinance, as is fully set forth in said petition; and

Whereas, Section 92 of the Railroad Law, and sections 72, 73 and 74 of the Greater New York Charter, as amended by chapters 622 and 630 of the Laws of 1905, provide for the manner and procedure of making such grants; and

Whereas, In pursuance of such laws, this Board adopted a resolution on June 26, 1908, fixing the date for a public hearing thereon as September 18, 1908, at which citizens were entitled to appear and be heard, and publication was had for at least two (2) days in the "New York Tribune" and the "North Side News," newspapers designated by the Mayor, and in the City Record for ten (10) days immediately prior to the date of hearing, and such public hearing was on that date continued to September 25, 1908, and was concluded on said day; and

Whereas, The said Board has made inquiry as to the proposed modifications and amendments of said ordinance and has adopted a resolution that the said modifications and amendments are desirable and in the public interest and that the causes stated by said Westchester Company why the conditions contained in said ordinance in regard to the completion of said road cannot be performed prior to the time therein stipulated are, in its opinion, for causes over which the grantor had no control and is in no wise responsible; now therefore it is

Resolved, That the following form of resolution for the consent or right applied for by the New York, Westchester and Boston Railway Company, containing the form of proposed contract for the grant of such right, be hereby introduced and entered in the minutes of this Board, as follows, to wit:

Resolved, That the Board of Estimate and Apportionment hereby consents to certain changes, alterations and amendments in the route of the New York, Westchester and Boston Railway Company, as granted by an ordinance of the Board of Aldermen, approved by the Mayor August 2, 1904, and the right to cross certain streets, avenues, highways and public places, and to construct, maintain and operate a railroad in, upon and across the streets, avenues, highways and public places on such amended route of said railroad, and that the said Board also consents to certain modifications in the terms and conditions of the said ordinance; such changes, altered or amended route, and such modified terms and conditions being fully set forth and described in the following form of proposed contract for the granting thereof, embodying such terms and conditions as modify or alter said ordinance of the Board of Aldermen, which said ordinance otherwise remains unchanged as to all the other terms and conditions expressed therein, and that the Mayor of The City of New York be and he hereby is authorized to execute and deliver such contract in the name and on behalf of The City of New York, as follows, to wit:

Proposed Form of Contract for Alteration of Route and Modification of Ordinance.

This contract, made the day of 1908, by and between The City of New York (hereinafter called the City), party of the first part, by the Mayor of said City, acting for and in the name of said City, under and in pursuance of the authority of the Board of Estimate and Apportionment of said City (hereinafter called the Board), and the New York, Westchester and Boston Railway Company, a domestic railroad corporation (hereinafter called the Westchester Company), party of the second part, witnesseth:

Whereas, The City of New York, by ordinance approved by the Mayor on August 2, 1904, granted to the New York, Westchester and Boston Railway Company the right to cross certain streets and highways, and the privilege to construct and operate a four-track railroad upon certain routes particularly set forth in section 1 of said ordinance, and as shown on certain maps and profiles therein referred to and filed in the office of the County Clerk of the City and County of New York on the 23d day of June, 1904, or any lawful amendment thereof consented to by the Board of Estimate and Apportionment; and

Whereas, The Board did, on July 14, 1905, adopt a resolution, which was approved by the Mayor on July 21, 1905, consenting to a change in the route of the Westchester Company; and

Whereas, In and by said ordinance and resolution as amended, the consent of the City was granted to the Westchester Company for the construction, maintenance and operation of the said railroad across certain enumerated streets, avenues or highways, either above or below the grade thereof, within said City, upon certain conditions therein fully set forth; and

Whereas, Said petition was on that date referred to the Chief Engineer of this Board for investigation and report; and

Whereas, A report has this day been received from the Chief Engineer, stating he is informed that a large majority of the property owners are opposed to the plan proposed by the railroad company, and suggesting that a date be set for public hearing on the petition, in order that the abutting property owners may be given an opportunity to appear and be heard; now therefore be it

Resolved, That Friday, November 13, 1908, at 10:30 a. m., and Room 16 in the City Hall, Borough of Manhattan, be set as the time and place for the public hearing on the aforesaid petition, when citizens shall be entitled to appear and be heard; and be it further

Resolved, That the Secretary of this Board be and he hereby is directed to cause these resolutions to be published in the City Record for at least ten (10) days prior to the date of the public hearing.

Dated New York, September 18, 1908.

JOSEPH HAAG,

Secretary.

030,513

ments and change of terminal are shown upon a certain map, dated June 17, 1908, entitled:

"Survey, Map and Profile of the New York, Westchester and Boston Railway Company for New York County, New York, Section 1, Section 2 and Section 3."

— and signed by the Chief Engineer, President, Secretary and ten directors; which map was filed in the office of the County Clerk of New York County on June 17, 1908; and

Whereas, The said Westchester Company has applied to the Board, as the local authority of The City of New York, by a verified petition, dated June 17, 1908, for the consent of such local authority for such change, alterations and amendments to the route of said railroad, and for the right to construct, maintain and operate a railroad in, upon and across the streets, avenues, highways and public places on said amended route, and for the modification of said ordinance and resolution in accordance therewith; and

Whereas, The said Westchester Company has applied to the Board, as the local authority of The City of New York, by a second verified petition, dated June 17, 1908, for the consent of such local authority for certain other modifications in the ordinance approved by the Mayor August 2, 1904, as amended by the ordinance approved by the Mayor July 21, 1905, to wit:

1. By striking out in section 1, paragraph 1, the following words, "except the overhead trolley system."

2. By striking out in section 2, paragraph 13, the following words, "except the overhead trolley system."

3. By striking out the whole of section 2, paragraph 16, and substituting therefor the following: "In any conduits laid by the company for the transmission of power for its own use, provision shall be made to carry three cables for the use of the police, fire and ambulance service of the City without charges therefor."

4. By striking out in section 1, paragraph 3, the words, "one thousand (1,000) feet," and substituting therefor the words, "two thousand five hundred (2,500) feet."

5. By the addition of a clause permitting the construction and maintenance of connections with:

(a) The present subway-elevated system at or near the present station thereof, at West Farms road.

(b) The projected Southern boulevard and Westchester avenue subway route at Westchester avenue, at or near Home street.

6. By striking out in section 5, paragraph 1, the words, "the intersection of the Southern boulevard and Westchester avenue," and substituting therefor the words, "One Hundred and Seventy-fourth street."

7. That the time named in said section 5, paragraph 1, for the completion of a four-track railroad upon the main line, from the northerly line of the City as far south as One Hundred and Seventy-fourth street, be extended to August 2, 1911.

8. By striking out the whole of section 5, paragraph 4, and substituting therefor the following:

"Any portion of the route covered by this grant which shall not be completed and in full operation prior to the ad day of August, 1913, shall be deemed to have been abandoned and all rights hereby granted in and to such portions of said railway shall cease and determine, except that south of One Hundred and Seventy-fourth street, if the railway company shall have constructed less than four tracks within said period, it shall only be deemed to have abandoned its right to construct any additional tracks south of One Hundred and Seventy-fourth street. And in the event that the said railway company shall not, prior to the ad day of August, 1913, construct its main line south of One Hundred and Seventy-fourth street and to the Harlem River, the Board of Estimate and Apportionment, or its successors in office, may fix and finally determine such additional compensation as shall be imposed upon said railway company because of such failure."

— and

Whereas, On the 18th day of September, 1908, the Board held a public hearing upon the proposed modifications, at which citizens were entitled to appear and be heard, such hearing being held after due publication; and

Whereas, Said public hearing was continued to the 25th day of September, 1908, and was concluded on said day; and

Whereas, The said Board has made inquiry as to the proposed modifications and amendments of said ordinance and has adopted a resolution that the said modifications and amendments are desirable and in the public interest, and that the cause stated by said Westchester Company why the conditions contained in said ordinance in regard to the completion of said real cannot be performed prior to the time therein stipulated, is, in its opinion, for causes over which the grantee had no control and is in a wise responsible; and

Whereas, On the day of 1908, the Board, as the local authority of The City of New York, adopted a resolution granting to the Westchester Company the right to make such changes, alterations and amendments to the route of said railroad, and the right to cross certain streets, avenues, highways and public places, and to construct, maintain and operate a railroad in, upon and across the streets, avenues, highways and public places on such amended route of said railroad, which amended route is shown upon the map heretofore referred to, and is more particularly described as follows:

#### Map Line.

Beginning at a point on the Harlem River, near the point where Lincoln avenue intersects the north bank of the Harlem River in the Borough of The Bronx, and crossing Lincoln avenue, between the Harlem River and One Hundred and Thirty-second street; thence running easterly substantially parallel to One Hundred and Thirty-second street, between One Hundred and Thirty-second street and the Harlem River; thence crossing One Hundred and Thirty-second street at or near its intersection with Willow avenue; thence crossing One Hundred and Thirty-third street, One Hundred and Thirty-fourth street, One Hundred and Thirty-fifth street, One Hundred and Thirty-sixth street, One Hundred and Thirty-seventh street and One Hundred and Thirty-eighth street, between Willow avenue and the Harlem River and Port Chester Railroad; thence

northerly parallel to the Harlem River and Port Chester Railroad and crossing One Hundred and Thirty-ninth street, One Hundred and Fortieth street and One Hundred and Forty-first street, between Southern boulevard and the Harlem River and Port Chester Railroad; thence northerly parallel to the Harlem River and Port Chester Railroad to Westchester avenue, and crossing One Hundred and Forty-ninth street, Leggett street, One Hundred and Fifty-sixth street, Longwood avenue, Lafayette avenue, Tiffany street, Barrett street, Hunts Point road, Faile street, Bryant street, Longfellow street, proposed Ludlow avenue and Watertown street, between Whitlock avenue and the Harlem River and Port Chester Railroad; thence crossing Westchester avenue at or near its intersection with Edgewater road; thence running northerly substantially parallel to the Harlem River and Port Chester Railroad to One Hundred and Seventy-fourth street, and crossing One Hundred and Seventy-second street, between the Bronx River and the Harlem River and Port Chester Railroad; thence crossing One Hundred and Seventy-fourth street and Van Nest avenue, between Devoe avenue and the Harlem River and Port Chester Railroad; thence running northerly substantially parallel to Devoe avenue and crossing One Hundred and Seventy-seventh street, Wyatt street and Walker avenue (West Farms road), between Devoe avenue and Berrian street; thence crossing One Hundred and Seventy-ninth street and Lebanon street, between Devoe avenue and Berrian street, at or near their intersection; thence crossing Adams street, between Morris Park avenue and the easterly line of Bronx Park; thence crossing Berrian street, between Morris Park avenue and Bronx Park; thence to and crossing Unionport road, between Miami street and Birchall avenue; thence crossing Oakley street, between Miami street and Sagamore street; thence crossing White Plains road, at or near the intersection of Sagamore street; thence crossing Brown avenue and Sagamore street, at or near their intersection; thence crossing Hunt avenue and Bear Swamp road at or near their intersection; thence crossing Bronx and Pelham parkway and Williamsbridge road at or near their intersection; thence crossing Saw Mill lane, between Williamsbridge road and Eastchester road; thence crossing Eastchester road near its intersection with Syracuse avenue; thence crossing Cedar street, Oak street and Walnut street, between Kingston avenue and Syracuse avenue; thence crossing Chestnut street and Kingston avenue at or near their intersection; thence crossing Ash street, between Kingston avenue and Cornell avenue; thence crossing Boston road at or near its intersection with Schieffelin lane; thence crossing Fifth avenue of Dyre avenue, between Boston road and Kingsbridge road; thence continuing to a point in the northerly line of The City of New York, between Fifth avenue and the road to White Plains (Columbus avenue).

#### Branch Line.

Beginning at a point on the main line near the junction of Walker avenue (West Farms road) and Devoe avenue; thence running southerly, crossing Wyatt street and Tremont avenue, between Devoe avenue and Berrian street; thence crossing Van Nest avenue and the New York, New Haven and Hartford Railroad, between One Hundred and Seventy-fourth street and Tremont avenue; thence running between Craighill and Chanute avenues and crossing Bronx River avenue, Beacon avenue, Randolph avenue, Westchester avenue, Watson avenue, Ludlow avenue, Story avenue and Lafayette avenue; thence crossing Craighill avenue and Morrison avenue between Lafayette avenue and Seward avenue; thence crossing Seward avenue, between Morrison avenue and Harrod avenue; thence crossing Harrod avenue, Metcalf avenue and Fidley avenue, between Seward avenue and Randall avenue; thence crossing Randall avenue at or near its intersection with Croes avenue; thence crossing Noble avenue, Rosedale avenue and Commonwealth avenue, between Randall avenue and Lambe avenue; thence crossing Lambe avenue, between Commonwealth avenue and St. Lawrence avenue; thence crossing St. Lawrence avenue, Brach avenue and Taylor avenue, between Lambe avenue and Patterson avenue; thence crossing Patterson avenue at or near its intersection with Thirteenth avenue; thence crossing Leland avenue, between Patterson avenue and O'Brien avenue; thence crossing O'Brien avenue and Gildersleeve avenue, between Leland avenue and Underhill avenue; thence crossing Underhill avenue and Cornell avenue at or near their intersection; thence crossing Bolton avenue, White Plains road, Newman avenue and Steffens avenue, between Cornell avenue and Bronx River avenue; thence crossing Clason Point road, between Stephens avenue and Pugsley avenue; thence crossing Cornell avenue and Pugsley avenue at or near their intersection; thence crossing Hudson avenue, between Gildersleeve avenue and Cornell avenue; thence northerly between Hudson avenue and Betts avenue and crossing Gildersleeve avenue and O'Brien avenue; thence crossing Compton avenue and Pugsley Creek; thence crossing Barret avenue, between Trask avenue and Screevin avenue; thence crossing Screevin avenue, between Lambe avenue and Barret avenue; thence crossing Lambe avenue and Olmstead avenue at or near their intersection; thence crossing Terry avenue, Howe avenue, Castle Hill avenue, Turner avenue, Effingham avenue and Havemeyer avenue; thence crossing Alaire avenue and Farrington avenue, between Randall avenue and Zeriga avenue; thence crossing Zeriga avenue near its intersection with Randall avenue; thence easterly, crossing Westchester Creek, Ferris avenue and Baxter Creek; thence crossing Morris lane near its intersection with Fort Schuyler road; thence crossing Fort Schuyler road and Old Ferry road at or near their intersection; thence between Fort Schuyler road and East River to a point near the United States Government Reservation. All of the above-mentioned streets crossed by said branch line, except Wyatt avenue, Tremont avenue (East One Hundred and Seventy-seventh street), Westchester avenue, Clason Point road, Ferris avenue, Morris lane, Old Ferry road and Fort Schuyler road, are proposed streets, as shown on the City layout of streets.

Sec. 2. The grant of this privilege is subject to the following conditions:

First—All the terms, provisions and conditions contained in the said ordinance approved by the Mayor August 2, 1904, and the said resolution of the Board approved by the Mayor July 21, 1905, shall remain unchanged and shall apply to the routes herein authorized with the same force and effect as when they applied to the routes described in said contract, and as though the routes herein authorized had been specifically described in said contract, except as follows:

1. Section 1 of the said ordinance is hereby amended by striking out therefrom the words, "Except the overhead trolley system."

2. The description of the route as hereby amended and described above shall be substituted for the description of the route as contained in the ordinance approved by the Mayor August 2, 1904, and as contained in the resolution of the Board approved by the Mayor July 21, 1905.

3. Section 1, paragraph third, general, of the said ordinance is hereby amended by striking out therefrom the words, "One thousand (1,000)

feet," and substituting therefor the words, "Two thousand five hundred (2,500) feet." The said Westchester Company is hereby permitted to make the following two connections under this section:

#### Connection With the Present Subway-Elevated Roads at West Farms Road.

Beginning at a point on the main line of the New York, Westchester and Boston Railway Company at or near Lebanon street; thence running southerly crossing DeVoe avenue and One Hundred and Seventy-ninth street at or near their intersection; thence crossing Bronx street at or near its intersection with Walker avenue; thence crossing Walker avenue, between Bronx street and Boston road; thence crossing West Farms road, between Boston road and Rodman place; thence to a connection with the Interborough Rapid Transit Railroad on Boston road, between Bryant and Tremont avenues.

#### Connection With the Projected Southern Boulevard and Westchester Avenue Subway Route.

Beginning at a point on the main line of the New York, Westchester and Boston Railway Company, between Westchester avenue and One Hundred and Seventy-fourth street, and running southerly and crossing One Hundred and Seventy-second street and Edgewater road; thence to a connection with the proposed Broadway-Lexington avenue subway at or near the intersection of Westchester avenue and Home street, all as shown on a map entitled:

#### Survey Map and Profile of the New York, Westchester and Boston Railway Company, for New York County, New York, Section 1, Section 2 and Section 3.

— adopted by the Board of Directors of said company on the 17th day of June, 1908, and signed by Allen Wardell, president; Mac Moulton, chief engineer, and Ralph Polk Buell, secretary, under the seal of the corporation, which map and profile were filed in the office of the County Clerk of the County of New York on the said 17th day of June, 1908, or any lawful amendment thereof which may be consented to by the Board of Estimate and Apportionment, or its successors in authority.

4. Section 2, clause fifteenth, of the said ordinance is hereby amended by striking out therefrom the words, "Except the overhead trolley system."

5. Section 2, clause sixteenth, of the said ordinance shall be stricken out and the following substituted therefor:

"In any conduits laid by the company, or on any poles erected by the company for the transmission of power for its own use, provision shall be made to carry three cables for the use of the police, fire and ambulance service of the City without charges therefor."

6. Section 5, paragraph 1, of the said ordinance is hereby amended to read as follows:

"Said railroad company shall commence actual construction within one year from the date of the signing of this ordinance by the Mayor, and shall complete a four-track railroad upon the main line, from the northerly line of the City as far south as East One Hundred and Seventy-fourth street, by the ad day of August, 1913, otherwise this grant shall cease and determine."

7. Section 5, paragraph 4, of the said ordinance shall be stricken out and the following substituted therefor:

"Any portion of the route covered by this grant which shall not be completed and in full operation prior to the second day of August, 1913, shall be deemed to have been abandoned and all rights hereby granted in and to such portions of said railway shall cease and determine, except that south of One Hundred and Seventy-fourth street, if the railway company shall have constructed less than four tracks within said period, it shall only be deemed to have abandoned its right to construct any additional tracks south of One Hundred and Seventy-fourth street. And in the event that the said railway company shall not, prior to the ad day of August, 1913, construct its main line south of One Hundred and Seventy-fourth street and to the Harlem River, the Board of Estimate and Apportionment, or its successors in office, may fix and finally determine such additional compensation as shall be imposed upon said railway company because of such failure."

Second—The Westchester Company hereby agrees to assume all liability to any person or company by reason of the execution of this contract by the City, and it is a condition of this contract that the City shall assume no liability whatsoever, either to persons or companies, on account of the same, and the Westchester Company hereby agrees to repay to the City any damage which the City may be compelled to pay by reason of this contract.

Sec. 3. The Westchester Company covenants and agrees to abandon and relinquish and does hereby abandon and relinquish to the City all of its rights and franchises to construct, maintain and operate a railroad in, upon or across the streets on the portions of the route described in the said ordinance approved by the Mayor August 2, 1904, as amended by the ordinance approved by the Mayor July 21, 1905, and which are not covered by the description of the new and amended route as herein described, and which are not shown on the map of the amended route dated June 17, 1908, entitled "Survey map and profile of the New York, Westchester and Boston Railway Company for New York County, New York, Section 1, Section 2 and Section 3," which map was filed in the office of the County Clerk of New York County on June 17, 1908.

Sec. 4. The Westchester Company promises, covenants and agrees, on its part and behalf, to conform to and abide by all the terms, conditions and requirements in this contract fixed and contained.

In witness whereof, the party of the first part, by its Mayor, thereto duly authorized by the Board of Estimate and Apportionment of said City, has caused the corporate seal of said City to be hereunto affixed, and the party of the second part, by its officers, thereto duly authorized, has caused its corporate name to be hereunto signed and its corporate seal to be hereunto affixed the day and year first above written.

#### THE CITY OF NEW YORK.

By..... Mayor.

[CORPORATE SEAL.]

Attest:..... City Clerk.

NEW YORK, WESTCHESTER

AND BOSTON RAILWAY

COMPANY.

By..... President.

[SEAL.]

Attest:..... Secretary.

Resolved, That the results of the inquiry made by this Board as to the money value of the proposed ordinance, and the adequacy of the compensation proposed to be paid therefor, and of the terms and conditions, are as specified and fully set forth in the said ordinance approved by the Mayor August 2, 1904, as amended by the foregoing form of proposed contract for the consent of such modifications and alterations.

Resolved, That these covenants and resolutions, including said resolution for the consent of the City of New York to the modifications and alterations as applied for by the New York, Westchester and Boston Railway Company, and said form of proposed contract for the grant of

said franchise or right containing said results of such inquiry, after the same shall be entered in the minutes of this Board, shall be published for at least twenty (20) days immediately prior to November 13, 1908, in the City Record, and at least twice during the ten days immediately prior to November 13, 1908, in two daily newspapers to be designated by the Mayor therefor, and published in The City of New York, at the expense of the New York, Westchester and Boston Railway Company, together with the following notice, to wit:

Notice is hereby given that the Board of Estimate and Apportionment, before authorizing any contract for the consent of the City to certain modifications and alterations in the routes of the New York, Westchester and Boston Railway Company, as granted by ordinance of the Board of Aldermen, approved by the Mayor August 2, 1904, and amended by resolution of the Board of Estimate and Apportionment, approved by the Mayor July 21, 1905, and for the consent of the City to certain modifications in the terms and conditions of the said ordinance, such modifications and alterations being fully set forth and described in the foregoing form of proposed contract for the grant of such franchise or right, and before adopting any resolution authorizing any such contract, will, at a meeting of said Board, to be held in the Old Council Chamber, in the City Hall, Borough of Manhattan, City of New York, on November 13, 1908, at 10:30 o'clock a.m., hold a public hearing thereon, at which citizens shall be entitled to appear and be heard.

JOSEPH HAAG,

Secretary.

Dated New York, October 2, 1908.

11918

#### OFFICIAL PAPERS.

Morning—"The Sun," "The New York Times"  
Evening—"The Globe," "The Evening Mail"  
Weekly—"Democracy," "Tribune and Times"  
German—"Staats-Zeitung."

Designated by the Board of City Record, January 22, 1906. Amended March 1, 1906, November 20, 1906; February 20, 1907, and March 3, 1908.

#### DEPARTMENT OF PARKS.

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS WILL BE RECEIVED BY the Park Commissioner at the above office of the Department of Parks until 12 o'clock m. on

FRIDAY, NOVEMBER 20, 1908.

FOR THE PRIVILEGE OF SELLING LIGHT REFRESHMENTS (SPIRITUOUS LIQUORS EXCEPTED), IN THE PAVILION IN RATTERTY PARK.

No bids will be considered unless accompanied by a certified check or money to the amount of one-quarter of the sum bid for the rent and privilege per year, which amount will be retained from the successful bidder, and such portion applied to the final period of the term, or any default in payment before that time.

The bids will be compared and the privilege will be awarded to the highest responsible bidder.

The Commissioner reserves the right to reject any or all bids.

Form of proposal and full information as to bidding can be obtained at the office of the Department of Parks, the Arsenal, Central Park, New York City.

HENRY SMITH, Commissioner of Parks, Boroughs of Manhattan and Richmond.

11918

See General Instructions to Bidders on the last page, last column, of the "City Record."

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS WILL BE RECEIVED BY the Park Commissioner at the above office of the Department of Parks until 12 o'clock m. on

FRIDAY, NOVEMBER 20, 1908.

FOR THE PRIVILEGE OF LETTING SKATES AND CHAIRS ON THE POND, CENTRAL PARK, NEAR FIFTY-NINTH STREET AND FIFTH AVENUE; THE LAKE, CENTRAL PARK, NEAR SEVENTY-SECOND STREET AND EIGHTH AVENUE; THE HARLEM MERE, CENTRAL PARK, NEAR ONE HUNDRED AND TENTH STREET AND LENOX AVENUE.

The successful bidder will be required to furnish a portable house about 20 by 30 feet, for storing of skates and chairs at the lake, of a design to be approved by the Department of Parks.

ALSO FOR THE PRIVILEGE OF SELLING REFRESHMENTS (SPIRITUOUS LIQUORS EXCEPTED), CHECKING COATS, WRAPS, ETC., IN THE SKATE BUILDING AT THE HARLEM MERE, AND AT THE POND DURING THE WINTER SEASON OF 1908-1909.

No bids will be considered unless accompanied by a certified check or money to the amount of the sum bid for the rent and privilege for the season.

The bids will be compared and the

The bids will be compared and the privilege will be awarded to the highest responsible bidder. The Commissioner reserves the right to reject any or all bids.

Form of proposal and full information as to bidding can be obtained at the office of the Department of Parks, Zbrowski Mansion, Claremont Park, New York City.

JOSEPH L. BERRY, Commissioner of Parks, Borough of The Bronx.

n10.21

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ZBROWSKI MANSION, CLAREMONT PARK, BOROUGH OF THE BRONX.

SEALED BIDS WILL BE RECEIVED BY the Park Commissioner at the above office of the Department of Parks until 12 o'clock m. on

SATURDAY, NOVEMBER 21, 1908.

FOR THE RENTAL OF SMALL BUILDINGS AND THE SOLE PRIVILEGE OF SELLING REFRESHMENTS, SPIRITUOUS AND MALT LIQUORS EXCEPTED, AND RENTING BATHING SUITS NEAR BATH HOUSES AT ORCHARD BEACH, PELHAM BAY PARK.

No bids will be considered unless accompanied by a certified check or money to the amount of one-quarter of the sum bid for the rent and privilege per year.

The bids will be compared and the privilege will be awarded to the highest responsible bidder.

The Commissioner reserves the right to reject any or all bids.

Form of proposal and full information as to bidding can be obtained at the office of the Department of Parks, Zbrowski Mansion, Claremont Park, New York City.

JOSEPH L. BERRY, Commissioner of Parks, Borough of The Bronx.

n10.22

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ZBROWSKI MANSION, CLAREMONT PARK, BOROUGH OF THE BRONX.

SEALED BIDS WILL BE RECEIVED BY the Park Commissioner at the above office of the Department of Parks until 12 o'clock m. on

SATURDAY, NOVEMBER 21, 1908.

FOR THE RENTAL OF BUILDINGS KNOWN AS SKATE HOUSE, AT INDIAN POND, AND PAGODA, NEAR MUSIC STAND, CROTONA PARK, AND THE PRIVILEGE OF SELLING REFRESHMENTS, SPIRITUOUS AND MALT LIQUORS EXCEPTED, THEREIN.

No bids will be considered unless accompanied by a certified check or money to the amount of one-quarter of the sum bid for the rent and privilege per year.

The bids will be compared and the privilege will be awarded to the highest responsible bidder.

The Commissioner reserves the right to reject any or all bids.

Form of proposal and full information as to bidding can be obtained at the office of the Department of Parks, Zbrowski Mansion, Claremont Park, New York City.

JOSEPH L. BERRY, Commissioner of Parks, Borough of The Bronx.

n10.23

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ZBROWSKI MANSION, CLAREMONT PARK, BOROUGH OF THE BRONX.

SEALED BIDS WILL BE RECEIVED BY the Park Commissioner at the above office of the Department of Parks until 12 o'clock m. on

SATURDAY, NOVEMBER 21, 1908.

FOR THE RENTAL OF BUILDING AND SHEDS KNOWN AS THE TALLAPOOSA CLUB IN PELHAM BAY PARK, AND THE PRIVILEGE OF SELLING REFRESHMENTS, INCLUDING SPIRITUOUS AND MALT LIQUORS.

No bids will be considered unless accompanied by a certified check or money to the amount of one-quarter of the sum bid for the rent and privilege per year.

The bids will be compared and the privilege will be awarded to the highest responsible bidder.

The Commissioner reserves the right to reject any or all bids.

Form of proposal and full information as to bidding can be obtained at the office of the Department of Parks, Zbrowski Mansion, Claremont Park, New York City.

JOSEPH L. BERRY, Commissioner of Parks, Borough of The Bronx.

n10.24

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

## AUCTION SALE.

THE DEPARTMENT OF PARKS, BOROUGH OF THE BRONX, will sell at public auction, at the Zbrowski Mansion, in Claremont Park, in the Borough of The Bronx, on

THURSDAY, NOVEMBER 19, 1908,

at 12 m., the following named property: TIMBER AND WOOD OF DEAD TREES—PRINCIPALLY CHESTNUT AND OAK—IN PARKS, BOROUGH OF THE BRONX.

Timber to be sold by the one hundred cubic feet; wood by the cord; measured on the premises prior to removal.

Trees will be cut down by the Park Department, but shall be cut up and removed by the purchaser; and the brush and other debris properly disposed of by him, without damage to surrounding trees and shrubbery. Timber and wood to be removed from park premises, and the brush disposed of within ten days from time of notice that the trees have been felled.

## TERMS OF SALE.

Cash payments in bankable funds at the time the articles purchased are to be removed. If the purchaser fails to effect removal of the articles purchased within ten days from the date of notice that the trees have been felled and are ready to be removed, he shall forfeit his purchase money and the ownership of the articles purchased. The City further reserves the right to sell the articles over again; the money received at said sale is to also become the property of the City.

Full information relative to bidding, location of trees to be cut, etc., can be obtained at the

office of the Department of Parks, Zbrowski Mansion, Claremont Park, New York City.

JOSEPH L. BERRY,

Commissioner of Parks, Borough of The Bronx.

n10.25

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 19, 1908.  
Borough of Manhattan.

FOR FURNISHING AND ERICING THREE-RAIL PIPE FENCES ALONG THE EAST DRIVE IN CENTRAL PARK, NORTH FROM THE FIFTY-NINTH STREET ENTRANCE, IN THE BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

The time allowed for the completion of the whole work will be thirty (30) consecutive working days.

The amount of the security required is Seven Hundred and Fifty Dollars (\$750).

The contracts must be bid for separately.

The bids will be compared and the contract awarded at a lump or aggregate sum.

Plans may be seen and blank forms may be obtained at the office of the Department of Parks, Borough of Manhattan, Arsenal, Central Park.

HENRY SMITH, President;  
JOSEPH L. BERRY,  
MICHAEL J. KENNEDY,  
Commissioners of Parks.

Dated November 7, 1908.

n10.26

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 19, 1908.  
Borough of Brooklyn.

FOR REGULATING, GRADING AND PAVING OR REPAVING WITH ASPHALT PAVEMENT ON A FOUNDATION OF CONCRETE THE ROADWAY OF McLAUGHLIN PARK, BETWEEN BRIDGE AND JAY STREETS, BOROUGH OF BROOKLYN.

The time for the completion of the contract is thirty (30) days.

The amount of security required is One Thousand Dollars (\$1,000).

The bids will be compared and the contract awarded at a lump or aggregate sum.

Blank forms may be obtained and plans may be seen at the office of the Department of Parks, Litchfield Mansion, Prospect Park, Brooklyn.

HENRY SMITH, President;  
JOSEPH L. BERRY,  
MICHAEL J. KENNEDY,  
Commissioners of Parks.

n10.27

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 19, 1908.

Borough of Brooklyn.

FOR FURNISHING AND DELIVERING STABLE MANURE IN PARKS OF THE BOROUGH OF BROOKLYN.

The time for the completion of the contract is within sixty (60) consecutive working days.

The amount of security required is Two Thousand Dollars (\$2,000).

No. 1. FOR FURNISHING AND DELIVERING TOPSOIL OR GARDEN MOULD TO PROSPECT PARK, ETC., BOROUGH OF BROOKLYN.

The time for the completion of the contract is within sixty (60) consecutive working days.

The amount of security required is Twenty-Five Hundred Dollars (\$2,500).

No. 2. FOR FURNISHING AND DELIVERING DECIDUOUS SHRUBS AND PLANTS IN PROSPECT PARK, BOROUGH OF BROOKLYN.

The time for the completion of the contract is within sixty (60) consecutive working days.

The amount of security required is Fifteen Hundred Dollars (\$1,500).

No. 3. FOR FURNISHING AND DELIVERING HYBRID RHODODENDRONS, ETC., IN PROSPECT PARK, BOROUGH OF BROOKLYN.

The time for the completion of the contract is within twenty (20) consecutive working days.

The amount of security required is One Thousand Dollars (\$1,000).

No. 4. FOR FURNISHING AND DELIVERING COLLECTED EVERGREEN SHRUBS IN PROSPECT PARK, BOROUGH OF BROOKLYN.

The time for the completion of the contract is within forty (40) consecutive working days.

The amount of security required is Three Thousand Dollars (\$3,000).

No. 5. FOR FURNISHING AND DELIVERING FERTILIZERS, PEAT, ETC., IN PARKS, BOROUGH OF BROOKLYN.

The time for the completion of the contract is within sixty (60) consecutive working days.

The amount of security required is Two Thousand Dollars (\$2,000).

The contracts must be bid for separately.

The bids will be compared and the contracts awarded at a lump or aggregate sum for each contract.

Blank forms may be obtained and samples may be seen at the office of the Department of Parks, Litchfield Mansion, Prospect Park, Brooklyn.

HENRY SMITH, President;

JOSEPH L. BERRY,

MICHAEL J. KENNEDY,  
Commissioners of Parks.

n10.28

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 19, 1908.

FOR EXCAVATING AND DISPOSING OF EARTH OR OTHER MATERIALS, AND FURNISHING IN PLACE THEREOF GOOD GARDEN MOLD IN THE PARKS ON BROADWAY, BETWEEN SEVENTY-THIRD AND EIGHTY-SIXTH STREETS, IN THE BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

S SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 12, 1908.  
Borough of Manhattan.

FOR EXCAVATING AND DISPOSING OF EARTH OR OTHER MATERIALS, AND FURNISHING IN PLACE THEREOF GOOD GARDEN MOLD IN THE PARKS ON BROADWAY, BETWEEN SEVENTY-THIRD AND EIGHTY-SIXTH STREETS, IN THE BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

The time allowed for the completion of the whole work will be forty consecutive working days.

The amount of the security required is Four Thousand Dollars (\$4,000).

The contracts must be bid for separately.

The bids will be compared and the contract awarded at a lump or aggregate sum.

Plans may be seen and blank forms may be obtained at the office of the Department of Parks, Borough of Manhattan, Arsenal, Central Park.

HENRY SMITH, President;  
JOSEPH L. BERRY,  
MICHAEL J. KENNEDY,  
Commissioners of Parks.

Dated October 31, 1908.

n10.29

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 12, 1908.  
Borough of Manhattan.

FOR PAVING WITH ASPHALT TILES THE ENDS OF THE PARKS IN BROADWAY, BETWEEN NINETY-FIFTH AND ONE HUNDRED AND TENTH STREETS, IN THE BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

The time allowed for the completion of the whole work will be thirty (30) consecutive working days.

The amount of the security required is Thirteen Hundred Dollars (\$1,300).

The contracts must be bid for separately.

The bids will be compared and the contract awarded at a lump or aggregate sum.

Plans may be seen and blank forms may be obtained at the office of the Department of Parks, Borough of Manhattan, Arsenal, Central Park.

HENRY SMITH, President;  
JOSEPH L. BERRY,  
MICHAEL J. KENNEDY,  
Commissioners of Parks.

Dated October 29, 1908.

n10.30

*See General Instructions to Bidders on the last page, last column, of the "City Record."*

OFFICE OF THE DEPARTMENT OF PARKS, ARSENAL BUILDING, FIFTH AVENUE AND SIXTY-FOURTH STREET, BOROUGH OF MANHATTAN, THE CITY OF NEW YORK.

SEALED BIDS OR ESTIMATES WILL BE received by the Park Board at the above office of the Department of Parks until 3 o'clock p. m. on

THURSDAY, NOVEMBER 12, 1908.  
Borough of Manhattan.

FOR ALL LABOR AND MATERIALS REQUIRED FOR FURNISHING AND SETTING AUDITORIUM CHAIRS IN THE LECTURE HALL OF THE NEW ADDITION (E) OF THE METROPOLITAN MUSEUM OF ART, LOCATED IN CENTRAL PARK, ON THE WEST SIDE OF FIFTH AVENUE, OPPOSITE EIGHTY-THIRD STREET, BOROUGH OF MANHATTAN.

The time allowed to complete the whole work will be sixty (60) consecutive working days.

The amount of security required is Two Thousand Dollars (\$2,000).

The contracts must be bid for separately.

The bids will be compared and the contract awarded at a lump or aggregate sum.

Plans may be seen and blank forms may be obtained at the office of the Department of Parks, Borough of Manhattan, Arsenal, Central Park.

HENRY SMITH, President;  
JOSEPH L. BERRY,  
MICHAEL J. KENNEDY,  
Commissioners of Parks.

Dated October 29, 1908.

n10.31

Fourth—That, provided there be no objections filed to either of said abstracts, our final report herein will be presented for confirmation to the Supreme Court of the State of New York, First Department, at a Special Term thereof, Part III, to be held at the County Court House in the Borough of Manhattan, in The City of New York, on the 28th day of January, 1909, at the opening of the Court on that day.

Fifth—in case, however, objections are filed to either of said abstracts of estimate and assessment, the notice of motion to confirm our final report herein will stand adjourned to the date to be hereafter specified, and of which notice will be given to all those who have theretofore appeared in this proceeding, as well as by publication in the City Record, pursuant to sections 981 and 984 of the Greater New York Charter, as amended by chapter 638 of the Laws of 1906.

Dated Borough of Manhattan, New York, July 10, 1908.

JULIUS HEIDERMAN,  
 Chairman;

THOMAS J. MAGUIRE,  
 Commissioners;

JOHN P. DUX, Clerk.

n.1.28

#### FIRST DEPARTMENT.

In the matter of the application of The City of New York, relative to amending its application heretofore made in the matter of acquiring title in fee, wherever the same has not been heretofore acquired, to the lands and premises required for the opening and extending of HULL AVENUE, PERRY AVENUE and NORWOOD (Decatur) AVENUE, in the Twenty-fourth Ward, Borough of The Bronx, City of New York.

PURSUANT TO THE STATUTES IN SUCH cases made and provided, notice is hereby given that an application will be made to the Supreme Court of the State of New York, First Department, at a Special Term of said Court, to be held at Part III, thereof, in the County Court House in the Borough of Manhattan, in The City of New York, on Tuesday, the 17th day of November, 1908, at the opening of the Court on that day, or as soon thereafter as counsel can be heard thereon, for an order amending and extending the proceeding entitled "In the matter of the application of The City of New York relative to acquiring title in fee, wherever the same has not been heretofore acquired, to the lands and premises required for the opening and extending of THE PUBLIC PARK (although not yet named by proper authority), bounded by Southern boulevard, Pelham avenue and Crotona avenue, in the Twenty-fourth Ward, Borough of The Bronx, City of New York."

Dated Borough of Manhattan, New York, October 28, 1908.

FRANCIS V. S. OLIVER,  
 STEPHEN J. NAVIN, JR.,  
 BRYAN REILLY,  
 Commissioners.

JOHN P. DUX,

Clerk.

n.1.14

#### SUPREME COURT—SECOND DEPARTMENT.

##### SECOND DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, to the lands and premises required for the opening and extending of POTTER AVENUE (although not yet named by proper authority), from East River to Clarendon street and from Rapley avenue to Flushing avenue, in the First Ward, Borough of Queens, in The City of New York.

NOTICE IS HEREBY GIVEN THAT THE final report of the Commissioners of Estimate and Assessment in the above-entitled matter will be presented for confirmation to the Supreme Court of the State of New York, Second Department, at a Special Term thereof, for the hearing of motions, to be held in the County Court House, in the Borough of Brooklyn, in The City of New York, on the 13th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon, and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of New York, there to remain for and during the space of ten days, as required by the provisions of section 902 of the Greater New York Charter as amended by chapter 466 of the Laws of 1906.

Dated Borough of Manhattan, New York, November 4, 1908.

FRANCIS K. PENDLETON,  
 Corporation Counsel.

Hall of Records, Borough of Manhattan, City of New York.

n.1.17

#### FIRST DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, for the same purpose in fee, to the lands, tenements and hereditaments required for the opening and extending of WEST ONE HUNDRED AND SIXTY-THIRD STREET, between Amsterdam avenue and St. Nicholas avenue, in the Twelfth Ward, Borough of Manhattan, City of New York.

NOTICE IS HEREBY GIVEN THAT THE bill of costs, charges and expenses incurred by reason of the proceedings in the above-entitled matter, will be presented for taxation to one of the Justices of the Supreme Court of the State of New York, First Department, at a Special Term thereof, Part I, to be held at the County Court House, in the Borough of Manhattan, in The City of New York, on the 15th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon, and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of New York, there to remain for and during the space of ten days, as required by law.

Dated Borough of Manhattan, New York, November 4, 1908.

JOHN C. FITZGERALD,  
 PHILIP F. DONCHUE,  
 Commissioners of Estimate;

JOHN C. FITZGERALD,  
 Commissioners of Assessment.

JOHN P. DUX,  
 Clerk.

n.1.17

#### FIRST DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, for the same purpose in fee, to the lands, tenements and hereditaments required for the opening and extending of the FIFTH NEW STREET north of West One Hundred and Eighty-first street (Watkins place), extending from Broadway to the first new

avenue west of Broadway (Bennett avenue), in the Twelfth Ward, Borough of Manhattan, City of New York.

NOTICE IS HEREBY GIVEN THAT THE bill of costs, charges and expenses incurred by reason of the proceedings in the above-entitled matter will be presented for taxation to one of the Justices of the Supreme Court of the State of New York, First Department, at a Special Term thereof, Part I, to be held at the County Court House, in the Borough of Manhattan, in The City of New York, on the 17th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon; and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of New York, there to remain for and during the space of ten days, as required by law.

Dated Borough of Manhattan, New York, November 4, 1908.

HARVEY WATTERSON,  
 JAMES SHELTON MENG,  
 GUSTAV LANGE, JR.,  
 Commissioners of Estimate.

HARVEY WATTERSON,  
 Commissioner of Assessment.

JOHN P. DUX,  
 Clerk.

n.1.14

##### FIRST DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, to the lands, tenements and hereditaments required for the opening and extending of THE PUBLIC PARK (although not yet named by proper authority), bounded by Southern boulevard, Pelham avenue and Crotona avenue, in the Twenty-fourth Ward, Borough of The Bronx, City of New York.

NOTICE IS HEREBY GIVEN THAT THE bill of costs, charges and expenses incurred by reason of the proceedings in the above-entitled matter will be presented for taxation to one of the Justices of the Supreme Court of the State of New York, First Department, at a Special Term thereof, Part I, to be held at the County Court House, in the Borough of Manhattan, in The City of New York, on the 17th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon; and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of New York, there to remain for and during the space of ten days, as required by the provisions of section 902 of the Greater New York Charter as amended by chapter 466 of the Laws of 1906.

Dated Borough of Manhattan, New York, November 4, 1908.

FRANCIS V. S. OLIVER,  
 STEPHEN J. NAVIN, JR.,  
 BRYAN REILLY,  
 Commissioners.

JOHN P. DUX,  
 Clerk.

n.1.14

#### SUPREME COURT—SECOND DEPARTMENT.

##### SECOND DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, to the lands and premises required for the opening and extending of HENRY STREET, from Ocean parkway to East Eighth street, in the Twenty-ninth Ward, in the Borough of Brooklyn, The City of New York, as the same has been heretofore laid out.

NOTICE IS HEREBY GIVEN THAT THE bill of costs, charges and expenses incurred by reason of the proceedings in the above-entitled matter will be presented for taxation to one of the Justices of the Supreme Court of the State of New York at a Special Term thereof, to be held for the hearing of motions, at the Kings County Court House in the Borough of Brooklyn, in The City of New York, on the 16th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon; and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of Kings, there to remain for and during the space of ten days, as required by the provisions of section 902 of title 4 of chapter 17, of chapter 378 of the Laws of 1897, as amended by chapter 466 of the Laws of 1906.

Dated Borough of Brooklyn, New York, November 4, 1908.

DAVID HURSHFIELD,  
 A. L. NOVA,  
 CHAS. E. FISKE,  
 Commissioners.

CHAS. E. FISKE,  
 Commissioner of Assessment.

JAMES F. QUIGLEY,  
 Clerk.

n.1.14

said City, there to remain until the 30th day of November, 1908.

Third—That the limits of our assessment for benefit include all those lands, tenements and hereditaments and premises situate, lying and being in the Borough of Queens, in The City of New York, which, taken together, are bounded and described as follows, viz.:

Beginning at a point formed by the intersection of the northerly line of Jackson avenue with the middle line of the blocks between Brill street and Bartow street; running thence northerly along said middle line to its intersection with the southerly line of Flushing avenue; thence westerly along said southerly line to its intersection with the middle line of the blocks between Brill street and Rapley street; thence southerly along said middle line to its intersection with the northerly line of Jackson avenue; thence easterly along said northerly line to the point or place of beginning, as such area is shown upon our benefit maps deposited as aforesaid.

Fourth—That, provided there be no objections filed to either of said abstracts, our final report herein will be presented for confirmation to the Supreme Court of the State of New York, Second Department, at a Special Term thereof, for the hearing of motions, to be held in the County Court House in the Borough of Brooklyn, in The City of New York, on the 3d day of March, 1909, at the opening of the Court on that day.

Fifth—in case, however, objections are filed to any of said abstracts of estimate and assessment, the notice of motion to confirm our final report herein will stand adjourned to the date to be hereafter specified, and of which notice will be given to all those who have theretofore appeared in this proceeding, as well as by publication in the City Record, pursuant to sections 981 and 984 of the Greater New York Charter, as amended by chapter 466 of the Laws of 1906.

Dated Borough of Manhattan, New York, October 28, 1908.

EDWARD J. BYRNE,  
 Chairman;  
 EDMUND F. DRIGGS,  
 Commissioners.

JOHN P. DUX,  
 Clerk.

n.1.14

#### SECOND DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title to the lands, tenements and hereditaments required for the purpose of opening and extending HENRY STREET, from Ocean parkway to East Eighth street, in the Twenty-ninth Ward, in the Borough of Brooklyn, The City of New York, as the same has been heretofore laid out.

NOTICE IS HEREBY GIVEN THAT THE bill of costs, charges and expenses incurred by reason of the proceedings in the above-entitled matter will be presented for taxation to one of the Justices of the Supreme Court of the State of New York at a Special Term thereof, to be held for the hearing of motions, at the Kings County Court House in the Borough of Brooklyn, in The City of New York, on the 16th day of November, 1908, at 10:30 o'clock in the forenoon of that day, or as soon thereafter as counsel can be heard thereon; and that the said bill of costs, charges and expenses has been deposited in the office of the Clerk of the County of Kings, there to remain for and during the space of ten days, as required by the provisions of section 902 of title 4 of chapter 17, of chapter 378 of the Laws of 1897, as amended by chapter 466 of the Laws of 1906.

Dated Borough of Brooklyn, New York, November 4, 1908.

DAVID HURSHFIELD,  
 A. L. NOVA,  
 CHAS. E. FISKE,  
 Commissioners.

CHAS. E. FISKE,  
 Commissioner of Assessment.

JAMES F. QUIGLEY,  
 Clerk.

n.1.14

#### SECOND DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title in fee to REMSEN STREET, from the westerly terminus of the street as now in use and improved to Burnside street, in the First Ward, in the Borough of Brooklyn, The City of New York.

NOTICE IS HEREBY GIVEN THAT Charles H. Kelly, Julian D. Fairchild and Leroy W. Ross were appointed by an order of the Supreme Court, made and entered the 14th day of October, 1908, Commissioners of Estimate, and Julian D. Fairchild, Commissioner of Assessment, in the above-entitled proceeding.

Notice is also given, that the above-named Commissioners will attend at a Special Term for the hearing of motions, apportioned to be held at the Kings County Court House, in the Borough of Brooklyn, The City of New York, on the 16th day of November, 1908, on the opening of the Court on that day, or as soon thereafter as counsel can be heard; and at said time and place, or at such other time and place as the Court may direct, the said Commissioners may be examined under oath as to their qualifications to act, and are subject to challenge by any party or person interested in this proceeding, as provided by section 902 of title 4 of chapter 17 of the Charter of The City of New York.

Dated New York, Borough of Brooklyn, October 31, 1908.

FRANCIS K. PENDLETON,  
 Corporation Counsel.

n.1.14

#### SECOND DEPARTMENT.

In the matter of the application of The City of New York, relative to acquiring title, wherever the same has not been heretofore acquired, to the lands, tenements and hereditaments required for the opening and extending of FORTY-THIRD STREET, from New Utrecht avenue to West street, in the Twenty-ninth and Thirtieth Wards, Borough of Brooklyn, The City of New York.

WE, THE UNDERSIGNED, Commissioners of Estimate and Assessment in the above-entitled matter, hereby give notice to all persons interested in this proceeding, and to the owner or owners, occupant or occupants of all houses and lots and improved and unimproved lands affected thereby, and to all others whom it may concern, to wit:

First—That we have completed our estimate and assessment, and that all persons interested in this proceeding, ut in any of the lands, tenements and hereditaments and premises affected thereby, and having objections thereto, do present their said objections in writing, duly verified, to us at our office, No. 252 Jackson avenue, in the Borough of Queens, in The City of New York, on or before the 29th day of November, 1908, and that we, the said Commissioners, will hear parties so objecting, and for that purpose will be in attendance at our said office on the 1st day of December, 1908, at 10:30 o'clock a. m.

Second—That the abstracts of our said estimate and assessment, together with our damage and benefit maps, and also all the affidavits, estimates, proofs and other documents used by us in making the same, have been deposited in the Bureau of Street Openings in the Law Department of The City of New York, No. 252 Jackson avenue, in the Borough of Queens, in The City of New York.

First—That we have completed our amended and supplemental estimate and assessment, and that all persons interested in this proceeding, or in any of the lands, tenements and hereditaments and premises affected thereby, and having objections thereto, do present their said objections in writing, duly verified, to us at our office, No.

66 Montague street, in the Borough of Brooklyn, in The City of New York, on or before the 16th day of November, 1908, and that we, the said Commissioners, will hear parties so objecting, and for that purpose will be in attendance at our said office on the 18th day of November, 1908, at 10:30 o'clock p. m.

Second—That the abstracts of our said amended and supplemental estimate and assessment, together with our damage and benefit maps, and also all the affidavits, estimates, proofs and other documents used by us in making the same, have been deposited in the Bureau of Street Openings in the Law Department of The City of New York, No. 66 Montague street, in the Borough of Brooklyn, in The City of New York, on or before the 16th day of November, 1908, and that we, the said Commissioners, will hear parties so objecting, and for that purpose will be in attendance at our said office on the 18th day of November, 1908, at 10:30 o'clock p. m.

Third—That the limits of our assessment for benefit include all those lands, tenements and hereditaments and premises situate, lying and being in the Borough of Brooklyn, in The City of New York, which, taken together, are bounded and described as follows, viz.:

Beginning at a point formed by the intersection of the westerly line of West street and the centre line of the blocks between Forty-fourth street and Forty-third street, and running thence northerly along said centre line to its intersection with the easterly line of New Utrecht avenue; thence northerly along said easterly line to the point or place of beginning, as such area is shown on our benefit maps deposited aforesaid.

Fourth—That, provided there be no objections filed to either of said abstracts, our final report herein will be presented for confirmation to the Supreme Court of the State of New York, Second Department, at a Special Term thereof, for the hearing of motions, to be held in the County Court House, in the Borough of Brooklyn, in The City of New York, on the 28th day of December, 1908, at the opening of the Court on that day.

Fifth—in case, however, objections are filed to any of said abstracts of estimate and assessment, the notice of motion to confirm our final report herein will stand adjourned to the date to be hereafter specified, and of which notice will be given to all those who have theretofore appeared in this proceeding, as well as by publication in the City Record and in the corporation newspapers, pursuant to sections 981 and 984 of the Greater New York Charter, as amended by chapter 466 of the Laws of 1906.

Dated Borough of Brooklyn, New York, October 20, 1908.

ROSELL H. CARPENTER,  
 Chairman;  
 EDMUND BROWN,  
 Commissioners.

JAMES F. QUIGLEY,  
 Clerk.

n.1.14

#### PROPOSALS FOR BIDS AND ESTIMATES FOR THE CITY OF NEW YORK.

##### NOTICE TO CONTRACTORS.

##### GENERAL INSTRUCTIONS TO BIDDERS.

The person or persons making a bid or estimate for any services, work, materials or supplies for The City of New York, or for any of its departments, bureaus or offices, shall furnish the same in a sealed envelope, indorsed with the name of the supplies, materials, work or services for which the bid or estimate is made, with his or their name or names and the date of presentation to the President or Board or to the head of the Department at his or its office, on or before the date and hour named in the advertisement for the same, at which time and place the estimates received will be publicly opened by the President or Board or head of said Department and read, and the award of the contract made according to law as soon thereafter as practicable.

Each bid or estimate shall contain the name and place of residence of the person making the same, and names of all persons interested with him therein, and, if no other person be so interested, it shall distinctly state that fact; also, that it